1938-1939.

# NEW ZEALAND.

## APPROPRIATIONS

CHARGEABLE ON

# THE CONSOLIDATED FUND

AND

### OTHER ACCOUNTS

FOR THE YEAR ENDING 31st MARCH, 1939.

# INDEX.

# 1938-1939.

				Page		Page
				300	Higher Education	<b>2</b> 31
Actuary's Branch				24	Highways	$\frac{11}{150}$
Adjustment Commissions			• •	107	Horticulture Division, Department of Agriculture.	
Administration and Managemer	nt—Debt			10	House of Representatives	. Iā
Agriculture		• •	• •	152		
Agriculture—				100	Immigration	. 84
Miscellaneous Services		• •	• •	166	Industries and Commerce, Tourist, and Publicity	. 168
Payments under Statutes	• •	• •	• •	165	Inquests	
Air Department Air: Miscellaneous Services	• •	• •	• •	$\begin{vmatrix} 133 \\ 136 \end{vmatrix}$	Inspection of Machinery	
Amortization	• •		• •	9	Insurance, Government Accident Account	200
Amortization Apia Observatory Army Assistance towards Mining	••			196	Insurance, Government Life Account	
Army	• •		• •	125	Insurance, State Fire Account	
Assistance towards Mining	• •		• •	199	Interest	
Audit Department				44	Internal Affairs: Miscellaneous	
Audit Department Aviation: Military				133	Internal Marketing Account	~ ~ ~
				136	Iron and Steel Industry Account	
					Internal Affairs Department Internal Affairs: Miscellaneous Internal Marketing Account Iron and Steel Industry Account Irrigation Works, Maintenance of	* * * *
Bananas, Export of, from Samo	oa.			66	,	
Bankruptcy				104	Justice and Prisons Department	. 102
Bellamy's Broadcasting Account				17	Justice: Miscellaneous Services	* 0.0
Broadcasting Account				305 +		
				)	Labour Dopartment	. 81
Carriage of Mails by Railway				282	Land and Deeds Registry	
Census and Statistics		• •	٠.	99	Land and Income Tax Department	32
Carriage of Mails by Railway Census and Statistics Child Welfare Civil Aviation	• •	• •	• •	237		254
Civil Aviation	• •	••	• •	136	Lands and Survey Department	143
Civil Engineering, Transport D	epartmer		٠.	205	Lands and Survey: Miscellaneous Services	149
Civil List Clerk of Executive Council Commercial Broadcasting	• •	• •	• •	7	Law Drafting Office	. 15
Commercial Proceduresting	• •	• •	• •	$\frac{20}{307}$	Legislative Council	. 14
Conveyance of Inland Mails	• •		• •	281	Legislative: General Expenses	. 18
				281	Lighthouses	. 73
Cook Islands	Lans	• •	• •	66	Lands and Survey Department Lands and Survey: Miscellaneous Services Law Drafting Office Legislative Council Legislative: General Expenses Lighthouses Live-stock Division, Department of Agriculture	156
Coroners		:: •		105		
Country Library Service				242	Magistrates' Courts	. 105
Court of Review				107	Magistrates' Courts	196
Criminal Prosecutions				107	Maintenance of Post and Telegraph Buildings	283
Crown Law Office				$115^{-1}$	Maintenance of Public Buildings	138
Conveyance of Ocean and Air M Cook Islands Coroners Country Library Service Court of Review Criminal Prosecutions Crown Law Office Customs: Miscellaneous Service Customs: Office of Service Outcomes of Service Outcomes of Service Outcomes of Service of Service Outcomes of Service of Ser	es			<b>3</b> 0 ;	Maintenance of Public Works and Services	138
Customs Offices and Services	• •			26	Maintenance of Public Works and Services: Mis-	
					cellaneous Services	
Dairy Division, Department of	Agriculti	ire	٠.	160		$\frac{140}{140}$
Dairy Industry Account Debt Repayment Debt Services	• •			301	Maintenance of Unopened Railway Lines	
Debt Repayment	• •	• •	• •	9	Maintenance of Telegraph and Telephone Lines	969
Debt Services		• •	• •	8	Marine Department	71
Depreciation Fund, Post Office	Account	• •	• •	$\frac{282}{100}$	Material and Stores—Education	241
Dominion Laboratory Dominion Observatory	• •	• •	••	$\begin{array}{c} 190 \\ 192 \end{array}$	"Maui Pomare." N.Z.G.M.V.	. 67
Dominion Observatory	• •	• •	• •	1774	Mental Hospitals	217
Education Department: Head	Office			224	Mercantile Marine	. 75
Education · Miscellaneous Sorv	rione			243	Messengers, Office-keepers, and Charwomen	. 53
Education of the Blind				234	Meteorological Office	. 194
Electoral				97	Military Aviation	. 133
Elementary Education				226 -	Martine Department  Material and Stores—Education  "Maui Pomare," N.Z.G.M.V.  Mental Hospitals  Mercantile Marine  Messengers, Office-keepers, and Charwomen  Meteorological Office  Military Aviation  Mines Department  Mines - Miscellaneous Services	198
Employment Promotion				84	minos: manocenarios as control and a control	
				36	Ministers' Secretaries	. 53
Enforcement, Transport Depart				204	Miscellaneous Services	100
	• •	• •	• •	11	$egin{array}{cccccccccccccccccccccccccccccccccccc$	100
	• •	• •	• •	58	and the second s	0.0
Export of Bananas from Samos		••	• •	66	Customs	0.40
External Affairs	• •	• •	• •	65	Internal Affairs	~0
Fields Division, Department of	Agnioule	370		162	Justice	100
			٠.		Lands and Survey	1.40
	• •	• •	• •	$\begin{bmatrix} 77 \\ 259 \end{bmatrix}$	Maintenance of Public Works and Services	2.43
Friendly Societies Department	• •	• •	• •	251	Mines	200
2 2.0, soore too tropat unem	• •	••	• •	٠,, ١	Native	. 92
General Assembly Library				16	Post and Telegraph	. 283
General Expenses, Legislative I			• •	18	Treasury	25
~		••	• •	193	Mortgagors Relief Act, Expenses under	
Government Accident Insuranc				300	Motor Services and Workshops	283
Government Actuary's Branch				24		
Government Insurance Account				293	National Provident and Friendly Societies De-	•
					partment	. 251
Hansard	• •	••	• •	16	Native Department	
		• •	• •	72	Native: Miscellaneous Services	
		• •	٠.	207	Native Schools Native Trustee's Account	
High Commissioner's Office	, -			57	Native Trustee's Account	= 292

## INDEX—continued.

			Page					Page
Naval Service			120 +	Samoan Estates				66
N.Z.G.M.V. "Maui Pomare"			67	Scenery-preservation				151
New Zealand Reparation Estates			66	School Buildings, Furniture, a	nd Sites			233
Non-Effective Services—Army	• •		132	School for the Deaf				234
To 1 (1) (9)			1.00	Schools for the Feeble-minded				235
Patent Office		٠.	103	Scientific and Industrial Resea		artment		180
Payments on Guaranteed Loans	• •	· •	10	Secondary Education			.,,	229
Payments under Statutes—			165	Securities redeemed				:
Department of Agriculture Pensions and Annuities	• •		249	Cit is the second				•
The second secon	• •	• •	$\frac{249}{245}$	0	• •	• •	• •	
1) (3)	• •	• •	8	Special Acts of the Legislature		• •		11
Total Communication Communicat	• •	• •	233	Stamp Duties Department	• •			39
Plant, Material, and Miscellaneous	Sorvicos		141	State Coal-mines Account				256
Police	JC1 V1CC3		117	State Fire Insurance Account				298
Post and Telegraph Buildings, Mair	itenance of		283	State Forests Account				259
Post and Telegraph: Miscellaneous	Sorviene		283	Summary				
Post and Telegraph Salaries	••		278	Supreme Courts				105
Post and Telegraph Working-expens			278	Survey of Ships				76
Post Office Account			278	startely of samps				• •
Post Primary Education			229					
Primary Education			226	(T. ) . ) T				
Prime Minister's Department			20	Technical Instruction	• •			220
Printing and Stationery			68	Tourist				172
Prisons			110	Training of Teachers				231
Probation Branch (Prisons)			114	Transport Department				-201
Protection of Fish and Oysters			77	Treasury Department				$^{22}$
Public Buildings, Roads, Irrigation	on Works,	and		Treasury: Miscellaneous		, ,		25
Unopened Railway Lines, Mainte	enance of		138	v				
Publicity			172.					
Public Service Commissioner's Office			47					
Public Service Superannuation Fun-	d Account		296	Valuation				94
Public Trustee's Account	• •		286	Vehicle Inspection				203
D. 2 D t			268					
Railways Department	• •	• •	208					
Repayment of Public Debt	• •	• •	108	Wardens' Courts	, .			100
Registrar-General's Office		٠.	181	Weather Reporting Office		• •		194
Did OLI	• •	• •	132	Westport Harbour				79
Roads, Maintenance and Repairs		• •	140	Working Railways Account				268
moads, mannenance and repairs	• •	• •	140	WOLKING DAMWAYS ACCOUNT		• •	• •	<b>∠</b> ∪∩

## 1938-1939.

#### SUMMARY.

ge	Summary of Services chair		n the	Con-	1938	3–39.
į	solidated F		_		Credits-in-aid.	Net Totals.
	CONSOLIDATE	D FUNI	).			
!	ORDINARY REVEN	UE ACC	OUNT		£	£
7	PERMANENT APPROPRIATIO	ws:—		,		30,400
	OIVII LIISU	••	• •	••		
	Debt Services,—					
8	Interest	• •	• •	• •	• •	7,700,068
9 9	Sinking Fund Repayment of Public D	oht.	• •	• •	• •	10,859 $1,782,014$
0 .	Administration and Mar	ene iagement	••	• •	• •	50,450
ŏ	Payments on Guarantee	d Loans	• •			Cr. 150
9	Securities redeemed	• •				1,000
	Under Special Acts of the	Legislatu	re		• •	9,544,236
1	Exchange					1,800,000
1	Highways					3,181,000
1	Other Special Acts		• •		• •	509,714
1						5,490,714
4						15,065,350
4	Annual Appropriations:- Vote, Legislative				1,357	105,060
)	" Prime Minister's I	) epartme	nt			24,395
i	Finance,—					
$2^{-1}$	Vote, Treasury				8,991	47,338
- 6	" Customs				28,740	132,643
2	" Land and Income	Tax			61,640	125,606
9	" Stamp Duties				945	101,276
4	" Audit	• •			35,000	44,950
					135,316	451,813
7 :	General Administration,— Vote, Public Service Con		ar's Off	ice	700	14,720
9	" Internal Affairs			100	119,605	488,104
5 -	" External Affairs				38,000	201,329
8	" Printing and Stati	onery				292,691
1	,, Marine				6,135	179,214
1	" Labour				283,619	105,802
9	" Native				34,730	112,432
4 '	" Valuation	• •	• •		15,800	55,607
7 9 .	" Electoral " Census and Statis	 tiga			$\frac{1,460}{2,200}$	105,769 $36,090$
υ.	" Census and Stans	0103	•			····
:	Law and Order,—				502,249	1,591,758 
2	Vote, Justice and Prison	ıs			83,405	339,641
5	" Crown Law	• •			300	8,282
7	" Police	• •	• •		5,242	621,000
	Dafanaa				88,947	968,923
)	Defence,— Vote, Navy				39,421	802,196
5	,, Army				24,960	703,904
3	" Air			••	52,200	493,900
1					116,581	2,000,000

Appropriations for Consolidated Fund Services and other Accounts.

## SUMMARY—continued.

Page	Summary of Services chargeable on the Con-	1938	8-39.
	solidated Fund—continued.	Credits-in-aid.	Net Totals.
	CONSOLIDATED FUND—continued.		
	ORDINARY REVENUE ACCOUNT—continued.	£	£
İ	ANNUAL APPROPRIATIONS—continued.		
<b>13</b> 8	Maintenance,— Vote, Maintenance of Public Works and Services	1,043,150	668,822
	Development of Primary and Secondary Indus- tries,—		
143	Vote, Lands and Survey	72,000	314,035
$\frac{152}{168}$	,, Agriculture	287,330 48,988	$966,113 \\ 452,908$
	Publicity		
$\frac{180}{198}$	" Scientific and Industrial Research " Mines	54,809 3,050	157,015 $38,000$
201	,, Transport	9,605	80,624
		475,782	2,008,695
207	Social Services,— Vote, Health	65,215	1,379,011
$\frac{207}{217}$	,, Mental Hospitals	219,050	420,960
224	,, Education	294,477	4,069,655
$\frac{245}{251}$	" Pensions	49,650 $5$	$6,911,235 \\ 134,820$
201	cieties		
		628,397	12,915,681
		2,991,779	20,735,147
	TOTAL—ORDINARY REVENUE ACCOUNT	2,991,779	35,800,497
	Summary of Services chargeable on Separate	ŝ	
	Accounts and Accounts outside the Public Account.		
	SEPARATE ACCOUNTS.	A Company	
254	Land for Settlements Account	160	345,000
256	State Coal-mines Account	1,600	388,097
$\frac{259}{268}$	State Forests Account	129,165 $2,043,600$	510,835 9,052,034
	TOTAL—SEPARATE ACCOUNTS	2,174,525	10,295,966
	ACCOUNTS OUTSIDE THE PUBLIC ACCOUNT.		
278	Post Office Account	314,500	3,907,506
286	Public Trustee's Account		361,278
$\frac{292}{202}$	Native Trustee's Account		14,700
293	Government Insurance Account	600 50	295,167 $9,440$
296		19,020	119,290
$\frac{296}{298}$	State Fire Insurance Account	10,000	~~0,~00
$\frac{298}{300}$	Government Accident Insurance Account	50	34,470
$\frac{298}{300}$	Government Accident Insurance Account Dairy Industry Account	50 1,300	$34,470 \\ 52,494$
298 300 301 303	Government Accident Insurance Account Dairy Industry Account Internal Marketing Account	1,300 600	34,470 52,494 54,085
$\frac{298}{300}$	Government Accident Insurance Account Dairy Industry Account	50 1,300	$34,470 \\ 52,494$

## 1938-19**3**9.

## CIVIL LIST.

	1938–39.					
*	Salaries.	Other Charges.	Total.			
	£	£	£			
Civil List Act, 1920 (Part I)—						
His Excellency the Governor-General	5,000	2,500	7,500			
Civil List Act, 1920 (Part II), and Civil List Amendment Act, 1936—						
Establishment of the General Government	14,100	1,800	15,900			
Civil List Act, 1920 (Part V)—		i				
For Native Purposes		7,000	7,000			
TOTAL—CIVIL LIST	19,100	11,300	30,400			

#### PERMANENT CHARGES.

#### DEBT SERVICES—INTEREST.

NEW ZEALAND LOANS ACT, 1932.

Principal.	Rate per Cent.	Maturity Date	e.		Half-yearly due Dates of Interest		Interest: Gross Amount.
£							£
9,659,980	3	1 April, 1945			1 April and 1 October		289,799
1,158,743	3	1 April, 1946	• • •		1 April and 1 October		34,162
502,232	4	1 April, 1946	• •		1 April and 1 October		20,089
8,966,995	4	15 April, 1946-49			15 April and 15 October		358,680
3,989,100	$3\frac{1}{2}$	15 October, 1955-60	٠٠ ,		15 April and 15 October		139,619
1,720,000	. 3	15 October, 1959			15 April and 15 October		51,600
2,600	$4\frac{1}{2}$	20 April, 1939			20 April and 20 October		117
11,221,609	$4\frac{1}{2}$	l November, 1947			1 May and 1 November		504,972
5,000,000	5	1 November, 1956–71			1 May and 1 November		250,000
250,000	$3\frac{1}{8}$	15 May, 1938		:	15 May and 15 November		3,906
2,810	3	15 November, 1938		٠. ا	15 May and 15 November		84
16,520	$4\frac{1}{2}$	15 November, 1938			15 May and 15 November		743
3,283,630	$3\frac{3}{4}$	15 November, 1938-41		• •	15 May and 15 November		123,136
12,487,000	$3\frac{1}{2}$	15 May, 1949-52			15 May and 15 November		437,045
2,935	4	15 May, 1949-52			15 May and 15 November		118
1,417,000	$2\frac{1}{2}$	15 May, 1957			15 May and 15 November		35,425
6,011,699	3	15 May, 1957	••	• •	15 May and 15 November		180,351
1,634,936	$3\frac{1}{2}$	15 May, 1957			15 May and 15 November		57,222
4,245,535	3	15 November, 1959			15 May and 15 November		127,366
7,500,000	5	15 December, 1949			15 June and 15 December		375,000
250,000	$3\frac{1}{2}$	15 December 1950		• • ;	15 June and 15 December		8,750
9,405,260	4	15 June, 1952–55		• •	15 June and 15 December		376,210
1,417,000	$2\frac{1}{2}$	15 June, 1958		!	15 June and 15 December		35,425
1,521,250	$3\frac{1}{2}$	15 June, 1958		}	15 June and 15 December		53,243
2,842,000	$2\frac{1}{2}$	15 December, 1958	•• .	٠٠	15 June and 15 December		71,050
2,754,241	3	15 December, 1958			15 June and 15 December		82,627
17,176,532	$3\frac{1}{2}$	l January, 1940		٠٠i	1 July and 1 January		601,179
10,300	$4\frac{1}{2}$	1 July, 1941			1 July and 1 January		464
12,886,110	5	1 January, 1946			l July and 1 January		644,305
10,500	4	1 January, 1949			I July and I January		420
12,000,000	3	1 July, 1952–55	• • • •	• •	1 July and 1 January		360,000
362,450	3	1 January, 1956		••	I July and I January		10,873
3,206	$\frac{3\frac{1}{2}}{2}$	1 January, 1956		••	I July and I January		112
100,000	4	1 January, 1956		• •	I July and I January		4,000
4,613,505	3	15 July, 1939–41	••	• •	15 July and 15 January		138,405
8,900	$\frac{3^{3}_{4}}{2^{1}}$	15 January, 1940		• •	15 July and 15 January		333
8,346,910	31	15 January, 1953–57	••	• •	15 July and 15 January		292,141
1,417,000	$\frac{2\frac{1}{2}}{2}$	15 January, 1957	••	• •	15 July and 15 January		35,425
46,900	3	15 January, 1957		• •	15 July and 15 January		1,407
1,178,080	$\frac{3\frac{1}{2}}{2}$	15 January, 1957	••	• •	15 July and 15 January	• •	41,233
3,440,679	3	15 July, 1959		• •	15 July and 15 January	••	103,220
380,000	$3\frac{3}{4}$	15 July, 1959		• •	15 July and 15 January		14,250
7,000	$4\frac{1}{2}$	1 August, 1941		• •	I August and I February		315
10,884,628	4	1 February, 1943-63	••	• •	1 August and 1 February		435,385
2,029,000	$\frac{5\frac{1}{2}}{21}$	I February, 1951		٠ -	1 August and 1 February	• • •	111,595
5,000,000	$\frac{3\frac{1}{2}}{2}$	l February, 1954		• •	1 August and 1 February	• •	175,000
287,385	3	1 February, 1957		٠٠	I August and I February	• •	8,622
9,842.470	4	15 February, 1943-46		• •	15 August and 15 February	• • •	393,698
199,500	5	15 February, 1945		•	15 August and 15 February		9,975
1,417,000 7,882,030	$2\frac{1}{2}$	15 August, 1957 15 August, 1957		• •	15 August and 15 February	••	35,425
1,487,720	3			٠ ٠	15 August and 15 February		236,461
	4	15 August, 1957 15 February, 1958		• •	15 August and 15 February		59,509
1,417,000	$\frac{2^{1}_{2}}{2^{1}}$			•	15 August and 15 February	•••	35,425
2,189,835	$\frac{3\frac{1}{2}}{4}$	15 February, 1958		•	15 August and 15 February	• •	76,644
37,000	4	1 March, 1942			I September and I March		1,480
7,339,656	$\begin{array}{c} 4\frac{1}{2} \\ 4\frac{1}{2} \end{array}$	1 March, 1944		•	l September and 1 March	• • •	330,284
7,580,907		1 March, 1945		•	1 September and 1 March	•••	341,141
19,225,465	$\frac{4\frac{1}{2}}{5}$	1 March, 1948-58		. !	1 September and 1 March		865,146
10,000	5 21	15 September, 1938		•	15 March and 15 September		250
500,000	$\frac{3\frac{1}{4}}{2^{\frac{1}{4}}}$	15 September, 1940		•	15 September and 15 March	• •	16,250
13,670,835	3½ 4	15 March, 1940-43		•	15 September and 15 March	٠.	478,479
7,335	4.	15 March, 1940-43		•	15 September and 15 March	• •	293
4,203,050	5 91	15 September, 1947		•	15 March and 15 September	• •	210,152
1,417,000	$\frac{2\frac{1}{2}}{21}$	15 September, 1958		• 1	15 September and 15 March	• •	35,425
1,261,400	$3\frac{1}{2}$	15 September, 1958	••	. ;	15 September and 15 March	• •	44,149
		Carried forward				ļ	9,765,609

#### ${\bf PERMANENT~CHARGES.--DEBT~SERVICES--INTEREST--} continued.$

#### NEW ZEALAND LOANS ACT, 1932—continued.

Principal.	Rate per Cent.	Mat	urity Date		i	Half-yea	rly due Dat	es of In	terest.	Interest: Gross Amount.
£ 2,677,533 1,572,260 29,800 10,000	3 3½ 4 2½	Brought 15 March, 1959 15 March, 1959 15 March, 1950 31 March, 1940	) ) )	••		15 Septemb 15 Septemb 15 Septemb 30 Septemb	per and 15 per and 15	March March	ı	£ 9,765,609 80,326 55,029 1,192 250
		Interest on Float Interest on New		• •		• •	• •		• •	$95,000 \\ 226,516$
										10,223,922
Recov		0 71 1 4					1.3	£		
		Ocean Islands A		• •				,250		
				• •	• •	• •		,190		
		rposes Relief Acettlements Accou		• •	• •			,000 ,318		
		vays Account			• •	• •		,335		
		mines Account				• •		,766		
	ousing A			• • •				.000		
	mount re	ceived from integent liability	erest on	State 	Advances	s Corporat	ion stock	and	1,196,859 1,327,000	2,523,859
	NET I	NTEREST CHAR	GEABLE	то т	HE CONS	OLIDATEI	FUND, 1	1938 -3	9	£7,700,06

#### SUMMARY.

1	9	38	-	3	9.	

Gross Amount.	Recoverable.	Net Amount.
£	£	£
10,223,922	2,523,859	7,700,063

#### PERMANENT CHARGES.—DEBT SERVICES—AMORTIZATION.

Authorizing Act.	Principal.	Gross Amount.	Recoverable.	1938-39.
Sinking Funds— Finance Act, 1928 (Section 13)—	£	£	£	£
Westport Harbour Act, 1920— Westport Harbour Board Act, 1884, and	414,250	8,859		
Loan Acts, 1896, 1897, and 1900 Westport Harbour Board Loan Act.	200,000	2,000		
1908	614,250	10,859	• •	10,859
Debt Repayment— Repayment of the Public Debt Act, 1925		1,782,014		1,782,014
Public Revenues Act, 1926 (Section 135 (4))— Securities redeemed	1.4	1,000	• •	1,000
TOTALS		1,793,873		1,793,873

# PERMANENT APPROPRIATIONS.—DEBT SERVICES—ADMINISTRATION AND MANAGEMENT.

Authorizing Act.	Amount.	Recoverable.	1938-39.
Finance Act, 1926 (Section 23 (3))— Stamp duty on transfers of New Zealand Consolidated Stock	£ 3,500	£ 150	£ 3,350
New Zealand Loans Act, 1932 (Section 61)— Charges and expenses of paying off or renewing securities to be charged to or paid out of Ordinary Revenue Account of Consolidated Fund	100	••	100
New Zealand Loans Act, 1932— Charges and expenses of management of New Zealand Government Securities	52,500	5,500	47,000
TOTALS	56,100	5,650	50,450

# PERMANENT APPROPRIATIONS.—DEBT SERVICES—PAYMENTS ON GUARANTEED LOANS.

Authorizing Act.	Amount.	Recoverable.	1938-39,
Land Settlement Finance Act, 1909 (Section 13)— Deficiencies in principal or interest due on debentures guaranteed by the Government	£ 1,250	£ 2,000	£ Cr. 750
Local Bodies' Loans Amendment Act, 1908 (Section 10)— Sinking funds of guaranteed loans payable to Public Trustee	600	••	600
TOTALS	1,850	2,000	Cr. 150

#### ANALYSIS OF PERMANENT CHARGES.—DEBT SERVICES.

whether a second	Gross.	Recoveries from respective Accounts.	1938-39.
INTEREST— NET INTEREST (chargeable to Consolidated Fund)	£ 10,223,922	£ 2,523,859	£ 7,700,063
Amortization,— NET Amortization Charge (chargeable to Consolidated Fund)	1,793,873		1,793,873
Administration and Management	56,100	5,650	50,450
Payments on Guaranteed Loans	1,850	2,000	Cr. 150
GRAND TOTAL-DEBT SERVICES	12,075,745	2,531,509	9,544,236

PERMANENT CHARGES- continued.	
UNDER SPECIAL ACTS OF THE LEGISLATURE.	1938–39.
CNDER SI FORM ACTS OF THE DECISIATORE.	£
EXCHANGE.	
Finance Act, 1932 (Section 55)— Exchange on remittances of public moneys to and from any country beyond New Zealand Less credits in reduction	2,466,000 666,000
	1,800,000
HIGHWAYS.	
Finance Act, 1927 (No. 2), (Section 24)— Registration fees, fines, &c., payable to Main Highways £ Account	
ment	700,000
Motor-spirits Taxation Act, 1927 (Sections 6–10)—  Disbursements under Act	2,475,000 6,000
	3,181,000
OTHER SPECIAL ACTS.	
Education Boards, &c.	
Land Act, 1924 (Section 297)— Portion of National Endowment revenue for transfer to vote "Education"	101,721
Payment to Racing Clubs of Proportion of Totalizator-tax.	
Finance Act, 1935 (No. 2), (Section 17)— Refunds in respect of totalizator-tax	51,000
Subsidies to Superannuation Funds.	
Finance Act, 1938 (Section 9)—— Additional subsidies to Superannuation Funds	200,000
Miscellaneous Grants and Subsidies.	
Land Act, 1924 (Sections 139 and 358)— Payments to Receivers of Land Revenue, Local Bodies' Deposit Accounts, for payment to local authorities in respect of rents,	
royalties, &c	7,500
	360,221

#### PERMANENT CHARGES—continued. 1938-39. UNDER SPECIAL ACTS OF THE LEGISLATURE--continued. £ OTHER SPECIAL ACTS-continued. SALARIES AND HONORARIA. Legislative. Civil List Act, 1920 (Section 16)— Legislative Council— Speaker 720Chairman of Committees 450 House of Representatives— Speaker 900 Chairman of Committees 675 Civil List Act, 1920 (Section 17)— Honoraria of members of the Legislative Council 11,970 Honoraria of members of the House of Representatives 29,700 41,670 Civil List Act, 1920 (Section 22), and Finance Act, 1926 (Section 19) Legislative Council— Člerk 800 . . House of Representatives— Clerk800 . . Clerk-Assistant 600 Justice. Judicature Amendment Act, 1920 (Section 3)-Salaries of Judges of the Supreme Court ... 18.250Temporary Judge (6 months) ... 1,000 Other Salaries. Industrial Conciliation and Arbitration Act, 1925 (Section 64), and Industrial Conciliation and Arbitration Amendment Act (No. 2), 1937 (Section 3), and Industrial Conciliation and Arbitration Amendment Act (No. 3), 1937 (Section 3)-Salaries of Judges of the Arbitration Court... 4,000 Mortgagors and Lessees Rehabilitation Act, 1936— Salaries of Judges .. .. .. 2,000 Public Revenues Act, 1926 (Section 6)— Salary of Controller and Auditor-General 1.300 Finance Act, 1936 (Section 41)— Two Public Service Commissioners at £1,250 each ... 2,500 75,665 PENSIONS. Land Act, 1924 (Section 298)— Portion of National Endowment residue applied for payment of old-age pensions 43,594Judicature Act, 1908 (Sections 12-14), and Judicature Amendment Act, 1920 (Section 2)-Superannuation to retired Judges 1,834 45,428

#### PERMANENT CHARGES—continued.

90,714	£5,4				• •					••		••		'OTAL	1		
90,714	5,4												ı	TOTAL			
09,714	! ! .					• •		• •		Acts	cial 1	er Spe	Oth	Total—(			
28,400																	
3,000	ļ							- • •	!))-					ces Act, n Rural			Ru
2,400	:	•• :		uses	Нοτ	oth	of l	abers						$ues \ Act,$ of official			
3,000	I I	'					oard	ıst E						ses Act, f annual			
6,000		••				3	Lake	rict :						$pses \ Act, \\ property ment on $			
7,000	!					l	land	meni	dov					024 (Sect			
7,000														1934 (Nincome-t			
£	i							s.	ΕO	LLANI	SCEL	MIS					
							i <b>n</b> ued	-cont	CTS	IAL AC	PECI	HER S	OT	(			
8839.	193	d.	tinu	cont	ιЕ	ГUR	SLA'	EGI	E 1	THE	OF	ACTS	L	SPECIAL	ER	UND	
,	193	d.	tinu	cont	₹Е	ГUR	SLA'	EGI	E 1	THE	OF	ACTS	L	SPECIAL	ER	UND	

#### LEGISLATIVE DEPARTMENTS.

Vote No. 1.—Legislative—  Subdivision I.—Legislative Council	\$\text{Salaries.}\$ \$\text{\psi}\$ \$1,905 \$11,218 \$4,565 \$4,468 \$5,728 \$16,369	Other	£ 370 2,160 181 2,300	Total. £ 2,275 13,378 4,746
Subdivision I.—Legislative Council	1,905 11,218 4,565 4,468 5,728		370 2,160 181	2,278 13,378
" " " " " " " " " " " " " " " " " " "	11,218 4,565 4,468 5,728		2,160	13,378
", III.—Law Drafting Office	4,565 4,468 5,728		181	•
,, IV.—General Assembly Library ,, V.—Hansard  V.I. Buildings Grounds and Bellami's	4,468 5,728			4,746
,, V.—Hansard	5,728		2,300	
,, V.—Hansard				6,768
VI Raildings Grounds and Rollingi's	16 269		6,090	11,818
	10,000		1,909	18,278
" VII.—General Expenses	•••		49,154	49,154
Gross Total	44,253		62,164	106,417
('REDITS-IN-AID	1,030		327	1,357
NET TOTAL	43,223		61,837	105,060
		l ,		100,000
of Persons. VOTE No. 1.—LEGISLAT! 938-39.  Subdivision No. 1.—Legislative C			£	8-39. £
	ounou.			1
SALARIES—  1   Second Clerk-Assistant			335 200 345 25	
Non-permanents.				
Extra Messengers	• •	!	860 140	
			1,905	'
OTHER CHARGES FOR AND INCIDENTAL TO- Office requisites, including postages, mot tingencies Printing and stationery  Talenham convince (including installation)	or-hire, and c		50 <b>1</b> 60	•
Telephone services (including installation, tenance, and rent) Uniforms for messengers	extensions, ma	am-	130 30	
Total—Subdivision No. I		-	370	$\frac{1}{2,275}$

## ${\tt LEGISLATIVE\ DEPARTMENTS--} continued.$

of Persons.	Item	VOTE No. 1	.—LEGI	SLATI	VE—cont	inued.		1938-	-39.
938-39.		$Subdivision\ N$	o. IIH	ouse of	Represen	ıtatives.	-	£	£
	6	Salaries—						T	a.
1		Second Clerk- $\Lambda$ ssis	stant and	$\operatorname{Read}_{\Theta}$	er at £50	0 (9 m	onths),		
		£475 (3 months)						494	
1		${ m Serjeant-at-Arms}$						300	
1		Record Clerk					• • .	380	
1 ;	!				e •		• •	380	
1	ĺ	Bill Clerk and Inde	exer	205 /5 -	· · ·	 'oon <i>(7</i> 7		335	
$\frac{1}{1}$		Secretary to Mr. Sp Committee Clerk a				 	i i	$\frac{291}{335}$	
1	.	0) 4 00 3						250	
1	1	Chief Messenger						350	
1		Assistant Chief M	essenger a						
	1	months)			`	• •		293	
1		months) Attendant to Mr. S	peaker					295	
1	1	Messenger, Clerk's	Office					265	
1	İ	Shorthand-typist a						180	
i		Allowances to office	ers perfor	ming hi	gner auti	es	••	$\begin{array}{c} 10 \\ 25 \end{array}$	
		Sessional allowance Special allowance t	o Chief M	essenge	erks On	ice		15	
	İ	openar anowance c	O Office In	Cosciige			••	10	
1		N	ON-PERMA	NENTS.			į.		
							£		
		Allowances to Sess	ional Mess	sengers			500		
		Extra Clerks				.* *	855	1	
		Extra Committee I					100		
1					 VI		$\frac{5,000}{270}$	!	
1		Office Assistant an Sessional allowan					210		
		Attendant on M					25		
1		Stores Accounting	Officer				270		
								7,020	
15	:						.	11 010	
		OTHER CHARGES FOR	ANTEN TIME	aranaran /	T TO			11,218	
	7	Allowance to Speal				ives		100	
	8	Bonus to sessional						790	
	9	Interpreting and to	anslating					25	
	10	Office requisites						60 -	
	11	Photographic shield					· · i	25	
	12	Printing and statio		· · ·	.1.1. /.			600	
	13	Telephone exchang						100	
	14	Telephone services tenance, rent, an		3 msuu	амон, ех	tensions	, шаш-	460	
	!	remande, terre, an	а ошыј	- •		• •	• •	1(1/)	
								2,160	
	i	Total	—Subdivi	sion N	o. II				13,37
	i	Subdivision	No III =	_Law	Draftina (	Office			
					·Jeerey	w			
i	15	Salaries							
1		Counsel to Law Dr	afting Off	ice				1,250	
		Bill Drafting Depa							
1		Law Draftsman						1,050	
1		Assistant Law D	raftsmen-				£		
		1 at £750					750		
_		1 at £650					650	i	
3	į	1 at £500	• •		• •		500	1 000	
		Clerical and Genera	1. Tymin	to and s	Office Ass	istant		$-\frac{1,900}{265}$	
1					Outee Ass	rocento.	• •	100	
1		Allowance to Comi	nier of Sta	atutes				1 ( )( )	
1		Allowance to Comp	nier of St	atutes	• •	• •	••	100	

#### LEGISLATIVE DEPARTMENTS—continued.

$\begin{array}{c} \textbf{Number} \\ \textbf{of} \\ \textbf{Persons.} \end{array}$	Item	VOTE No. 1.—LEGISLATIVE—continued.	1938-	39.
1938-39.		Subdivision No. III.—Law Drafting Office—continued.	£	£
	16 17	Other Charges for and incidental to— Annual certificates under the Law Practitioners Act, 1931 Office requisites, printing and stationery, postages, and contingencies	26	L.
	18 19 20	Purchase of law reports and other publications	50 15	
i		maintenance, rent, and calls)	181	
	1000	Total—Subdivision No. III		4,746
		Subdivision No. IV.—General Assembly Library.		
	21	Salaries—		
1 1		Library— Chief Librarian and Controller Dominion Archives First Assistant 4 Senior Assistants: 1 at £350, 1 at £335, 1 at £280 (8 months), £250 (4 months); 1 at £255 (10	765 515	
8		months)	1 000	
$egin{array}{c} 1 \ 2 \end{array}$		1 Stack Room Supervisor 2 Attendants: 1 at £250; 1 at £190 (5 months),	1,892 280	
1		£180 (7 months)	434 325	
		Non-permanents.		
1		1 Clerk at 16s. 10d. per day (5 months)	92 165	
16		-	4,468	
	$22 \\ 23 \\ 24$	OTHER CHARGES FOR AND INCIDENTAL TO— Binding books	$750 \\ 1,250$	
	25	and insurance of books  Postage, freights, and cartage	200 100	
		Total—Subdivision No. IV	2,300	6,768
	26	Subdivision No. V.—Hansard. SALARIES—	:	
1 8		Hansard— Chief Hansard Reporter Reporters: 8 at £450	550 3,600	
1 1 1		Supervisor	$egin{array}{c c} 500 & \\ 350 & \\ 240 & \\ 125 & \\ \end{array}$	

#### LEGISLATIVE DEPARTMENTS—continued.

Salaries	Number of Persons.	Item	VOTE No. 1.—LEGISLATIVE—continued.	1938	3–39.
26   SALARIES - continued.	938–39.	J	Subdivision No. V.—Hansard—continued.		
Non-permanents.		26	Salaries—continued.	£	£
Non-permanents.			Hansard—continued.		İ
Hansard typists (during session only): 2 at £205 (3 months); 1 at £200 (3 months), 3 at £135 (3 months); 300   5,728			Non-dedmandings		
Comparison					
27			1 at £200 (3 months), 3 at £195 (3 months)		
27			-	5,728	
27			OTHER CHARGES FOR AND INCIDENTAL TO—		
Subdivision No. V			Printing of Hansard		
Subdivision No. VI.—Buildings, Grounds, and Bellamy's.				6,090	
Buildings—    29   SALARIES—    305   Electrician			Total—Subdivision No. V	TOTAL SECTION OF THE	11,818
30   Overtime: Night-watchmen	1 1 1 13 15	29	Maintenance Officer	305 305 123 2,960 1,970 2,030 920 134 100	
30   Overtime : Night-watchmen			Other Charges for and incidental to—		-
Grounds—  SALARIES—  Gardeners: 1 at £310, 1 at £243, 2 at £238, 1 at £221, 1 at £97 (part time)		30		79	
31 Salaries—  Gardeners: 1 at £310, 1 at £243, 2 at £238, 1 at £221, 1 at £97 (part time)				9,231	
31 Salaries—  Gardeners: 1 at £310, 1 at £243, 2 at £238, 1 at £221, 1 at £97 (part time)			Grounds—		
Gardeners: 1 at £310, 1 at £243, 2 at £238, 1 at £221, 1 at £97 (part time)		0.7			İ
OTHER CHARGES FOR AND INCIDENTAL TO— Upkeep of Parliament Grounds		31	SALARIES—		!
Upkeep of Parliament Grounds 100	6			1,347	The state of the s
1.447		32		100	1
			т	1,447	

#### ${\tt LEGISLATIVE\ DEPARTMENTS--} continued.$

Number of Persons.	Item	VOTE No. 1.—LEGISLATIVE—continued.	1938-	<b>39.</b>
1938–39.		Subdivision No. VI.—Buildings, Grounds, and Bellamy's—continued.	£	£
		Bellamy's—		
. 1	33	SALARIES	!	
1		Manager (also Officer in Charge of Parliament $\mathfrak{L}$ Buildings) $\mathfrak{L}$ 525		
1		Clerk and Assistant Manager, £400 (4 months); £385 (8 months)		
1		Chef 400	į	
$\frac{1}{1}$		Head Waiter           305             Head Storeman	İ	
1		Senior Barman	!	
1	:	Barman 290	1	
8		Attendants: 1 at £300 (4 months); 1 at £295; 2 at £285; 3 at £280; 1 at £250 2,055		
15				
NAME OF THE OWNER OF THE OWNER OF THE OWNER OF THE OWNER OF THE OWNER OF THE OWNER O		4,565 Less amount chargeable under subheading	į	
Total Number		"Buildings" 2,030	!	
of Persons.	!	Pater Attendants Manage 2 Auft design continu	$\frac{2,535}{2,225}$	
113		Extra Attendants, Manager's staff, during session	3,335	
		0 0	5,870	
	34	OTHER CHARGES FOR AND INCIDENTAL TO—— Linen, glassware, china, plateware, towels, &c., for use of		
		members in Bellamy's and Parliamentary Buildings	400	
	$\frac{35}{36}$	Maintenance of staff during session Printing and stationery	550 † 50	
	37	Printing and stationery Sessional allowance to Bellamy's staff during session	600	
	38	Washing linen, &c	130	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)—         Part salaries—       £         Night-watchmen       590         Charwomen       79         Extra attendants       211         Electrician       75         Plumber and furnace attendant       75		
		1,030		
			1,730	
		-	7,600	
		Total—Subdivision No. VI		18,278
		Subdivision No. VII.—General Expenses.		
		Charges for and incidental to		
	39 40	Advertising, newspapers, and other publications	300	
	41	Allowance to Police Constables in attendance during session Allowance to the Leader of the Opposition	50 187	
	42	Fuel, light, power, and water, also fees for inspection of	2 000	
	43	$egin{array}{cccccccccccccccccccccccccccccccccccc$	3,900	
	-0	Purchases 1,500		
		Maintenance and repairs 300	1,800	
	44	Hire of motor-cars for Speakers of both Houses and their		
	45	wives Laundry-work for Legislative Department	$\begin{array}{c c} 25 \\ 220 \end{array}$	
	46	Meals to messengers, &c., on late-sitting nights	75	
	47	Miscellaneous stores: Brooms, brushware, soap, towels,	900	
	1	linen, matches, tools, coal buckets, shovels, &c.	300	

#### LEGISLATIVE DEPARTMENTS—continued.

Number of Person	Item	VOTE No. 1.—LEGISLATIVE—continued.	938–39.
1938-3	1	Subdivision No. VII.—General Expenses—continued.	
1000 0		£	£
		CHARGES FOR AND INCIDENTAL TO—continued.	100
	$\frac{48}{49}$	Office equipment for Ministers' offices	100
	1	Passages of—	
	50	Members of both Houses—	
	:	Steamer         1,100         Service-car          150	
			250
		Members' wives—	
		Steamer           480             Service-car            20	!
			500
	51	Postage and telegrams, including parliamentary papers 1,4	150
	152	Printing of Statutes, Journals, Appendices, Bills, Order Papers, Standing Orders, Statutory Regulations, &c 6.0	)/)(O :
	53	Railway passes and concessions to members and ex-members	<i>,</i> 00
		of the Legislature, families, relations, &c., cost of 26,5	600
	54	Railway sleeping-berths— £	
		Members         1,400         Members' wives	1
		1,7	750
	55	Refund to Post Office, being difference between special and	
		ordinary rates for telegrams from members of the General Assembly	000
	56		100
	57	Telephone services (rents and calls): Payment to Post and	
	:	Telegraph Department of difference between full rates and half rates allowed to members of the House of	
			000
	58	Tram fares	10
	59	Travelling allowances and expenses of Members travelling	(EO
	60	to and returning from Parliament	150 20
	61	Typewriters— £	
		Purchases	
	1	Maintenance	375
	62		128
	63	Winding and repairing clocks, &c.	80
•	64 $65$	Window-cleaning, rubbish-removal, and chimney-sweeping Contingencies, including unforeseen expenditure incidental	224
	00	to the other items of this subdivision	50
	ı		
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)—	
		Fuel, light, power, and water 314	!
		Window-cleaning 13	
	ì	$\overline{327}$	
		Total—Subdivision No. VII	49,154
	1		· · · · · · · · · · · · · · · · · · ·
	1	Gross Total	106,417
		Credits-in-aid (a)	1,357
		NET TOTAL—VOTE No. 1	105,060
		· · · · · · · · · · · · · · · · · · ·	
(a) Cre	edits-in-aid		
		$\begin{array}{ccc} \text{Salaries.} & \text{Charges.} & 1938-39. \\ & \pounds & & \pounds & \\ \end{array}$	
	Subdivisio		
	,,	VII 327 327	

.. 1,030

327

1,357

Totals ..

## PRIME MINISTER'S DEPARTMENT.

							19	38–39.	
					-	Salaries.	Othe	er Charges.	Total.
Vote No. 2.	—Prime Minist	er's Dep	artment—	-		£		£	£
GR	oss Total					10,165	,	14,230	24,39
						,			,
UR	EDITS-IN-AID		• •	• •		••	_		•••
NE	T TOTAL	• •	• •	• •	•	10,165		14,230	24,395
Number of Persons. Ite		o. 2P	RIME MI	NISTEI	R'S DE	PARTMEN	Т.	1938	33 <b>9.</b>
	l *Salaries-	-						£	£
		A	DMINISTRA	TIVE DI	vision.				
1	of Ext Chief Pr	ernal Aff ivate Se	fairs)	 ecretary		iry, Depart  oinet, and (		1,200 1,050	
			ROFESSION		COLON				
1	$Class\ I-$ Refere	_	er at £615					615	
			CLERICAL	Divisio	N.			<u> </u>	
1	Class $Sp$ 1 at £6	665						665	
1	$Class \ II = 1 \ { m at} \ \mathfrak{L} $ $Class \ V-$	515	••				£	515	:
4	2 at £3 2 at £3	380	• •	• •	• •		760 710	1 450	
			GENERAL	Divisio	NY.			1,470	
-	7		GENERAL	DIVISIC	·N·				
1	1 at £320	)	• •	• •	• •	• •	• •	320	
!			Non-per	RMANENT	s.				
į	1 at £525		. •				525		
	1 at £500 2 at £215		• •	• •		• •	500		
	1 at £205		• •	• •	• •		$\frac{430}{205}$		
į	1 at £195				• •	• •	$\frac{195}{195}$	İ	
	1 at £185						185	İ	
	2 at £165						330		
10	1 at £85						85		!
20	Allowane Payment		icers			• •		2,455 225	
	Ďefenc	e Depar	tment, sala					665	
			s Departn er's Office	nent, sal:	aries of	officers in	High	985	
1								10,165	-

<sup>\*</sup> For particulars of salaries see "Public Service Classification List."

#### ${\tt PRIME\ MINISTER'S\ DEPARTMENT--} continued.$

Number of Persons.	Item	VOTE No. 2.—PRIME MINISTER'S DEPARTMENT—	1938-	-39.
1938–39.		continued.	£	£
		OTHER CHARGES FOR AND INCIDENTAL TO-		
	$^2$	Advertising, photographs, books, newspapers, and other	1	
		publications	120	
		League of Nations—		
	3	Expenses of delegate to Geneva	1,500	
	4	New Zealand official publications supplied to League at		
	İ	$\operatorname{Geneva}$	20	
	5	New Zealand's proportion of secretariat expenses for		
		year ending 31st December, 1938	11,580	
	6	Office fittings and requisites Postage, telegrams, and rent of boxes	50	
	7	Postage, telegrams, and rent of boxes	150	
	8	Printing and stationery	400	
	9	Telephone services (including installation, extensions,	1	
		maintenance, rent, and calls)	350	
	10	Travelling allowances and expenses	50	
	11	Contingencies, including unforeseen expenditure incidental		
		to the other items of the vote	10	
	Jan and San an			
	,		14,230	
		Gross Total		24,395
		Credits-in-aid	• •	
		,	-	
		NET TOTAL—VOTE No. 2		24,395

#### TREASURY DEPARTMENT.

		1938–39.			
	Salaries.	Other Charges.	Total.		
Vote No. 3.—Treasury—	£	3	£		
Subdivision I.—Salaries	33,664	••	33,664		
,, II.—Government Actuary's Branch	6,841		6,841		
,, III.—Miscellaneous Services	• •	15,824	15,824		
Gross Total	40,505	15,824	56,329		
Credits-in-aid	7,291	1,700	8,991		
NET TOTAL	33,214	14,124	47,338		
Number			<u></u>		
of Persons. Item VOTE No. 3. — TREASU	JRY.	193	8-39.		
Subdivision No. 1.—Salarie	28.	£	£		
1 *Salaries— Administrative Division.		:	!		
†1 at £1,650 (Secretary, Receiver-Gen General, also Financial Adviser)  1 at £1,250 (Assistant Secretary and Acco 1 at £1,100 (Second Assistant Secretary Solicitor)	untant)	1,650 1,250			
CLERICAL DIVISION.		4,001			
Class Special $B$ — 2 at £715		1,430			
$Class\ Special\ C \ 1 \ at £665 \ Class\ I \$		665			
$\begin{array}{c ccccccccccccccccccccccccccccccccccc$		615 565	· · · · · · · · · · · · · · · · · · ·		
$egin{array}{ c c c c c c c c c c c c c c c c c c c$		1,180 515			
$egin{array}{cccccccccccccccccccccccccccccccccccc$	••	1,880			
10 at £425	1,	250 415 400 900 5,065			
1 at £380 (8 months), £355 (4 months) 1 at £380 (2 months), £355 (10 months) 8 1 at £355		$     \begin{array}{ccccccccccccccccccccccccccccccccc$			

 $<sup>^{\</sup>star}$  For particulars of salaries see " Public Service Classification List."

 $<sup>\</sup>dagger$  Also Chairman, Local Government Loans Board, and Deputy-Chairman, Stores Control Board.

## ${\bf TREASURY} \ \ {\bf DEPARTMENT-} continued.$

of Persons.	Item	VOTE No. 3.—TREASURY—continue	ed.	America - Inc.	1938-	-39.
938–39.		Subdivision No. I.—Salaries—continue	ed.	-		
	1	Salaries—continued.			£	£
		CLERICAL DIVISION—continued.				
		Class VI—		£		
		9 at £335 $\dots \dots \dots \dots$		3,015		
	1	1 at £335 (11 months), £320 (1 month)		334		
		1 at £335 (10 months), £320 (2 months)	• •	333		
		1 at £335 (1 month)	• •	28		
		1 at £335 (3 months)	• •	84		
1.0		1 at £320 (3 months), £305 (9 months)		309		
16		2 at £320 (1 month), £305 (11 months)	• •	612	4,715	
		Class VII			1,,10	
		$4 \text{ at } £305 \qquad \dots \qquad \dots$		1,220		
	į	1 at £305 (1 month), £280 (11 months)		282		
		1 at £280 (8 months), £255 (4 months)		272	!	
	i i	1 at £255 (10 months), £230 (2 months)		251	:	
		1 at £230 (2 months), £205 (10 months)		209	İ	
		1 at £230 (10 months), £205 (2 months)		226		
	!	2 at £205 (9 months), £195 (3 months)		406		
		1 at £205 (4 months), £195 (8 months)		198	İ	
	:	1 at £205 (3 months), £195 (9 months)		198		
		1 at £205 (11 months), £185 (1 month)		203		
	i	1 at £205 (1 month), £195 (11 months)		196		
	i i	1 at £185 (10 months), £175 (2 months)		183	-	
		1 at £185 (7 months), £175 (5 months)		181		
		1 at £185 (9 months), £115 (3 months)		168		
		1 at £165 (9 months), £155 (3 months)		163	i	
		1 at £185 (5 months), £155 (2 months), £		1 ~ 1	ĺ	
		(5 months)	• •	151		
i	İ	1 at £175	• •	175	:	
		1 at £165 (11 months), £95 (1 month)		159		
		1 at £165 (8 months), £155 (4 months)	600	162		
		// // // // // // // // // // // // //	£80	125		
		(4 months) 1 at £155 (3 months), £80 (9 months)	• •	99		
;		2 at £155 (1 month), £115 (11 months)	• •	$2\overline{36}$		
		14 6112	• •	115		
	i	1 at £115 (4 months), £95 (8 months)	• •	102		
İ	İ	1 at £115 (3 months), £95 (9 months)	• •	100	1	
		1 at £95 (11 months), £80 (1 month)	• •	94		
	1	1 at £95 (10 months), £80 (2 months)		93		
		1 at £95 (9 months), £80 (3 months)	• •	91		
		1 at £95 (8 months), £80 (4 months)		90	-	
		1 at £95 (4 months), £80 (8 months)		85	i	
	į	1 at £95 (2 months), £80 (10 months)		83	i	
		1 at £80		80		
		1 at £80 (11 months)		73		
39	:	1 at £80 (10 months)		67		
	!	Cadet's lodging-allowance			6,536 <b>146</b>	
i	:	Officers on Loan.		:	i	
		1 at £355		355		
2		1 at £355 1 at £115 (3 months), £185 (9 months)		168	200	
	ļ	Allowances to officers performing special or h			523	
i		under Public Service Regulations 24A and 26 officers of other Departments)	 	···	20	
		GENERAL DIVISION.				
				T.		
1		l at £195 (4 months)			65	

#### TREASURY DEPARTMENT-continued.

of Persons.	Item	VOTE No. 3.—TREASURY—continued	1938	3–39.	
938-39.	; I	Subdivision No. I.—Salaries—continued		£	(*
	1	Salaries—continued.		ž.	£
		Non-permanents.	<u> </u>		
	1	I at £445	44	15	
	1	1 at £247	24		
	i	I at £234	23		
	:	1 at £215	$\frac{21}{30}$	90	
		7 at £185	1,29		
		1 at £185 (6 months), £165 (6 months)	17	75	
		1 at £165	16		
	ļ	1 at £165 (8 months), £145 (4 months) 1 at £165 (6 months), £145 (6 months)	15	i	
	i	1 at £125 (11 months), £105 (1 month)	12	1	
		1 at £125 (1 month), £105 (11 months) $\dots$	10		
		1 at £105 (4 months), £85 (8 months)		02	
22		2 at £85 (2 months), £65 (10 months)	18	3,937	
113		Estimated credits-in-aid under Section 51 o	f the Publ		
	-	Revenues Act, 1926 (see end of vote)—	-		
		Services rendered other Departments—	<u> </u>		
		Government Insurance Department	48	50	
		${\it TotalSubdivision \ No.\ I}$			33,66
		Subdivision No. II.—Government Actuary's E	Branch.		
	2	0		ì	
		SALARIES			
		Salaries— Professional Division.			
1	-:	Professional Division.		1,150	
1 1				1,150	
		Professional Division.  1 at £1,150 (Government Actuary)		200	
1		Professional Division.  1 at £1,150 (Government Actuary) 1 at £800 (Assistant Actuary)  CLERICAL DIVISION.  Class II—		800	
		Professional Division.  1 at £1,150 (Government Actuary) 1 at £800 (Assistant Actuary)  Clerical Division.  Class II— 1 at £515	••	800	
1		PROFESSIONAL DIVISION.  1 at £1,150 (Government Actuary) 1 at £800 (Assistant Actuary)  CLERICAL DIVISION.  Class II— 1 at £515  Class VI—	,	800 515	
1		Professional Division.  1 at £1,150 (Government Actuary) 1 at £800 (Assistant Actuary)  Clerical Division.  Class II— 1 at £515	67	800 515	
1		PROFESSIONAL DIVISION.  1 at £1,150 (Government Actuary) 1 at £800 (Assistant Actuary)  CLERICAL DIVISION.  Class II—  1 at £515	67	800 515 2 70 80 15	
1 7		PROFESSIONAL DIVISION.  1 at £1,150 (Government Actuary) 1 at £800 (Assistant Actuary)  CLERICAL DIVISION.  Class II—  1 at £515	67 67 1,28	800 515 515 580 80 80 80 80 80 80	
1		PROFESSIONAL DIVISION.  1 at £1,150 (Government Actuary) 1 at £800 (Assistant Actuary)  CLERICAL DIVISION.  Class II—  1 at £515	67 67 1,28	800 515 2 70 80 15	
1 7		PROFESSIONAL DIVISION.  1 at £1,150 (Government Actuary) 1 at £800 (Assistant Actuary)  CLERICAL DIVISION.  Class II—  1 at £515  Class VI—  2 at £335 4 at £320 1 at £320 (8 months), £305 (4 months)  Class VII—  1 at £195 (11 months), £185 (1 month)  NON-PERMANENTS.	67 1,28 3	515 270 800 280 15 2,265 194	
1 7		PROFESSIONAL DIVISION.  1 at £1,150 (Government Actuary)  1 at £800 (Assistant Actuary)  CLERICAL DIVISION.  Class II—  1 at £515  Class VI—  2 at £335 4 at £320 1 at £320 (8 months), £305 (4 months)  Class VII—  1 at £195 (11 months), £185 (1 month)  NON-PERMANENTS.  1 at £345	67 1,28 3.	515 270 800 280 15 2,265 194	
1 7		PROFESSIONAL DIVISION.  1 at £1,150 (Government Actuary)  1 at £800 (Assistant Actuary)  CLERICAL DIVISION.  Class II—  1 at £515  Class VI—  2 at £335 4 at £320 1 at £320 (8 months), £305 (4 months)  Class VII—  1 at £195 (11 months), £185 (1 month)  NON-PERMANENTS.  1 at £345	67 1,28 3.	515 270 800 2,265 194	
1 7		PROFESSIONAL DIVISION.  1 at £1,150 (Government Actuary)  1 at £800 (Assistant Actuary)  CLERICAL DIVISION.  Class II—  1 at £515  2 at £335 4 at £320 1 at £320 (8 months), £305 (4 months)  Class VII— 1 at £195 (11 months), £185 (1 month)  Non-permanents.  1 at £345	67 1,28 33	515 2,70 800 15 2,265 194 45 10 64 95	
1 7		PROFESSIONAL DIVISION.  1 at £1,150 (Government Actuary)  1 at £800 (Assistant Actuary)  CLERICAL DIVISION.  Class II—  1 at £515  2 at £335 4 at £320 1 at £320 (8 months), £305 (4 months)  Class VII— 1 at £195 (11 months), £185 (1 month)  Non-permanents.  1 at £345	67 1,28 32 35 18 18 18	515 270 800 15 2,265 194 45 10 64 95 95	
1 7		PROFESSIONAL DIVISION.  1 at £1,150 (Government Actuary)  1 at £800 (Assistant Actuary)  CLERICAL DIVISION.  Class II—  1 at £515  Class VI—  2 at £335  4 at £320  1 at £320 (8 months), £305 (4 months)  Class VII—  1 at £195 (11 months), £185 (1 month)  NON-PERMANENTS.  1 at £345  2 at £305  1 at £205 (9 months)  1 at £195  1 at £165  1 at £145 (2 months), £125 (10 months)	67 1,28 33 66 18 19 19	515 2,70 800 2,265 194 45 10 64 95 35 28	
1 7		PROFESSIONAL DIVISION.  1 at £1,150 (Government Actuary)  1 at £800 (Assistant Actuary)  CLERICAL DIVISION.  Class II—  1 at £515  2 at £335 4 at £320 1 at £320 (8 months), £305 (4 months)  Class VII— 1 at £195 (11 months), £185 (1 month)  NON-PERMANENTS.  1 at £345	67 1,28 32 35 18 18 19 16	515 270 800 15 2,265 194 45 10 64 95 95	
1 7		PROFESSIONAL DIVISION.  1 at £1,150 (Government Actuary)  1 at £800 (Assistant Actuary)  CLERICAL DIVISION.  Class II—  1 at £515  2 at £335  4 at £320  1 at £320 (8 months), £305 (4 months)  Class VII—  1 at £195 (11 months), £185 (1 month)  Non-permanents.  1 at £345  2 at £305  1 at £205 (9 months)  1 at £195  1 at £165  1 at £165  1 at £105 (1 months), £125 (10 months)  1 at £105 (1 month), £85 (11 months)	67 1,28 32 35 18 16 18 16 18	515 2,70 800 15 2,265 194 45 10 64 95 95 95 98 97 98 98 98 98 98 98 98 98 98 98	
1 7		PROFESSIONAL DIVISION.  1 at £1,150 (Government Actuary)  1 at £800 (Assistant Actuary)  CLERICAL DIVISION.  Class II—  1 at £515  2 at £335 4 at £320 1 at £320 (8 months), £305 (4 months)  Class VII— 1 at £195 (11 months), £185 (1 month)  NON-PERMANENTS.  1 at £345	67 1,28 33 66 18 19 16 18	515 2,70 800 15 2,265 194 45 10 64 95 95 96 97 90 90 90 90 90 90 90 90 90 90	
1 7 1		PROFESSIONAL DIVISION.  1 at £1,150 (Government Actuary)  1 at £800 (Assistant Actuary)  CLERICAL DIVISION.  Class II—  1 at £515  Class VI—  2 at £335  4 at £320  1 at £320 (8 months), £305 (4 months)  Class VII—  1 at £195 (11 months), £185 (1 month)  NON-PERMANENTS.  1 at £345  2 at £305  1 at £205 (9 months)  1 at £195  1 at £165  1 at £145 (2 months), £125 (10 months)  1 at £105 (1 month), £85 (11 months)  1 at £85 (9 months), £65 (3 months)  1 at £85 (3 months), £65 (9 months)  1 at £65 (3 months), £65 (9 months)	66 1,28 32 32 16 18 16 18 16 18 16 18	515 2,265 194 45 100 54 95 35 2,265 194 1,892	
1 7 1		PROFESSIONAL DIVISION.  1 at £1,150 (Government Actuary)  1 at £800 (Assistant Actuary)  CLERICAL DIVISION.  Class II—  1 at £515  2 at £335 4 at £320 1 at £320 (8 months), £305 (4 months)  Class VII— 1 at £195 (11 months), £185 (1 month)  NON-PERMANENTS.  1 at £345	67 1,28 32 33 34 16 18 16 18 16 18 16 18	515 2,265 194 45 100 54 95 35 2,265 194 1,892	
1 7 1		PROFESSIONAL DIVISION.  1 at £1,150 (Government Actuary)  1 at £800 (Assistant Actuary)  CLERICAL DIVISION.  Class II—  1 at £515  2 at £335  4 at £320  1 at £320 (8 months), £305 (4 months)  Class VII—  1 at £195 (11 months), £185 (1 month)  NON-PERMANENTS.  1 at £345  2 at £305  1 at £205 (9 months)  1 at £195  1 at £195  1 at £145 (2 months), £125 (10 months)  1 at £165  1 at £35 (1 months)  1 at £35 (1 months)  1 at £35 (2 months), £35 (11 months)  1 at £35 (3 months), £35 (2 months)  1 at £35 (3 months), £35 (3 months)  1 at £35 (3 months), £35 (9 months)  1 at £35 (3 months), £35 (9 months)  1 at £35 (3 months), £35 (9 months)  1 at £35 (3 months), £35 (9 months)	67 1,28 32 33 34 16 18 16 18 16 18 16 18	800  515  515  515  2,265  194  45 10 54 55 56 70 68 70 68 1,892 es 25	
1 7 1		PROFESSIONAL DIVISION.  1 at £1,150 (Government Actuary)  1 at £800 (Assistant Actuary)  CLERICAL DIVISION.  Class II—  1 at £515  2 at £335	67 1,28 31 36 18 16 18 16 18 16 18 16 18	800  515  515  2,265  194  45 10 64 55 56 68 1,892 es 25 6,841	
1 7 1		PROFESSIONAL DIVISION.  1 at £1,150 (Government Actuary)  1 at £800 (Assistant Actuary)  CLERICAL DIVISION.  Class II—  1 at £515	67 1,28 3 3 4 6 18 19	800  515  515  2,265  194  45 10 64 55 56 68 1,892 es 25 6,841	
1 7 1		PROFESSIONAL DIVISION.  1 at £1,150 (Government Actuary)  1 at £800 (Assistant Actuary)  CLERICAL DIVISION.  Class II—  1 at £515  2 at £335	67 1,28 3 3 4 6 18 19	800  515  515  2,265  194  45 10 64 95 55 28 87 70 68 1,892 es 25 6,841	

### ${\tt TREASURY \ DEPARTMENT-} continued.$

Number of Persons.	Item	VOTE No. 3.—TREASURY—continued.	1938-	-3 <b>9.</b>
1938-39.	!i	Subdivision No. III.—Miscellaneous Services.		
			£	£
	3	CHARGES FOR AND INCIDENTAL TO— Advances to Public Trustee for disbursements on account of Land Settlement Finance Associations for protection		
		of securities	50	
	4	Advertising, photographs, books, newspapers, and other		
}			140	
	5	publications	600	
	6	Frost, flood, and fire relief loans, &c.	25	
	7	Loans under General Purposes Relief Account	25	
	8	Fuel, light, power, and water	10	
	-9	Insurance premiums and commission on collections	235	
ļ	10	Law-costs, professional services, and annual certificate under Law Practitioners Act, 1931	300	
	11	Local Government Loans Board: Fees, travelling allowances		
	+	and expenses of members	300	
	12	Office fittings and requisites (part recoverable)	2,380	
	13	Overtime and most alloweness	150	
	14	Postage, telegrams, and rent of boxes	3,000	
İ	15	Printing and stationery	4,000	
	16	Refund of rates	59	
ĺ		Refund of unclaimed moneys—		
	17	Section 30, Public Revenues Act, 1926	100	
	18	Section 96, Public Revenues Act, 1926	200	
	19	Unclaimed dividends, New Zealand Government securities	100	
1	20	Miscellaneous	50	
	$\overline{21}$	Rent of offices	250	
	22	Stamp duty	100	
	$\overline{23}$	Telegrams beyond the Dominion (part recoverable)	2,500	
	24	Telephone services (including installation, extensions, main-	_,,,,,	
		tenance, rent, and calls)	450	
	25	Travelling-allowances, &c., and transfer expenses	750	
į	$\frac{26}{26}$	Contingencies, including unforeseen expenditure incidental	.50	
		to the other items of this subdivision	50	
		to the other rooms of this subdivision	00	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)—		
į		Exchange 400		
		Telegrams beyond the Dominion 850		
		Miscellaneous		
		1,700		
İ		Total—Subdivision No. III		15,82
į		Gross Total	• •	56,329
;		Credits-in-aid (a)		8,99
		NET TOTAL—VOTE No.3		47,33

(a) Credits-in-aid—		Other	
	Salaries. ${f \pounds}$	Charges. $_{\pounds}$	1938-39. £
Subdivision I	 450		450
,, II	 6,841		6,841
", III	 • •	1,700	1,700
Totals	 $7,291$	1,700	8,991

#### CUSTOMS DEPARTMENT.

		<u> </u>	1938–39.			
	<del></del>		Salaries.	Other Charges.	Total.	
Vote No. 4.	Customs	į	£	£	£	
Subdivision	n I.—Customs Offices and Services		131,430	23,280	154,710	
,,	II.—Customs: Miscellaneous Service	es		6,673	6,673	
Gre	OSS TOTAL		131,430	29,953	161,383	
Cre	EDITS-IN-AID		24,425	4,315	28,740	
	T TOTAL		107,005	25,638	132,643	
Number of Iter	vote No. 4.—C	USTOMS.		193	8-39.	
938–39.	Subdivision No. I.—Customs	Offices and	l Services.			
1	*Salaries			£	£	
	Administrative 1	Division.				
2	1 at £1,350 (Comptroller) 1 at £1,100 (Assistant Comptroll	er)	1,	£ 350 100		
	CLERICAL DIV	ision.	uniness.	2,450		
	Class Special A— 4 at £765 1 at £765 (3 months), £715 (9 n	$\dots$ months)		060		
	Class Special B— 2 at £715			3,788		
	1 at £715 (4 months), £665 (8 m	months)		$\frac{382}{2,112}$		
12	Class Special C— 3 at £665		1,	995 56		
	Class I— 5 at £615 1 at £615 (7 months), £590 (5 n 1 at £615 (6 months), £590 (6 n		(	2,051 075 605 603		
	1 at £615 (2 months), £590 (10 1 at £590 (10 months), £565 (2 1 at £590 (2 months), £565 (10 2 at £565	months)	{	594 586 569 130		
:	1 at £565 (7 months), £540 (5 months), £540 (6 months), £540 (6 months), £540 (8 months), £540 (8 months), £540 (9 months), £540 (9 months), £540 (9 months), £540 (9 months), £540 (9 months), £540 (9 months), £540 (9 months), £540 (9 months), £540 (9 months), £540 (9 months), £540 (9 months), £540 (9 months), £540 (9 months), £540 (9 months), £540 (9 months), £540 (9 months), £540 (5 months), £540 (5 months), £540 (6 months), £	nonths)	E	555 553 549		
22	2 at £565 (2 months), £540 (10 2 at £540	months)	1,0 1,0	089 080 529		
	2 we work (10 monoms), with (2	шошоць)		12,610	!	

<sup>\*</sup> For particulars of salaries see "Public Service Classification List."

Number of 1 Persons. 1938–39.	Item	Subdivision No. 1.—Customs Offices and Services—	-con	tinued.	1938-	39.
14 !	1	Salaries—continued.  Clerical Division—continued.	-con	tinued.	£	£
İ	1	CLERICAL DIVISION—continued.			ı.	Į.
İ						
İ		Class II—			1	
İ		- 0-4-		£	1	
İ				1,030		
İ			• •	511		
İ			• •	4,448	į	
29		$2 \text{ at } \pounds 515 \text{ (1 month)}, \pounds 490 \text{ (11 months)}$ . Class $III-$	• •	985	6 074	
29		00 1 8470		13,160	6,974	
:		1 at £470 (1 month), £445 (11 months)	• •	448	į	
		Class IV—	• •		13,608	
		19 4 6405		5,525	13,000	
		7 1 0405 /0 17 1 0400 /0 17 1		413		
		1 -1 (405 (0		405		
16 +		1 -+ 6405 (1+1-) 6400 (11+1-)		403		
1		Class V—			6,746 +	
		31 at £380		11,780		
				378	i	
		, , , , , , , , , , , , , , , , , , , ,		1,838		
		// // /		1,097		
!				1,084		
		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		360		
				715		
47		, , , , , , , , , , , , , , , , , , , ,	• •	354	17 606	
		Class VI-		0.990	17,606	
		28 at £335	• •	$9,380 \\ 330$	!	
į		1 / COOK (C 11 ) COOO (C 11 )	• •	$\frac{330}{328}$	1	
'		0 / 6005 /7 /1. \ 600/\ /5 /1. \	· ·	658		
1		m : 600 (0 11 ) 6000 (10 11 )		2,258		
		9 . ( 699% (1 41) (690() (11 41 .)		964	'	
44		0.009 4-0		640		
		Class VII			14,558	
i		$18  ext{ at } £305  ext{ } \dots  ext{$		5,490		
		1 at £305 (3 months), £280 (9 months)		287	İ	
				$569^{-1}$		
				276		
:		1 at £230 (11 months), £205 (1 month)		$228^{+}$		
		1 at £230 (3 months), £205 (9 months)		$\frac{212}{100}$		
		2 at £205 (11 months), £195 (1 month) . 1 at £210		409	•	
İ		1 at £210		210		
!		1 at £205 (10 months), £195 (2 months)	• •	204		
		1 at £205 (7 months), £195 (5 months) . 2 at £205 (5 months), £195 (7 months)	• •	$egin{array}{c c} 201 & \ \hline 399 & \ \hline \end{array}$	1	
!		2 at £205 (5 months), £195 (7 months) 2 at £205 (3 months), £195 (9 months)	• •	395		
i		1 at £205 (2 months), £195 (10 months)		197		
!		2 at £205		410		
		1 at £205 (11 months), £185 (1 month)		204	i	
ļ		1 at £205 (6 months), £185 (6 months)		195		
!		1 at £205 (4 months), £185 (8 months)		192		
i		1 at 6905 (9 months) 6190 (10 months)		$185 \pm$	i	
!				1,170	!	
İ		1 at £195 (11 months), £185 (1 month)		194		
		1 at £195 (8 months), £185 (1 month), £15	55			
				184	!	
			• •	191		
				$\frac{190}{275}$		
i		, , , , , , , , , , , , , , , , , , , ,		$\frac{375}{274}$	i	
			 55	374	ı	
		1 at £195 (2 months), £185 (2 months), £18		167		
		9 .1 2105 /111 / 2105 /1111 /		$\frac{167}{558}$		
		1 04 6162	• •	185	!	
		# 4 010E /10	• •	1,284	:	
		9 -4 (195 (0 41-) (175 (9 41-)		365		

Number of Persons.	Item	VOTE No. 4.—CUSTOMS—continued.	[	1938	-39.
<del>1938–39.</del>	<u> </u>	Subdivision No. I.—Customs Offices and Services—	continued.		<del>-</del>
	1	Salaries—continued.		£	£
,		Clerical Division—continued.			
		Class VII—continued.			
!		1 at £185 (6 months), £155 (3 months), £11 (3 months)	15 £ 160		
		1 at £185 (7 months), £175 (5 months) .	181		
		1 at £185 (6 months), £175 (1 month), £11	15	:	
		1 14 6105 (6 11111 10 11 11 11 1	$155 \pm 150$		
		2 at £185 (5 months), £175 (7 months) 1 at £185 (5 months), £115 (7 months)	. 359 . 145 j		
		3 at £185 (4 months), £175 (8 months)	535		
		2 at £185 (2 months), £175 (10 months)	$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
	į	1 at £180 (2 months), £155 (10 months)	160	i	
;		L of 6175 (9 months) 6165 (7 months)	. 175	!	
	!	1 at £175 (2 months), £105 (7 months). £9	. 125   95		
		1 4 6177 (0 41 ) 6177 (5) (1 )	$\frac{120}{179}$		
ļ		1 at £175 (8 months), £165 (1 month), £9	173   95		
	· i		. 155	i	
	:	l at £175 (5 months), £95 (7 months) l at £175 (8 months), £165 (4 months)	$egin{array}{ccc} 129 \ 172 & \end{array}$	;	
			. 168		
			. 334   . 327		
		1 at £165 (5 months), £80 (7 months) .	. 116		
		1 at £165 (6 months), £80 (6 months) 1 at £165 (9 months), £155 (2 months), £8	. 123		
:		(1 month)	. 157		
	İ	(2  months)	. 146		
		1 at £165 (1 month), £155 (1 month), £8 (10 months)	. 94		
3		Lat £165 (9 months), £155 (2 months) .	. 150		
		1 at £155 (6 months), £115 (6 months)	. 135 . 132		
		2 at £155 (3 months), £115 (9 months)	250		
		1 at £155 (9 months), £115 (3 months)	$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		2 at £115 (9 months), £95 (3 months)	220		
		2 at £115 (8 months), £95 (4 months) . 1 at £115 (7 months), £95 (5 months) .	. 217	!	
į		1 at £115 (4 months), £95 (8 months) .	102	!	
		2 at £115 (3 months), £95 (9 months) . 6 at £115 (2 months), £95 (10 months) .	200 590		
		1 at £115 (1 month), £95 (11 months)	. 97	;	
		9 at £115 (8 months)	101	:	
		9 at £05	$154 \ 190 \  ext{ }$		
		1 at £95 (11 months), £80 (1 month)	. 94		
		1 at £95 (4 months), £80 (8 months)	$\begin{array}{c c} 173 \\ 85 \end{array}$		
		2 at £05 (2 months) £20 (10 months)	. 252 . 248		
į	į į	9 of 605 (1 month) 600 (11 months)	. 248		
		2 at £80	. 160		
		10 at £80 (10 months)	220 666		
159		4 at £80 (9 months)	240	i	
100		· · · · · · · · · · · · · · · · · · ·	. 54	25,782	
İ	!	Cadets' lodging-allowances		<b>63</b> 0	

of Item Persons.	VOTE No. 4.—CUSTOMS—continued.	1938-	-3 <b>9.</b>
38–39.	Subdivision No. I.—Customs Offices and Services—continued.	e	
1	Salaries—continued.	£	£
	GENERAL DIVISION.		
1	7 at £335 2,345		
	1 at £320	i	
İ	1 at £300 300	1	
	7 at £295 2,065		
	1 at £295 (6 months), £280 (6 months)	į	
	2 at £295 (1 month), £280 (11 months) 563		
	3 at £280 840		
	6 at £270	İ	
,	25 at £260		
	1 at £260 (9 months), £250 (3 months)		
	- 0000		
i	$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
ļ.	1 at £225 (11 months), £215 (1 month)		
64	1 at £215 (11 months) 198		
!		17,499	
į	NON-PERMANENTS.		
	1 at £425 425		
	1 at £295 (1 month), £280 (11 months) 282	į	
	1 at £260		
	1 at £255 (2 months), £230 (10 months) 235		
	1 at £240 (5 months), £230 (7 months)	:	
	$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
	d . 000F (0) . 010F (0)		
	1 at £205 (3 months), £195 (9 months)	-	
	1 at £185 (7 months), £175 (5 months)	:	
	1 at £165 165		
	1 at £165 (8 months), £145 (4 months)		
	1 at £145 145		
	1 at £145 (5 months), £125 (7 months)		
	1 at £145 (4 months), £125 (8 months)		
	1 at £125 (4 months), £105 (8 months)		
	1 at £105 (8 months), £85 (4 months)		
	2 at £105 (4 months), £85 (8 months)		
	1 at £105 (2 months), £85 (10 months) 89	1	
Ì	1 at £105 (1 month), £85 (11 months)	5 8	
	1 at £85 85 1 at £85 (10 months), £65 (2 months) 82	į	
	1 at £85 (7 months), £65 (5 months)		
25	1 at £65 (11 months) 60	i	
	Others not specified 800		
434	1	4,851	
	Coastwaiter at sub-port (not being classified Customs officer)	15	
	Allowances under Public Service Regulations 24A and 209		
-	to officers temporarily performing special or higher duties	150	
1	Estimated credits-in-aid under Section 51 of the Public		
i	Revenues Act, 1926 (see end of vote)—		
1	Charges for services rendered to other Government Departments, &c.—		
	Collection of duty on motor-spirits 20,500		
	Collection of tire-tax 1,600	į Į	
	Collection of meat levy 600		
	Collection of wool levy 200		
1	Collection of honey levy 25		
	Miscellaneous 1,500		
;			
1	24,425		
		$131,430^{-1}$	
	<u>i_</u>		

Number of Persons.	Item	VOTE No. 4.—CUSTOMS—continued.	1938-	-39.
<del>1938–39</del> .		Subdivision No. I.—Customs Offices and Services—continued.	£	£
		Other Charges for and incidental to—	•	20
	$^{\circ}$ 2	Advertising, photographs, books, newspapers, and other		
	:	publications Head Office and local offices—	$75 \pm$	
			270	
	3	Launch-hire	350	
į	5	C J	$\begin{array}{c} 410 \\ 820 \end{array}$	
	6	Uniforms for officers	300	
	7	Immigration Restriction Act: Administrative expenses	100	
	8	Office-cleaning	125	
	9	Office fittings and requisites	1,500	
		Official Representatives, London—		
	10	Special allowances while stationed away from New	205	
	11	Zealand	385	
	11	Travelling and general expenses	500	
	12	Official Representative, New York— Special allowance while stationed away from New Zealand	410	
	13	Travelling and general expenses	1,300	
	14	Overtime and meal allowances	5,000	
	15	Postage, telegrams, and rent of boxes	1,500	
	16	Printing and stationery	2,500	
	17	Prosecutions and seizures and legal expenses	150	
	18	Rent of offices	1,130	
	. 19	Rewards in connection with the protection of the revenue		
		and the detection of offences against the Customs Acts or the Immigration Restriction Acts	350	
	20	Services rendered by Post and Telegraph Department	1,900	
	21	Telephone services (including installation, extension, main-	1,,,,,,,	
		tanance rant and calls)	1,125	
	22	Testing and gauging instruments	50 .	
	23	Transfer and removal expenses	2,000	
	24	Travelling allowances and expenses Typewriters, purchase of	1,150	
	25		125	
	26	Contingencies, including unforeseen expenditure incidental to the other items of this subdivision	25	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)—		
		Recoveries of overtime, postage, legal and £ miscellaneous expenses 4,300		
		Total—Subdivision No. I	23,280	154,710
		Subdivision No. II.—Customs: Miscellaneous Services.		
		CHARGES FOR AND INCIDENTAL TO— Compassionate allowances to—	!	
	27	Widow of the late H. J. Kent, Locker, Christchurch	109	
	28	Widow of the late W. C. Thomas, Collector, Napier	246	
	29	Customs Building, Wellington	500	
	30	Grant to Cook and Niue Islands Governments of an amount		
		equivalent to the Customs duties collected in New Zea-	4 000	
	31	land on goods afterwards shipped to those islands	4,839	
	$\begin{vmatrix} 31 \\ 32 \end{vmatrix}$	Grant to widow of deceased officer Payment to Otago Harbour Board of amount to cover cost	68	
	94	of special internal partitions and fittings in new wharf		
		office for Customs Department at Dunedin	500	
	33	Refund of duty payable on apple, pear, and quince trees		
		imported from Australia for planting in fireblight-free		
		area of Otago and under such conditions as may be	<b>₽</b> ∧	
	i	approved by the Minister	50 +	

Number of Persons.	Item	VOTE No. 4.—CUSTOMS—continued.	1938	-39.
1938–39.		Subdivision No. II.—Customs: Miscellaneous Services—continued.	£	£
	34	Charges for and incidental to—continued.  Refund of duty on arrowroot imported by the Presbyterian Foreign Missions Committee and disposed of for missionary purposes	15	
	35	Refund of duty on Coronation Medals imported into New Zealand for free distribution to school children	11	
	36	Refund of duty and sales tax on— Advertising folders, stationery, or similar articles as may be approved by the Minister of Customs, sent by over- sea municipal or similar bodies, or harbour, railway,		
	37	steamship, or similar organizations, for free distribution in New Zealand	75	
	38	articles for persons in poor circumstances who cannot pay the duty	25	
	39	that such medals, &c., would not be made in New Zealand	5	
	!	Navy League, and similar patriotic societies, Red Cross Society, and Young Helpers' League	25	
	40 41	Duty to the extent of the British preferential rate, on racing-boats imported by or for rowing clubs License fees for stills to be used in universities and public	100	
	42	hospitals, and for stills not in use sealed up to the satisfaction of the Collector of Customs Sales tax on artificial poppies to be sold for the benefit of	5	
		returned New Zealand soldiers	100	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)— Miscellaneous £15		
	. ;	Total—Subdivision No. II		6,673
	İ	Gross Total	••	161,383
	1	Credits-in-aid (a)	!	28,740
		NET TOTAL—VOTE No. 4		132,643
	(a) (	Credits-in-aid— Other Salaries. Charges.	1938	89
		Subdivision I	28,79	
		Totals	28,7	

### LAND AND INCOME TAX DEPARTMENT.

		_						18	38-39.		
							Salaries,	Oth	er Charges.	Total.	
Vote No	. 5.—	Land and Inc	come T	`ax			£	į	£	£	
Subdin	vision	I.—Land an	d Inco	me Tar		:	73,19	).3   ).3	38,863	112,056	
7,000,000					••		•	1			
,,		II —Employm	rent To	ixation	• •		46,96		28,225	75,190	
	Gros	s Total	• •	• •			120, 15	8	67,088	187,246	
	CRED	ITS-IN-AID					43,95	6	17,684	61,640	
	NET	TOTAL				• •	76,20	2	49,404	125,606	
Number				n, marrial ten in arreste.				-	1000		
of Persons.	Item	VOT	E No.	5.—LANI	O AND	INCOME	TAX.		1938–39.		
938-39.		Sube	division	ı No. I	Land an	d Income	e Tax.		!		
	1	*Salaries							£	£	
1		1 at £1,20		DMINISTRA	rive Dr	VISION.			1 200		
1		1 86 £1,20		• •	••	• •	• •	• •	1,200		
		Class Spe		PROFESSION	AL DIVI	SION.					
1		1 at £90		• •					900		
				CLERICAL	Divisi	ON.					
2	ļ.,	Class Spe 2 at £66							1,330		
4		$Class\ I$ —		• •	••	• •	• •	£			
	!	6 at £61 1 at £59		• •			• •	3,690 - 590			
8		1 at £56	65 (3 n	nonths), £5	 40 (9 mc	onths)	• •	546	 		
8		Class II 8 at £51							4,826		
(1		Class III		• • •	• •	• •	• •	• •	4,120		
		1 at £47			45 (6		• •	470			
3		1 at £4.		nonths), £4 nonths)	49 (o mo	ntns)	• •	$\frac{457}{260}$			
9		Class IV-		,	• • •				1,187		
7		7 at £45		• •	• •				2,975		
		Class V— 16 at £						6,080			
17				nonths), £3	55 (10 m	$_{ m ionths}$ )		359			
	t	Class VI-							6,439		
		27 at £3		 months), £	 390 (1 m	onth)		9,045 $-334$			
				1000000000000000000000000000000000000				663			
		1 at £3;	35 (L n	ionth), £32				321			
33		2  at  £35		• •	• •	• •	• •	640	11 009		
		Class VII 28 at £3						8,540	11,003		
				months), £	280 (1 n	ionth)		$1,817\frac{1}{2}$			
				months), £				301			
				nonths), £2 nonths), £2				$890 \\ 2921$			
				nonths), £2				$852\frac{1}{2}$	İ		

<sup>\*</sup> For particulars of salaries see "Public Service Classification List."

# LAND AND INCOME TAX DEPARTMENT—continued.

of ersons.	Item	VOTE No. 5.—LAND AND INCOME TAX—continued.		
38-39.	Sube	Subdivision No. I.—Land and Income Tax—continued.	£	£
	1	Salaries—continued.		٦.
	:	CLERICAL DIVISION—continued.		
	'	Class VII—continued.		
		2 at £305 (1 month), £280 (11 months) 564	j	
		1 at £280 280		
		1 at £280 (11 months), £255 (1 month) 278		
	i	1 at £230 (6 months), £180 (6 months) 205	1 1	
		1 at £230 (5 months), £180 (7 months) 201		
	ŀ	1 at £205 (8 months), £185 (4 months)		
	į	1 at £205 (7 months), £180 (5 months) 194 1 at £205 (5 months), £180 (7 months) 191		
	1	1 at £205 (5 months), £155 (7 months)	1	
		2 at £195 (11 months), £185 (1 month) 388		
		3 at £195 (9 months), £185 (3 months) 577		
		5 at £195 (8 months), £185 (4 months) 958		
	'	1 at £195 (6 months), £180 (6 months) 187		
	i	1 at £195 (2 months), £155 (10 months) 162		
	1 .	1 at £185		
		9 60 200 (11 110 110 11)	-	
		1 at £185 (10 months), £175 (2 months)		
	İ	1 at £185 (7 months), £175 (5 months)		
		1 at £185 (6 months), £155 (4 months), £115		
		(2 months) 163		
	1	1 at £185 (2 months), £175 (10 months) 177		
		1 at £185 (2 months), £175 (9 months), £115	,	
	1	(1 month)	1	
		2 at £185 (1 month), £175 (11 months) 351 1 at £175 175		
	!	4 at £175 (10 months), £165 (2 months)		
		1 at £175 (9 months), £165 (3 months)	4	
		1 at £175 (8 months), £165 (4 months)	$\frac{\tilde{1}}{2}$	
		1 at £175 (7 months), £165 (5 months)		
	i	1 at £175 (6 months), £165 (6 months)		
		1 at £175 (5 months), £115 (1 month), £95 (6 months)	,	
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	1	
		1 at £165 (11 months), £155 (1 month)		
		1 at £165 (10 months), £155 (2 months) 163		
		1 at £165 (8 months), £80 (4 months) 137		
	. :	3 at £155 (2 months), £115 (10 months) 365		
		3 at £115 (8 months), £95 (4 months) 325		
		6 at £115 (7 months), £95 (5 months)		
		7 at £115 (6 months), £95 (6 months)		
	İ	1 at £115 (5 months), £95 (7 months) 103 3 at £115 (2 months), £95 (10 months) 295	'	
		6 at £115 (1 months), £95 (10 months) 580	i	
	1	7 at £95		
		1 at £95 (11 months), £80 (1 month) 94		
		2  at  £95  (10 months), £80  (2 months) 185		
		1 at £95 (9 months), £80 (3 months) 91	1	
		1 at £95 (8 months), £80 (4 months)	1	
	1	3 at £95 (7 months), £80 (5 months)		
		2 at £95 (3 months), £80 (9 months)		
		2 at £95 (2 months), £80 (11 months)		
	'	2 at £80 (10 months)	-,	
		1 at £80 (9 months) 60		
		3 at £80 (8 months) 160	The state of the s	
148		1 at £80 (7 months)		
	I j	· · · · · · · · · · · · · · · · · · ·	$=$ 1 $-27$ , $139^{-1}$	

#### LAND AND INCOME TAX DEPARTMENT—continued.

Number of Persons.	Item	VOTE No. 5.—LAND AND INCOME TAX—continued.	1938–39.	
1938-39.		Subdivision No. I.—Land and Income Tax—continued.	£	£
			æ /	£
	1	Salaries—continued.		
		CLERICAL DIVISION—continued.		
		Cadets' lodging-allowance	596 34	
		Allowances to married officers to provide a minimum salary Allowance to officer performing special or higher duties under Public Service Regulations 24A and 209 (1)	100	
		GENERAL DIVISION.		
		1 at £305 305		
		1 at £280 280	i	
3		1 at £205 205	700	
		Non-permanents.	790	
		1 at £250 $\dots$ 250		
		10 at £235 2,350		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		2 at £215		
		1 at £205 (6 months), £195 (6 months) 200		
		$1 \text{ at } £195 \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots$		
	1	1 at £195 (10 months), £185 (2 months) 193		
		1 at £195 (9 months), £185 (3 months) 192	1	
		1 at £195 (4 months), £185 (8 months)		
		1 at £195 (2 months), £185 (10 months)		
		1 . 010 (11 .11 ) 010 (1 .11)		
		1 at £185 (11 months), £165 (1 month)		
		1 at £185 (4 months), £165 (8 months)	!	
		1 at £180 180		
		2 at £175	i I	
		3 at £165 495		
		1 at £165 (11 months), £145 (1 month)	!	
		1 at £165 (10 months), £145 (2 months) 162		
		2 at £165 (8 months), £145 (4 months)		
		1 at £156		
		1 at £155		
		1 at £145 145		
	1	2 at £145 (11 months), £125 (1 month)		
		1 at £145 (10 months), £125 (2 months) $141\frac{1}{2}$		
		1 at £145 (9 months), £125 (3 months)		
		2 at £145 (8 months), £125 (4 months)		
		1 at £125 (9 months), £105 (3 months)		
		1 at £125 (8 months), £105 (4 months)		
		3 at £125 (1 months), £105 (11 months)		
		3 at £105		
		1 at £105 (9 months), £85 (3 months) 100		
		1 at £105 (8 months), £95 (4 months) $\dots$ 108½		
		1 at £105 (1 month), £85 (11 months) 87		
		1 at £85 (9 months) 64		
		1 at £85 (7 months), £65 (5 months)	ĺ	
		1 at £85 (3 months), £65 (9 months)		
		5 at £85 (2 months), £65 (10 months)		
		1 at £65		
		1 at £65 (11 months) 593		
		1 at £65 (10 months), £55 (2 months)		
		1 at £65 (9 months), £55 (3 months) 62		
		1 at £65 (7 months), £55 (5 months) 61		
		1 at £65 (10 months) 54		
	1	1 at £65 (9 months) 49	ļ	

#### LAND AND INCOME TAX DEPARTMENT—continued.

Number of Persons.	[tem	VOTE No. 5.—LAND AND INCOME TAX—continued.	1938–39.	
38-39.		1		
:	į	Subdivision No. I.—Land and Income Tax—continued.	£	£
	1	Salaries—continued.		
	!	Non-permanents—continued.		ï
	-	£		
	1	3 at £55		1
97	Ì	1 at £55 (11 months)		
91		8 at £55 (10 months) 367	12 010	
<b>32</b> 8	İ	Temporary assistance	$13,942 \\ 800$	
İ		$\mathfrak L$	77,381	
		Amount provided but not required 2,538		
		Cost of work undertaken for Employment Tax		
1	7	Division 1,650		ı İ
,		TO 1. 1 TO 1. 1 TO 1. 1 TO 1.	4,188	
		Estimated credits-in-aid under Section 51 of the Public		
		Revenues Act, 1926 (see end of vote)— £		
1	į	Stamp Duties Department 120		
			73,193	
		OTHER CHARGES FOR AND INCIDENTAL TO-	10,190	
	$2 \stackrel{!}{:}$	Advertising, photographs, books, newspapers, and other		
İ	_	publications	1,300	
	3	Alterations to office	440	
	4	Amount required to cover difference in income-tax on High		
	i	Commissioner's salary assessed in New Zealand currency		
		and sterling	209	
	5	Cost of obtaining c.i.f. prices of wool and pelts for uses in		
		assessment of certain freezing companies	20	
	6	Law-costs (part recoverable)	1,300	
	$\frac{7}{2}$	Office equipment (furniture, fittings, and machines)	1,450	
	8	Overtime and meal allowances	3,250	
	$\frac{9}{10}$	Postage, telegrams, rent of boxes, freight, and cartage	3,400	
	10 11	Printing and stationery Refunds of unclaimed moneys (Unclaimed Moneys Act, 1908,	4,100	
1	11		600	
į <sub>1</sub>	12	D :: : : : : : : : : : : : : : : : : :	69	
i .	$13 \pm$		210	
	14	Rent, heat, and light	$\frac{210}{270}$	
-		Services rendered by other Departments—	210	
1	15	Post and Telegraph Department: Receiving land and		
:	!	income tax	3,000	
1	16	Valuation Department: Valuation of land for tax	1	
		purposes	16,920	
1	17	Telephone services (including installations, extensions,	_	
		maintenance, rent, and calls)	295	
	18 📒	Transfer and removal expenses	245	
	19	Travelling allowances and expenses	1,750	
2	20	Contingencies, including unforeseen expenditure incidental to the other items of this subdivision	35	
		The second and the second seco		
İ	-	Estimated credits-in-aid under Section 51 of the Public		
		Revenues Act, 1926 (see end of vote)— £		
	1	Law-costs		
		coverable from Stamp Duties Department		
1		in respect of services of Inspectors 20		
		in respect of services of inspections 20		
.		1,120		
	ļ			
			38,863	
1	1	Total—Subdivision No. 1		112,056

### ${\tt LAND\ AND\ INCOME\ TAX\ DEPARTMENT-} continued.$

Number of Persons.	Item	VOTE No. 5.—LAND AND INCOME TAX—continued.		1938–39.	
1938–39.		Subdivision No. II.—Employment Taxation.		£	£
	21	Salaries—			
	-1		I		
	i i	$ ext{Class }I- ext{}$			
1		1 at £615	]	615	
	:	Class IV—			
3		3 at £425		1,275	
		Class V—	£		
		13 at £380	4,940		
15		2 at £380 (11 months), £355 (1 month)	<b>7</b> 56		
				5,696	
	1	Class VI— 17 at £335	5 605		
		17 at £335	$5,695 \pm 323$	1	
19	-	1 at £320	$\frac{320}{320}$		
				6,338	
		Class VII—			
		3 at £305	915		
		1 at £230	$\begin{array}{c c} 230 \\ 383 \end{array}$		
		2 at £195 (8 months), £185 (4 months) 2 at £195 (6 months), £185 (6 months)	380		
		1 at £195 (6 months), £185 (5 months), £155	000		
		(1 month)	188		
		1 at £195 (3 months), £180 (9 months)	184		
		1 at £185	185		
		1 at £185 (6 months), £155 (3 months), £115 (3 months)	160	1	
		(3 months)	100		
		(2 months)	138		
		1 at £180 (3 months), £155 (9 months)	161	1	
	1	$2 \text{ at } £175 \text{ (6 months)}, £95 \text{ (6 months)} \qquad \dots$	270		
		2 at £175 (2 months), £165 (10 months)	333		
		1 at £175 (2 months), £95 (10 months)	109		
		1 at £175 (1 month), £165 (11 months) 1 at £175 (1 month), £115 (5 months), £95	166		
		(6 months)	109	ł	
		5 at £165 (10 months), £155 (2 months)	817		
	. !	1 at £165 (10 months), £155 (1 month), £80		!	
	į	(1 month)	157		
		1 at £165 (10 months), £95 (1 month), £80	159	1	
		(1 month)	$\frac{152}{162}$	:	
		1 at £165 (9 months), £95 (3 months)	148	1	
	: 	1 at £165 (9 months), £95 (1 month), £80	į		
		(2 months)	145		
		1 at £165 (8 months), £95 (3 months), £80	140		
	İ	(1 month)	140		
		(9 41)	139		
		(2 months)	483		
		1 at £165 (7 months), £155 (4 months), £80			
		(I month)	154		
		2 at £165 (7 months), £155 (2 months), £80	201		
	Ì	(3 months)	284		
		1 at £165 (2 months), £95 (9 months), £80	105		
	İ	(1 month)	100		

### LAND AND INCOME TAX DEPARTMENT—continued.

of Persons.	Item		1938-	-39.
938-39.		VOTE No 5.—LAND AND INCOME TAX—continued	e	e
		Subdivision No. II.—Employment Taxation—continued.	£	£
	21	Salaries—continued.		
		CLERICAL DIVISION—continued.		
150		Class VII—continued.         1 at £165 (2 months), £95 (5 months), £80       £         (5 months)           1 at £115           1 at £115 (8 months), £95 (4 months)           1 at £115 (8 months), £95 (5 months)           1 at £115 (6 months), £95 (6 months)           1 at £115 (5 months), £95 (6 months)           1 at £115 (3 months), £95 (7 months)           1 at £115 (2 months), £95 (10 months)           2 at £115 (1 month), £95 (11 months)           3 at £115 (1 month), £95 (11 months)           4 at £95 (10 months), £80 (2 months)           1 at £95 (8 months), £80 (4 months)           1 at £95 (6 months), £80 (7 months)           1 at £95 (2 months), £80 (7 months)           251            11 at £95 (2 months), £80 (10 months)           251            15 at £80	16,060 1,981	
23		Departments  Allowances to officers performing special or higher duties under Public Service Regulations 24a and 209.  Cost of work undertaken by Land and Income Tax Division	6,100 155 1,650	
23		Departments	155	
23		Departments	155	
23		Departments	155	
23		Departments	155	
23		Departments	155	
23		Departments	155	
23		Departments	155	
23		Departments	155	
23		Departments	155	
23		Departments	155	
23		Departments	155	
23		Departments	155	
23		Departments	155	
23		Departments	155	
23		Departments	155	
23		Departments	155	
23		Departments	155	
23		Departments	155	
23		Departments	155	
23		Departments	155	

## ${\tt LAND\ AND\ INCOME\ TAX\ DEPARTMENT}-continued.$

of Persons.	Item	VOTE No. 5.—LAND AND INCOME T.	1938–39.			
938-39.	<u></u>	Subdivision No. II.—Employment Taxati	on-conti	inued.	£	£
	21	Salaries—continued.			£	į £
		Non-permanents—continued	<i>!</i> .			
		1 at £95		£ 95		
		2 at £95 (9 months)		143		
		1 at £65 (10 months)		54		
49		1 at £55 (10 months)		46	7 019	
260		Temporary office assistance			$7,013 \\ 82$	
Total		Estimated credits-in-aid under Sec				
Number of		Public Revenues Act, 1926 (see e		€)— £		
Persons.		Employment Promotion Fund: bution	Contri-	43,836		
588				-	46,965	
	22	Other Charges for and incidental to—Advertising, photographs, books, newspi		d other	1	
	00	publications	• •	••	500	
	23 24	Alterations to office Law-costs (part recoverable)	• •	••	200 500	
	25	Law-costs (part recoverable) Motor-vehicles, maintenance and repairs	• •	••	360	
	26	Office equipment		•••	425	
	27	Overtime and meal allowances			1,620	
	28	Postages, telegrams, rent of boxes, freight			1,825	
	29	Printing and stationery			2,650	
	30	Printing employment stamps			500	
	31	Rent, heat, and light			375	
	32	Repairs and renewals to office equipment	• •	••	<b>7</b> 5	
	33	Services by other Departments—		d. of		
	99	Post and Telegraph: Collection of rev		1	15,000	· 
	34	tax, &c	• • •	• •	285	
	35	Travelling allowances and expenses			3,875	
	36	Contingencies			35	
		Estimated credits-in-aid under Section	1 51 of th	e Public		
		Revenues Act, 1926 (see end of ve	ote)	£		
		Law-costs		400		
		Employment Promotion Fund: C	ontribu-	16,164		
				16,564		
				-	28,225	
		Total—Subdivision No. II			28,229	75,19
		Gross Total		•• ;		187,24
		Credits-in-aid (a)		• •	• •	61,64
		NET TOTAL—VOTE No. 5				125,60
	(0	) Credits-in-aid— Salaries.		other sarges.	1938–39.	
		£	31	£	£	

Credits-in-aid	d			Other	
			Salaries.	Charges.	1938-39.
			£	£	£
Subdivision	I		$\dots$ 120	1,120	1,240
,,	$\Pi$		43,836	16,564	60,400
Totals	• •	• •	43,956	17,684	61,640

#### STAMP DUTIES DEPARTMENT.

						19	38-39.	
					Salaries.	Othe	r Charges.	Total.
Vote No. 6.—	-Stamp Duties—				£		£	£
Subdivision	I.—Stamp Dutie	s			27,625		9,733	37,358
,,	II.—Land and D	eeds Registry			45,280		19,583	64,863
Gross To	OTAL		• •		72,905		29,316	102,221
CREDITS-	IN-AID				50		895	945
NET TO	TAL	• •			72,855		28,421	101,276
Number of Persons.	vo	TE No. 6.—	STAMP	DUTIE	S.		1938	3–39.
938-39.	Sut	$odivision\ No.$	I.—Star	np Duti	es.	ł	е	
1	*Salaries-						£	£
!		Administra	TIVE DIV	VISION.				
1	1 at £1,100 (0 for Land a	Commissioner nd Deeds)	of Stan	p Dutie	s and Secret	ary	1,100	:
3	Class Special 3 at £665	CLERICAI 	Divisio	ON.		!	1,995	
1	Class I— 1 at £565 (5	months), £5	40 (7 mo	$_{ m nths})$			550	
2	Class III— 1 at £470 1 at £445					£ 470 445	015	
5	Class IV— 4 at £425 1 at £400 (4	months), £3	 80 (8 mo	$ ext{nths}$ )		700 387	915	
6	Class V— 6 at £380				• •		2,087 2,280	
27	Class VI— 26 at £335 1 at £335 (2	months), £3	 20 (10 m	$\dots$ onths)		710 323	9,033	

<sup>\*</sup> For particulars of salaries see "Public Service Classification List."

	1 1				
Number of Persons.	Item	VOTE No. 6.—STAMP DUTIES—continued.	1938	1938–39.	
938–39.		Subdivision No. I.—Stamp Duties—continued.	:	<del></del>	
	1	Salaries—continued.	£	£	
		CLERICAL DEVISION—continued.			
		Class VII—			
	j	6  at  £305 $1,830$			
		1 at £305 (9 months), £280 (3 months) 299			
		$4$ at £175 $\cdot$			
		1 at £165 (9 months), £155 (3 months) 163			
	1	2  at  £155 310			
		2 at £155 (8 months), £80 (4 months) 260			
		1 at £155 (5 months), £80 (7 months) 110			
	1	1 at £135 (9 months), £115 (3 months) 130			
		1 at £115 115			
		1 at £95	!		
	i l	1 at £115 (11 months), £95 (1 month) 113			
		1 at £115 (9 months), £95 (3 months) 110 1 at £115 (6 months), £95 (6 months) 105	:		
		4 A A A A A A A A A A A A A A A A A A A			
		1 at £115 (5 months), £95 (7 months) 104 1 at £115 (2 months), £95 (10 months) 98	:		
		1 at £95 (11 months), £80 (1 month)	1		
		1 at £95 (1 months), £80 (11 months)			
31		4 at £80	-		
			5,037		
		GENERAL DIVISION.	, ,		
		1 at £295 295			
		1 at £275 275			
		$3 \text{ at } £265 \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots$			
		1 at £250 250			
9		$3 \text{ at } £195 \dots 585$	2 200		
		Non proper village	2,200		
		Non-permanents. 1 at £265 265	ļ		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$			
		$3 \text{ at } £195 \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots$	!		
		$2 \text{ at } £185 \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots$			
		1 at £165			
		1 at £155 (8 months), £130 (4 months)			
		1 at £125 $\dots$ 125			
		1 at £105 $\dots$ $\dots$ 105			
		$2 \text{ at } £85 \dots \dots 170$			
16		$3 \text{ at } £65 \dots \dots 195$			
101		C 1 . 1 1 . 1	2,336		
101		Cadets' lodging-allowances	125		
The resume season	i l		27,658		
		Less amount provided but not required	33		
		-			
			27,625		
		Other Charges for and incidental to-			
	2	Advertising, books, photographs, newspapers, and other			
		publications	150		
	3	Binding	50		
	4	Bondholders Incorporation Commission, expenses of (re-	MFA		
		coverable)	750		
	$\begin{bmatrix} 5 \\ 6 \end{bmatrix}$	Freight, cartage, and transport charges	75   200		
		Fuel, light, power, and water	200 50		
	$\begin{vmatrix} 7 \\ 8 \end{vmatrix}$	The state of the s	300		
	9	Law-costs	500 ∤ 75 ∤		
	10	Office equipment	500		
	$\begin{bmatrix} 10 \\ 11 \end{bmatrix}$	Overtime and meal allowances	150		
	$\begin{vmatrix} 11\\12 \end{vmatrix}$	Payment to Department of Internal Affairs: Cleaning and	100		
	1	messenger service	300		

Number of Persons.	Item	VOTE No. 6.—STAMP DUTIES—continued.	<b>19</b> 38-	39.
<b>1938–3</b> 9.	 	Subdivision No. I.—Stamp Duties—continued.	£	£
		•		~
	13 14	OTHER CHARGES FOR AND INCIDENTAL TO—continued.  Postage, telegrams, and rent of boxes (part recoverable)  Printing and stationery	1,150 1,500	
	15	Refunds of— Overseas-passenger duty paid by officers returning to		
	16	Fiji from furlough in New Zealand	$\begin{array}{c c} 10 \\ 23 \end{array}$	
	17	Stamp duty on agreement	$\frac{23}{12}$	
	18	Stamp duty on assignment between dairy companies	4	
	$\frac{19}{20}$	Stamp duty prid in any where duty was charged his	14	
	20	Stamp duty paid in cases where duty was chargeable prior to passing of Companies (Bondholders Incorporation) Act, 1934–35, which would not have been chargeable if transactions had taken place under the	-	
		Act	700	
	21	Rent of offices	1,700	
	$\begin{vmatrix} 22 \\ 23 \end{vmatrix}$	Stamp-productions Stamping machinery	750 50	
	24	Telephone services (including installation, extensions,	00	
	05	maintenance, rent, and calls)	350	
	$\begin{vmatrix} 25 \\ 26 \end{vmatrix}$	Transfer and removal expenses  Travelling expenses and allowances	$\frac{500}{100}$	
	27	Typewriters— £	100	
		Purchase of 30		
		Maintenance of 20	50	
	28 29	Valuation fees	200	
		to the other items of this subdivision	20	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)—		
		Bondholders Incorporation Commission, £		•
		refund expenses of $\dots$ $\dots$ 520 Law-costs and miscellaneous $\dots$ 100		
		Postage on parcels of stamped forms 250		
		Salaries 50		
		Stamp-production 25		
		945		
			9,733	
		Total—Subdivision No. I		37,358
		Subdivision No. II.—Land and Deeds Registry.		
	30	Salaries— Professional Division.		
		Thorizonal Division.		
1		$Professional\ Class\ Special\ A-1\ at\ \pounds 765$	765	
$_2$		$Professional\ Class\ Special\ B$ 2 at £715	1,430	
		Professional I—		
		3 at £615 1,845		
		3 at £565 (5 months), £540 (7 months) 1,650		
7		1 at £540 (5 months), £515 (7 months) 525	1 000	
	1		4,020	

Number of Persons.	Item	VOTE No. 6.—STAMP DUTIES—continued.	1938	8–39.
938-39.		Subdivision No. II.—Land and Deeds Registry—continued		
	30	Salaries—continued.	£	1
		Professional Division—continued.		
				İ
2		Professional II— 2 at £515 (5 months), £490 (7 months)	1,000	
3		Professional III— 3 at £445	1,335	
1		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	425	
		CLERICAL DIVISION.		į
1		Class II— 1 at £515	515	i
10		Class III— 10 at £445	4,450	
		Class IV—	£	i
		1 at £425	125	1
2		1 at £425 (5 months), £400 (7 months)	835	
8		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	3,040	
		Class VI—		1
		40 at £335 13,4	100	
		4 at £335 (1 month), £320 (11 months) 1,2	284	
		//	$egin{array}{c c} 327 & & & \\ 324 & & & & \\ \end{array}$	
48			346	
		<u> </u>	15,981	:
		Class VII— $8 \text{ at } £305$ 2.4	440	
		the contract of the contract o	29	
		1 at £175	175	
	1		65	i
			155	
			230	1
			214	İ
			202	
		1 at £115 (2 months), £95 (10 months)	98 97	
			285	
		1 at £95 (2 months), £80 (10 months)	83	
		1 at £95 (1 month), £80 (11 months)	81	
26		1 at £80	80	:
			4,434	
•		GENERAL DIVISION.		
			295	
			265	
			205	
<b>=</b>			585	1
7		1 at £165	$\frac{165}{} \qquad 1,515$	
		Non-permanents.	, -	
		1 at £255 (7 months), £195 (5 months)	230	
	. [		245	
	- 1		235	

Number of Persons.	Item	VOTE No. 6.—STAMP DUTIES—continued.	1938	3–39.
938-39.		Subdivision No. II.—Land and Deeds Registry—continued.		1
	30	Salaries—continued.	£	£
İ		Non-permanents—continued.		
i		£		 
		4 at £220 $\dots$ 880		
		4 at £195		
		7 at £185		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		$2 \text{ at £165} \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots$		ļ
		$1 \text{ at } \pounds 125 \dots 125$		
		$2 \text{ at } \pounds 105$ $210$		!
		1 at £85 85		
31		1 at £65 $\dots$ 65		
			5,460	İ
149	į	Cadets' lodging-allowances	125	İ
(ID _ 4 _ 1			45,330	
Total Number of		Less amount provided but not required	50	:
Persons. 250			45,280	
	31	OTHER CHARGES FOR AND INCIDENTAL TO— Advertising, photographs, books, newspapers, and other		
	31	publications	250	
	32	Binding	300	
	33	Department of Lands and Survey: Draughtsmen's work		
	34	performed	11,000	İ
	35	Freight, cartage, and transport charges	1,000 50	
	36	Fuel, light, power, and water	300	
	37	Law-costs	10	
	38	Office-cleaning	200	
	39	Office equipment	500	
	40	Overtime and meal allowances	70	
	41	Postage, telegrams, and rent of boxes	250	
	42	Printing and stationery	750	
	43	Rent	, ,,,	
	$\begin{array}{c c} 44 \\ 45 \end{array}$	Telephone services (including installation, extensions,	23	1
	40	maintenance, rent, and calls)	250	i
	46	Transfer and removal expenses	500	
	47	Travelling expenses and allowances	75	
	48	Typewriters— £		
	į	$\hat{P}$ urchase of 25		
	ì	Maintenance of 20	45	ļ
	49	Contingencies, including unforeseen expenditure incidental		: 
ļ		to the other items of this subdivision	10	
; 	:	Total—Subdivision No. II	19,583	64,86
		Gross Total		102,22
	ļ	Credits-in-aid	••	94
		NUMBER OF A STATE OF THE STATE		
;		NET TOTAL—VOTE No. 6		101,27

#### AUDIT DEPARTMENT.

						1938–39.				
						Salaries.	Othe	er Charges.	Total.	
Vote No	. 7—.	Audit—				£	£		£	
	Gros	s Total			!	67,615	; i	12,335	79,950	
	Cprn	ITS-IN-AID			į	22,665		12,335	35,000	
			• •	••			l	12,000		
	NET	TOTAL	••	• •	••	44,950			44,950	
Number of Persons.	Item							1938	3 <b>-39.</b>	
938–39.			VOTE N	Vo. 7.—A	UDIT.			!	!	
	1	*Salaries	Change	. D				£	£	
		1 at £900	OLERICA	L Divisi	ON. 			900	i	
		Class Special 2 at £715	<i>B</i> —				• •	1,430		
8		Class Special 5 at £665	<i>C</i> —					3,325	:	
6		Class I— 4 at £615 1 at £565	 3 months), £5	 540 (6 mo	  	2	£ 2,460 565 552	 	i :	
v		Class II— 13 at £515	, monono,, ac			<i>e</i>	5,695	3,577		
14	; , 1	1 at £515 (	5 months), £4	190 (7 mo	nths)		500	7,195		
10		Class III— 9 at £470 1 at £515 (2	 2 months), £4	 170 (10 m	onths)	4	,230 477		\$ T	
20		Class IV— 18 at £425 1 at £425 (	 10 months), £ 3 months), £4	 3400 (2 m	onths)	7	7,650 421 406	4,707		
25		Class V— 25 at £380	, intonomy), w			-		8,477 9,500		
26		Class VI— 22 at £335 1 at £335 ( 1 at £335 ( 1 at £335 (	9 months), £3 8 months), £3 8 months), £3 2 months), £3	320 (4 mo 320 (9 mo	onths)	7	7,370 331 330 324 323	8,678		

<sup>\*</sup> For particulars of salaries see "Public Service Classification List."

#### AUDIT DEPARTMENT—continued.

ber of	Item				1938	-3 <b>9.</b>
ons. $-39$ .	<u> </u>	VOTE No. 7.—AUDIT—continued.		į-	1	
<i>0</i> 0.	1	Salaries—continued.			£	ŧ
		CLERICAL DIVISION—continued.				
		Class VII—		£	i	
		21 at £305		6,405	į	
		2 at £305 (11 months), £280 (1 month)		606	i	
		1 at £305 (10 months), £280 (2 months)		301		
		1 at £305 (9 months), £280 (3 months)		299		
	i	1 at £305 (10 months), £255 (2 months)		297		
		1 at £305 (6 months), £280 (6 months)		292		
		1 at £305 (3 months), £280 (9 months)		286		
		2 at £305 (2 months), £280 (10 months)	• •	568		
		1 at £280 (11 months), £255 (1 month)	• •	278	ĺ	
	1	3 at £255 (2 months), £230 (10 months)	• •	702	!	
		1 at £230 (8 months), £205 (4 months)	• •	222	:	
		1 at £230 (4 months), £205 (8 months)	• •	214		
		1 at £230 (2 months), £205 (10 months) 2 at £205	• •	$\frac{209}{410}$		
		1 at £205 (10 months), £195 (2 months)	• •	203		
	ļ	1 at £205 (10 months), £195 (2 months) 1 at £205 (5 months), £195 (7 months)		199		
	1	2 at £205 (1 month), £195 (11 months)		392		
		1 at £195 (11 months), £185 (1 month)		194		
	ļ	3 at £195 (9 months), £185 (3 months)		579		
		1 at £195 (8 months), £185 (4 months)		192		
	1	2 at £195 (2 months), £185 (10 months)		374		
		3 at £185 (10 months), £175 (2 months)		549		
		2 at £185 (4 months), £175 (8 months)		356		
		1 at £185 (2 months), £175 (10 months)		177	1	
		1 at £175 (11 months), £165 (1 month)		174	1	
		1 at £175 (10 months), £165 (2 months)	• •	173		
		1 at £195 (3 months), £185 (2 months), £155	(7			
		months)		170	:	
		1 at £175 (8 months), £115 (3 months), £95	(L	770	!	
	-	month)		153		
	1	1 at £185 (4 months), £155 (4 months), £115	(4:	150		
		months)	 15	152		
		months)	•	151	:	
		2 at £155	• •	310		
		3 at £115 (8 months), £95 (4 months)		324		
		1 at £115 (6 months), £95 (6 months)		105		
		1 at £175 (1 month), £95 (11 months)		102		
		1 at £165 (10 months), £155 (1 month), £80	(1		;	
		month)		157		
		4 at £115 (2 months), £95 (10 months)		392		
	i	1 at £115 (1 month), £95 (11 months)		96		
		4 at £95 (3 months), £80 (9 months)		336		
0.5		3 at £80 (10 months)		201		
85		3 at £80 (9 months)	• •	180	15 400	
		Lodging allowerses			17,480	
		Lodging-allowances	• •	••	370 50 -	
		Audit Officers, London and Samoa, allowances to	• •	• •	878 E	
		Addit Officers, Bondon and Samoa, anowances b	U	•••	010	
		GENERAL DIVISION.				
1	1	1 at £205			205	
-	ļ	· · · · · · · · · · · · · · · · · · ·			200	
		Non-permanents.		£		
	Í Í	3 at £225		675		
4		1 at £185 (2 months), £165 (10 months)		168		
					843	
99				-	OF 035	
	Į.			4	67,615	

#### AUDIT DEPARTMENT—continued.

Number of Persons.	Item		1938-	-39.
1938-39.	·	VOTE No. 7.—AUDIT—continued.		* 15 21 - 122 1274
			£	£
		OTHER CHARGES FOR AND INCIDENTAL TO-		
	$^2$	Advertising, books, newspapers, and other publications	225	
	3	Law-costs	25	
	4	Office fittings and requisites	500	
	5	Overtime and meal allowances	1,250	
	6	Postages, telegrams, and rent of boxes	300	
	7	Printing and stationery	450	
	8	Rent	500	
	9	Telephone services including installations, extensions, main-		
		tenance, rent, and calls	275	
	10	Transfer and removal expenses	750	
	11	Transfer expenses Audit Officers to and from London	550	
	12	Travelling allowances and expenses	7,500	
	13	Contingencies, including unforeseen expenditure incidental		
	1	to other items of the vote	10	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)—  Audit inspection—  Local authorities		
		35,000		
			12,335	
		Gross Total		79,950
		Credits-in-aid		35,000
		NET TOTAL—VOTE No. 7		44,950

#### PUBLIC SERVICE COMMISSIONERS' OFFICE.

						-	1938–39.				
		•				1	Salaries.	Oth	er Charges.	Total.	
Vote No	. 8.—	Public Servic	e Comr	nissioners'	Office—		£		£	£	
	Gros	s Total					11,00	$_{\rm o}$	4,420	15,420	
	URED	ITS-IN-AID	• •	• •	• •		••		700	700	
	NET	TOTAL	• •		• •		11,000	)	3,720	14,720	
Number of Persons.	Item						1 Fig. State of the second and analysis of the second and the seco		1938	3–39.	
938-39.		VOTE No	o. 8.—]		ERVICE.	E COMM	ISSIONER	LS'	£	£	
	1	*Salaries—	•								
		Class I—		CLERICA	L Divisi	ON.		£			
	. !	1 at £6						$\frac{x}{615}$			
3	:	2 at £5						1,180	  - 	i	
			_						1,795	i	
2	i	Class II.							940		
4		2 at £4	:10	••	••	• •	• •	• •	940	1	
		$Class\ V-$									
2		2 at £3	880					• •	760		
		Class VI									
$^2$		2 at £3							670		
		Class VI						015		! !	
		3  at  £3		nonths), £2	30 (6 ma	ntha)	• •	$\frac{915}{242}$		İ	
				nonths), £2			• •	217		1	
				nonths), £2			• •	100			
		1 at £2	00 (0 n	nonth), £19	05 (11 mg	nths)	• •	196			
	j ļ			1000 ths), £1				188			
		1 at £1	85 (9 n	nonths), £1	80 (3 mo	nths)		183			
				nonths), £9				110			
		1 at £9	5		` . <b>.</b>			95			
		1 at £9	5 (1 mc	onth), £80	(11 mont	hs)		81			
16		4 at £8		•••	•••	•		320			
		A 1 . 1		11					2,647		
		Cadets'	' lodgin	g-allowanc	es	• •	• •	••	154		
				GENERAI	Divisio	ON.					
1	: [	1 at £265							265		

<sup>\*</sup> For particulars of salaries see "Public Service Classification List."

## $A\,ppropriations\,\,for\,\,Consolidated\,\,Fund\,\,Services.$

#### ${\bf PUBLIC~SERVICE~COMMISSIONERS'~OFFICe} - continued.$

Vumber of Persons.	Item	VOTE No. 8.—PUBLIC SERVICE COMMISSIONERS' OFFICE—continued.	1938–39.	
38-39.				
	1	Salaries—continued.	£	£
		Non-permanents.		
		£		
		1 at £250 $\dots$ 250		
		1 at £250 (6 months) 125	:	
		2 at £235 \		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		1 at £215	1	
		1 at £205 (11 months)	,	
		1 at £205 (9 months)		
		1 at £185 185		
		1 at £185 (10 months), £165 (2 months) 182		
		1 at £180 (11 months) 165		
19		1 at £125 (6 months), £105 (6 months) 115		
			3,749	
45		Allowances to officers performing special or higher duties under Public Service Regulations 24A and 209	20	
			11,000	
	0	OTHER CHARGES FOR AND INCIDENTAL TO—	ຄຮ	
	2	Advertising vacancies in the Public Service	$^{25}$ $\mid$	
	3	Appeal Board expenses— Allowance to Chairman	100	
	4	Expenses connected with appeals: Travelling-expenses,	100	
	1	stationery, postage, &c	750	
	5	Rental for use of rooms	30	
	6	Salary of Secretary to Board (6 months)	190	
	7	Examinations (recoverable)	100	
	8	Office fittings and requisites	500	
	9	Official visit of inspection to Rarotonga	145	
	10	Overtime and meal allowances	300	
	11	Printing and stationery	500	
	$egin{array}{ c c c c c c c c c c c c c c c c c c c$	Postage and telegrams	$\begin{array}{c c} 200 \\ 755 \end{array}$	
	14	Rent, cleaning, light, fuel, &c  Telephone services (including installation, extensions, main-	199	
	1.1	tenance, rent, and calls)	150	
	15	Travelling allowances and expenses	650	
	16	Contingencies, including unforeseen expenditure incidental		
		to the other items of the vote	25	
		Estimated credits-in-aid under Section 51 of the Public		
		Revenues Act, 1926 (see end of vote)—	į	
		Examinations		
			4,420	
!		Gross Total		15,42
		Credits-in-aid		70
		NEW MOMAT WOME No 9	-	44 50
	1	NET TOTAL—VOTE No. 8 —		14,72

#### DEPARTMENT OF INTERNAL AFFAIRS.

	_					1938 <b>-3</b> 9.	
				-	Salaries.	Other Charges.	Total.
ote No. 9.—	-Internal Affairs-	<del>_</del>			£	£	£
Subdivisi	on I.—Head Off	îce			28,627	57,024	85,651
,,	II.—Ministers	s' Secretaries			13,085		13,083
,,	III.—Messenge	rs, Office-keepe	ers, and	Char-	120,231	5,050	125,281
,,	women IV.—High Cor		$\it ffice$		31,815	14,459	46,265
,,	VExplosive	es Branch			3,419	3,858	7,277
Sub-	TOTAL				197,177	80,382	277,559
Crei	DITS-IN-AID .				48,615	28,620	77,235
NET	Sub-total .				148,562	51,762	200,324
Subdivisi	on VI.—Miscella	neous Services			38,864	291,286	330,150
Crei	DITS-IN-AID .				27,326	15,044	42,370
NET	Total, Subdivis	sion VI		:	11,538	276,242	287,780
	Gross Total .				236,041	371,668	607,709
	Credits-in-aid .				75,941	43,664	119,605
	NET TOTAL .				160,100	328,004	488,104
	A CONTRACTOR OF THE CONTRACTOR						
of Item Persons.	VOI	TE No. 9.—IN Subdivision No					8–39.
of Item Persons.	VOI		о. І.—Не	ead Office		193	8–39.
of Persons.   Item	*Salaries—	Subdivision No	o. I.—He	ead Office			
of Persons.	*Salaries—	Subdivision No  Administrate cretary) at £1,0  Profession	o. I.—He tive Div	ead Office vision.		£	
of Persons.	*Salaries—  1 (Under-See	Subdivision No  Administrate cretary) at £1,0  Profession	o. I.—He tive Div	ead Office vision.		£	£
of Persons.   14em   1   1	*Salaries—  1 (Under-Secondary P. II— 1 at £500	Subdivision No  Administrate cretary) at £1,0  Profession  (8 months)	D. I.—He TIVE DIV  D50  NAL DIV	ead Office vision.  ision.		1,050	£
of Persons.	*Salaries—  1 (Under-Secondary P. II— 1 at £500  Class Specia 1 at £665 Class I—	Administrate cretary) at £1,0 Profession (8 months) CLERICAL	D. I.—He TIVE DIV  D50  NAL DIV	ead Office vision.  ision.	·· ··	£ 1,050 333	£
of Persons.   14em   1   1	*Salaries—  1 (Under-Secondary II— 1 at £500  Class Specia 1 at £665 Class I— 1 at £600 3 at £615 Class II—	Administrate retary) at £1,0 PROFESSION (8 months) CLERICAL	D. I.—He TIVE DIV  D50  NAL DIV	ead Office vision.  ision.	· · · · · · · · · · · · · · · · · · ·	1,050	£
Persons.   938–39.   1	*Salaries—  1 (Under-Secondary P. II— 1 at £500  Class Specia 1 at £665 Class I— 1 at £600 3 at £615 Class II— 1 at £515	Administrate cretary) at £1,0 Profession (8 months) CLERICAL (3 months) (9 months), £4	D. I.—He TIVE DIV  D50  NAL DIV  L DIVISIO	vision.  ision.  on.	· · · · · · · · · · · · · · · · · · ·	£ 1,050 333 665 150 845 1,995	£

<sup>4-</sup>B. 7.

	· · · · · · · · · · · · · · · · · · ·		
Number of Item		1938-	39.
938-39.	VOTE No. 9.—INTERNAL AFFAIRS—continued.		
990-99.	Subdivision No. I.—Head Office—continued.	£	£
1	Salaries—continued.		
	Clerical Division—continued.		
	Class V—		
6	6 at £380	2,280	
	Class $VI$ — $\qquad \qquad \pounds \qquad \qquad \qquad \qquad \qquad \qquad \qquad \qquad \qquad \qquad \qquad \qquad \qquad \qquad \qquad \qquad $		
	7 at £335 2,345 1 at £335 ( $10\frac{1}{2}$ months), £320 ( $1\frac{1}{2}$ months)		
9	1 at £335 ( $5\frac{1}{3}$ months), £320 ( $6\frac{1}{3}$ months) 327	:	
	Class VII—	3,005	
	4 at £305 1,220		
	1 at £305 (11 months), £280 (1 month) 303		
ı	1 at £305 (5 months), £280 (7 months) 290		
	1 at £185 (7 months), £175 (5 months)		
	1 at £165 (8! months), £155 ( $3\frac{1}{2}$ months)		
	2 at £115 (4 months), £95 (8 months) 204		
	1 at £95 ( $\hat{6}_{2}^{1}$ months), £80 ( $\hat{5}_{2}^{1}$ months) 88		
13	1 at £95 (2 months), £80 (10 months) 83		
:	A21	2,710	
	Allowances to officers temporarily performing special or higher duties under Public Service Regulations 24A		
	and 209	65	
:	Lodging-allowances (Cadets)	62	
:	, and the second control of the second contr		
	GENERAL DIVISION.		
	2 at £425 850	į	
i	1 at £305		
	$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
1	$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
	$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
	1 at £205 (8½ months), £180 ( $3\frac{1}{2}$ months) 198		
	1 at £200 ( $\frac{1}{2}$ months), £195 ( $\frac{101}{2}$ months) 199		
1.0	$2 \text{ at } £195 \dots 390 \dots 390$		
13	$1 \text{ at } \pounds 185 \dots \dots 185$	3,287	
İ	Non-permanents.	0,201	
	1 at £950 950		
	1 at £500 500		
	1 at £360 (3 months) $\dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots$		
	$1 \text{ at } £355 \dots 355$		
į	1 at £355 (8 $\frac{1}{2}$ months), £330 (3 $\frac{1}{2}$ months) 348 $\frac{1}{2}$ at £340 340 $\frac{1}{2}$		
	1 at £340		
	1 at £320 (8\frac{1}{2} months), £300 ( $\frac{3}{2}$ months)		
	2 at £315 $\dot{}$ 630		
	1 at £305 $\dots$ 305		
	$4 \text{ at } £300 \dots 1,200$		
. !	$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
, ,	$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
	$\frac{2}{4}$ at £260 1,040		
	1 at £260 (2 months)		
	1 at £210 (9 $\frac{1}{2}$ months) 166		
	$1 \text{ at } £205 \dots 205$	!	
	1 at £205 (8 months)	!	
1	1 at £205 (11 months) 188		
	2 at £185	-	
	$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
	2 at £185		

Number of Persons.	Item	VOTE No. 9.—INTERNAL AFFAIRS—continued.	1938–39.	
<del>1938–39</del> .		Subdivision No. I.—Head Office—continued.	£	()
	1	Salaries—continued.	£	£
		NON-PERMANENTS—continued.		
	į	1 at £145 ( $\frac{1}{2}$ month) 6		
	. !	$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		1 at £100		
		1 at £95 95		
		1 at £65 $\dots$ 65 :		
		1 at £65 (9 months)	i	
50		1 at £65 (8 months)		
50		1 at £23 $\dots$ $23$	11,261	
102		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)—	11,201	
		Salary of officer seconded for duty with £ Lands and Survey Department 380		
		Lands and Survey Department 380 Salaries 100	i	
		480		
		40U	${28,627}$	
	2	OTHER CHARGES FOR AND INCIDENTAL TO Advertising	60 :	
	3	Animals Protection Act, expenses in connection with administration of	90	
	4	Animals Protection and Game Act: Sanctuaries for game, acquisition	20	
:	5	Auctioneers' license fees: Payment to local bodies	16,250	
İ	e	Cinematograph-films—		
	$\frac{6}{7}$	Advisory Committee expenses  Expenses in connection with the censorship of	$ \begin{array}{c c} 15 \\ 500 \end{array} $	
	8	Cinematograph Film Operators Licensing Board— Examiners' fees	450	
	9	Fees and expenses of members	50	
	10	General expenses	25	
	11	Postage	20	
	12	Printing	90	
i	13	Commissions of Inquiry (part recoverable)	1,200	
	14	Deer, &c., destruction—Compensation for injuries to employees while in discharge of their duties and contingent expenses in connection therewith, including medical	!	
		expenses, ex gratia payments arising out of employment, including reimbursement for loss of personal property	40	
	15	Deer, &c., destruction, Expenses of (part recoverable)	13,000	
	16	Freight, cartage, and transport charges Fresh-water fisheries and game—	500	
	17	Camping-grounds and access	100	
	18	Commission on sale of licenses	100	
	19	Expenses in connection with, including wages of workmen, purchase of land, erection of buildings, and maintenance of motor-vehicles	2,263	
	20	Fines, penalties, and license fees payable to Tuwharctoa Trust Board under Section 54 (2) of Native Purposes		
!	21	Act, 1931	30	
	$\begin{array}{c c} 21 \\ 22 \\ 23 \\ \end{array}$	Motor-vehicles, purchase of	1,900	
,		approved by the Minister	5	
	24	River pollution: Costs of investigation	10	
	$\frac{25}{26}$	River pollution: Costs of investigation Rotorua trout hatchery Shags and hawks, destruction of: Bonus	$\begin{array}{c} 1,653 \\ 100 \end{array}$	
İ	$\frac{26}{27}$	Tongariro Hatchery: Fluming	528	
,	41	rongarno maconery, riuming	<i>94</i> 0 [	

Number of Persons.	Item	VOTE No. 9.—INTERNAL AFFAIRS—continued.	1938-	-39.
938–39.		Subdivision No. I.—Head Office—continued.	£	
		OTHER CHARGES FOR AND INCIDENTAL TO—continued.	<b>≵</b>	£
	28	Grave of late Right Hon. W. F. Massey at Point Halswell,		
	!	and Seddon Memorial, Sydney Street: Expenses in	25	
	29	connection with	$\frac{29}{20}$ :	
	30	Legal expenses Maori Antiquities Collection, Hastings: Valuation expenses Native bush preservation and amenity planting—	25 25	
	31	Education and propaganda	194	
	32	National Advisory Committee expenses	50	
	33	Office fittings and requisites	675	
	34	Expenses under Animals Protection Act	275	
	35	Ranging, contribution towards	1,196	
	36	Refund of opossum trappers' license fees as approved	·	
	37	by the Minister	60	
	. 31   : 38	Overtime and meal allowances  Physical Welfare and Recreation, National Council of:	90	
	. OC	Expenses	4,000	
	39	Postage, telegrams, and rent of boxes (part recoverable)	600	
	40	Post Office Account Air-mail, cost of	30	
	41	Printing and stationery	1,700	
	42	Publications (including newspapers and books) Stranded New-Zealanders—	500	
	43	Assistance to return to New Zealand (recoverable)	600	
	44	Small grants	10	
	45	Telephone services (including installation, extensions, main-	500	
	46	tenance, rent, and calls) Totalizators, expenses incidental to inspection of	$rac{500}{715}$	
	47	Totalizators, expenses incidental to inspection of Transfer expenses of officers	$\begin{array}{c c} 13 \\ 20 \end{array}$	
	48	Travelling allowances and expenses	900	
	49	War Funds Act, administration of	20	
	50	Battlefield memorials: France, Belgium, and Gallipoli,	i	
	51	maintenance of	125	
	52	for soldiers' plot, Karori Cemetery War graves and memorials (including those to be erected	2,020	
		in provincial cemeteries) to soldiers and others (in-	:	
	:	cluding wives and daughters of officers, and also of	İ	
		men of the British and allied navies who were killed		
		or died in connection with the Maori and Great Wars),		
		headstones and permanent work for, maintenance,	:	
		renovation of, and expenses in connection therewith, also funeral expenses of indigent soldiers	3,500	
	$_{53}$	Contingencies, including unforeseen expenditure incidental	0,000	
;	00	to the other items of this subdivision	10	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)—		
İ		£ .		
		Auctioneers' licenses 16,250		
		Cinematograph films appeal fees 25 Commissions of Inquiry 100		
ì		1 000		
		Fresh-water Fisheries		
!		Postage 50		
		Stranded New-Zealanders 540		
		War graves 300		
	1	Miscellaneous 150		
:	:			
!		21,915		
	;	and the state of t	57,024	

Number of Persons.	Item	VOTE No. 9.—	INTERN	AT. AT	FAIRS	contina	ad	1938-	-39.
938-39.	!	Subdivision					-	£	£
	54	Salaries—						~	~
		(	CLERICAL	Divisio	N.				
8		Class I— 6 at £615 2 at £565	••	• •	• •		£ 3,690 1,130	4 000	
1	,	Class II— 1 at £515	••	••	• •	• •		4,820 515	
5	i -	Class III— 5 at £470			• •		• • •	2,350	
2		$\begin{array}{c} \textit{Class IV} \\ \textit{2 at £425} \end{array}$	• •					850	
1		Class V— 1 at £380						380	
1		Class VI— 1 at £335		• •			• •	335	
		Allowances in addi 27 Private Secre Extra classification Payment for salan Secretary— Lands and Surve Railways Depar	taries to la allowand officery of officery	Minister ce: 6 a cer act:	rs at £50 e t £100, 4	at £95	£ 425 380	1,350 980	
a !		Non-permanent— 1 at £500		••			500	805	
20		1 at £400 (6 mor	Subdiv	ision No	o. II		200	700	13,085
	55	Subdivision No. I Salaries— Messengers, &c.— 1 at £435		vomen.		epers, d	£ 435		
		3 at £320 1 at £310 1 at £300 1 at £295 1 at £285 18 at £280 2 at £260					960 310 300 295 285 5,040 520		
74		44 at £250 1 at £250 (9 $\frac{1}{2}$ mo 1 at £120	$\inf_{\ldots}$	• • • • • • • • • • • • • • • • • • • •	•••	• •	11,000 198 120	19,463	
1		Charwoman— 1 at £175						175	
		Payment to other Legislative Depa Post and Telegra Public Works De	rtment iph Depa:	$ ext{rtment}$	• •		$\begin{array}{c c} £ \\ 250 \\ 230 \\ 65 \end{array}$		

Number of Persons.	Item	VOTE No. 9.—INTERNAL AFFAIRS—continued.			1938-	-39.		
938–39.		$Subdivision\ No.$	III.—M Charwome			epers, and	£	£
	55	Salaries—continue						~
:		Chamana an an	Non-Pel	RMANENT	s.	£		
		Charwomen— 1 at £166				166	:	
		1 at £162				162		
		1 at £156				156		
		1 at £145				145		
		$egin{array}{c} 2  ext{ at } \pounds 142 \ 1  ext{ at } \pounds 140 \end{array}$			• •	284		
		5 at £136				680		
	:	1 at £136 (9 mc	onths)		. ,	102		
		7 at £123				861	!	
:		1 at £123 (9½ n 2 at £118	ionths), £	` -		120 236		
!		32 at £117				3,744		
,		1 at £116				116		
		165 at £110				18,150	•	
		3 at £110 (10 n		• •		275		
		1 at £110 (9½ n 2 at £110 (9 mc			• •	87 165		
		3 at £110 (8 mc		• •		220	i	
		2 at £110 (7½ n				138	İ	
		1 at £110 (3 mc				28		
!		3 at £100				300		
		$2 \text{ at } £100 (2 \text{ mo} \\ 1 \text{ at } £92 \dots$	onths)	• •	• •	33 92		
1	:	1 at £91	• •		• •	92		
:		1 at £87				87		
		1 at £87 (9 $\frac{1}{2}$ me	onths)			69		
		2 at £86			• •	172		
i		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	• •		• •	85 83		
		1 at £78				83		
	i	1 at £75				75		
		1 at £74				74		
		2 at £72	• •			144		
!		$egin{array}{lll} 1 &  ext{at } \pounds 71 & \dots \ 2 &  ext{at } \pounds 70 & \dots \end{array}$	• •	• •	• •	$\begin{array}{ccc} & & & 71 \\ & \ddots & & 140 \end{array}$		
		1 at £66	• •			66		
İ		1 at £65				65		
		1 at £61				61		
		2 at £59	• •	• •		118		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$				100		
		1 at £47				47		
		1 at £46		1.1		46		
		1 at £44 (9 mor				33		
İ		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	• •			43 41		
		1 at £41 1 at £41 (8 moi	iths)	• •	• •	28		
		2 at £40	• •			80		
İ		1 at £40 ( $7\frac{1}{2}$ me	onths)			25		
	i	2 at £39	• •			78	:	
	-	$egin{array}{lll} 1 &  ext{at £38} & \dots \\ 1 &  ext{at £36} & \dots \end{array}$				38 36		
	İ	1 at £35				35		
		$1 \text{ at } £33 \dots$				33		
		1 at £32	• •		* •	32		
	-	10 at £30		• •		300 56		
;		$egin{array}{lll} 2 &  ext{at } \pounds 28 & \dots \ 2 &  ext{at } \pounds 26 & \dots \end{array}$	• •			50		
		$1 \text{ at } \pounds 22 \dots$				22		
		1 at £20	• •			20		

Number of Persons.	Item	VOTE No. 9.—INTERNAL AFFAIRS—continued.	ļ	1938-	39.
938–39.		Subdivision No. III.—Messengers, Office-keepers, and Charwomen—continued.		£	£
	55	Salaries—continued.	:		
		Non-permanents—continued.			
		Charwomen—continued.	£	:	
		1 at £18	18		
	1	1 at £16 (9 months)	12		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	60		
		4 at £15	$\frac{60}{12}$		
		3 at £10	30		
		1 at £9	9		
		1 at £8	8		
	1	1 at £5	5		
	:	$\begin{array}{cccccccccccccccccccccccccccccccccccc$	$\begin{bmatrix} 4\\9 \end{bmatrix}$		
314		$egin{array}{cccccccccccccccccccccccccccccccccccc$	4		
91.4	!	2 au 22		29,257	
		Messengers-		20,201	
			375		
	İ	,	23.1		
			300   700		
			780     65		
			530		
		133 at £250 33,2	i i		
		2 at £250 (11 months), £240 (1 month)	198		
		· 1 //, · 1 //	249		
		71	745		
			248 <sup>†</sup> 194		
			192		
			245	:	
	1		189	•	
	-	,, ,	77	1	
	1		244		
			730		
			243   185		
	1		184		
			183		
			241		
			140		
			717		
			239   237		
			172	i	
			708 :		
		2  at  £240  (6 months), £230  (6 months)	170		
		, , , , , , , , , , , , , , , , , , , ,	168		
			)33	:	
			$\frac{599}{232}$		
			231 +	1	
		1 at £230	230		
		4 at £230 (11 months), £215 (1 month) $9$	115		
		2 at £230 (10 months), £215 (2 months) 4	155		
			381   370	. !	
			$\frac{579}{225}$	İ	
			429 153		
	1 1 1 1	15 at £230 (7 months), £215 (5 months)			
	1	5 at £230 (6 months), £215 (6 months) 1,1			
	ļ	3 at £230 (5 months), £215 (7 months)	564		
	i .	3 at £230 ( $4\frac{1}{2}$ months), £215 ( $7\frac{1}{2}$ months)	562	ĺ	

## ${\tt DEPARTMENT\ OF\ INTERNAL\ AFFAIRS-} continued.$

Number of Item Persons.		VOTE No. 9.—INTERNAL AFFAIRS—continued.	1938–39.	
938–39.		Subdivision No. III.—Messengers, Office-keepers, and Charwomen—continued.	£	£
	55	Salaries—continued.	!	
		Non-permanents—continued.		
i	i	Messengers—continued.		
	-	1 at £230 (4 months), £215 (8 months) 220		
		1 at £230 ( $1\frac{1}{2}$ months), £215 ( $10\frac{1}{2}$ months) 217	!	
		2 at £230 (1 month), £215 (11 months) 432		
		1 at £225 (5 months), £215 (7 months) 219		
		1 at £220 $\dots$ 220		
		$8 \text{ at } \pounds 215$ $1,720$	i	
!	į	6 at £215 (9 months)	1	
:	!	1 at £215 ( $8\frac{1}{2}$ months)		
i		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		1 6015 (5 11 )		
		1 at £215 (7 months)		
i		1 at £180		
		3 at £180 (9 months) 405		
į		1 at £170 170		
		1 at £161 (11 months), £150 (1 month) 160		
1		$3 \text{ at } \pounds 150$ $450$		
		1 at £130 130		
		1 at £129 (11 months), £106 $\frac{1}{2}$ (1 month) 127		
1	i	1 at £123 (11 months), £100 (1 month) 121 1 at £120 120		
	i :	$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		1 at £116 116		
		1 at £110 ( $9\frac{1}{2}$ months) 87		
		3 at £104 312		
		2 at £100 200	:	
1	İ	$1 \text{ at } \pounds 95 \dots \dots 95$	-	
į	i	1 at £90 (11 months), £81 (1 month) 89		
		$1 \text{ at } \pounds 89 \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots $		
	i	$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
	1	1 at £58 $\frac{1}{2}$ (11 months), £35 (1 month) 57		
i	i	$3 \text{ at } \pounds 50 \ldots \ldots 150 =$	i	
		1 at £40 40		
	i	$1 \text{ at £}30 \dots \dots 30$	i	
:	İ	$2 \text{ at } £25 \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots$		
	!	1 at £23 (8 months)		
	1	1 at £21 (9 months)		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	1	
į		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
ļ	İ	$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
326	1	2 at £5		
			69,405	
<b>7</b> 15		Payment for Saturday, Sunday, and holiday duty	370	
		Special allowances to messengers (including allowances		
		to Ministerial messengers)	1,016	
		Salaries of staff employed in portion of Canterbury Provincial Buildings under control of Canterbury Provincial Buildings	:	
		Board	200	
		DOMIN		
:		The second married but and an incident	120,431	
		Less amount provided but not required	200	
	i	Estimated credits-in-aid under Section 51 of the Public	į	
		Revenues Act, 1926 (see end of vote)— £	:	
		Salaries, &c 40,750	:	
		· · · · · · · · · · · · · · · · · · ·		
			120,231	

Number of Persons.	Item	VOTE No. 9.—INTERNAL AFFAIRS—continued.	1938	3-39.
1938–39.		Subdivision No. III.—Messengers, Office-keepers, and Charwomen—continued.	£	£
	56 57	OTHER CHARGES FOR AND INCIDENTAL TO— Compassionate grant to widow of deceased officer Medical attendance for messengers and charwomen, &c.,	100	
	58	injured on duty	15	
	59	recoverable)	120 3,900	
	60	Rent	50 50	
	$\begin{array}{c c} 62 \\ 63 \\ 64 \end{array}$	Travelling allowances and expenses	$\frac{150}{660}$	
		to the other items of this subdivision	5	•
:		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)—  Office-cleaning	:	
		Miscellaneous		
		Total—Subdivision No. III	5,050	125,281
		Subdivision No. IV.—High Commissioner's Office.		
1	65	Salary of High Commissioner	2,000	
1	66	Salaries— Secretary	1,055	
1 1		Economic Adviser	765 665	
76 1 1		Clerks and Messengers Publicity Officer Stores Indent and Trade Officer	22,029 900 900	
- : :	:	Non-permanents-		
13 1 1	1	Miscellaneous wages	$rac{1,260}{400} \stackrel{!}{=} \\ 50$	
1		Veterinary Officer, London	500   600	
98	:	Allowance as Finance Officer	$\begin{bmatrix} 235 \\ 290 \\ 115 \end{bmatrix}$	
İ	i	Allowances, adult wage	51	
		Revenues Act, 1926 (see end of vote)— Amounts recoverable from— $\pounds$		
	1	Government Insurance		
1	•	Labour (Immigration) 650 Post and Telegraph 650		
İ		Prime Minister's          985           Printing and Stationery          200           Public Trustee          1,000	:	
!		Public Works          1,100           State Fire Office          100	:	
	i	Working Railways $\frac{1,150}{7,385}$	ļ	
			31,815	

	i	· · · · · · · · · · · · · · · · · · ·		
Number of Persons.	Item	VOTE No. 9.—INTERNAL AFFAIRS—continued.	1938-	-3 <b>9.</b>
1938–39.		Subdivision No. IV.—High Commissioner's Office—continued.	£	£
	68	OTHER CHARGES FOR AND INCIDENTAL TO— Advertising, photographs, books, newspapers, and other publications	150 20	
	69 70	Fuel, light, power, and water House allowance for High Commissioner Motor-vehicles—	$\begin{array}{c c} 790 \\ 1,000 \end{array}$	
	71 72 73	Maintenance of Purchase of National Insurance Act, 1911, in respect of clerks employed in the High Commissioner's Office, contributions due under	200 225 40	
	74 75 76 77	Office-cleaning Office fittings and requisites	160 400 300 200	
	78 79 80 81 82	Printing and stationery Rent, rates, taxes, insurance, &c. (part recoverable) Repairs and alterations to offices and office equipment Subscriptions to various societies and associations	2,000 600 7,700 400 40	
	83 84	Travelling allowances and expenses	175 50	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)—  Postage, telegrams, &c		
		Miscellaneous		
		Total—Subdivision No. 1V	14,450	46,265
		Subdivision No. V.—Explosives Branch.	!	
	85	SALARIES— PROFESSIONAL DIVISION.		
1		Class Special A— 1 at £765	765	
1		$Class\ IV \ 1\ { m at}\ \pounds 425 \ \ \ \$	425	
1		CLERICAL DIVISION.  Class VI— 1 at £335	335	
	·	GENERAL DIVISION. £ 2 at £400	ŧ	
3		1 at £260 260	1,060	

Number of Persons.	Item	VOTE No. 9.—INTERNAL AFFAIRS—continued.	1938-	-39.
1938–39.		·	£	
	l or	Subdivision No. V.—Explosives Branch—continued.	*	£
	85	Salaries—continued.		
		Non-permanents. $\pounds$ 1 at £250		
		1 at £175 $\dots$ 175		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
5		1 at £85 85	HF0	
11		Payments to Marine Department for services of magazine-	759	
		keepers	75	
			3,419	
	! !	OTHER CHARGES FOR AND INCIDENTAL TO-		
	86	Ex gratia payment to P. W. Moss in connection with lightering of explosives in Otago Harbour	50	
		Explosives Act, expenses under (part recoverable)—		
	- 87 : - 88	Fuel, light, power, and water Furniture and fittings	100 180	
	89	General expenses	120	
	$\frac{90}{91}$	Magazines: Expenses in connection with (recoverable) Overtime and meal allowances	1,600 $40$	
	$\frac{31}{92}$	Postage, telegrams, and telephone services	200	
	93	Printing and stationery	120	
	-94 + 95	Rent	348	
	30	Travelling allowances and expenses	1,100	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)  Explosives Act, expenses under		
		2,240		
		TotalSubdivision No. V	3,858	7,277
				,, ,, ,
		Subdivision No. VI.—Miscellaneous Services.	;	
	96	Salaries (including Relieving Staff)—	:	
		Professional Division.		
1		Class Special B 1 at £715	71ŏ	
1		Class II 1 at £515	515	
		CLERICAL DIVISION.		
		$Class\ I$		
1		1 at £615	615	
4		Class II—	: : :	
1		1 at £550 (8 months), £490 (4 months)	530	

Number of Persons.	Item	VOTE No. 9.—INTERNAL AFFAIRS—e	1938–39.			
938–39.		Subdivision No. VI.—Miscellaneous Services-	-conti	nued.		
	96	SALARIES (including Relieving Staff)—continued			£	ĩ.
		CLERICAL DIVISION—continued.		i	!	
		Class V—		£		
		1 at £380		$380^{-1}$	į.	
$^2$		1 at £380 (6 $\frac{1}{2}$ months), £355 (5 $\frac{1}{2}$ months)		371		
					<b>7</b> 51	
		Class VII—				
		1 at £305		305		
		1 at £280 (11 months), £255 (1 month)	• •	278		
		1 at £230 (6 months), £205 (6 months)	• •	$\frac{218}{292}$		
		1 at £225 ( $10\frac{1}{2}$ months), £205 ( $1\frac{1}{2}$ months) 1 at £205 (11 months), £195 (1 month)	• •	$egin{array}{c c} 223 &   \\ 205 &   \end{array}$		
		1 at £205 (11 months), £155 (11 months)		$\frac{200}{196}$		
		1 at £195 (7 months), £185 (5 months)		191		
	1	1 at £195 (5 months), £185 (7 months)		189		
		1 at £180 (1 month)		15		
		1 at £180 ( $\frac{1}{2}$ month), £155 (11 $\frac{1}{2}$ months)		156		
	:	1 at £155		155		
		1 at £115		115		
	i	1 at £115 (9 months), £95 (3 months)		110		
	!	1 at £115 (2 months), £95 (10 months)		98	!	
		1 at £95 (2 months), £80 (10 months)		83		
	!	3 at £95 (1 month), £80 (11 months)	• •	$\frac{243}{949}$		
		3 at £95 ( $\frac{1}{2}$ month), £80 ( $11\frac{1}{2}$ months)		242	:	
		5 at £80	• •	$rac{400}{73}$		
29		1 at £80 (11 months)		127		
20		2 at 200 (52 months)	• •		3,622	
		GENERAL DIVISION.			0,022	
		1 at £325		325		
		1 at £305 $\dots$ $\dots$ $\dots$ $\dots$		305	l I	
		1 at £300		300		
		$1 \text{ at } £265 \dots \dots \dots \dots \dots \dots$		265	!	
		8 at £245	• •	1,960		
		1 at £230 (1 month), £205 (11 months)	• •	207		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	• •	$\frac{430}{210}$		
		1 at £210 $\dots$ 1 at £205 (11 months) $\dots$	• •	188	i	
	!	1 at £205 (8 months), £200 (4 months)		$\frac{100}{203}$	:	
		1 at £205 (3 months), £200 (9 months)		$\frac{200}{201}$	i	
		1 at £205 ( $\frac{1}{2}$ month), £200 ( $11\frac{1}{2}$ months)		200		
		1 at £200 (1 month), £195 (11 months)		195	i	
		1 at £195 (10 months), £185 (2 months)	٠.	193	i i	
	. !	1 at £195 (2 months), £185 (10 months)		187		
		2 at £195 (1 month), £185 (11 months)		372	<u> </u>	
		2 at £185	• •	370	1	
		1 at £185 (9 months), £115 (3 months)	٠.	168	1	
		1 at £175 ( $5\frac{1}{2}$ months), £165 ( $6\frac{1}{2}$ months) 1 at £95 (11 months), £80 (1 month)	• •	$\frac{170}{94}$		
31		1 at £95 (11 months), £80 (1 month) 1 at £80 ( $1\frac{1}{2}$ months), £65 ( $10\frac{1}{2}$ months)		5 <del>4</del> 67		
01	; !	1 at 200 (12 months), 200 (103 months)	• •		6,610	
		Non-permanents.				
		1 at £520		520		
		1 at £300 (9 months)	٠	225		
		$1 \text{ at } £255 \dots \dots \dots \dots \dots \dots$		255		
		3 at £235	• •	705		
		1 at £230		230		
		4 at £225	• •	900	į	
	,	$\begin{array}{cccccccccccccccccccccccccccccccccccc$	• •	$\frac{220}{183}$		
		1 at £220 (10 months)		100		
		2 at £215 \ \ \ \		430	1	

Number of Persons.	Item	VOTE No. 9.—INTER	NAL A	FFAIRS—	contin	ued.	1938-	-39.
1938-39.	<del>  </del>	Subdivision No. VI.—Mis	cellaneor	ıs Services-	-cont	inued.		
	96	SALARIES (including Relievi	no Staff	)—continu	ed.		£	£
		·			<i>.</i>			
	!!!	Non-perman	ENTSc	ontinued.		£		
	İ	6 at £205				1,230	· •	
	!	1 at £205 (11 months) 1 at £205 (9 $\frac{1}{2}$ months)	• •			$\frac{188}{162}$		
		1 at £205 (7½ months)				$\frac{102}{128}$		
	i	10 at £195				1,950		
		8 at £185	• •		• •	1,480 170		
	į	1 at £185 (11 months) 1 at £180 (11 months)				165		
	.	1 at £180 (9½ months)		• •		143		
	:	1 at £180 (9 months)			• •	135		
		18 at £165 2 at £165 (11 months)	• •	• •	• •	$\frac{2,970}{302}$		
	1	1 at £165 (10 months)		• •		$\frac{302}{138}$		
		6 at £165 (8 months)				660		
	ļ	$2 \text{ at } £155 \dots \dots$				310		
	1	7 at £145 1 at £145 (11 months), £12	 5 (1 max	 .+b)	• •	$\begin{array}{c} 1,015 \\ 143 \end{array}$		
		1 at £145 (10 months), £12			• •	142		
	. i	2 at £140	•			280		
		$6 \text{ at £}125 \dots \dots$				750		
		1 at £125 (9 months) 1 at £125 (5 months), £105	 . (7 mont	tha)		$\begin{array}{c} 94 \\ 113 \end{array}$		
	1	10 at £105	(1 mon	ив)		1,050		
	:	1 at £105 (10 months)				88		
		1 at £95 (10 months)				79		
		1 at £95 (9 months)				$\begin{array}{c c} 71 \\ 255 \end{array}$		
		8 at £65			• •	520		
		2 at £65 (10 months)				110		
104		1 at £65 (8 $\frac{1}{2}$ months)		• •		46		
124	i	2 at £65 ( $7\frac{1}{2}$ months)		• •	• •	81	18,794	
190		Lodging allowances (cadets	s)				353	
		Allowances to officers perfe	orming l			!	50	
Total	: 1	Special allowances to s			and	typists	200	
Number of		employed in Ministers' o Salaries of staff of Natio		Gallery a	nd D	ominion	390	
Persons		Museum (recoverable)		••			6,451	
1,136		Less amounts provided	l but no	t required			39,396 532	
		Estimated credits-in-a Revenues Act, 19: Salaries of officers re	26 (see e	nd of vote	)—	e Public £		
						7,964		
		Departments National Art	 Gallery			12,911		
	:	Museum : Salarie	s		• •	6,451		
						27,326		
	:	OTHER CHARGES FOR AND IN	NCIDENT	AL TO		;  -	38,864	
	97	Anzac Day Parade, Syd centennial — New Zeal transport in New Zealan	$egin{array}{ll}  ext{ney,} & 19 \  ext{and} &  ext{re} \  ext{d} & \dots \end{array}$	938—Austr presentatio	on — C	ost of	4,000	
	98	Anzac Day Service, Lond of cost	on: Ne		l's pro	portion	10	

	, ,	The second contract of the second contract of		
Number of Persons.	Item	VOTE No. 9.—INTERNAL AFFAIRS—continued.	1938-	39.
1938-39.		Subdivision No. VI.—Miscellaneous Services—continued.	£	£
	99	OTHER CHARGES FOR AND INCIDENTAL TO—continued.  British Commonwealth Relations Conference: Rail fares for New Zealand delegates	150	
	100	Colonial appointments, Board of Selection: Travelling- expenses of applicants in New Zealand and members of Board of Selection	25	
	101	Companies (Special Investigation) Act, 1934: Expenses in connection with	48	
	102	Exhibition of Robes in New Zealand—Expenses in connection with	600	
	103 104	New Zealand contingent, transportation and expenses in connection with	200 40	
	105	Painting of, for presentation to His Majesty: New Zealand's share of cost	1,313	
	106	Cost-of-living bonus to annuitants under the Public Service and Teachers' Superannuation Funds and Civil Service Act, 1908, and to other persons in receipt of retiring-	2 00%	
	107	allowances (part recoverable)  Death of Sir Frederick Truby King: Cost of Civilian State Funeral	$\begin{matrix}3,925\\200\end{matrix}$	
	108	Dogs Registration Amendment Act, 1937 (part recoverable) Entertaining visitors to the Dominion and official functions—	6,000	
	109 110 111	Allowances to officers in connection with  Cost of	$2,000 \mid 15$	
	112	Fire Boards: Anti-gas respirators, for purchase of (recoverable)	5	
	113 114	tion 26)	4,300 2,000	
	115	Fuel for Government offices, including Canterbury Provincial Buildings, Christchurch Government Buildings—	1,700	
	$\frac{116}{117}$	Auckland Luncheon-rooms: Alterations, &c	100	
		cleaning 150 Grant towards cost of relief attendant 78	228	
	118	Grants in settlement of petitions	600	
	119 120 121	Authors' Week: Towards expenses	100   108	
	1.00	Stration	1,500	
	122 123	first issue of its Journal	100	
	124	making-up for museums	794 50	
	125	Society for Prevention of Cruelty to Animals: Rail passes for Inspectors	445	
	$\frac{126}{127}$	South African War Veterans' Association: Rail fares of delegates to annual meeting St. Clair Life-saving Club: Grant equivalent to sales tax	30	
		and duty on second-hand surf-boat imported by club for use in life-saving	18	

	1 1			
Number of Persons,	Item	VOTE No. 9.—INTERNAL AFFAIRS—continued.	1938-	39.
$\overline{1938-39}$ .		Subdivision No. VI.—Miscellaneous Services—continued.	<del></del> !	
		OTHER CHARGES FOR AND INCIDENTAL TO—continued. Grants—continued.	£	£
	128 129	Swimming and Life-saving Societies	400	
		of Trustees for maintenance	8,000	
	130 131	War Funds Council for South African veterans International Congress of Anthropology and Ethnology,	250	
	132	Copenhagen: New Zealand representation International Federation for Documentation, Fourteenth	75	
		Annual Conference: New Zealand representation	10	
	133	International Town-planning Conference, Mexico: Grant to officer representing New Zealand	400	
	134	Light, power, and water for Government buildings and Canterbury Provincial Buildings, Christchurch Ministerial Offices, Auckland—	6,500	
	135	Furnishing	107	
	136	Rent	78	
	137	Ministerial Offices, Christchurch: Renovation of	50	
	138	National Health and Superannuation: Preliminary ex-		
		penses	1,250	
	139	Biographical, Historical, Pictoral, Architectural, &c.,	9 950	
	140	Surveys Expenses in connection with	$\frac{3,350}{800}$	
	141	Loan to Exhibition Company	25,000	
	142	New Zealand Gazette: Cost of printing (part recoverable)	5,600	
	143	Nine Power Conference, Brussels: New Zealand's proportion of expenses	63	
	144	Parliaments of the Empire: Contribution towards cost of producing journal (London publication)	200	
	145	Payment to Department of External Affairs: Cost of free passages granted on N.Z.M.V. "Maui Pomare"	675	
	146	Personal effects of Ministers, transfer of Post Office Account—	20	
	147	Franked Government telegrams	1,000	
	148	Franked telephone communications	550	
	149	Ministerial and Parliamentary Under-Secretaries' telegraphic memoranda	3,800	
	150	Printing, stationery, and requisites, Ministers' and Parlia-	1,100	
	151	Publications (including newspapers and books), Ministers' and Parliamentary Under-Secretaries' offices	450	
		Public Service Superannuation Fund—	450	
	152	Contribution to (P.S.S. Act, 1927, section 50)	86,000	
	153	Contribution to meet increased allowances to widows and children (P.S.S. Act, 1927, section 114)	17,518	
	154	Contribution to: Under provisions of Statutes Amendment Act, 1936, section 27	930	
	155	Regulations Act, 1936: Expenses of printing regulations, &c. (recoverable)	1,200	
	156	Societies for Prevention of Cruelty to Animals, fines paid to (Police Offences Act, 1927, section 15)	45	
	157	Spanish refugee children, contribution towards relief of	2,000	
	158	Subsidies to local bodies in connection with district centennial celebrations	200	
	159	Subsidy: Boy Scouts Association (£1 for £1)	750	
	160	Subsidy (not exceeding £50,000) to New Zealand Centennial		
	161	Exhibition, Wellington, 1940 (£1 for £2), (balance) Superannuation funds: Reimbursement of amount of	45,146	
		reduction of rate of interest on mortgages and loss on conversion	36,000	

	1	DETAILMENT OF TRIEDNAL AFFAIRS—contrib		
Number of Persons.	Item	VOTE No. 9.—INTERNAL AFFAIRS—continued.	1938	-39.
1938–39.		Subdivision No. VI.—Miscellaneous Services—continued.		Α
	162	OTHER CHARGES FOR AND INCIDENTAL TO—continued.	£	£
	163	Telegrams beyond the Dominion Telephone services, Ministers and Parliamentary Under-Secretaries (including installation, extensions, mainten-	:	
	164	ance, rent, and calls)	1,200	
	165	Adviser)	300 · 20	
	166	Travelling-allowances and expenses of— Minister and Parliamentary Under-Secretaries (allow-	20 :	
	167	ances only as authorized by the Civil List Act, 1920, and the Civil List Amendment Act, 1936) Ministers and their wives and Parliamentary Under-	1,500	
	168	Secretaries: Expenses Private Secretaries to Ministers	$\frac{3,000}{2,000}$	
	169	Ministerial staff	500	
	170	Members of the General Assembly (Finance Act, 1936, section 39)	350	
	171	Binding of books	350	
	$\frac{172}{173}$	Incidental expenses Purchase of books	$\begin{array}{c} 375 \\ 475 \end{array}$	
	174	Visit of Minister of Agriculture and Secretary to Australia	350	
	175	Wairarapa storm and flood damage: Featherston-Longwood water-race, assistance towards repairs	500	
	176	Contingencies, including unforescen expenditure incidental to the other items of this subdivision.	90	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)—	:	
		Contributions towards— £ Cost-of-living bonus to annuitants 1,070 Increased allowances to widows and		
		children        6,174         Dogs Registration Amendment Act, 1937       5,000         New Zealand Gazette        2,000	8	
		Regulation Act, 1936	!	
	. !	15,044		
	:	Total—Subdivision No. VI	291,286	330,150
		Gross Total		607,709
		Credits-in-aid (a)		119,605
		NET TOTAL—VOTE No. 9		488,104
(a)	Cred	$\begin{array}{ccc} \text{lits-in-aid} & \text{Salaries.} & \text{Other} \\ & & \text{Charges.} \\ & & \text{\pounds} \end{array}$	1 <b>93</b> 8 <b>–3</b> 9.	
	Sub	odivision I 480 21,915	£ 22,395	
		,, III 40,750 830 ,, IV 7,385 3,635	41,580	
		,, V 2,240	$11,020 \\ 2,240$	
		,, VI 27,326 15,044	42,370	
		Totals	119,605	

#### DEPARTMENT OF EXTERNAL AFFAIRS.

					1938-39.			
	-			-	Salaries	Oth	er Charges	Total.
Vote No. 10	.—External Affairs	·			£		£	£
Subdivision	n I.—Head Office				3,047	!	1,525	4,572
,,	II.—New Zealand	l Reparation	Estates				61,357	61,357
,,	III.—Export of Be	ananas from	Samoa				114,675	114,678
· ·	IV.—Cook Islands	-					22,200	22,200
	V.—N.Z.G.M.V.		nare ''				36,525	36,528
Gross T				Ĺ	3,047		236,282	239,329
CREDITS		•			3,017		38,000	38,000
NET TO		••	• •		9 047		198,282	
NEI I	OTAL	• •		••	3,047		190,202	201,329
Number of Iter	m VOTE	No. 10.—E	XTERNA	L AFF.	AIRS.		1938	8–39.
1938–39.	S	ubdivision No	o. I.—Hee	ıd Office				
							£	£
į	Soomotomic (D	ommonant H	Iond Driv	mo Min	iatou'u Do	nant.		
!	Secretary (P ment, £1,20	00)	lead, Prin		ister's De	part- 	••	
1	ment, £1,20  Class I-— 1 at £565	00)	• •		ister's De	part- 	565	
· · · · · · · · · · · · · · · · · ·	ment, £1,20	00)	• •		ister's De	part- 	 565 380	
	ment, £1,20  Class I  1 at £565  Class V-	00)	• •		ister's De	part- 		
1 .	Class I—  1 at £565  Class V—  1 at £380  Class VI—  1 at £335  Class VII—	CLERICA	L Divisio				380	
1 .	Class I—  1 at £565 Class V—  1 at £380 Class VI—  1 at £335 Class VII—  1 at £305 1 at £205 (	CLERICA 10½ months),	 L Divisio   £185 (1½ 1	months)	ister's De	£ 305 203	380	
1 .	Class I—  1 at £565  Class V—  1 at £380  Class VI—  1 at £335  Class VII—  1 at £305  1 at £205 (  1 at £155 (	OO) CLERICA	 L Divisio   £185 (1½ 1 £115 (3½ n	months)		£ 305	380	
1	Class I—  1 at £565  Class V—  1 at £380  Class VI—  1 at £335  Class VII—  1 at £305  1 at £205 (  1 at £155 (	CLERICA 10½ months), 8½ months), £9 5 months), £9	L Divisio £185 (1½ 1 £115 (3½ n 05 (7 mont	months) ch s)		£ 305 203 142	380	
1	Class I—  1 at £565  Class V—  1 at £380  Class VI—  1 at £335  Class VII—  1 at £305  1 at £205 (  1 at £155 (	CLERICA  CLERICA  CLERICA  CLERICA  CLERICA  CLERICA  CLERICA  CHAPTER  CLERICA  CLE	 L Divisio   £185 (1½ 1 £115 (3½ n	months) ch s)		£ 305 203 142	380 335	
1 4	ment, £1,20  Class I—  1 at £565  Class V—  1 at £380  Class VI—  1 at £335  Class VII—  1 at £205  1 at £115 (  1 at £205	CLERICA  CLE	L Divisio £185 (1½ 1 £115 (3½ n 05 (7 mont	months) chs)		 £ 305 203 142 105	380 335 755	
1 4	ment, £1,20  Class I—  1 at £565  Class V—  1 at £380  Class VI—  1 at £335  Class VII—  1 at £305  1 at £205 (  1 at £115 (  1 at £275  1 at £275	CLERICA  CLE	L Divisio £185 (1½ 1 £115 (3½ n 05 (7 mont	months) chs)		 £ 305 203 142 105	380 335 755	
1 4	ment, £1,20  Class I—  1 at £565  Class V—  1 at £380  Class VI—  1 at £335  Class VII—  1 at £305  1 at £205 (  1 at £115 (  1 at £165 .	CLERICA  CLE	L Divisio £185 (1½ 1 £115 (3½ n 05 (7 mont	months) chs)		 £ 305 203 142 105 	380 335 755	
1 4	ment, £1,20  Class I—  1 at £565  Class V—  1 at £380  Class VI—  1 at £335  Class VII—  1 at £305  1 at £205  1 at £155  1 at £156  1 at £175  1 at £165	CLERICA  CLE	L Divisio £185 (1½ 1 £115 (3½ n 05 (7 mont	months) chs)		 £ 305 203 142 105	380 335 755	
1 4	ment, £1,20  Class I—  1 at £565  Class V—  1 at £380  Class VI—  1 at £335  Class VII—  1 at £205 (  1 at £155 (  1 at £155 (  1 at £165 .  1 at £165 .  1 a £145	CLERICA  CLE	L Divisio £185 (1½ 1 £115 (3½ n 05 (7 mont	months) chs)		 £ 305 203 142 105 	380 335 755 205	
1 4 1	Class I—  1 at £565 Class V—  1 at £380 Class VI  1 at £335 Class VII—  1 at £305 1 at £205 1 at £155 1 at £155 1 at £155 1 at £165 1 at £165 1 at £160	CLERICA  CLE	£185 (1½ n £185 (3½ n 05 (7 mont L Divisio	months) chs)		 £ 305 203 142 105  175 165 145 60	380 335 755	
1 4 1	Class I—  1 at £565 Class V—  1 at £380 Class VI  1 at £335 Class VII—  1 at £305 1 at £205 1 at £155 ( 1 at £155 ( 1 at £165 1 at £165 1 at £234  Cadets' lodgin 1 at £10 (3	CLERICA  CLE	£185 (1½ n £185 (3½ n 05 (7 mont L Divisio	N.  months) chs) N.  S.		 £ 305 203 142 105  175 165 145 60	380 335 755 205 779 3	
1 4 1	Class I—  1 at £565 Class V—  1 at £380 Class VI—  1 at £335 Class VII—  1 at £305 1 at £205 1 at £155 ( 1 at £155 ( 1 at £165 1 at £166 1 at £234  Cadets' lodgin 1 at £20 (3 1 at £25 (7	CLERICA  CLE	£185 (1½ n £185 (3½ n 05 (7 mont L Divisio	N.  months) chs) N.  S.		 £ 305 203 142 105  175 165 145 60	380 335 755 205	
1 4 1	Class I—  1 at £565 Class V—  1 at £380 Class VI  1 at £335 Class VII—  1 at £305 1 at £205 1 at £155 ( 1 at £155 ( 1 at £165 1 at £165 1 at £234  Cadets' lodgin 1 at £10 (3	CLERICA  CLE	£185 (1½ n £185 (3½ n 05 (7 mont L Divisio	N.  months) chs) N.  S.		 £ 305 203 142 105  175 165 145 60	380 335 755 205 779 3	

 $<sup>^{\</sup>ast}$  For particulars of salaries see "Public Service Classification List." 5—B. 7.

Number			
of Persons.	VOTE No. 10.—EXTERNAL AFFAIRS—continued.	<b>19</b> 38	<b>–39.</b>
1938-39.	Subdivision No. I.—Head Office—continued.	-	
	OTHER CHARGES FOR AND INCIDENTAL TO-	£	£
2			
	publications	45	
4		200	
		$\frac{10}{120}$	
(	Miscellaneous payments due to former officers of the Samoan		
-	Public Service on return to New Zealan.	30	
· · · · · · · · · · · · · · · · · · ·		60 . 30 ±	
		600	
10	Printing and stationery	150	
[1]		100	
12	maintenance, rent, and calls)	$\frac{100}{160}$	
1;		100	
1	to the other items of the vote	20	
:		1,525	
	Total—Subdivision No. I	1,040	4,572
			-,
	SALARIES, WAGES, PURCHASE OF STORES, MAINTENANCE OF	i	
14   15   16   17   18	PLANTATIONS, AND GENERAL EXPENSES (including capital expenditure)— Improvements Maintenance of plantations Public Service Superannuation Fund contribution Salaries and wages	560 20,351 100 3,000 37,346	61,357
15 16 17	PLANTATIONS, AND GENERAL EXPENSES (including capital expenditure)— Improvements Maintenance of plantations Public Service Superannuation Fund contribution Salaries and wages Stores and general expenses	$ \begin{array}{c c} 20,351 \\ 100 \\ 3,000 \end{array} $	61,357
15   16   17	Plantations, and General Expenses (including capital expenditure)— Improvements Maintenance of plantations Public Service Superannuation Fund contribution Salaries and wages Stores and general expenses  Total—Subdivision No. 11  Subdivision No. III.—Export of Bananas from Samoa.	$ \begin{array}{c c} 20,351 \\ 100 \\ 3,000 \end{array} $	61,357
15 16 17 18	Plantations, and General Expenses (including capital expenditure)— Improvements Maintenance of plantations Public Service Superannuation Fund contribution Salaries and wages Stores and general expenses  Total—Subdivision No. 11  Subdivision No. III.—Export of Bananas from Samoa.	20,351 100 3,000 37,346	61,357 114,675
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	Plantations, and General Expenses (including capital expenditure)— Improvements Maintenance of plantations Public Service Superannuation Fund contribution Salaries and wages Stores and general expenses  Total—Subdivision No. 11  Subdivision No. 111.—Export of Bananas from Samoa.  Purchase of bananas, stores, and general expenses	20,351 100 3,000 37,346	
18	PLANTATIONS, AND GENERAL EXPENSES (including capital expenditure)— Improvements	20,351 100 3,000 37,346	

Number of Persons.	Item	VOTE No. 10.—EXTERNAL AFFAIRS—continued.	1938	<b>–</b> 39 <b>.</b>
1938–39.		Subdivision No. V.—N.Z.G.M.V. "Maui Pomare."  N.Z.G.M.V. "Maui Pomare"—	£	£
	22 23 24	New generating plant Passages granted to officers and members of Advisory Committee Working-expenses, salaries, wages, &c.  Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)— N.Z.G.M.V. "Maui Pomare": Working £ receipts 38,000	1,500 25 35,000	
		Total—Subdivision No. V	**************************************	36,525
		Gross Total	٠.	239,329
		Credits-in-aid	• •	38,000
		NET TOTAL—VOTE No. 10		201,329

#### PRINTING AND STATIONERY DEPARTMENT.

							1	938–39.	
					!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!	Salaries.	Otl	ner Charges.	Total.
Vote No	o. 11.–	-Printing and Static	onery		1.	£		£	£
	Gras	s Total			!	148,6	no İ	144,091	292,69
			• •	••		110,0		111,001	202,00
	CRED	ITS-IN-AID		• •	• •				
	NET	TOTAL		• •		148,6	00	144,091	292,69
Number of Persons.	Item	VOTE No. 11	.—PRINT	'ING AN	D STAT	IONERY	······································	1938	3–39.
938-39	. !	*Salaries—						£	£
		Λ	DMINISTR <i>A</i>	TIVE DIV	VISION.				:
1		1 (Government l	Printer) at	£900	• •			900	
			CLERICA	L Divisio	ON.				
		Class Special C-							
1		1 at £665						665	
		Class II—					£		:
		1 at £515					$5\overline{15}$	1	
2		1 at £490					490	1 005	
		Class IV—						1,005	İ
		1 at £425					425		!
4		3 at £400					1,200		
		Class V—					***************************************	1,625	
2		2 at £380						760	
	;							:	
		Class V1 3 at £335					1 005		
4		1 at £305 (9 m	onths)				$\frac{1,005}{229}$	i	
_		,	.011045)	• •	• •	• •		1,234	
		Class VII—							
	1	2 at £305	• •	• •		• •	610	!	
	1	2 at £280 1 at £205	• •	• •	• •	• •	560		
		1 at £195	• •	• •	• •	• •	$\frac{205}{195}$		
		3 at £175	• •	••	• •	• •	525	; 	
		1 at £165					165		
	i i	2 at £115					230		
		4 at £95					380		
18	1	2 at £80					160		
		OI 1 . * * * * *	••					3,030	
		Cadets' lodging-a		• •	e C 7 :		• •	130	
		Salary and lo	ralle-aumr	vence o	f Cadet	on loa	$\mathbf{n}$ to	1	

<sup>\*</sup> For particulars of salaries see "Public Service Classification List."

#### PRINTING AND STATIONERY DEPARTMENT—continued.

Vumber of Persons. Item	VOTE No. 11.—PRINTING AND STATIONERY —continued.	1938	-39.
1	Salaries—continued.	£	£
	GENERAL DIVISION.		
	3 at £470 (1 for 7 months) 1,214		
	7 at £445 (1 for 9 months, 1 for 8 months) 2,855 6 at £425 (1 for 6 months)		
	4 at £400 1,600		
	5 at £380 1,900	:	
	13 at £355 (1 for 9 months)		
	7 at £340 (1 for 6 months) 2,210		
	$12 \text{ at } £335 \dots \dots \dots 19,020$	1	
	$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
	$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
	66 at £305 20,130		
1 •	$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
	2 at £290 580 3 at £285 (1 for 3 months) 641		
	11 at £280 3,080		
	10 at £275 2,750		
	1 at £265		
	8 at £250 (1 for 1 month)		
	1 at £250 250		
	5 at £245 1,225	1	
	$\begin{array}{cccccccccccccccccccccccccccccccccccc$	·	
	3 at £195 585		
	1 at £185		
: 1 1 2 2	6 at £180 1,080 7 at £170 (1 for 5 months) 1,090		
	3 at £155		
	1 at £130 130		
į	1 at £117		
	$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
	1 at £85 85		
040	3 at £82		
269	2 at £72 144	78,146	
301		10,110	
		87,610	
	Non-permanents	58,800	
ì	&c. (permanent, £750, and non-permanent, £1,200)	1,950	
	-		
	Adjustment in regrest of account colories at commence	148,360	
	Adjustment in respect of accrued salaries at commencement and close of year	180	
	indicated and close of year		
	A11	148,180	
	Allowances to officers performing higher duties under Public Service Regulation 209	420	
	Public Service Regulation 209		
		148,600	
	OTHER CHARGES FOR AND INCIDENTAL TO-	120	
$\frac{1}{2}$	Audit fees	150	
3	Proportion of rent and clerical work, High Commissioner's		
1	Office, London	340	

#### PRINTING AND STATIONERY DEPARTMENT—continued.

$\begin{array}{c c} \mathbf{Number} & \mathbf{I} \\ \mathbf{of} & \mathbf{I} \end{array}$	[tem		1938	39 <b>.</b>
Persons.		VOTE No. 11.—PRINTING AND STATIONERY —continued.		
	:		£	£
	!	OTHER CHARGES FOR AND INCIDENTAL TO—continued.		
		Department of Internal Affairs—continued.	:	
	4	Proportion of cost of uniforms for messengers and night-		
		watchmen	8	
	5 🗄	Freight, cartage, insurance, and exchange	14,800	
	6	Fuel, power, gas, lighting, and water	2,400	
	7	Grant to widow of officer equivalent to leave due	6	
	8	Machinery, plant, tools, and accessories	4,500	
	9	Maintenance of fire-alarm	11	
	10	Medical services	50	
	11	Monotype machines, extras connected with	480	
	12	Office equipment, books, newspapers, and advertising	120	
	13	Overtime and meal allowances	7,500	
	14	Postage and telegrams	1,250	
	15 .		410	
	16	Rent	300	
1	17	Service of cleaners, messengers, &c	2,400	
	18	Stationery, paper, &c., and office requisites	100,000	
i	19	Stores, bookbinding-material, and printing-ink	8,430	
1	20	Telephone services (including installation, extensions, main-	0,100	
		tenance, rent, and calls)	126	
	21	Transfer and removal expenses	50	
	22	Type and printing material	30	
	23	Type metal	600	
	24	Window-cleaning, laundering, and rubbish-removal	80	
1	25	Cortingencies, including unforeseen expenditure incidental		
:		to the other items of the vote	50	
		to the oblici tions of the vote		
	İ		144,091	
:		Gross Total	111,001	292,69
İ		GROSS TOTAL		454,09
	į	Credits-in-aid		
	İ	NET TOTAL—VOTE No. 11		292,69

#### MARINE DEPARTMENT.

						193	38–39.	
				,	Salaries.	Other	r Charges.	Total.
Vote No. 12.—	-Marine—			1	£		£	£
Subdivision	I.—Head Office				10,211		1,120	11,331
,,	II.—Harbours				1,267		3,437	4,704
" II	II.—Lighthouses				19,491		40,370	59,861
,, I	V.—Mercantile Mari	ne			12,137		13,485	25,622
"	V.—Inspection of M	achinery			20,088		5,075	25,163
	VI.—Fisheries				9,523		15,430	24,953
	IIWestport Harbor	w			5,255		28,460	33,715
Gross To	•			:	77,972	<u> </u>	107,377	185,349
CREDITS-IN	V-AID				75		6,060	6,135
NET TOT	'AL				77,897	1	01,317	179,214
1		MINISTRA	TIVE DI	VISION.			€	£
1	1 at £1,000	• •	• •	• •	••	• •	1,000	
	P	ROFESSIO	NAL DIV	ISION.				
1	1 at £91 (also En £1,409)	gineer-in- 	Chief, Po	ublic Wo	rks Departn	ent,	91	
		CLERICA	L Divisi	ION.				
1	Class Special C- 1 at £665			• •		į	665	i
1	Class II— 1 at £515				• •		515	
1	Class III— 1 at £470						470	
1	$Class\ IV - 1  ext{ at £425}$			• •		• •	425	! ? !
3	Class V— 3 at £380			* • •			1,140	İ
7	Class VI— 5 at £335 1 at £335 (3 m 1 at £335 (1 m				1	$\begin{array}{c} £ \\ ,675 \\ 324 \\ 322 \end{array}$	_	
	Class VII 2 at £305 1 at £280 (9 m 1 at £230 (2 m 1 at £195 (9 m	onths), £2	210 (10 n	nonths)	 · · · · · · · · · · · · · · · · · · ·	610 274 214 193	2,321	

<sup>\*</sup> For particulars of salaries see "Public Service Classification List."

### MARINE DEPARTMENT---continued.

	I				
Number of Persons.		VOTE No. 12.—MARINE—continued.	1938	1938–39.	
1938–39.		Subdivision No. I.—Head Office—continued.	£	£	
	1	Salaries—continued.		2	
	į	CLERICAL DIVISION—continued.			
		Class VII—continued.			
	į	1 at £155 (11 months), £80 (1 month) 149			
	1	1 at £115 (7 months), £80 (5 months) 101			
9	i	1 at £95 (7 months), £80 (5 months)			
J	1	1 at £95 (6 months), £80 (6 months)	1,718		
		GENERAL DIVISION.			
	:	1 at £305 305	1		
3		$\begin{array}{cccccccccccccccccccccccccccccccccccc$			
J			755		
		Non-permanents.	Ì		
		1 at £240 (10 months)			
	:	1 at £240 (10 months)	T .		
	:	1 at £195 195			
		1 at £185			
		1 at £125 (11 months), £105 (1 month)			
7		1 at £95			
<u> </u>			1,038		
<b>3</b> 5		Lodging-allowances			
		Allowances to officers performing special or higher duties under Public Service Regulations 24A and 209	10		
		under Public Service Regulations 24A and 209	10		
			10,211		
į		Other Charges for and incidental to—	l		
	$2 \mid$	Advertising, photographs, books, newspapers, and other publications	40		
	3	Mechanical appliances	10		
	4	Office fittings and requisites	150		
	5	Postage, telegrams, and rent of boxes	175		
	$\frac{6}{7}$	Printing and stationery Ross Dependency: Administration expenses	$\begin{array}{c} 220 \\ 210 \end{array}$		
	8	Telephone services (including installation, extensions, main-			
		tenance, rent, and calls)	115		
	9	Transfer and removal expenses	20		
	10	Travelling allowances and expenses Typewriters—	100		
	11	Purchase of	50		
i	12	Maintenance of	20		
	13	Contingencies, including unforeseen expenditure incidental to the other items of this subdivision	10		
	:	Estimated credits-in-aid under Section 51 of the Public			
	i	Revenues Act, 1926 (see end of vote)— Miscellaneous			
		Historiancous			
			1,120		
		Total—Subdivision No. I		11,331	
		Subdivision No. II.—Harbours.	:		
	14	Salaries-			
		Professional Division.			
		Class C— Picton—	· · · · · · · · · · · · · · · · · · ·		
1		$1 \text{ at } \pounds 425$	425		
•	·		120		

VOTE No. 12.—MARINE continued.	1000	-39.
Subdivision No. 11Harbours -continued.		
Salaries—continued.	£	£
General Division.		
Kaipara-		
1 at £380	380	
Non-permanents.	ļ	
2		
Picton—		
1 at 25.55 (5 months) 91	331	
UNCLASSIFIED.		
Signalman	91	
Okuru—	90	
Allowances to officers performing special or higher duties	90	
under Public Service Regulations 24A and 209	10	
	1,267	
Other Charges for and incidental to—		
	$\frac{10}{200}$	
Foreshores, expenses of supervision, protection, and	210	
	210	
and harbour lights)	1,600	
Hokianga County Council: Subsidy Launch, purchase of		
Office expenses	30	
	1	
Prosecutions under Harbours Act	10	
	27	
maintenance, rent, and calls)	30	
1		
Tutukaka Wharf (subsidy, £1 for £1)	250	
Waikawa: Wharf repairs	45	
to the other items of this subdivision	10	
Estimated credits-in-aid under Section 51 of the Public		
Revenues Act, 1926 (see end of vote)—		
Miscellaneous £100		
m . 1 . (1.1)	3,437	4.70
Total—Subarvision No. 11		4,70
Subdivision No. III.—Lighthouses.		
	İ	
Professional Division.		
1 at £765	765	
CHARDAI DIVISION C		
$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
1 at £335		
· ·		
1 at £255 (2 months), £250 (10 months)		
t to to be a final to the first the		
567 8 90123456 78901	General Division.  Kaipara— 1 at £380  Non-permanents.  Kaipara— 1 at £341  Picton— 1 at £395 (3 months)  Unclassified.  Little Wanganui— Signalman Okuru— Signalman Allowances to officers performing special or higher duties under Public Service Regulations 24a and 209.  Other Charges for and incidental to— Cargo-working gear, investigations connected with Collingwood Harbour (repairs, £2 for £1) Foreshores, expenses of supervision, protection, and maintenance of including upkeep of buoys, beacons, and harbour lights) Hokianga County Council: Subsidy Launch, purchase of. Office expenses Port Charles' Wharf, Coromandel (repairs, £1 for £1) Printing and stationery Prosecutions under Harbours Act Rent Telephone services (including installation, extensions, maintenance, rent, and calls) Transfer and removal expenses of officers Travelling allowances and expenses Tutukaka Wharf (subsidy, £1 for £1) Waikawa: Wharf (subsidy, £1 for £1) Waikawa: Wharf (subsidy, £1 for £1) Waikawa: Wharf (subsidy, £1 for £1) Waikawa: Wharf (subsidy, £1 for £1) Waikawa: Wharf (subsidy £1 for £1) Waikawa: Wharf (subsidy £1 for £1)  Transfer and removal expenses of officers Travelling allowances and expenses Tutukaka Wharf (subsidy, £1 for £1) Waikawa: Wharf (subsidy, £1 for £1) Waikawa: Wharf (subsidy £1 for £1) Waikawa: Wharf (subsidy) £1 for £1) Waikawa: Wharf (subsidy) £1 for £1)  **Retermine the first subdivision No. III  Subdivision No. III.—Lighthouses.  SALARIES—  PROFESSIONAL DIVISION. £1 at £765  General Division. £1 at £760 1 at £335 1 at £260 260 19 at £255 1, 845	Salaries continued.

of Persons.	Item	VOTE No. 12.—MARINE—continued.	1938-	-3 <b>9.</b>
938–39.		Subdivision No. IIILighthouses continued.	£	££
	32	Salaries—continued.	~	ı
		GENERAL DIVISION—continued. £		
		1 at £245		
		1 at £245 (8 months), £235 (4 months) $\dots$ 242		
		1 at £245 (5 months), £235 (7 months)	!	
	' ;	1 at £235		
		$17 \text{ at } £225 \dots 3,825 $ $1 \text{ at } £225 (9 \text{ months}), £210 (3 \text{ months}) \dots 222$		
		$1 \text{ at £225 (9 months), £210 (3 months)} \dots 222 \pm 1 \text{ at £225 (7 months), £210 (5 months)} \dots 219 \pm 1 \text{ at £225 (7 months)} \dots 219 \pm 1 \text{ at £225 (7 months)} \dots 219 \pm 1 \text{ at £225 (9 months)} \dots 219$	į	
		1 at £225 (6 months), £210 (6 months)		
		1 at £225 (3 months), £210 (9 months)		
		1 at £225 (2 months), £210 (10 months) 213		
		1 at £225 (1 month), £210 (11 months)	1	
		1 at £210 (11 months), £200 (1 month) 209		
	1	1 at £210 (9 months), £200 (3 months)		
		2 at £210 (8 months), £200 (4 months)	i	
į		1 at £210 (7 months), £200 (5 months)		
64	ĺ	2 at £210 (6 months), £200 (6 months)	i	
01		1,000	15,185	
	i	Allowances to officers performing special or higher duties	· .	
		under Public Service Regulations 24A and 209	$\frac{10}{\cos}$	
		Station allowances	$\begin{array}{c c} 625 \\ 240 \end{array}$	
		wtretess operators anowances	240	
		Non-permanents.	410	
2	1	2 at £208	$^{416}_{2,250}$	
67	İ	Temporary keepers wages	2,250	
			19,491	
	00	Other Charges for and incidental to—	20	
	33 34	Books, magazines, and newspapers	$\frac{80}{500}$	
	35	Fog-signals, maintenance of	300	
		Fuel for lights—	300	
	36	Kerosene	1,200	
	37	Gas, &c	400	
	38	Haulage engines, &c., for light stations	1,800	
	39	Horses, vehicles, and harness— Purchase of	100	
	40	Maintenance of	$\frac{100}{250}$	
	41	Lighthouse tender, working-expenses of	25,800	
	42	Mails, carriage of	1,100	
	43	Marine Store: Repairs and improvements, &c	100	
	44	Medical examinations and expenses	50	
	45	Repairs and maintenance of lighthouses, dwellings, &c	7,500	
	46	Services for Meteorological Office (recoverable)	250	
	47 48	Telephone allowances (recoverable) Telephone services (including installation, extensions, main-	50	
	.I.(.)	tenance, rent, and calls)	700	
	49	Transfer and removal expenses	150	
	50	Travelling allowances and expenses	30	
	51	Contingencies, including unforeseen expenditure incidental	10.	
		to the other items of this subdivision	10	
		Estimated credits-in-aid under Section 51 of the Public		
		Revenues Act, 1926 (see end of vote)—		
		Recoveries— $\mathfrak{L}$ Freight, passages, &c. $1,000$		
		Services for Meteorological Office 250		
		Telephone allowances 50	!	
		Miscellaneous	:	
			!	
1		1,500		

Number of Persons.	Item	VOTE No. 12.—MARINE—continued.	1938	<b>–39.</b>
1938–39.	i	Subdivision No. IV.—Mercantile Marine.		
	52	Salaries—	£	£
		Professional Division.		
	i	$Class\ Special$ — $1  ext{ at }  ext{$\pounds 765}$		
2		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	1	
			1,430	
		Class I— $5$ at £615 $\dots 3,07$	5	
6		1 at £540 54	:0	
		Class II—	3,615	
		$5 \text{ at } \pounds 515$ 2,57	75	
	i i	1 at £490 44.	1	
8	- ! !	1 at £470 (7 months), £445 (5 months)		
			3,970	
	: 1	CLERICAL DIVISION.  Class VI—		
	:	2 at £335 67	0	
3		1 at £335 (1 month), £320 (11 months) 32		
		GENERAL DIVISION.	992	
		2		
		2 at £425 85 1 at £380		
4		1 at £335	· ·	
		Unclassified.	1,565	
		UNCLASSIFIED.		
i)			2	
2		Shipping Officer, Half-moon Bay 1	$\begin{array}{c c} 0 \\ - & 22 \end{array}$	
		Non-permanents.		
		1 at £185 18	15	
3		2 at £165	ю	
28		Allowances to officers performing special or higher dutie	515	
		under Public Service Regulations 24A and 209	. 10	
		Overall allowances	. 18	
			12,137	
		Other Charges for and incidental to—		
	53	Advertising, photographs, books, newspapers, and other	er i	
	54	publications	. 90	
	55	Cl. + (	. 800 . 250	
	56	Checking passenger traffic: Overtime	. 120	
	57	Coastal survey: "H.M.S. Endeavour," &c. (on account)		
	58 !		$\frac{30}{200}$	
	$\begin{bmatrix} 39 \\ 60 \end{bmatrix}$	13 1 1 1 1 1	.   200	
	61	Grant: Imperial Shipping Committee	. 160	
	62	New Zealand Nautical Almanac (part recoverable)		
	$\begin{vmatrix} 63 \\ 64 \end{vmatrix}$		. 100   800	
	65	Payment to Post and Telegraph Department: Wireles		
	0.0	inspection of ships	. 50	
	$\begin{bmatrix} 66 \\ 67 \end{bmatrix}$	Postage, telegrams, and rent of boxes	950	
	68	Printing and stationery	10	

Number of Persons.	Item	VOTE No. 12.—MARINE—continued.		!	1938-	39.
1938-39.		Subdivision No. IVMercantile Marinecon	tinue	d.	·	
				i İ	£	£
	(00	Other Charges for and incidental to—continued.			500	
	$\begin{vmatrix} 69 \\ 70 \end{vmatrix}$	Rent Saleable books and forms (recoverable)		• •	500   150	
	$\begin{array}{ c c c c c c c c c c c c c c c c c c c$	Shipping and Seamen Act: Miscellaneous of		ses of	150	
		administration			25	
	72	Shipping casualties: Inquiries, &c			200	
	73	Telephone services (including installation,	exter	nsions,	i	
	7.4	maintenance, rent, and calls)	• •		170	
	$\begin{vmatrix} 74 \\ 75 \end{vmatrix}$	Tide-tables, preparation of (Lands Department) Transfer and removal expenses			550   50	
	76	Transfer and removal expenses  Travelling allowances and expenses		• •	200	
	77	Contingencies, including unforeseen expenditure		dental	200	
		to the other items of this subdivision			10 ±	
				ļ		
		Estimated credits-in-aid under Section 51 o				
	.	Revenues Act, 1926 (see end of vote)—		£		
		Bluff - Stewart Island Shipping Subsidy		600		
	,	$egin{array}{cccc}  ext{Charts} & \dots & \dots & \dots & \dots & \dots & \dots & \dots & \dots & \dots & $	• •	$\begin{vmatrix} 375 \\ 175 \end{vmatrix}$	į	
		Naurcat Almanac	• •	800		
		Refunds of costs of nautical inquiries		10		
		Saleable books and forms		600	į	
		Miscellaneous		50	!	
					!	
				2,610		
				-	13,485	
	i	Total—Subdivision No. IV			15,405	25,622
				į	!	,
		Subdivision No. V.—Inspection of Machinery a. of Ships.	nd Su	urvey	:	
	78	SALARIES-			'	
	ì	Professional Division.  Class Special—		i	1	
1	:	1 at £800			800	
1		Class Special C—	• •	••	000	
1		1 at £665		:	665	
	i	Class I—		£		
		3  at  £615		1,845		
		$1 \text{ at } \pounds 615 \text{ (3 months)} \qquad \dots \qquad \dots$	• •	154		
	İ	$\begin{array}{cccccccccccccccccccccccccccccccccccc$	• •	590 6,780	i	
18		1 at £565 (7 months), £540 (5 months)	• •	555		
1,,	i	Class II—	• •		9,924	
		5 at £515		2,575	, 1	
	İ	1 at £515 (4 months), £490 (8 months)		499	1	
		1 at £515 (2 months), £490 (10 months)		495	İ	
1.0		2 at £490		980		
10	:	1 at £490 (1 month), £470 (11 months) Class III—	• •	472	5 A91	
	İ	1 at £470 (8 months), £445 (4 months)		461	5,021	
	:	1 at £470 (6 months), £445 (6 months)		458		
	i	1 at £470 (5 months), £445 (7 months)		456		
4		1 at £470 (3 months), £445 (9 months)		452		
					1,827	
	İ	Class VI				
	i	Class VI— 4 at £335			1,340	
4		Class VII—	••	••	1,040	
1	:	1 at £115 (6 months), £95 (6 months)			105	
_						

2,600

10

25,163

#### Appropriations for Consolidated Fund Services.

Number

of

Persons. 1938-39. Item

**7**8

79

80

81

82

83

84

85

86

87

88

89

90

91 92

93

94

95

96

 $^{2}$ 

41

#### MARINE DEPARTMENT -continued. 1938-39. VOTE No. 12.—MARINE—continued. Subdivision No. V.—Inspection of Machinery and Survey of Ships—continued. £ Salaries—continued. Non-permanents. £ 1 at £145 (2 months), £125 (10 months), (approx.) 139 1 at £125 (7 months), £105 (5 months) ... 117 256Allowances to officers performing special or higher duties under Public Service Regulations 24A and 209... 10 Overall allowances .. .. .. 140 20.088 Other Charges for and incidental to— Advertising, photographs, books, newspapers, and other publications ... ... Fuel, light, power, and water ... publications 25 Inquiries and technical investigations 20 Motor-vehicles: Maintenance of 500 Office-cleaning 10 . . Office fittings and requisites ... 50 50 Overtime Post and Telegraph Department: Payment for services rendered (collection of inspection fees) 200 Postage, telegrams, and rent of boxes ... 220 Pressure-gauge testing-apparatus 20 . . . . Printing and stationery 250 Prosecutions under the Inspection of Machinery Act 10 20 475Rent . . Telephone services (including installation, extensions, maintenance, rent, and calls) ... ... Transfer and removal expenses of officers ... 275 300

Public Revenues Act Overtime, Inspectors of				£ 100	
Miscellaneous	• •	••	• •	20	
				120	
Total—Subdivision No	. <i>V</i>				5,075

Subdivision	No.	VI	-Fishe	eries.

Contingencies, including unforeseen expenditure incidental

Estimated credits-in-aid under Section 51 of the

Travelling allowances and expenses ...

to the other items of this subdivision

		Suparvision No. VI.—Fisherie.	S.		1
	97	Salaries—			
	i .	Professional Division.			j
		Class Special—		!	
1		1 at £800			800
		Class VII—		£	ļ
		1  at  £305		305	!
$^{2}$		1 at £280 (11 months), £255 (1 month)		278	,
				-	583
		CLERICAL DIVISION.		i	
		Class VI—			
1		1 at £335			335 -
		Class VII—			
		1 at £175 (5 months), £165 (7 months)		170	
$^{2}$		1 at £115 (7 months), £95 (5 months)		107	
_					277

Number of Persons.	Item	VOTE No. 12.—MARINE—continued.	1938-	3 <b>9.</b>
938-39.		Subdivision No. VI.—Fisheries—continued.		
	97	Salaries—continued.	£	£
		General Division.		
		£		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		1 at £400		
		1 at £335 (7 months), £320 (5 months)	!	
		1 at £320		
		1 at £320 (11 months), £305 (1 month)		
		1 at £280 (11 months), £255 (1 month)		
		1 at £275 275	i	
11		1 at £245 245	9 501	
			3,581	
		Unclassified.		
40		40 Inspectors: 1 at £60; 5 at £25; 3 at £20; 1 at £18;		
		11 at £12; 11 at £10; 3 at £6; 5 at £5	548	
		Non-permanents.		
		£		
		1 at £380	ļ	
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		1 at £260 260		
		2 at £221		
		1 at £165 (9 months), £155 (3 months)		
		1 at £165 (10 months), £145 (2 months)		
		1 at £165 (3 months), £145 (9 months)	-	
10		1 at £115 (9 months), £105 (3 months)		
12		1 at £115 (8 months), £105 (4 months)	2,529	
69		Wages of temporary launch-drivers	750	
		Boot allowances	20	
	:	Lodging-allowances	10	
		Allowances for officers performing special or higher duties under Public Service Regulations 24A and 209	90	
		Other Charges for and incidental to—	9,523	
	98	Advertising, photographs, books, newspapers, and other		
		publications	30	
	99	Barge, purchase of (on account)	200	
	100	Compassionate allowance, widow of late J. S. Main, Fish Culturist at Hakataramea	100	
	101	Expenses of Fisheries Expert on voyage of "Discovery"	60	
	102	Fisheries investigation	150	
	$\frac{103}{104}$	Fresh-water fisheries research	200 80	
	104	Karitane: Repairs to wharf and shed Launch, purchase of (on account)	5,000	
	106	Launches, maintenance and working-expenses of	650	
	107	Marking netting-limits	50	
	$\frac{108}{109}$	Motor-rehicles: Maintenance of	100   300	
	110	Office fittings and requisites Picking and sale of oysters (recoverable)	$\frac{300}{3,450}$	
	111	Planting oysters (recoverable), (on account)	1,000	
	112	Portobello Marine Fish Hatchery Board: Grant	300	
	113 114	Postage, telegrams, and rent of boxes	60 300	
	114	Printing and stationery	30	

Persons.	Item	VOTE No. 12.—MARINE—continued.	1938	-39.
1938-39.		Subdivision No. VI.—Fisheries—continued.		
		Other Charges for and incidental to—continued.	£	£
	116	Rent	10 :	
	117	Salmon fisheries, expenses in connection with	400	
1	118	Taieri Mouth: Slipway for fishermen	400	
	119   120	Te Anau Hatchery: Repairs and improvements	250	
	120	Telephone services (including installation, extensions, maintenance, rent, and calls)	7%	
	121	maintenance, rent, and calls)  Toherous: Investigation, research, and protection, &c	75 150	
	122	Transfer and removal expenses of officers	25	
	123	Travelling allowances and expenses	950	
	124	Waikawa Slipway, erection of, &c	450	
	125	Whakapirau dwelling: Purchase and renovation, &c	600	
	126	Whitebait spawning-grounds: Fencing, &c	50	
	127	Contingencies, including unforeseen expenditure incidental		
		to the other items of this subdivision	10	
j		10 4'		
- 1	. !	Estimated credits-in-aid under Section 51 of the Public	!	
1		Revenues Act, 1926 (see end of vote)— £ Miscellaneous		
į		Miscellaneous 400		
		\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\	15,430	
į		Total—Subdivision No. VI	10,400	24,953
į		1	ļ	41,000
			1	
			i	
		Subdivision No. VII.—Westport Harbour.		
1.0	100	9		
	128	Salaries— Professional Division.		
1				
	i	Class III—	470	
			470	
•		Class III—	470	
		Class III— 1 at £470	470	
1		Class III— 1 at £470	470	
		Class III— 1 at £470	i	
		Class III— 1 at £470	i	
1		Class III— 1 at £470	i	
		Class III— 1 at £470	565	
1		Class III— 1 at £470  CLERICAL DIVISION.  Class I— 1 at £565  Class VII— 1 at £305 1 at £115 (6 months), £95 (6 months)  105	i	
1		Class III— 1 at £470	565	
1		Class III— 1 at £470	565	
1		Class III— 1 at £470  CLERICAL DIVISION.  Class I— 1 at £565  Class VII— 1 at £305 305 1 at £115 (6 months), £95 (6 months)  General Division.  2 at £400 800 3 at £355 1,065	565	
1		Class III— 1 at £470  CLERICAL DIVISION.  Class I— 1 at £565  Class VII— 1 at £305 305 1 at £115 (6 months), £95 (6 months). 105  GENERAL DIVISION.  2 at £400 800 3 at £355 1,065 1 at £320 320	565	
1		Class III— 1 at £470  CLERICAL DIVISION.  Class I— 1 at £565  Class VII— 1 at £305 305 1 at £115 (6 months), £95 (6 months)  General Division.  2 at £400 800 3 at £355 1,065	565	
2		Class III— 1 at £470  CLERICAL DIVISION.  Class I— 1 at £565  Class VII— 1 at £305 1 at £115 (6 months), £95 (6 months).  GENERAL DIVISION.  2 at £400 3 at £355 1 at £320 2 at £290  580	565	
1		Class III— 1 at £470  CLERICAL DIVISION.  Class I— 1 at £565  Class VII— 1 at £305 1 at £115 (6 months), £95 (6 months).  GENERAL DIVISION.  2 at £400 3 at £355 1,065 1 at £320 2 at £290 580 2 at £260 520	565	
2		Clerical Division.  Class III— 1 at £470  Class I— 1 at £565  Class VII— 1 at £305	565	
2		Clerical Division.  Class I—	565 410	
1 2 12 16		Clerical Division.  Class I—  1 at £565  Class VII—  1 at £305  1 at £115 (6 months), £95 (6 months).  General Division.  General Division.  2 at £400  3 at £355  1 at £320  2 at £290  3 at £350  1 at £250  1 at £250  1 at £240  Lodging-allowances  Allowances to officers performing special or higher duties	3,775 20	
2		Clerical Division.  Class I—	565 410	
1 2 16 Total Number of		Clerical Division.  Class I— 1 at £565  Class VII— 1 at £305 1 at £115 (6 months), £95 (6 months).  General Division.  General Division.  2 at £400 3 at £355 1,065 1 at £320 2 at £290 320 2 at £290 580 2 at £260 1 at £250 1 at £250 1 at £240  Lodging-allowances . Allowances to officers performing special or higher duties under Public Service Regulations 24a and 209.	3,775 20	
12 16 Total Number of Persons.		CLERICAL DIVISION.  CLERICAL DIVISION.  Class I— 1 at £565  Class VII— 1 at £305 1 at £115 (6 months), £95 (6 months).  GENERAL DIVISION.  2 at £400 3 at £355 1,065 1 at £320 2 at £290 320 2 at £290 580 2 at £260 1 at £250 1 at £250 1 at £240  Lodging-allowances  Allowances to officers performing special or higher duties under Public Service Regulations 24A and 209  Estimated credits-in-aid under Section 51 of the Public	3,775 20	
1 2 16 Total Number of		Clerical Division.  Class I—  1 at £565  Class VII—  1 at £305  1 at £115 (6 months), £95 (6 months).  General Division.  General Division.  2 at £400  3 at £355  1,065  1 at £320  2 at £290  3 at £350  1 at £250  1 at £250  1 at £240  Lodging-allowances  Allowances to officers performing special or higher duties under Public Service Regulations 24A and 209  Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)—	3,775 20	
12 16 Total Number of Persons.		Clerical Division.  Class I—	3,775 20	
12 16 Total Number of Persons.		Clerical Division.  Class I—  1 at £565  Class VII—  1 at £305  1 at £115 (6 months), £95 (6 months).  General Division.  General Division.  2 at £400  3 at £355  1,065  1 at £320  2 at £290  3 at £350  1 at £250  1 at £250  1 at £240  Lodging-allowances  Allowances to officers performing special or higher duties under Public Service Regulations 24A and 209  Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)—	3,775 20	
12 16 Total Number of Persons.		Clerical Division.  Class I—	3,775 20	

# ${\bf MARINE} \quad {\bf DEPARTMENT} \quad {\it continued}.$

Number of Item		1938	<b>–</b> 39.
Persons.	VOTE No. 12.—MARINE—continued.		
1938-39.	Subdivision No. VII.—Westport Harbour—continued.	£	£
I	Other Charges for and incidental to—		
129	Audit fees	55	
130	Audit fees	4,000	
131	Compensation for accidents	100	
132	Dredging (including repairs and maintenance)	20,500	
133	Endowments, cost of administration of	400	
134	Harbour maintenance and working-expenses	2,800	
135	Launch, maintenance and working-expenses of	90 :	
136		70	
137	Office expenses	i	
,	harbour improvements	120	
138	harbour improvements		
130	maintenance rent and calls)	75	
139	maintenance, rent, and calls)  Travelling allowances and expenses	40	
140	Tug, working-expenses, repairs, and maintenance of	200	
141	Contingencies, including unforeseen expenditure incidental	200	
	to the other items of the vote	10	
İ		:	
	Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)— £		
	Miscellaneous 1,300		
		28 460	
	Total—Subdivision No. VII	20,100	33,715
	Gross Total		185,349
	Credits-in-aid (a)		6,135
:	NET TOTAL -VOTE No. 12		179,214

(a) Credits-in-ai	d—	Sal	aries.	$\begin{array}{c} \text{Other} \\ \text{Charges.} \\ \pounds \end{array}$	1938-39. £
Subdivisio	n I	 	£	<b>3</b> 0	30
22	II	 		100	100
,,	Ш	 		1,500	1,500
,,	Į <u>V</u>	 		2,610	2,610
,,	<u>V</u>	 		120	120
,,	VI	 		400	400
55	VII	 	75	1,300	1,375
	Totals	 	<del>7</del> 5	6,060	$\overline{6,135}$

#### DEPARTMENT OF LABOUR.

							19	38-39.	
						Salaries.	Oth	er Charges.	Total.
Vote No.	13	-Labour-				£		£	£
Subdiv	ision	I.—Labour				64,7	13	42,582	107,298
,,		II.—Immigration					!	1,862	1,863
.,		'' III.—Employment Pr	romotion		!	220,0	00	60,264	280,26
,,			omorion	• •					
Gros	ss To	TAL	• •	• •	• • •	284,7	13	104,708	389,421
Crei	OITS-I	N-AID				220,0	00	63,619	283,619
NET	ТО	TAL				64,7	13	41,089	105,802
Number of Persons.	Item	v	OTE No.	13.—LA	BOUR.		vini.	1938	3–39.
938-39.		S	ubdivision	No. I	-Labour.			£	
1 1	1	Secretary Assistant Secret		Inspecto	or of Fa		£ 1,050		£
		and Chief Insp	-	•		ures	950	2,000	1
		Class Special C-	CLERICAI —	5 Divisio	ON.			!	
1		$1~{ m at}~{ m \pounds}665$	• •			• •		665	
		$\begin{array}{c} Class \ I \\ 2 \ { m at} \ \pounds 565 \end{array}$					1,130		:
3	; !	1 at £540	• •		• •		540	4 0 20	!
3		Class II— 3 at £515						1,670 $1,545$	ì
		Class V—							
4		4 at £380 Class VI—	• •		• •	• •	• •	1,520	
		5 at £335		• •	• •	• •	1,675		
-		$2  ext{ at } £320$ $Class VII$ —	• •	• •		• •	640	2,315	
7							2,440	2,010	
7		8 at £305						İ	
7		8 at £305 2 at £280	• • • • • • • • • • • • • • • • • • • •			• •	560	i	
7		8 at £305 2 at £280 1 at £205	••		• •		205		
7		8 at £305 2 at £280 1 at £205 5 at £195	•••	••	• •	• •	$\frac{205}{975}$		
7		8 at £305 2 at £280 1 at £205 5 at £195 8 at £185			• • • • • • • • • • • • • • • • • • • •		205 975 1,480		
7		8 at £305 2 at £280 1 at £205 5 at £195 8 at £185 10 at £175				• •	205 975 1,480 1,750		
7		8 at £305 2 at £280 1 at £205 5 at £195 8 at £185 10 at £175 9 at £165 12 at £115					205 975 1,480 1,750 1,485 1,380		
7 62		8 at £305 2 at £280 1 at £205 5 at £195 8 at £185 10 at £175 9 at £165				•••	205 975 1,480 1,750 1,485		

<sup>\*</sup> For particulars of salaries see "Public Service Classification List." 6-B. 7.

Number of Persons.	Item	VOTE No. 13.—LABOUR—continued.							39.
938-39.	<u> </u>	Subdivision .	No. 1.—	Labour	-continu	ied.		£	£
	1	Salaries—continued.						ž.	t
		C <sub>D</sub>	NERAL I	TVICIO	NT.		£		
		12 at £470	NEKAL L		N•		5,640		
		10 at £425					4,250		
		1 at £400					400		
		8 at £380					3,040	i	
		$1 \text{ at } £350 \dots$		• •			350		
		$16 \text{ at } £335 \dots$	• •	• •	• •	• •	5,360		
		30 at £305	• •	• •	• •	• •	$9,150 \\ 280$		
	li	1 at £280 1 at £280 (11 month	··			• •	257		
		4 at £275	D)				1,100	:	
86		2 at £195					390		
0.0								30,217	
			UNCLAS	SIFIED.				-1-	
1		$1 \text{ at } £515 \dots$	• •	• •	• •	• •	••	515	
		N.T.							
			ON-PERM	IANENT	·S.		340		
		$\begin{array}{ccc} 1 \text{ at } £340 & \dots \\ 2 \text{ at } £305 & \dots \end{array}$					610		
		$5 \text{ at } £280 \dots$					1,400		
		$2 \text{ at } £250 \dots$					500	!	
		$1 \text{ at } £235 \dots$					235		
		1 at £234 $\dots$				• •	234	!	
		1 at £225 (6 months)	)			• •	112		
		$6 \text{ at } £195 \dots$	• •	• •	• •	. •	$egin{array}{c c} 1,170 & \hline 740 & \hline \end{array}$		
		4 at £185	• •		• •		990		
		$6 \text{ at } £165 \dots \\ 4 \text{ at } £145 \dots$		• •			580		
		$8 \text{ at } £125 \dots$					1,000		
		6 at £105					630		
		$5 \text{ at } £85 \dots$					425	1	
		2 at £65			• •		130		
55		1 at £165 (1st to 25t	h April)	• •	• •	• •	11	9,107	
		Temporary Stipendi	any Mao	rietrota.				3,101	
1		1 emporary Supendi	ary mag hs appro	3150140C 3X.)				400	
1		1 at £750 (7 mont Salaries of nomina	ted me	mbers,	Court o	of Arb	itration		
		(Industrial Con	ciliation	and	Arbitratio	on Act	, 1925,		
		Section 73)—						2 000	
4		4 at £750			omona /Tr	 Anatri	J. Con	3,000	
		Salaries of Concilia ciliation and Ar	ttion Co bitration	$\frac{\text{Miniss}}{\text{Act}}$ 1	oners (11 925 Secti	ion 40)-	0011-	1	
3		3 at £500	Ditration	. A.C., 1	. 526, 5000			1,500	
		Allowances to office	$_{ m ers}$ $_{ m temr}$	orarily	perform	ing spe	ecial or		
232		higher duties un	der Pul	blic Š $\epsilon$	ervice Re	egulatio	$^{ m hs}$ 24 $^{ m h}$		
	-	and $209$						335	
		Allowances to office	rs of the	Depar	tment of	Justice	e acting	195	
		as Clerks of Aware		• •	• •	• •	••	$\begin{array}{c c} 135 & \\ 229 & \end{array}$	
		Lodging-allowances	• •	• •	• •	• •	• •	35	
		Marriage allowance	• •	• •	• •	• •			
							!	66,113	
		Less salaries provi	ded but	not rec	uired for	full ye	ar	1,400	
		Loss salaries par		-	•	J	-	64,713	
	1						:-		
		Omiran Carraga Bon	ANTO TATO	TIMENTEA	т. то				
	9	OTHER CHARGES FOR	AND INC	IDENTA	L TO— newspape	ers, and	d other		
	2	Advertising, photog	raphs, b	ooks,	newspape			650	

Number of Persons.	VOTE No. 13.—LABOUR—continued.	1938-	39.
938-39.	Subdivision No. I.—Labour—continued.		
	OTHER CHARGES FOR AND INCIDENTAL TO—continued.	£	£
	Bicycles—		
	Purchase of	20	
	Maintenance of and repairs to	15	
	Cleaning, laundering, and refuse removal services Conciliation Councils under Industrial Conciliation and	45	
i	Arbitration Act, 1925— Fees to assessors	5,750	
	Travelling allowances and expenses of assessors and Con-	0,100	
į	ciliation Commissioners	5,500	
	Court of Arbitration: Travelling allowances and expenses	4,400	
[ ]			
	General's Branch	50	
]		F00	
	national Labour Organization, Geneva	500	
		100 500	
		500	
-		250	
	overseas	300	
		333	
	tion Act, 1922	26	
1	Motor-vehicles—		
	Purchase of	500	
		2,675	
	Office fittings and requisites	1,523	
4	Overtime and meal allowances	150	
		2,300	
		4,700 2,500	
9		20	
	tenance, rent, and calls)	1,000	
9	Transfer and removal expenses	1,000	
	Travelling allowances and expenses	6,400	
5		33	
	Typewriters—	100	
		100	
		50	
,	measures, &c., and Inspector's testing-scales, &c	350	
		300	
	to the other items of the vote	50	
Ì			
	Estimated credits-in-aid under Section 51 of the Public		
	Revenues Act, 1926 (see end of vote)— £		
	Law-costs: 240		
	Refund by delegate to Conference of Inter-		
	national Labour Organization, Geneva, of portion of grant towards expenses 86		
	Sale of publications		
	Services to Government Statistician 90		
-	Travelling - expenses (including motor - car		
+	expenses) 1,800		
	Miscellaneous 110		
		ALL REAL PROPERTY AND ADDRESS OF THE PERTY AND ADDRESS OF THE PERTY AND ADDRESS OF THE PERTY AND ADDRESS OF THE PERTY AND ADDRESS OF THE PERTY AND ADDRESS OF THE PERTY AND ADDRESS OF THE PERTY AND ADDRESS OF THE PERTY AND ADDRESS OF THE PERTY AND ADDRESS OF THE PERTY AND ADDRESS OF THE PERTY AND ADDRESS OF THE PERTY ADDRES	
	2,762		
		42,582	
		47 587	

Number of Persons.	Item	VOTE No. 13.—LABOUR—continued.	1938-	39.
<del>1938</del> –39.		Subdivision No. II.—Immigration.		
	33 34 35 36	Charges for and incidental to— Administration and general expenses	£ 20 10 30 117	£
	37 38 39 40	Imperial and other Governments: Recoveries of passagemoney due to	150 780 730 25	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)—  Passages		1,862
1	41	Subdivision No. III.—Employment Promotion.  Salaries—  Clerical Division.  Class Special B—  1 at £715	715	
1		Class I— 1 at £565	565	
2		Class II —       £         1 at £515         515         1 at £515 (10 months), £490 (2 months)        511         Class III —       2 at £470	1,026 940	
7		Class IV— 7 at £425	2,975	
11		Class $V$ — 10 at £380	4,173	
67		$\begin{array}{c} \textit{Class VI} \\ 60 \text{ at £335} &$	22,375	

Number of Persons.	VOTE No. 13.—LABOUR—continued.	1938	£
1938–39.	Subdivision No. III.—Employment Promotion—continued.		
41	Salaries—continued.	£	£
	CLERICAL DIVISION—continued.		
	Class VII—continued.		
	1 at £305 (8 months), £280 (4 months) 297		
	1 at £305 (6 months), £280 (6 months) 293		
1	1 at £305 (2 months), £280 (10 months) 284		
	1 at £305 (1 month), £280 (11 months) 282		
	$2 \text{ at } £280 \qquad \dots \qquad \dots \qquad \dots \qquad \dots \qquad 560$		
	1 at £280 (10 months), £255 (2 months)		
	1 at £280 (2 months), £255 (10 months)		
	1 at £255 (8 months), £230 (4 months) 245 1 at £230 (10 months), £205 (2 months) 226		
1	1 1 600 (0 11 ) 6005 (2 11 )		
	1 at £230 (9 months), £205 (3 months)		
	1 at £205 (11 months), £185 (1 month) 203		
	1 at £205 (8 months), £180 (4 months) 197	•	
	1 at £205 (7 months), £180 (5 months) 195		
1	1 at £195 195		
	1 at £195 (10 months), £185 (2 months) 193		
	1 at £195 (8½ months), £185 (3½ months) 192		
	2 at £195 (6 months), £185 (6 months) 380		
	1 at £195 ( $2\frac{1}{2}$ months), £185 ( $9\frac{1}{2}$ months)		!
}	1 at £195 (9 $\frac{1}{2}$ months), £155 (2 $\frac{1}{2}$ months) 187		
:	1 at £185 185 2 at £185 (11 months), £175 (1 month) 368		
į	2 at £185 (11 months), £175 (1 month)		
)	1 at £185 (8 $\frac{1}{2}$ months), £175 (3 $\frac{1}{2}$ months) 182		
!	1 at £185 ( $7\frac{1}{2}$ months), £175 ( $4\frac{1}{2}$ months) 181		
	1 at £185 (6 months), £175 (6 months) 180		1
	1 at £185 (5 months), £175 (7 months) 179		
i	1 at £185 (9 $\frac{1}{2}$ months), £155 (2 $\frac{1}{2}$ months) 179		1
	2 at £185 ( $1\frac{1}{2}$ months), £175 ( $10\frac{1}{2}$ months)		
	1 at £185 (4 months), £175 (4 months), £115 (4		İ
	months) 158		
1	1 at £185 (1 month), £155 ( $4\frac{1}{2}$ months), £115 ( $6\frac{1}{3}$ months)		İ
	1 7 6186		
ļ	1 at £175 175 1 at £175 (10 months), £165 (2 months) 173		İ
	1 at £175 (8 months), £165 (3 months), £95		
	(1 month) 167		
i	1 at £175 (1 month), £165 (11 months) 166		!
	2 at £175 (4 months), £115 (6 months), £95		:
	(2 months) 264		
•	1 at £175 ( $2\frac{1}{2}$ months), £115 ( $5\frac{1}{2}$ months), £95		: :
	(4 months) 121		
	1 at £175 (1 month), £115 (7 months), £95 (4 months)		
	0 4 07 07		
	2 at £165		
	3 at £165 (10 months), £155 (2 months)		
	2 at £165 (8 months), £155 (4 months) 324		
	1 at £165 (7 months), £155 (5 months) 161		
	1 at £165 ( $10\frac{1}{2}$ months), £80 ( $1\frac{1}{2}$ months) 154		
	1 at £165 (8 months), £95 (3 months), £80 (1		
	month) 140		
	1 at £165 (3 months), £95 (8 months), £80 (1		
	month) 111		
	1 at £155 (5 months), £115 (7 months) 132		
1	1 at £115 (11 months), £95 (1 month)		
	1 at £115 (10 months), £95 (2 months)		,

Number of	Item	YOUNG N. TO TABOTTO			1938	-39
Persons.		VOTE No. 13.—LABOUR—continued.			1000	
1938–39.		Subdivision No. III.—Employment Promotion—co	ontin'	ued.	£	£
	41	Salaries—continued.				
		Clerical Division—continued.				
		Class VII—continued.		£	i	
		a contract of the contract of	•	111 330		
		# . 011# /O		540	i	
		1 / CITE /F 11 \ COF /F 11 \		107		
	i	, , , , , , , , , , , , , , , , , , , ,		210		
		, , , , ,	•	102		
		0 (0115 )0 11 \( (005 )0 \) 11 \( (11) \)	•	$\frac{202}{300}$		
		9 4 6115 (9		$\frac{300}{294}$		
		4 -4 (11% /1/1) (0% /11/1) (1		388		
				95		
		, , , , , , , , , , , , , , , , , , , ,	•	470	!	
		9 4 605 10 11 1 600 19 11 1		$\begin{bmatrix} 92 \\ 273 \end{bmatrix}$		
		9 4 605 (7 1) 600 (5 1)	· •	267		
		1 -4 (05 (5141 -) (00 (6141 -)		87		
	1	77 ( 2		86		
			•	170		
		9 1 605 /9 11 \( \) 600 /10 11 \( \)	•	$\begin{array}{c c} 168 \\ 249 \end{array}$		
		0 1 60% (11 11 ) 600 (101 11 )		164		
	.	9 4 605 (1 41) 600 (11 41)		243		
136	:	$1 \text{ at } £80 \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots$		80	00 155	
		Cadets' lodging-allowances			$\begin{bmatrix} 23,177 \\ 380 \end{bmatrix}$	
		GENERAL DIVISION.		:		
		1 at £245 $\dots$ $\dots$ $\dots$ $\dots$		245		
		1 at £205		$\begin{array}{c} 205 \\ 197 \end{array}$		
		1 / 2105		195		
		1 - 4 6105		185		
				364		
8		1 at £165 (2 months), £80 (2 months), £60 (	(8	81		
		months), (approx.)	••		1,472	
		Non-permanents. 1 at £750 $\dots$		750		
		$1 \text{ at } £515 \dots \dots \dots \dots \dots \dots \dots \dots \dots$	· ·	515		
		$2 \text{ at } £425 \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots$		850		
		$1 \text{ at } £385 \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots$		385		
	. !	1 at £360	• •	360 330		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	• •	$\frac{330}{328}$		
		$1 \text{ at } £320 \dots \dots \dots \dots$		320		
		$2 \text{ at } £305 \dots \dots \dots \dots \dots \dots \dots \dots \dots$		610	j	
	İ	$1 \text{ at } £295 \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots$		295		
		5 at £280	• •	$\frac{1,400}{795}$		
		1 at £260		260		
		10 at £250		2,500		
		$4 \text{ at } £245 \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots$		980		
		3 at £235	• •	705	ļ	
	i :	0	• •	$\begin{bmatrix} 1,320 \\ 430 \end{bmatrix}$		
		$2 \text{ at } £215 \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots$	· ·	$\frac{430}{210}$		
		0 / 6105		1,480		
		1 at £185 (3 months), £165 (9 months) .		170		

# ${\tt DEPARTMENT} \ \ {\tt OF} \ \ {\tt LABOUR} - continued.$

Number of Persons.	Item	VOTE No. 13.—LABOUR—continued.	1938	-39.
1938–39.		Subdivision No. III.—Employment Promotion—continued.		
	41	Salaries—continued.	£	£
		Non-permanents—continued.		
		£		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		1 at £165 ( $6\frac{1}{2}$ months), £145 ( $5\frac{1}{2}$ months)		
	1	1 at £155		
		1 at £145		
		1 at £145 (4 months), £125 (8 months)		
		1 at £145 (3 months), £125 (9 months) 130		
		1 at £125 (10 months), £105 (2 months) 122 1 at £125 ( $8\frac{1}{2}$ months), £105 ( $3\frac{1}{2}$ months) 119	İ	
	.	1 at £125 ( $8\frac{1}{2}$ months), £105 ( $3\frac{1}{2}$ months)	!	
		1 at £125 (4 months), £105 (8 months) 111		
	1	1 at £125 (2 months), £105 (10 months) 108 2 at £105 (8 months), £95 (4 months) 204		
		2 at £105 (8 months), £95 (4 months)		
		1 at £105 ( $6\frac{1}{2}$ months), £85 ( $5\frac{1}{2}$ months) 96		
		I at £105 (5 months), £95 (2 months), £85 (5 months) 95		
	'  - 	2 at £105 (4 months), £85 (8 months)		
	:	1 at £105 ( $\frac{1}{2}$ month), £85 ( $11\frac{1}{2}$ months) 86		
		1 at £95 ( $6\frac{1}{2}$ months), £80 ( $5\frac{1}{2}$ months) 89		
	!	1 at £85		
		2 at £85 (8 months), £65 (4 months)		
		1 at £85 (4 months), £65 (8 months) 72		
93		1 at £65 65	19,268	
		Allowances to officers temporarily performing special or	19,200	
		higher duties under Public Service Regulations 24A and 209	284	
51		Salaries and allowances of officers on loan from other	201	
<b>500</b>	!	Departments	11,812	
532	İ	Salaries of clerical assistants employed in Employment Bureaux	122,368	
<b>3</b> 8	į	Salaries and allowances of Supervisors, Gold-mining Scheme	8,470	
949	i	Estimated credits-in-aid under Section 51 of the Public		
		Revenues Act, 1926 (see end of vote)—		
Total Number	!	Employment Promotion Fund: Contribution 220,000	İ	
of		bion 220,000		
Persons.   1,181			220,000	
-,101	İ	OTHER CHARGES FOR AND INCIDENTAL TO—		
I	42	Advertising	50	
:	43	Ex gratia payments to relief workers	50	
İ	$\frac{44}{45}$	Fitting up Labour Bureaux	$\frac{5,100}{50}$	
!	46 46	Law-costs (part recoverable)	$\frac{50}{32}$	
		Motor-vehicles—	ļ	
	47	Purchase of	1,872	
;	48   49	Maintenance of and repairs to	$\frac{4,150}{5,380}$	
	50	Office expenses	1,100	
	$\frac{51}{2}$	Overtime and meal allowances	450	
I	$52 \pm 53 \pm$	Postages, telegrams, and rent of letter-boxes	4,750	
İ	$\frac{55}{54}$	Printing and stationery	$\frac{5,000}{9,440}$	
İ	55	Services rendered by other Departments	10,100	

# $A \ propriations \ for \ Consolidated \ Fund \ Services.$

Number of Persons.	Item	V	OTE No. 13.—LAB	OUR—conti	nued.		1938	3–39.
1938-39	•	Subdivision N	Vo. III.—Employme	nt Promotio	n—conti	inued.	£	£
		OTHER CHARG	ES FOR AND INCIDE	NTAL TO-c	ontinued			
	56	Telephone	services (including	installatio	ns, ext	ensions,		
		maintenar	nce, rent, and calls)				4,400	
	57	Transfer and	d removal expenses			!	1,000	
	, 58	Travelling a	llowances and exper	ises		:	6,500	
		Typewriters	and mechanical offi	ce applia <mark>nc</mark> e	s			
	59	Purchase					700	
	60	Maintenar	ace of and repairs to			,	120	
	61		es, including unforce		iture in	cidental		
		to the oth	er items of the vote				20	
		tion Law-c Moton Trave		  nce	atribu-   	£ 60,000 10 100 100 22 60,232		
							60,264	
	'		Total-Subdivision	No. III	• •	}		280,264
	i	GR	oss Total					389,421
		Cr	EDITS-IN-AID $(a)$				• •	283,619
		NE	T TOTAL-VOTE	No. 13				105,802
		1412	I TOTALVOIE	110. 10	••	••		100,002
(a)	Credits	s-in-aid—	$\begin{array}{c} \text{Salaries.} \\ \mathbf{\mathfrak{L}} \end{array}$		Other harges.		1938-39. £	
	Subdi	vision I			2,762		2,762	
		" II			625		625	
		,, III	220,000	6	0,232		280,232	
		Totals	$\frac{220,000}{220,000}$	6	3,619		283,619	

#### NATIVE DEPARTMENT.

										19	38–39.	
								Salarie	es.	Oth	er Charges.	Total.
ote No	D. 14.—	-Native						£			£	£
200 210												
	Gross	S TOTAL				• •		96,	393		50,769	147, 162
	CREDI	TS-IN-AID						29,	020		5,710	34,730
	NET	TOTAL					-	67,	373		45,059	112 439
	7413 €	LOTAL	• •			• •						1121, 102
Number of Persons.	Item		V	OTE N	o. 14	NA	TIVE.				1938	-39.
938–39.	1	*Salaries-	_								£	Ľ
				Adminis	STRAT	ive D	IVISION.					
1		1 at £1,2					• •				1,200	
				Profes	STONA	ı. Dıv	ISION.					
		$Class\ I-$	_	1 200 2 220	010111		1010111				i	
1		1 at £5								• •	565	
1		$Class \ II = 1 \ { m at} \ { m \pounds} 4$									490	
				Crwo	TCAT	Divisi	OM					
1		1 at £800			ICAH						800	
-	!	Class Sp		}							m1 =	
1		1 at £7 Class Sp		<u>.                                    </u>		• •		• •			<b>71</b> 5	
1	1	$1 \text{ at } \pounds 6$									665	
	1	Class I-	-							£		
9	1	$1 \text{ at } \pounds 6$				• •	• •	• •		15	i i	
3		$2  ext{ at } \pounds 5 $		• •		• •	• •	• •	1,1	3U	1,745	
1		l at £5		٠,							515	
		$Class\ III$										
4		4 at £4	70			• •	• •	• •		• •	1,880	
		$Class~IV \ 7~{ m at}~{ m \pounds}4$							$^{2,9}$	75		
				nonths),	£400	 (8 mc	onths)			08		
	i			$\mathbf{nonths})^{'}$		`				71	i.	
10		1 at £4	00				- •		4	00		
	ıİ	Class V-							7 0	20	3,854	
	!	19 at £		$_{ m nonths}$ ),	£355	 (10 m	onths	• •	7, 2	59		£ 147,162 34,730 112,432 3-39.
	:			nonths)	2000			• • •		53		
<b>26</b>		5  at  £3	55	• • •			• •	• •	$1,\overline{7}'$		i	
		$Class\ VI$	_								9,607	
		19 at £				• •	• •	, · ·	6,30		1	
	.			nonths)	6900		 			23	- !	
				nonths),				• •		26		
25				nonths), nonths),				• •		24		
20		o at to	oo (4 n	юныя),	2040	fro m	onunsj	• •	<i>i</i> )(i	38	8,206	

<sup>\*</sup> For particulars of salaries see "Public Service Classification List."

#### ${\bf NATIVE} \quad {\bf DEPARTMENT--} continued.$

	ł			
Number of	Item	į	1938-	-39
Persons.	10011	VOTE No. 14.—NATIVE—continued.	1000	00.
$\overline{1938}$ – $\overline{39}$ .		TOTES IV. 11, AVAILABLE Communication.	i	
	1	Salaries—continued.	£	£
		CLERICAL DIVISION—continued.	-	
		Class VII—		
	İ	$23 \text{ at } £305 \qquad \dots \qquad \dots \qquad 7,015$		
		1 at £305 (11 months), £280 (1 month) 303		
		1 at £305 (7 months), £280 (5 months) 295		
	1	1 at £305 (6 months), £280 (6 months) 292		
		1 at £305 (5 months), £280 (7 months)		
		2 at £305 (4 months), £280 (8 months)		
		2 at £280 560		
		1 at £280 (3 months), £255 (9 months) 262		
		1 at £255 (10 months), £230 (2 months) 251	i	
		$2 \text{ at } £230 \qquad \dots \qquad \dots \qquad \dots \qquad \dots \qquad \dots \qquad \dots \qquad \dots$		
	,	1 at £230 (6 months), £205 (6 months) 218		
		1 at £230 (1 month), £205 (11 months) 207		
		1 at £205 205 1 at £185 (11 months), £175 (1 month) 184		
		1 at £185 (11 months), £175 (1 month)		
		1 at £185 (8 months), £175 (4 months)		
		2 at £185 (6 months), £175 (6 months) 360		
		1 at £185 (5 months), £155 (2 months), £115		
		(5 months)		
		1 at £185 (4 months), £175 (8 months)		
		3 at £185 (3 months), £175 (9 months)	i	
		1 at £185 (2 months), £175 (10 months)		
		3 at £175 (10 months), £165 (2 months) 519		
		1 at £175 (9 months), £165 (3 months)	1	
		1 at £175 (5 months), £115 (3 months), £95	'	
		(4 months)		
		1 at £175 (4 months), £95 (8 months) 122		
		4 at £165 660 1 at £165 (11 months), £155 (1 month) 164	!	
		1 at £165 (11 months), £105 (1 month) 164   1 at £165 (11 months), £80 (1 month) 158		
		3 at £165 (10 months), £155 (2 months)		
		1 at £165 (9 months), £95 (3 months)		
		1 at £165 (8 months), £155 (2 months), £80	. 1	
		(2 months) 149		
		2 at £165 (7 months), £155 (5 months)		
		1 at £165 (7 months), £155 (3 months), £80 (2 months)		
		(2 months) 1 at £165 (4 months), £155 (8 months)		
		1 at £155 (3 months), £115 (9 months) 125	:	
		1 at £115 (9 months), £95 (3 months) 110	-	
		2 at £115 (8 months), £95 (4 months) 217		
		1 at £115 (6 months), £95 (6 months) 105		
		3 at £115 (5 months), £95 (7 months) 311		
	į į	1 at £95 (9 months), £80 (3 months)	1	
		4 at £95 (2 months), £80 (10 months)	1	
		1 at £80 80		
		2 at £80 (10 months) 133		
91		1 at £80 (7 months) 47	10.505	
		GENERAL DIVISION.	18,597	
		1 at £765		
		1 at £540 540		
		1 at £515 515		
	!	1 at £470 (3 months), £450 (9 months)	:	
	1	1 at £445 445 $\mid$		
		$ \begin{array}{cccccccccccccccccccccccccccccccccccc$		
	'	1 at £380 $\dots$ 380		

#### NATIVE DEPARTMENT—continued.

Number of Persons.	Item					1938–3 <b>9.</b>				
938–39.	1	Salaries—c				0010011000			£	£
1			Cravi	eral Div	TOTOM 00	n tim a a I			İ	
	1		GENI	ERAL DIV	1810Nco	nunuea.		£		
·		1 at £335						335	į	
!		2 at £320						640		
	'	1 at £305						305		
12	1	1 at £195		• •		• •		195		
į	!		Jungs	s of Nat	rive Lan	ь Сонкт			4,975	
		4 . 6050					-	() HW ()		
7		1 at £970		., .	• •	• •	• •	970		
•		6 at £800	• •	• •	• •	• •	• •	4,800	5,770	
	ļ			Non-pe	RMANENT	8.			5,110	
		1 at £540						540	1	
	!	1 at £500						500		
İ	1	2 at £450						900		
	- 1	2 at £425						850		
		1 at £400						400		
		1 at £380						380		
		1 at £360						360		
		10 at £355	·		• •			3,550		
		2 at £335	• •				• •	670		
	i	3 at £320		• •	• •	• •	• •	960		
	i	2 at £310	• •	• •	• •	• •	• •	620		
!	į	3 at £305 6 at £300	• •	• •	• •	• •	• •	915		
		4 at £295	• •	• •	• •	• •	• •	1,800		
	i	1 at £286	• •	• •	• •	• •	• •	1,180 286		
		1 at £285	• •	• •	• •	• •	• •	285		
:		1 at £280	• •	• •	• •	• •	• •	280		
		1 at £280		ths)		• •	• • •	210		
		3 at £275		(115)		• •	• •	825		
		4 at £265					• •	1,060		
	İ	4 at £260					• •	1,040		
		1 at £260						195		
	1	6 at £250	`	,				1,500		
	!	11 at £235	<b>5</b>					2,585		
		3 at £235	(11 mo	nths)				646		
	1	1 at £230	(10 mo	nths)				192		
	i	11 at £220	)					2,420		
		2 at £210		• •	• •			420	1	
		1 at £210		$_{ m nths}$ )				193	İ	
		1 at £205	• •	• •			• •	205		
		1 at £200	• •	• •	• •	• •	• •	200		
		1 at £195	(0	: 1 V	• •	• •	• •	195		
		1 at £195		,	• •	• •	• •	49		
		3 at £185 2 at £175		• •	• •	• •	• •	555		
İ	1	12 at £165		• •	• •	• •	• •	350		
		1 at £165		the)		• •	• •	$\frac{1,980}{96}$		
1		1 at £165			• •	• •	• •	28		
1		3 at £155	(2 mon		• • •	• •	• •	465		
		6 at £145			• •	• •	• •	870	i	
	+	1 at £145				• •		121		
İ		6 at £125			••	• •		750	1	
	-	10 at £105	<b>5</b>	••	••		• • •	1,050		
		1 at £104		$_{ m nths}$ )				87		
		10 at £85	•					850		
	ĺ	5 at £65			• •			325		
İ		1 at £65 (						59		
		4 at £65 (.	10 mon	ths)				216		

## NATIVE DEPARTMENT—continued.

Persons.	Item		1938–3 <b>9</b> .		
		VOTE No. 14.—NATIVE—continued.			
938–39.	1	Salaries—continued.	£	£	
		Non-permanents—continued.			
		1 at £65 (9 months)	:		
		1 at £55 (9 months)			
163		1 at £39			
348		Cadets' lodging-allowances	$\frac{34,343}{227}$		
		Allowances to officers temporarily performing special or higher duties under Public Service Regulations 24A and			
		Temporary clerical assistance (officers on loan from other	69		
		Departments)	2,170		
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)—			
		Administration expenses— £ Maori Land Boards 8,730			
		Maori Land Boards          8,730           Native Trustee          10,140			
		Grant from Employment Promotion Fund. 10,000	:		
		Recoupment from Native Housing Fund	i		
		for supervision			
		Translations and miscellaneous 100			
		29,020			
			96,393		
}		Miscellaneous Services—			
	!	CHARGES FOR AND INCIDENTAL TO-			
	2	Advertising, photographs, books, newspapers, and other			
		1.1:			
		publications	90		
	$\begin{vmatrix} 3 \\ 4 \end{vmatrix}$	Agent's commission	10		
	4	Agent's commission	10 100		
	4 5	Agent's commission	10		
	4	Agent's commission	10 100 250		
	4 5	Agent's commission	10 100 250 180		
	4 5 6 7	Agent's commission	10 100 250		
	5 6	Agent's commission	10 100 250 180 5,000		
	4 5 6 7 8	Agent's commission	10 100 250 180 5,000 350		
	4 5 6 7 8 9	Agent's commission	10 100 250 180 5,000 350 5,000		
	4 5 6 7 8	Agent's commission	10 100 250 180 5,000 350		
	4 5 6 7 8 9	Agent's commission	10 100 250 180 5,000 350 5,000		
	4 5 6 7 8 9 10 11	Agent's commission	10 100 250 180 5,000 350 5,000		
	4 5 6 7 8 9 10 11 12	Agent's commission  Ahuwhenua Trophy destroyed by fire, replacement of Audit fees  Board of Native Affairs: Expenses of members and of District Committees  Clearing Native lands of noxious weeds, under Section 16 of Noxious Weeds Act, 1928  Compassionate allowance to Patrick Barry, formerly Supervisor, Native Department  Compensation to Natives for Taranaki lands  Confiscated and other Native lands (on account)  Consolidation of Native lands  Administration expenses (including expenses of Native meetings)  Valuation fees	10 100 250 180 5,000 350 5,000 10		
	4 5 6 7 8 9 10 11	Agent's commission  Ahuwhenua Trophy destroyed by fire, replacement of  Audit fees  Board of Native Affairs: Expenses of members and of District Committees  Clearing Native lands of noxious weeds, under Section 16 of Noxious Weeds Act, 1928  Compassionate allowance to Patrick Barry, formerly Supervisor, Native Department  Compensation to Natives for Taranaki lands  Confiscated and other Native lands (on account)  Consolidation of Native lands— Administration expenses (including expenses of Native meetings)  Valuation fees  Contribution towards cost of memorials to representative	10 100 250 180 5,000 5,000 10 1,800 20		
	4 5 6 7 8 9 10 11 12 13	Agent's commission  Ahuwhenua Trophy destroyed by fire, replacement of Audit fees  Board of Native Affairs: Expenses of members and of District Committees  Clearing Native lands of noxious weeds, under Section 16 of Noxious Weeds Act, 1928  Compassionate allowance to Patrick Barry, formerly Supervisor, Native Department  Compensation to Natives for Taranaki lands  Confiscated and other Native lands (on account)  Consolidation of Native lands—  Administration expenses (including expenses of Native meetings)  Valuation fees  Contribution towards cost of memorials to representative Maoris	10 100 250 180 5,000 350 5,000 10		
	4 5 6 7 8 9 10 11 12	Agent's commission	10 100 250 180 5,000 5,000 10 1,800 20 20		
	4 5 6 7 8 9 10 11 12 13	Agent's commission  Ahuwhenua Trophy destroyed by fire, replacement of Audit fees  Board of Native Affairs: Expenses of members and of District Committees  Clearing Native lands of noxious weeds, under Section 16 of Noxious Weeds Act, 1928  Compassionate allowance to Patrick Barry, formerly Supervisor, Native Department  Compensation to Natives for Taranaki lands Confiscated and other Native lands (on account)  Consolidation of Native lands—  Administration expenses (including expenses of Native meetings)  Valuation fees  Contribution towards cost of memorials to representative Maoris  Contribution towards cost of Carroll Memorial, carved meeting-house at Wairoa	10 100 250 180 5,000 5,000 10 1,800 20		
	4 5 6 7 8 9 10 11 12 13 14	Agent's commission  Ahuwhenua Trophy destroyed by fire, replacement of Audit fees  Board of Native Affairs: Expenses of members and of District Committees  Clearing Native lands of noxious weeds, under Section 16 of Noxious Weeds Act, 1928  Compassionate allowance to Patrick Barry, formerly Supervisor, Native Department  Compensation to Natives for Taranaki lands  Confiscated and other Native lands (on account)  Consolidation of Native lands— Administration expenses (including expenses of Native meetings)  Valuation fees  Contribution towards cost of memorials to representative Maoris  Contribution towards cost of Carroll Memorial, carved meeting-house at Wairoa  Contribution towards cost of New Zealand Gazette and printing Court and Board Panuis	10 100 250 180 5,000 5,000 10 1,800 20 20		
	4 5 6 6 7 8 9 10 11 12 13 14 15 16	Agent's commission  Ahuwhenua Trophy destroyed by fire, replacement of Audit fees  Board of Native Affairs: Expenses of members and of District Committees  Clearing Native lands of noxious weeds, under Section 16 of Noxious Weeds Act, 1928  Compassionate allowance to Patrick Barry, formerly Supervisor, Native Department  Compensation to Natives for Taranaki lands  Confiscated and other Native lands (on account)  Consolidation of Native lands— Administration expenses (including expenses of Native meetings)  Valuation fees  Contribution towards cost of memorials to representative Maoris  Contribution towards cost of Carroll Memorial, carved meeting-house at Wairoa  Contribution towards cost of New Zealand Gazette and printing Court and Board Panuis  Departmental buildings, Tikitiki	10 100 250 180 5,000 5,000 10 1,800 20 20 250 1,350 25		
	4 5 6 6 7 8 9 10 11 12 13 14 15 16 17	Agent's commission  Ahuwhenua Trophy destroyed by fire, replacement of Audit fees  Board of Native Affairs: Expenses of members and of District Committees  Clearing Native lands of noxious weeds, under Section 16 of Noxious Weeds Act, 1928  Compassionate allowance to Patrick Barry, formerly Supervisor, Native Department  Compensation to Natives for Taranaki lands  Confiscated and other Native lands (on account)  Consolidation of Native lands— Administration expenses (including expenses of Native meetings)  Valuation fees  Contribution towards cost of memorials to representative Maoris  Contribution towards cost of Carroll Memorial, carved meeting-house at Wairoa  Contribution towards cost of New Zealand Gazette and printing Court and Board Panuis  Departmental buildings, Tikitiki  Departmental cottage, Ruatoria	10 100 250 180 5,000 5,000 10 1,800 20 20 250 1,350		
	4 5 6 6 7 8 9 10 11 12 13 14 15 16	Agent's commission  Ahuwhenua Trophy destroyed by fire, replacement of  Audit fees  Board of Native Affairs: Expenses of members and of District Committees  Clearing Native lands of noxious weeds, under Section 16 of Noxious Weeds Act, 1928  Compassionate allowance to Patrick Barry, formerly Supervisor, Native Department  Compensation to Natives for Taranaki lands  Confiscated and other Native lands (on account)  Consolidation of Native lands— Administration expenses (including expenses of Native meetings)  Valuation fees  Contribution towards cost of memorials to representative Maoris  Contribution towards cost of Carroll Memorial, carved meeting-house at Wairoa  Contribution towards cost of New Zealand Gazette and printing Court and Board Panuis  Departmental buildings, Tikitiki  Departmental cottage, Ruatoria  Destruction of rabbits on Native lands: Wages and other	10 100 250 180 5,000 5,000 10 1,800 20 20 250 1,350 25 550		
	4 5 6 6 7 8 9 10 11 12 13 14 15 16 17 18	Agent's commission  Ahuwhenua Trophy destroyed by fire, replacement of  Audit fees  Board of Native Affairs: Expenses of members and of District Committees  Clearing Native lands of noxious weeds, under Section 16 of Noxious Weeds Act, 1928  Compassionate allowance to Patrick Barry, formerly Supervisor, Native Department  Compensation to Natives for Taranaki lands  Confiscated and other Native lands (on account)  Consolidation of Native lands—  Administration expenses (including expenses of Native meetings)  Valuation fees  Contribution towards cost of memorials to representative Maoris  Contribution towards cost of Carroll Memorial, carved meeting-house at Wairoa  Contribution towards cost of New Zealand Gazette and printing Court and Board Panuis  Departmental buildings, Tikitiki  Departmental cottage, Ruatoria  Destruction of rabbits on Native lands: Wages and other expenses	10 100 250 180 5,000 5,000 10 1,800 20 20 250 1,350 25 550 2,250		
	4 5 6 6 7 8 9 10 11 12 13 14 15 16 17 18 19	Agent's commission  Ahuwhenua Trophy destroyed by fire, replacement of  Audit fees  Board of Native Affairs: Expenses of members and of District Committees  Clearing Native lands of noxious weeds, under Section 16 of Noxious Weeds Act, 1928  Compassionate allowance to Patrick Barry, formerly Supervisor, Native Department  Compensation to Natives for Taranaki lands  Confiscated and other Native lands (on account)  Consolidation of Native lands— Administration expenses (including expenses of Native meetings)  Valuation fees  Contribution towards cost of memorials to representative Maoris  Contribution towards cost of Carroll Memorial, carved meeting-house at Wairoa  Contribution towards cost of New Zealand Gazette and printing Court and Board Panuis  Departmental buildings, Tikitiki  Departmental cottage, Ruatoria  Destruction of rabbits on Native lands: Wages and other expenses  Fees to Supervisors, Native Interpreters' examination	10 100 250 180 5,000 5,000 10 1,800 20 20 250 1,350 25 550 2,250 5		
	4 5 6 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20	Agent's commission  Ahuwhenua Trophy destroyed by fire, replacement of  Audit fees  Board of Native Affairs: Expenses of members and of District Committees  Clearing Native lands of noxious weeds, under Section 16 of Noxious Weeds Act, 1928  Compassionate allowance to Patrick Barry, formerly Supervisor, Native Department  Compensation to Natives for Taranaki lands  Confiscated and other Native lands (on account)  Consolidation of Native lands— Administration expenses (including expenses of Native meetings)  Valuation fees  Contribution towards cost of memorials to representative Maoris  Contribution towards cost of Carroll Memorial, carved meeting-house at Wairoa  Contribution towards cost of New Zealand Gazette and printing Court and Board Panuis  Departmental buildings, Tikitiki  Departmental cottage, Ruatoria  Destruction of rabbits on Native lands: Wages and other expenses  Fees to Supervisors, Native Interpreters' examination  Freight, cartage, and transport charges	10 100 250 180 5,000 350 5,000 10 1,800 20 20 250 1,350 25 550 2,250 5 300		
	4 5 6 8 9 10 11 12 13 14 15 16 17 18 19 20 21	Agent's commission  Ahuwhenua Trophy destroyed by fire, replacement of  Audit fees  Board of Native Affairs: Expenses of members and of District Committees  Clearing Native lands of noxious weeds, under Section 16 of Noxious Weeds Act, 1928  Compassionate allowance to Patrick Barry, formerly Supervisor, Native Department  Compensation to Natives for Taranaki lands  Confiscated and other Native lands (on account)  Consolidation of Native lands— Administration expenses (including expenses of Native meetings)  Valuation fees  Contribution towards cost of memorials to representative Maoris  Contribution towards cost of Carroll Memorial, carved meeting-house at Wairoa  Contribution towards cost of New Zealand Gazette and printing Court and Board Panuis  Departmental buildings, Tikitiki  Departmental cottage, Ruatoria  Destruction of rabbits on Native lands: Wages and other expenses  Fees to Supervisors, Native Interpreters' examination Freight, cartage, and transport charges Fuel, light, power, water, and cleaning	10 100 250 180 5,000 5,000 10 1,800 20 20 250 1,350 25 550 2,250 5		
	4 5 6 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20	Agent's commission  Ahuwhenua Trophy destroyed by fire, replacement of  Audit fees  Board of Native Affairs: Expenses of members and of District Committees  Clearing Native lands of noxious weeds, under Section 16 of Noxious Weeds Act, 1928  Compassionate allowance to Patrick Barry, formerly Supervisor, Native Department  Compensation to Natives for Taranaki lands  Confiscated and other Native lands (on account)  Consolidation of Native lands— Administration expenses (including expenses of Native meetings)  Valuation fees  Contribution towards cost of memorials to representative Maoris  Contribution towards cost of Carroll Memorial, carved meeting-house at Wairoa  Contribution towards cost of New Zealand Gazette and printing Court and Board Panuis  Departmental buildings, Tikitiki  Departmental cottage, Ruatoria  Destruction of rabbits on Native lands: Wages and other expenses  Fees to Supervisors, Native Interpreters' examination  Freight, cartage, and transport charges	10 100 250 180 5,000 350 5,000 10 1,800 20 20 250 1,350 25 550 2,250 5 300		

## NATIVE DEPARTMENT continued.

		1	And the second s		
Chargess for and incidental to—condimed.   Maiori Purposes Fund Board—	Number of Persons.	Item	VOTE No. 14.—NATIVE—continued.	1938-	-3 <b>9.</b>
Charloss For and instrumental to—continued.	938–39.		Miscellaneous Services—continued.	e	ρ
Maori Purposes Fund Board—  Grant towards administration expenses   500			Charges for and incidental to—continued.	£ ;	ı.
Grant for carving material, tools, and equipment, and for accommodation of carvers and pupils   100		24	Maori Purposes Fund Board—	500 500	
Motor-vehicles			Grant for carving material, tools, and equipment, and for	***************************************	
26				100	
Native housing: Special fees or expenses   5		1 '	Purchase of		
29   Ngarmawahia Celebrations: Hire charges and freight on marquees   300		1 .	Maintenance and repairs of		
marquees		1	Native housing: Special ices of expenses	Э	
Office fittings, &c.—   Office fittings, &c.—   Office fittings, &c.—   Office fittings, &c.—   Overtime and meal allowances   1,200     32		20	marquees	<b>3</b> 00	
Maintenance and repairs of .   250			Office fittings, &c.—		
32   Overtime and meal allowances   1,200		1 1	Purchase of		
Postages, telegrams, rent of boxes, and telephones   3,300					
Post and Telegraph Department: Payment for services   876					
Public Service Superamantion Fund: Native Trustee's contribution towards   Recoupment to Public Works Fund— Amount written off the principal moneys owing in respect of survey liens (on account)					
Contribution towards   Recoupment to Public Works Fund— Amount written off the principal moneys owing in respect of survey liens (on account)   2,000			Printing and stationery (part recoverable)	2,300	
Recoupment to Public Works Fund—   Amount written off the principal moneys owing in respect of survey liens (on account)   2,000     38   Refund of fees paid in stamps to Maori Land Boards and to Native Land Courts   20     39   Rent (part recoverable)   1,350     40   Services of Lands and Survey Department for supervision of Wairan Development Scheme   461     41   Soil sanitation: Contribution towards cost of installation of privy systems as a means of safeguarding the health in centres of Maori population   5     42   Transfer and removal expenses (part recoverable)   11,500     43   Travelling allowances and expenses (part recoverable)   11,500     44   Water supplied by Ohimenuri County to Native settlements on the banks of the Ohimenuri River   50     45   Contingencies, including unforeseen expenditure incidental to the other items of the vote   5      Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)—   Administration expenses   2,060     Administration expenses   2,060     Native Trustee   2,060     Grant from Employment Promotion Fund   2,000     Hawke's Bay floods: Salvage of temporary   1,000     Hawke's Bay floods: Salvage of temporary   1,000     Hawke's Bay floods: Salvage of temporary   1,000     huts supplied   500     Printing and stationery   75     Travelling allowances and expenses   25     Miscellaneous   50     5,710   50,769      Gross Total   147,10     Credits-in-aid   1938-39   2     Salaries   29,020     Other charges   5,710     Total   34,730		36	Public Service Superannuation Fund: Native Trustee's	0.5	
Amount written off the principal moneys owing in respect of survey liens (on account)		27		87	
Salaries   Salaries		91			
Refund of fees paid in stamps to Maori Land Boards and to Native Land Courts			of survey liens (on account)	2,000	
Services of Lands and Survey Department for supervision of Wairau Development Scheme		38	Refund of fees paid in stamps to Maori Land Boards and	,	
Services of Lands and Survey Department for supervision of Wairau Development Scheme			to Native Land Courts		
A			Rent (part recoverable)	1,350	
Soil sanitation: Contribution towards cost of installation of privy systems as a means of safeguarding the health in centres of Maori population		40	of Wairan Development Scheme	461	
of privy systems as a means of safeguarding the health in centres of Maori population		41	Soil sanitation: Contribution towards cost of installation	1.01	
### Transfer and removal expenses ### 250 ### Travelling allowances and expenses (part recoverable) ### 11,500 ### Travelling allowances and expenses (part recoverable) ### 11,500 ### Travelling allowances and expenses (part recoverable) ### 11,500 ### Travelling allowances and expenses ### 11,500 ### Total ### 11,500 ### Travelling allowances and expenses ### 1,500 ### Travelling allowances and expenses ### 1,000 ### Printing and stationery ### 1,500 ### Travelling allowances and expenses ### 25 ### ### 1,000 ### Travelling allowances and expenses ### 25 ### ### ### 1,000 ### ### 1,000 ### ###			of privy systems as a means of safeguarding the health in	ľ	
Travelling allowances and expenses (part recoverable)   11,500		10			
Water supplied by Ohinemuri Country to Native settlements on the banks of the Ohinemuri River					
on the banks of the Ohinemuri River Contingencies, including unforeseen expenditure incidental to the other items of the vote  Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)— Administration expenses— Administration expenses— Set Maori Land Boards 1,000 Native Trustee 2,060 Grant from Employment Promotion Fund 2,000 Hawke's Bay floods: Salvage of temporary huts supplied 500 Printing and stationery 75 Travelling allowances and expenses 25 Miscellaneous 500  Gross Total 50,769  Gross Total 147,14  CREDITS-IN-AID (a) 34,73  NET TOTAL—VOTE No. 14  (a) Credits-in-aid— 1938-39. Salaries 29,020 Other charges 5,710  Total . 34,730				11,500	
Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)—   Administration expenses—			on the banks of the Ohinemuri River	50	
Revenues Act, 1926 (see end of vote)—   Administration expenses—		45		5	
Administration expenses—   £   Maori Land Boards   1,000   Native Trustee   2,060   Grant from Employment Promotion Fund   2,000   Hawke's Bay floods   Salvage of temporary   huts supplied   500   Printing and stationery   75   Travelling allowances and expenses   25   Miscellaneous   50   5,710      Gross Total   50,769   147,10			Estimated credits-in-aid under Section 51 of the Public		
Maori Land Boards					
Native Trustee		4 ·			
Grant from Employment Promotion Fund. 2,000 Hawke's Bay floods: Salvage of temporary huts supplied				:	
huts supplied					
Printing and stationery 75 Travelling allowances and expenses 25 Miscellaneous . 50  GROSS TOTAL . 50,769  GROSS TOTAL . 34,75  NET TOTAL—VOTE No. 14  (a) Credits-in-aid— 1938-39. Salaries . 29,020 Other charges . 5,710  Total . 34,730					
Travelling allowances and expenses 25 Miscellaneous					
Miscellaneous 50  5,710  GROSS TOTAL 50,769  CREDITS-IN-AID (a) 34,73  NET TOTAL—VOTE No. 14  (a) Credits-in-aid—  Salaries 29,020 Other charges 5,710  Total 34,730					
GROSS TOTAL				i :	
GROSS TOTAL					
GROSS TOTAL		'	5,710	!	
GROSS TOTAL				50.760	
CREDITS-IN-AID (a)			Gross Total	50,705	147 165
NET TOTAL—VOTE No. 14  (a) Credits-in-aid—  Salaries Other charges  Total  NET TOTAL—VOTE No. 14  1938–39. £ 29,020 5,710  34,730					×11,10
(a) Credits-in-aid—       1938-39.         Salaries       29,020         Other charges       5,710         Total       34,730			Credits-in-aid $(a)$	• •	34,730
(a) Credits-in-aid—       1938-39.         Salaries       29,020         Other charges       5,710         Total       34,730			NET TOTAL VOTE No. 14	1	110 /19
Salaries			NEI TOTAL—VOIE NO. 14	1	114,40
Salaries		(a) C	Credits-in-aid—	1938-39	
Other charges		•		£	
Total					
•			Onior onarges	J, 110	
			Total	34,730	

#### VALUATION DEPARTMENT.

								19	38-39.	
		•					Salaries.	Othe	er Charges.	Total.
Vote No	o. 15.–	-Valuation-	-	· -			£		£	£
	Gros	s Total					38,80	5	32,602	71,407
	Cred	ITS-IN-AID							15,800	15,800
		TOTAL					38,80	5	16,802	55,607
Number of Persons.	Item		VOT	E No. 15	_VAL	UATION			1938	3–39.
1938–39	1	*Salaries-		DMINISTRAT:	ive Di	VISTON.			£	£
1		1 (Value		l) at £1,000		••			1,000	
1	i	$egin{array}{c} Class \ S_{I} \  ext{at } \mathfrak{L} \end{array}$		CLERICAL 	Divisi	ON.			665	
1		Class II 1 at £						• •	515	!
3		$Class \ II \ 1 \ { m at} \ \mathfrak{L}_2 \ { m at} \ \mathfrak{L}_2 \ { m at} \ \mathfrak{L}_2 \ { m at} \ \mathfrak{L}_3 \ { m at} \ \mathfrak{L}_4 \ { m at} \ { $	<b>4</b> 70		•••	••	• •	£ 470 890	1,360	
2	i 	$Class\ II \ 1  ext{ at } \mathfrak{L}_4$	425 400				• •	425 400	825	
4		$Class V = 4  ext{ at } \mathfrak{L}$		••					1,520	
4	!	$Class\ V$ $3  ext{ at } \mathfrak{L}$ $1  ext{ at } \mathfrak{L}$	335	 nonths), £32	 0 (10 n	 nonths)		$1,005 \\ 322$	1 907	1
		1 at £ 1 at £ 1 at £ 1 at £ 1 at £ 2 at £ 1 at £ 2 at £ 2 at £	305 305 (6 m 305 (1 m 280 (10 280 (1 m 210 205 (8 m 2195 (1 m 2195 (4 m 2195 (1 m 2185 (7 m	nonths), £280 months), £280 months), £255 nonths), £19 nonth), £185 nonths), £180 nonths), £180 nonths), £177 nonth), £177	55 (11 m 55 (2 m 5 (11 m 5 (4 m 5 (11 m 5 (5 m 5 (8 m 5 (11 m 5 (5 m 5 (8 m 5 (5 m	onths) nonths) onths) onths) onths) onths) onths) onths) onths) onths)		1,220 293 282 276 257 210 202 372 191 188 181 360 352	1,327	

 $<sup>^\</sup>ast$  For particulars of salaries see "Public Service Classification List."

# VALUATION DEPARTMENT—continued.

		4 (40)				
Number				,		
of	Item				1938	-39.
Persons.		VOTE No. 15.—VALUATION—continued	1.			
1 <del>938–39.</del>	<u>†                                    </u>	TO LIE TO THE OUT OF THE OUT OUT OF THE OUT OF THE OUT OF THE OUT OF THE OUT OF THE OUT OF THE OUT OF THE OUT OF THE OUT OF THE OUT OUT OF THE UT OUT	•	-		***************************************
	1 !	Salaries—continued.		1	£	£
				Ì		
		CLERICAL DIVISION—continued.				
		Class VII—continued. 2 at £115 (8 months), £95 (4 months)		$rac{\mathfrak{L}}{213}$	!	
		1 at £115 (5 months), £95 (4 months)	• •	$\frac{213}{101}$		
		1 4 6115 /1 41 41 605 /11 41 1		96	;	
		7 1 00F (11 11 ) 000 (1 11)		94		
		2 at £95 (1 month)		16		
		* * * * * * * * * * * * * * * * * * * *		90 :		
	:			$-175 \pm 0.00$		
		1 at £95 (2 months), £80 (10 months) 1 at £80	• •	83 80		
		1 (00/10 - (1)	 . <i>.</i>	67		
34		1 4 600 (1 41)		7		
		•			5,437	
	! !	Cadets' lodging-allowances			98	
	. !					
		GENERAL DIVISION.				
	!			1,300		
	1			4,200		
	1	0 1 0500		$\frac{200}{3,540}$		
		1 . 6565		565	:	
		1 + 6500		500	:	
	1	2 at £450		900		
		1 at £425 (1 month), £400 (11 months)		$402^{-1}$		
		// // /		410		
			• •	400		
		2 at £380	• •	$   \begin{array}{c c}     760 \\     365   \end{array} $	!	
		1 / 607/		350		
		1 -4 6995	 	335		
		0 4 6905		$610 \pm$		
	:			301		
				290		
				864	1	
	:	1 at £305 (1 month), £280 (11 months) 1 at £305 (2 months), £280 (10 months)	• •	$\begin{array}{c} 282 \pm \\ 284 \end{array}$		
		1 at £280		280		
		1 (80/0 /10 11 ) 60/0 /0 /1 )		257		
		9 1 6045		735		
	!			225		
44		$1 \text{ at } £195 \dots \dots \dots \dots \dots \dots \dots$		195	4.0 000.0	
		Man proma a vitaling			18,550	
		Non-permanents. 1 at £533		533	1	
		1 1 64/00 /4 /1 \ 6055 /0 /1 \		383		
		0 1 6905		610		
		9 4 6905		590	i	
				585		
				925		
				$\frac{330}{169}$	i	
	:	1 4 61/25 /0		$\begin{array}{c c} 163 \\ 28 \end{array}$		
		F 4 614F		$\frac{40}{725}$		
	. !	1 ( 6145 /11 ) (1 ) (105 /1 ) (1)		143		
		4 . 6105		500	i	
		$5 \text{ at } £105 \dots \dots \dots \dots \dots \dots$		525		
				101	!	
				100		
				510 E		
		4 . 6		$\frac{82}{78}$	İ	
	l.	i as see to inominal, see the momens)		10		

## VALUATION DEPARTMENT—continued.

lumber of ersons.	Item	VOTE No. 15.—VALUATION—continued.	1938	<b>-39.</b>
38-39.	1	Salaries—continued.	£	£
				.,,
		Non-permanents— $continued$ .		
	1	3 at £65 195		
		1 at £215 (part time) 170		
	1	1 at £155 $\cdot$		
F0 .	į	1 at £44		
50		1 at £33	7,508	
144			38,805	
		OTHER CHARGES FOR AND INCIDENTAL TO		
	$^2$	Advertising, books, newspapers, and other publications	220	
	3	Assessment and other Court expenses	900	
	4 : 5 !	Compensation to officer injured while on duty	57 :	
	6	Fees to valuers (part recoverable)	18,000 100	
	7	Fuel, light, power, and water	30	
	8	Grants to officers for extra duties	290	
	9	Law-costs	10	
	10	Lodging-allowance to student at Lincoln College	30	
	11	Maps and tracings, schedules of land transactions, &c		
l		New maps $\dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots$	1	
1		Maintenance 533	į	
			1,600	
	12	Office expenses	400	
	13	Office fittings and requisites	450	
i	14	Overtime and meal allowances	75	
	$\frac{15}{16}$	Post and Telegraph Department for services of officers Postage, telegrams, and rent of boxes	$\frac{100}{650}$	
	17	Printing and stationery	950	
	18	Rent	1,500	
	19	Telephone services (including installation, extensions,		
		maintenance, rent, and calls)	550 :	
	$\frac{20}{21}$	Transfer and removal expenses	100	
	21	Travelling allowances and expenses	6,420 +	
	22	Typewriters—Purchase of	100	
	$\frac{22}{23}$	Maintenance of	50	
!	24	Valuation of Land Act, 1925, Section 47: Acquisition of		
:		land under Section 4, Valuation of Land Amendment		
		Act, 1933	10	
	25	Contingencies, including unforeseen expenditure incidental to the other items of the vote	10	
	!	Estimated credits-in-aid under Section 51 of the Public		
		Revenues Act, 1926 (see end of vote)— £		
		Land-tax Department 15,643		
		Hospitals and Charitable Institutions Act,		
:		1926, Section 58—		
		Expenses of levying hospital rates in		
		Sounds and Taupo Counties and in Waiheke Island 157		
:		wantere Island 197		
:		15,800	- - -	
			32,602	
		Gross Total	-	71,40
		Credits-in-aid		15,80
				-

#### ELECTORAL DEPARTMENT.

								19	938-39.	
							Salaries.	Othe	er Charges.	Total.
Vote No	. 16	-Electoral		-				t		£
	Gros	s Total	••	• •	• •		£ 5,489		£ 101,740	107,229
	CRED	ITS-IN-AID	• •	• •					1,460	1,460
	NET	TOTAL					5,489		100,280	105,769
Number of Persons.	Ite <b>m</b>		VOTE			rod at		1	1938	8–39.
1938-39.				4 NO. 10	6.—ELECI	IONAL.				
	1	*Salaries—	-						£	£
		C7 G			ı Divisioi	N.				
1		$Class \ Sp \ 1 \ { m at} \ \mathfrak{L}'$							715	
		Class VI						£		
		2 at £3	335					670		
3	İ	1 at £3	320	• •	• •	• •	• •	320	990	
		Class VI						905		
		1 at £3 2 at £1						$\frac{305}{330}$		
	i	1 at £1	115					115		
6		2 at £9	95	• •	• •		• •	190	940	
				Non-pi	ERMANENT				,	
		3 at £250		• •	• •		• •	750		
9	:	2 at £85 4 at £65						$\frac{170}{260}$		
1.0	-			T).		0.08	,		1,180	
19	_	Payment Regist		•	artments:	Officer	rs' services	as	1,300	
		Payment	to Post	and Tele	graph offic	ers activ	ng as Regist	rars	364	
									5,489	-
										-
		OTHER CH	ARGES FO	OR AND I	NCIDENTA	L ТО—				!
	$^2$	Advertis	ing, pho	tographs	, books, 1	newspap	ers, and o	ther	10	
	3	public By-electi		enses of				• •	$\frac{10}{500}$	
	4	Fuel, lig	ht, powei	r, water,	freight, an				140	
	K	General Expen	Election- ses of tal						32,000	
	$\begin{array}{c c} 5 \\ 6 \end{array}$		ses of tar ration of					• •	38,000	

<sup>\*</sup> For particulars of salaries see "Public Service Classification List."

# $Appropriations \ tor \ Consolidated \ Fund \ Services.$

#### ELECTORAL DEPARTMENT—continued.

Number of Persons.	Item		1938	<b>-39.</b>
938–39.		VOTE No. 16.—ELECTORAL—continued.	£	£
		OTHER CHARGES FOR AND INCIDENTAL TO—continued.		
	7	Licensing-poll	11,400	
	8	Licensing Committee elections	600	
	9	New rolls, formation: Alteration of electoral boundaries	5,000	
	10	Office furniture, fittings, requisites, &c	120	
	11	Postage, telegrams, and rent of boxes	8,000	
	12	Printing and stationery	1,000	
		Registration of electors—		
	13	Clerical assistance	1,100	
	14	Payment to Post Office	150	
	15	Rent and storage	300	
	16	Representation Commissions, expenses of	3,000	
	17	Telephone services (including installation, extensions,		
		maintenance, rent, and calls)	200	
	18	Transfer of officers	30	
	19	Travelling allowance and expenses	150	
	20	Typewriters: Purchase and repairs	30	
	$\frac{1}{21}$	Contingencies, including unforeseen expenditure incidental		
		to the other items of the vote	10	
		Estimated credits-in-aid under Section 51 of the Public		
		Revenues Act, 1926 (see end of vote)— £		
	1	Miscellaneous 1,460		
			101,740	
		Gross Total	ļ	107,229
		Credits-in-aid		1,460
		NET TOTAL—VOTE No. 16		105,769

#### CENSUS AND STATISTICS DEPARTMENT.

						19	38-39.	
				-	Salaries.	Othe	er Charges.	Total.
Vote No. 17	.—Census and Statis	tics—		•	£		£	£
Gro	OSS TOTAL	• •		!	25,87	7	12,413	38,290
$C_{RE}$	EDITS-IN-AID	• •			78	5	2,125	2,200
	T TOTAL				25,80	2	10,288	36,090
Number of Persons.	w VOTE No.	17.—CEN	SUS AN	D STA	ristics.		1938	-39.
1938–39. l 1	*Salaries—						£	£
		Administr <i>a</i>	TIVE DIV	ision.				
1	1 at £850 (Gov	ernment St	atistician	)	• •		850	
		CLERICA	l Divisio	ON.				
1	Class I— 1 at £615	••	• •				615	
2	Class II— 2 at £515	••					1,030	
$1 \stackrel{\circ}{ }$	Class III— 1 at £445		••				445	
5	Class IV 4 at £425 1 at £400	••			••	£ 1,700 400	2,100	
4	Class V— 4 at £380						1,520	
11	Class VI— 7 at £335 1 at £335 (11 3 at £320	$\frac{1}{2}$ months),	£320 ( $\frac{1}{2}$ 1	$egin{array}{c} \dots \ \mathbf{month} \end{pmatrix}$	 	$2,345 \\ 334 \\ 960$	- 3,639	
	Class VII— 6 at £305 1 at £305 (11 1 at £195 (10 1 at £195 (3 1 at £195 (1 2 at £185 (1 1 at £185 (1 2 at £185 ( 1 month) 1 at £185 ( 4½ month 1 at £175 1 at £175 (16 1 at £175 (9)	Of months), months), £ month), £1 month), £1 month), £1 month), 1 month), 1 month),	£185 (1½ 185 (9 mc 85 (11 mc £175 (2 m 75 (11 mc £175 (10 £175 (6½ £175 (6½	months onths) onths) onths) onths) onths) months months	)   s), £115	1,830 304 194 187 186 183 351 171 153 175 173 173		

<sup>\*</sup> For particulars of salaries see "Public Service Classification List."

## CENSUS AND STATISTICS DEPARTMENT—continued.

	CERSOS AND STATISTICS DELATITED TECOMINACA.		
	· · · · · · · · · · · · · · · · · · ·		
Number of	Item ,	1938-	-39.
Persons.	VOTE No. 17.—CENSUS AND STATISTICS—		•
938-39.	continued.	!	
		£	£
	1 Salaries—continued.	·	
	CLERICAL DIVISION—continued.	i	
		İ	
	Class VII—continued.  1 at £175 (9 months), £165 (2 months), £95 £		
	1 at £175 (9 months), £165 (2 months), £95		
	1 at £175 ( $5\frac{1}{2}$ months), £115 ( $6\frac{1}{2}$ months) $142\frac{1}{2}$	į	
	1 at £165 (11\frac{1}{2} months), £155 (\frac{1}{2} month) \qquad \tag{164\frac{1}{2}}		
	1 at £165 (9 months), £95 ( $1\frac{1}{2}$ months), £80 ( $1\frac{1}{3}$ months)	į	
	1 at £165 ( $5\frac{1}{2}$ months), £95 (5 months), £80		
	$(1\frac{1}{2} \text{ months})$ 125	1	
	1 at £165 (5 months), £155 ( $4\frac{1}{2}$ months), £80	ļ	
	$(2\frac{1}{2} \text{ months})$		
	1 at £115 ( $\frac{5}{2}$ months), £95 ( $\frac{5}{2}$ months) 106		
	1 at £115 ( $5\frac{1}{2}$ months), £95 ( $6\frac{1}{2}$ months) 104		
	2 at £95 (11½ months), £80 (½ month) 189		
	1 at £95 (9 months), £80 (3 months)		
	1 at £95 ( $2\frac{1}{2}$ months), £80 ( $9\frac{1}{2}$ months) 83		
	4 at £95 (2 months), £80 (10 months)		
	1 at £95 ( $1\frac{1}{2}$ months), £80 ( $10\frac{1}{2}$ months) 82	:	
	$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
47	3 at £80 (10 months) 200	!	
		6,879	
	Cadets' lodging-allowances	512	
	GENERAL DIVISION.		
	2 at £335 670		
	$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
	$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
7	$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
	Y	1,940	
	Non-permanents.		
	1 at £312 (9 $\frac{1}{2}$ months) 247		
	4 at £235		
	1 at £235 (4 months), £220 (8 months)		
	$5 \text{ at } £205 \dots \dots \dots \dots 1,025$		
	1 at £205 (4 months) 68		
	$ \begin{array}{ cccccccccccccccccccccccccccccccccccc$		
	1 at £185		
	1 at £185 ( $2\frac{1}{2}$ months) 38 $\frac{1}{2}$	i	
	1 at £185 (2 months)	 	
	1 at £185 (1 month)	į	
	1 at £125		
	1 at £125 (10½ months), £105 (1½ months) 122½		
	1 at £125 (10 months), £105 (2 months) 121½		
	1 at £85 (11 months), £65 (1 month) $83\frac{1}{2}$ 1 at £85 (10 months), £65 (2 months)	İ	
	$3 \text{ at } £85 \ (7\frac{1}{2} \text{ months}), £65 \ (4\frac{1}{2} \text{ months}) \dots 232\frac{1}{2}$		
	3 at £85 (7 months), £65 (5 months) 230		
	2 at £85 ( $6\frac{1}{2}$ months), £65 ( $5\frac{1}{2}$ months)		
	1 at £85 (6 months), £65 (6 months)		
	1 at £85 (5 $\frac{1}{2}$ months), £65 (6 $\frac{1}{2}$ months)		

#### CENSUS AND STATISTICS DEPARTMENT—continued.

of Persons.	Item					<b>1</b> 938	-39.
38-39.	<del> </del>	VOTE No. 17.—CENSUS AND continued.	STATIS	STICS-	_		·
	1	Salaries—continued.				£	£
		Non-permanents—conti	nued.				
		1 at £85 (4 months), £65 (8 months) 1 at £85 (3 months), £65 (9 months) 1 at £80			$egin{array}{c c} \mathfrak{L} \\ 72 \\ 70 \\ 80 \\ 164 \\ \end{array}$		
64		6 at £65 (4½ months), £55 (6 months) 7 at £65 (4 months), £55 (6 months)			$\begin{bmatrix} 311 \\ 344 \end{bmatrix}$		
143						6,347	
		Estimated credits-in-aid under So Revenues Act, 1926 (see end			Public	:	
		Salaries of officers on loan to o			£ 75		
					-	25,877	
		OTHER CHARGES FOR AND INCIDENTAL					
	$\frac{2}{3}$	Census, 1936: Cost of taking and prin Freight, cartage, and transport charge		sults		$\begin{array}{c} -1,000 \\ 25 \end{array}$	
	4				••	175	
	$\frac{5}{6}$	$\begin{array}{cccc} \text{Purchase of} & \dots & \dots \\ \text{Maintenance of} & \dots & \dots \end{array}$				$rac{550}{193}$ :	
į	7 8	Office-cleaning Office fittings and requisites		• •		65 75	
	9	Overtime and meal allowances			• •	560	
	10	Postage, telegrams, and rent of boxes Printing and stationery			••	$\frac{900}{1,200}$	
	12 13	Rent of offices Statistical publications, preparation of		• •	!	$1,020 \mid 4,250 \mid$	
	14 15	Statistics, collection of Telephone services	• •	• •	•••	$\frac{2,250}{100}$	
	16 17	Contingencies, including unforeseen e	_	ure i <b>n</b> c	idental	25	
į		to the other items of the vote		6.41	TD 111	25	
		Estimated credits-in-aid under Se Revenues Act, 1926 (see end			<b>!</b>		
		Work done for— Post and Telegraph Departm			£ 150	į	
!		State Fire Insurance Departr Fire Underwriters' Association			$\begin{array}{c c} 525 \\ 940 \end{array}$	!	
		Miscellaneous Sale of publications		• •	$\begin{array}{c c} 100 \\ 410 \end{array}$		
		•			${2,125}$		
		G T				12,413	A
:		Gross Total	. ,	• •	••	,	38,29
!		CREDITS-IN-AID (a)			••	••	2,20
	Ì	NET TOTAL—VOTE No.	17	• •			36,09

(a) Credits-in-aid—		Other	
()	Salaries £ 75	$\begin{array}{c} \text{Charges} \\ \text{£} \\ 2,125 \end{array}$	1938–39. £ 2,200
Totals	<del></del>	$\frac{-}{2.125}$	${2,200}$
i Otais		2,120	2,200

102

#### DEPARTMENT OF JUSTICE AND PRISONS.

								19	38–39.	
							Salaries.	Othe	er Charges.	Total.
Vote No.	18	-Justice and	Prisons	3		<u> </u>	£		£	£
Subdiv	ision	IJustice					143,389		121,171	264,560
		II.—Prisons					84,740		73,746	158,486
,,			••	• •	• •	• •				
	Gros	s Total	• •	• •	• •	••	228,129		194,917	423,046
	Cred	ITS-IN-AID	• •	• •	• •		4,361		79,044	83,405
	NET	TOTAL	••	• •	• •		223,768		115,873	339,641
Number				PR - 416		<u> </u>				
$ \begin{array}{c} \text{of} \\ \text{Persons.} \end{array} $	Item	VOT	E No.	18.—JUSTI	ICE AN	D PRIS	SONS.		1938	3–39.
1938-39.			Su	$bdivision\ No$	. I.—Jı	ustice.	•			
				Head (	Office.				£	£
	1	*Salaries—	Αъ	MINISTRATIVE		ON				
									1	
1				ler-Secretary d Chief Proba			troller-Gen	eral 	1,250	
		~		CLERICAL 1	Division	1.				
1		$Class\ I$ — $1\ { m at}\ \mathfrak{L}61$					• •		615	
1		Class II- 1 at £51							515	
		Class III		• •	••	••	••	••		
1		1 at £4' Class V—		• •	• •	• •	• •	• •	470	
2		2 at £38 Class VI-		or 5 months)			• •		503	
2		2 at £33	35						670	
		Class VII.						£ 610	1	
3		1 at £98					••	95	F02	
				Non-perm	MANENTS	<b>5.</b>			705	
		2 at £265	• •					530		
		1 at £250 2 at £235	• •					$\frac{250}{470}$		
		2 at £185	• •	• • •				370		
		1 at £165						165		
9		1 at £125	• •	• •			• •	125	1,910	
20									1,910	
	-			credits-in-aid						
				${ m ues~Act,~1926}$				$rac{\mathfrak{L}}{25}$		
			- I. •	, φ 1 <sub>1</sub> [		U			0.000	-
		Le	ss amc	ount provided	l but no	t require	d		6,638 $36$	!
				Total		4			6,602	-
		1		LUtai	• •	• •	• •	• •	0,002	

<sup>\*</sup> For particulars of salaries see "Public Service Classification List."

$egin{array}{c} { m Number} \\ { m of} \\ { m Persons.} \end{array}$	Item	VOTE No. 18.—	JUSTICE	AND I	PRISONS	contin	ued.	1938-	-39.
1938–39.		Subdivisi	on No. I	-Justice	—continu	ed.			
			Patent	Of fice.			i	£	£
	2	Salaries—	CLERICAL	Divisio	on.			1	
		Class Smarial R							
1		$Class\ Special\ B-1\ { m at}\ \pounds 715$	• •	• •	• •		• •	715	
1		Class III— 1 at £470		• •	• •			470	
1		Class V— 1 at £380		• •	• •			380	
2		Class VI— 2 at £335			• •			670	
	!	Class VII—					£		
		2 at £305					610		
		1 at £205					205		
		1 at £185	• •		• •	• •	185		
		1 at £165 2 at £95	• •		• •		$\begin{array}{c} 165 + \\ 190 \end{array}$		
9		2  at  £80					$\frac{150}{160} \pm$		
			v alla	o.				1,515	
		Cadets' lodging	g-anowance	8	• •	• •		86	
		1 4 6600	GENERAL	Divisi	ON.		800		
$_2$		1 at £380 1 at £335	• •	••	••		$\frac{380}{335}$		
_		1 00 2000	• •	• •	• •	• •		715	
		1 at £165	Non-peri	MANENT	s.		165	:	
	i	3 at £145	• •				$435 \pm$	i	
5		1 at £105	• •		••		105		
21								705	
		Omrup Co	OD 437%	311323	r mo			5,256	
	3	OTHER CHARGES IN Annual fee, New				of Cop	yright -	~	
	4	Union, Class I Annual fee, New	V			~		250	
	1	national Union							
		(Patents), Clas	s IV				· · ·	280	
ļ	5	Fuel, heating, lig					!	45	
İ	$\frac{6}{7}$	Office fittings and	l requisites		· · ·		•• ;	185	
	$\begin{bmatrix} 7 \\ 8 \end{bmatrix}$	Patent Office Jou Postage, telegran				nes	• •	$\frac{700}{100}$	
:	9	Printing and stat					• •	500	
	10	Rent of offices						300	
j	11	Typewriters and		ances—			£		
	!	Purchase of	• •	• •	• •	• •	34		
ļ		Repairs	• •	• •	• •	• •	6	40	
	12	Contingencies, in to the other ite				ure inci	dental	5	
;	!		edits-in-aid es Act, 1926 irnals, Acts	i (see en		)	Publie £ 80		
	!	Same of 900		,	••	••			
!	!							2,405	
		T	otal	••	• •			7,661	
1	1						ŧ		

Number of Persons.	tem	VOTE No. 18.–	-JUSTICE	AND P	RISONS	contin	ued.	1938-	3 <b>9.</b>
938-39.		Subdivis	ion No. 1.	—Justice—	-continu	ıed.	-	£	
			Bank	kruptcy.			Ì	ž į	£
	13	Salaries—	CLERICAI	L Division	₹.				
1		Class I— 1 at £565						565	
1		Class II 1 at £515	• •				••	515	
1	:	Class III— 1 at £470					• •	470	
: : : : : : : : : : : : : : : : : : :		Class IV— 1 at £425		• •				425	
1		Class V— 1 at £380						380	
1		Class VI— 1 at £335	••					335	
1	A STATE OF THE PARTY OF THE PAR	Class VII— 1 at £305	• •	••				305	
	i		Non-pe	RMANENTS	_		£		
		1 at £305 2 at £195 1 at £185 1 at £165 1 at £145				••	305 390 185 165 145		
7		1 at £115	••	• •			115	4 22	
14								1,305	
		0						4,300	
	14 15	OTHER CHARGES I Advertising, ph publications Fuel, light, pow	otographs,	books, n	ewspape			150	
	10	tenance						25	
	$\begin{bmatrix} 16 \\ 17 \end{bmatrix}$	Law-costs Office fittings, f						$\begin{array}{c c} 15 \\ 20 \end{array}$	
	$\frac{18}{19}$	Postage, telegra: Printing and sta		nt of boxes	s and tel	lephones	••	$\begin{array}{c} 200 \\ 140 \end{array}$	
	$\frac{10}{20}$   $21$	Remuneration to Renewal of fidel	Deputy A	$\Lambda ssignees$				1,400	
:	22	Rents	• • •	· .		′		10	
	$\frac{23}{24}$	Transfer and rer Travelling allow	noval expe	nses expenses	• •	• •		$\begin{bmatrix} 50 \\ 20 \end{bmatrix}$	
	$\frac{25}{25}$	Typewriters—		01111000	• • •	••	£		
		Purchase of Repairs	• •	• •	• •	• •	$\begin{array}{c c} 15 \\ 5 \end{array}$		
		nepans	• •	••	• -	• •	_	20	
: · · · · · · · · · · · · · · · · · · ·	26	Contingencies, in to the other it				ture inci	dental 	5	
		Estimated cre						1	
		Fidelity-g	ies Act, 19: guarantee p		• •		£ 11		
		Miscellan	eous	••	••	••	$\frac{4}{15}$		
						ř	-	2,066	
	!		Total						
1			Total	• •	• •	• •	• •	6,366	

Number of Persons.	Item	VOTE No. 18.—J	USTICE	AND P	RISONS	-conti	nued.	1938-	<b>39.</b>
1938-39.		Subdivision	n No. I.	—Justice-	-continu	ied.			
1000 00.		5.40400000			001101110			£	£
			Ing	quests.					
	27 28 29	Charges for and Tees and expenses Jurors, allowances Witnesses, allowances	s, Corone s to	ers and m		tnesses 		$egin{array}{c} 4,250 \\ 120 \\ 550 \\ \end{array}$	
			otal	••				4,920	
	!						-		
		Supreme, M	agistrates	$^{\prime},~and~W$	ardens' (	Courts.			
	30	SALARIES	Clerica	l Divisio	N.				
	: !	Class Special B—	JIIIIIOA.		~··•		į		
2		$2 \text{ at } £715$ $Class \ Special \ C$ —					• •	1,430	
2	!	2 at £665						1,330	
		Class I—					£		
	!	5 at £615 3 at £565					$\frac{3,075}{1,695}$		
9		1 at £540					540		
		Class II— 6 at £515					3,090	5,310	
7		1 at £490				• •	490		
		Class III					0. 990	3,580	
8		6 at £470 2 at £445					$2,820 \\ 890$		
Ü	!	Class IV—	. ,	• • •				3,710	
15		11 at £425 4 at £400	• •	• •	• •	• •	$\frac{4,675}{1,600}$		
10		Class V—	• •	• •	• •	• •	1,000	6,275	
		21 at £380	• ,•				7,980		
37		$16  ext{ at } \pounds 355$ $Class  ext{ } VI$ —		• •	• •	* 3	5,680	13,660	
		40 at £335					13,400	10,000	
45		5 at £320	• •		• •		1,600	15 000	
	1	Class VII— 40 at £305					$\overline{12,200}$	15,000	
		9 at £280					2,520		
		1 at £230	• •	• •	• •	• •	230		
		8 at £185 9 at £175					1,480 $1,575$		
		11 at £165					1,815		
		1 at £155 6 at £115	• •	• •	• •		$\begin{array}{c c} 155 \\ 690 \end{array}$		
		6 at £95					570	·	
95		4 at £80					320		
		Less amount	provided	but not	required		21,555 368	i !	
	Ì.	Cadets' lodging	_					$21,187 \\ 120$	
		3 8			.37				
	1	1 at £380	GENERA	L Divisio	)N.		380		
		$1 \text{ at } £355 \dots$			• •		355		
	:	1 at £320		• •	• •	• •	$\frac{320}{930} \pm$	i	
	:	$3 \text{ at } £310 \dots $ $1 \text{ at } £305 \dots$					930 305		
		$1 \text{ at } £300 \dots$	• •	• •	• •		300		
		$3 \text{ at } £295 \dots$					885		

Number of Persons.	Item	VOTE No. 18.—JUSTICE AND PRISONS—continued.	1938–39.	
938-39.	<u>  </u>	Subdivision No. I.—Justice—continued.	······································	
		Supreme, Magistrates', and Wardens' Courts—continued.	£	£
	90	• ,		
	30	Salaries—continued.		
		GENERAL DIVISION—continued. £		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	i	
		8 at £240 1,920		
43		$2 \text{ at } £225 \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots $		
		Non-permanents,	11,915	
		1 at £240 240	1	
		2 at £225 450		
		$2 \text{ at } £185 \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots$	· ·	
	i	$\begin{array}{cccccccccccccccccccccccccccccccccccc$	i	
9		2 at £165		
ย	İ	$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		Others not specified 240	1,870	
		Allowances to officers performing special duties under Public Service Regulations 24A and 209	177	
		Unclassified. $\mathfrak E$		
		4 Stipendiary Magistrates at £1,000 4,000		
		24 Stipendiary Magistrates at £900 21,600		
		1 Magistrate for Chatham Islands, appointed under		
		Section 11 of the Magistrates' Courts Act, 1928 250		
38	Ì	9 Associates to Judges at £200 1,800	07 050	
310			27,650	
			113,214	
		Less amount chargeable to "Court of Review and	Ť.	
		Adjustment Commissions," for services of Court		
		officers acting as Secretaries	6,865	
		Estimated credits-in-aid under Section 51 of the Public	i	
		Revenues Act, 1926 (see end of vote)—		
		Electoral Department for services of Court £		
		Officers 936		
		Proportion of fees under—		
		Auctioneers Act, 1928 500	İ	
		Land Agents Act, 1921–22 1,500		
		Salaries as Clerks, Licensing Committees 1,080 Miscellaneous		
	ĺ	Miscellaneous		
		4,311		
			106,349	
		OTHER CHARGES FOR AND INCIDENTAL TO—		
	0.7	Allowances to— Chief Bailiffs acting as Maintenance Officers (26 officers)	500	
	31	Officers acting as Inspectors of Factories (9 officers)	$\begin{array}{c} 300 \\ 242 \end{array}$	
	31 32	Police Constables acting as Clerks of Courts	1,250	
	31 32 33	1 office constantes acting as cicins of courses		
	32 33 34	Allowance to Secretary, Rules Committee	60	
	32 33	Allowance to Secretary, Rules Committee	60	
	32 33 34 35	Allowance to Secretary, Rules Committee	60 750	
	32 33 34 35	Allowance to Secretary, Rules Committee  Commuted allowance for typing notes of evidence: 9  Associates to Judges	750 100	
	32 33 34 35 36 37	Allowance to Secretary, Rules Committee  Commuted allowance for typing notes of evidence: 9  Associates to Judges  Expenses of Law Revision Committee	750 100 6,500	
	32 33 34 35	Allowance to Secretary, Rules Committee  Commuted allowance for typing notes of evidence: 9  Associates to Judges	750 100	

	1	DEPARTMENT OF JUS						
Number of Persons.	Item	VOTE No. 18.—JUSTICE	nued.	1938–3 <b>9</b> .				
938-39.		Subdivision No. I.—	-Justice-	-continue	d.			
		Supreme, Magistrates', and	Wardens'	Courts—	contir	ued.	£	£
		OTHER CHARGES FOR AND INC	CIDENTAL	то-соп	linued	•	ļ	
	$\stackrel{!}{\downarrow}41$	Travelling allowances and ex- Judges and Associates	xpenses-				3,700	
	42	Magistrates and Clerks	• •	• •	• •	••	4,200	
		Estimated credits-in-ai Revenues Act, 192						
	İ	Allowances to officer of Factories	s acting	as Inspec	ctors	$rac{\mathfrak{L}}{242}$		
	:	Mileage fees Miscellaneous				$\substack{6,500\\133}$	į	
		miscenaneous	••	• •	• •			
						6,875    -		
						-	21,477	
		Total	••	• •	• •		127,826	
		Expenses of Court of Review	and Adju	istment C	ommis	ssions.		
	43	Salaries—						
		Salaries of Court officers act 2 Members of Court of Revi			• •	• •	$6,865 \\ 1,600$	
	1	1 Associate Registrar: £50					500	
		Temporary assistance (31 of		art time)		••	2,300	
34	1 1	Allowances to secretaries	• •	••		!	668	
		Charges for and incidenta	VI. ТО				11,933	
	44	Fees to members					34,000	
	45	Office furniture and fittings					100	
	$\begin{array}{c} 46 \\ 47 \end{array}$	Overtime and meal allowand Postage and telegrams		• •	• •	• •	300 850	
	48	Printing and stationery				• • •	300	
	49	Rents					533	
	50	Travelling allowances and e	xpenses				11,000	
	$\begin{bmatrix} 51 \\ 52 \end{bmatrix}$	Typewriters Miscellaneous	• •	• •		:	$\begin{bmatrix} 50 \\ 200 \end{bmatrix}$	
		Estimated credits-in-a Public Revenues						
		Miscellaneous	• •	• •		£20		
							47,333	
		Total	• •	••			59,266	
		Criminal I	Prosecution	ns.				
	!	CHARGES FOR AND INCIDENTA	_					
	53	Expenses in connection with the Poor Prisoners' Defen	200					
	54	Fees to Crown Solicitors a	1					
	55	ment to counsel for defen Jurors, payment to, and ex	3,500					
	56	1908 Witnesses, expenses of		••	• •	-,	4,500   6,800	
	50	Estimated credits-in-ai		ection 51	of the	e Public	0,000	
		Revenues Act, 192 Refund of costs of pr	6 (see end	d of vote)		£ 600	!	
		*	osecutioi	ı	• •	000		
		Total	• •	• •			15,000	

Number						1		
of Item Persons.	VOTE No. 18.	JUSTICI	E AND P	RISONS	-conti	uued.	1938-	B <b>9.</b>
938-39.	Subdiv	ision No. I	.—Justice-	continu	ıed.	.		
! .	Jus	stice: Mis	cellaneous	Services.			£	£
1	CHARGES FOR AN	D INCIDEN	TAL TO-			İ	İ	
57	Advertising, be	ooks, newsp	apers, and	other p	ablicatio	ons	150	
58 59	Annotation of Commission on	Statutes	love for tro	 	of wa	n orre	100 ± 60	
	Expenses unde		icis ioi ua	11811118810.	n or mo	ncys	- i	
60 +	Juries Act, 1	908 : Civil					3,600	
$\begin{array}{c} \pm 61 \\ 62 \end{array}$	Reformatory Fuel, light, wa					ble)	$\frac{2,800}{3,850}$	
63	Grant in aid of				age 		200	
64	Law books for	Judges' Lil	brary	• •			600	
65 ± 66	Maintenance of Office fittings,					!	550   750	
67	Overtime and i			ves			40	
68	Postage, telegra	ams, and re					2,800	
69	Printing and st	ationery			• . ·		3,000	
70	Proportion of c where the Co					nstricts	10	
71	Refund of fines						50	
$\frac{72}{50}$	Refund of jury						10	
73	Telephone serv tenance, rent						2,500	
74	Transfer and re						5	
75	Travelling allow	wances and	expenses			;	50	
. 7C	Typewriters—					:	900	
$\begin{vmatrix} 76 \\ 77 \end{vmatrix}$	Purchase of Maintenance					• • •	$\frac{200}{150}$	
78	Contingencies,	including t	unforeseen	expendi	ture inc	dental		
	to the other	items of th	is subdivis	ion			50	
	Estimated	credits-in-	aid under S	Section 5	1 of the	Public		
		nues Act, 19				£		
	Jury fee			 T		2,200		
į l	Refunds Act	$\frac{1}{2}$ under R	etormatory	y Institi	utions	900		
		neous				450		
1						3,550		
:						-		
		Total	• •	• •	• •	••	21,525	
						:		
		Registrar-C	łeneral's Q	ffice.		÷	i	
79	Salaries—	Registrar-C	łeneral's Q	ffice.		:	i i	
79		Ü	deneral's Q			:	i i	
79	Class III—	Ü				£	i 1	
	Class III— 2 at £470	CLERICA 				940	i i	
79	Class III—	CLERICA 				i	1,014	
3	Class III— 2 at £470 1 at £445 (2 Class IV—	CLERICA months)				940	!	
	Class III— 2 at £470 1 at £445 (2	CLERICA months)				940	1,014	
3	Class III— 2 at £470 1 at £445 (2 Class IV—	CLERICA months)				940	!	
2	Class III— 2 at £470 1 at £445 (2  Class IV— 2 at £400  Class V— 2 at £380	CLERICA months)				940   74     760	!	
3	Class III— 2 at £470 1 at £445 (2  Class IV— 2 at £400  Class V—	CLERICA months)				940	800	
2	Class III— 2 at £470 1 at £445 (2  Class IV— 2 at £400  Class V— 2 at £380	CLERICA months)				940   74     760	!	

Number of Persons.	VOTE No. 18.—JUSTICE AND PRISONS—continued.	1938	-39.
1938-39.		£	£
	Subdivision No. I.—Justice—continued.		
	Registrar-General's Office—continued.		
79	Salaries—continued.		
	CLERICAL DIVISION—continued.		
	Class VII— £	1	
	$\begin{array}{cccccccccccccccccccccccccccccccccccc$	1	
	1  at  £185		
; ;	2 at £165		
1	4 at £95	1	
13	$2 \text{ at } £80 \dots \dots 160$		
		+2,055	
:	Cadets' lodging-allowances	145 +	
	GENERAL DIVISION.		
	1 at £335		
$2 \mid$	1 at £205 (1 month approximately) 17	352	
	Non-permanents.	- 1 002 -	
	1 at £285 285		
	1 at £208 208	1	
	2 at £195 390		
Į	$2 \text{ at } £165 \dots 330$	į į	
	$3 \text{ at } £145 \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots$		
	3 at £125 $375$		
13	1 at £105 105	2,128	
40			
m	OTHER CHARGES FOR AND INCIDENTAL TO-	8,949	
Total Number	Births, deaths, and marriages, registration of—		
f Officers 80	Non-permanent officers	700	
Justice). 81	Post Office for services of Postmasters	3,000	
$\frac{439}{82}$	Fuel, light, cleaning, freight, and cartage	150	
$   \begin{array}{c} 83 \\ 84 \end{array}  $	Office fittings, furniture, and requisites	$\frac{55}{10}$	
85	Doute me talegrams and ment of hower	650	
86	Printing and stationery	1,100	
87	Refund of registration and license fees	20	
88	Rents	535	
89	Telephone services (including installation, extensions,	3.00	
i no	maintenance, rent, and calls)	120	
$\frac{90}{91}$	Transfer and removal expenses Travelling allowances and expenses	50 10	
$\begin{vmatrix} 91\\92 \end{vmatrix}$	Travelling allowances and expenses £	10	
02	Purchase 30		
	Repairs		
	-	40	
93	Contingencies, including unforeseen expenditure incidental to the other items of this subdivision	5	
	Estimated credits-in-aid under Section 51 of the Public		
	Revenues Act, 1926 (see end of vote)— £	:	
	Miscellaneous 24		
		e 44E	
	Mades )	6,445	
	Total	15,394	

7

7 at £335

### Appropriations for Consolidated Fund Services

### DEPARTMENT OF JUSTICE AND PRISONS—continued. Number Item 1938-39. $\mathbf{of}$ VOTE No. 18.—JUSTICE AND PRISONS—continued. Persons. $\overline{1938}$ –39. Subdivision No. II.—Prisons. £ 94 Salaries-CLERICAL DIVISION. Class Special C-1 1 at £665 665 Class I-1 at $\pounds 540$ 1 540Class IV-¢ 2 at $\pounds 425$ 850 3 1 at £400 (7 months), £425 (5 months) 410 1,260 Class V-3 3 at £380 1,140 Class VI-5 at £335 1,675 61 at £320 320 1,995 $Class\ VII--$ 2 at $\pounds 305$ 6101 at £305 (4 months), £280 (8 months) 289 1 at £205 205 .. .. .. I at £185 185 1 at £165 (9 months), £115 (3 months) 153 . . 7 1 at £95 (2 months), £80 (10 months)... 83 1,525 GENERAL DIVISION. Probation Officers-1 at £415 415 ٠. 1 at £380 380 1 at £380 (4 months), £370 (8 months) 3731 at £375 (5 months), £360 (7 months) 367 $1~{\rm at}~\pounds 320$ 320 6 1 at £310 310 2,165 Superintendents-Î at £530 530 1 at £530 (3 months), £515 (9 months) 518 1 at £495 495٠. . . 2 at £470 940 1 at £440 . . 440 . . $1 \ \mathrm{at} \ \pounds 395$ 395 . . . . 1 at £320 320 9 1 at £240 240 3,878 Gaolers-2 at £360 720 3 1 at £325 3251,045 Officers in Charge-2 at £350 700 $1 \ \mathrm{at} \ \pounds 335$ 3 3351,035 Chief Warders-1 at £400 400 5 4 at £375 1,500 1,900 Principal Warders---

2,345

Number of Persons.		1938-	39.
938–39.	VOTE No. 18.—JUSTICE AND PRISONS—continued.		
)30-35. <sub>1</sub>	Subdivision No. II.—Prisons—continued.	£	£
	SALARIES—continued.		
	GENERAL DIVISION—continued.		
	Deputy Principal Warders	ļ	
14	Î4 at £310	4,340	
1	Warder Instructors—	1	
	30 at £305 9,150	į	
	1 at £300 300		
	9 at £285 2,565	!	
:	1 at £285 (6 months), £280 (6 months) 283		
	2 at £280	-	
'	1 at £285 (2 months)		
47	1 at £280 (6 months), £265 (6 months)		
111	2 at £265 530	13,707	
	Warders-	20,101	
•	11 at £300 3,300		
	80 at £285 22,800	i	
	4 at £285 (9 months), £275 (3 months) 1,132		
	3 at £285 (2 months), £275 (10 months) 831		
	1 at £275 (10 months), £260 (2 months) 272		
	2 at £275 (7 months), £260 (5 months) 538		
	1 at £260 $\dots$ 260		
	1 at £260 (6 months), £245 (6 months) 253		
į	11 at £260 (3 months), £245 (9 months) 2,739		
	6 at £260 (4 months), £245 (8 months) 1,500		
100	4 at £245 980		
$^{126}$	$2 \text{ at } \pounds 245 \text{ (2 months)} \qquad \ldots \qquad \ldots \qquad 82$	34,687	
	Night-watch Warders-	9/1,001	
	4 at £265 1,060		
5	1 at £260 (10 months), £245 (2 months)	i	
		1,317	
	Matrons—	,	
	1 at £290 290	i	
2	1 at £240 (6 months), £230 (6 months) 235		
ļ		525	
	Assistant Matrons—		
Y	9 at £185 1,665	:	
4.4	1 at £170 (11 months), £160 (1 month) 169	İ	
11	1 at £160 (7 months), £150 (5 months) 156	1 000	
	000 - 4	1,990	
	Office Assistants— 1 at £380 380		
2	1 at £245	ļ	
2	1 00 2270	$625 \pm$	
1	Quarry Engineer, Auckland	350	
1	Farm Manager, £345 (6 months), £330 (6 months)	336	
î	Shorthand-typist	225	
i	Allowances to instructing and other officers	600 +	
	Non-classified (Part Time).	78,195	
	Medical Officers—	i	
	6 at £200 1,200	ļ	
1	1 at £100 100	į	
	1 at £85 85		
9	1 at £75 75	ļ	
	1 (1 (1 (1 (1 (1 (1 (1 (1 (1 (1 (1 (1 (1	1,460	

	ersons. VOTE No. 18.—JUSTICE AND PRISONS—continued.								
938–39.	Subdivision No. II.—Prisons—continued.								
94	Salaries—continued.	£	£						
	Non-classified—continued.								
	Institutional Schoolmasters— £								
	1 at £120 120								
_	3 at £70 210								
5	1 at £50 50	380							
1	Instructor in physical culture	55							
1	Instructor in wool-classing	30 ;							
280		1,925							
		80,120							
	Non-permanents.								
9	Farm-managers and clerical	$_{2,327}$							
26	Warders and matrons	5,105							
9	Extra assistance	488							
Total Number		7,920							
f Officers		88,040							
(Prisons). 324		, , , , ,							
524									
Total	Less proportion of salaries transferred to Probation Branch	3,300							
Number of Officers	manch	5,500							
(Justice	Estimated credits-in-aid under Section 51 of the Public								
and   Prisons).	Revenues Act, 1926 (see end of vote)— £								
763	Salaries of officers employed on public works 25								
		84,740							
	OTHER CHARGES FOR AND INCIDENTAL TO-								
95	Prisons and institutional upkeep— Burial of deceased prisoners	20							
96	Clathing hadding framiture to	1,100							
97	Equipment and instructional work	180							
98	Fuel, light, power, and water	5,000							
. 99	Hospital and medical treatment of prisoners	700							
100	Legal expenses and compensation	41							
101	Locality allowances	560							
102	Maintenance of prison buildings	1,000							
103	Medical expenses of officers injured during performance of								
	duties								
	Medicines and medical comforts	400							
104		100							
105	Overtime and meal allowance	250							
105 106		25							
105 106 107	Payment in lieu of leave to widow of deceased officer								
105 106 107 108	Payment in lieu of leave to widow of deceased officer Photographs, books, newspapers, and other publications	150							
105 106 107 108 109	Payment in lieu of leave to widow of deceased officer Photographs, books, newspapers, and other publications Postage, telegrams, and rent of boxes	150 360							
105 106 107 108 109 110	Payment in lieu of leave to widow of deceased officer Photographs, books, newspapers, and other publications Postage, telegrams, and rent of boxes Printing and stationery	150 360 500							
105 106 107 108 109 110	Payment in lieu of leave to widow of deceased officer Photographs, books, newspapers, and other publications Postage, telegrams, and rent of boxes Printing and stationery Rations	150 360 500 9,750							
105 106 107 108 109 110 111 112	Payment in lieu of leave to widow of deceased officer Photographs, books, newspapers, and other publications Postage, telegrams, and rent of boxes Printing and stationery Rations Sanitary services, cleaning, and disinfectants	150 360 500 9,750 550							
105 106 107 108 109 110	Payment in lieu of leave to widow of deceased officer Photographs, books, newspapers, and other publications Postage, telegrams, and rent of boxes Printing and stationery Rations Sanitary services, cleaning, and disinfectants Telephone services (including installation, extensions, main-	150 360 500 9,750 550							
105 106 107 108 109 110 111	Payment in lieu of leave to widow of deceased officer Photographs, books, newspapers, and other publications Postage, telegrams, and rent of boxes Printing and stationery Rations Sanitary services, cleaning, and disinfectants Telephone services (including installation, extensions, main-	150 360 500 9,750 550							

of Persons.	VOTE No. 18.—JUSTICE AND PRISONS—continued.	1938-	-39.
1938-39.	Subdivision No. II.—Prisons—continued.	£	£
.116 117 118	OTHER CHARGES FOR AND INCIDENTAL TO—continued.  Transport charges, travelling allowances, and expenses— Conveyance of prisoners on release  Freight, cartage, &c. (part recoverable)	800 60 1,100	
119	Travelling allowances and expenses of officers	450	
$\begin{array}{c} 120 \\ 121 \end{array}$	Transfer and removal expenses of officers	$\frac{500}{430}$	
121	Travelling-expenses of Prison Board Members Contingencies, including unforeseen expenditure incidental to the other items of the subdivision	20	
!	Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)—	ļ	
!	Deductions for use of buildings 3,730 Miscellaneous institutional revenue 1,670		
	5,400		
	:	26,766	
1	Aid to prisoners and dependants—		
$\frac{123}{124}$	Assistance to discharged prisoners	20	
124	Grants to Prisoners' Aid and After-care Societies	200	
$\begin{array}{c} 125 \\ 126 \end{array}$	Gratuities and earnings paid to prisoners on release Payments to dependants	$\frac{4,500}{8,800}$	
		13,520	
• 1	General prison industries, farms, works, &c.: Materials, equipment, rents, royalties, and other expenses in connection with—		
127	Block and pavement making	180	
128	Bootmaking, boot repairs, and satchel repairs	4,100	
$\frac{129}{130}$	Farms, gardens, &c.: Development and maintenance  Mail-bag repairs	$ \begin{array}{c c} 16,000 \\ 400 \end{array} $	
131	O	2,500	
132	Road-construction	4,500	
133	Tailoring	1,320	
134	Tobacco culture and manufacture	100	
135		620	
	Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)— £		
1	Block and pavement making 730		
	Bootmaking 4,500	į	
		į	
	Farms, gardens, &c 36,700		
	Mail-bag repairs 2,300		
	Mail-bag repairs 2,300 Quarries and gravel-pits 8,300		
	Mail-bag repairs       2,300         Quarries and gravel-pits       8,300         Road-construction       7,000		
	Mail-bag repairs       2,300         Quarries and gravel-pits       8,300         Road-construction       7,000         Tailoring       450	:	
	Mail-bag repairs       2,300         Quarries and gravel-pits       8,300         Road-construction       7,000		
	Mail-bag repairs       2,300         Quarries and gravel-pits       8,300         Road-construction       7,000         Tailoring       450		
	Mail-bag repairs       2,300         Quarries and gravel-pits       8,300         Road-construction       7,000         Tailoring       450         Miscellaneous industries       2,500	29,720	
	Mail-bag repairs       2,300         Quarries and gravel-pits       8,300         Road-construction       7,000         Tailoring       450         Miscellaneous industries       2,500	29,720	

Number of Persons.	VOTE No. 18.—JUSTICE AND PRISONS—continued.	1938–39.		
938-39.	Subdivision No. II.—Prisons—continued.  PROBATION BRANCH—	£	£	
13 13 13	Postage, telegrams, &c	3,600 40 20 80 3,740	158,486	
	Gross Total	•••	423,046	
	Credits-in-aid (a)		83,405	
İ	NET TOTAL—VOTE No. 18		339,641	

(a) Credits-in-aid	<u>_</u>			Other	
			Salaries. £	Charges.	1938–39. £
$\mathbf{Subdivisio}$	on I	 	 4,336	$11,\tilde{1}64$	15,500
,,	II	 	 25	67,880	67,905
	$\operatorname{Totals}$	 	 4,361	79,044	83,405
\$					

# CROWN LAW OFFICE.

						1938-39.				
					-	Salaries.	Other	Charges.	Total.	
Vote No. 19.	£	!	£	£						
Gross	Total				• •	7,699	1	883	8,582	
Credit	rs-in-aid					• •		300	300	
NET '	TOTAL				• •	7,699		583	8,282	
Number of Item Persons.						. <del>.</del>		1938	<b>-</b> 39.	
938-39.		VOTE	4 No. 19.	.—CROV	VN LAV	V.	-			
1	*Salarie	_					İ	£	£	
1	1 at £1,5	00 (Solic	citor-Gene	ral)		• •		1,500		
!		T	ROFESSIO	NAL DIV	ision.					
	†1 at £950 2 at £900		Solicitor) Solicitors			 1	£ 950 800	:		
4			Solicitor)				850	3,600		
2	$Class A - 2  ext{ at £7}$		wn Solicite	ors)				1,530		
			Clericai	. Divisi	ON.		İ			
1	Class III 1 at £4			<i>u</i> • •				470		
1	Class VI 1 at £1		onth), £17	5 (11 mc	onths)			176		
			r Public Se ning speci			s 24a and 20 ies	9 to	10		
	:		Non-pei	RMANENT	rs.		:			
	1 at £208						£   208			
2	1 at £205	••	• •				205	413		
11								7,699		

<sup>\*</sup> For particulars of salaries see "Public Service Classification List."

 $<sup>\</sup>dagger$  Also receives £60 per annum as Secretary, Rules Committee.

# CROWN LAW OFFICE—continued.

Number of Persons.	Item	VOTE No. 19.—CROWN LAW—continued.	1938–3 <b>9</b> .		
1938–39.			£	£	
		OTHER CHARGES FOR AND INCIDENTAL TO-			
	2	Advertising, books, newspapers, and other publications	10		
	3	Annotation of Statutes	50		
	4	Annual certificates under the Law Practitioners Act, 1931	38		
	5	Law-costs (part recoverable)	100		
	6	Office fittings and requisites	$100^{-1}$		
	7	Postage, telegrams, and rent of boxes	30		
	8	Printing and stationery	150		
	9	Purchase of Law Reports and Treatises and other publi-			
		cations	200 +		
	10	Rent of offices	50		
	1.1	Telephone services (including installation, extensions,			
		maintenance, rent, and calls)	120		
	12	Travelling allowances and expenses	20 -		
	13	Contingencies, including unforeseen expenditure incidental	i		
		to the other items of the vote	15 .		
		Estimated credits-in-aid under Section 51 of the Public			
		Revenues Act, 1926 (see end of vote)— £			
		Law-costs 300	!		
			883		
	-	Gross Total		8,582	
		Credits-in-aid		300	
		NET TOTAL—VOTE No. 19		8,282	

## POLICE DEPARTMENT.

							19	938-39.	
						Salaries.	Oth	er Charges.	Total.
ote No	. 20	-Police-				£		£	£
	Gros	s Total				504,692		121,550	626,242
							:		
		ITS-IN-AID	••	• •	••	••	ļ	5,242	5,242
	NET	TOTAL	• •	• •	• •	504,692		116,308	621,000
Number of Persons.	Item	V	OTE No.	20.—PO	DLICE.			1938	3 <b>-39</b> .
938-39.	1	Salaries	ıbdivision I	No. I.—	-Police.			£	£
1		Head Office— 1 Commissioner	at £1,000					(a) 1,000	
	1		* CLERICA	L Divis	ion.				
1		Class Special B- 1 at £715		••		• •		715	
1		Class III— 1 at £470	• •			• •		470	
1		Class V— 1 at £380						380	
3		Class VI— 3 at £335		• •	••	••		1,005	
		Class VII— 1 at £175 (2 m	onths)				£ 29		
2		1 at £115	• •		• •	••	115	144	
			* GENERA	L Divisi	ion.			111	
2		1 at £425 1 at £320	• •		• •		425 32 <b>0</b>	m.4 ~	
	i i		Police (	Officer	s.			745	
3 2 5		3 Senior Sergean 2 Sergeants at £3 5 Constables: 1	891			  9		1,264 782 1,591	
4		Districts— 4 Superintendent				••		2,564	

<sup>\*</sup> For particulars of salaries see "Public Service Classification List."

<sup>(</sup>a) Also house allowance, £150 per annum.

# POLICE DEPARTMENT—continued.

Number of Persons.	VOTE No. 20.—POLICE—continued.	1938-39.		
1938–39.	Subdivision No. I.—Police—continued.			
1	Salariescontinued.	£	£	
	Police Officers—continued.			
	Districts—continued.			
	16 Inspectors— £			
	11 at £586 6,446			
	$2 \text{ at } £566 \qquad \qquad \dots \qquad \qquad \dots \qquad \qquad 1,132$	!		
4 //	$2 \text{ at } \pounds 546$ $1,092$			
16	1 at £526 526	0.100		
:	6 Sub-Inspectors—	9,196		
	0 1 0 m 0 0			
	$\begin{array}{cccccccccccccccccccccccccccccccccccc$			
6	$\begin{array}{cccccccccccccccccccccccccccccccccccc$			
		2,976		
33	33 Senior Sergeants: 18 at £427½, 6 at £418½, 9 at £409½	13,892		
108	108 Sergeants: 71 at £391, 18 at £382, 19 at £373	41,724		
1,190	1,190 Constables: 198 at £345 $\frac{1}{2}$ , 222 at £336 $\frac{1}{2}$ , 252 at £327	:		
_	52 at £318, 119 at £309, 322 at £300, 25 at £300 (6 months)	379,173		
3	3 Senior Detectives: 2 at £42 $7\frac{1}{2}$ , 1 at £41 $8\frac{1}{2}$	1,274		
29	29 Detective-Sergeants: 11 at £391, 5 at £382, 13 at £373	11,060		
63	63 Detectives: 1 at £345½, 22 at £336½, 28 at £327, 12 at £309	$\frac{20,613}{150}$		
$\begin{bmatrix} 1 \\ 3 \end{bmatrix}$	1 Native Constable	$\frac{150}{260}$		
8	8 Matrons: 4 at £210, 2 at £190, 2 at £180	1,580		
15	15 Surgeons: 1 at £200, 1 at £180, 2 at £170, 4 at £30	1,000		
:	7 at £25	1,015		
1,500	Probationary Constables	4,000		
	Female Searchers	119		
	Allowances for detective, clerical, and special duty	7,000		
:	- -	504,692		
	OTHER CHARGES FOR AND INCIDENTAL TO-			
2 .	Advertising, photographs, books, newspapers, and other	200		
9	publications	800		
3	Bicycle allowances: Purchase and upkeep of bicycles Clothing (free issue), including repairs, allowance for making	1,200		
: 12		10,000		
5	Freight, cartage, insurance, and transport charges	$\frac{10,000}{200}$		
1 6	Fuel, light, power, and water	5,300		
7	Horse allowances, purchase, forage, bedding, shoeing,			
	clipping, and grazing of horses, including compensation			
İ	for loss of private horses	450		
8	House allowances to officers and men unprovided with	<b>56</b> 000		
	quarters	33,800		
9	Medical, dental, and veterinary services, medicines and			
	medical stores, ambulance instruction and hire, and hospital charges for police disabled through duty	600		
	Motor-vehicles—	000	-	
		3,300		
10	Dunchass of	0,000		
10 11	Purchase of	12,500		
	Purchase of	12,500		
$egin{array}{c} 11 \ 12 \end{array}$	Purchase of Maintenance of Office fittings and requisites (including typewriter allowance), radio, and scientific equipment	12,500 2,000		
11   12     13	Purchase of Maintenance of Office fittings and requisites (including typewriter allowance), radio, and scientific equipment Police examinations, expenses of	12,500		
$egin{array}{c} 11 \ 12 \end{array}$	Purchase of Maintenance of Office fittings and requisites (including typewriter allowance), radio, and scientific equipment Police examinations, expenses of Police prosecutions and inquests, legal and medical advice,	12,500 2,000		
11   12     13	Purchase of Maintenance of Office fittings and requisites (including typewriter allowance), radio, and scientific equipment Police examinations, expenses of Police prosecutions and inquests, legal and medical advice, interpreting, payments for special services, and expenses	12,500 2,000 150		
11   12   13   14	Purchase of Maintenance of Office fittings and requisites (including typewriter allowance), radio, and scientific equipment Police examinations, expenses of Police prosecutions and inquests, legal and medical advice, interpreting, payments for special services, and expenses of departmental inquiries (part recoverable)	12,500 2,000 150 4,500		
11   12   13   14	Purchase of Maintenance of Office fittings and requisites (including typewriter allowance), radio, and scientific equipment Police examinations, expenses of Police prosecutions and inquests, legal and medical advice, interpreting, payments for special services, and expenses of departmental inquiries (part recoverable) Postage, telegrams, and rent of boxes	12,500 2,000 150 4,500 4,000		
11 12 13 14 15 16	Purchase of Maintenance of Office fittings and requisites (including typewriter allowance), radio, and scientific equipment Police examinations, expenses of Police prosecutions and inquests, legal and medical advice, interpreting, payments for special services, and expenses of departmental inquiries (part recoverable) Postage, telegrams, and rent of boxes Printing and stationery	12,500 2,000 150 4,500 4,000 4,700		
11   12   13   14	Purchase of Maintenance of Office fittings and requisites (including typewriter allowance), radio, and scientific equipment Police examinations, expenses of Police prosecutions and inquests, legal and medical advice, interpreting, payments for special services, and expenses of departmental inquiries (part recoverable) Postage, telegrams, and rent of boxes	12,500 2,000 150 4,500 4,000		

# POLICE DEPARTMENT—continued.

$egin{array}{c} \mathbf{Number} \\ \mathbf{of} \\ \mathbf{Persons.} \end{array}$	Item	VOTE No. 20.—POLICE—continued.	1938–39.		
1938-39.	<u> </u>	Subdivision No. I.—Police continued.	£	£	
		OTHER CHARGES FOR AND INCIDENTAL TO—continued.	I.	L	
	19	Repairing, painting, and improving police premises	300		
	20	Rewards and expenses for the suppression of sly-grog selling	, in the second		
		and the introduction of liquor into prohibited districts,			
	i	also for the detection of offences against the Dangerous	100		
	0.1	Drugs Act and breaches of Revenue Acts	400		
	$\begin{vmatrix} 21 \\ 22 \end{vmatrix}$	Rewards to members of the Force for meritorious conduct	50 50		
	23	Saddlery, horse-covers, &c Scavenging, chimney-sweeping, cleaning stations and	50		
	40	windows, sanitary services, and washing	400		
	24	Stores, supplies, accourtements, and expenses incidental	100		
		thereto	1,000		
	25	Telephone services (including installation, extensions, main-			
		tenance, rent, and calls)	7,500		
	26	Transfer and removal expenses	7,000		
	27	Travelling-expenses of police and transport of prisoners	16,000		
	28	Contingencies, including unforeseen expenditure incidental	FO.		
		to the other items of this subdivision	50		
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)— £			
		Clothing deductions, &c 300			
		Payments for special services of police 1,700			
		Recoveries of—			
		Costs of prosecutions 2,000			
	:	Travelling-expenses, &c 300			
		Sick deductions 250			
		Subsidies from local bodies 166			
		Miscellaneous recoveries 526			
		5,242			
			121,550		
	İ	Gross Total		626,242	
		Credits-in-aid		5,242	
		NET TOTAL—VOTE No. 20	-	621,000	

# NAVAL SERVICE.

							19	938-39.	
						Salaries	Oth	er Charges.	Total.
ote No. 21.	-Navy					£		£	£
Gross	Total					291,3	.78 i	550,239	841,61
	S-IN-AID	••	••	• •					
		• •	••	• •	· · i	2,1		37,321	39,42
NET T	COTAL		••			289,2	78	512,918	802,19
Number of Item		V	OTE No	. 21.—N	IAVY.			1938	8–39.
038-39.	FULL PA	y, Wages	, Allow	ances, I	Extra F	AY, ETC		£	£
1		ain, R.N. ( ain, R.N.						1,474	
1		only) mander, R	 .N. (2nd	 Naval M	lember).	 (part vea	r only)	696 <b>73</b> 0	
$ar{1}^{\ !}$		naster Ćap						1,028	
	1 Lie 1 Li	strative St eutenant-C eutenant-C	lommand Command	er (part			£ 768 221		
	on	$_{ m lymaster} I_{ m ly} \dots$			inder (p	art year	204		
	1 Ch	ymaster L ief Petty	Officer W			• •	$\frac{559}{292}$		
6	1 Pe	tty Officer	Writer	• •	• •	• •	241		
	Civil St	aff—							
1	Class	V— £380					760		
	1 at	£380 (8 m Naval Ba		355 (4 m	onths), (	(charged	700		
	1 at	£335 (char	rged to R	eserves).					
	Class	£335 VII—	••	• •	• •	• •	335		i !
		£305 £230 (3 m	onths), £	 205 (9 m	$\frac{1}{1}$		1,220 $212$		}
	1 at 1 at	£205 £180 (2 me	$\dots$ onths), £1				205	1 1	
	1 at 1 at	Naval Ba £180 (1 m £155 (11 n	$ onth), £1 \\ nonths), $			 (charged	158		
	1 at	Naval B £155 (8 m	onths), £				142		
		£155 (7 m £155 (1 m				• •	139 119		
	1 at	£115 (9 m	onths), £	95 (3 mo	nths)	• •	110	1.1	
		£115 (2 m £115 (1 m					99 <b>97</b>	1 !	

# ${\bf NAVAL\ SERVICE-} continued.$

Number of Persons.	Item	VOTE No. 21.—NAVY—continued.	1938–3 <b>9</b> .
1938-39.	1	FULL PAY, WAGES, ALLOWANCES, EXTRA PAY, ETC.—contd.	£
		Civil Staff—continued.  Class VII—continued.  1 at £95 (8 months), £80 (4 months) 90  1 at £95 (7 months), £80 (5 months), (charged to Naval Base).  1 at £95 (2 months), £80 (10 months) 83  Non-permanents—  1 at £195	
34		1 at £165 (charged to Naval Base). 1 at £185 (3 months), £165 (9 months)	8,709
$\frac{1,393}{1,437}$	; ;	Adult officers' allowance 213 Extra Administrative and Clerical assistance 1,312 H.M.S. "Achilles" H.M.S. "Leander" H.M.S. "Philomel" Naval ratings in England and Australia, for training-courses and on "interchange" Naval Base employees Naval Armament Supply Depot employees	115,475 102,941 39,753 7,361 8,753 4,458
	2	Fleet Air Arm, inclusive costs	15,345
	3	Other Charges for and incidental to—  ADMINISTRATION—  Admiralty: On account of payment of allotments	400
	4 5 6	Victualling, Clothing, Implements, and Mess Traps— Clothing Accounts— Clothing purchases, for issue as free kits to new entries and reservists on repayment (part recoverable) Kit-upkeep allowance and clothing gratuities (excluding Reserve personnel) Implement and Mess Trap Accounts: Purchase of mess traps, implements, &c., for supply and replacement.	15,787 6,695 93
	7 8	Victualling Accounts—  Leave allowance and compensation in lieu of provisions Victualling of personnel: Purchase of provisions and payment of victualling and messing allowances to officers and men (part recoverable)	8,098 37,550
	9 10 11 12 13	Medical Services—  Dental treatment— Director of Dental Services, honorarium Outports Medical examination of recruits for sea-going forces Medical stores Medical treatment ashore	75 60 350 510 1,270

# NAVAL SERVICE—continued.

Number of Item Persons.			1938-	39.
938-39.		VOTE No. 21.—NAVY—continued.		
		Other Charges for and incidental to—continued.	£	£
		Repairs, Alterations, Docking, etc.—		
	14			
	. 14	Lump-sum instalment payment on account of new agree- ment with Auckland Harbour Board	33,200	
	15	Maintenance payments: Calliope Dock	400	
	16	H.M.S. "Achilles"	8,500	
	17	H.M.S. "Dunedin"	500	
	18	H.M.S. "Endeavour"	5,000	
	19	H.M.S. "Leander"	10,210	
	$\begin{vmatrix} 20 & 1 \\ 21 & 1 \end{vmatrix}$	H.M.S. "Philomel"	$\frac{2,000}{1.650}$	
	$\frac{21}{22}$	H.M.S. "Wakakura"	$\frac{1,650}{370}$	
	23	H.M.S. "Viking"	150	
	24	Alterations and additions to H.M. ships	500	
	:		000	
	1	Fuel and Lighting (including freight of coal)—		
	25	Coal for stocks at Auckland	6,092	
	$\frac{26}{26}$	Electricity from shore to ships and buildings (part	0,052	
		recoverable)	7,100	
	27	Oiler "Nucula" (hire from Admiralty and miscellaneous	,	
	! .	expenses)	1,270	
	28	Oil fuel for tanks and ships	42,338	
		G-a		
	00	STORES—	700	
	$^{+29}_{-30}$	Hydrographic stores	100	
	31	Maintenance of torpedo reserves	580 530	
	$\frac{31}{32}$	Moorings, repairs, &c., to targets Naval armament stores	54,996	
	33	Naval stores	33,630	
	i i			
	!	Works-		
	34	Completion of Naval Armament Supply Depot (on account)	24,695	
	35	Completion of Naval Base (on account)	68,123	
	$\frac{36}{27}$	Maintenance of Naval Armament Depot	$\frac{2,211}{12,550}$	
	37	Maintenance of dockyard plant and Naval Base Motor-boat for Base services	13,550	
	38	75 ** 1 ** 6 ** 7 * 7 * 1 * 4 * * * * * * * * * * * * * * * *	$egin{array}{c c} 5,479 & \\ 3,870 & \\ \hline \end{array}$	
	$ \frac{33}{40} $	Provision and erection of third oil-tank (on account)	1,525	
	41	Upkeep of recreational ground and improvement of	1,020	
		recreational facilities	200	
	42	Work, repairs, and upkeep of Naval property: Residences		
	40	at Devonport	235	
	43	Purchase of land at Devonport for site of Royal Naval	99. 700	
	44	barracks	$\begin{bmatrix} 28,700 \\ 5,000 \end{bmatrix}$	
	<u> </u>	1. (, , , , ,	,,,,,,	
		Reserves—		
	45	Hire and lighting of drill-halls	280	
	46	Instructors	3,509	
	47	Medical examination	30	
	48	Naval armament stores	2,159	
	49	Naval stores, including equipment for instruction	497	
	50	Outfitting and maintenance of drill-halls	852	
	51	New R.N.V.R. Headquarters, Dunedin (on account)	5,000	
	52	Pay and allowances	5,868	
	$\pm 53 \pm$			

# NAVAL SERVICE—continued.

Number of Persons.		1938–	3 <b>9.</b>
1938-39.	VOTE No. 21.—NAVY—continued.		
	Other Charges for and incidental to—continued.	£	£
	Reserves—continued.	*	
54	Royal Naval Reserve Officers: Gunnery, Torpedo, and		
. 01	Signalling Courses	366	
55	R.N.V.R. Ratings: Extended training	$227 \pm$	
56	R.N.V.R. Ratings: Supply of waterproof coats	360	
57 58	Merchant Navy Defence Courses (initial equipment)	$\frac{100}{650}$	
59	Travelling-expenses	1,900	
60	Upkeep of mine-sweeping trawler	1,565	
61	Miscellaneous	170	
62	Grant to R.N.V.R. Divisions, 4 at £75 each	300	
00	Whalers, repairs	140	
	MISCELLANEOUS EFFECTIVE SERVICES-		
64	Advertising, printing and stationery, and publications	2,247	
65	Allowances in lieu of quarters (lodging-allowance)	402	
66	Compensation for injuries and accidental death and	F0	
67	disease contracted on duty  Freight, insurance, and miscellaneous transport charges	50	
. 01	(excluding conveyance of personnel and charges on		
	coal)	11,145	
68	Improvement funds and gunnery, &c	160	
69 70	Interments Office fittings and requisites	$\frac{60}{509}$	
71	Transfer of departmental offices to Railway Building	600	
72	Contribution to Birkenhead Borough Council on account	000	
	of repairs to access road to Kauri Point Armament Depot	20	
73	Passages, travelling allowances and expenses	16,025	
$\begin{array}{c c} & 74 \\ \hline & 75 \end{array}$	Hire of transport for liberty men at Auckland Postage, cablegrams, telegrams, and rent of boxes	$\substack{140\\4,739}$	
76	Rebate to personnel on account of duty paid on uniforms	±,155 60 ±	
77	Rent of Navy Office	734	
78	Cleaning of Navy Office; also Night-watchman	128	
79	Recreation grounds, hire of	30	
80 81	Damages to wharves	74	
OI	maintenance, rent, and calls)	908	
82	Training of New Zealand ratings in gunnery, torpedo,		
	&c., training establishments in the United Kingdom	- 004	
83	and Australia	$\begin{bmatrix} 7,804 \\ 250 \end{bmatrix}$	
84	Training-service Fund	$\frac{230}{120}$	
85	Typewriters— £	120	
	Purchase of 180	:	
	Maintenance of 50	990	
		230	
	Non-effective Services—		
86	Admiralty—Contributions in respect of—	160	
87	National health insurance Unemployment insurance	$\frac{460}{400}$	
88	Widows' pensions	830	
89	Deferred pay (including portion payable to officers and		
	men serving under New Zealand engagements, re-		
	credits of deferred pay to recovered deserters, and		
	pension contributions payable to the Admiralty in respect of loan personnel)	50,546	
90		100	
1 91		25 '	

# ${\bf NAVAL~SERVICE-} continued.$

umber of ersons.	Item	VOTE No. 21.—NAVY—continued.	1938	3 <b>-39</b> .
38–39.		Other Charges for and incidental to—continued.	£	£
		Non-effective Services—continued.		
	92	Contingencies, including unforeseen expenditure incidental		
		to other items of vote	100	i
	-	Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)— £ Clothing and victualling		
	İ	Fleet Air Arm	,	
		Hydrographic stores       30         Naval armament stores       6,128         Naval stores       5,075         Pay       2,100         Marine Department       10,015         Miscellaneous       1,263		
		39,421	}	
		Less amount provided but not required	572,239 22,000	
		Gross Total	550,239	841,61
		Credits-in-aid		39,42
		NET TOTALVOTE No. 21		802,19

ARMY.

		1938–39.			
	Salaries,	Other Charges.	Total.		
Vote No. 22.—Army—	£	£	£		
Subdivision I.—Administration	1,100		1,100		
,, II.—N.Z. Staff Corps	34,244		34,24		
,, III.—N.Z. Permanent Staff	40,173	,.	40,17		
,, IV.—Royal N.Z. Artillery	66,080		66,080		
,, $VN.~Z.~Army~Ordnance~Corps~and~Civilian~Staff~attached~~$	38,773		38,77		
VI.—N.Z. Army Service Corps and N.Z. Army Medical Corps	7,151		7,15		
,, VII.—General Duty Section	1,344		1,34		
,, VIII.—Civil Staff	19,017		19,017		
IX.—Military Education of Officers undergoing Instruction abroad		9,900	9,900		
,, $X.$ —Purchases, Buildings, Maintenance, and $Training$		510,492	510,492		
,, XI.—Non-effective Services	• •	290	290		
,, XII.—Rifle Clubs	• •	300	300		
Gross Total	207,882	520,982	728,86		
Credits-in-aid	675	24,285	24,96		
NET TOTAL	207,207	496,697	703,90		
Number of Persons. VOTE No. 22.—ARMY.	•	193	8–39.		
1938–39. Subdivision No. I.—Administr	eation.	£	£		
1 Salary— Administrative Division	ī.				
1 at £1,100		1,100			
Total—Subdivision No. 1			1,100		
Subdivision No. II.—N.Z. Staff	$^c$ $Corps.$				
2 PAY— 1 Chief of the General Staff at £1,200 3 Colonels: 1 at £900; 1 at £850; 1 at		1,200			
£800 (3 months)		2,588			

# ${\bf ARMY--} continued.$

Number of Persons.	Item		1938-	-39.
1938-39.	 	VOTE No. 22.—ARMY—continued.		
		Subdivision No. II.—N.Z. Staff Corps—continued.	£	£
5 14	2	Pay—continued.  5 LieutColonels (1 Temporary Colonel): 1 at £800; 1 at £765 (4 months), £740 (8 months); 3 at £690 (5 months), £665 (7 months)	3,574	
24		(11 months), £580 (1 month); 6 at £560 (5 months), £540 (7 months)	$_{8,293}$	
24		(3 months); 1 at £505 (6 months), £485 (6 months); 3 at £485 (4 months), £465 (8 months); 1 at £445 (6 months), £425 (6 months); 4 at £425 (5 months), £405 (7 months)	11,708	
16		16 Lieutenants: 8 at £385; 1 at £385 (4 months), £374 (8 months); 4 at £385 (4 months), £360 (8 months); 1 at £360 (4 months), £340 (8 months); 2 at £300 (4 months), £275 (8 months)	5,845	
$\begin{array}{c} 1 \\ 20 \end{array}$		1 Imperial Officer on loan (attached): Pay and allowances 20 Cadets, Duntroon College, at £50 (included in payment to Duntroon College)	1,036	
			••	
84		Total—Subdivision No. 11		34,244
		Subdivision No. IIIN.Z. Permanent Staff.		
	3	Pay—		
$\begin{array}{c} 2\\57\end{array}$		2 Hon. Lieutenants at £383	766	
13		12 at £365; 1 at £365 (11 months), £356 (1 month)	21,542	
13 8		11 at £330	$\frac{4,324}{3,975}$	
10	. !	£265 (3 months)	2,237 $2,659$	
11	i	£250 (4 months)	2,750	
7 1		7 Privates at £180	1,260 + 660	
122		Total—Subdivision No. 111		40,173
		Colling in Market Describer 4 CH	i	
		Subdivision No. IVRoyal N.Z. Artillery.		
1 1	1	PAY— 1 Colonel at £850 (9 months), £800 (3 months)	838 675	
$\frac{4}{c}$		4 Majors: 3 at £640; 1 at £640 (6 months), £620 (6 months)	2,550	
6 5		6 Captains: 2 at £515; 1 at £465 (11 months), £445 (1 month); 3 at £425 (5 months), £405 (7 months) 5 Lieutenants: 2 at £385; 1 at £385 (4 months), £360	2,733	
7		(8 months); 2 at £300 (4 months), £275 (8 months)	1,705 .	
14		£345 (7 months); 1 at £345 (10 months), £338 (2 months) 14 Warrant Officers, Class II; 1 at £356; 9 at £338; 4 at	2,527	
5 14		£330	$^{4,718}_{1,565}$	
	į į	£298; 1 at £284; 1 at £280	4,278	

# ${\bf ARMY-} continued.$

Number of Persons.	Item	VOTE No. 22.—ARMY—continued.	1938-	-39.
1938–39.		Subdivision No. IV.—Royal N.Z. Artillery—continued.	e	
	4	Pay—continued.	£	£
10		10 Bombardiers: 2 at £301; 5 at £284; 3 at £271	2,835	
24 88		24 Lance-Bombardiers: 1 at £283; 23 at £260 88 Gunners: 3 at £220 (11 months), £210 (1 month); 13 at £220 (7 months), £210 (5 months); 16 at £220 (1 month), £210 (11 months); 15 at £210 (6 months), £195 (6 months); 2 at £210 (1 month), £195 (11 months);	6,263	
148		39 at £195 (1 month), £180 (11 months) 148 Recruits: 15 at £180; 2 at £180 (9 months), £155 (3 months); 1 at £180 (6 months), £155 (6 months);	17,336	
327	The state of the s	2 at £180 (4 months), £155 (8 months); 17 at £180 (3 months), £155 (9 months); 12 at £180 (11 months only); 20 at £180 (9 months only); 25 at £180 (5 months only); 9 at £155 (11 months only); 20 at £155 (9 months only); 25 at £155 (5 months only); Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926—  Pay of officer seconded to Prime Minister's £ Department 675	18,057	
		Total—Subdivision No. IV		66,080
	5	Subdivision No. V.—N.Z. Army Ordnance Corps and Civilian Staff attached.  PAY—		
1		1 LieutColonel at £665 (10 months), £640 (2 months)	661	
1 2		1 Major at £540 (10 months), £515 (2 months) 2 Captains: 1 at £515; 1 at £485 (4 months), £465	536	
4		(8 months) 4 Lieutenants: 3 at £385; 1 at £385 (9 months), £360	987	
7		(3 months)	1,534	
7		£365 (6 months), £355 (6 months)	2,568	
2		£330	2,360 $666$	
$\frac{2}{2}$		2 Sergeants at £315	630	
1		1 Corporal at £290	290	
$\frac{5}{3}$		5 Lance-Corporals: 4 at £275; 1 at £271	$\begin{array}{c} 1,371 \\ 825 \end{array}$	
3		3 Armourer Assistants at £205 (8 months), £180 (4 months)	590	
	l i	Civilian Personnel— 2 at £335	670	
		1 at £335 (10 months), £320 (2 months)	333	
		3 at £320	960	
	!	10 at £305	3,050	
		10 at £305 (6 months), £295 (6 months)	3,000	
	i	1 at £305 (4 months), £280 (8 months)	$\begin{array}{c} 288 \\ 284 \end{array}$	
		1 at £305 (2 months), £280 (10 months)	$\begin{array}{c} 204 \\ 295 \end{array}$	
		1 at £295 (9 months), £285 (3 months)	293	
	1	1 at £290	290	
		1 at £285	285	
		5 at £275	1,375	
		5 at £265	1,325	1
		11 at £260	2,860	
	!	1 at £260 (7 months), £250 (5 months)	256 505	
		2 at £250 (3 months), £250 (9 months)	$\begin{array}{c} 505 \\ 252 \end{array}$	
		2 at £250	500	
	1	AND CONTRACTOR OF THE CONTRACT	000	

# ARMY—continued.

Number of Persons.	No. 22.—ARMY—continued.			1938-	-39.	
38-39.		Subdivision No. V.—N.Z. Army Ordnance Con Civilian Staff attached—continued.	rps and		£	£
	5	Pay—continued.				
		Civilian Personnel—continued.				
		1 at £250 (10 months), £240 (2 months)			248	
		1 at £250 (6 months), £240 (6 months)			245	
		1 at £250 (4 morths), £240 (8 months)		• •	243	
		1 at £250 (3 months), £240 (9 months)	• •	• •	242	
		2 at £250 (2 months), £240 (10 months) 1 at £240	• •	• •	$\begin{array}{c} 483 \\ 240 \end{array}$	
	i	1 at £240	• •		235	
		1 at £240 (3 months), £230 (9 months)			233	
	İ	1 at £234 (1 month), £221 (11 months)			222	
	! !	2 at £230		•••	460	
	i	1 at £230 (10 months), £210 (2 months)	• •	••	227	
	!	1 at £230 (8 months), £205 (4 months) 1 at £205 (3 months), £190 (9 months)	• •	••	$\begin{array}{c} 222 \mid \\ 194 \mid \end{array}$	
		1 at £205 (1 month), £195 (6 months), £185 (5 m	onths)	• •	192	
		3 at £195			585	
		1 at £195 (7 months), £185 (5 months)			191	
		1 at £195 (5 months), £185 (6 months), £155 (1 months)	nonth)		187	
		1 at £195 (3 months), £185 (9 months)		:	187	
		1 at £195 (2 months), £185 (9 months), £155 (1 1		••	184	
		1 at £185 (7 months), £155 (4 months), £115 (1 1 at £185 (2 months), £175 (10 months)	nonun) 	••	$\begin{array}{c c} 169 \\ 177 \end{array}$	
		1 at £180		!	180	
		2 at £180 (11 months), £155 (1 month)			356	
		2 at £180 (9 months), £155 (3 months)			348	
		1 at £180 (8 months), £155 (4 months)			172	
	-	1 at £180 (7 months), £155 (5 months)	• •	••	170	
		1 at £180 (2 months), £155 (10 months) 1 at £175 (3 months), £165 (5 months), £95 (4 m	ontha)		$\begin{array}{c} 159 \\ 144 \end{array}$	
		1 at £175 (1 month), £115 (11 months)			120	
		1 at £175 (1 month), £115 (6 months), £95 (5 mo	nths)		112	
		2 at £165 (4 months), £95 (8 months)	′		237	
		1 at £165 (2 months), £95 (8 months), £80 (2 mo	nths)		104	
		2 at £155	• •	• •	310	
		1 at £155 (4 months), £115 (8 months) 2 at £115 (3 months), £95 (9 months)	• •	• •	$\frac{128}{200}$	
		1 at £95 (4 months), £80 (8 months)			85	
		2 at £95 (3 months), £80 (9 months)			168	
		1 at £95 (2 months), £80 (10 months)			82	
		3 at £80			240	
110		2 at £80 (8 months), £65 (4 months)	• •	• •	150	
113		1 at £65	• •	• •	$65 \\ 38 \perp$	
151		Cadeus louging anowanees	• •	••	90	
		Total—Subdivision No. V	• •	-		38,77
		Subdivision No. VI.—N.Z. Army Service Cor	ps and			
	6	N.Z. Medical Corps. Pay—				
4	0	4 Lieutenants at £385			1,540	
3		3 Staff Sergeants at £305	• •		915	
3		3 Sergeants: 1 at £315; 1 at £284; 1 at £280			879	
2		2 Corporals at £265 $\dots$ $\dots$ $\dots$			530	
4		4 Lance-Corporals at £250	· •	I\	1,000	
9 4		9 Privates: 7 at £180; 2 at £180 (4 months), £155 4 Medical Officers (part-time): 2 at £150; 2 at			$\frac{1,587}{500}$	
1		4 75	£100		$\frac{300}{125}$	
3	İ	3 Assistant Directors of Medical Services at £25			75 <sub>+</sub>	
33		$Total-Subdivision\ No.\ VI$			!	7,15

ADMX	—continued.	
A BUYER	continuea.	

Number	<u> </u>								
of Persons.	Item						i	1938–3	39.
1938-39.		VOTE N	To. 22.—A	$\Lambda RMY$ — $c$	ontinued	? <b>.</b>			
1900-09.		$Subdivision\ No.\ G.S$	VII.—Ge .S. " Jan			m (Crei	v	£	£
	7	Рау						:	
2		2 Warrant Officers	. Class I :	1 at £38	3: 1 at	£365		748	
1		1 Warrant Officer,	Class II,		•••		••	330	
1	-	1 Lance-Corporal a Allowance to Fire	it £260 nan while	performi	 1º dutie	 s of Eng	rineer	$\begin{bmatrix} 260 \\ 6 \end{bmatrix}$	
4			lSubdivi	•		,	:		1 944
		1000	Buoatot	sion Ivo.	V 11	• •	••		1,344
		Subdivis	ion No. 1	VIII.—Ci	vil Staff	e.			
	8	Salaries							
		Class I—	CLERICAL	Division	•		**************************************		
1	1	1 at £615					••	615	
		Class IV— 2 at £425					£ 850		
4		2 at £400	• •				800		
		Class V—						1,650	
		2 at £380					760		
3		1 at £380 (3 $\frac{1}{2}$ m	onths), £3	$55 \ (8\frac{1}{2} \ \text{m})$	onths)		362	1 100	
		Class VI—						1,122	
10		7 at £335	••	• •	• •		2,345		
12		5 at £320	• •	• •	• •	• •	1,600	3,945	
		Class VII—	.1	.00 (1	.1.		909	, l	
		1 at £305 (11 m 1 at £185 (5 n				£115	303		
		(5 months)					154		
4		1 at £165 (9 mo 1 at £115 (1 mo				• •	163   97		
				(11 111011).	1657	• •		717	
		Cadet's lodging-al Allowance to offic	lowance	···	 al dutic			$\begin{bmatrix} 24 \\ 45 \end{bmatrix}$	
		Anowance to ome	er periorn	inig speci	ai dutie	5	••	40	
		1 at £320	GENERAL		V.		320	ĺ	
		1 at £320 1 at £305					305		
		1 at £270					$270^{-1}$		
	į	1 at £265	• •				265		
6		$egin{array}{cccccccccccccccccccccccccccccccccccc$	• •	• •	• •		$\begin{array}{c c} 215 \\ 195 \end{array}$		
0		1 40 2100	• •	••	••	• • •		1,570	
		1 -4 6905		MANENTS	•		905		
	İ	$\begin{array}{cccccccccccccccccccccccccccccccccccc$	• •	• •	• •	• •	$\frac{305}{550}$		
		3 at £270	• •	••	• •	• • •	810		
		1 at £265					265		
		6 at £260	• •	• •	• •		1,560		
		2 at £250 1 at £250 (10 mor	 aths only)				500 208	j	
		1 at £250 (10 more					244		
	i	1 at £250 (6 mont					242		
		$1 \text{ at } £240 \dots$	••	•••	•••		240	1	
	i	$1 \text{ at } £225 \dots$		• •	• •	- •	$\frac{225}{220}$	·	
	İ	4 at £220 1 at £220 (6 mont	the only)				880 110		
		1 1 av 2220 (0 mom	mo omy)	• •	• •	• •	110		

# ARMY—continued.

Number of	Item		j	1938	<b>-39.</b>
Persons.		VOTE No. 22.—ARMY—continued.			
1938–39.		Subdivision No. VIII.—Civil Staff—continued.		£	£
	8	Salaries—continued.			
		Non-permanents—continued.		1	
		1 at £220 (10 months), £210 (2 months)	£ 218		
		1 at £210	210	and the second	
		3 at £195	$\frac{585}{185}$	j	
		1 at £185 $\dots$ 1 at £185 (10 months only) $\dots$ $\dots$	154		
		2 at £165	330		
		1 at £165 (10 months only)	138		
		1 at £165 (8 months), £145 (4 months)	$\frac{158}{155}$		
		1 at £155 (6 months), £145 (6 months)	117		
		1 at £145 (9 months), £125 (3 months)	140		
		1 at £145 (8 months), £125 (4 months)	138		
		1 at £105	$\frac{105}{97}$		
		1 at £105 (2 months), £95 (10 months)	94		
		1 at £85 (11 months), £65 (1 month)	83		
		1 at £85 (11 months only)	78		
40		1 at £85 (4 months), £65 (8 months)	72		
48	.	2 at £85 (1 month), £65 (11 months)	133	9,329	
78		Total—Subdivision No. VIII	į		19,017
		1 older Barbarololott 140. 7 121	• • •		10,011
		Subdivision No. IX.—Military Education of Officers under Instruction abroad.	going		
			going		•
	9	Instruction abroad.	going	2,500	
	9	Instruction abroad.  Allowances—	going	2,500	•
	10	Allowances— Allowances (quarters, married, &c.)  Other Charges— Rail, steamer, and other charges	rgoing	2,500	•
		Instruction abroad.  Allowances— Allowances (quarters, married, &c.)			
	10	Allowances— Allowances (quarters, married, &c.)	 £ 350		
	10	Instruction abroad.  Allowances— Allowances (quarters, married, &c.)			
	10	Allowances— Allowances (quarters, married, &c.)  OTHER CHARGES—  Rail, steamer, and other charges Fees— Charge for Dominion Officer attending Imperial Defence College, England Camberley and Quetta Staff Colleges Duntroon College, Australia: Fees for twenty	£ 350 800		
	10	Instruction abroad.  Allowances— Allowances (quarters, married, &c.)	 £ 350	2,250	· · · · · · · · · · · · · · · · · · ·
	10	Allowances (quarters, married, &c.)	£ 350 800		
	10	Allowances— Allowances (quarters, married, &c.)  OTHER CHARGES—  Rail, steamer, and other charges Fees— Charge for Dominion Officer attending Imperial Defence College, England Camberley and Quetta Staff Colleges Duntroon College, Australia: Fees for twenty	£ 350 800	2,250	9,900
	10	Allowances (quarters, married, &c.)	£ 350 800 4,000	2,250	9,900
	10	Allowances (quarters, married, &c.)  Other Charges— Rail, steamer, and other charges Fees— Charge for Dominion Officer attending Imperial Defence College, England Camberley and Quetta Staff Colleges Duntroon College, Australia: Fees for twenty cadets  Total—Subdivision No. IX	£ 350 800 4,000	2,250	9,900
	10	Allowances (quarters, married, &c.)	£ 350 800 4,000 e, and New d and	2,250 5,150	9,900
	10 11 12	Allowances (quarters, married, &c.)	£ 350 800 4,000	2,250	9,900
	10 11	Allowances (quarters, married, &c.)	£ 350 800 4,000	2,250 5,150	9,900
	10 11 12	Allowances (quarters, married, &c.)	£ 350 800 4,000	2,250 5,150 81,748	9,900

### ARMY—continued. Number Item 1938–39. ofVOTE No. 22.—ARMY—continued. Persons. Subdivision No. X.—Purchases, Buildings, Maintenance, $\overline{1938-39}$ . and Training—continued. £ £ Purchases and Construction—continued. 16 1,000 Launch for towing targets and for work at forts ... Medals, purchase of ... 17 100 18 Ordnance Stores: Accoutrements, small-arms, machineguns, camp equipment, harness and saddlery, tools, materials, signalling and electric-light stores, barrack and hospital stores, Field and Garrison Artillery material, 115,904 armaments, vehicles, and miscellaneous stores 19 Printing, stationery, maps, training-manuals, journals, and publications 3,500 20 S.A.A., including refund of Customs duty, exchange and sales tax .. .. 44,000 Supplies, catering, and allowances in lieu of rations for 21camps, courses of instruction, and general 22,000 Maintenance and Training-22 Advertising, office requisites, photographs, newspapers, and other office expenses .. .. .. 600 23 Army Publicity 500 Camps, maintenance of Burnham, Trentham, Featherston, 24 Ngaruawahia, Narrow Neck, and general ... 7,000 25 Compensation in respect of accidents, sickness, and damages, including loss of or injury to horses .. 850 Compensation for, or repairs to, motor-vehicles damaged 26 500 as result of military service ... Courts of inquiry, expenses in connection with ... 2720 Engraving medals, trophies, prizes, &c., insurance of trophies, and services of Inspector of Regimental Colours 28 70 29Fees for Technical College instruction in Radio and Electrical 30 Engineering . . Grants to Officers' Clubs for the purpose of providing 30 military instruction ...... 500 1,100 31 32200332,900 Grants towards provision of recreational equipment at 34Horses: Maintenance and hire 1,200 35 500 36 Laundering, dyeing, and renovating part-worn uniforms ... 2,600 50 37 Libraries at A.H.Q. and District Headquarters ... 25 38 39License fees for all motor-vehicles and drivers ... 400 40 Lighting, heating, and fuel 3,250 Maintenance of drill-halls, offices, buildings, and rifle ranges 41 (including building material, stores, insurance, and inspection of machinery) 8.000 Maintenance of "Janie Seddon," including cost of fuel, 42stores, and other charges (exclusive of wages) .. 700 Medical fees for examination of members of Military Forces 43 500 Medicine, medical attention, and hospital treatment 4.4. 700 Ordnance stores and miscellaneous equipment, repairs to, 45 including labour and incidental expenses 600 46 Overtime 100 Pay and allowances of Territorials attending camps, &c. 47 (including special service details and casual civilian labour) 85,050 Pay of caretakers of drill-halls and rifle ranges ... 48 1,100 49 Postages and telegrams 1,400 Prizes for rifle shooting for Dominion, Regimental District, 50 and Area Rifle Meetings and expenses incidental thereto, also entrance fees for Imperial Challenge Shield 670 Competition 51 Rent of offices, buildings, parade-grounds, and rifle ranges 1,200 Scavenging, cleaning, and washing ...... $52 \pm$ 100

9\*

Number of Persons.	Item	VOTE No. 22.—ARMY—continued.		1938	<b>⊢39.</b>
938–39.		Subdivision No. X.—Purchases, Buildings, Mainten and Training—continued.	ance,	£	£
		MAINTENANCE AND TRAINING—continued.		ļ	
	53	Telephone services (including installation, extermaintenance, rent, and calls) Transport—	isions,	1,500	
	54	Motor-cars and cycles, hire of and mileage (administ.	ration		
	55	and ordinary travelling)	end	1,500	
	'``	mileage for mechanized training		10,000	
	56	Rail fares and freights		10,000	
	57	Shipping charges, freights, cartage, &c	• •	6,000	
	58   59	Steamer fares and hire of launches Tram, service car, air, bus, and ferry fares		$750 \\ 1,700$	
	60	Transfer and removal expenses	•• !	1,000	
	61	Travelling-allowances		3,000	
	62	Travelling-expenses		1,000	
	63	Uniform allowance to members of the Permanent, Terri		7 500	
	64	and Cadet Forces Water	• •	$7,500 \pm 800$	
	65	Contingencies, including unforeseen expenditure incident	lental	000	
		to the other items of this subdivision		25	
		Estimated credits-in-aid under Section 51 of the I			
	j	Revenues Act, 1926 (see end of vote)— Ammunition, small-arms	£ 5,500		
			3,000 + 3,000		
		Hire of Defence vessels	1,500	1	
		Ordnance stores	7,000	:	
		Sale of horses	300		
	-		$\frac{2,685}{4,300}$		
		_			
		$Total-Subdivision\ No.\ X$	4,285		510,492
		Subdivision No. XI.—Non-effective Services.			
		Charges for and incidental to—			
	66	Allowance for entertainment of overseas visitors		100	
	$67 \pm$	Contribution towards pension of Imperial officers and	non-		
	68	commissioned officers on loan to New Zealand	• •	140	
İ	00	Funeral expenses	•• ;	50	
		Total—Subdivision No. XI			290
		Subdivision No. XII.—Rifle Clubs.			
i		Charges for and incidental to—	i		
	$69 \pm$	Miscellaneous charges		100	
	70	Railway warrants		200	
Ī		Total—Subdivision No. XII	,		300
		Gross Total	• • :		728,864
		Credits-in-aid (a)			24,960
	1	NET TOTALVOTE No. 22	!-		703,904
	a) Cre	edits-in-aid — Oth	net'		,
	, 010	Salaries. Char	ges.	1938-39.	
	Su	abdivision IV $675$ $324,5$		$\begin{array}{c} {\mathfrak L} \\ 675 \\ 24,285 \end{array}$	
		,,			
		Totals $675$ $24,2$	285	$\overline{24,960}$	
				***************************************	

# AIR DEPARTMENT.

				1938–39.	
			Salaries.	Other Charges.	Total.
Vote No	. 23.—	-Air—	£	£	£
Sarb	division	n I.—Administration	850		850
Duoi	,,	II.—Pay and Allowances	123,429		123,429
	,,	III.—Quartering Stores (except Technical),	,		
		Supplies, and Transportation		70,600	70,600
	,,	IV.—Technical Stores	• •	222,510	222,510
	,,	V.—Works, Buildings, and Lands VI.—Expenses and Allowances of Air Force	• •	7,000	7,000
	"	Personnel Overseas		17,100	17,100
	,,	VII.—Territorial and Reserve Forces		32,800	32,800
	,,	VIII.—Miscellaneous Services		20,940	20,940
	,,	IX.—Civil Aviation	3,491	47,380	50,871
	Gross	s Total	127,770	418,330	546,100
	CRED	ITS-IN-AID		52,200	52,200
	NET	TOTAL	127,770	366,130	493,900
Number of Persons.	Item	VOTE No. 23.—AIR.		19	38-39.
1938–39	-	Subdivision No. I.—Administration	on.	£	£
	1	Salary-		ı ı	L
	1	Administrative Division.			
1	:	1 at £850 (Air Secretary)		850	O
_,		$Total-Subdivision\ No.\ I$	• •		- 850
	2	Subdivision No. II.—Pay and Allow	vances.	l L	
$_2$		2 Group Captains: 1 at £1,463; 1 at £1	095 (7 mont	ths)	
_		£905 (2 months), £770 (3 months)	,000 (1 110110	2,445	5
$^2$		2 Wing Commanders: 1 at £945 (3 months),		ths),	
	:	£770 (5 months); 1 at £895 (7 months),	£770 (2 mont		
7		£635 (3 months)	 6511 /6	1,66	1
7		7 Squadron Leaders: 1 at £912 (6 months), 2 at £830 (3 months), £780 (4 months), £			1
	1	2 at £780 (3 months), £730 (4 months), £			
	i	1 at £635 (3 months); 1 at £600 (7 r			:
		months), £485 (3 months)	• •	4,448	3 :
18		18 Flight Lieutenants: 4 at £630 (7 n			
		months); 1 at £580 (7 months), £520 ( £580 (7 months), £520 (1 month); 1 at:			
		£440 (5 months); 1 at £520 (7 months);			
		8 at £520 (4 months); 2 at £400		6,39	7
16		16 Flying Officers: 1 at £500 (11 months); 2 at £480 (7 months), £ 1 at £480 (7 months); 1 at £475 (4 months at £420 (7 months), £340 (5 months months), £300 (5 months); 1 at £380	420 (5 month ths); 4 at £4 ); 1 at £386 (3 months), £	hs); -20; 0 (7 	
		(4 months), £300 (5 months); 2 at £			2
	· i	£360 (5 months), £300 (5 months); 1 at	2340 (3 mon	ths) 5,61	. · · · · ·

# AIR DEPARTMENT—continued.

of ersons.	Item	NOME AT A SECOND STATE OF THE SECOND STATE OF	1938-	-3 <b>9.</b>
38–39.	<u>                                     </u>	VOTE No. 23.—AIR—continued.		
	2	Subdivision No. II.—Pay and Allowances—continued.	£	£
3 2 545 13		87 Pilet Officers: 2 at £360; 3 at £340; 82 at £150, 1 for 12 months, 11 for 10 months, 24 for 8 months, 12 for 6 months, 10 for 5 months, 12 for 3 months, 11 for 2 months, 1 for 1 month	7,928 525 825 82,912 2,880 640	
		Civil Staff—		
		Salaries—-		
		Professional Division.  Class Special—		
1	A A A A A A A A A A A A A A A A A A A	1 at £100 (also Aerodrome Engineer, Head Office, Public Works Department, £615)	100	
		CLERICAL DIVISION.		
1		Class II— 1 at £515 (11 months), £490 (1 month)	513	
_		Class IV—	010	
$_2$		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
	-	Class VI—	725	
4		3 at £335 1,005 1 at £320 (9 months)		
_		Class VII—	1,245	
		2 at £305 610   1 at £305 (5 months), £280 (7 months)		
		1 at £255 (3 months), £230 (9 months) 236		
		1 at £230 (7 months), £210 (5 months)		
		1 at £210 210   2 at £115 (6 months), £95 (6 months) 210		
		1 at £95 (9 months), £80 (3 months) 91		
10		1 at £95 (3 months), £80 (9 months) 84	1 050	
		Cadets' lodging-allowances	$\frac{1,953}{95}$	
1		GENERAL DIVISION.	202	
1		1 at £235	235	
		Non-permanents.		
		1 at £250 250		
		1 at £245 (3 months), £235 (9 months)		
		2 at £220		
		1 at £195		
		1 at £195 (6 months), £185 (6 months)		
		1 at £185 (10 months), £165 (2 months) 182		
		1 at £125 (11 months), £105 (1 month)		
		$1 \text{ at } \pounds 95 \qquad \dots \qquad \dots \qquad \dots \qquad 95$	!	
		1 at £95 (3 months), £85 (9 months)		
		1 at £95 (3 months)		
		1 at £85 (8 months), £65 (4 months)		
		1 at £85 (3 months), £65 (9 months)		
		1 at £85 (2 months)		
17		1 at £65 (10 months)		
		2 we soo to monemy	2,286	
731	1		*	

Number of	Item	VOTE No. 23.—AIR—continued.	1938-	-39.
Persons.	1	Subdivision No. III.—Quartering Stores (except Technical),		
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		Supplies, and Transportation.	£	£
	3	Clothing, badges, &c., and boots (including making), (part	15 000	
	4	recoverable)	$\frac{15,000}{3,500}$	
	5	Freight, cartage, and shipping charges	19,500	
	6 7	Fuel, lighting, power, and water (part recoverable)  Furniture, barrack equipment, and other accommodation stores	$4,000 \mid 10,500 \mid$	
	8	Maintenance of personnel (rations, supplies, general upkeep, &c.), (part recoverable)	12,000	
	9	Registration and license fees and insurance premiums in		
	10	connection with motor-vehicles and drivers	$\frac{100}{1,250}$	
	11	Transfer and removal expenses	$\frac{1,250}{2,000}$	
	12	Uniform outfit grants and upkeep allowances	2,750	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)—		
		Clothing 1,000	1	
		Lighting           300         Rations           150		
		Trans Caldinisis No. 111		70. co
		Total—Subdivision No. III		70,60
	1	Subdivision No. IV.—Technical Stores.	1	
		Aircraft, marine craft, motor-vehicles, spares, plant,		
		miscellaneous equipment and stores and photographic materials—		
	13	Purchase of	116,500	
	$\frac{14}{15}$	Maintenance of	$\frac{1,000}{80,000}$	
	16	Services of manufacturers' experts in assembling aeroplanes	10	
	17	Spirits, oils, paint, and dope (part recoverable)	25,000	
		Estimated credits-in-aid under Section 51 of the Public		
		Revenues Act, 1926 (see end of vote)— £ Aviation and motor-spirit 6,000		
			· !	000 51
		Total—Subdivision No. IV		222,510
		Subdivision No. V.—Works, Buildings, and Lands.		
	18	Maintenance and repairs of land and buildings (including		
	10	rates)	6,000	
*	19	Transfer to vote "Public Buildings," Public Works Fund	1,000	
		Total—Subdivision No. V		7,000
			* 7	
		Subdivision No. VI.—Expenses and Allowances of Air Force Personnel Overseas.	e	
	20	Allowances— Allowances (special, quarters, sea, outfit, embarkation, &c.)	4,100	
	20	Other Charges—	1,100	
	21	Flying practice fees	1,500	
	22	Instructional fees	2,200	
	23	Purchase of discharge of personnel from Royal Air Force	4,500	

# Appropriations for Consolidated Fund Services. AIR DEPARTMENT—continued.

Number of Persons.	Item	VOTE No. 23.—AIR—continued.	1938–39.		
1938–39.		Subdivision No. VII.—Territorial and Reserve Forces.	£	£	
	25	Civil Reserve of Pilots: Grants to Aero Clubs for training, &c	21,550		
	26   27	Grants towards Squadron Funds Pay, fares, expenses and supplies in connection with refresher courses	300		
	28 29	refresher courses	5,800 650		
		Total—Subdivision No. VII		32,800	
		Subdivision No. VIII.—Miscellaneous Services.			
	30 +	Advertising, books, photographs, newspapers, and other publications (part recoverable)	$2{,}140$		
	31	publications (part recoverable) Bands: Expenses and grants	50		
	32	Compensation and medical expenses for personnel injured			
	99	on duty, and fees for medical examinations	2,000		
	33	Contribution towards service retired pay of Royal Air Force personnel on loan to Royal New Zealand Air Force	450		
	34	Expenses: Visit of Air Marshal Sir E. Ellington	80		
	35	Flying practice and duty flights, Headquarters Staff	400		
	36	Headquarters and communications	1,000		
	37	Office fittings, furniture, and requisites (including repairs			
	1 20	and other expenses)	$^{2,000}$		
	+38 + 39 +	Overtime and meal allowances	600 8 400		
	40	Payment to aero clubs for training Air Force pilots Payment to Air Ministry for pay and allowances from 2nd	8,400		
	10	January, 1938 to 31st March, 1938, and for steamer fare			
		and other expenses of an officer on loan to the Royal New			
		Zealand Air Force	360		
	41	Postages, telegrams, and rent of boxes	600		
	42	Printing and stationery	1,250		
	43	Rent of offices	560		
	44	Telephone services (including installation, extensions,	1 000		
	45	maintenance, rent, and calls)	1,000		
	40	to the other items of the vote	50		
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)— £	ļ		
		Miscellaneous 100	Î		
		Photographic survey fees 750			
		Books and publications 150			
		Training short-service pilots for Royal Air	į		
		Force 35,000	Š.		
		Total—Subdivision No. VIII		20,940	
				20,010	
	10	Subdivision No. IX.—Civil Aviation.			
	46	Salaries—			
1		1 (Controller of Civil Aviation) at £1,145 (5 months), £1,095 (2 months), £785 (5 months)	987		
		Professional Division.  Class Special—			
1		1 at £665	665		
		Class III—			
1		1 at £450 (7 months)	263		
1		Class IV—	6.4		
1		1 at £400 (1 month)	34		

		AI	R DEPA	RTMEN	Tconti	nued.			
Number of Persons.	Item	VOTE	No. 23	-AIR-c	ontinued.			1938	3 <b>9</b> .
938–39.		Subdivision No.	. <i>IX</i> ,(	livil Avid	<i>ttion</i> co	ntinued.			
	46	SALARIES—continued.						£	£
		C	TERRICAL	Divisio	N				
1		Class II—	лиски	D1 1 15.10				-1-	
1		$\begin{array}{c} 1 \text{ at } £515 \\ Class \ VI \end{array}$	• •	• •	••	• •	••	515	
1		1 at £335 (1 mon	th)	• •	• •			28	
				Divisio	Ň.		£	i   	
3		1 at £470 (9 months 1 at £380			• •	• •	$\frac{353}{380}$		
9		1 at £355 (9 month					266	000	
								999	
Total		CHARGES FOR AND I	NCIDENT.	AL TO			!	3,491	
Tumber of	47	Aeradio services						10,000	
ersons.	$\begin{bmatrix} 48 \\ 49 \end{bmatrix}$	Aircraft-landing gr Compensation to					£75;	5,000	
		S. J. Murphy, £	25; and	d also m	edical ar	id hospi	tal ex-		
		penses, on accou flood relief opera	tions in	Hawke's	Bay			290	
	50	Equipment and too inspection work	ols (inclu-	~	or-vehicl	es) for a	ircraft-	900	
	51	Expenses in connec	ction wit	h exchan	ge of Chi		ector of		
	52	Aircraft with Air Examinations, exp						1,500 50	
	53	Expenses in conne Air Navigation	ction wit	th Intern	ational (			250	
	54	Hawke's Bay Floo	d Relief				• • •	1,650	
	55 56	Investigation of ac Loans for aero clu						250	
	57	able)		••				15,000	
	57   58	Meteorological serv Office requisites,	telepho	nes, pri	nting a	nd stat	ionery,	10,000	
	59	postages, telegra Purchase of aircraf	ms, &c. t for loss	 n to sero	clube		••	$\begin{matrix} 600 \\ 1,200 \end{matrix}$	
	60	Safety precautions	, cross-co	ountry fly	$_{ m ing}$			40	
	61	Travelling-allowane aircraft inspecti							
		departmental ca						650	
		Estimated cree Revenues					Public		
		Repayments of load					£		
		aircraft	• •	• •	• •	• •	8,750		
		Total	Q. J. Jin	vioian Ma	1 V			47,380	EO 071
	İ			rision No	. <i>1.</i> A	• •			50,871
		Gross To	TAL	• •	• •	• •	••	• •	546,100
		Credits-1	N-AID (a	)		• •	••	• •	52,200
		NET TO:	ralv	OTE No.	. 23	••	-		493,900
	(a) Cr	edits-in-aid						38-39. Charges.	
		Subdivision III						£ ,450	
		" IV " VIII	• •	• •		•		,000 ,000	
		" IX		••		•		,750	
		Total	• .		_		52	,200	

# MAINTENANCE OF PUBLIC WORKS AND SERVICES.

								198	38–39.	
							Salaries.	Other	Charges.	Total.
Vote No.	. 24.—	Maintenance c	of Public	Works an	d Servi	ices	£		£	£
Subc	livisio	ı I.—Public	Building	ıs			14,500	i	125,937	140,437
	,,	II.—Roads							52,300	52,300
	,,	III.—Irrigate tection		inage, <b>an</b> mprovemen					91,540	91,540
	,,	IV.—Railwa	y- $lines$						22,600	22,600
	,,	V.—Plant, Serve		l,  and  M	Liscella 	neous		1,	405,095	1,405,098
	Gross	TOTAL		• •			14,500	1,6	397 , <b>4</b> 72	1,711,972
	CREDI	TS-IN-AID					1,500	1,0	41,650	1,043,150
	NET	TOTAL	• •	• •			13,000	6	55,822	668,82
		Expenses i Buildin	NCIDENT.	CLUDING	HE MA	INTENA	nce of Pu Improveme Rounds—			i
	1   2   3   4   5   6   7   8   9	Other Charg Accident leave to Governme Office scave able) Courth Custom Depart Gaols Mental Police-	compensor working the compensor working the compensor working the compensor working the compensor with the compensor working the com	and incident sation, sicken lings through the set of the set o	tal to— x-pay,  ighout ight,	- holiday  the Dor power,	pay, and sp	 ning,	6,00 10,00 1,00 20,00 4,00 20,00 15,00	00   00
	10 11 12	$egin{array}{c}  ext{Other }  ext{Constant} \  ext{Rents} \  ext{Replace} \end{array}$	Governm (£9,000 r ement w	ent Buildi ecoverable	) ·	Public	 Works Fund	vote	3,00 11,00 10,00	00

# MAINTENANCE OF PUBLIC WORKS AND SERVICES—continued.

	· · ·			
Number of Persons.	Item	VOTE No. 24.—MAINTENANCE OF PUBLIC WORKS AND SERVICES—continued.	1938-	-39.
1938–39.		Subdivision No. I.—Public Buildings—continued.	£	£
		Expenses incidental to the Maintenance of Public		*
		Buildings, etc.—continued.  Other Charges for and incidental to—continued.  Government Houses, Auckland and Wellington: Expenses in addition to or in excess of amount provided under the Civil List Act, 1920:—  Auckland—	!	
	13 14	Fuel, light, water, and cleaning Gardens, grounds, and outbuildings—	200	
3		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
, and the second		Casual labour		
		Miscellaneous expenditure 20	1,023	
	15	Household furnishings, &c	150	
	16 17	Maintenance	1,000	
	11	Telephone services (including installation, extensions, maintenance, rent, and calls)	100	
	18	Temporary accommodation and other miscellaneous	20	
		expenses	20	
	19 20	Fuel, light, water, cleaning, upkeep of laundry, &c Gardens, grounds, and outbuildings—	1,400	
		Salaries— £ £ 1 at £330 330		
		2 at £260 520		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	į	
9		2 at £238 476 1 at £208 208		
		-2,263		
		Casual labour		
		manures, &c 200	į	
		Miscellaneous expenditure 100	2,863	
	21	Household furnishings, &c	1,300 +	
	22 23	Maintenance	3,000	
		maintenance, rent, and calls)	<b>7</b> 0	
	24	Temporary accommodation and other miscellaneous expenses	<b>3</b> 0	
	25	Lyttelton Borough Council, for extra water supplied to Government Departments (part recoverable from other		
	26	Departments)	$3,\stackrel{100}{000}$	
	27	Public Revenues Act, 1926, Section 133: Annual contri-	. /	
		bution to Fire Insurance Fund for reinstatement of Public Buildings destroyed by fire	10	
	28	Special and other rates on Government properties	600	
	29	Supervision and administration (transfer to Public Works Fund vote, "Departmental")	20,000	
	30	Wages and expenses of staff workmen	500	
	31	Contingencies, including unforeseen expenditure incidental to the other items of the vote	50	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)—		
	- 1	Rents        9,000         Wages, &c., of staff workmen        100         Miscellaneous items        900		
		10,000	-	
			136,716	
	1			

# ${\tt MAINTENANCE} \ \ {\tt OF} \ \ {\tt PUBLIC} \ \ {\tt WORKS} \ \ {\tt AND} \ \ {\tt SERVICES--} continued.$

Number of Persons.	Item	VOTE No. 24.—MAINTENANCE OF PUBLIC WORKS AND SERVICES—continued.	<b>1</b> 938	3 <b>9.</b>
1938-39.		Subdivision No. I.—Public Buildings—continued.	£	£
				£
	32	$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		3 at £251 753		
	l			
14				
96			3,441	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote) £1,500		
	[		9.441	
		Other Charges for and incidental to—	3,441	•
	33	Casual labour	50	
		Coke, coal, &c.	20	
			100 i 70 i	
	37	Miscellaneous expenditure	40	
		·	900	
		Total—Subdivision No. I	280	140,437
			į	·
		Subdivision No. II.—Roads.		
		Suburusion No. 11.—Rodus.	į	
		Charges for and incidental to—		
	1	Maintenance and repairs to roads	10,500 1,500*	
	40	Maintenance of tourist roads, Rotorua County Maintenance of Wanganui River services (contribution)	300	
	41	Restoration of roadworks, bridges, &c., damaged by floods	40,000	
		Estimated credits-in-aid under Section 51 of the Public	:	
		Revenues Act, 1926 (see end of vote)— £	!	
		Miscellaneous 1,650	İ	
		Total—Subdivision No. II		52,300
			İ	
		Subdivision No. III.—Irrigation, Drainage, and River- protection and Improvement Works.		
			i	
		Irrigation works: Maintenance of dams, head-works, races,	;	
		weirs, &c.—		
	42	Central Otago	,	
		South Canterbury (Redcliffs, Levels, and other schemes) General investigations and surveys, &c	3,000 $250$	
	111	River protection and improvement works—	490	
	45	Lake Ellesmere Outlet	440	
	46	Maintenance and repair of river-protection works through-	50 000	
	47	out New Zealand Manawatu River (protective works at Massey College)	58,330 $450$	
	•	Subsidy—	200	
	48	Eyre River Syphon (£1 for £2), (Waimakariri-Ashley	550	
	49	Water-supply Board) Karaka Stream (impounding area), (£1 for £2), (Thames	550	
Persons   WORKS AND S	Borough Council)	400		
	50	Taretai Lock (£1 for £2), (Inch-Clutha River and	220	
		Diamage Doard)	44U 1	

<sup>\*</sup> Rotorua County to contribute £150 per annum.

# MAINTENANCE OF PUBLIC WORKS AND SERVICES—continued.

Number of Persons.	Item	VOTE No. 24.—MAINTENANCE OF PUBLIC WORKS AND SERVICES—continued.	1938–	39.
1938–39.		Subsection No. III.—Irrigation, Drainage, and River- protection and Improvement Works—continued.	£	£
	51 52 53 53	CHARGES FOR AND INCIDENTAL TO—continued. River protection and improvement works—continued. Subsidy—continued. Waitoa River willow-clearing (£1 for £1), (Thames Valley Drainage Board)	900 4,500 500	
		Miscellaneous £3,000  Total—Subdivision No. III		91,540
	54   55   56   57   58   59   60   61   62   63	Subdivision No. IV.—Railway-lines.  Charges for and incidental to—  Maintenance of unopened railway-lines, including wages of caretakers, materials, costs of operation of goods and passenger services, damages and compensation, hire of wagons, and all other charges—  Okaihau—Rangiahua  Dargaville Branch  Gisborne—Waikokopu  Waikokopu Section  Napier—Wairoa  Wharanui—Parnassus  Kawatiri—Inangahua  Westport—Inangahua  Miscellaneous works  Contribution towards improvement and additions to open railway-lines (transfer to Public Works Fund vote, "Railways improvement, &c.")  Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)  £6,000	500 2,900 500 6,500 7,000 500 300 100 4.000	
	64 65 66 67 68 69	Subdivision No. V.—Plant, Material, and Miscellaneous Services.  Charges for and incidental to— Aerodromes and emergency landing-grounds for air services— Civil aerodromes and emergency landing-grounds: Investigation, surveys, design, development, and construction	350,000	22,600

# ${\bf MAINTENANCE} \ \ {\bf OF} \ \ {\bf PUBLIC} \ \ {\bf WORKS} \ \ {\bf AND} \ \ {\bf SERVICES-} {\it continued}.$

Subdivision No. V.—Plant, Material, and Miscellaneous   £	£
Electrical Wiremen's Registration Act, 1925 (cost of administration, including fees of members of the Registration Board), (recoverable)	
ministration, including fees of members of the Registration Board), (recoverable)	
tration Board), (recoverable)	
including allowance to Registrar, and fees, &c., of members of the Registration Board)	
members of the Registration Board)	
damaged by gales	
Plant, material, and services—	
73	
Buildings, &c., for Hospital Boards throughout New   Zealand (all expenditure recoverable from Boards)	
Zealand (all expenditure recoverable from Boards)   1,000     1,000	
Treight, cartage, and transport charges (recoverable)   30,000	
77         Quarries (acquisition and operation)	
(recoverable)	
79 Timber-supply and sawmills	
80 Miscellaneous works and services	
Public Works workshops (maintenance and working expenses), (recoverable)	
penses), (recoverable)	
Rotoroa Island: Repairs to retaining wall damaged by gales 50	
Thorndon ramp and railway overbridge (contribution)	
Board, &c 50	
85 Works not specified 500	
Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)—— £	
Aerodromes	
Public Works weekshops 50,000	
Wiremen's Registration Act 1,000	
1,021,000	
Total Subdivision No. V	,405,098
Gross Total	,711,972
Credits-in-aid (a) 1	1,043,150
NET TOTAL—VOTE No. 24	668,822
(a) Credits-in-aid— Salaries. Charges. 1938–39. $\mathfrak{E}$	
Subdivision I 1,500 10,000 11,500	
" $III \dots \dots I,650 \dots I,650$	
"""""""""""""""""""""""""""""""""""""	
$\begin{array}{cccccccccccccccccccccccccccccccccccc$	
Totals $1,500$ $1,041,650$ $1,043,150$	
1,010,100	

# DEPARTMENT OF LANDS AND SURVEY.

								1	938–39.	
							Salaries.	Otl	ner Charges.	Total.
Vote No	25 _	Lands and Su	ryov—				£		£	£
			-			i		a i		
Suba	ivisio	n I.—Adminis				• •	230,24	Z :	83,000	313,242
	,,	II.— $Miscella$	neous Servic	es	• •			:	59,643	59,643
	,,		Preservation, nat Parks, R Domains					į	13,150	13,150
(	Gros	s Total					230,24	2	155,793	386,035
		ITS-IN-AID					47,98		24,020	72,000
		TOTAL					182,26		131,773	314,035
						1 2021				
Number of Persons.	Item	VOT	E No. 25.—	-LAN	DS A	ND SUI	RVEY.		1935	3-39.
938-39.			Subdivision	No. I	IAd	lministra	tion.		£	£
	1	*Salaries								L
			Administ	'RATIV	ve Div	vision.				
1		1 at £1,200	• • • • • • • • • • • • • • • • • • • •		• •	• •	• •		1,200	:
		0 / 6050	Profess	SIONA	ı. Divi	ISION.			1.700	
i	: !	$2  ext{ at £850} \ Class \ Special$					• •	• •	1,700	<u> </u> 
ļ		4 at £765 Class Speci				• •	• •		3,060	:
		1 at £715 Class Speci							715	
9		$2~{ m at}~{ m \hat{\pounds}}665$						£	1,330	İ
		Class I— 6 at £615						$\frac{x}{3,690}$		
;		5 at £565						2,825		:
19		8  at  £540 $Class II$ —			• •	• •		$\frac{4,320}{}$	10,835	
i		6 at £515						3,090	: 10,000	
16	3	10 at £49						4,900		
		Class III-						470	7,990	
1		1 at £470	 ) (6 months),	€445	 (6. mo	nths)		$\frac{470}{457}$	1	
	ļ		(5 months),					911	İ	
6	l		(5 months),					867	į	
		Class IV—						100	-2,705	
		1 at £400	 (5 months),	£320	 (7 mg	 n+bal	• •	$-\frac{400}{777}$	1	
			(5 months), (4 months),					773		
	į.		(3  months),					770		
8	İ		(2 months),					383		
		Class V—				-			3,103	
į	:	2 at £380		eoor	 /9 ·			760	İ	
i			(9 months), (5 months),				• •	$\frac{369}{354}$		
4	!	1 at 2000	(5 monuis),		( mo	пынај		1917	- 1 483	

 $<sup>\</sup>mbox{*}$  For particulars of salaries see " Public Service Classification List."

# DEPARTMENT OF LANDS AND SURVEY—continued.

Number of Persons.	[tem	VOTE No. 25.—LANDS AND SURVEY—co	mtin	ued.	1938-	-39.
938-39.		$Subdivision\ No.\ IAdministration continuous and the property of the pr$	ued			
	1	Salaries—continued.			£	£
ļ		Professional Division—continued.		i		
		Class VII—		£	1	
		1 at £305		305		
		2 at £280 (7 months), £255 (5 months) 1 at £280 (6 months), £255 (6 months)	• •	$\frac{539}{267}$		
		1 at £255 (8 months), £230 (4 months)		$\frac{207}{247}$		
	i	1 at £195		195		
	i	1 at £195 (8 months), £185 (4 months)		192		
9		1 at £195 (4 months), £185 (8 months) 1 at £195 (1 month), £185 (11 months)	• •	188 186		
"		1 at £155 (1 month), £165 (11 months)	٠.	100	2,119	
		CLERICAL DIVISION.			2,110	
					904	
	1	1 at £815 (3 months)	• •	• •	204	
3		Class $S_Pecial A$ 2 at £765		1	1,530	
	:	Class I			,	
	i	2 at £615		1,230		
6		4 at £540		2,160		
İ		Class II—			3,390	
	į	4 at £515		2,060		
		2 at £515 (3 months), £490 (9 months)		992		
8	İ	2 at £490		980		
	l	Class III—			4,032	
İ		7 at £470		3,290		
		1 at £470 (5 months), £445 (7 months)		455		
;		1 at £470 (3 months), £445 (9 months)		451		
20		1 at £470 (2 months), £445 (10 months) 10 at £445	• •	$\frac{449}{4,450}$		
20		10 av 2110	• •		9,095	
į		Class IV—		į	, , , , ,	
	į	19 at £425		8,075	1	
	i	1 at £425 (11 months), £400 (1 month) 1 at £425 (9 months), £400 (3 months)		$\begin{array}{c} 423 \\ 419 \end{array}$	1	
		1 at £425 (4 months), £400 (8 months)		408		
		2 at £425 (3 months), £400 (9 months)		812		
		1 at £425 (2 months), £400 (10 months)		404		
28		1 at £425 (1 month), £400 (11 months) 2 at £400		$\frac{402}{800}$		
					11,743	
		Class V—		14 040		
i		43 at £380	• •	$\begin{array}{c} 16,340 \\ 374 \end{array}$		
	i	1 at £380 (3 months), £355 (9 months)		361		
		4 at £380 (2 months), £355 (10 months)		1,437		
50	,	1 at £355 $\dots$	• •	355	10.007	
		Class VI—			18,867	
		96 at £335		32,160		
ĺ		1 at £335 (11 months), £320 (1 month)		334		
!		2 at £335 (9 months), £320 (3 months)		662		
		2 at £335 (6 months), £320 (6 months) 1 at £335 (4 months), £320 (8 months)		$egin{array}{c c} 655 & 325 & 1 \end{array}$		
		4 at £335 (3 months), £320 (9 months)		1,295		
*05	İ	2 at £335 (2 months), £320 (10 months)		645		
109	İ	1 at £335 (1 month), £320 (11 months)		321	0.0.00	
Į.					36,397	

Number of	Item	m a			19	938-	39.
ersons. 38–39.		VOTE No. 25.—LANDS AND SURVEY—	contin	ued.		i	
<i>⊍</i> ೧−∂ <i>Უ</i> .		Subdivision No. I.—Administration—con	ntinue	d.	£		£
	1	Salaries—continued.				1	
		CLERICAL DIVISION—continued.				!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!	
		Class VII—		£		ì	
		50 at £305		15,250			
	1	2 at £305 (11 months), £280 (1 month) 2 at £305 (8 months), £280 (4 months)	• •	606 593			
		2 at £305 (6 months), £280 (4 months)		585			
	1	1 at £305 (4 months), £280 (8 months)		288			
		1 at £305 (3 months), £280 (9 months)		286		i	
		1 at £305 (1 month), £280 (11 months)		282		-	
		3 at £280		840			
		1 at £280 (11 months), £255 (1 month)	• •	278			
		2 at £280 (9 months), £255 (3 months) 2 at £280 (8 months), £255 (4 months)	• •	$\begin{bmatrix} 547 \\ 543 \end{bmatrix}$		i	
		1 at £255 (6 months), £230 (6 months)		242		:	
	!	1 at £230 (6 months), £205 (6 months)		218			
	!	1 at £205 (11 months), £195 (1 month)		204			
	!	2 at £205 (8 months), £195 (4 months)		403		į	
	.	1 at £205 (6 months), £195 (6 months)		200		:	
		1 at £205 (3 months), £195 (9 months)		198 188			
		1 at £195 (10 months), £155 (2 months) 1 at £195 (9 months), £185 (3 months)		192			
		1 at £195 (8 months), £155 (4 months)		182			
		1 at £195 (6 months), £185 (6 months)		190		İ	
		1 at £195 (4 months), £185 (8 months)		188			
	1	3 at £195 (2 months), £185 (10 months)		560			
		3 at £185	• •	555			
		1 at £185 (11 months), £175 (1 month) 1 at £185 (8 months), £175 (4 months)		$\begin{array}{c} 184 \\ 182 \end{array}$			
		1 at £185 (7 months), £155 (5 months)		172			
		2 at £185 (6 months), £175 (6 months)		360			
		3 at £185 (5 months), £175 (7 months)		538			
		1 at £185 (4 months), £175 (8 months)		178		:	
	i	2 at £185 (3 months), £175 (9 months)		355			
		3 at £185 (2 months), £175 (10 months) 2 at £185 (1 month), £175 (11 months)	• •	$egin{array}{c} 530 \ 352 \end{array}  $			
		1 at £175	• •	175		İ	
		1 at £175 (11 months), £115 (1 month)		170		!	
		2 at £175 (10 months), £165 (2 months)		347		]	
		1 at £175 (8 months), £115 (4 months)		155			
		1 at £175 (5 months), £165 (7 months)	• •	169			
	!	1 at £175 (5 months), £115 (7 months) 1 at £175 (4 months), £165 (8 months)	• •	$\frac{140}{168}$			
		1 at £175 (4 months), £165 (9 months)		167			
		1 at £175 (2 months), £165 (10 months)		166		: i	
		2 at £175 (1 month), £165 (11 months)		332			
		2 at £165 (11 months), £155 (1 month)		328			
		1 at £165 (9 months), £155 (3 months)		162			
		1 at £165 (9 months), £95 (3 months)	• •	$\begin{array}{c} 148 \\ 160 \end{array}$		!	
		1 at £165 (6 months), £155 (6 months) 1 at £165 (4 months), £95 (8 months)	• •	118			
		1 at £155	• •	155			
		2 at £155 (10 months), £80 (2 months)		285			
		1 at £155 (6 months), £115 (6 months)		135		İ	
	1	1 at £155 (6 months), £95 (6 months)		125		i	
		1 at £155 (5 months), £115 (7 months)		132		i	
		1 at £155 (1 month), £115 (11 months)		$\begin{array}{c} 118 \\ 230 \end{array}$		i	
		2 at £115		113			
	: !	1 at £115 (11 months), £95 (1 months)		110			
	1	2 at £115 (8 months), £95 (4 months)		217		1	

Number of Persons.	Item	VOTE No. 25.—LANDS AND SURVEY—continued.	1938-	-39.
38–39.		$Subdivision\ \ No.\ \ IAdministration continued.$	£	£
	1	Salaries—continued.	ı.	£
		CLERICAL DIVISION—continued.		
		Class VII—continued.		
		2 at £115 (7 months), £95 (5 months) 213		
		1 at £115 (6 months), £95 (6 months) 105		
		3 at £115 (5 months), £95 (7 months) 310		
		2 at £115 (3 months), £95 (9 months) 200		
		8 at £115 (2 months), £95 (10 months)		
		9 -+ 60%		
	1	3 at £95		
		3 at £95 (10 months), £80 (2 months) 277		
		3 at £95 (9 months), £80 (3 months)		
		6 at £95 (8 months), £80 (4 months) 540		
		1 at £95 (7 months), £80 (5 months) 89		
		1 at £95 (6 months), £80 (6 months)		
		3 at £95 (3 months), £80 (9 months)		
		7 at £95 (2 months), £80 (10 months)		
195		6 at £80 487		
100			36,727	
		GENERAL DIVISION.		
		1 at £665		
		1 - CERE (O . II ) CEEO (A .II )		
		5 at £525 2,625		
		4 at £500 2,000	1	
		1 at £490		
		2 at £475 950		
		5 at £470 2,350		
		2 at £450 900		
		8 at £425 3,400 4 at £400 1,600		
		4 at £400 1,600 7 at £380 2,660		
		1 at £360		
		1 at £355		
		1 at £350 350		
		1 at £345 $\dots$ 345		
		1 at £335		
		10 at £320 3,200		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		1 -4 6900		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		$2 \text{ at } £265 \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots$		
		1 at £265 (5 months), £255 (7 months)		
		1 at £245 245	į	
	: !	5 at £235 1,175		
		5 at £230 1,150		
		3 at £225		
	. 1	2 at £215 430 1 at £210 210		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		1 at £205 (2 months), £195 (10 months)		
	! /	5 at £195		
		1 at £195 (10 months), £185 (2 months) 193		
		1 at £195 (7 months), £185 (5 months)	1	
93		1 at £195 (7 months), £185 (5 months)		

Ttom								1000	0.0
rtem								1938–	39.
	VOTE N	o. 25.—L	ANDS	S AND ST	URVEY-	continu	ued.		
	Subdia	rision No	<i>I</i>	4dministra	ationcom	atinuad	i .	e	£
	2 110 411		1. 1	2001100110001	**************************************	.10111111.(1,			2
1	SALARIES—c	ontinued.					i		
		N	OM DE	UDA# 4 NITANIM	ıa		e	!	
	1 at £445		ON-PE		-			t i	
1	2 at £400						800	ı	
	2 at £380	• •					760		
				* *			355	ļ	
1		• •	• •	, ,		• •			
		• •						:	
İ									
	6 at £300							Ì	
	4 at £295						1,180		
1							290	İ	
		• •	• •	• •	• •			}	
i		• •							
1	7 at £265								
i	4 at £260								
!	7 at £255						1,785		
!		•					1,750		
	5 at £225							1	
	6 at £220						1,320	:	
							410		
	2 at £155								
i	5 at £145						725	İ	
!							1,250		
			• •	* *			115		
		• •		* *					
		• •	• •			• •		i	
						• •			
	2  at  £55						110		
	Others not	specified					100		
	Codota, Isa	laina a 11 an							
						 		500	
i	and 209	to officers	unaer Eperfo	rming sne	eivice it eial or bi	eguiauc oher du	nis 44A   ties	1 450	
	ana 200	o onicon	Porro		ociai oi m	Shor du		1,±30	
1								230,242	
-							-		
	OTHER CHAR	CEC EOD	ANTIN T	NICE COLUMN	r mo			!	
2						nst of m	atorial	į	
-					···	050 OL 111	iateriai,	150	
3	Advertisin	g, photog	raphs,			rs, and	lother	100	
	publicat:	ions						1,925	
	Classificati	on and v	aluati	on of lan	ids and s	special	reports	i	
4	Classificati	on and v						·	
	(part red	overable)					,;;	8,500	
4   5   6	(part rec Education Freight, ca	overable) Reserves :	Expe	m enses of $ m m$	 anagemei	 it (recov	verable)	8,500 400 265	
	2	Subdia  Salaries—ca  1 at £445 2 at £400 2 at £380 1 at £355 1 at £325 1 at £325 1 at £320 1 at £315 5 at £305 6 at £300 4 at £295 1 at £290 7 at £280 9 at £275 3 at £270 7 at £255 7 at £255 7 at £255 6 at £245 3 at £240 6 at £245 3 at £225 6 at £220 2 at £205 1 at £200 7 at £195 15 at £185 10 at £165 2 at £155 5 at £145 10 at £155 5 at £145 10 at £155 11 at £105 7 at £85 7 at £65 1 at £60 2 at £55 Others not Cadets' loc Special all and 209  OTHER CHAR Account, re	VOTE No. 25.—L.  Subdivision No.  1 SALARIES—continued.  No.  1 at £445 2 at £400 2 at £380 1 at £355 1 at £325 1 at £325 1 at £315 5 at £305 6 at £300 4 at £295 1 at £290 7 at £280 9 at £275 3 at £270 7 at £265 4 at £260 7 at £255 7 at £250 6 at £245 3 at £240 6 at £235 3 at £220 2 at £255 6 at £225 6 at £225 6 at £220 2 at £155 10 at £165 2 at £155 10 at £165 2 at £155 11 at £105 7 at £85 7 at £85 7 at £65 1 at £115 11 at £105 7 at £85 7 at £65 1 at £15 10 at £125 1 at £15 10 at £125 1 at £105 7 at £85 7 at £65 1 at £105 7 at £85 7 at £65 1 at £105 7 at £85 7 at £65 1 at £105 7 at £85 7 at £65 1 at £105 7 at £85 7 at £65 1 at £105 7 at £85 7 at £65 1 at £105 7 at £85 7 at £65 1 at £105 7 at £85 7 at £65 1 at £105 7 at £85 7 at £65 1 at £105 7 at £85 7 at £65 1 at £105 7 at £85 7 at £65 1 at £105 7 at £85 7 at £65 1 at £105 7 at £85 7 at £65 1 at £105 7 at £85 7 at £65 1 at £105 7 at £85 7 at £65 1 at £105 7 at £85 7 at £65 1 at £105 7 at £85 7 at £65 1 at £105 7 at £85 7 at £65 1 at £105 7 at £65 1 at £105 7 at £65 1 at £105 7 at £65 1 at £105 7 at £65 1 at £105 7 at £65 1 at £105 7 at £65 1 at £105 7 at £65 1 at £105 7 at £65 1 at £105 7 at £65 1 at £105 7 at £65 1 at £105 7 at £65 1 at £105 7 at £65 1 at £105 7 at £65 1 at £105 7 at £65 1 at £105 7 at £65 1 at £105 7 at £65 1 at £60 2 at £65 3 at £60 2 at £65 3 at £60 3 at £60 3 at £60 3 at £60 3 at £60 3 at £60 3 at £60 3 at £60 3 at £60 3 at £60 3 at £60 3 at £60 3 at £60 3 at £60 .	VOTE No. 25.—LANDS  Subdivision No. I.—A  1 SALARIES—continued.  NON-PR  1 at £445 2 at £400 2 at £380 1 at £355 1 at £325 1 at £320 1 at £315 5 at £305 6 at £300 4 at £295 1 at £290 7 at £280 9 at £275 3 at £270 7 at £265 4 at £260 7 at £255 7 at £255 6 at £245 3 at £240 6 at £235 3 at £240 6 at £235 3 at £240 6 at £235 5 at £255 1 at £200 7 at £195 15 at £185 10 at £165 2 at £155 5 at £145 10 at £165 1 at £105 7 at £85 7 at £65 1 at £60 2 at £55 Others not specified  Cadets' lodging-allowances Special allowances under and 209 to officers performances  OTHER CHARGES FOR AND I	VOTE No. 25.—LANDS AND SU	NOTE No. 25.—LANDS AND SURVEY—   Subdivision No. I.—Administration—con	VOTE No. 25.—LANDS AND SURVEY—continued	VOTE No. 25.—LANDS AND SURVEY—continued.   Subdivision No. I.—Administration—continued.	VOTE No. 25.—LANDS AND SURVEY—continued.   Subdivision No. I.—Administration—continued.   £

		· · · · · · · · · · · · · · · · · · ·		
Number			400+	
of Persons.	Item		1938-	-39.
	ļ	VOTE No. 25.—LANDS AND SURVEY—continued.		
1938–39.			£	£
		Subdivision No. I.—Administration—continued.	I	£
		Swow of the L. Liwing work and the contraction		
	8 :	OTHER CHARGES FOR AND INCIDENTAL TO—continued.		
		Inspection, management, &c., expenses of settlement, forest, and flax lands—		
		Field Inspectors— £	:	
		Motor-hire 400		
		Motor-mileage allowances 3,000 Travelling-expenses 4,450		
	1	$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
			10,150	
	9	Insurances	75	
	10	Kauri-gum Industry Act, 1910: Rangers' salaries, travelling and other expenses (part recoverable)	150	
	11	Land Boards: Fees to members, and including expenses	150	
		in lieu of fees	3,350	
	12	Law-costs	600	
	13	$\begin{array}{cccccccccccccccccccccccccccccccccccc$	1,400	
	14	Purchase 3,400	1	
		Maintenance 2,450		
			5,850	
	15	Office-cleaning Office fittings and equipment—	160	
	10	Capital 3,500		
		Maintenance 500		
			4,000	
	$\begin{vmatrix} 17 \\ 18 \end{vmatrix}$	Overtime and meal allowances	$\frac{1,000}{2,500}$	
	19	Printing and stationery	3,000	
	20	Refunds of credits-in-aid received erroneously during pre-	i	
	01	ceding financial year	150	
	$\begin{vmatrix} 21 \\ 22 \end{vmatrix}$	Rent Statutes : Annotation	$\frac{5,300}{20}$	
	23	Survey and engineering instruments—	<b>2</b> (7)	
		Surveyors' equipment, camp gear, &c.— £		
		Purchase		
		Maintenance 200	3,000	
	24	Surveys, &c.—	5,000	
		Settlement and general surveys 10,500		
	!	Standards		
		graphical Board) 700	!	
	. 1	Trigonometrical 5,000		
	į	Native land 300	10.500	
	25	Telephone services (including installation, extensions, main-	18,500	
	20	tenance, rent, and calls)	2,665	
	26	Tracing-cloth and tracing-paper and other draughting-		
	07	material (part recoverable)	2,000	
	27 28	Transfer and removal expenses	1,500	
		Motor-hire 75	į	
		Motor-mileage allowances 1,525		
		Travelling-allowances 1,600	:	
		Travelling-expenses 1,800	5,000	
	29	Typewriters and calculating-machines, &c.—	0,000	
		Purchase		
		Maintenance 200	1 050	
	) '		<b>1,05</b> 0	

Number of Iter Persons.	VOTE No. 25.—LANDS AND SURVEY—continued.	1938-	-39.
1938–39.	Subdivision No. I.—Administration—continued.		
	OTHER CHARGES FOR AND INCIDENTAL TO—continued.	£	£
30	Contingencies, including unforeseen expenditure incidental		
	to the vote	50	
	Estimated credits-in-aid under Section 51 of the Public		
	Revenues Act, 1926 (see end of vote)————————————————————————————————————		
	Education Reserves 6,150		
1	Hauraki Plains Drainage 2,500		
	Hunter Soldiers' Assistance Trust Deposit Account 20		
	Land for Settlements Account		
	National Endowment Revenue 6,600 Swamp Land Drainage 600		
	Education Reserves 400		
i	Land for Settlements Account—		
	Recovery of administration and other charges in connection with the development of		
	Crown and settlement lands 2,000	. !	
	Marine Department for computation of tide- tables		
	Miscellaneous credits representing charges for		
	surveys, draughting work, &c., performed for		
	other Departments, survey fees, search fees, &c. 29,600 Stamp Duties Department for services rendered 11,000		
		İ	
į.	71,970		
!		83,000	
	Total—Subdivision No. I		313,242
:	Subdivision No. II.—Miscellaneous Services.		
3	CHARGES FOR AND INCIDENTAL TO— Access road to Ahipara Gumfields: Maintenance	:50	
3		33	
3		10	
3	Compensation for injuries to employees while in discharge of their duties, and contingent expenses in connection		
	with same	200	
3	Crown lands: Protecting, clearing, grassing, draining, &c. (general)	2,000	
3	(0)		
3	and other expenses	5,500 10	
3		10	
	shortage in area of Sections 13, 22, 23, Block XI, Takahue		
!	Survey District	50	
3	Ferry expenses	300	
4	Repairing flood damage, including refunds to local authorities of expenditure incurred	625	
4		170	
	Kaitaia Drainage Area—		
4 4		$\frac{1,570}{2,500}$	
$\begin{vmatrix} 1 \\ 4 \end{vmatrix}$	Repairing damage to stop-banks (on account £2,400,		
1	expended £605)	600	

Number of Persons.	Item		1938–	39.
938-39.		VOTE No. 25.—LANDS AND SURVEY—continued.	£	£
		Subdivision No. II.—Miscellaneous Services—continued.	i	-
		CHARGES FOR AND INCIDENTAL TO—continued.		
	15	Kaitaia Drainage Area Town District: Contribution		
	16	towards cost of replacing Bell's Bridge Kumeti drain, Dannevirke County, protection of Maintenance of completed drainage works, law-costs, &c.—	750 100	
	47	Hauraki Plains	1,800	
	18	Rangitaiki Drainage District	10,000	
	19	Swamp Land Drainage District	3,000	
	50	New Plymouth Harbour Board Endowment Act, 1874: One-fourth of proceeds of sales, &c., payable to Harbour		
		Board	2,300	
	$\begin{vmatrix} 51 \\ 52 \end{vmatrix}$	Noxious weeds on unoccupied Crown land, eradication of Orakei Block, Auckland—	9,000	
		Payment of commission on sales of land 300		
		Water rates and other incidental charges 70	370	
	53	Otamakapua Block: Rent	$\frac{370}{477}$	
	54	Payment of rents, &c., of properties leased from owners	#11	
	01	under Small Farms Plan	2,760	
	55 56	Floodgate for Omeheu Canal Floodgate, Orini dredge cut (on account £2,400, expended	350	
	57	£490)	1,910	
		£5,000, expended £2,567)	2,433	
	58	Willow - extermination, Rangitaiki River (on account	1.040	
	50	£2,000, expended £960)	1,040	
	59	Rates to local authorities	1,000	
	60	Rates on unoccupied Crown lands under—	910	
	61	Hauraki Plains Act, 1926	210 50	
	62	Rangitaiki Land Drainage Act, 1910	480	
	63	Swamp Drainage Amendment Act, 1928	630 ;	
	64	Refunds for improvements effected	50	
	65	Refunds of amounts credited in previous years to Discharged Soldiers' Settlement Account (abolished)	50 ¦	
	66	Repairs and alterations to buildings on Crown lands	1,000	
	67	Stewart Island: Interest on £2,000, part purchase-money; annual payment	128	
	00	Subsidies—	Fan !	
	68	Hauraki United Drainage Board	520	
	$\frac{1}{70}$	Karamea Shipping Co., Ltd	500	
	70 71	T 1 337 1 '1 '	$\frac{250}{20}$	
	$\begin{vmatrix} 71 \\ 72 \end{vmatrix}$	Pakihi lands, soil survey	$\frac{20}{250}$	
	73	Pipiriki–Retaruke mail service	$\frac{250}{287}$	
	74	Raising stop-banks on boundary Orongo Settlement (£1 for £1)	75	
	75	Rangitaiki Land Drainage: Subsidy on maintenance	!	
	76	rates (10s. for £1) Road access to Section R. 15373, part Section R.S. 15373, and part Section R.S. 2160, Blocks VIII, XII, and	3,330	
		XVI, Grey Survey District	45	
	77	South Westland mail-steamer	300	
	78	Wanganui River improvement	300	

Number of Persons.	Item	VOTE No. 25.—LANDS AND SURVEY—continued.	1938-	3 <b>9.</b>		
1938–39.		Subdivision No. II.—Miscellaneous Services—continued.				
	79 80	Charges for and incidental to—continued.  Uneconomic holdings: Payment to outgoing lessees  Value of settlement lands reserved for public purposes	£ 2,000 10	£		
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)— Recovery of cost of planting trees, &c., on North Island Experimental Dairy School Miscellaneous				
		Less amount provided but not required	61,393 1,750			
		Total—Subdivision No. II		59,643		
		Subdivision No. III.—Scenery Preservation, Bird Sanctuaries, National Parks, Recreation Grounds, and Domains.				
		Charges for and incidental to—				
	81	Bird sanctuaries— £ Improvements				
	09	Supervision, maintenance, plant, equipment, &c. 200	350			
	82	National Parks: General administration and grants to Park Boards	1,000			
	83	Recreation grounds and domains—  Acquisition (including access)				
	81	Scenic and historic reserves—	5,000			
		Acquisition and improvements 3,500  General administration and maintenance charges Grant to Riccarton Bush Trustees				
	85	Surveys, valuations, &c	$5,000 \mid 50$			
	86	Waitangi Endowment: Planting, &c. (on account of £8,200), (expended, £3,605)	1,650			
	87	Waitangi Historic Reserve: Clearing, ploughing, grassing, internal roading, and compensation, &c.	100			
		Estimated credits-in-aid under Section 51 of the Public				
		Revenues Act, 1926 (see end of vote)— £ Miscellaneous				
		Total—Subdivision No. 111		13,150		
		Gross Total		386,035		
		Credits-in-aid (a)	••	72,000		
		NET TOTAL—VOTE No. 25		314,035		
		Y 3', ' ' '				
	(a) (		1938–39 £			
		Subdivision I 47,980 23,990	71,970 20			
		", III 10	10			
		Totals 47,980 24,020	72,000	•		
				;		

#### DEPARTMENT OF AGRICULTURE.

				1938–39.	
<del></del>		·- 	Salaries.	Other Charges.	Total.
Vote No. 26.—Agriculture—			£	£	£
(a) Administrative Service	ES.	Shirt		:	
Subdivision I.—Head Office			11,365	29,010	73,375
" II.—Live-stock Division		• • •	134,245	68,658	202,903
" III.—Horticulture Division			26,331	16,404	42,735
" IV.—Dairy Division	• •	•••	75,494	26,435	101,929
" V.—Fields Division	• •	• • •	42,542	47,445	89,987
Gross Total			322,977	187,952	510,929
Less Credits-in-aid			23,950	100,130	124,080
NET TOTAL			299,027	87,822	386,849
(b) Payments under Statu	TES.				
Subdivision $VI$				109,000	109,000
Less Credits-in-aid				3,000	3,000
NET TOTAL				106,000	106,000
(c) Miscellaneous: Advances, Grants,	Subsidies,	ETC.			
Subdivision VII				633,514	633,514
Less Credits-in-aid				160,250	160,250
NET TOTAL				473,264	473,264
Gross Total $(a)$ , $(b)$ , $(c)$		• •	322,977	930,466	1,253,443
Less Credits-in-aid $(a)$ , $(b)$ , $(c)$		!	23,950	263,380	287,330
NET TOTAL	••		299,027	667,086	966,113
Number of Item Persons. VOTE No. 2	6.—AGRIC	ULTUR	E.	198	38–3 <b>9</b> .
1938–39. Subdivision	No. I.—Hee	ad Office	2.		
1 *Salaries	•			£	£
Administ	RATIVE DIV	ision.			!
1 at £1,300 (Director-Ge			1,	£ 300	
2 1 at £900 (Assistant Dir	ector-Genera	al)		$\stackrel{900}{}$ 2,200	0

<sup>\*</sup> For particulars of salaries see "Public Service Classification List."

## ${\bf DEPARTMENT\ OF\ AGRICULTURE-} continued.$

Number			
	VOTE No. 26.—AGRICULTURE—continued.	1938-	39.
938–39.	Subdivision No. I.—Head Office—continued.	a i	
	1 Salaries—continued.	£	£
	Professional Division.		
1	Special B— 1 at £715 (7 months), £665 (5 months)	694	
1	$\begin{array}{cccc} Class & II \longrightarrow \\ & 1 \text{ at } \pounds 515 \text{ (7 months)}, \ \pounds 490 \text{ (5 months)} & \dots & \dots \\ & Class & IV \longrightarrow & & & & & & & & & \\ \end{array}$	505	
3	$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
$\frac{3}{2}$	Class V—  2 at £380 (7 months), £355 (5 months)	$\frac{1,117}{739}$	
-	Class VI— 1 at £335 335		
2	1 at £320 320 Class VII—	655	
	2 at £305 (7 months), £280 (5 months) 589 1 at £305 (7 months) 178		
4	1 at £255 (9 months) 192	959	
	CLERICAL DIVISION.		
1	Special B— 1 at £715 (2 months)	120	
1	Special C— 1 at £665	665	
	Class I— 1 at £565		
2	1 at £565 (1 month), £540 (11 months) 542  Class II—	1,107	
$_2$	$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
	Class III— 3 at £470 1,410	1,005	
6	3 at £470 (1 month), £445 (11 months) 1,341  Class IV—	2,751	
2	$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
	Class V— $3 \text{ at £380} \qquad \dots \qquad \dots \qquad 1,140$	825	
11	5 at £380 (1 month), £355 (11 months) 1,785 3 at £355 1,065	2 000	
	Class VI— $13 \text{ at } £335$	3,990	
17	2 at £335 (2 months), £320 (10 months) 645 2 at £320	5,640	
:	9 at £305 2,745 1 at £305 (11 months), £280 (1 month) 303	9,010	
	1 at £305 (5 months), £280 (7 months) 290	:	
	1 at £305 (2 months), £280 (10 months)	1	
	1 at £205 (1 month), £195 (11 months) 196 1 at £195 (6 months), £185 (6 months) 190		
	3 at £185		
	1 at £185 (6 months), £175 (6 months) 180 1 at £185 (5 months), £175 (7 months) 179		
	1 at £185 (1 month), £175 (11 months) 176 1 at £165 (11 months), £155 (1 month) 164	1	
ļ	1 at £165 (9 months), £95 (3 months) 148	,	

## ${\tt DEPARTMENT\ OF\ AGRICULTURE-} \textbf{\textit{continued}}.$

					**	
Number						
$\mathbf{of}$	Item	VOTE No. 26.—AGRICULTURE—con	tinued.		1938-	-3 <b>9</b> .
Persons.		TOTAL TO. 20. HOLLEGER COM				
$\overline{1938-39}$ .	Ţ,	Subdivision No. I.—Head Office—contin	nued.	: ""		<i>(</i> -
	1	Salaries—continued.			£	£
	1					
		CLERICAL DIVISION—continued.		i		÷
		Class VII—continued.	0.37	Α.		
	1	1 at £165 (7 months), £95 (2 months),		$rac{\mathfrak{L}}{132}$		
		(3 months)		136		
		1 at £165 (2 months), £95 (2 months),		100	; ;	
	1	(8 months)		97		
		1 at £155 (6 months), £115 (6 months)		135	:	
		1 at £115 (8 months), £95 (4 months)	• •	$\frac{108}{107}$		
	:	1 at £115 (7 months), £95 (5 months) 2 at £115 (5 months), £95 (7 months)	• •	207	-	
	i	1 at £115 (2 months), £95 (10 months)		98		
		4 at £115 (1 month), £95 (11 months)		387	!	
		2 at £95		190	-	
	·	1 at £95 (10 months), £80 (2 months)	• •	$\begin{vmatrix} 93 \\ 90 \end{vmatrix}$	1	
		1 at £95 (8 months), £80 (4 months) 1 at £95 (7 months), £80 (5 months)	• •	89		
	ļ	1 at £95 (5 months), £80 (7 months)	• •	86		
	1	2 at £95 (2 months), £80 (10 months)		165		
		1 at £80		80		
	!	1 at £80 (11 months)	• •	73		
		2 at £80 (10 months)	• •	$\begin{bmatrix} 134 \\ 60 \end{bmatrix}$		
52		1 at £80 (9 months)		$\frac{56}{54}$		
02		Tables (o monato)			8,529	
		Cadets' lodging-allowances			276	
		General Division.		:		
		1 at £335		335		
		$1 \text{ at } £265 \dots \dots \dots \dots \dots$		265		
		1 at £205 $\dots$ $\dots$ $\dots$		205	1	
_		1 at £205 (2 months) $\cdots$		34		
5		1 at £195 (6 months)		98	937	
		Non-permanents.			00.	
		1 at £380		380		
		$4 \text{ at } £305 \dots \dots \dots \dots \dots$		1,220		
	i	1 at £275	• •	275 530		
		2 at £265		170		
	1	$2 \text{ at } £250 \dots \dots \dots$		500	İ	
		$5 \text{ at } \pounds 235$		1,175	i	
		$10 \text{ at } £220 \dots \dots \dots \dots$		2,200		
		1 at £208	• •	208 780		
		4 at £195		192		
	İ	1 at £195 (2 months), £185 (10 months)		187		
	ļ	$3 \text{ at } \pounds 165$		495		
	1	1 at £165 (11 months), £125 (1 month)		162	!	
	İ	1 at £145 (9 months), £125 (3 months) 1 at £145 (8 months), £125 (4 months)		$\begin{array}{c} 140 \\ 138 \end{array}$		
	İ	1 at £145 (8 months), £125 (4 months)		137		
		1 at £125 (9 months), £105 (3 months)		120	1	
	:	2 at £125 (7 months), £105 (5 months)		233	!	
		1 at £125 (6 months), £105 (6 months)		115		
		2 at £125 (4 months), £105 (8 months)	• •	$\begin{array}{c} 223 \\ 105 \end{array}$		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		103		
	i .	1 at £105 (10 months), £65 (2 months)		97		
	-	1 at £105 (3 months), £85 (9 months)	• •	90		
	ι	1 at £105 (1 month), £85 (11 months)		87		

#### 

Number of Persons.	Item	VOTE No. 26.—AGRICULTURE—continued.	1938-	39.
38-39.		Subdivision No. I.—Head Office—continued.		
	1	SALARIES—continued.	£	£
		NON-PERMANENTS—continued.		
		£ .		
		1 at £85 (11 months), £65 (1 month)	F	
	1	1 at £85 (7 months), £65 (5 months)		
		1 at £85 (4 months), £65 (8 months)		
		1 at £85 (3 months), £65 (9 months)		
		1 at £85 (1 month), £65 (11 months) 67		
	.	1 at £65 (8 months)	i	
59	į.	1 at £55 (10 months)		
		- management of the contract o	10,596	
173		Officers on loan from other Departments	1,000	
	٠	Allowances for performing special or higher duties under		
	:	Public Service Regulations Nos. 24A and 209	55	
		Estimated credits-in-aid under Section 51 of the Public		
	1	Revenues Act, 1926 (see end of vote)— £		
		Services to other Departments, &c 600		
	İ	I. Y		
	)		44,365	
		OTHER CHARGES FOR AND INCIDENTAL TO		
	2	Advertising, photographs, books, newspapers, and other	000	
	.,	publications	800	
	$\begin{bmatrix} 3 \\ 4 \end{bmatrix}$	Expenses of New Zealand Wool Committee Freight, cartage, and transport charges	75	
	5	Fuel, light, water, furniture, office requisites, insurance,	20	
	, J	cleaning offices, outbuildings, yards, and approaches	3,000	
	6	Laboratory (chemical)	1,500	
	7	Law-costs	10	
	8	Nauru and Ocean Islands audit fee (recoverable)	[	
	9	Post-office charges for collection of fees, &c	30	
	10	Postage, telegrams, and rent of boxes	$3,500 \pm$	
	11	Preparation and distribution of Journal of Agriculture (part		
	1 1 1	recoverable)	6,500	
	12	Preparation and distribution of publications (part recover-	1 100	
	1.9		$\frac{1,100}{3,000}$	
	13	Printing and stationery	6,500	
	$\frac{11}{15}$	Telephone services (including installation, extensions,	0,000	
	1.0	maintenance, rent, and calls)	300 .	
	16		300	
	17	Travelling allowances and expenses	1,500	
	18	Upkeep and improvement of buildings and fences on		
	Ì	Departmental reserves and grounds: Wages and other		
	i	expenses	20	
	-19	Visit of Director-General to Australia, Great Britain, and	OVAN :	
	1 20	Canada: Cost of	800 =	
	$\frac{1}{1}$ 20	Contingencies, including unforeseen expenditure incidental to the Head Office items of the division	50	
		Estimated credits-in-aid under Section 51 of the Public	į	
		Revenues Act, 1926 (see end of vote) — $\mathfrak{L}$		
	1	Journal of Agriculture 3,000		
		Publications, &c 995		
		0.002		
	İ	3,995	İ	
			29,010	
	1			

Number of Persons.	Item	VOTE No SE ACDICHI MIDE	1938-	-39.
1938–39.	-	VOTE No. 26.—AGRICULTURE—continued.	<u> </u>	
		Subdivision No. II.—Live-stock Division.	£	£
	21	Salaries—		
1		Professional Division.	005	
1		1 at £835 (Director)	835	
		Special A—		
<b>2</b>		1 at £765 765 1 at £765 (10 months) 638		
2		1 at £765 (10 months)	1,403	
6		6 at £715	4,290	
		Class I— 9 at £615 5.535		
;		9 at £615 5,535 4 at £590 2,360		
		1 at £590 (3 months) 148		
20	!	6 at £565 $3,390$ Class $II$ —	11 400	
	1	2 at £515 1,030	11,433	
5		3  at  £490 1,470		
1		Class III—	2,500	
1		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	445	
6		6 at £400	2,400	
		Class V	, !	
1	:	1 at £380	380	
		1 at £305 (11 months), £280 (1 month)	l	
$2 \mid$		1 at £280 (1 month), £255 (11 months) 257		
		CLERICAL DIVISION.	560	
!		Class I—		
1		1 at £565	565	
$_2$		Class V— 2 at £380	760	
<u>ا</u> ك		Class VI—	760	
1		1 at £320	320	
		Class VII— 1 at £305		
		1 at £305 305 1 at £210 210		
		1 at £165 (2 months), £155 (8 months), £80		
ļ		(2 months)		
5		1 at £115 (9 months), £95 (3 months) 110 1 at £115 (2 months), £95 (10 months) 98		
Ì			867	
j		Cadet's lodging-allowance	6	
 		GENERAL DIVISION.		
		3 at £540 $1,620$		
	-	1 at £540 (11 months), £490 (1 month)		
		1 at £515 515 6 at £470 2,820		
		1 at £470 (6 months)		
į	į	8 at £450 3,600	:	
		10 at £445		
		1 at £425 (8 months), £400 (4 months)		
		$2 \text{ at } £400 \dots 800$		
		6 at £400 (10 months), £380 (2 months) 2,380		
		42 at £400 (9 months), £380 (3 months) 16,590 2 at £400 (7 months), £335 (5 months)		
	:	1 at £400 (5 months), £380 (7 months)		
		43 at £380		
		1 at £357		

Number of Persons.	Item	VOTE No. 26.—AGRICULTURE—continued.	1938-	-39.
38–39.		Subdivision No. II.—Live-stock Division—continued.	£	£
	21	Salaries—continued.	Ĭ.	t
		GENERAL DIVISION—continued.	i	
		£		
	!	21 at £335 7,035		
		9 at £335 (5 months), £320 (7 months) 2,936		
		1 at £335 (3 months), £320 (9 months)		
	i	$2 \text{ at } £320 \dots 640$		
		1 at £305	Ì	
		1 40 2200	į	
		17 at £280		
		1 at £280 (7 months), £275 (5 months)		
	:	1 at £280 (2 months), £275 (10 months)		
	i	1 at £275 (9 months), £265 (3 months)		
		1 at £275 (8 months), £265 (4 months)		
		2 at £275 (7 months), £265 (5 months)		
		1 at £275 (6 months), £265 (6 months)		
	-	1 at £265 $\dots$ $\dots$ $\dots$ $\dots$ $\dots$ $\dots$ $\dots$ $\dots$ $\dots$ $\dots$		
		1 at £265 (9 months), £255 (3 months)		
		2 at £250		
198		1 at £195 (9 months), £185 (3 months)	73,389	
	,	Non-permanents.		
		1 at £515 $\dots$ $\dots$ $\dots$ $\dots$ 515		
		1 at £334 $\dots$ $334$		
		1 at £305		
		1 000		
		0.16		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		1 at £260 (6 months)		
	!	110 at £255 28,050		
		2 at £250 500		
		1 at £250 (7 months) 146	i 1	
		1 at £195 $\dots$ $\dots$ $\dots$ 195		
		1 at £180 (10 months) 150	i	,
		1 at £155 (9 months) $\cdots$ $\cdots$ $\cdots$ $\cdots$ $\cdots$ $\cdots$ $\cdots$ $\cdots$ $\cdots$ $\cdots$		
	:	1 at £152 (9 months)		
		1 00 0110 (0 1110110110), 00		
		1 at £125 (4 months), £105 (8 months)	:	
		1 at £71 71		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	į	
	,	1 at £65 (8 months)		
	:	1 at £65 (3 months), £55 (9 months) 58		
143	i	1 at £40 40	00.050	
001		All profession annial as higher duties under	33,972	
394	_	Allowances for performing special or higher duties under Public Service Regulations Nos. 24A and 209	120	
		!		
	1	Estimated credits-in-aid under Section 51 of the Public		
		Revenues Act, 1926 (see end of vote)— £		
		Recoveries from local bodies, &c 2,250		
		1	134,245	
		OTHER CHARGES FOR AND INCIDENTAL TO		
		Bicycles and motors—		
	22	Purchase of	2,000	
	23	Maintenance and running-cost of	2,750	
	24	Cost of passages, Veterinary Officers, to New Zealand	500	

${f Number}$				
of Persons.	Item	VOTE No. 26.—AGRICULTURE—continued.	1938-	39.
938–39.		Subdivision No. II.—Live-stock Division—continued.	£	£
		OTHER CHARGES FOR AND INCIDENTAL TO—continued.  Destruction of rabbits—	•	J.
	25	On Crown lands (recoverable)	5,500	
	$\begin{vmatrix} 26 \\ 27 \end{vmatrix}$	On Native lands (recoverable)	$2,250 \\ 25$	
	21	Wages and general working-expenses, poison-mixing depots, purchase of material, &c.—	20	
	28	Trading section (recoverable)	2,500	
	29	Non-trading section (part recoverable)  Diseases of live-stock—	30	
	30	Disposal of condemned stock, costs incidental to	30	
	31	Cattle-dip at Mohakatino (part recoverable)	120	
	32	Control of cattle-tick, and provision for caretakers at	:	
	00	crossing places	600	
	33	Inoculation of calves for "blackleg"	45	
	99	Johne's disease, expenditure including compensation for stock in connection with eradication of	150	
	35	Expenses of officer attending Conference, Australian	100	
		Veterinary Association, Melbourne	20	
	36	Expenses of officer visiting Research Stations when in Australia	48	
	37	Experimental farm, Mamaku: Wages and general working- expenses, buildings, purchase of steek (part recoverable)	2,000	
	38	Facial eczema: Purchase of stock, equipment, buildings,	_,000	
		fencing, general working expenses, &c.	10,290	
	39	Inspection of dairies: Purchase of apparatus	10	
	40	Inspection of meat, including overall allowance and purchase	1 400	
	41	of equipment Investigation: Special into sheep diseases and general,	1,400	
	TL	into deficiency diseases of stock, including purchase of	:	
		material and costs connected with (part recoverable)	2,000	
	42	Law-costs	20	
	43	Pig recording, purchase of apparatus, and expenditure in connection with	100	
	44	Poultry Experimental Station (Wallaceville): Equipment	100	
		and working-expenses (part recoverable)	1,300	
	45	Quarantine-stations, Auckland and Wellington (part re-	i	
	10	coverable)	1,750	
	46	Registration of stock remedies, expenses of	150	
	47	Telephone services (including extensions, maintenance, rent, and calls)	1,500	
	48	and calls)  Transfer and removal expenses	$\frac{1,500}{2,000}$	
	49	Travelling allowances and expenses	17,500	
	50	Veterinary Laboratory: Wages and general working-	,	
	1	expenses and investigation of diseases (part recoverable);	İ	
		also special mastitis expenses for investigational and :	11 000	
	51	research purposes	$11,900 \\ 20$	
	$\frac{51}{52}$	Wool instruction: Purchases for demonstrations	100	
	53	Contingencies, including unforeseen expenditure incidental	100	
	:	to the Live-stock Division items of the division	50	
		Estimated credits-in-aid under Section 51 of the Public		
		Revenues Act, 1926 (see end of vote)— £		
		Destruction of rabbits (trading) 2,250		
		Destruction of rabbits— Department of Lands and Survey 5 500		
		Department of Lands and Survey 5,500 Native Department 2,250		
		Farm areas		
		Investigation, deficiency diseases, &c 3,785		
		Quarantine-stations		
		16,535		
		-	68,658	
	I	Total—Subdivision No. II	00,000	202,

Number of Item Persons.	VOTE No. 26.—AGRICULTURE—continue	d.	1938-	39.
938–39.			0	
	Subdivision No. III.—Horticulture Division		£	£
54	Salaries— Professional Division.			
1	1 at £800 (Director)		800	
1	Class $I$ — 1 at £615 (10 months)		513	
	CLERICAL DIVISION.	!		
	Class IV—			
1	1 at £425 $\dots \dots \dots \dots$		425	
	Class V—	£		
	1 at £380	380		
2	1 at £380 (1 month), £355 (11 months)	357		
	Class VII—		737	
!	1 at £305	305		
į	1 at £305 (1 month), £280 (11 months)	0.30	:	
3	1 at £115 (7 months), £95 (5 months)	106	400	
			693	
İ	GENERAL DIVISION.	į		
	$2  ext{ at £515} \dots \dots \dots \dots \dots \dots$	1,030		
	1 at £515 (1 month), £490 (11 months)	406	i	
1	1 at £490	490		
	6 at £470			
	6 at £425	100		
	1 at £425 (4 months), £400 (8 months)	0.000		
	2 at £385	770		
	8 at £380	0.040		
į	1 at £355 (8 months), £335 (4 months)			
	1 at £335	335		
!	1 at £335 (4 months), £320 (8 months)			
i	3 at £320	$\begin{array}{c c} 960 \\ 610 \\ \end{array}$	į	
	1 at £210	01//	:	
44	1 at £205	005		
: 1			17,393	
i	Non-permanents.			
· 	1 at £490	490	i :	
	1 at £465	105		
	1 at £355 (10 months)	200		
19	16 at £280	4,480	٠	
71			5,731	
• 1	Allowances for performing special or higher dut Public Service Regulations Nos. 24A and 209		39	
	Estimated credits-in-aid under Section 51 of t		:	
ļ	Revenues Act, 1926 (see end of vote)—	£		
	Services to other Departments, &c	2,150		
		-	26,331	
			40,00L	

Number				
of Persons.	Item	VOTE No. 26.—AGRICULTURE—continued.	1938-	-39.
1938-39.		Subdivision No. III.—Horticulture Division—continued.	- 1	
		OTHER CHARGES FOR AND INCIDENTAL TO—	£	£
		Apiary Industry—		
	55	Purchase of beekeeping requisites, material for experi-	20	
	'	ments, &c	30	
	56	Purchase of	600	
	57	Purchase of	900	
	F0.	Fruit Industry—		
	58 59	Abandoned orchards: Wages and expenses cutting-out Collection of fireblight tax (recoverable)	$\begin{array}{c} 75 \\ 10 \end{array}$	
	60	Collection of orchard-tax (recoverable)	50	
	61	Cool-storage and horticultural experiments	200	
	62	Control of Citrus Canker: Wages and expenses of and	•	
		ex gratia payment for young citrus trees destroyed	800	
	$\begin{array}{c} 63 \\ 64 \end{array}$	Control of fireblight disease	25	
	04	Frost-fighting experiments: Expenditure connected with purchase, installation of plant, &c	400	
	65	Funigation and destruction of diseased fruit (recoverable)	75	
	66	Inspection-fees stamps: Cost of printing and sales	•	
		commission	500	
	67	Orchard requisites, &c	50	
	68	Grant towards expenses of Advisory Committee re market gardening	110	
	69	Horticultural Station, Te Kauwhata: Wages and general	110	
		working-expenses, purchase of stock, &c. (recoverable)	6,000	
	70	Law-costs	15	
	71	Telephone services (including installation, extensions,	077	
	72	maintenance, rent, and calls)  Tobacco Industry: Material and apparatus for experiments	$egin{array}{c} 275 & 1 \ 75 \end{array}$	
	73	Transfer and removal expenses	200	
	74	Travelling allowances and expenses (part recoverable)	6,349	
	75	Contingencies, including unforeseen expenditure incidental		
		to the Horticulture Division items of the division	25	
		Estimated credits-in-aid under Section 51 of the Public		
	ı	Revenues Act, 1926 (see end of vote)— £		
		Collection of fireblight tax 10		
		Collection of orchard-tax 50		
		Farm areas 8,000   Fumigation and destruction of fruit 200		
	1	Travelling-expenses 500		
			į	
		8,760	i	
	. !	-	16 764	
		Less amount provided but not required	$\begin{array}{c} 16,764 \\ 360 \end{array}$	
		- In a mount provided but not required		
			16,404	
		Total—Subdivision No. III		42,735
	. 1			
	i		1 1	
		Subdivision No. IV.—Dairy Division.		
	76	Salaries		
	10	Professional Division.		
	:	Special A— £		
		1 at £835 (Director) 835		
2	Ì	$ \begin{array}{cccccccccccccccccccccccccccccccccccc$	1 000	
1		Class I— 1 at £540	1,600 + 540	
1		Class VI	540	
$_2$		2 at £320 (5 months), £280 (7 months)	594	
		· · · · · · · · · · · · · · · · · · ·		

Number of	Item							1938-	ഉവ
Persons.	1.00111	VOTE N	). 26.—AGRI	CULTUF	REconta	inued		1990-	อช.
938-39.	]	Subdivision .	No. IV.—Dai	ry Divisio	oncont	inuec	l	0	
	76	Salaries—continu	ied.					£	
			CLERICAL 1	Division.				:	
		Class IV—					£		
0	1	1 at £425	• •		• •		425		
2		1 at £400	• •	• •	• •		400 :	00*	
4		$Class\ VI \ 4\ { m at}\ \pounds 335$						$\begin{array}{c c} 825 &   \\ 1,340 &   \end{array}$	
•		Class VII—	• •	• •	• •	• •	• •	1,540	
		1 at £305					305		
			nonths), £280	(9 month	s)		286		
		1 at £280			• •		280		
		1 at £205 (5 1	months), £195	(7 month	s)		199		
			nonths), £175 months), £1			115	179		
	1	(6 months)	montus), xi	•• (• шс	тыня), э.	110	143		
7	ļ		months), £95		)		113		
		,	,,	,	,			$1,505^{-1}$	
			GENERAL I	Division.				!	
	:	4 at £715	11 ) 0005 (0				2,860		
		1 at £715 (6 mo	nths), £665 (6				690	i	
	.	6 at £615 14 at £590	• •	• •	• •	• •	$\frac{3,690}{8,260}$		
		10 at £565					$8,260 \\ 5,650$	!	
		9 at £540					4,860		
		1 at £490 (7 mo					286		
		2 at £425	• •				850		
		5 at £370	• •	• •		٠.	1,850	į	
62		$5 \text{ at } £335 \dots 5 \text{ at } £295 \dots$	• •	• •	• •	• •	1,675	:	
02		5 at £295	• •	• •	• •	• •	1,475	32,146	
		Allowances for	office <b>r</b> s in Lor	ıdon				750	
	:		Non-perm	ANENTS.					
		$1 \text{ at } £715 \dots$	• •				715	1	
		6 at £355	• •				2,130		
		29 at £335 2 at £335 (9 mc	 +ha\ £290 (2		• •	• •	9,715	1	
		1 at £335 (8 mc				• •	$\begin{array}{c} 663 \\ 330 \end{array}$		
		36 at £320 (10 a		: montais)	• •	• •	9,600		
		1 at £280 (8 mc		months)			272	I	
		$21 \text{ at } £255 \dots$					5,355		
		1 at £255 (9 mo	nths), £230 (3	months)			249		
		3 at £250		• •			750		
	İ	$1  ext{ at } £235  ext{}$ $19  ext{ at } £230  ext{}$	• ,	• •			$235\pm4.370$		
		2 at £230 (7 mo	nths)				$\frac{+.570}{269}$		
		3 at £220	• •				660	į	
	, 1	$1 \text{ at } £195 \dots$					195		
		1 at £185					185		
		1 at £145 (6 mo	nths), £125 (6	months)			135		
131		$\begin{array}{ccc} 1 \text{ at } \pounds 142 & \dots \\ 1 \text{ at } \pounds 104 & \dots \end{array}$	• •	• •	• •	• •	$\frac{142}{104}$		
	.		••	• •	•			36,074	
211		Allowances for Public Service	performing s e Regulations	pecial or Nos. 24A	higher d and 209	luties 	under	120	
			credits-in-aid				Public		
		Reven	ues Act, 1926	(see end o	of vote)-	_	£	i	
		$\operatorname{Recoveri}$	es from dairy-	factory co	mpanies,	&а.	18,100		
							-		
	1							75,494	

#### ${\tt DEPARTMENT\ OF\ AGRICULTURE-} continued.$

Number of Persons.	Item	VOTE No. 26.—AGRICULTURE—continued.	1938-	-39.
1938-39.		Subdivision No. IV.—Dairy Division—continued.	£	£
			~	~
		OTHER CHARGES FOR AND INCIDENTAL TO—Bicycles and motors—		
	77	Purchase of	1,000	
	78	Maintenance and running-cost of	3,500	
	79	Certificate-of-record testing and official herd-testing of dairy cows (recoverable)	150	
	80	Cost of passage and expenses to and from London, In-	190	
		spectors of Dairy-produce	165	
	81	Dairy-factory Managers Registration Board, expenses of	150	
	82	Dairy requisites and produce for experiments (part recoverable)	100	
	83	Dairy Laboratory: Equipment, &c	350	
	84	Grading of dairy-produce: Material and apparatus, rent,		
		office requisites, stationery, postage, telephones, &c.	2 252	
	85	(recoverable) Grant from North Island Experimental Dairy School	2,350	
	1 (0) 1	Endowment Fund to Massey Agricultural College for	!	
	į i	benefit of Dairy Research Institute (recoverable)	530	
	86	Grant in settlement of claim arising out of motor-car	0.5	
	87	collision	$\begin{vmatrix} 95 \\ 25 \end{vmatrix}$	
	88	Law-costs	20 :	
		tenance, rent, and calls)	700	
	89	Transfer and removal expenses	150	
	90 :	Transfer to London: Grant to Dairy Inspector in lieu of furniture removal	100	
	91	Travelling allowances and expenses (part recoverable)	17,500	
	92	Travelling-allowance, &c., special Committee for licensing	,5	
		factories	50	
	93	Contingencies, including unforeseen expenditure incidental to the Dairy Division items of the division	20	
		Estimated credits-in-aid under Section 51 of the Public		
		Revenues Act, 1926 (see end of vote)—		
		Certificate-of-record testing and official herd-		
		testing	1	
		Dairy-produce grading 30,000 North Island Dairy School Endowment 530		
		Telephone services 25		
		Travelling-expenses 11,000	:	
		45,605		
			26,935	
		Less amount provided but not required	500	
		•		
		Total—Subdivision No. IV	26,435	101,929
		1 out - Sabatostote 110. 17	;	101,320
		Subdivision No. V.—Fields Division.		
	:		i	
	94	SALARIES—	!	
		Professional Division.  Special A—	ļ	
1		1 at £800 (Director)	800	
		, i		
	1	Special B—	0.000	
4	•	4 at £715	2,860	

## ${\tt DEPARTMENT} \ \ {\tt OF} \ \ {\tt AGRICULTURE--} continued.$

	Ţ T	ĺ			
Number of Persons.	Item	VOTE No. 26.—AGRICULTURE—continued.	1938–39.		
1938-39.	<del></del>	Subdivision No. V.—Fields Division—continued.			
	94	Salaries—continued.	£	£	
		Professional Division—continued.			
		Class I—			
2		2 at £615 £	1,230		
8		2 at £515 1,030 6 at £490 2,940			
		Class III—	3,970		
		$5 \text{ at } £470 \qquad \dots \qquad 2,350$			
6	:	1 at £445 445			
		Class IV—	2,795		
1		1 at £425	425		
	1	Class V—			
	4	3 at £380 1,140			
6		$3 \text{ at } £355 \qquad \dots \qquad \dots \qquad 1,065$	2,205		
		Class VI—	μ, 200		
		3 at £335 1,005			
9		5 at £320			
9		1 at £320 (9 months), £305 (3 months) 316	2,921		
	İ	Class VII—	,		
		6 at £280 1,680			
22		13 at £255 3,315 3 at £255 (10 months) 638			
22		3 at £255 (10 months) 638	5,633		
		Clerical Division.			
1		1 at £565	565		
•					
0		Class V—	1 140		
3		3 at £380	1,140		
		Class VI—			
		2 at £335 670			
3		1 at £320 (10 months), £305 (2 months) 318	988		
	i	Class VII—			
		2 at £305 610			
		1 at £305 (11 months), £280 (1 month) 303 1 at £175 (4 months), £165 (3 months), £95			
	Ca assess	(5 months) 139			
		1 at £165 (10 months), £155 (2 months) 163			
		1 at £115 (9 months), £95 (3 months) 110			
		1 at £115 (5 months), £95 (7 months) 103 1 at £115 (1 month), £95 (11 months)			
9		1 at £95 (1 month), £80 (11 months) 81			
		Cadets' lodging-allowances	$\frac{1,606}{68}$		
		Caacob longing with minors			
		GENERAL DIVISION.			
		1 at £540 540			
		1 at £515 515			
		1 at £485 485			

Number of Persons.	Item	VOTE No. 26.—AGRICULTURE—continued.	1938-	39.
938-39.		Subdivision No. V.—Fields Division—continued.	£	£
	94	Salaries—continued.	£	ı.
		General Division—continued.		
		£		
		1 at £470 470		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	į	
		1 at £425 (7 months), £400 (5 months)	İ	
		2 at £415 830		
		$3 \text{ at } £380 \dots \dots 1,140$	:	
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		$\frac{1}{4}$ at £335 1,340		
		1 at £335 (6 months), £320 (6 months)		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		3 at £295		
25		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
			9,286	
		Non-permanents.		
		1 at £550		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		5 at £260 1,300		
		1 at £235 235		
		$1 \text{ at } £195 \dots 195$		
		1 at £195 (4 months), £185 (8 months)		
		4 at £165 660	i	
		1 at £145 145		
		1 at £145 (2 months), £125 (10 months) 128		
		1 at £145 (5 months), £125 (7 months)		
	1	2 at £105		
		1 at £105 (1 month), £85 (11 months)		
		1 at £85 85		
		1 at £85 (6 months), £65 (6 months)		
		1 at £85 (3 months), £65 (6 months), £55 (3 months) 2 at £85 (2 months), £65 (10 months)		
		2 at £65 (8 months), £55 (4 months)		
	1	1 at £65 (5 months), £55 (7 months) 59		
34		1 at £65 (4 months), £55 (8 months) 58	F 700	
134		Allowances for performing special or higher duties under	5,792	
	-	Public Service Regulations Nos. 24A and 209	258	
Total			i	
Number		Estimated credits-in-aid under Section 51 of the Public		
of Persons.		Revenues Act, 1926 (see end of vote)— £ Services to other Departments, &c 850		
983		pervices to other Departments, &c		
	-		42,542	
		OTHER CHARGES FOR AND INCIDENTAL TO—		
	OF.	Agricultural investigations and research—	100	
	95	Barley-grading, expenses connected with Department of Scientific and Industrial Research:	100	
	"	Phormium research	200	
	97	Field crops (including contract—growing, seed certifi-		
	00	cation, &c.), (recoverable)	1,500	
	98     99	Field experiments	$\frac{1,300}{50}$	
	100	Land-utilization expenses	50	
	101	Seed-testing (recoverable)	1,250	

Number of Persons.	Item	VOTE No. 26.—AGRICULTURE—continued.	1938-	-39.
938–39.		Subdivision No. V.—Fields Division—continued.		<u></u>
		OTHER CHARGES FOR AND INCIDENTAL TO-continued.	£	£
	i	Bicycles and motors—		
	102	Purchase of	2,000	
	103	Maintenance and running-cost of	2,250	
	101	Experimental and instructional farms and areas—		
	104	Flock House working-expenses and river protection (part		
		recoverable), and interest on outstanding purchase- money, and miscellaneous expenses	13,700	
	105	money, and miscellaneous expenses	350	
	106	Ruakura working-expenses (part recoverable), electrical	300	
		installation adjustments, also cost of importing pigs		
		from overseas	14,510	
	107	South Island experimental area (on account)	50	
	108	Extension of instructional work in connection with rural	1 500	
	109	industries	$\begin{array}{c c} 1,500 \\ 25 \end{array}$	
	110	New Zealand hemp industry: Grading (recoverable) Preparation and printing of handbook, "New Zealand Farm	40	
		Practice " (on account)	50	
	111	Telephone services (including installation, extensions,		
		maintenance, rent, and calls)	600	
	112	Transfer and removal expenses	200	
	113	Transport and travelling-expenses of officer visiting Aus-		
	.	tralia to investigate seed certification methods and attend a seed merchants convention at Sydney	60	
	114	Travelling allowances and expenses	7,500	
	115	Young Farmers' Clubs	500	
	116	Contingencies (including unforeseen expenditure incidental	İ	
		to the Fields Division items of the division)	20	
		Estimated credits-in-aid under Section 51 of the Public		
		Revenues Act, 1926 (see end of vote)— £ Farm areas		
		Field crops 3,600 Grading hemp 600		
	!	Seed-testing 1,950		
		Travelling-expenses, &c 175		
•	: 1	${25,235}$		
	i	1,100	AM M/12	
		Less amount provided but not required	$\frac{47,765}{320}$	
		Less amount provided but not required		
			47,445	
		Total—Subdivision No. V		89,98'
		C. I. P		
		Subdivision No. VI.—Payments under Statutes.		
		CHARGES FOR AND INCIDENTAL TO—	į	
	117	Expenditure, including compensation for stock condemned	10.000	
	118	under Stock Act, 1908 (part recoverable) Expenditure, including compensation under Slaughtering	18,000	
	110	and Inspection Act, 1908, and Amendment Act, 1910	30,000	
i	119	Grant to New Zealand School of Agriculture	27,000	
	120	Rabbit Nuisance Act, 1908, Section 70: Subsidies to		
		Rabbit Boards	30,000	
		Remounts Encouragement Act, 1914, Section 2: Subsidies to owners of stallions	4,000	
	121	to owners of stallions	.1 (3) (6)	
	121	to omitted of stations	1,000	
	121		1,000	
	121	Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)—	1,000	
	121	Estimated credits-in-aid under Section 51 of the Public	1,000	

$egin{array}{c} { m Number} \\ { m of} \\ { m Persons.} \end{array}$	Item	VOTE No. 26.—AGRICULTURE—continued.	1938–39.	
1938-39.	1	Subdivision No. VII.—Miscellaneous Services: Advances, Grants, Guarantees, Subsidies, &c.	£	£
	40	Charges for and incidental to		
	122	Assistance to pig industry	8,200	
	123	Blackberry, bonus for extermination of (£10,000), on account	5	
	124	Bursaries and fares from and to New Zealand Veterinary	1 250	
İ	125	Students at Sydney and United Kingdom  Bursaries for course in Valuation and Farm Management	1,350	
	120	at Canterbury Agricultural College, Lincoln	1,900	
	126	Departmental exhibits at shows	2,000	
	127	Executive Commission of Agriculture: Salaries, travelling,		
	128	and other expenses of the Commission Expenditure in connection with anthrax area taken over	6,500	
ļ	140	by Crown (including replacement of stock)	50	
	129	Expenses investigating diamond-back moth (on account)	100	
		Fruit Industry—		
	130	Assistance to growers, local market (recoverable)	80,000	
	131	Expenses of Advisory Committee re citrus-fruit marketing	96	
	132	Fruit-export guarantee	30,000	
	133	Grants— Chelsea Flower Show, England	25	•
	134	Dargaville Demonstration Farm	300	
	135	Institute of Horticulture	100	
:	136	International Beef Conference	120	
	137	International Fertilizer Congress	20	
	138	International Institute of Refrigeration	25	
	$\frac{139}{140}$	International Seed-testing Association	20	
•	140	tion at	150	
	141	Katere experimental area	50	
	$142 \pm$	Manaia Experimental Farm	100	
	143	National Veterinary Medical Association of Great Britain	į	
		and Ireland: Cost of representation at annual con-	15	
1	144	ference  Noxious weeds, eradication of (partly recoverable)	$\frac{15}{75,000}$	
	145	Purchase of fencing-materials, freight, storage, lifting	13,000	
		posts, &c., flooded area, Hawke's Bay (part recoverable)	10,000	
	146	Purchase of grass-seed, freight, storage, blending, &c.,	,	
		re-grassing flooded areas, Hawke's Bay (part recoverable)	8,500	
	147	Royal Agricultural Society	250	
	$\begin{array}{c c} 148 \\ 149 \end{array}$	Stratford Demonstration Farm Widows or dependants equivalent to leave due to officers	200	
	149	(deceased)	25	
	150	Winton Experimental Farm	100	
	151	World's Dairy Congress	20	
	152	Loss of cash through burglary at Ruakura Farm	45	
	153	Officers injured in course of duty: Medical and hospital	70	
1	154	expenses of Onion marketing: Expenses of Advisory Committee and	50	
	101	general costs relative to onion purchases	200	
	155	Railways—	190,000	
	155 156	Carriage of lime for bona fide farmers Portion of freight rates on fertilizers	$130,000 \\ 200,000$	
	157	Portion of freight rates on fertilizers	60,000	
	158	Railage on starving stock and fodder, South Otago and		
	150	Southland Districts	1,000	
	159	Representatives of National Farmers' Union of Great Britain, cost of visit of	33	
		Britain, cost of visit of Subsidies—		
	160	Cow-testing organizations: Payment to Dairy Board	2,500	
	161	Destruction of kea	350	
	162	Sodium chlorate and "Atlacide"	14,000	
:	163	Veterinary Clubs: £1 for £1 on collection by clubs	100	

Number of Persons.	Item	VOTE	l No. oe	ACDI	OTT MI	TDE and	·····	1938	3–39.
1938–39.		VOIE	1 NO. 20	.—AGRI	CULI	JRE—cont	muea.		1
		Subdivision Grants				s Services : &c.—cont		£	£
	164	Died s	and in uddenly	cidental whilst	expens away	es of offic from head	cer deceased. lquarters on Palmerston	15	
		Em A	levenues ploymen .ssistance		o (see e ion Fur wers	nd of vote) nd— 85	£ £ ,000 ,000		
		Lan Nat	ds Depa	y flooded rtment : rtment : eting	Noxiou	ıs weeds			
	-		Tot	al—Subd	ivision	No. VII	160,250		633,514
		G	ross To	TAL				• •	1,253,443
		C	REDITS-I	N-AID (a)				••	287,330
		N	ET TO	ΓAL—V€	TE N	o. 26			966,113
	(a) C	redits-in-aid—				Salaries.	Other Charges.	1938–39. £	. 1993
	S	Subdivision I				600	3,995	4,595	
		,, II				2,250	16,535	18,785	
		,, III				2,150	8,760	10,910	
		,, IV				18,100	45,605	63,705	
		,, V			• •	850	25,235	$\frac{26,085}{2000}$	
		,, VI ,, VII				• •	$3,000 \\ 160,250$	$3,000 \\ 160,250$	
		Totals				23,950	263,380	${287,330}$	

Vote No. 27.—Industries and Commerce, Tourist and Publicity—	Total. £ 261,760 240,136 501,896 48,988 452,908
Vote No. 27.—Industries and Commerce, Tourist and Publicity—       £       £         Subdivision I.—Industries and Commerce	£ 261,760 240,136 501,896 48,988 452,908
Publicity	261,760 240,136 501,896 48,988 452,908
#Salaries—  GROSS TOTAL  GROSS TOTAL  GROSS TOTAL  79,058  422,838  47,650  1,338  47,650  NET TOTAL  77,720  375,188  VOTE No. 27.—INDUSTRIES AND COMMERCE, TOURIST AND PUBLICITY.  Subdivision No. 1.—Industries and Commerce.  £  1 *Salaries—	240,136 501,896 48,988 452,908
CROSS TOTAL   79,058   422,838     CREDITS-IN-AID   1,338   47,650     NET TOTAL   77,720   375,188     Number of Persons.   Item Persons.   VOTE No. 27.—INDUSTRIES AND COMMERCE, TOURIST AND PUBLICITY.     938-39.   Subdivision No. I.—Industries and Commerce.   £	501,896 48,988 452,908
CREDITS-IN-AID	48,988 452,908
CREDITS-IN-AID	48,988 452,908
NET TOTAL	452,908
Number of Persons.  VOTE No. 27.—INDUSTRIES AND COMMERCE, TOURIST AND PUBLICITY.  Subdivision No. 1.—Industries and Commerce.  \$\frac{1}{2}\$*Salaries—	
of Persons. Item VOTE No. 27.—INDUSTRIES AND COMMERCE, TOURIST AND PUBLICITY.  938-39. Subdivision No. I.—Industries and Commerce.	L 20
Subdivision No. I.—Industries and Commerce. £  1 *Salaries—	—υσ. 
	£
Administrative Division.	
1 at £525 (Secretary), (also Tourist and Publicity, £525), (also allowance as Deputy Chairman, Wheat Committee, £200), (recoverable) 725	
Professional Division.	i
Class Special B— 1 at £715 715	
Class I—	
$\begin{array}{c ccccccccccccccccccccccccccccccccccc$	
4 at £515 2,060 1 at £515 (11 months)	
8 3 at £490 \ $\frac{1,470}{4,002}$	
CLERICAL DIVISION.	
Class II—	· ·
1 1 at £515 (7 months), £490 (5 months) 505 Class $IV$	ı
3 at £425 1,275	:
$\begin{array}{c ccccccccccccccccccccccccccccccccccc$	
$Class\ VI-$ 2 at £335 670	
1 at £335 ( $8\frac{1}{2}$ months), £305 ( $3\frac{1}{2}$ months) 326	
$\begin{array}{cccccccccccccccccccccccccccccccccccc$	!
£118 $\frac{1}{2}$ (10 $\frac{1}{4}$ months) ) 240 1,738	

<sup>\*</sup> For particulars of salaries see "Public Service Classification List."

# 

	and the second s					
Number			1938-			
	of rsons. Item VOTE No. 27.—INDUSTRIES AND COMMERCE,					
	TOURIST AND PUBLICITY—continued.					
38-39.	Subdivision No. I.—Industries and Commerce—continued	1	6	e		
	Baoardiston No. 1.—Inwastries and Commerce—Continued	L.	£	£		
1	Salaries—continued.					
		1				
	CLERICAL DIVISION—continued.  Class VII—	C.				
		£ 915				
		586				
		191				
1 .		$\frac{226 \frac{1}{2}}{201}$	!			
		$\frac{201}{1861}$				
		$307\frac{1}{2}$				
:	1 at £195 (2 months), £185 (4 months), £155	-				
		$171\frac{1}{2}$				
ļ	1 -4 (155 /1	$\frac{182}{117}$				
:		106 <u>‡</u> :				
		105				
· i	1 at £115 (1 month), £95 (11 months)	$96\frac{1}{2}$				
20 -	1 at £95 ( $9\frac{3}{4}$ months), £80 ( $2\frac{1}{4}$ months)	92				
20	1 at £95 ( $1\frac{1}{4}$ months), £80 ( $10\frac{3}{4}$ months)	81	$_{3,665}$			
1			3,000			
	Trade Representatives.					
	1 at £510 (also Tourist and Publicity, £255)	510				
	1 at £510 (6 months); (also Tourist and Publicity,	010				
: 		255				
	1 at £393 $\frac{1}{2}$ (10 months), £196 $\frac{1}{2}$ (2 months); (also					
!	Tourist and Publicity, £393 $\frac{1}{2}$ (2 months), £196 $\frac{1}{2}$ (10 months))	360 <u>‡</u>				
	the contract of the contract o	$382\frac{1}{2}$				
	1 at £100 (also Tourist and Publicity, £370)	100				
6	1 at £50 (also Tourist and Publicity, £50)	50	1 050			
!	Unclassified (Non-permanents).		1,658			
	· · · · · · · · · · · · · · · · · · ·	750				
		335				
		312				
		235 585				
		180	!			
	1 at £185 ( $5\frac{5}{4}$ months), £165 ( $6\frac{1}{4}$ months)	$174\frac{1}{2}$				
		343				
		$\frac{166}{153\frac{1}{2}}$				
		$148\frac{1}{2}$	:			
1	1 at £145 (8 months), £125 (2 months)	138	i			
. 1	1 at £145 (2 months), £125 (10 months) $\dots$	128	!			
		$118\frac{1}{2}$				
	1 at £125 (9 months)	$\frac{94}{91\frac{1}{2}}$	-			
4	1 at £105 (4 months)	$92^{+}$	1			
	1 at £85 (2 months), £65 (10 months)	68				
	1 at £62 $\frac{1}{2}$ (9 $\frac{1}{2}$ months), £52 $\frac{1}{2}$ (2 $\frac{1}{2}$ months); (also	!				
I	Tourist and Publicity, £62 $\frac{1}{2}$ (9 $\frac{1}{2}$ months), £52 $\frac{1}{2}$	601				
23	$(2\frac{1}{2} \text{ months})$	$60\frac{1}{2}$	ı			
	Tourist and Publicity, £42 $\frac{1}{2}$ (2 $\frac{1}{2}$ months), £32 $\frac{1}{2}$	1				
	$(9\frac{1}{2} \text{ months})$	35				
	(02 1100110))	1	4,208			

## ${\it Appropriations \ for \ Consolidated \ Fund \ Services}.$

Number of Persons.		VOTE No. 27.—INDUSTRIES AND COMMERCE, TOURIST AND PUBLICITY—continued.	1938–39.		
<del>1938–39</del> .		Subdivision No. I.—Industries and Commerce—continued.	£	£	
	1	Salaries—continued.			
		Salaries of Officers on loan from other Departments—	!		
		CLERICAL DIVISION.	;		
1		1 at £490 (5 months)	204		
		GENERAL DIVISION.			
1		1 at £105 (also Tourist and Publicity, £105)	105		
76	-: -:	Allowances to officers temporarily performing special or higher duties (Public Service Regulations 24A and 209) Cadets' lodging-allowances	419 60		
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of votc)—  Wheat Committee 500 Internal Marketing Department			
			21,495		
	2	OTHER CHARGES FOR AND INCIDENTAL TO— Advertising New-Zealand-made goods	3,000		
	4	Advertising, photographs, books, newspapers, and other publications	700		
	5 6	matters, &c	1,800 50		
	7	(also Tourist and Publicity, £217) Establishment of office of Trade and Tourist Commissioner for New Zealand in Canada—	218		
		Allowance for rent (also Tourist and Publicity, £11)			
		Publicity, £223) 446  Special allowance (also Tourist and Publicity, £24) 48  Telephones, lighting, heating, cleaning, postage, stationery, &c. (also Tourist and Publicity,			
		£110)			
	8	Establishment of office of Trade and Tourist Commissioner for New Zealand in Europe— Allowance for rent (also Tourist and Publicity, £ £67)	1,906		
	8	Travelling-expenses (also Tourist and Publicity, £200)	1,906		

	1			
Number of Item		1938–39.		
938-39.	VOTE No. 27.—INDUSTRIES AND COMMERCE. TOURIST AND PUBLICITY—continued.			
	Subdivision No. I.—Industries and Commerce—continued.	£	£	
8	OTHER CHARGES FOR AND INCIDENTAL TO—continued.  Establishment of office of Trade and Tourist Commissioner for New Zealand in Europe—continued.			
	Special allowance (also Tourist and Publicity, £ £145)			
	Telephones, lighting, heating, cleaning, stationery, postage, &c. (also Tourist and Publicity, £90)			
	Travelling-expenses (also Tourist and Publicity, £140)			
	Wages of staff (also Tourist and Publicity, £140) 280	1,427		
9	Exhibitions: Expenses in connection with—Glasgow (part recoverable)	10,000		
10 l	New Zealand Centennial (on account)	5,000		
11	New York	10,000		
12		2,500		
13	San Francisco	İ		
	development	5,000		
14	Freight, cartage, and transport charges	10		
15	Fuel, light, and heating power	150		
16	Gas Regulations: Expenses of administration (recoverable)	3,500		
17	Grant for development of wheat industry	180,000		
18	Grant: Imperial Economic Committee Industrial exhibitions	$\frac{1,760}{50}$		
20	Iron and Steel Industry: Cost of report on production of			
	steel from Taranaki ironsands, &c	158		
$\begin{bmatrix} 21 \\ 22 \end{bmatrix}$	Law-costs	200		
23	inquiries into issue of licenses, &c	$\begin{array}{c c} 150 \\ 45 \end{array}$		
$\begin{bmatrix} 23 \\ 24 \end{bmatrix}$	Office-cleaning	400		
$\begin{bmatrix} 25 \\ 25 \end{bmatrix}$	Overtime and meal allowances	150		
$\frac{26}{26}$	Petrol Industry: Expenses in connection with adminis-	100		
	tration, licensing plan, &c	500		
27	Pharmacy Industrial Plan: Administration of, fees, travelling expenses of members of committee: office	:		
	expenses, &c.	4,000	÷	
28	Postage, telegrams, and rent of boxes, &c	1,000		
$\begin{bmatrix} 29 \\ 30 \end{bmatrix}$	Printing and stationery Railway passes issued to H.M. Trade Commissioners, Canadian and other Government Trade Commissioners,	1,000		
	and representatives; Consuls and representatives of other countries	150		
31	Rent of offices—	-		
	Auckland			
	Christehurch	Ļ		
	Dunedin	}		
	Sydney and Melbourne (also Tourist and Publicity, £1,796) 599	0.000		
32	Telephone services (including installation, extensions,	2,396		
33	maintenance, rent, and calls) Transfer and removal expenses of officers	100		
34	Transfer and removal expenses of officers  Travelling allowances and expenses	1,200		
35	Travelling allowances and expenses of staff in Australia	1,200		
3	(also Tourist and Publicity, £400)	130		
36	Travelling-allowances: Visit of officer to Australia	20		

Number of Persons.	Item	VOTE No. 27.—INDUSTRIES AND COMMERCE, TOURIST AND PUBLICITY—continued.	1938	<b>–</b> 39.
1938-39.	<u> </u>	Subdivision No. I.—Industries and Commerce—continued.	£	£
	37 38 39	OTHER CHARGES FOR AND INCIDENTAL TO—continued.  Travelling allowances and expenses: Visit of officer United Kingdom in connection with establishment iron and steel industry  Typewriters, purchase and maintenance of  Contingencies, including unforeseen expenditure incident to the other items of the vote	of   800   70	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)— £ Gas Regulations 4,00 Glasgow Exhibition	00	
		6,00	00	
		${\it Total} ext{}{\it Subdivision}No.I$	240,265	261,760
		Subdivision No. II.—Tourist and Publicity.		
	40	Salaries—		
	100	Administrative Division.		
1		1 at £525 (General Manager), (also Industries and Commerc £525), (also allowance as Deputy Chairman, Wheat Committee, £200) (recoverable)		
		CLERICAL DIVISION.		
1		$Class\ Special\ C \ 1\ { m at}\ { m \pounds}665 \ \ldots \ \ldots \ \ldots$	665	
	i j		5	
3	! !	1 at £515 51 2 at £490 98		
		Class III— — $2$ at £470 99	$\frac{-}{10}$ 1,495	
	!	1 at £470 ( $1\frac{1}{2}$ months), (also Tourist Representa-		
			59 90	
6		1 at £370 (also Industries and Commerce, £100)	70	
		2 at £425 88	$\frac{-}{50}$ 2,259	
3		C13	$\frac{19}{-}$   1,269	
٥		1 at £380	30	
2		Class VI—	70   750	
	: :		35 29½ 28	
14			$19\frac{1}{2}$ 4,462	
		7 at £305	35 03	
		1 at £205 ( $9\frac{1}{2}$ months), £185 ( $2\frac{1}{2}$ months)	01 00½ 98½	
			$96\frac{1}{2}$	
			36 <u>1</u>	

# $\begin{array}{c} \textbf{DEPARTMENT OF INDUSTRIES AND COMMERCE, TOURIST, AND} \\ \textbf{PUBLICITY}--continued. \end{array}$

	i 1				
Number of Persons.	Item	VOTE No. 27.—INDUSTRIES AND COMMERCE TOURIST AND PUBLICITY—continued.	,	1938–2	39.
1938–39.		Subdivision No. II.—Tourist and Publicity—continue	a	£	£
	40	· ·	···	2	<b>₩</b>
	40	Salaries—continued.	:		
	ļ	CLERICAL DIVISION—continued.			
		Class VII—continued.  1 at £200 (5\frac{3}{4}\text{ months}), £185 (1 \text{ months})  1 at £195 (11 \text{ months}), £185 (1 \text{ months})  1 at £195 (9\frac{1}{2}\text{ months}), £185 (2\frac{1}{2}\text{ months})  1 at £195 (8\frac{1}{2}\text{ months}), £185 (3\frac{1}{2}\text{ months})  1 at £190 (10 \text{ months}), £185 (2 \text{ months})  1 at £185 (10\frac{1}{4}\text{ months}), £175 (1\frac{3}{4}\text{ months})  1 at £185 (5\frac{1}{4}\text{ months}), £175 (6\frac{3}{4}\text{ months})  2 at £185 (4\frac{1}{4}\text{ months}), £175 (7\frac{3}{4}\text{ months})  1 at £185 (2\frac{1}{4}\text{ months}), £175 (9\frac{3}{4}\text{ months})  1 at £185 (2\frac{1}{4}\text{ months}), £175 (9\frac{3}{4}\text{ months})  1 at £185 (1\frac{1}{2}\text{ months}), £180 (5\frac{1}{2}\text{ months}), £155 (5\text{ months})  1 at £185 (5\text{ months}), £155 (9\text{ months}), £115 (\frac{1}{2}\text{ months}), £115 (\frac{1}{2}\text{ months}), £115 (3\text{ months}), £115 (3\text{ months}), £115 (4\text{ months}), £115 (4\text{ months}), £115 (4\text{ months}), £115 (6\frac{1}{2}\text{ months})  1 at £185 (5\frac{1}{2}\text{ months}), £155 (6\frac{1}{2}\text{ months})  2 at £155 (1\frac{1}{4}\text{ months}), £155 (6\frac{1}{2}\text{ months})  2 at £115 (1\frac{1}{4}\text{ months}), £155 (6\frac{1}{2}\text{ months})  1 at £115 (3\frac{1}{2}\text{ months}), £95 (\frac{1}{2}\text{ months})  1 at £115 (3\frac{1}{2}\text{ months}), £95 (8\frac{1}{2}\text{ months})  1 at £115 (1\frac{1}{4}\text{ months}), £95 (9\frac{1}{4}\text{ months})  2 at £115 (1\text{ months}), £95 (9\frac{1}{4}\text{ months})  1 at £95 (10\frac{1}{2}\text{ months}), £85 (1\frac{1}{2}\text{ months})  1 at £95 (6\frac{1}{2}\text{ months}), £85 (3\frac{1}{2}\text{ months})  1 at £95 (6\frac{1}{2}\text{ months}), £85 (3\frac{1}{2}\text{ months})  1 at £95 (5\frac{1}{2}\text{ months}), £85 (5\frac{1}{2}\text{ months})  1 at £95 (5\frac{1}{2}\text{ months}), £85 (9\frac{1}{2}\text{ months})  1 at £95 (2\frac{1}{2}\text{ months}), £85 (9\frac{1}{2}\text{ months})	$\begin{array}{c} \pounds \\ 197\frac{1}{2} \\ 194 \\ 193 \\ 192 \\ 189\frac{1}{2} \\ 183\frac{1}{2} \\ 179\frac{1}{2} \\ 355 \\ 177 \\ 176\frac{1}{2} \\ 170 \\ 159\frac{1}{2} \\ 157 \\ 173 \\ 25\frac{1}{2} \\ 160\frac{1}{2} \\ 232 \\ 115 \\ 204 \\ 100\frac{1}{2} \\ 99 \\ 194 \\ 193 \\ 95 \\ 91 \\ 90\frac{1}{2} \\ 88 \\ 173 \\ 86 \\ 83 \\ 82\frac{1}{2} \\ 88 \\ 173 \\ 86 \\ 83 \\ 82\frac{1}{2} \\ 82 \\ 182 \\ 184 \\ 185 \\ 186 \\ 83 \\ 82\frac{1}{2} \\ 84 \\ 186 \\ 83 \\ 82\frac{1}{2} \\ 84 \\ 186 \\ 83 \\ 82\frac{1}{2} \\ 84 \\ 186 \\ 84 \\ 85 \\ 85 \\ 85 \\ 85 \\ 85 \\ 85 \\ 85$		
		1 at £95 ( $1\frac{3}{4}$ months), £85 ( $10\frac{1}{4}$ months), (approx.) 2 at £95 ( $1\frac{1}{4}$ months), £85 ( $10\frac{3}{4}$ months), (approx.) 1 at £95 ( $\frac{1}{2}$ month), £85 ( $11\frac{1}{2}$ months), (approx.)	$\begin{bmatrix} 82 \\ 163 \\ 801 \end{bmatrix}$	ļ	
58		1 at £80	$\begin{array}{c} 80\\ 76\frac{1}{2} \end{array}$	0.000	
		Trade and Tourist Representatives.		8,890	
		1 at £470 (10 $\frac{1}{2}$ months), (also Clerical Division, £470 (1 $\frac{1}{2}$ months))	411	; ; ;	
		(10 months))  1 at £382½ (also Industries and Commerce, £382½)  1 at £255 (also Industries and Commerce, £510)  1 at £255 (6 months), (also Industries and Commerce, £510 (6 months))	$ \begin{array}{c c} 230 \\ 382\frac{1}{2} \\ 255 \\ 127\frac{1}{2} \end{array} $		
6		1 at £50	50	1,456	

NT L					
Number of	Item	FLORED DE ON TOTOTOMOTETUS LOUIS SOCIETATION CON		1938-8	39.
Persons.	100	VOTE No. 27.—INDUSTRIES AND COMMERCE,	,	1000 6	
1000 90	<u> </u>	TOURIST AND PUBLICITY continued.	"	1	
1938–39.	i	Subdivision No. II.—Tourist and Publicity—continued	1 ;	£	£
	:	Subarrision No. 11.—10urisi and 1 univery— continued	l.	X.	L
	40	Salaries—continued.	i	i	
		SAMMANIA COMMON.	ł		
	:	GENERAL DIVISION.	£		
		1 at £470	470	1	
		$1 \text{ at } £360 \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots$	360		
		1 at £350	350		
		1 at £345	345		
		2 at £335	670		
		1 at £330	330		
		1 at £310	$\frac{310}{600}$	i	
		2 at £300	885	i i	
	1	$3 \text{ at } £285 \dots \dots \dots \dots \dots \dots$	855		
			,375	i	
		1 at £270	270		
	1	3 at £260	780	!	
		1 at £260 (9 months)	195		
	.		,000	İ	
		1 at £245 $\dots$ $\dots$ $\dots$ $\dots$	245		
		1 at £240	240	1	
		1 at £240 (9 months)	180		
		1 at £220	220	i	
		1 at £205	$\begin{vmatrix} 205 \\ 195 \end{vmatrix}$		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	185		
		1 at £180	180		
	. i	1 at £165	165	1	
40		1 at £100	100		
				10,710	
	. !	Unclassified (Non-permanents).		ļ	
		1 at £335	$\frac{335}{1}$	i	
	i İ	1 at £312	312		
		1 at £308	308	!	
		7 at £305	$egin{array}{c c} ,135 &   & \ 285 &   & \end{array}$		
		1 at £280	280	İ	
		1 at £273	273		
		2 at £270	540	•	
			,820		
		1 at £260 (7 months), £250 (5 months)	255	i	
	1	1 at £260 (3 months), £250 (9 months) $\dots$	252		
	i	1 at £260 ( $10\frac{1}{2}$ months)	228		
	. !	11 at £250 2.	,750	i	
		2 at £250 (3 months), £240 (9 months)	485 :		
		2 at £250 (1 month), £240 (11 months)	482		
		1 at £250 (11 months)	$\frac{229}{240}$		
		1 at £240 2 at £240 (11 months), £230 (1 month)	478		
	1	1 at £235 (10 months)	196		
		1 at £235 (3 months), £225 (9 months)	228		
		3 at £234	702		
		2 at £230	460		
		1 at £230 (9 months)	172		
		1 at £225	225		
	i		,980		
		4 at £220 (5 months)	367		
		1 at £220 ( $6\frac{3}{4}$ months), £210 ( $5\frac{1}{4}$ months)	216		
		1 at £220 ( $6\frac{1}{4}$ months), £209 $\frac{3}{4}$ ( $5\frac{3}{4}$ months)	$\frac{216}{218}$		
	i	$\begin{array}{cccccccccccccccccccccccccccccccccccc$	$\frac{218}{109}$	•	
	] {	$1 \text{ at } £210\frac{1}{2} \text{ (6 months)}$	$\frac{103}{210}$	1	
	. '	a consistency of the same same same same same same same sam	<b></b> 10	1	

lumber			
of Item Persons.	VOTE No. 27.—INDUSTRIES AND COMMERCE, TOURIST AND PUBLICITY—continued.	1938-	-39.
38-39.	Subdivision No. II.—Tourist and Publicity—continued.	£	£
40	Salaries—continued.	2	<u>ب</u>
40			
	Unclassified (Non-permanents)— $continued.$		
	$1 \text{ at } £209\frac{3}{4} \dots \dots \dots \dots \dots \dots$		
į	$1 \text{ at } \pm 209 \frac{1}{2} \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots$		
	1 at £205 (4 months) 69		
	1 at £200 200 1 at £195 195		
;	1 at £195		
	1 at £195 (6 months) 98		
	2 at £185		
1	1 at £185 ( $7\frac{1}{4}$ months), £165 ( $4\frac{3}{4}$ months) 177 1 at £182 182		
		1	
	$ \begin{array}{cccccccccccccccccccccccccccccccccccc$	ĺ	
İ	$1 \text{ at } £113\frac{1}{2} \dots 1 \text{ at } £165 \text{ (5}\frac{3}{4} \text{ months)}, £145 \text{ (6}\frac{1}{4} \text{ months)} \dots 155$		
	1 at £156 156   1 at £155 155		
!	1 at £155 (10 months), £145 (2 months)		
	1 at £155 (9 months) 116		
	1 at £145 (1 month), £125 (11 months) 126		
	1 at £143 ( $6\frac{1}{2}$ months), £130 ( $5\frac{1}{2}$ months) 137		
	1 at £140		
	1 at £130 130		
	1 at £130 ( $6\frac{3}{4}$ months), £120 ( $5\frac{1}{4}$ months) 126		
i	1 at £130 ( $4\frac{7}{2}$ months), £120 ( $7\frac{7}{2}$ months) 123		
	1 at £125 (9 months), £115 (3 months)		
	1 at £125 ( $4\frac{1}{4}$ months), £105 ( $7\frac{3}{4}$ months) 113		
	1 at £125 ( $3\frac{1}{2}$ months), £105 ( $8\frac{1}{2}$ months) 111		
	1 at £125 (6 months) 62		
	1 at £121		
	1 at £121 (11 months), £104 (1 month)		
	1 at £121 (1 month)		
	3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3		
	1 at £120 (9 months), £110 (3 months)		
	1 at £120 (7 $\frac{1}{4}$ months), £110 (5 $\frac{1}{4}$ months)		
i	1 at £117 (6 $\frac{1}{2}$ months), £104 (5 $\frac{1}{2}$ months)		
	1 at £115 (6 months), £105 (6 months)		
:	1 at £105 ( $4\frac{3}{4}$ months), £85 ( $7\frac{1}{4}$ months) 93		
	1 at £105 (4 months), £85 (8 months) 91		
	1 at £105 ( $3\frac{1}{2}$ months), £85 ( $8\frac{1}{2}$ months) 91		
	1 at £105 ( $\frac{3}{4}$ month), £85 ( $11\frac{1}{4}$ months) 86	ļ	
	1 at £104 104	j	
	1 at £104 (11 months) 95		
	2 at £101 $\frac{1}{2}$ (5 $\frac{1}{2}$ months), £85 $\frac{1}{2}$ (6 $\frac{1}{2}$ months) 186	į	
	1 at £100 100	İ	
	1 at £95 (5 months), £85 (7 months) 89		
	1 at £91 91	İ	
1	1 at £91 ( $6\frac{1}{2}$ months), £78 ( $5\frac{1}{2}$ months) 85	ì	
	1 at £75 (4 months)		
	1 at £85 (10 months) 71		
	1 at £78 ( $1\frac{3}{4}$ months), £65 ( $10\frac{1}{4}$ months) 68		
	$1 \text{ at } £72\frac{1}{2} \dots \dots \dots \dots \dots \dots$	:	
	2 at £71 $\frac{1}{2}$ (9 months), £52 (3 months)		
	1 at £65 ( $7\frac{1}{2}$ months), £52 ( $4\frac{1}{2}$ months) 60 1 at £62 $\frac{1}{2}$ ( $9\frac{1}{2}$ months), £52 $\frac{1}{2}$ ( $2\frac{1}{2}$ months), (also		
	I at £02 $\frac{1}{2}$ (9 $\frac{1}{2}$ months), £52 $\frac{1}{2}$ (2 $\frac{1}{2}$ months), (also Industries and Commerce, £62 $\frac{1}{2}$ (9 $\frac{1}{2}$ months),	! 	
:	findustries and Commerce, $\mathfrak{to}_{22}$ ( $\mathfrak{s}_{2}$ months), $\mathfrak{to}_{22}$ ( $\mathfrak{s}_{2}$ months) 60		
1	$1 \text{ at £52} (4 \text{ months}) \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots$		

Number of Persons.	Item	VOTE No. 27.—INDUSTRIES AND COMMERCE,	1938–39.		
938-39.	1	TOURIST AND PUBLICITY—continued.			
. 300-07.		Subdivision No. II.—Tourist and Publicity—continued.	£	£	
	40	Salaries—continued.			
	i	Unclassified (Non-permanents)—continued. $\pounds$			
		2 at £50			
136		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	94 004		
		Salaries of Officers on Loan from other Departments	24,094		
		General Division.			
1		1 at £105 (also Industries and Commerce, £105)	105		
	:	Unclassified (Non-permanents).			
1			105		
1	!	1 at £185 (1 month), £165 (11 months)	167		
272		higher duties (Public Service Regulations 24A and 209)	492		
		Cadets' lodging-allowances	204		
		tourists	20		
		Revenues Act, 1926 (see end of vote)—— Amounts deducted from salaries of employees for board			
			57,563		
	41 42	Advertising, photographs, books, newspapers, and other publications (within New Zealand)	4,000		
	43	Audit fees	25		
	44	Bonuses and commissions to Honorary Agents	125		
	45	Compassionate allowance to the widow of the late			

NT			
Number of Persons. Item	VOTE No. 27.—INDUSTRIES AND COMMERCE, TOURIST AND PUBLICITY—continued.	1938–3	39.
938-39.	TOOTHOT THE TOPHICITI COMMINGU.		
	Subdivision No. II.—Tourist and Publicity—continued.	£	£
	OTHER CHARGES FOR AND INCIDENTAL TO—continued.		
46	Compensation payable on account of injuries sustained while performing official duties	76	
47	Establishment of office of Trade and Tourist Commissioner		
	for New Zealand in Australia: Representation allowance (also Industries and Commerce, £218)	217	
48	Establishment of office of Trade and Tourist Commissioner for New Zealand in Canada—	211 ;	
	Allowance for rent (also Industries and Com-		
	merce, £22) 11	, , , , , , , , , , , , , , , , , , ,	
	Rent of office (also Industries and Commerce, £230)	:	
	Representation allowance (also Industries and		
	Commerce, £446) 223 Special allowance (also Industries and Com-		
; 	merce, £48) 24	:	
	Telephones, lighting, heating, cleaning, stationery, postage, &c. (also Industries and Com-		
	merce, £220) 110		
	Transfer expenses (also Industries and Com-		
	merce, £240)	!	
:	merce, £400) 200		
	Wages of staff (also Industries and Commerce, £300)		
		953	
. 49	Establishment of office of Trade and Tourist Commissioner for New Zealand in Europe—		
	Allowance for rent (also Industries and Com-	-	
	Rent of office (also Industries and Commerce,	1	
	$\pounds 64$ ) $32$	1	
	Representation allowance (also Industries and	-	
	Commerce, £200) 100 Special allowance (also Industries and Com-		
	merce, £290) 145		
	Telephones, lighting, heating, cleaning, stationery, postage, &c. (also Industries and Com-		
	merce, £180) 90 Travelling-expenses (also Industries and Com-	į	
<u> </u>	140		
	Wages of staff (also Industries and Commerce,		
	$\pounds 280)$ $140$	714	
50	Establishment of office of Departmental Representative	1.11	
	for New Zealand in Western America £ Rent of office 309	į	
	Representation allowance 290		
	Telephones, lighting, heating, cleaning, station-		
	ery, postage, &c		
İ	Travelling-expenses 375		
	Wages of staff 500	2,174	
51	Freight, cartage, and transport charges	100	
52 53	Fuel, light, power, and water	550	
1 90	Milford Track: Maintenance, including furniture and		
1 51	repairs, and compensation to workmen, &c	10,000	
54	Government ticket orders, to establish a credit for payment of (recoverable)	100	
55	Lake Te Anau: Compensation for accident to passenger on	:	
i	steamer " Tawera "	150	

	<u> </u>			
Number of	Item		1938-	.39
Persons.		VOTE No. 27.—INDUSTRIES AND COMMERCE, TOURIST AND PUBLICITY—continued.	1000	00.
1938-39.				
		Subdivision No. II.—Tourist and Publicity—continued.	£	£
		OTHER CHARGES FOR AND INCIDENTAL TO—continued.		
	56	Lakes Te Anau and Manapouri: Maintenance of steamers		
	57	and jetties, including repairs, wages, purchase of stores, etc.  Law-costs	$\frac{1,700}{60}$	
	58	Maintenance of hostels, baths, or reserves at Little Barrier	00	
		Island, Waiotapu, Te Puia, Tokaanu, Morere, Tarawera, Pukaki, and Te Anau Tourist Tracks, and reserves vested		
	59	in Department	700	
	60	Minor agencies in New Zealand: Grants and expenses in	600	
		connection therewith	130	
	61	Motor-vehicles, purchase of	1,000	
	62	Office-cleaning	450	
	63	Office fittings and requisites	500	
	64	Overtime and meal allowances	$\frac{1,200}{2,000}$	
	$\left \begin{array}{c}65\\ec\end{array}\right $	Postage, telegrams, and rent of boxes (part recoverable)	3,000	
	$\left[ egin{array}{c} 66 \ 67 \end{array}  ight]$	Printing and stationery	3,000	
	01	&c	150	
	68	Rents of offices (part recoverable)	5,790	
		Rotorua Baths—		
	69	Ex gratia payment on account of accident to bather	56	
	70	Grants to Natives for right to take supply of mineral		
	7,	water from Lake Roto-a-Tamaheke	100	
	$\left  \begin{array}{c} 71 \\ 72 \end{array} \right $	Repairs and renovations to Main Bath Building	2,900	
	12	Wages, repairs, baths and treatments for visiting doctors, staff, &c., sundry expenses, and compensation to	!	
		workmen	2,500	
	73	Rotorua electric system: Expenses in connection with	2,000	
		the change-over from 110 volts to 230 volts system	1,600	
	74	Rotorua: Grant to Rotorua Borough Council for providing		
		music at Blue Baths	100 -	
		Rotorua Sanatorium—		
	75	Maintenance, including furniture, supplies, repairs, and	E 000	
	76	compensation to workmen  Medical stores, drugs, and instruments	$\frac{5,000}{200}$	
	10	Rotorua works (including Whakarewarewa)—	200	
		Wages, repairs, sundry expenses, and compensation to	I	
		workmen	10.000	
	77	Electric light and power system	$\frac{10,200}{1,700}$	
	$\begin{bmatrix} 78 \\ 70 \end{bmatrix}$	Reserves, gardens, parks, &c	1,700	
	79   80	Water-supply and sewerage Wharves and beacons	$\begin{array}{c} 500 \ 25 \end{array}$	
	81	Rotorua: Purchase of stores (including freight), (part	<i>∆</i> ∪	
		recoverable)	9,000	
		Subsidies	0,000	
		Coach, motor, and steamer services—	i	
	82	Bluff – Stewart Island Steamer Service	200	
	83	Fairlie-Pukaki-Hermitage-Queenstown	585	
	84	Pipiriki–Retaruke River Service	285	
	85	Te Anau Hotel: Furnishings, repairs, &c	800	
	86	Te Aroha Hot Springs: Maintenance of baths, gardens,	950	
	07	music, furniture, and repairs	770	
	87	Telephone services (including installation, extensions, maintenance rent and calls) (rout recoverable)	9.400	
		tenance, rent, and calls), (part recoverable) Tongariro National Park—	2,400	
	88	Chateau Tongariro: Expenses in connection with engage-	1	
	00	ment of ski instructor from overseas	300	
	89	Chateau Tongariro: New electrical equipment, &c.,	500	
	""	purchase of	1,900	
	,			

Number of Persons.	Item	vote no. 27.—Industries and commerce, Tourist and publicity—continued.				1938–39.		
938-39.		Subdivision	No. II.—Tou	rist and	Publicity—	continued.	£	£
	90	Chateau, repairs recover	Vational Park- huts, &c., ma , and comper able)	continue intenance isation to 	d. of (includ workmen	ing furniture, , &c.), (part	29,500	
	91		nce and impro				100	
	92 93	Transfer an Transfer a	d removal exp nd removal	enses expenses	of staff t	o and from	100	
	94		and to the U Illowances and				$\begin{array}{ c c c c c c c c c c c c c c c c c c c$	
	95	Travelling a	llowances and d Kingdom (al	expenses so Indust	of staff in ries and Cor	nmerce, £130)	400	
	96		expenses: Retative in Londs—			Departmental 	70	
	97 98	Purchase Waikaremo	of, repairs, & ana : Mainter	nance of			80	
	99 :	Waimangu sundry e	to workmen, Round-trips a xpenses	and Hoste		repairs, and	6,500	
	100	furniture	Caves and I and repairs, a Grant to Wa	nd compe	nsation to v	vorkmen, &c.)	10,100	
	102	towards Contingenci	cost of erections es (including ther items of	m of pier unforesee	and dress n expenditu	ing-shed	10 50	
		Chat Gove Phot Post Refu on Rent Store W	ertising in Unicau Tongariro ernment Fire I os, pictures, fi ages and toll conds of amound behalf of others recoverable es used on weather the condense of the	: Receip nsurance lms, &c. alls nt paid o er Depart  ork charg	ts Fund n ticket or ments	100		
						41,000	182,573	
			Total—Su	bdivision	No. 11	••		$\frac{240,136}{}$
			ROSS TOTAL EDITS-IN-AID (	···	••		• •	501,896 <b>48,988</b>
			ET TOTAL	,	o. 27		· ·	452,908
(a)	) Cred	its-in-aid—			Salaries.	Other Charges.	1938–39. £	
	S	abdivision I " II			$1,015 \\ 323$	6,000 $41,650$	7,015 41,973	
		Totals			1,338		48,988	

## DEPARTMENT OF SCIENTIFIC AND INDUSTRIAL RESEARCH.

						1938–39.		
					Salaries.	Other Charges.	Total.	
Vote No. 28	.—Scientific and Ind	ustrial Resea	reh-		£	£	£	
Subdivis	ion I.—Head Office	e .		!	7,031	4,680	11,711	
,,	II.—Research I				58,937	79,865	138,802	
,,	III Dominion			:	15,026	6,245	21,271	
,,	IVDominion				2,161	1,120	3,281	
,,	V.— $Geological$			:	5,784	4,566	10,350	
,,	VIMeteorologi	ical Office			9,777	9,200	18,977	
,,	VII.—Apia Obser	rvatory	• •		2,141	2,270	4,411	
,,	VIII.—Magnetic (	Observatory		!	2,181	840	3,021	
Gro	oss Total				103,038	108,786	211,824	
Cre	DITS-IN-AID				6,739	48,070	54,809	
NE'	T TOTAL				96,299	60,716	157,015	
		<del></del>	i tuurt					
Number						ļ.		
of Iter	m NOME N	o ooteam	TINIO AND	` T <b>N</b> TT	STIMBUSTAT	19:	38–3 <b>9.</b>	
Persons.	VOTE No. 28			) 1N1	OUSTRIAL	1 +0		
1000 00 1		RESE	ARCH.					
193839.	Sacha	livision No.	I Haad	Office		£	£	
	$\beta u u u$	eversion ivo.	1.—11 eaa	Оунсе.	•	1	£	
1	*SALARIES-							
1		Administrat	TVE DIVIS	ION.			ı	
	j							
1	1 at £1,250					1,25	0	
		T.	ъ.					
	01 0 1	Profession.	al Divisi	ON.				
,	Class Special—					. 45	()	
1	1 at £470 (co	narioution to	owards sal	ary)	• •	£ 47		
•	Class I— 1 at £615					615		
2	1 at £590 (11	months) f5	 65 (1 mor	 +b)		588		
4	Class IV—	. 1100110118), 20	oo (± mon		• •	1,20	8	
1	1  at  £400					40		
ł	Class V—	• •		• •	• •			
1	1 at £380 (8	months), £35	5 (4 mont	hs)		37	2	
		O	7.5			i		
i	(3) 777	CLERICAL	Division			İ		
,	Class IV—					1 40	e !	
1 !	1 at £425	• •	• •	• •	• •	\ 42	Ð !	
9	Class VI—					1 00	Б. I	
$ \frac{3}{1}$	3  at  £335 $Class VII$	• •	• •	• •	• •	$\cdots \mid 1,00$	· ·	
		month), £185	111 mont	ha)		186		
1	1 at £180		· · ·	ши)		180		
		months), £95		s)		103		
4 :	1 at £95 (10					92		
T.	1 40 200 (10)	попопол, 200	/ w 111011011	17]	••	56	1	
		GENERAL.	Division	_				
1 .	1 at £225			•		22	5	
	j s see dan de de de de de de de de de de de de de	• •	• •	• •	• •	42		

 $<sup>\</sup>sp*$  For particulars of salaries see " Public Service Classification List,"

Number of Persons.	Item	VOTE No. 28.—SCIENTIFIC AND INDUSTRIAL RESEARCH—continued.	1938-	39.
1938-39.		Subdivision No. I.—Head Office—continued.	£	£
	1			~
	1.	Salaries—continued.		
		Non-permanents. £  1 at £165		
		1 at £105 (5 months), £95 (7 months) 99		
3	!	1 at £105 105	369 j	
18		Cadets' lodging-allowances	41	
	!   i	Allowance to officers while absent from New Zealand Proportion of salaries, High Commissioner's Office	360 350	
			7,031	
	2	OTHER CHARGES FOR AND INCIDENTAL TO—Advertising, photographs, books, newspapers, and other		
		publications	150	
	$\begin{vmatrix} 3 \\ 4 \end{vmatrix}$	Advisory Council: Allowances and travelling-expenses Fuel, light, and water	600 100	
	5	Grant towards expenses of Australian and New Zealand		
	1	Association for the Advancement of Science Congress held in Auckland in January, 1937	160	
	6	Grant to Imperial Institute	250	
	7	Grants— Towards expenses of New Zealand representatives		
		attending meeting of Australian and New Zealand	(1.5"	
	8:	Association for the Advancement of Science  Towards expenses of visit of Scientific Liaison Officer,	65	
	i	London to New Zealand	300	
	9	Towards general expenses of Royal Society of New Zealand (see Section 7, Finance Act, 1925, and Royal		
		Society of New Zealand Act, 1933)	750	
	$\frac{10}{11}$ .	New Zealand Journal of Science and Technology Office accommodation and expenses	$\frac{925}{50}$	
	12	Office fittings and requisites (including typewriters, &c.)	60	
	$\frac{13}{14}$	Postage, telegrams, and rent of boxes	$rac{175 \pm }{440}$	
!	15	Research Scholarships	250	
	16	Telephone services (including installation, extensions, maintenance, rent, and calls)	100 ;	
	17	Travelling allowances and expenses	300	
	18	Contingencies, including unforeseen expenditure incidental to the other items of this subdivision	5 +	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)—		
		Miscellaneous 100		
	į	;	4,680	
	i	Total—Subdivision No. I	1,000	11,711
		Subdivision No. 11.—Research Investigations.	!	
		Animal Research—	!	
	19	Salaries-~		
		Non-permanents.		
2		1 at £615 (6 months)	I	
		1 at ±490 (9 months)	į	
		676	-	

Number of Persons.	Item	VOTE No. 28SCIENTIFIC AND INDUSTRI	AL	1938-	39
38-39.		RESEARCH—continued.		e	
		Subdivision No. II.—Research Investigations—contin	iuea.	£	
		Animal Research—continued.		!	
	20	OTHER CHARGES FOR AND INCIDENTAL TO— Apparatus and equipment: Wool research	£ 100	i	
	21	Contribution towards cost of passage of officer from England	80		
	22	Expenses of officer proceeding from United Kingdom to New Zealand on appointment	200		
	23	Facial eczema: Purchase of mill for preparation			
	24	of pasture samples for chemical examination	$\frac{250}{1,560}$		
	25	General expenses	74		
	$\begin{vmatrix} 26 \\ 27 \end{vmatrix}$	Grants Travelling-expenses (main committee, sub-com-	$^{2,050}$	!	
		mittee, and secretary)	235		
		Plant Chemistry—	4,549	5,225	
				3,223	
	28	Salary— Professional Division.			
		Class I—		1	
1		1 at £650	650		
	29	OTHER CHARGES FOR AND INCIDENTAL TO— Chemical investigations, grants, &c (Recoverable, £200)	500	1,150	
		Citrus Research—	!		
	30	SALARY—		į	
		Non-permanent.			
1		1 at £355 (6 months), £335 (6 months)	345	 	
	31	OTHER CHARGES FOR AND INCIDENTAL TO Investigation into curing, &c	55		
	91	Investigation into curing, &c		400	
		Dairy Research—			
	32	SALARIES—			
		Professional Division. $Class\ I$	İ		
1		1 at £540 (on half-pay for 5 months)	428		
		CLERICAL DIVISION.			
1		Class VI— 1 at £335 (9 months), £320 (3 months) Class VII—	332		
		1 at £165 (6 months), £155 (4 months), £80			
$_2$		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	$\begin{bmatrix} 147 \\ 95 \end{bmatrix}$		
2					
1		GENERAL DIVISION.  1 at £615 (9 months)	461		
		Non-permanents.	Ì		
		1: at: £900	900	ļ	
		1 at £850	850 755		
		3 at £540	1,620		
	!	1 at £385 (9 months)	288	2	

Number of Persons.	Item	VOTE No. 28.—SCIENTIFIC AND INDUSTRIAL RESEARCH—continued.	1938-	-39.
1938–39.		Subdivision No. II.—Research Investigations—continued.	£	£
	:	·		
		Dairy Research—continued.		
	32	Salaries—continued.		
		Non-permanents—continued. £		
		1 at £380 380		
		2 at £355 710		
		2 at £335 (4 months), £320 (8 months)	:	
		1 at £320 (5 months), £305 (7 months)		
		1 at £295 (5 months), £275 (7 months)		
		2 at £296		
		1 at £275 (5 months), £250 (7 months)		
	i	1 at £230 (5 months), £210 (7 months)	i	
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		1 + 6100	İ	
		1 at £182		
	! !	1 at £125 (4 months), £105 (8 months)	1	
24		1 at £85 (3 months), £65 (9 months)		
	!	Arrears, January-March, 1938 59		
			!	
	1	10,256	i	
	!	Additional assistance 890	!	
	ì	Cadets' lodging-allowances 6	1	
			!	
		11,152		
		0 0		
		OTHER CHARGES FOR AND INCIDENTAL TO-		
	$\frac{33}{34}$	Equipment, apparatus, chemicals, &c 1,545		
	$\frac{34}{35}$	Grants	i	
	36	The state of the s		
	37	Travelling-expenses	1	
	38	Contingencies		
	i	(Recoverable, £11,150.)		
	i !	6,980		
	!	Flax—	18,132	
	39	Flax selection, breeding, cultivation, chemical,		
		and mechanical investigation 2,500		
	40	Grants 500		
	i	(Recoverable, £2,350.) $\overline{}$	3,000	
		i de la companya de la companya de		
	41	Food investigations Constrained 14	E00	
	41	Food investigations (including storage and transport)	500	
		Fruit—		
		± 1 0000		
	42	Salaries—		
		Professional Division.		
	: ;	Class III—		
1		1 at £445 (5 months), £425 (7 months) 434		
		Class V—		
1		1 at £380 (9 months), £355 (3 months) 373		
ا ر		Class VI—	1	
1		1 at £335 335		
		Comment Description	1	
		GENERAL DIVISION.		
		1 at £320 (8 months), £305 (4 months)		
2		1 at £280 (7 months), £260 (5 months)		
<u>د</u>	• ]	2 40 4200 (1 monumo), 4200 (0 monumo)	- 1	

Number of Persons.	Item	VOTE No. 28.—SCIENTIFIC AND INDUSTRI RESEARCH—continued.	AL	1938-	39.
938–39.		Subdivision No. II.—Research Investigations—contin	nued.	£	£
		$\mathit{Fruit}$ —continued.	!	:	
	42	Salaries—continued.		•	
		Non-permanents.	£ 283	ļ	
	1	1 at £300 (4 months), £275 (8 months)	$\frac{203}{257}$	;	
3		1 at £150	150	,	
		OTHER CHARGES FOR AND INCIDENTAL TO	2,419		
	43	Maintenance of orchard and buildings for research	2,900		
	44	Miscellaneous expenses and grants	700		
		(Recoverable, £2,550.)	3,600		
		Geophysical Survey	5,000	6,019	
	4.5	a		İ	
	45	Salaries— Professional Division.		!	
		Class II—			
1		1 at £515	515		
		Non-permanents.	ļ	ļ	
	!	1 at £275 (7 months), £250 (5 months)	$263^{\pm}$		
2		1 at £250 (6 months), £230 (6 months)	240		
			1 (11)		
		OTHER CHARGES FOR AND INCIDENTAL TO-	1,018	1	
	46	Equipment and running-expenses	7,332		
	47	Grant towards expenses of officer proceeding to	!		
		United States of America to purchase special equipment	450		
		equipment $($ Recoverable, £6,050. $)$		:	
	40	· · · · · · · · · · · · · · · · · · ·	7,782		
	48	Imperial Agricultural Research Bureaux—		8,800	
		CHARGES FOR AND INCIDENTAL TO-			
		Contribution towards participation in the Imporial Agricultural Research Bureaus galaxya			
	:	perial Agricultural Research Bureaux scheme, and Imperial Agricultural Research Bureaux	£		
		(Headquarters)	1,438	!	
		Inter-Imperial Research—	9.000		
		Cambridge Low Temperature Research Station Dairy Science	$\frac{2,000}{113}$		
		Farnham House	750		
		Forestry	187		
		Torridon	300		
		$egin{array}{lllll}  ext{Mycology} & \dots & \dots & \dots & $	350   450		
		Arrears of contributions	1,531		
		(Recoverable, £1,000.)		7,119	
		Mineral Content of Pastures—	:		
	49	Salary—	ļ		
	49	Professional Division.			
ļ		Class VI—			
1		Lat £355 (4 months), £335 (8 months)	342		
		Non-permanent.	i		
1		1 at £175	175		
			517		
		OTHER CHARGES BOD AND INCOLNESSED TO		1	
	50	OTHER CHARGES FOR AND INCIDENTAL TO—Grants	500		

### ${\bf DEPARTMENT~OF~SCIENTIFIC~AND~INDUSTRIAL~RESEARCH-} continued.$

				and the state of t
Number	Item		1938-	_9 <b>0</b>
$\begin{array}{c}  ext{of} \\  ext{Persons.} \end{array}$	rtem	VOTE No. 28.—SCIENTIFIC AND INDUSTRIAL	1000-	-00.
<del>1938–39.</del>	<u> </u>	RESEARCH—continued.		
1990-99.		Subdivision No. II.—Research Investigations—continued.	£	£
		Plant Research—		
	51	Salaries—		
		PROFESSIONAL DIVISION.		
		Class Special A—		
		1 at £765 765		
3		Class Special B— $2$ at £715 1,430		
_		Class I—		
9		1 at £615 615   578   578		
2		1 at £590 (6 months), £565 (6 months) 578 Class II—		
4		4 at £515 2,060		
		Class III—		
		1 at £470 470 3 at £470 (9 months), £445 (3 months) 1,392		
		3 at £470 (9 months), £445 (3 months) 1,392 1 at £470 (6 months), £445 (6 months) 458		
6		1 at £445 445	į	
		Class IV—		
$_2$		1 at £400 400 1 at £400 (7 months), £380 (5 months) 392		
2		Class VI—		
		1 at £335		
2		1 at £320 (1 month), £305 (11 months) 306		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
3		2 at £280 (9 months) 420		
		CLERICAL DIVISION.		
		CLERICAL DIVISION. Class Special A—		
1		$1 \text{ at } £765 \qquad \dots \qquad \dots \qquad \dots \qquad 765$		
		Class VI—		
2		1 at £335 335 1 at £320 (8 months), £305 (4 months) 315		
4		Class VII—		
	:	2 at £305 610		
		1 at £305 (1 month), £280 (11 months)		
6		1 at £175 (1 month)		
ű				
		GENERAL DIVISION.		
		1 at £305 (6 months), £280 (6 months) 293	!	
		1 at £220 (9 months), £210 (3 months)		
3		1 at £215 $\dots$ $\dots$ $\dots$ 215		
		Non-permanents.	į	
		1 at £715 715		
		1 at £380 $\dots$ $\dots$ $\dots$ 380 $\dots$ $\dots$ 380		
		1 at £315	!	
		1 at £305 (5 months), £280 (7 months)		
		1 at £280 (4 months), £260 (8 months)		
		3 at £280 (4 months), £255 (8 months)	!	
		1 at £305 (7 months), £280 (5 months)		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		$2 \text{ at } £255 \dots \dots \dots \dots \dots \dots \dots $		
		1 at £255 (10 months)		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
	1	1 at £230 (4 months), £210 (8 months)	j	

of I	Item	VOTE No. 28.—SCIENTIFIC AND INDUSTRI RESEARCH—continued.	AL	1938-	39.
38–39.		Subdivision No. II.—Research Investigations—contin	nued.	£	£
	51	Plant Research—continued.			
		Salaries—continued.			
		Non-permanents—continued.	Ì		
		1 at £220 (9 months), £210 (3 months)	218		
Ì			840		
Ì		4 at £210	188		
		1 at £190 (9 months), £170 (3 months)	185		
		1 at £175	175		
		1 at £175 (6 months), £115 (6 months)	145		
į		1 at £165 (9 months), £155 (3 months)	163	:	
		3 at £165	495	į	
		1 at £125 (3 months), £105 (9 months)	110 + 106 + 106		
ĺ		1 at £115 (9 months), £80 (3 months)	$\frac{100}{105} \pm$	:	
		1 at £104	104		
		1 at £95 (4 months), £80 (8 months)	85		
		1 at £91 (6 months), £78 (6 months)	85		
		1 at £65 (9 months), £52 (3 months)	62		
		1 at £65 (9 months)	49	:	
40		1 at £55	55		
		Allowance to officer performing special duties		!	
		under Public Service Regulation 24A	235		
		Cadet's lodging-allowance	$\begin{array}{c} 33 \\ 164 \end{array}$	:	
		Arrears, April, 1937, to March, 1938	104	į	
			22,370		
1		OTHER CHARGES FOR AND INCIDENTAL TO-			
	52	Advertising, books, and publications	840	:	
	53	Committee meetings	100		
	54	Chemicals, apparatus, equipment, and implements	3,577	İ	
	55	Contribution towards expenses of officer proceeding	400		
	50	abroad	400		
	56	Contribution towards expenses of officer proceeding to Australia	100	1	
	57	Expenses of transfer of Botany Division office to	100		
	91	new premises	110		
İ	58	Expenses opening new Grasslands Buildings,		,	
	_	Palmerston North	20	İ	
	59	Experimental areas, operating-expenses, cultiva-			
		tion, general maintenance, also fencing, roading,	1		
		drainage, access, erection of insectaries and			
į		glasshouses, and other improvements	5,300	i	
	60	Freight and cartage	530		
	61	Fuel, light, and water	500		
	$\frac{62}{63}$	Grants	3,575		
	OO	Linen-flax contracts, purchase of seed and other charges	750		
	64	Charges	700	:	
	65	Ragwort investigation	200		
	66	Rent of lands and buildings	530		
	67	Postage, telegrams, and telephones	450		
-	68	Printing and stationery	300		
			2,500		
	69	Travelling allowances and expenses	4,500	!	
	69 70	Contingencies	5	!	
				!	

Number of Persons.	Item	VOTE No. 28.—SCIENTIFIC AND INDUSTRIA RESEARCH—continued.	\L	1938-	39.
1938-39.		Subdivision No. II.—Research Investigations—contin	ued.	£	£
		Radio Research	:		
	71	Salaries—	:		
1		Non-permanents.  1 at £350  Part time assistance	$\begin{array}{c} £\\350\\\underline{290}\\ -\underline{\end{array}  $		
	72	Other Charges for and incidental to— Purchase of equipment, travelling and miscel-	640		
	73 	laneous expenses, including grants Expenses of New Zealand delegate to Radio Conference at Rome	3,025 $35$		
		(Recoverable, £3,155.)	3,060	3,700	
		Research Associations—		3,100	
	!	Woollen manufacturers—		1	
	74	Salaries— Non-permanents.		!	
3		1 at £650 (11 months)	596 355 170		
			1,121		
	75 76	OTHER CHARGES FOR AND INCIDENTAL TO—Grants and expenses	1,054		
		England and Europe	325	i	
		Tobacco—	2,500		
	77	Salaries— Non-permanents,		:	
	İ	1 at £600	$\begin{bmatrix} 600 \\ 225 \end{bmatrix}$	!	
3		1 at £240 (9 months)	180		
			1,005	!	
	<b>7</b> 8	OTHER CHARGES FOR AND INCIDENTAL TO— Grants and expenses; also initial cost of research station including erection of buildings	3,795	!	
		Leather and Footwear—	4,800		
	79	Salaries			
		Non-permanents.	795	i	
2	1	1 at £725	725 400	:	
		OTHER CHARGES FOR AND INCIDENTAL TO—	1,125		
	80	Grants and expenses (Recoverable, £5,500.)	745	!	
			1,870	9,170	

Number of Persons.	Item	VOTE No. 28.—SCIENTII			OUSTRL	AL	1938-	3 <b>9.</b>
938-39.		RESEARCH-	-continu	ed.				
100-09.	1	Subdivision No. II.—Researc	h Invest	iaation	sconti	nued.	£	£
			2100000	garron	0 002702	1.00.		~
		Social Science Research—				!		
	81	Salaries—						
		Non-perm	IANENTS.			£		
		1 at £355	••			355		
		1 at £312 (3 months)	• •	• •	• •	78		
		1 at £250 (4 months)	• •	• •	• •	$\begin{array}{c} 83 \\ 165 \end{array}$		
8		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		• •	• •	$\frac{100}{220}$		
_		Additional assistance				80		
		OTHER CHARGES FOR AND INC		mo.		981		
	82	Grant to Professor Kolb			ses of			
	: 1	investigation in South		· ·		25		
	83	Office equipment, travelling		her ex	penses,	4 000		
	!	including grants (Recoverable,		• •	• •	1,602		
	.	(necoverable,	2000.)			$\frac{-}{1,627}$		
							2,608	
		Soil Survey—						
	84	Salaries—						
		Profession	AL DIVI	SION.				
	!	Class I—				!		
1	:	1 at £615	• •	••	• •	615		
1		Class $II$ — 1 at £490				490		
-		Class III—	••	••	• •	100	!	
1		1 at £470			• •	470		
<b>2</b>	:	$Class V - 2  ext{ at } \pounds 355  ext{ } \dots$				710		
4		Class VI	• •		••	110		
	İ	1 at £335				335		
2		1 at £320 (3 months), £305	(9 mont	hs)		309		
		Class VII— 1 at £305 (3 months), £280	(0 mont	ha)		287		
<b>2</b>		1 at £280 (10 months)	(3 1110110	110)		234	İ	
		CLERICAL I	Division	•				
1		$Class\ VII-$ 1 at £305				305		
•		1 80 8000	••	• •	••	900		
		Non-perma	NENTS.					
		1 at £295	• •	• •	• •	295		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		• •		$\begin{array}{c} 275 \\ 442 \end{array}$		
5		$\begin{array}{cccccccccccccccccccccccccccccccccccc$				195	į	
-		Officers on loan from other D				1,180		
						e 149	:	
		OTHER CHARGES FOR AND INC.	I DE MEAT	то		6,142		
	85	Air mapping				250		
	86	Field expenses	• •		• •	2,390		
	87	Printing and stationery,	_			1 000		
	. <sub>QU</sub>	1 1 1	• •	• •	• •	1,900		
	88	Grants (Recoverable,	 . £500.)	• •	• •	950		
i	: 	(2000 rotable)	, 2000.,			5,490	i	
							11,632	

Number of Persons.	Item	VOTE No. 28.—SCIENTIFIC AND INDUSTRIAL RESEARCH—continued.	1938-	39.
938-39.				
		Subdivision No. II.—Research Investigations—continued.	£	£
		Standards Institute—		
	89	Salaries-		
		CLERICAL DIVISION.		
		Class V—	į.	
1		1 at £380 (7 months), £355 (5 months) 369	i	
		Class VII—	[	
2		1 at £185 (4 months), £175 (8 months) 179 1 at £95 (1 month), £80 (11 months) 81		
4		1 at £95 (1 month), £80 (11 months) 81		
		Non-permanents.	. !	
		1 at £500 500		
		1 at £445 445	ļ	
		1 at £320 (10 months) $\dots \dots \dots \dots \dots$		
		1 at £260		
		1 at £230 230		
		$1 \text{ at } £220 \dots \dots $		
		1 at £210 (4 months), £185 (8 months)		
		1 at £195 195	!	
		1 at £165 165		
		1 at £125 (7 months), £105 (5 months)		
11		1 at £105 (4 months), £85 (8 months) 92		
	:	3,313	1	
		OTHER CHARGES FOR AND INCIDENTAL TO—		
	90	Advertising, books, and publications 30	!	
	91	Grants and fees 150	3	
	92	Grants and fees            150         Fuel, light, and water          30	İ	
	93	Office cleaning 60		
	94	Overtime 100		
	95	Postages and telegrams and telephones 200		
	96	Printing, stationery, office fittings, and requisites 520		
	97	Purchase of specifications and reports 100		
	98	Rent 400		
	99	Standardization of local-body by-laws: Fees and		
		incidental expenses 600		
	100	standardization of local-body by-laws: Fees and incidental expenses         600           Travelling-expenses         500           Contingencies         7		
	101			
	!	(Recoverable, £950.)		
	:	2,697	0.010	
		Survey of Coal Resources—	6,010	
			ţ	
	102	Salaries— Professional Division.		
		Class II—	:	
1		1 at £490 490		
1	.	Class VI—	1	
1		1 at £320 (3 months), £305 (9 months) 308		
•		_ as as as (s moneta), were to monetal)		
		798		
	İ	OTHER CHARGES FOR AND INCIDENTAL TO-		
	103	Chemicals, equipments, expenses, and grants 2,314	i	
			3,112	
		W . D . 7		
		Wheat Research—		
	104	Salaries—	1	
		Non-permanents.		
		1 at £715 715		
	İ	1 at £470 (1 month), £445 (11 months) 447		
		1 at £425 425		
		1 at £400	i	
		100		

### ${\tt DEPARTMENT~OF~SCIENTIFIC~AND~INDUSTRIAL~RESEARCH--} continued.$

Number of Persons.	Item	VOTE No. 28.—SCIENTIFIC AND INDUSTRI RESEARCH—continued.	AL	1938	-39.
1938-39.		Subdivision No. II.—Research Investigations—contin	ned	£	£
		Wheat Research—continued.	ucu.	£	£
	101			!	
	104	Salaries—continued.			
		Non-permanents—continued.	£		
		1 at £370 (2 months)	$\begin{array}{c} \widetilde{62} \\ 350 \end{array}$		
		1 at £310 (10 months), £240 (2 months)	298		
		1 at £305 (10 months), £280 (2 months) 1 at £300 (10 months)	$\frac{300}{250}$		
		1 at £280 (4 months), £250 (8 months) $\dots$ $\dots$	$\begin{array}{c} 260 \\ 225 \end{array}$	:	
		1 at £165	165		
i		1 at £155 (6 months), £140 (6 months)	$\begin{array}{c c} 147 \\ 91 \end{array}$		
15		1 at £80	80		
183			4,215		
		Additional assistance	450		
	!	Other Charges for and incidental to—	4,665		
	105	Administration expenses	260		
	$\frac{106}{107}$	Field experimental work and crop certification Fuel, light, heat, and power	$\frac{400}{200}$	1	
	108	Laboratory and office furniture, fittings, equipment, &c	250		
	109	Laboratory maintenance	400		
	110 - 111 -	Legal expenses ascorbic acid patent Library	$\begin{vmatrix} 21 \\ 120 \end{vmatrix}$	i	
	$\frac{112}{113}$	Printing and stationery Storage, freight, cleaning, and other incidental	120		
i		expenses, including grants	45		
	114	Travelling-expenses (Recoverable, £3,000.)	570		
		General—	2,386	7,051	
				1,001	
	115	CHARGES FOR AND INCIDENTAL TO— Contribution towards cost of visit of Deputy-			
	116	Director, British Standards Institution Expenses in connection with miscellaneous investi-	150		
}	117	gations	200 950		
		(Recoverable, £100.)		1,300	
		Estimated credits-in-aid under Section 51 of the	Public		
		Revenues Act, 1926 (see end of vote)— Recoveries on account of research	£ 41,188	i	
i			11,100		100.000
		Total—Subdivision No. 11	• •		138,802
Ì		Subdivision No. III.—Dominion Laboratory.		ţ	
	118	Salaries—			
	110	Professional Division.			
1		1 at £900 (on half-pay)	••	450	
1		1 at £715	£··	715	
		3 at £615	1,845	i	
5		2  at  £590	$1,180 \mid$		

Number of Persons.	Item	VOTE No. 28.—SCIENTIFIC AND INDUSTRIAL RESEARCH—continued.	1938-	-39.
1938–39.				0
		Subdivision No. III.—Dominion Laboratory—continued.	£	£
	118	Salaries—continued.		
	1	Professional Division—continued.		
		Class II— £		
		$2 \text{ at } £515 \dots \dots 1,030$		
4		2 at £490 980 980	2,010	
		1 at £470 470	2,010	
2		1 at £445 445		
	1	$Class\ IV $	915	
3		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		Class V—	1,225	
		$2 \text{ at } £380 \qquad \dots \qquad \dots \qquad \dots \qquad \dots \qquad \dots$		
5		2 at £355		
J		Class VI—	1,819	
		1 at £335 335	_,	
2		1 at £320 (11 months), £305 (1 month) 319	25.4	
		Class VII— $\phantom{aaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaa$	654	
		1 at £305	i	
		1 at £280 (4 months), £255 (8 months) 263		
4		1 at £255 (10 months) 213	1 050	
		CLERICAL DIVISION.	1,058	
		Class VI		
1		1 at £335	335	
		Class VII— 1 at £195 (5 months), £185 (5 months) 158		
		1 at £195 (5 months), £185 (5 months)		
		1 at £185 (1 month), £175 (11 months) 176		
~		1 at £175 (8 months), £165 (4 months) 171		
5		1 at £115 (6 months), £95 (6 months) 105	797	
		GENERAL DIVISION.		
1		1 at £215	215	
		Non-permanents.		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		1 at £240 240		
		1 at £185 (9 months), £165 (3 months)		
7		1 at £165	1	
	-		1,566	
4.1		Allowance to officer acting as gas referee	75	
	-	Cadets' lodging-allowance	17	
		Service Regulation 24A	150	
		Omeran Character for AND ANGED PARTY (See	15,026	
	119	OTHER CHARGES FOR AND INCIDENTAL TO—Advertising, photographs, books, newspapers, and other		
		publications	300	
	120	Chemicals, apparatus, and repairs to apparatus	3,500	
	$\begin{array}{c c} 121 \\ 122 \end{array}$	Freight, cartage, and transport charges Fuel, light, power, and water	$\frac{200}{600}$	
	123	Grant to officer proceeding overseas to study latest develop-	000	
		ments in laboratory methods	250	

Number of Persons.	Item	VOTE No. 28.—SCIENTIFIC AND INDUST RESEARCH—continued.	'RIAL		1938	-39.
38-39.		Subdivision No. III.—Dominion Laboratory—con	ntinua	d	£	£
		Subdivision 110. 111. Dominion Indontary Con	nomue	и.	<b></b>	1.
		OTHER CHARGES FOR AND INCIDENTAL TO—continu				
	124	Laboratory accommodation and maintenance	and o	other		
	100		• •	••	500	
	$\frac{125}{126}$		• •	••	60 60	
	$\frac{120}{127}$	75			60; 50	
	128	TO 1			170	
	129	The contract of the contract o			182	
	130	Rent (branch laboratory premises, Dunedin) .			72	
	131				50	
	132	Telephone services (including installation, extensi		i	100	
	199		•	• •	120 130	
	133 134	Travelling allowances and expenses Contingencies, including unforeseen expenditure	 incide	ental	190	
	101	to the other items of this subdivision			1	
		Estimated credits-in-aid under Section 51 of	the P			
		Revenues Act, 1926 (see end of vote)—	_	£		
				,600		
			• •	$\begin{array}{c c} 450 \\ 100 \end{array}$		
		rost and relegraph Department .		100		
			2	,150		
				·  -		
					6,245	
		$TotalSubdivision\ No.\ III$ .		i		01 07
		Subdivision No. IV.—Dominion Observator	y.			21,271
	135	Subdivision No. IV.—Dominion Observator	y.			21,211
	135	Subdivision No. IV.—Dominion Observator, Salaries— Professional Division.	y.			21,21
1	135	Subdivision No. IV.—Dominion Observator,  Salaries—  Professional Division.  Class V—	y.		380	21,27
1	135	Subdivision No. IV.—Dominion Observator,  Salaries— Professional Division.  Class V— 1 at £380	y. 	£	380	21,27
1	135	Subdivision No. IV.—Dominion Observator,  SALARIES—  PROFESSIONAL DIVISION.  Class V—  1 at £380	y. 	£ 318	380	21,21
1 2	135	Subdivision No. IV.—Dominion Observator,  Salaries— Professional Division.  Class V— 1 at £380				21,27
	135	Subdivision No. IV.—Dominion Observator,  SALARIES—  PROFESSIONAL DIVISION.  Class V—  1 at £380	y. 	318	380 633	21,27
	135	Subdivision No. IV.—Dominion Observator,  Salaries—  Professional Division.  Class V—  1 at £380		318 315		21,27
	135	Subdivision No. IV.—Dominion Observator,  SALARIES—  PROFESSIONAL DIVISION.  Class V—  1 at £380	y	318 315 		21,27
	135	Subdivision No. IV.—Dominion Observator,  Salaries—  Professional Division.  Class V—  1 at £380		318 315		21,27
	135	Salaries—  Professional Division.  Class V—  1 at £380		318 315 355 292 92 213		21,21
	135	Salaries—  Professional Division.  Class V—  1 at £380		318 315 355 292 92	633	21,21
2	135	Salaries—  Professional Division.  Class V—  1 at £380		318 315 355 292 92 213 156		21,211
2	135	Salaries—  Professional Division.  Class V—  1 at £380		318 315 355 292 92 213 156 	633	21,21
2	135	Salaries—  Professional Division.  Class V—  1 at £380		318 315 355 292 92 213 156	633	21,21
2	135	Salaries—  Professional Division.  Class V—  1 at £380		318 315 355 292 92 213 156 	633	21,21
2		Salaries—  Professional Division.  Class V—  1 at £380	    	318 315 355 292 92 213 156 rvice	633 1,108 40	21,21
2	135	Salaries—  Professional Division.  Class V—  1 at £380  Class VI—  1 at £320 (11 months), £305 (1 month)  1 at £320 (8 months), £305 (4 months)  Non-permanents.  1 at £355  1 at £355  1 at £300 (7 months), £280 (5 months)  1 at £105 (4 months), £85 (8 months)  1 at £208 (9 months)  Allowance to officer performing duties under Pul Regulation No. 24A  Other Charges for and incidental to—Advertising, books, publications, subscriptions to	    	318 315 355 292 92 213 156 rvice	633 1,108 40 2,161	21,21
2	136	Salaries—  Professional Division.  Class V—  1 at £380	    	318 315 355 292 92 213 156 	1,108 40 2,161	21,21
2	136 137	Salaries—  Professional Division.  Class V—  1 at £380	    	318 315 355 292 92 213 156 	1,108 40 2,161 25 40	21,21
2	136 137 138	Salaries—  Professional Division.  Class V—  1 at £380  Class VI—  1 at £320 (11 months), £305 (1 month)  1 at £320 (8 months), £305 (4 months)  Non-permanents.  1 at £355  1 at £355  1 at £355 (10 months), £280 (5 months)  1 at £105 (4 months), £85 (8 months)  1 at £255 (10 months)  Allowance to officer performing duties under Pul Regulation No. 24A  Other Charges for and incidental to— Advertising, books, publications, subscriptions to societies, &c.  Allowances to observers  Establishment and maintenance of stations	    	318 315 355 292 92 213 156 ntific	1,108 40 2,161	21,21
2	136 137	Salaries—  Professional Division.  Class V—  1 at £380  Class VI—  1 at £320 (11 months), £305 (1 month)  1 at £320 (8 months), £305 (4 months)  Non-permanents.  1 at £355  1 at £300 (7 months), £280 (5 months)  1 at £105 (4 months), £85 (8 months)  1 at £255 (10 months)  1 at £208 (9 months)  Allowance to officer performing duties under Pul. Regulation No. 24A  Other Charges for and incidental to—Advertising, books, publications, subscriptions to societies, &c.  Allowances to observers  Establishment and maintenance of stations  Fuel, light, and water  General expenses and overtime	    	318 315 355 292 92 213 156 	1,108 40 2,161 25 40 10	21,21
2	136 137 138 139 140 141	Salaries—  Professional Division.  Class V—  1 at £380  Class VI—  1 at £320 (11 months), £305 (1 month)  1 at £320 (8 months), £305 (4 months)  Non-permanents.  1 at £355  1 at £355  1 at £300 (7 months), £280 (5 months)  1 at £105 (4 months), £85 (8 months)  1 at £255 (10 months)  Allowance to officer performing duties under Pul Regulation No. 24a  Other Charges for and incidental to—Advertising, books, publications, subscriptions to societies, &c.  Allowances to observers  Establishment and maintenance of stations  Fuel, light, and water  General expenses and overtime  Grant towards expenses of Carter Observatory  Grant towards expenses of Carter Observatory	olic Se	318 315 ———————————————————————————————————	1,108 40 2,161 25 40 10 45 40 25	21,21
5	136 137 138 139 140 141 142	Salaries—  Professional Division.  Class V—  1 at £380  Class VI—  1 at £320 (11 months), £305 (1 month)  1 at £320 (8 months), £305 (4 months)  Non-permanents.  1 at £355  1 at £355  1 at £300 (7 months), £280 (5 months)  1 at £105 (4 months), £85 (8 months)  1 at £255 (10 months)  Allowance to officer performing duties under Pul. Regulation No. 24A  Other Charges for and incidental to—Advertising, books, publications, subscriptions to societies, &c.  Allowances to observers  Establishment and maintenance of stations  Fuel, light, and water  General expenses and overtime  Grant towards expenses of Carter Observatory  Maintenance of grounds	olic Se	318 315 ———————————————————————————————————	1,108 40 2,161 25 40 10 45 40 25 150	21,21
5	136 137 138 139 140 141	Salaries—  Professional Division.  Class V—  1 at £380  Class VI—  1 at £320 (11 months), £305 (1 month)  1 at £320 (8 months), £305 (4 months)  Non-permanents.  1 at £355  1 at £355 (10 months), £80 (5 months)  1 at £105 (4 months), £85 (8 months)  1 at £255 (10 months)  Allowance to officer performing duties under Pul Regulation No. 24A  Other Charges for and incidental to—Advertising, books, publications, subscriptions to societies, &c.  Allowances to observers  Establishment and maintenance of stations  Fuel, light, and water  General expenses and overtime  Grant towards expenses of Carter Observatory  Maintenance of grounds  The Professional Division.	olic Se	318 315 ———————————————————————————————————	1,108 40 2,161 25 40 10 45 40 25	21,211

Persons.	Item	VOTE No. 28.– Ri	-SCIENTI ESEARCH			USTRI.	AI.	1938–	3 <b>9</b> .
1938-39.		Subdivision No. I	V.—Domin	ion Obs	ervatory-	contir	nued.	£	£
		OTHER CHARGES FO	R AND INC	TDENTAL	. то—со	ntinued			
	146	Printing and stati	onery					45	
	147	Telephone (mainte						45	
	148 149	Travelling-allowar Contingencies	ices					20   5	
	!								
		Estimated cre	edits-in-aid s Act, 1926				e Public £		
		24 4 4		· (SCC CIRC			$1\overline{5}6$		
		Miscellaneo	ous				120		
							276		
								1,120	
		Tota	l—Subdivi	sion No.	IV		-	1,120	3,281
		$Subdivision\ N$	Io. VGe	ological	Survey .	Branch.			
	150	Salaries—					!		
	100		ROFESSION	AL DIVI	SION.				
1		1 at £825	• •				• •	825	
2		$Class\ I$ 2 at £615 (1 for	7 months	only)				974	
<del>-</del> -		Class II—		, ,					
1		$1 \text{ at } £490$ $Class \ IV$	• •	• •	• •		••	490	
1		1 at £400						400	
,		Class V—	11 ) 6055		.1 \			0.07	
1		1 at £380 (6 mo Class VI	ntns), L350	o (6 mon	tns)		• •	367	
1		1 at £320						320	
		Class VII— 1 at £305 (4 mo	n+ha\	1 / 2 mand	- L ~ \		£		
		1 at £305 (4 mo		· (0 mom			$\begin{bmatrix} 288 \\ 76 \end{bmatrix}$		
4		2 at £280 (6 mo					280		
			CLERICAL	Division	г			644	
		$Class\ V$	OLEMICAL	DIVISION	١.				
1		1 at £380 (4 mo	nths), £355	6 (8 mon	hs)			363	
		•	GENERAL	Divisio	N				
		$1 \text{ at } £320 \dots$					320		
2		1 at £275 $\dots$	• •	• •			275	505	
			Non-per	MANENT				595	
		1 at £425 (7 mon (approx.)		ox.), £35	0 (5 me		406		
2		1 at £355 (6 mont	hs)				177	İ	
	-	·		<b>.</b>				583	
16		Officer on loan fro Allowances to o				under	Public	85	
		Service Regulat						138	
								5,784	
		OTHER CHARGES FO							
	151	Advertising, phot					i	90	
	152	publications Aerial mapping						$\frac{30}{250}$	
	153	Field expenses						500	

Persons.	Item	VOTE No. 28.—SCIENTIFIC AND INDUSTRIAL RESEARCH—continued.	1938-	39.
1938–39.		Subdivision No. V.—Geological Survey Branch—continued.	£	£
		OTHER CHARGES FOR AND INCIDENTAL TOcontinued.		
	154	Freight, cartage, and transport charges	40	
	155	Fuel, light, and water	70	
	156	Instruments, purchase of	470	
	157	Instruments: Repairs and maintenance and outfit allow-		
		ances	230	
	158	Iron and coal survey: Air mapping, laboratory and	F00 .	
	159	geological work, travelling and field expenses	500 ; 10 :	
	160	Mineral specimens: Coffection and purchase Office accommodation and maintenance	20	
	161	Office fittings and requisites	100	
	162	Postage, telegrams, and rent of boxes	40	
	163	Printing bulletins, lithographing, &c	1,000	
	164	Printing and stationery	50	
	165	Telephone services (including installation, extensions, main-	9.0	
	166	tenance, rent, and calls)	30	
	167	Travelling allowances and expenses	$\frac{400}{25}$	
	168	Wages of field hands	800	
	169	Contingencies (including unforeseen expenditure incidental	000	
		to the other items of this subdivision	1	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)		
		Miscellaneous £295		
		Total —Subdivision No. V	4,566	10,350
	180	Subdivision No. VI.—Meteorological Office.		
	170	Salaries— Professional Division.		
1		1 at £900	900	
		1		
		Class Special B—		
1		1 at £715 (3 months)	179	
		(II (I: 1 (I		
1	1 1	Class Special C $1$ at £665	ees	
1		1 40 2000	665	
		Class II—		
2		2 at £515 (1 on half-pay for 4 months)	944	
		on	1	
		Class V		
	i	Lat £355		
9		1 at £355 (5 months), £335 (7 months)	698	
2		Class VI—	0.00	
2			i	
2		2 at £335 670		
2			:	
2		2 at £335	:	
		2 at £335	1,318	
		2 at £335	1,318	
		2 at £335	1,318	
		2 at £335	1,318	
		2 at £335	1,318	
		2 at £335	1,318	
		2 at £335	1,318	

Number of Persons.	VOTE No. 28.—SCIENTIFIC AND INDUSTRIAL	1938–39.	
938-39.	${\bf RESEARCH} continued.$	0	-
	Subdivision No. VI.—Meteorological Office—continued.	£	ě
<b>17</b> 0	Salaries—continued.		
	CLERICAL DIVISION.	i	
	Class VI		
1 ,	1 at £335	335	
1	Class VII—		
;	1 at £205 (3 months), £195 (9 months) 197		
	1 at £195 (2 months), £185 (10 months) 187		
	1 at £165 (11 months), £155 (1 month) 164		
!	1 at £165 (8 months) 110		
:	1 at £155 (8 months)		
	1 at £115 (6 months), £95 (6 months) 105 1 at £115 (5 months), £95 (7 months) 103	*	
İ	1 ( 60 7 7 1 1 1 1 ( 60 0 7 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	:	
	1 at £95 (11 months), £80 (1 month)		
11	2 at £95 (5 months), £80 (7 months)		
		1,299	
	O D	1	
7	GENERAL DIVISION.	945	
1	1 at £245	245	
	Non-permanent.		
1	1 at £105 (6 months), £85 (6 months)	95	
	Unclassified.		
23	23 weather reporters	350	
	Allowance to lighthouse-keepers	195	
55	Cadets' lodging-allowances	173	
	Officers on loan from Post and Telegraph Department	610	
		9,777	
1771	OTHER CHARGES FOR AND INCIDENTAL TO— Advertising, books, newspapers, and other publications	60	
$\begin{array}{c} 171 \\ 172 \end{array}$	Expenses Pacific survey flights	10	
173	Expenses, transfer of Meteorological Station from Hobson-	10	
1110	ville Air Base to Auckland City	200	
174	Fuel, light, power, and water	60	
175	Grant towards expenses of officer visiting Meteorological		
	Station at Bergen, Norway	_15	
176	Instruments: Purchase and repairs	700	
177	Observatories: Maintenance of and establishment	400	
178	Office fittings and requisites	150 b	
179 180	Postage, telegrams, and rent of boxes	5,300 500	
181	Telephone services (including installation, extensions, main-	900	
101		1,600	
182	Travelling allowances and expenses	200	
183	Contingencies (including unforeseen expenditure incidental to the other items of this subdivision)	5	
	, in the second		
	Estimated credits-in-aid under Section 51 of the Public Revenues Act. 1926 (see end of vote)		
	Revenues Act, 1926 (see end of vote) -		
		9,200	
I	Total Subdivision No. VI		18

Number of Persons.	Item	VOTE No. 28.—SCIENTIFIC AND INDUSTRIAL RESEARCH—continued.	1938–	3 <b>9</b> .
1938-39.		Subdivision No. VII.—Apia Observatory.	£	£
	184	Salaries—		~
	101	Professional Division.		
1		1 at £750 ( $4\frac{1}{2}$ months)	280	
1		Class V— 1 at £380	380	
3		Class VII—       £         1 at £305 (9 months), £280 (3 months)       298         2 at £305 (2 months), £280 (10 months)       568	866	
5		Additional assistance	275	
		Tropical allowance	300 40	
			2,141	
	185	OTHER CHARGES FOR AND INCIDENTAL TO—Books and publications	25	
	186	General expenses	350	
	187 188	Instruments and equipment Office accommodation and maintenance, including additions	$\frac{200}{1,200}$	
	189	Office fittings and requisites	170	
	$\frac{190}{191}$	Pilot-balloon stations Printing and stationery	$\begin{array}{c} 150 \\ 170 \end{array}$	
	192	Contingencies (including unforeseen expenditure incidental to other items of this subdivision)	5	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)— £	i	
		Miscellaneous 800		
		Total—Subdivision No. VII	2,270	4,411
		•		
	j	Subdivision No. VIII.—Magnetic Observatory.		
	193	Salaries— Professional Division.		
1		$Class \ I \ 1 \ { m at } \pounds 615 \ \ldots \ \ldots \ \ldots$	615	
1	:	Class II— 1 at £540	540	
		Class IV—		
1		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	425	
1		1 at £280	280	
		Non-permanents. £	:	
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
3		1 at £52 52	321	
7				
Total			2,181	
Number :	194	OTHER CHARGES FOR AND INCIDENTAL TO— Advertising, books, photographs, and other publications	10	
57.5		Fuel, light, power, and water	40	
Persons. 333		Instruments and equipment	250	

Number of Item	VOTE No. 28.—SCIENTI RESEARCH	·	1938	8–39.			
38-39.	Subdivision No. VIII.—Mag	metic Obs	servatory-	-continu	ied.	£	£
	OTHER CHARGES FOR AND INC	CIDENTAL	. то—соз	itinued.			
197	Office fittings and requisites					20	
198	Observatories, maintenance					310	
199						20	
200	Printing and stationery				:	70	
201	Telephone services					16	
202	Travelling allowances and ex					100	
203	Contingencies				••	4	
						840	
	Total-Subdive	ision No.	VIII	• •			3,021
	GROSS TOTAL		• •				211,824
	(Gredits-In-Aid (a)						54,809
	NET TOTAL—VO	TE No.	28				157,015

(a) Credits-in	-aid						1938-39.
	Subdivision	n I					£ 100
	,,	II	• •				41,188
	,,	III					2,150
	,,	IV					276
	,,	V	• •	• •			295
	,,	VI	• •	• •		• •	10,000
	"	VII	• •	• •	• •	• •	800
	Totals	ı					54,809

#### MINES DEPARTMENT.

						38-39.		
					Salaries.	Othe	er Charges.	Total.
Vote No. 29.	—Mines—			1	£		£	£
Subdivis	ion $IAdministration$	ı		;	13,651	!		13,65
,,	II.—Assistance tow	ards Min	ing	!			22,330	22,33
,,	III. Miscellancous						5,069	5,06
	ss Total	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,			13,651	,	27,399	41,05
		• •	••	• •		i i		
	DITS-IN-AID		• •	* *	100		2,950	3,05
NE'	Γ TOTAL	• •	• •	• •	13,551		24,449	38,00
Number of Persons.	VC	OTE No.	29.—MI	NES.	1938–39.			
938-39.	Subdivi	sion No. 1	I.— $Adm$	inistratio	n.		£	£
1	*SALARIES— AD	MINISTRAT	ive Div	ISION.			£	£
1	1 at £1,100 (Unde	er-Secretar	y)†				1,100	 
		ROFESSION	AL DIVIS	SION.				
Ł:	$\begin{array}{c cccc} 1 & \text{at } \mathfrak{L}775 & \dots \\ Class & I & \dots \end{array}$	• •	••	• •		£	775	
	2 at £615 1 at £615 (5 me	 mths) £59	 90 (7. moi	 1ths)	1	0.0230	i i	:
	1 at £590	••		• •		590		
9	3 at £565 2 at £540	• •		• •		1,695		
. "	Class III—	• •	• •	• •	••		5,196	
1	1 at £445						445	
ļ		CLERICAL	Divisio	on.				i
ı	Class I— 1 at £565						565	
	Class IV—	••	• •	• •	• •	• •	505	
1	1 at £425						425	
k) :	Class VI—						670	
2	2  at  £335 $Class VII$ —	• •	• •	• •	• •	£	670	
i	2 at £305					$\tilde{610}$	i	
	1 at £305 (9 me	onths), £28	30 <b>(3</b> mo:	nths)		299		
I	1 at £305 (7 me					295		:
	1 at £185 (9 1 (1 month)	months),	,	months)		178		
	1 at £185 (4 m	onths). £17	 75 (8 mo:	$_{ m nths}$ )		$\frac{178}{178}$	!	!
	1 at £115 (5 m					105		
	1 at £95					95		
	1 at £95 (3 mor					84		
11	1 at £95 (1 mor	nth), £80 (	11 mont	•	• •	81	i	
11	1 at £80	• •	• •	• •	• •	80	2,005	
	Cadets' lodging	-allowance	es				111	

<sup>\*</sup> For particulars of salaries see "Public Service Classification List."

<sup>†</sup> Also Director of Housing Construction.

### ${\bf MINES\ DEPARTMENT}-continued.$

Number of Persons.	Item	VOTE No. 29.—MINES—continued.	1938-	·3 <b>9</b> .
1938-39.		Subdivision No. I.—Administration—continued.	:	α
	1	Salaries—continued.	£	£
2		General Division. £ 1 at £425 (3 months)		
		Non-permanents.	441	
		1 at £195       195         1 at £185       185         2 at £185 (2 months), £165 (10 months)       337         1 at £165 (10 months), £145 (2 months)       163         1 at £165 (7 months), £145 (5 months)       157         1 at £165 (1 month), £145 (11 months)       147         1 at £145       145         1 at £145 (10 months), £125 (2 months)       142         1 at £125 (1 month), £105 (11 months)       107         1 at £105 (9 months), £85 (3 months)       100		
12		1 at £85 (3 months), £65 (9 months) 70	1 740	
41	- - 	Allowance to officer of another Department whilst doing mining duties	7 163	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)— £ Miscellaneous	:	
	!	$Total\_Subdivision\ No.\ I$	<del></del> !	13,651
	2 3 4	Subdivision No. II.—Assistance towards Mining.  CHARGES FOR AND INCIDENTAL TO— Assistance towards— Maintenance of roads and works	1,000 9,200 3,210	
	5 6 7 8 9 10	Establishment and maintenance of Mine Rescue Station, Greymouth District (recoverable) Grants: Libraries in mining townships Schools of Mines Social amenities in mining townships Subsidy on bus fares (Renown and Glen Afton Collieries) Transportation expenses of the National Check Inspector  Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)  Drilling-expenses Mine Rescue Station 1,950 Prospecting Schools of Mines	4,000 150 3,600 1,000 90 80	
	i			
		2,675		
	i	Total—Subdivision No. II		22,330

Number of Persons.	Item	VOTE No. 29.—MINES—continued.	1938-	-39.
1938–39.		Subdivision No. II.—Assistance towards Mining—continued.	£	£
		Subdivision No. III.—Miscellaneous Services.		
		Charges for and incidental to—	·	
		Advertising, photographs, books, newspapers, and other publications	100	
	12	Collecting goldfields revenue (partly recoverable)	300	
	13	Examinations, Mining and Coal-mines Acts	160	
	14	Freight, cartage, and transport charges	20	
	15	Fuel, light, water, and cleaning	60	
	- 16	Instruments and apparatus	100	
	17	Law-costs	5	
	18	Motor-cars: Maintenance of	350	
	$19^{\pm}$	Office fittings and requisites (including typewriters)	300	
	20	Overtime and meal allowances	60	
	21	Postage, telegrams, and rent of boxes	250	
	22	Printing and stationery (partly recoverable)	400	
	23	Refunds of revenue under Section 155 (3) of the Mining		
		Act, 1926 (recoverable)	100	
	24	Removal expenses of Reefton and Greymouth offices	200	
	$\begin{vmatrix} 25 \\ 9c \end{vmatrix}$	Rents (partly recoverable)	726	
	26	Telephone services (including installation, extensions,	220	
	27	maintenance, rent, and calls)	200	
	28	gs 11; 11 1	$1,500^{-1}$	
	$\frac{26}{29}$	Contingencies (including unforeseen expenditure incidental	1,500	
	2.0	to the other items of this subdivision)	18	
		, , , , , , , , , , , , , , , , , , ,	10	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)— £		
		Collecting goldfields revenue 50		
		Printing and stationery, publications, &c 100		
		Refunds of revenue 100	1	
	İ .	Rents 25		
		275		
		Total—Subdivision No. III		5,069
		Gross Total		41,050
		Credits-in-ald (a)	!	3,050
		NET TOTAL—VOTE No. 29		38,000

(a) Credits-in-aid—		Salaries.	Other Charges.	1938-39.
(2) 313222 312		1	į.	£ 00.
Subdivision I	 	 100		100
" II	 	 	2,675	2,675
" Ш	 	 	275	275
Totals	 	 100	2,950	3,050
		-		

### TRANSPORT DEPARTMENT.

								1	938-39.	
							Salaries.	Oth	er Charges.	Total.
Vote No	o. 30	-Transport-	_				£		£	£
Sub	$division{1}{c}{i}$	on IGene	ral Admir	iistration			15,276	6	12,023	27,299
	,,	II.—Vehi	cle Inspec	tion	- •		8,44	5	6,316	14,761
	,,	III.—Enfo	rcement				19,77	3	20,780	40,553
	,,	IV.—Civi	l Engineer	ing			1,34	2	675	2,017
	,,	V. Safet	ty Educati	on and I	<sup>9</sup> ro радано	ła	1,09	9	4,500	5,599
	Gros	ss Total					45,938	5	44,294	90,229
	CREI	DITS-IN-AID					4,600	0	5,005	9,605
	NET	TOTAL					41,33	5	39,289	80,624
Number of Persons.	Item		VOTE	No. 30	-TRAN	SPORT.			1938	3-39.
1938-39.		Si	$\iota bdivision$	No. I.—	General .	Administ	ration.		£	e
	1	*Salaries-							£	£
			$\mathbf{A}$ D	MINISTRA	TIVE DIV	ISION.			i	
1		1 Comm	nissioner a	t £1,000	• •			••	1,000	
		C7 7		CLERICA	L Divisio	ON.				
1				s amoun	of £285	2 provid 	ed under	Sub-	283	
1		Class I. 1 at £			••		••		515	
2		$egin{array}{c} Class \ I \ 2 \ { m at} \ { m \$} \end{array}$							850	
5		$egin{array}{c} Class & V \ 4  ext{ at } \mathfrak{L} \ 1  ext{ at } \mathfrak{L} \end{array}$		onths)	••		1	£ 1,520 325	1.045	
10		1 at £ 1 at £ 1 at £		$     \text{onths}, £33 \\     \text{onths}, £33 \\     \text{onths} $	20 (5 mor	nths)	1	1,675 333 329 323 254 200	3,114	

<sup>\*</sup> For particulars of salaries see "Public Service Classification List."

### ${\bf TRANSPORT\ DEPARTMENT-} continued.$

	1	· · · · · · · · · · · · · · · · · · ·		
Number of Persons.	Item	VOTE No. 30.—TRANSPORT—continued.	1938–	39.
1938–39.		Subdivision No. I.—General Administration—continued.	i	
	1	Salaries—continued.	£	£
		Changer Drugger continued	!	
		CLERICAL DIVISION—continued.		
	i	2 at £305 610		
		1 at £305 ( $2\frac{1}{2}$ months), £280 ( $9\frac{1}{2}$ months)		
		2 at £305 (2 months), £280 (10 months) 568		
		1 at £205 (1 month), £195 (11 months) 196	1	
		1 at £205 ( $1\frac{1}{2}$ months), £195 (9 months) 172		
		1 at £195 ( $7\frac{1}{2}$ months), £185 ( $4\frac{1}{2}$ months) 191	1	
		1 at £185 (1 month), £175 ( $7\frac{1}{2}$ months)		
		1 at £185 (1 month)	i	
		1 at £165 (10 months), £155 (2 months)		
	1	1 at £165 (8 months), £155 (4 months) 162	i	
		1 at £165 ( $4\frac{1}{2}$ months), £95 ( $7\frac{1}{2}$ months) 121	'	
		1 at £155 ( $7\frac{1}{2}$ months), £115 ( $4\frac{1}{2}$ months) 140		
		1 at £95 (2 months) 18		
17		1 at £80 80		
	1	C 1 (21 1 : 1)	3,011	
		Cadets' lodging-allowances	72	
		Non-permanents.		
		1 04 6500		
	1	2 at £305		
	:	2 at £235 470		
		2 at £220 440		
		1 at £205 205		
	İ	1 at £185		
	ļ	1 at £185 (9 months)		
	:	1 at £185 (9½ months), £165 (2½ months) 182		
		1 at £185 (8 months), £165 (4 months)		
		1 at £185 (6 months), £165 (6 months)		
		1 at £175		
		1 at £145 (7 months), £125 (5 months)		
		1 at £145 (2 months), £125 (10 months) 129		
		1 at £125 (9 $\frac{1}{2}$ months), £105 (2 $\frac{1}{2}$ months) 121		
		1 at £125 (9 months), £105 (3 months)		
		1 at £125 (4 months), £105 (8 months)		
		1 at £105 (10 months), £85 (2 months) 102		
		1 at £105 (8 months), £85 (4 months)		
27		3 at £105 (4 months), £85 (8 months)		
	-	Tat 200 (10 months), 200 (2 months)	4,586	
64	! !	Estimated credits-in-aid under Section 51 of the Public	2,000	
	-	Revenues Act, 1926 (see end of vote)—		
		Salaries £325		
			15,276	
	\	OTHER CHARGES FOR AND INCIDENTAL TO-		
	2	Advertising, books, newspapers, and other publications	750	
	3	Fuel, light, power, and water	100	
	4	Mechanical office appliances (purchase, hire, and keep of)	300	
	5	Office cleaning (including wages of charwomen, supply of		
		cleaning materials, laundering, window-cleaning, and	50	
	1	rubbish removal) Office furniture, fittings, and requisites—	50	
	6	Head Office	200	
	7	District offices	400	
	8	Overtime and meal allowances	150	
	9	Postage, telegrams, freight, and cartage	1,000	
	10	Printing and stationery	850	

#### TRANSPORT DEPARTMENT—continued.

	1 1	-		
Number of Persons.	Item	VOTE No. 30.—TRANSPORT—continued.	1938-	39.
1 <del>93</del> 8- <del>39</del> .		Subdivision No. IGeneral Administration—continued.	<del></del>	
			£	£
		OTHER CHARGES FOR AND INCIDENTAL TO- continued.		
	11	Refunds to local bodies of duty on sodium-gas lights and	r. İ	
	12	$egin{array}{ccccc}  ext{fittings} & \dots & \dots & \dots & \dots & \dots & \dots & \dots & \dots & \dots & $	$5 \mid$	
	"	Auckland 235		
		Wellington 375		
		Dunedin	į	
	i	Rent of sub-offices 355	1 000	
	13	Road Transport Compensation Tribunal, expenses of (part	1,233	
	. 10	recoverable)	250 .	
	14	Telephone services (including installations, extensions,	1	
	1 1	maintenance, rent, and calls)	650	
	1, 1	Transport Licensing Act, 1931—		
	$\frac{15}{16}$	Allowances and expenses of licensing authorities	3,500 50	
	17	Refunds of fees	$\frac{50}{225}$	
	1.8	Services of Registrar of Motor-vehicles	450	
	19	Travelling-expenses and transfer of officers— £		
	! !	Inspection of accounts, &c 800	i	
		Other		
	1 1	Secretaries of licensing authorities and steno-	1	
		graphers $\frac{600}{}$	1,750	
	20	Wellington District Office: Cost of transfer to Civic	1,,00	
		Chambers	100	
	21	Contingencies (including unforseen expenditure incidental	İ	
	1	to the other items of the vote)	10	
		Estimated credits-in-aid under Section 51 of the Public		
		Revenues Act, 1926 (see end of vote)— £		
		Printing and stationery 5		
		Road Transport Compensation Tribunal,		
		expenses of 465		
		$\overline{470}$		
		410		
			12,023	
		Total -Subdivision No. I		27,299
			1	
	i i		İ	
	!	Subdivision No. II.—Vehicle Inspection.		
	İ	, , , , , , , , , , , , , , , , , , , ,	İ	
	22	Salaries—		
		Professional Division.		
1		Class PIII— 1 at £470	470	
1		1 at £410	410	
	:		:	
		CLERICAL DIVISION.		
		Class VII—		
		1 at £305	1	
		1 at £95 (11 months), £80 (1 month)		
4		1 at £95 (2 months), £80 (10 months)		
-			567	
		Cadet's lodging-allowance	26	
		C. IN		
		General Division.  1 at £430	1	
2		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	!	
2		2 33 84400 11 11 1	725	
		·		

#### TRANSPORT DEPARTMENT—continued.

Number of Persons.	Item	VOTE No. 30.—TRANSPORT—continued.	1938-	-39.
1938–39.	i	Subdivision No. II.—Vehicle Inspection—continued.		
	22	Salaries—continued.	£	£
		Non-permanents. £		
	! '	3 at £400 1,200		
	İi	1 at £385 385	į	
		1 at £365	İ	
		5 at £315		
		6 at £300 1,800 2 at £300 (11 months)		
		1 at £300 (10 months)		
		1 at £300 ( $\frac{1}{2}$ month) 12	i	
00		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
22	!	1 at £235 235	6,657	
29	i	Estimated credits-in-aid under Section 51 of the Public	0,001	
		Revenues Act, 1926 (see end of vote)— £		
		Salaries 25		
	. !		0.445	
	!	OTHER CHARGES FOR AND INCIDENTAL TO—	8,445	
	23	Printing and stationery	200	
	24	Telephone services (including installations, extensions,	1.50	
	95	maintenance, rent, and calls)	176	
	$\begin{array}{c c} 25 & \vdots \\ 26 & \vdots \end{array}$	Purchase of equipment	$\frac{150}{1,400}$	
	27	Ramps for inspection of passenger-service vehicles	5	
	28	Services of Public Works Department	500	
	29	Travelling-expenses and transfer of officers	1,385	
	30	Running-expenses, maintenance, and repairs of motor-cars	2,500 +	
		Estimated credits-in-aid under Section 51 of the Public		
	i	Revenues Act, 1926 (see end of vote)— £		
		Printing and stationery 150		
			6,316	
		Total—Subdivision No. II	0,010	14,761
		Subdivision No. III.—Enforcement.		
	31	Salaries—		
	01	CLERICAL DIVISION.		
		Class VI—	İ	
1		1 at £320 ( $6\frac{1}{2}$ months), £305 ( $5\frac{1}{2}$ months)	313	
		Class VII £		
		Class VII— £ 1 at £165 (8 months), £155 (4 months) 162		
	· .	2 at £80		
4		1 at £80 (9 $\frac{1}{2}$ months) 63		
			385	
		Cadets' lodging-allowances	28	
		GENERAL DIVISION.		
1	i	1 at £445	445	
		NON-DEDMANDAUDS	İ	
	: {	NON-PERMANENTS. 4 at £380 1,520		
		1 at £345 345		
		12 at £330 3,960	:	
	!	1 at £330 (8 months), £325 (4 months)		
	i 1	8 at £315 2,520   6 at £305		

### ${\bf TRANSPORT\ DEPARTMENT-} continued.$

Number of Persons.	Ite <b>m</b>	VOTE No. 30.—TRANSPORT—continued.	1938	3–39.
<del>1938–3</del> 9.		Subdivision No. III.—Enforcement—continued.		
1000, 00.	91	v	£	£
	31	Salaries—continued.	İ	
		Non-permanents—continued.	,	
		2 at £300 6	00	
		13 at £285		
		6 at £265 1,5 10 at £265 (6 months) 1,3		
		1 at £260 2	60	
			35   85	
		1 at £85 (8 $\frac{1}{2}$ months), £65 (3 $\frac{1}{2}$ months)	79	1
69	,	//	68   51	
	_	1 at £65 (9½ months)	$\frac{51}{18,602}$	
75		Estimated credits-in-aid under Section 51 of the Pub	lie <sub>1</sub>	1
	-	Revenues Act, 1926 (see end of vote)—Amounts received for services of officers $\mathfrak{L}$		
		controlling traffic: Salaries 4,2		
			19,773	•
		OTHER CHARGES FOR AND INCIDENTAL TO-	19,113	
	32	Fees for courses of instruction	10	
	33	Maintenance of equipment Printing and stationery	50 150	
	01	Purchase of		
	35	First-aid equipment	15 25	į
	$\begin{vmatrix} 36 \\ 37 \end{vmatrix}$	Loadometer-testing machine Loud-speaker equipment	75	
	38	Motor-cars	2,440	
	39 40	Other equipment	$\begin{array}{c c} . & 250 \\ . & 290 \end{array}$	!
	41	Uniforms	550	
	42	Running-expenses, maintenance, and repairs of patrol-car Telephone services (including installations, extension		
	43	maintenance, rent, and calls)	975	1
	44	Translation fees, witness and legal expenses	150	1
	45 46	Travelling-expenses and transfer of officers Temporary assistance from Local Authorities	$\begin{array}{ccc} & 2,600 \\ & 50 \end{array}$	
		Temporary assistance from 1400ar reconstructs		I
		Estimated credits-in-aid under Section 51 of the Pub Revenues Act, 1926 (see end of vote)— Amounts received for services of officers controlling traffic—	lie	
		Running-expenses, maintenance, and re-	g eo	
		pairs of patrol-cars 4,2 Travelling-expenses and transfer of officers	25	1
			00	
		4,3	85	:
			20,780	 
		Total—Subdivision No. III		40,553
			:	<u> </u> 
		Subdivision No. IV.—Civil Engineering.		
	47	Salaries—	i I	:
		Professional Division.	;	
1		Class III— 1 at £470 (6 months), £445 (6 months)  Class VII—	458	 
1	1	I at £195 (II $\frac{1}{2}$ months), £185 ( $\frac{1}{2}$ month)	.   194	

of ersons.	Item	VOT	E No. 3	0.—TRA	NSPOT	RT—contin	ued.		1938	39.
38-39.		Subdivisi	on No. 1	V.—Civi	l Engir	neering c	ontinue	1.		
	47	Salaries—co	intinued.						£	£
	İ		C	LERICAL	Divisio	N.		!	į	
		Class VII-						$\frac{\mathfrak{L}}{23}$		
		1 at £165	$5 \ (7\frac{1}{2} \ { m mod})$	nths), £15	$65 (4\frac{1}{2} \text{ n})$	nonths)		161	:	
3		1 at £80	• •	• •	• •	• •	• •	80	$_{264}$	
	1	1 at £220	1	ON-PERM	IANENT	s.		220		
2		1 at £215 (	$11\frac{1}{2}$ mont	ths)				$\frac{220}{206}$		
7									426	
	-	Other Char	CES SOD	AND INC	UTNERNE A	T (PO			1,342	
	48	Motor-vehi	cles accid	lent stati					300	
	$\frac{149}{150}$	Printing ar Travelling-			sfer of	 officers			$\frac{150}{200}$	
	51	Purchase o							25	
								-	675	
			Total-	Subdivi	sion Ne	). IV	• •			2,01
!		$\begin{array}{c}  ext{division} \\ Class \ IV \end{array}$	I) $\frac{1}{6} (6\frac{1}{2} \text{ mod})$	 nths), £40	 0 (5½ m		under		282 414 153	
1	1	1 Road Tra	ıffic Instr	uctor (Sc	hools) a	it £315 (9)	l month	s) ;	250	
								-	1,099	
	5.9	OTHER CHAR Expenses o						i_	50	
	53 54	Safety Edu	cation ar	nd Propag	ganda				4,350	
	55	Travelling	expenses	and allov	wances	• •	• •	!-	100	
			Total-	—Subdivis	sion No	. <i>V</i>			4,500	5,59
		G	ross To	PAL						90,22
		Ci	REDITS-IN	K-A1D (a)						9,60
		N	ЕТ ТОТ	'ALVO'	TE No.	. 30				80,62
	(a) (b	redits-in-aid						1		
	(14) C	emito-m-sum				Salaries.		her rges.	1938-39,	
	S	ubdivision I				£ 325		ຍິ 470	£ 795	•
		,, II				25		150	175	
		,, TII	• •	• •	• •	4,250		385	8,635	
		Totals				4,600	õ.	005	9,605	

### DEPARTMENT OF HEALTH.

								19	938–39.	
			SECRET 18 (8) (4)				Salaries.	Oth	er Charges.	Total.
Vote No.	31.–	-Health—					£		£	£
Gros	s To	тат.					196,3	812 . 1	,247,914	1,444,22
			••	• •	• •			!		
	OITS-II		• •		• •		3,3		61,915	65,21
NET	TOT	ΓAL	••	• •			193,0	12 1,	185,999	1,379,01
Number of Persons.	Item		V	OTE No. 3	1 刊 I	CALTH			193	88–39.
938-39.		40		7117 140. 7	1. ;	7/11/1 LL.				
	1	*Salaries-		MINISTRATI	ve Div	TSION.			£	£
1		1 at £1,	350 (Direc	tor-Genera	l of He	alth)			1,350	)
			P	ROFESSIONA	a Div	ISION.				:
		Professi	onal Spec	ial				£		į
			21,100					2,200		
		1 at £			• •			1,001		
			1,000		• •		• •	6,000	i	
		1 at £		• •	• •			900		1
	.	1 at £ 3 at £		• •	• •	• •		$850 \\ 2,400$		
			:000 800 (9 mc	nthe)		V 7		600		
			2800 (3 mc 2800 (3 mc		• •	• •		200	'	!
		1 at £		Trensy		• •		765		i
		1 at £		• •				715	1	
28	!	10 at						6,650		
									- 22,287	[
	.		onal I—							į.
	!	1 at £		• •	• •			615		i
0		1 at £						590		
3		$1 \text{ at } \mathfrak{t}$	:565	• •	• •	• •	• •	565	1 777	`
		$P_{xo}f_{aaa}$	ional II—						1,770	, .
	i	3 at £						1,545		
			E515 (2 mc					515		1
10		1 at £		• •				500		
									-2,560	)
,			onal III							
1	!	lati	£4:70	• •	• •	• •		• •	470	)
	Ì	Professi	ional V—							
		l'at i						380		i
	!	9 at 1	2355					3,195		
13		3 at $3$	£335 (6 me	onths)				503		:
		7) 6	· g word						4,078	3
l		Profession 1 at start	ional VI— E335						339	 5
	1				1 1 3		(1)			
	į .			erforming		duties	(Public		o i	1
			lation 209		• •			* *		
		House	allowances	3		• •			. 60	,,

Number of Persons.	Item	Wome w	9.1	TEDAT MY			:	1938-	39.
938-39.		VOTE No.	31	·HEALTH	contini	ued.			
	1	Salaries—continued.						£	£
		$\mathbf{C}_{\mathbf{i}}$	LERICA	AL Divisio	N.		:		
		Class Special A-							
1		1 at £765		• • .	• •		:	765	
1		Class I— 1 at £615						615	
1	i	1 &0 £010		• •	• •			615	
		Class II						İ	
2		2 at £515		• •				1,030	
		Class III—							
1		1 at £470						470	
		Class IV—					£		
		3 at £425					$1,\tilde{2}75$		
4		1 at £400					400	1 0==	
		Class V—						1,675	
4		4 at £380						1,520	
	: '	Classe VI						i	
12		Class VI— 12 at £335					ļ	4,020	
			• •	• •				1,020	
		Class VII					1 000		
		6 at £305 2 at £280	• •	• •			1,830   560		
		1 at £255					255	:	
	:	1 at £230	• •	• •			230		
		1 at £205 1 at £195	• •	• •			$   \begin{array}{c c}     205 \\     \hline     195   \end{array} $		
		2 at £185				• •	370		
		4 at £175	• •				700		
		4 at £165 1 at £115	• •	• •	• •		$\begin{array}{c} 660 \\ 115 \end{array}$		
	: 1	4 at £95					380		
		4 at £80	• -				320		
33		1 at £80 (6 month 1 at £80 (3 month					40 20		
()()		Lodging-allowances-		• •	• •			5,880	
		4 at £35					140	į	
		2 at £25	• •	• •	• •	• •	50	190	
			ENER	AL Divisio	N.				
		$egin{array}{lll} 1  ext{ at } \pounds 565 & \dots \ 4  ext{ at } \pounds 470 & \dots \end{array}$		• •			565	{	
	į	$\begin{array}{cccccccccccccccccccccccccccccccccccc$		• •			1,880		
		$6 \text{ at } £425 \dots$					2,550		
		2 at £425 (3 months 21 at £390	3)				8,190		
		1 at £385					385		
		5 at £380		• •			1,900		
		3 at £355 7 at £335		• •	• •		$\begin{bmatrix} 1,065 \\ 2,345 \end{bmatrix}$		
		1 at £330 1 at £330		• •			330	!	
	. !	$6$ at £320 $\dots$					1,920	;	
		4 at £305 1 at £300	• •	• •	• •	• •	$\frac{1,220}{300}$		
		1 at £300	• •	• •		• •	285		
		9 at £280					2,520		
	i	7 at £280 (6 months 1 at £275	3)				$\frac{980}{275}$		

Number of Persons.	[tem	VOTE	No. 31	HEALTH	contir	wed.		1938-	39.
938-39.	1	Salaries—continu	ied.					£	 0
	ĺ	C	ENERAL E	) TUTOTON	anatian.	αJ	£	ı.	£
		1 at £270	INDERAL E	)1V191OK	···	· · ·	270	1	
:		1 at £255					255	1	
İ		17 at £250		• • • • • • • • • • • • • • • • • • • •			$4,\overline{250}$	i	
		2 at £245					490		
	ļ	$1 \text{ at } £225 \dots$					225		
		2 at £215					430		
į		4 at £205					820	:	
1	1	2 at £195					390		
į	İ	1 at £190					190		
į		1 at £175					175		
			Donto	ıl Nurses.				35,307	
		1 at £260		u ivarses.			260		
į		96 at £235					22,560	į	
1		17 at £225					3,825		
1		$20 \text{ at } £215 \dots$					4,300		
	1	$29 \text{ at } £205 \dots$					5,945		
		$48 \text{ at } £195 \dots$					9,360		
		65 at £75					4,875		
1		40 at £75					3,000		
470		40 at £75 (6 mo	nths)	• •		• •	1,500	55,625	
		Allowances for Regulation 20	09)					75 ;	
		Allowances for	performin	g special	duties	(Public	Service		
		73 7 1 0	4 . )				!	80 ;	
,		Regulation 2					i		
:		Lodging-allowar	aces	• •	MANENT	s).	• •	4,920	
1 1 1		Lodging-allowar	ASSIFIED of intendent Hospitals a	 (Non-per:  t £1,000 (4	MANENT	s).		1,100 333 1,000	
1		Lodging-allowar  Unci 1 Medical Super 1 Inspector of H	ASSIFIED of the control of the contr	 (Non-per:  t £1,000 (4	MANENT	s). 	• •	1,100	
1		Lodging-allowar  Unci  1 Medical Super 1 Inspector of H 1 Director of Ma	ASSIFIED of the control of the contr	 (Non-per:  t £1,000 (4	MANENT	s).  	  £	1,100	
1		Lodging-allowar  Unci  1 Medical Super 1 Inspector of H 1 Director of Ma  19 Medical Office 1 at £850	ASSIFIED of the control of the contr	 (Non-per:  t £1,000 (4	MANENT	s)s)	  £ 850	1,100	
1		Lodging-allowar  Unci 1 Medical Super 1 Inspector of H 1 Director of Ma 19 Medical Office 1 at £850 1 at £800	ASSIFIED intendent Hospitals a aternal Weers—	 (Non-per:  t £1,000 (4	MANENT	s)	  £ 850 800	1,100	
1		Uncil  1 Medical Super 1 Inspector of H 1 Director of Ma 19 Medical Office 1 at £850 1 at £800 1 at £800 (6 r	ASSIFIED intendent Hospitals a aternal Weers—	 (Non-per:  t £1,000 (4	MANENT	s)	  £ 850 800 400	1,100	
1 1	i	Uncil  1 Medical Super 1 Inspector of H 1 Director of Ma 19 Medical Office 1 at £850 1 at £800 1 at £800 (6 at £700)	ASSIFIED intendent Hospitals a aternal Weers—	 (Non-per:  t £1,000 (4	MANENT	s)	£ 850 800 400 700	1,100	
1	i	Uncil  1 Medical Super 1 Inspector of H 1 Director of Ma 19 Medical Office 1 at £850 1 at £800 1 at £800 (6 r 1 at £700 1 at £300	ASSIFIED intendent Hospitals a aternal Weers—	 (Non-per:  t £1,000 (4	MANENT	s)s)	  £ 850 800 400	1,100	
1	i	Uncil  1 Medical Super 1 Inspector of H 1 Director of Ma 19 Medical Office 1 at £850 1 at £800 1 at £800 (6 r 1 at £700 1 at £300 1 at £275	ASSIFIED intendent Hospitals a aternal Weers—	 (Non-per:  t £1,000 (4	MANENT	s)	£ 850 800 400 700 300	1,100	
1	i	Uncil  1 Medical Super 1 Inspector of H 1 Director of Ma 19 Medical Office 1 at £850 1 at £800 1 at £800 (6 r 1 at £700 1 at £300 1 at £275 1 at £254	ASSIFIED intendent Hospitals a aternal Weers—	 (Non-per:  t £1,000 (4	MANENT	s)	£ 850 800 400 700 300 275	1,100	
1 1	i	Uncil  1 Medical Super 1 Inspector of H 1 Director of Ma 19 Medical Office 1 at £850 1 at £800 1 at £800 (6 r 1 at £700 1 at £300 1 at £275	ASSIFIED intendent Hospitals a aternal Weers—	 (Non-per:  t £1,000 (4	MANENT	s)	£ 850 800 400 700 300 275 254	1,100	
1 1	i	Uncil  1 Medical Super 1 Inspector of H 1 Director of Ma 19 Medical Office 1 at £850 1 at £800 1 at £800 1 at £700 1 at £300 1 at £275 1 at £254 3 at £250 1 at £150 4 at £100	ASSIFIED intendent Hospitals a aternal Weers—	 (Non-per:  t £1,000 (4	MANENT	s)	£ 850 800 400 700 300 275 254 750 150 400	1,100	
1 1	i	Uncil  1 Medical Super 1 Inspector of H 1 Director of Ma 19 Medical Office 1 at £850 1 at £800 1 at £800 (6 r 1 at £700 1 at £300 1 at £275 1 at £254 3 at £250 1 at £150	ASSIFIED intendent Hospitals a aternal Weers—	 (Non-per:  t £1,000 (4	MANENT	s)	£ 850 800 400 700 300 275 254 750 150	1,100 333 1,000	
1	i	Unce  1 Medical Super 1 Inspector of H 1 Director of Ma  19 Medical Office 1 at £850 1 at £800 1 at £800 1 at £700 1 at £300 1 at £275 1 at £254 3 at £250 1 at £150 4 at £100 4 at £100	Assified (intendent dospitals a aternal Wo	(NON-PER:	MANENT	s)	£ 850 800 400 700 300 275 254 750 150 400	1,100	
1	i	Uncil  1 Medical Super 1 Inspector of H 1 Director of Ma 19 Medical Office 1 at £850 1 at £800 1 at £800 1 at £700 1 at £300 1 at £275 1 at £254 3 at £250 1 at £150 4 at £100 4 at £50 .  8 School Medical	Assified (intendent dospitals a aternal Wo	(NON-PER:	MANENT	s)	£ 850 800 400 700 300 275 254 750 150 400 200	1,100 333 1,000	
1	i	Uncil  1 Medical Super 1 Inspector of H 1 Director of Ma 19 Medical Office 1 at £850 1 at £800 1 at £800 1 at £700 1 at £300 1 at £275 1 at £254 3 at £250 1 at £150 4 at £100 4 at £50 .  8 School Medica 3 at £615	Assified (intendent dospitals a aternal Wo	(NON-PER:	MANENT	s).	£ 850 800 400 700 300 275 254 750 150 400 200	1,100 333 1,000	
1	i	Unce  1 Medical Super 1 Inspector of H 1 Director of Ma  19 Medical Office 1 at £850 1 at £800 1 at £800 1 at £700 1 at £300 1 at £275 1 at £254 3 at £250 1 at £150 4 at £100 4 at £50  8 School Medica 3 at £615 2 at £565	Assified (intendent dospitals a aternal Wo	(NON-PER:	MANENT	s).	£ 850 800 400 700 300 275 254 750 150 400 200	1,100 333 1,000	
1	i	Uncil  1 Medical Super 1 Inspector of H 1 Director of Ma 19 Medical Office 1 at £850 1 at £800 1 at £800 1 at £700 1 at £300 1 at £275 1 at £254 3 at £250 1 at £150 4 at £100 4 at £50 .  8 School Medica 3 at £615	Assified (intendent dospitals a aternal Wo	(NON-PER:	MANENT	s).	£ 850 800 400 700 300 275 254 750 150 400 200	1,100 333 1,000	
1	i	Unce  1 Medical Super 1 Inspector of H 1 Director of Ma  19 Medical Office 1 at £850 1 at £800 1 at £800 1 at £700 1 at £300 1 at £275 1 at £254 3 at £250 1 at £150 4 at £100 4 at £50  8 School Medica 3 at £615 2 at £565 3 at £515  4 Inspectors of	intendent Intend	(NON-PER:	MANENT	s).	£ 850 800 400 700 300 275 254 750 150 400 200  1,845 1,130 1,545	1,100 333 1,000	
1	i	Unce  1 Medical Super 1 Inspector of F 1 Director of Ma  19 Medical Office 1 at £850 1 at £800 1 at £800 1 at £700 1 at £300 1 at £275 1 at £254 3 at £250 1 at £150 4 at £150 4 at £150 4 at £150 4 at £550 1 at £550 1 at £550 1 at £500 1 at £400  1 at £500 1 at £500 1 at £500 1 at £100 1 at £500 1 at £500 1 at £500 1 at £505 3 at £515	intendent Intend	(NON-PER:	MANENT	s).	£ 850 800 400 700 300 275 254 750 150 400 200  1,845 1,130 1,545	1,100 333 1,000	
1	i	Unce  1 Medical Super 1 Inspector of H 1 Director of Ma  19 Medical Office 1 at £850 1 at £800 1 at £800 1 at £700 1 at £300 1 at £275 1 at £254 3 at £250 1 at £150 4 at £150 4 at £150 4 at £150 4 at £150 4 at £550 1 at £325 1 at £325 1 at £3325 1 at £3325	intendent Intend	(NON-PER:	MANENT	s).	£ 850 800 400 700 300 275 254 750 150 400 200  1,845 1,130 1,545	1,100 333 1,000	
1	i	Unce  1 Medical Super 1 Inspector of F 1 Director of Ma  19 Medical Office 1 at £850 1 at £800 1 at £800 1 at £700 1 at £300 1 at £275 1 at £254 3 at £250 1 at £150 4 at £150 4 at £150 4 at £150 4 at £550 1 at £550 1 at £550 1 at £500 1 at £400  1 at £500 1 at £500 1 at £500 1 at £100 1 at £500 1 at £500 1 at £500 1 at £505 3 at £515	intendent Intend	(NON-PER:	MANENT	s).	£ 850 800 400 700 300 275 254 750 150 400 200  1,845 1,130 1,545	1,100 333 1,000 5,079 4,520	
1	i	Unce  1 Medical Super 1 Inspector of F 1 Director of Ma  19 Medical Office 1 at £850 1 at £800 1 at £800 1 at £700 1 at £300 1 at £275 1 at £254 3 at £250 1 at £150 4 at £150 4 at £150 4 at £150 4 at £550 1 at £300  8 School Medica 3 at £615 2 at £565 3 at £515  4 Inspectors of 1 at £400 2 at £325 1 at £300  5 Port Health C	intendent Iospitals a aternal We ers— nonths) Health—	(Non-person (Non-p	MANENT	s).	£ 850 800 400 700 300 275 254 750 150 400 200  1,845 1,130 1,545	1,100 333 1,000	
1	i	Unce  1 Medical Super 1 Inspector of F 1 Director of Ma  19 Medical Office 1 at £850 1 at £800 1 at £800 1 at £700 1 at £300 1 at £275 1 at £254 3 at £250 1 at £150 4 at £150 4 at £150 4 at £150 4 at £550 1 at £350  8 School Medica 3 at £615 2 at £565 3 at £515  4 Inspectors of 1 at £400 2 at £325 1 at £300  5 Port Health C 2 at £350	intendent Iospitals a aternal We ers— nonths) Health—	(Non-person (Non-p	MANENT	s).	£ 850 800 400 700 300 275 254 750 150 400 200  1,845 1,130 1,545  400 650 300 700	1,100 333 1,000 5,079 4,520	
1	i	Unce  1 Medical Super 1 Inspector of F 1 Director of Ma  19 Medical Office 1 at £850 1 at £800 1 at £800 1 at £700 1 at £300 1 at £275 1 at £254 3 at £250 1 at £150 4 at £150 4 at £150 4 at £150 4 at £550 1 at £300  8 School Medica 3 at £615 2 at £565 3 at £515  4 Inspectors of 1 at £400 2 at £325 1 at £300  5 Port Health C	intendent Iospitals a aternal We ers— nonths) Health—	(Non-person (Non-p	MANENT	s).	£ 850 800 400 700 300 275 254 750 150 400 200  1,845 1,130 1,545	1,100 333 1,000 5,079 4,520	

Number	Ī								
	Item							1938-	-39.
38–39.		VOTE No.	. 31.—HI	EALTH-	continu	ued.	į-		
JO-JJ.	J	Salaries—continued.						£	£
		Unclassified	(Non-per	RMANENT	rs)—con	tinued.			
		1 Assistant House l	Manager s	at. £425				425	
		9 School Dental Of			•		£	12.7	
ì	Ī	2 at £400			• •		800		
		2 at £380	• •	• •			760		
1		3 at £325 1 at £320	• •	• •	• •	• •	$\begin{array}{c} 975 \\ 320 \end{array}$		
		1 at £320	• •	• •	• •		300		
		1 80 2500	• •	• •	• •	• •		3,155	
		6 Clerks—					1	í	
İ		1  at  £350					350		
ļ		1 at £335					335		
		2 at £295	• •		• •		590		
99		1 at £275		• •		• •	275	!	
33	ļ	1 at £265	• •	• •			265	1,815	
1	į	3 Ante-natal Sisters	s					1,010	
		1 at £260					260	1	
		1  at  £255					255	i	
3	İ	1 at £220					220		
		01 O: M 37						735	
!		21 Staff Nurses—					1 000	ļ	
		$5 \text{ at } £200 \\ 4 \text{ at } £190$	• •	• •			760		
	1	4 at £180	• •	• •	• •		720	i	
		4 at £170	• •	• •	• •	• •	680		
		3 at £160			• •		480		
		1 at £155					155		
								3,795	
		4 Matrons—					085		
:		1 at £275				• •	275		
		1 at £205	• •	• •	• •	• •	205	i	
!		1 at £200 1 at £200 (6 mon	 .tha)	• •	• •	• •	$\frac{200}{100}$		
ļ	I	1 46 2200 (0 mon	.0118)	• •	• •	• •	100	780	
		3 Sub-matrons							
1	:	1  at  £235					235	ļ	
		1  at  £225	• •				225	!	
28	1	1 at £220	• •				220	200	
1		1 Massauss at 6150						680	
1	;	1 Masseuse at £150		• •	• •	• •	• •	150	
1		55 District Health	Nurses-					1	
	İ	7 at £280	• •				1,960		
		1 at £265	• •				265		
1	1	5 at £255					1,275		
		1 at £245		• •	• •		245	į	
		7 at £235	• •	• •	• •	• •	1,645		
		9 at £225 10 at £215	• •	• •	- •		$2,025 \\ 2,150$		
55		15 at £215 (6 mo	nths)	• •		• •	1,612 +		
50	İ	10 00 2210 (0 1110		• •		• •		11,177	
		7 School Nurses—						,	
	!	3 at £250		, .			750		
		2 at £215					430		
	İ	2 at £205				. ,	410	1 500	
;		3 Sorters—						1,590	
!		3 Sorters— 1 at £255					255		
:		$\begin{array}{c} 1 \text{ at } £255 \\ 1 \text{ at } £245 \end{array}$			• •		$\begin{bmatrix} 255 \\ 245 \end{bmatrix}$	!	
	i		• •						
	į	1 at £220			, ,		220		

nber of Iter sons.	vote No	, en 1	፲፱፻፻ጣ	نام	uad		1938-	39.
3–39.	- VOTE NO	o. 31.—J	HEALTH	contint	uea.			
1	Salaries—continued						£	9
	Unclassifier	(Non-	PERMANE	NTS)—con	tinued.			
!	1 Clerk Storeman	at £245					245	
	4 Assistant Distric	t Hooltk	Nurene			£		
	2 at £85	· · · · ·	i ivuiscs .			170		
	2 at £30					60	222	
	2 Caretakers—						230	
	1 at £210					210		
	1 at £136					136	946	
	4 Milk Scheme Off	icers—					346	
	1 at £400					400		
	1 at £260					260		
21	$\begin{array}{c} 1 \text{ at } \pounds 234 \\ 1 \text{ at } \pounds 91 \dots \end{array}$	• •		• •		$egin{array}{c c} 234 & \\ 91 & \\ \end{array}$		
21	1 40 201	• •	• •	• •	• •		985	
	24 Dental Nurses-	_				1 045		
	7 at £235 13 at £225	• •		• •	• •	$\begin{bmatrix} 1,645 \\ 2,925 \end{bmatrix}$		
	2 at £215			• •	• •	430		
24	2 at £205					410		
	10 Chanthand treni	nta					5,410	
	19 Shorthand-typis 1 at £205	sus—				205		
	3 at £195					585		
	3 at £165	• •				495	:	
	1 at £125 4 at £105				• •	$\begin{array}{c c} 125 \\ 420 \end{array}$	1	
	1 at £90 (6 mon	ths)				45		
	1 at £90 (3 mon		• •			23		
	4 at £85 1 at £65	• •		• •		$\begin{bmatrix} 340 \\ 65 \end{bmatrix}$		
			• •	••			2,303	
	3 Office Assistants					105		
	1 at £195 1 at £125	• •	• •	• •	• •	$\begin{array}{c c} 195 \\ 125 \end{array}$		
22	1 at £65					65		
;	1.75 . 1.44 . 1						385 78	
j	1 Dental Attendants 5 Clerk Attendants		• •		• •	• •	10	
	1 at £205					205		
	1 at £185					185		
	2 at £165 1 at £125	• •	• •	• •	• •	$\begin{vmatrix} 330 \\ 125 \end{vmatrix}$		
		• •		• • •			845	
	1 Bacteriologist at					• •	100	
	23 Medical Officers 1 at £100	(Native	9)			100		
	1 at £90					90		
	1 at £85					85		
	1 at £80 5 at £75	• •	• •	• •		$\begin{vmatrix} 80 \\ 375 \end{vmatrix}$		
	1 at £60		• •	• •	• •	60		
	2 at £55					110		
	8 at £50 1 at £35	• •	• •	• •		$\frac{400}{35}$		
	1 at £25	• •	• • •	• • •		25		
30	1 at £20	• •				20	1 900	
	1						1,380	

of Persons.	Item	VODE N. 91 TERATORI	1938-	-39.
938-39.		VOTE No. 31.—HEALTH—continued.		
	1	Salaries—continued.	£	£
		Unclassified (Non-permanents)—continued.		
1		1 Bacteriological Traince at £225	225	
825		Salaries of relieving staff	500	
040		Regulation 209)	20	
3		Less amount provided but not required	197,727 1,415	
822		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)—  Amounts deducted from salaries of Institutional employees for board and £ lodging		
		3,500		
		OTHER CHARGES FOR AND INCIDENTAL TO—	196,312	
		General Administration—		
	2	Advertising, photographs, books, newspapers, and other		
	3	publications Bounty to parents of quadruplets born at Dunedin	180 100	
	4	Bounty to parents of quadruplets born at Dunedin Committee of Inquiry into maternity services	250	
	5	Contribution to Internationale d'Hygiene Publique	120	
	6	Departmental contribution to National Provident Fund in		
	7	respect of Nurses and Inspectors Expenses of delegates attending overseas Medical and	5,300	
	0	Health Conferences	40	
	$\begin{vmatrix} 8 \\ 9 \end{vmatrix}$	Freight, cartage, and transport charges	$\begin{bmatrix} 22 \\ 240 \end{bmatrix}$	
	10	Director-General of Health towards expenses of tour to		
	1	United States of America, Canada, Great Britain, and	Í	
		Europe	400	
	11	Dr. H. Smith towards travelling-expenses from United Kingdom to New Zealand	150	
	12	Hawke's Bay Hospital Board towards cost of earthquake	100	
	İ	rehabilitation	2,025	
	13	Hospital Boards to cover payment of Christmas bonus to	2 000	
	14	recipients of Hospital relief Local authorities of the old Thames Hospital District	2,000	
	1.1	in casement of additional contributions required, due to		
	!	amalgamation of Hospital districts	750	
	15	Thames Hospital Board towards cost of allowance to	20	
	16	ex-employee	$\frac{26}{ }$	
	10	expenditure on Coromandel Hospital	500	
	17	Waipawa Hospital Beard towards reconditioning build-		
	,	ings, &c., Pukeora Sanatorium	2,500	
	18	Widow, equivalent to leave due to officer (deceased)	48	
	$\frac{19}{20}$	Law-costs (part recoverable)	$\begin{array}{c} 36 \\ 10 \end{array}$	
	$\begin{vmatrix} 20 \\ 21 \end{vmatrix}$	Medical and hospital expenses of officers injured, &c.,	10	
		whilst on duty	17	
	22	Motor-cars, motor-cycles, &c	0.000	
		Purchase of	9,005	

### ${\tt DEPARTMENT\ OF\ HEALTH--} continued.$

Number of Persons.	Item	WOMEN OF THE LEGIT OF	1938–8	39.
	<u> </u>	VOTE No. 31.—HEALTH—continued.	1	
938-39.		OTHER CHARGES FOR AND INCIDENTAL TO—continued.	£	£
	:	General Administration—continued.		
	24	Office-cleaning	150	
	25	Office fittings and requisites	4,840	
	26	Overtime and meal-allowances	150	
	27	Postage and telegrams	1,950 +	
	28	Printing and stationery	1,750	
	29	Private maternity homes: St. Helens patients' expenses	ŕ	
		(partly recoverable)	50	
	30	Professional inspection of surgical work of hospitals	400	
	- 31	Quackery Prevention Act	5	
	32	Rent	2,035	
	33	Repairs to privately-owned motor-cars damaged in collision		
		with departmental cars	20	
	34	Rest-homes for destitute and old people: Special rates	1	
		on land purchased at Otaki	1	
	35	Services rendered by—	i	
		Legislative Department: Caretakers' services, £		
		charing, &c		
	1	Post and Telegraph Department: Collection of		
		receipts 80		
		Other Departments: Miscellaneous services 5		
			900	
	36	Stores and material	50	
	37	Structural alterations to provide additional accommodation:		
		Sera and Dental Store, Wellington	1,150	
	38	Supply of milk to school-children, scheme for	145,000	
	39	Telephone services (including installations, extensions,	1 000	
	1.0	maintenance, rent, and calls)	1,800	
	40	Transfer and removal expenses	650	
	41	Transfer expenses and maintenance, New Zealand lepers at	9.60	
	40	Makogai	360	
	42	Travelling allowances and expenses (part recoverable)	10,050	
	43	Treatment of poliomyelitis: Expenses of orthopædic		
		surgeons appointed to report on the treatment and	<b>50</b> .	
		progress of patients suffering from infantile paralysis	50	
	4.4	Typewriters—	105	
	44	Purchase of	185	
	45	Maintenance of	60	
	46	Waikato Hospital Board: Payment for hospital treatment		
		afforded at Rotorua Hospital to members of the Ngati- Whakaue sub-tribe of the Arawas	1 050	
		Westland Hospital Board—	1,950	
	47	Grant towards cost of equipment for casualty stations		
	4.	at Weheka and Bruce Bay	200	
	48	Grant of half-cost of maintenance (including salaries) of	200	
	<b>T</b> O	casualty stations at Weheka and Bruce Bay (maximum		
	1	grant, £350)	350	
	49	Contingencies (including unforeseen expenditure incidental	900	
	10	to other items of the vote)	16	
		to outer rectains of one vote)	10	
		İ	205,431	
		Dangerous Drugs Act (part recoverable)—		
		you was a root remote)		
	50	Other expenses	50	
			Ì	
		Dentists Act—	.*	

### $\label{lem:appropriations} \textit{Appropriations for Consolidated Fund Services}.$

	1 1			
Number of Persons.	Item		1938-	39.
938-39.		VOTE No. 31.—HEALTH—continued.		-
<i>.</i>		OTHER CHARGES FOR AND INCIDENTAL TO—continued.	£	£
		Health Act—		
	$\begin{vmatrix} 52 \end{vmatrix}$	Board of Health: Expenses (including fees to members)	75	
	53	Compensation payable under Health Act	5	
	54   55	Disinfectants, purchase of (part recoverable)	150 850	
	56	Infectious diseases (part recoverable)	900	
	57	Notification of infectious diseases	350	
	$\begin{bmatrix} 58 \\ 59 \end{bmatrix}$	Sera, purchase of (recoverable)	$\frac{4,750}{10}$	
	60	Other expenses	$\frac{10}{1,200}$	
			8,290	
		Hospitals and Charitable Institutions Act—	0,230	
	61	Subsidies to Hospital Boards 878,000		
	. 01	Subsidies to separate Institutions 1,400		
			879,400	
		Masseurs Registration Act—		
	62	Examination expenses, &c. (part recoverable)	120	
	02	(part recoverable)		
		Medical Practitioners Act—	İ	
	63	Expenses (part recoverable)	125	
		Nurses and Midwives Registration Act—		
	64	Examination expenses, &c. (part recoverable)	1,500	
		· · · · · · · · · · · · · · · · · · ·		
		Opticians Act—		
	65	Expenses (recoverable)	115	
		Plumbers Registration Act—		
	c.c	Everying the average Res (next are very LL)	500	
	66	Examination expenses, &c. (part recoverable)	500	
	İ	Poisons Act—		
		!		
	67	Expenses (part recoverable)	50	
		Sale of Food and Donas Act		
		Sale of Food and Drugs Act—		
	68	Law-costs (part recoverable)	35	
	69	Other expenses (including purchase of samples)	500	
		S '1 H ' A	535	
		Social Hygiene Act—		
	70	Expenses	25	
	71	Treatment, &c., of indigent patients by medical practitioners	30	
			55	

Number of Persons.	Item	VOTE No. 31.—HEALTH—continued.	1938–3 <b>9.</b>	
938-39.		OTHER CHARGES FOR AND INCIDENTAL TO -continued.	£	£
		$Bacteriological\ Laboratories-$	£	T.
	72 73.	Contributions to Hospital Boards' laboratories	3,200 170	
		Dental Hygiene Administration—	3,370	
	74 75 76	Dental clinics, expenses of (part recoverable)  Hostel for dental trainees, Wellington (part recoverable)  Hostel for dental trainees, Hobson Street, Wellington (part	20,500	
	77	recoverable)	5,610	
		for (on account)	6,650	
	78	Travelling allowances and expenses	1,800	
		Maori Hygiene Administration (part recoverable)—	38,060	
	79 80	Erection of cottages for District Nurses at Murupara and Pipiriki, and purchase of site at Pipiriki	2,850	
	01	camp hospitals, &c.)	6,950	
	81   82	Maori sanitation and water-supplies Supply of medicines	$\begin{bmatrix} 3,000 \\ 3,050 \end{bmatrix}$	
		Maternal Welfare Administration—	15,850	
	83	Expenses (part recoverable)	300	
		School Hygiene Administration—		
	84 85	Other expenses (including equipment) Uniforms, allowances to nurses for	900 375	
		Grants-in-aid	1,275	
	86	Anti-tuberculosis campaign: Allocation of proceeds of		
	1 05	sale of Christmas stamps	1,000	
	87     88   89	Children's Rest Home, Dunedin	750 200	
	90	amongst Maoris Hospital Boards' Association of New Zealand	$\begin{array}{c c} 150 \\ 40 \end{array}$	
	+91	Hospital Boards' Association of New Zealand Medical research work (part recoverable)	5,000	
	92	Mount Magdala Asylum	600	
	93	Relief of indigent persons	300	
	94	Royal N.Z. Society for Health of Women and Children	24,600	
	$\frac{95}{96}$	Salvation Army St. Mary's Homes, Otahuhu	$\frac{1,128}{200}$	
	97	Women's Division of N.Z. Farmers' Union	200	
	98	Subsidy— Mercury Bay Hospital Trustees (£1 for £1)	150	
		Institutions under control of Department—	34,318	
		Wages—	!	
	99	Hanmer Hospital	19,800	
	100	Auckland	2,700	
	100 101 102	Auckland	$egin{array}{c c} 2,700 \\ 2,100 \\ 1,750 \\ \hline \end{array}$	

	1			
Number of Persons.	Item		1938–39.	
	i	VOTE No. 31.—HEALTH—continued.		
1938-39.	!	OTHER CHARGES FOR AND INCIDENTAL TO—continued.	£	£
	!	Institutions under control of Department—continued.		:
		Maintenance		
	104	Hanmer Hospital	14,000	
	$\frac{105}{100}$	Auckland	4,500	i I
	$\frac{106}{107}$	Wellington	4,600	
	108 ;	Dunedin	2,950 $20$	:
	109	Invercargili	1,850	
	110	Establishment charges (buildings, renewals, repairs, &c.)	3,000	
	1 1		58,320	
	;		1,247,914	i
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)—	 	
		Sale of Christmas stamps, anti-tuberculosis £		
		campaign 1,000 Bacteriological Laboratories: Sales and	:	
		services 350		
		Civil List contributions towards Maori		
		medical service 3,600		
		Institutional Patients' Fees-		
		Rotorua, King George V Hospital 130		
		Hanmer, Queen Mary Hospital 20,500		
	i	Law-costs recovered in proceedings, &c 20		*
		Local bodies' contributions for sanitary- inspection services		
		0.00		İ
	i	Recoveries in connection with—	i	ļ
	İ	Dental Clinics 5,000		į
	!	Hostel for dental trainees, Wellington 3,140		
	i, i	Hostel for dental trainces, Hobson Street,		i.
	. 1	Wellington 975		
	1	Infectious disease prevention		İ
		Inspection of vessels		
		Medical Research 100	i	i
		Sales of Acts, pamphlets, &c 280 Sales of—		
		Disinfectant and disinfection fees 70	i	1
		Material used at plumbers' examinations 100	İ	
	1	Sales of sera 5,200	1	
	! !	Miscellaneous 1,950	•	
		61,915		
		Gross Total		1,444,226
	1	Credits-in-aid (a)		65,215
		· •		
	1 1	NET TOTAL—VOTE No. 31		1,3 <b>79</b> ,011
		i) Credits-in-aid—	1000 00	
	(0		1938–39. £	
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	. 3,300 . 61,915	
		(Poto)		
		Total	. 65,215	

#### MENTAL HOSPITALS DEPARTMENT.

				:		19	<b>3</b> 8–39.	
					Salaries	e. Oth	er Charges.	Total.
Vote No	. 32	-Mental Hospitals-			£		£	£
Gro	ss To	OTAL			401,3	65	238,645	640,010
Crei	DITS-I	N-AID			39,8	50	179,200	219,050
NET	то:	TAL			361,5	15	59,445	420,960
Number of Persons.	Item	VOTE No. 32.—MEN	тат. 1	IOSPIT	ALS	r	1938	3–39.
938-39.			1. 2. 2. 2 1.	.001112	1110.			
	1	SALARIES Administrativ	E Divi	SION.			£	£
1		1 Director-General at £1,350	• •				1,350	
		Professional	Divis	ION.		£		 
9		1 Acting Deputy Director-Ger 8 Medical Superintendents at		£1,200		1,200 9,600	10,800	
		Class Special A— 4 Medical Officers at £900 Class Special B—	••			3,600	10,000	
	1	4 Medical Officers at £815 Class Special C—	• •	• •	• •	3,260		i I
10		1 Medical Officer at £765 1 Medical Officer at £715		• •	• •	$765 \\ 715$	ļ	
10	!	Class B—	• •		••		8,340	
8	:	8 Medical Officers at £565	• •	• •	• •		4,520	
		Character 3	<b></b>	_			25,010	
	i	Clerical $1$	)1V1S1O1	ν.				i .
1.	·	$\begin{array}{ccc} 1 & \text{at £615} & & \dots \\ Class & II & & \end{array}$	• •	• •			615	
1	. !	$\begin{array}{ccc} 1 \text{ at £515} & \dots \\ Class & III & \dots \end{array}$	• •				515	
5		5 at £445 Class IV—	• •		••	÷.	2,225	
2	, 	$egin{array}{ccccc} 1 &  ext{at } \pounds 425 & & \dots \ 1 &  ext{at } \pounds 400 & & \dots \ Class & V & & & \dots \end{array}$				425 400	825	
5		4 at £380 1 at £355		• •	••	$\frac{1,520}{355}$		
		Class VI— 4 at £335				1,340	1,875	,
5		1 at £335 (3 months), £320	(9 mon	ths)	• •	324	1,664	I I I

<sup>\*</sup> For particulars of salaries see "Public Service Classification List."

of Item ersons.	VOTE No. 32.	MENT	T HOST	OTTENT O	anntin:	ıad	1938–	3 <b>9.</b>
38-39.			IL HOSI	11ALO	-сонични	ieu.		
1	SALARIES—continu	ied.				1	£	£
	CLE	ERICAL DIV	/ISIONc	ontinued				
	Class VII—	mone of	1101011	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		£	!	
	6 at £305					1,830	1	
i	3 at £280					840	Í	
	1 at £230					230		
	2  at  £205					410		
	4 at £155	• •				620		
	12 at £115	• •	• •	• •		1,380		
32	2 at £95 2 at £80	• •	• •	• •		$\frac{190}{160}$		
34	2 at 100	• •	• •	• •		100	5,660	
						i e	0,000	
							13,379	
		GENERA	l Divisio	N.				
			. 6007					
	2 Storekeepers'			• •	• •	570		
	7 Storemen at £ 1 Office Assistan		• •	• •	• •	$\begin{array}{c} 1,820 \\ 265 \end{array}$		
	1 Office Assistan			• •	• •	$\begin{array}{c} 205 \\ 225 \end{array}$		
	1 Office Assistan			• •		$\frac{225}{195}$		
İ	3 Office Assistan					555		
}	1 Office Assistan					165		
	1 Office Assistan	nt at £105				105		
	1 Shorthand-wri					195		
1	4 Shorthand-wri					<b>74</b> 0		
	2 Shorthand-wri					350		
į	2 Shorthand-wri				• •	290	,	
i	2 Shorthand-wri				• •	$\frac{250}{210}$	1	
	2 Shorthand-wri 1 Shorthand-wri				• •	85 ;		
ı	2 Shorthand-wri				• •	130	!	
	1 Social Service					275	1	
	1 Social Service					235		
37	2 Dental Officers					890		
							7,550	
	Head Attendants	R						
	Class A-						!	
4	4 at £420						1,680	
							,	
	Class B—							
8	8 at £400		• •				3,200	
	GI G							
9 ,	Class C—					į	3 490	
9	9 at £380	• •		• •	• •		3,420	
!						!	8,300	
	Matrons-					:		
	Class A-						-	
4	4 at £405		. •				1,620	
	Class B—					1	<b>a 1</b> a	
9 +	9 at £345	• •		• •		]	3,105	
	Class C-					£	i.	
+	16 at £300					4,800	I	
17	1 at £285	• •	• •		• •	285		
	1 40 2200		••	• •	• •		5,085	
	Sisters—					i	,,,,,,	
:	8 at £245					1,960	a e	
	1 at £240	• •				240		
9	t .						2,200	
9						the state of the s		
9						1-	12,010	

#### ${\tt MENTAL \; HOSPITALS \; DEPARTMENT-} continued.$

Number of Persons.							1938-	-39.
	VOTE No. 32.—ME	ENTAL	HOSE	PITALS—	-contin	ued.		
38-39.	SALARIES—continued.						£	£
1	GENERAL	. Divisi	ONco	ntinued				
	Engineers -					£	!	
	$\int$ at £425					2,125		
	1 at £400 (7 months	s)				233	i	
						355	İ	
				• •		1,920		
	1 at £305 (7 months	s)				178	1	
15	1 at £300		• •	• •	• •	300	5,111	
	Farm Supervisor					-		
1	1 at £490						490	
	Farm Managers—							
	0 1 6400					800		
Í	1 at £380			• •		380		
	2 at £355					710		
6	1 at £335					335		
	·	•			• •		2,225	
$_2$	Farm Overseers— 2 at £280					!	560	
						j	3,275	
	$Engine-drivers-\!\!\!\!-\!\!\!\!\!-$					-	0,210	
	3 at £275 (7 month	s)				481		
31	20 . 6000	~ <i>)</i>				7,280		
							$7,761 \pm$	
	Electricians—					!		
2	2 at £275					• •	550	
	Fitter—						1	
1	$1 \text{ at } £260 \dots$						260	
•	1 40 2200	• •	• •	• •	• • •	•••	200	
	Labourers—					1		
	1 at £250					250		
	1 at £240					240		
4	2 at £230	• •	• •	• •	• •	460	050	
	Laundryman						950	
1	1 at £240 (7 month	s)					140	
-		,		• •				
	Attendants—					:		
İ	40 at £310	• •				12,400	:	
	11 at £295	• •				3,245	İ	
	78 at £285					22,230		
	200 at £275	• •	• •	• •		55,000	4	
	20 at £265	٠.	• •	• •		5,300	ĺ	
F0.4	100 at £255	• •	• •			25,500	3	
594	145 at £245	• •	• •	• •	• •	35,525	159,200	
	Works Overseers—						: :	
	1 at £370					370		
	4 at £355					1,420	1	
6	1 at £295		• •			295	0.005	
	Carpenters—						2,085	
	16 at £275					4,400	İ	
17	1 4 6100		• •			100	ļ	
	1 00 00100		• •	••	••		4,500	
	Upholsterers—						-,	
	3 at £270					810		
4	1 at £270 (6 month	s)				135		
}	· ·						$945^{+}$	

Number of Persons.	Item	VOME N	<b>እ</b> ∉ፕታነ <u>አ</u> ቸለው 4	T TTOOT	OTM A T CI	annettu -	d	1938-	3 <b>9</b> .
938-39.		VOTE No. 32	—MLEINTA	LL HOSI	TTALS—	-contini	iea.		
000 001	1	Salaries—continue	d.				:	£	£
		0	Tr				İ		
		Bricklayers—	ERAL DIV	ision—co	munuea.		£		
		2 at £275					550		
3		1 at £270	• • •			•••	270	:	
								$820^{-1}$	
		$Blacksmiths-\!\!\!\!-\!\!\!\!-$							
	į	3 at £275	• •	• •		• •	825		
4		1 at £120	• •	• •		• •	120	945	
		Painters—						949	
	1	5 at £275					1,375	:	
		3 at £270					810		
9	İ	1 at £100	• •			• •	100		
		D . 1						2,285	
		Bootmakers-					910		
		3 at £270 3 at £260	• •	• •	• •	• •	810 780		
7		1 at £250	••	• •	• •	• •	250	1	
•		1 40 200	••	••	• •	• •		1,840	
		Bakers—							
9		9  at  £305		• •		• •		2,745	
	l	70 . 1					İ	:	
		Butchers— 4 at £260					1,040	I	
6		2 at £250	• •	••	••	• •	500	i	
Ü		<b>a</b> a <b>a a a</b>	••	••	• • .	• • •		1,540	
		Poultrymen-							
		3 at £260					780	į.	
		1 at £225	• •				225		
5		1 at £185	• •	• •	• •	• •	185	1 100	
		Plumbers—						1,190	
		8 at £275					2,200	į.	
10		2 at £270		••	••	••	540	!	
								2,740	
		Gardeners-					222		
		1 at £280	• •	• •	• •	• •	280		
		$2 \text{ at } £275 \\ 11 \text{ at } £260$	• •	• •	• •	• •	2,860	!	
		1  at  £250	• •	• •		• •	$\frac{2,000}{250}$		
	1	$\begin{array}{c} 1 \text{ at £220} \\ 1 \text{ at £220} \end{array}$	• •	• • •	• • •	• • •	220	1	
17		1 at £220 (8 me	onths)	• •			147	!	
								4,307	
		Tinsmith—						900	
1	į l	1 at £260	••	• •	• •	• •	••	260	
	! !	Motor-drivers—							
		14 at £260					3,640		
		1 at £240					240	!	
16		1 at £230					230		
		T. 11 '						4,110	
		Farm Hands					735		
		$\begin{array}{c} 3 \ { m at} \ \pounds 245 \\ 2 \ { m at} \ \pounds 240 \end{array}$	• •	• •	• •	• •	480		
		1 at £235	••	• •	• •	• •	235		
		2 at £225	••	• •	• •		450		
		9 at £215	• •		• •		1,935		
		1 at £210		• •			210	ļ	
		2 at £195	• •	• •	• •	• •	390		
		1 at £185 12 at £1 <b>7</b> 5	• •	• •	• •	• •	$ \begin{array}{c c} 185 \\ 2,100 \end{array} $	!	
49		16 at £165	• •	• •	• •	• •	2,640		
10	1	10 00 2100	••	• •	• •	• •	_, 5.20	9,360	

~~ 1								The state of the s
Number of	tem						1938-	.39
Persons.	VOTE No. 32.—M	TENTIN A	T HOST	OTMAT C			1000	00.
938-39.	VOLE NO. 32.—N	.D/1N 1. #	IL HUSI	TLALO-	-conun	uea.		
000 80.	1 SALARIES—continued.						£	£
		r Dia	ision—co	ntinued.				
	Messengers—					£		
	$\begin{array}{c} 2 \text{ at } £220 \\ 1 \text{ at } £168 \end{array}$	• •	••	• •	• •	440 168		
	1 at £150	••	• •	••	• •	150	}	
5	1 at £140	••	••	••	•••	140		
							898	
	Institution Officers—					010		
	1 at £310	• •	• •	• •	• •	310	1	
	1 at £285 1 at £2 <b>7</b> 5	••	• •	• •	• •	$\begin{array}{c} 285 \\ 275 \end{array}$		
	1 at £265	• •	• •	• •	• •	265		
	13 at £255	• •	• • •	• • •	• • •	3,315		
	1 at £245					245		
	1 at £210					210		
	2 at £200		• •			400		
	5 at £170	• •	• •	• •	• •	850		
	6 at £160	• •	• •	• •	. ••	960		
	5 at £140 7 at £130	••	• •	• •	• •	700   910		
52	8 at £120	• •	• •	• •	• • •	960		
02	0 at 2120	••	••	••	••		9,685	
	Nurses—						,,,,,	
	40 at £210					8,400		
	20 at £200		• •	• •		4,000		
	32 at £190	• •	• •	• •	• •	6,080		
	43 at £170	• •	• •	• •	• •	7,310		
	14 at £160 50 at £150	• •	• •	• •	• •	$\frac{2,240}{7,500}$		
	100 at £140	• •	••			14,000		
	146 at £130					18,980		
714	269 at £120					32,280		
						-	100,790	
	Hairdressers—					070	•	
	1 at £273	••	• •	• •	• •	273	+	
	1 at £260 1 at £195	• •	• •	• •	• •	$\begin{array}{c} 260 \\ 195 \end{array}$		
4	1 at £175	• •		• •	• •	175		
-	1 30 2113	•	• •	• •		2.0	1	
							903	
	$Seam stresses-\!\!\!\!-$						903	
	4 at £200					800	903	
4.0	4 at £200 2 at £190	•••	••	• • • • • • • • • • • • • • • • • • • •		380	903	
10	4 at £200	•••			••			
10	4 at £200 2 at £190 4 at £170	••				380	1,860	
10	4 at £200 2 at £190 4 at £170 Cooks—	••				380 680		
10	4 at £200 2 at £190 4 at £170 Cooks— 1 Male at £260					380 680 260		
10	4 at £200 2 at £190 4 at £170 Cooks—					380 680		
10	4 at £200 2 at £190 4 at £170 Cooks— 1 Male at £260 1 Male at £250 3 Males at £245 1 Female at £250	•••				260 250 735 250		
10	4 at £200 2 at £190 4 at £170 Cooks— 1 Male at £260 1 Male at £250 3 Males at £245 1 Female at £250 4 Females at £210					260 250 735 250 840		
10	4 at £200 2 at £190 4 at £170 Cooks— 1 Male at £260 1 Male at £250 3 Males at £245 1 Female at £250 4 Females at £210 1 Female at £200					260 250 735 250 840 200		
10	4 at £200 2 at £190 4 at £170 Cooks— 1 Male at £260 1 Male at £250 3 Males at £245 1 Female at £250 4 Females at £210 1 Female at £200 10 Females at £17					260 250 735 250 840 200 1,700		
10	4 at £200 2 at £190 4 at £170 Cooks— 1 Male at £260 1 Male at £250 3 Males at £245 1 Female at £250 4 Females at £210 1 Female at £200 10 Females at £17 4 Females at £160					260 250 735 250 840 200 1,700 640		
10	4 at £200 2 at £190 4 at £170 Cooks— 1 Male at £260 1 Male at £250 3 Males at £245 1 Female at £250 4 Females at £210 1 Female at £200 10 Females at £17 4 Females at £160 4 Females at £140					380 680 260 250 735 250 840 200 1,700 640 560		
	4 at £200 2 at £190 4 at £170 Cooks— 1 Male at £260 1 Male at £250 3 Males at £245 1 Female at £250 4 Females at £210 1 Female at £200 10 Females at £17 4 Females at £160 4 Females at £140 5 Females at £130					380 680 260 250 735 250 840 200 1,700 640 560 650		
10	4 at £200 2 at £190 4 at £170 Cooks— 1 Male at £260 1 Male at £250 3 Males at £245 1 Female at £250 4 Females at £210 1 Female at £200 10 Females at £17 4 Females at £160 4 Females at £140					380 680 260 250 735 250 840 200 1,700 640 560	1,860	
	4 at £200 2 at £190 4 at £170  Cooks— 1 Male at £260 1 Male at £250 3 Males at £245 1 Female at £250 4 Females at £210 1 Female at £210 2 Females at £17 4 Females at £160 4 Females at £140 5 Females at £130 9 Females at £120  Cocupational Officer					380 680 260 250 735 250 840 200 1,700 640 560 650 1,080		
	4 at £200 2 at £190 4 at £170  Cooks— 1 Male at £260 1 Male at £250 3 Males at £245 1 Female at £245 4 Females at £210 1 Female at £210 4 Females at £17 4 Females at £160 4 Females at £140 5 Females at £130 9 Females at £120  Occupational Officer 1 at £250	   0   s—				380 680 260 250 735 250 840 200 1,700 640 560 650 1,080	1,860	
	4 at £200 2 at £190 4 at £170  Cooks— 1 Male at £260 1 Male at £250 3 Males at £245 1 Female at £250 4 Females at £210 1 Female at £210 2 Females at £17 4 Females at £160 4 Females at £140 5 Females at £130 9 Females at £120  Cocupational Officer	   0   s—				380 680 260 250 735 250 840 200 1,700 640 560 650 1,080	1,860	

of Persons.	Item	VOTE No. 32	MIENTEA	T UOSI	OTWAT C	aontina	rod.	1938-	·3 <b>9</b> .
938- <b>3</b> 9.		VOIE NO. 52	-MIMINI A	пові	11AL <sub>0</sub> 5	comuni	<i>ieu</i> .		
	1	Salaries—continue	d.					£	£
		Cray	ERAL DIV	101011 00	antimar of		İ		
		Laundresses—	SKAL DIV.	ISION—co	rminaea.		£		
	1 ;	5 at £210					1,050		
		1 at £190 (7 mc	onths)	• • •	• •	• •	111		
		4 at £170	••	• •			680		
		1 at £160 (7 mc	onths)				93	i	
		3 at £140					420		
		2 at £130	• •				260		
21		5 at £120	• •	• •	• •		600	9.014	
		$Ward ext{-}maids ext{-}$						3,214	
	!!	1 at £130					130		
4		3 at £100	• •	••	• •	• •	$\frac{130}{300}$		
-	İ	9 110 2100	• •	• •	• •	• •		430	
		Official Visitors—	•						
	j :	8 at £26			• •		208		
9	1	1 at £14	• •				14		
								222	
			Non-per	RMANENT	s.				
		1 -1 6656					cec		
2	1 :	1 at £656 1 at £383	• •	• •	• •	• •	$656 \mid 383 \mid$		
		1 at £505	• •	• •	• •	• •	303	1,039	
1,864		Allowances						612	
		Allowances to me	dical offic	ers : Hor	ise, fuel, a	and ligh		2,850	
		T		1				413,365	
		Less amount	provided	out not i	requirea	• •	••	12,000	
		Estimated cr Revenue Board of a House, fue	s Act, 192 ttendants	26 (see en and nurs	d of vote	)—-	Public £ 37,000 2,850	4	
							39,850		
								401,365	
		OTHER CHARGES FO	R AND IN	CIDENTA	L TO		, ,		
	2	Advertising, photos	-				1	100	
	3	publications Bacteriological res	 zoarob	• •	• •		• •	100	
	4	Bedding and cloth		• •	• •		:	36,320	
								5,350	
	5	Buildings, improv	ements, re		 nd replace		İ	0.000	
		Buildings, improv Compensation und		epairs, ar	nd replace	ments		400	
	5 :	Compensation und Dental services	der Worke 	epairs, ar ers' Comp 	nd replace ensation	ments	į	400 90	
	5 6 7 8	Compensation und Dental services Farms, maintenar	der Worke  ice of (pai	epairs, ar ers' Comp  rt recover	nd replace ensation	ments		$\begin{array}{c}400\\90\\21,200\end{array}$	
	5 6 7 8 9	Compensation und Dental services Farms, maintenax Fencing, draining	der Worke  nce of (par , and road	epairs, ar ers' Comp  rt recover ling	nd replace pensation cable)	ments		400 90 21,200 800	
	5 6 7 8 9	Compensation und Dental services Farms, maintenar Fencing, draining Freight, cartage, a	der Worke  nee of (par , and road and transp	epairs, an ers' Comp  rt recover ling port char	nd replace pensation cable) ces	ments Act 		400 90 21,200 800 1,800	
	5 6 7 8 9 10	Compensation und Dental services Farms, maintenan Fencing, draining Freight, cartage, a Fuel, light, power	der Worke nee of (par , and road and transp , water, a	epairs, an ers' Comp  rt recover ling port char nd cleani	nd replace censation cable) ges ng	ments Act 		400 90 21,200 800 1,800 40,000	
	5 6 7 8 9 10 11 12	Compensation und Dental services Farms, maintenan Fencing, draining Freight, cartage, a Fuel, light, power Funerals, expense	der Worke nce of (pan , and road and transp , water, an s of	epairs, an ers' Comp rt recover ling port char nd cleani	nd replace bensation cable) ges ng	ments Act		400 90 21,200 800 1,800 40,000 700	
	5 6 7 8 9 10 11 12 13	Compensation und Dental services Farms, maintenar Fencing, draining Freight, cartage, a Fuel, light, power Funerals, expense Furniture and fur	der Worke nee of (par , and road and transp , water, ar s of nishings	epairs, an ers' Comp rt recover ling port char nd cleani 	nd replace pensation able) ges ng	ments Act		400 90 21,200 800 1,800 40,000 700 4,350	
	5 6 7 8 9 10 11 12 13 14	Compensation und Dental services Farms, maintenar Fencing, draining Freight, cartage, a Fuel, light, power Funerals, expense Furniture and fur Gardens and shrul	der Worke nee of (par , and road and transp , water, ar s of nishings bberies, ez	epairs, an ers' Comp rt recover ling port char nd cleani  xpenses o	ad replace censation cable) ges ng f	ments Act		400 90 21,200 800 1,800 40,000 700	
	5 6 7 8 9 10 11 12 13	Compensation und Dental services Farms, maintenar Fencing, draining Freight, cartage, a Fuel, light, power Funerals, expense Furniture and fur Gardens and shrul Grant in lieu of le	der Worke nee of (pan , and road and transp , water, an s of nishings bberies, ex	epairs, an ers' Comp rt recover ling port char nd cleani xpenses of	ad replace censation cable) ges ng f resigned	ments Act	asferred	400 90 21,200 800 1,800 40,000 700 4,350 535	
	5 6 7 8 9 10 11 12 13 14 15	Compensation und Dental services Farms, maintenar Fencing, draining, Freight, cartage, a Fuel, light, power Funerals, expense Furniture and fur Gardens and shrul Grant in lieu of le	der Worke nee of (pan , and road and transp , water, an s of nishings bberies, ex eave due to	epairs, an ers' Comp rt recover ling port char, nd cleani xpenses o so officers	ad replace censation cable) ges ng f resigned	ments Act or tran	asferred	400 90 21,200 800 1,800 40,000 700 4,350 535	
	5   6   7   8   9   10   11   12   13   14   15   16	Compensation und Dental services Farms, maintenan Fencing, draining Freight, cartage, a Fuel, light, power Funerals, expense Furniture and fur Gardens and shrul Grant in lieu of le to other Depart Grants to widows	der Worke nee of (pan , and road and transp , water, an s of nishings bberies, ex eave due to ments or relativ	epairs, an ers' Comp rt recover ling port char, nd cleani xpenses o so officers	ad replace censation cable) ges ng f resigned ceased office	ments Act or tran	asferred	400 90 21,200 800 1,800 40,000 700 4,350 535 20 200	
	5   6   7   8   9   10   11   12   13   14   15   16   17	Compensation und Dental services Farms, maintenar Fencing, draining Freight, cartage, a Fuel, light, power Funerals, expense Furniture and fur Gardens and shrul Grant in lieu of le to other Depart Grants to widows Laundry	der Worke nee of (par , and road and transp , water, ar s of nishings bberies, ex eave due to ments or relativ	epairs, an ers' Comp rt recover ling port char, nd cleani xpenses o so officers	ad replace censation cable) ges ng f resigned	ments Act or tran	asferred	400 90 21,200 800 1,800 40,000 700 4,350 535	
	5   6   7   8   9   10   11   12   13   14   15   16	Compensation und Dental services Farms, maintenar Fencing, draining, Freight, cartage, a Fuel, light, power Funerals, expense Furniture and fur Gardens and shrul Grant in lieu of leto other Depart Grants to widows Laundry Legal and inquiry	der Worke nee of (par , and road and transp , water, ar s of nishings bberies, ex eave due to ments or relativ costs	epairs, an ers' Comp rt recover ling port char, nd cleani xpenses o so officers res of dec	ad replace censation cable) ges ng f resigned cased office	ments Act or tran	asferred	400 90 21,200 800 1,800 40,000 700 4,350 535 20 200 2,300	
	5   6   7   8   9   10   11   12   13   14   15   16   17   18	Compensation und Dental services Farms, maintenar Fencing, draining Freight, cartage, a Fuel, light, power Funerals, expense Furniture and fur Gardens and shrul Grant in lieu of le to other Depart Grants to widows Laundry	der Worke nee of (pan , and road and transp , water, an s of nishings bberies, ex eave due to ments or relativ costs s, and ston	epairs, an ers' Comp rt recover ling port char, nd cleani xpenses o so officers res of dec	ad replace censation cable) ges ng f resigned eased office	ments Act or tran	asferred	400 90 21,200 800 1,800 40,000 700 4,350 535 20 200 2,300 20	
	5 6 7 8 9 10 11 12 13 14 15 16 17 18 19	Compensation und Dental services Farms, maintenant Fencing, draining, Freight, cartage, a Fuel, light, power Funerals, expense Furniture and fur Gardens and shrul Grant in lieu of leto other Depart Grants to widows Laundry Legal and inquiry Machinery, repairs Medical fees for ce	der Worke nee of (pan , and road and transp , water, an s of nishings bberies, ex eave due to ments or relativ costs s, and ston	epairs, an ers' Comp rt recover ling port char, nd cleani xpenses o co officers res of dec and cons and cons	ad replace censation cable) ges ng f resigned eased office	ments Act or tran	asferred	400 90 21,200 800 1,800 40,000 700 4,350 535 20 200 2,300 20	

#### MENTAL HOSPITALS DEPARTMENT—continued.

Number of Persons.	Item		1938	<b>-39</b> .
938-39.		VOTE No. 32.—MENTAL HOSPITALS—continued.	£	£
	99	OTHER CHARGES FOR AND INCIDENTAL TO—continued.	1 500	
	22	Motor-vehicles, purchase of	1,500	
	23	Nursing staff: Uniforms, purchase of	2,100	
	24	Office equipment	50	
	25	Overtime and meal-allowances	600	
	00	Patients, expenses connected with—	900	
	26	Gratuities	300	
	$\begin{vmatrix} 27 \end{vmatrix}$	"Patients' Friends"	50	
	28	Recreation	6,200	
	29	Transfer	600	
	30	Postage, telegrams, and rent of boxes	800	
	31	Printing and stationery	1,400	
	32	Rations	92,570	
	33	Refund of maintenance-money overpaid	100	
	34	Rents and rates	1,100	
	35	Stores	5,600	
		Surgery and dispensary—		
	36	Drugs and instruments	2,670	
	37	Wine, spirits, ale, and porter	20	
	38	Telephone services (including installation, extensions,	:	
		maintenance, rent, and calls)	1,000	
	39	Transfer and removal expenses	500	
	40	Travelling allowances and expenses	1,600	
		Treatment and maintenance in general hospitals—	1,000	
	41	Patients	700	
	42	Staff	50	
	43	Contingencies (including unforeseen expenditure incidental	00	
	TO	to the other items of the vote)	50	
		,	50	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)— £		
	'	Fees for maintenance of patients 155,800		
	:	Medical fees, refund of 1,200		
	1	Sale of farm-produce, live-stock, &c 18,000		
		Stores, board, &c. (repaid by staff) 1,200		
	1 :	3.45: 11		
		Miscellaneous 3,000		
		179,200		
		G	238,645	0.10.00
		Gross Total		640,01
	1	Credits-in-aid (a)		219,05
		NET TOTALVOTE No. 32		420,96

#### (a) Credits-in-aid—

				1938-39. £
Salaries	• •			 39,850
Other charges	• •			 179,200
Total				910 050
10tai	••	••	• •	 219,050

#### DEPARTMENT OF EDUCATION.

		,		19	938-39.	
			Salaries.	Oth	er Charges.	Total.
Vote No. 33	.—Education—		£		£	£
Subdivisio	n I.—Head Office		37,580		1,410	38,990
Subdivisio " " " " " " "	EDUCATIONAL AGENCIES.  n II.—Primary Education III.—Post-primary Education IV.—Higher Education V.—Training of Teachers VI.—Native Schools VII.—Physical Instruction VIII.—School Buildings, Furniture, and Schools	·······································	46,617 21,271        4,039 		374,567 796,475 140,800 198,120 28,379 410 301,445	2,421,184 817,746 140,800 198,120 128,114 4,449 301,445
Subdivisio ,, ,,	SOCIAL AGENCIES.  IN IX.—Education of the Blind X.—School for the Deaf XI.—Schools for the Feeble-minded XII.—Child Welfare		 6,701 13,605 37,253 57,559		5,750 2,890 10,295 121,929 140,864	5,750 9,591 23,900 159,182 198,423
Subdivisio ,, ,,	MISCELLANEOUS.  n XIII.—Material and Stores XIV.—Country Library Service XV.—Miscellaneous Services		1,070 2,121  3,191		7. 1,200 6,645 106,225	Cr. 130 8,766 106,225 114,861
Gross '	COTAL	-	269,992	4,	094,140	4,364,132
CREDITS	-IN-AID		1,324	1	293,153	294,477
NET T	OTAL	-	268,668	3,	800,987	4,069,655
Number of Persons.	VOTE No. 33.—EDUCA	TION			1938	8–39.
1938-39.	Subdivision No. I.—Head  *Salaries—	Office	·.		£	£
:	Administrative Divis	SION.				
1	1 at £1,350	••		••	1,350	
	Professional Divisi	ON.				
1	1 at £1,000 (7 months)		• •		584	
1	Class Special $A$ — 1 at £765				765	

<sup>\*</sup> For particulars of salaries see "Public Service Classification List."

### ${\tt DEPARTMENT\ OF\ EDUCATION--} continued.$

Number			1938-	20
of Persons. Item	VOTE No. 33.—EDUCATION—continued.		1990-	υ <b>σ.</b>
1938–39.	Subdivision No. I.—Head Office—continued.		£	£
1	Salaries—continued.	1		
:	CLERICAL DIVISION.	İ		
	Olasa Sussial A	£		
	Class Special $A-$ 1 at £765	$\frac{x}{765}$ .		
	1 at £765 (2 months)	128		
	Class Special C	ees		
4		$\frac{665}{277}$		
•	Class I—		1,835	
<b>2</b>	2 at £565		1,130	
1	Class II—		K1E	
1	$\begin{array}{cccccccccccccccccccccccccccccccccccc$	••	515	
1		880 :		
$5^{\circ}$		445	2 225	
i	Class $IV$ — 5 at £425 2,	195	2,325	
6		$\frac{125}{400}$		
	Class V—		2,525	
13	13 at £380		4,940	
20	Class VI—		6.700	
20	20 at £335	••	6,700	
		440		
		303		
ĺ		$\frac{276}{210}$	İ	
	1	195		
	A Company of the Comp	185		
į		184		
		$\frac{173}{298}$		
		115		
		110	i	
		216		
		105		
		$\frac{206}{204}$	!	
		194		
	1 at £95 (10 months), £80 (2 months)	93		
	1 at £95 (9 months), £80 (3 months)	$\frac{91}{90}$		
	1 at £95 (7 months), £80 (5 months)	$\frac{89}{87\frac{1}{3}}$		
	1 at £95 (3 months), £80 (9 months)	84		
1	3 at £95 (2 months), £80 (10 months)	$247\frac{1}{2}$		
4.7		162		
41		240 418		
	Cauch's loughing anowance		6,926	
	GENERAL DIVISION.		-	
	1 at £350 (9 months)	263		
	1 at £305 (5 months)	127		
		560		
		$\begin{array}{c c} 245 & \\ 230 & \\ \end{array}$		
į		$\frac{230}{225}$		
9		410		
ž			2,060	

#### 

Number of Persons.	Item	VOTE No. 33.—EDUCATION—continued.	1938-	-39.
1938–39.		Subdivision No. I.—Head Office—continued.	£	£
	1	Salaries—continued.	2	ı.
		Non-permanents. £		
		$3 \text{ at } £265 \dots \dots$	A VI	
		1 at £250		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		2 at £195 390		
		7 at £185		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		1 at £105 105		
0.0		3 at £85 255	ì	
32		3 at £65 195	5,580	
136		Other not specified	345	
		•	97 590	
		OTHER CHARGES FOR AND INCIDENTAL TO-	37,580	
	2	Telephone services (including installation, extensions, main-		
	3	tenance, and rent)	350	
	4	Transfer and removal expenses Travelling allowances and expenses	1,000	
	5	Contingencies (including unforeseen expenditure incidental	-,000	
		to the other items of this subdivision)	10	
		Revenues Act, 1926 (see end of vote)— Public Works Department: Payment for services—Electrical Wiremens' Examination 90 Teachers' Superannuation Fund: Payment for services rendered		
		990		
		Total—Subdivision No. $I$	1,410	38,990
	000	Subdivision No. II.—Primary Education.		
	6	Salaries—Professional Division.		
1		1 at £825	825	
		Class Special £		
		5  at  £765 $3,825$		
		6 at £715 4,290 25 at £665 16,625		
		25 at £665		
		1 at £650 (6 months) 325		
40		1 at £615 $\dots$ 615	26 086	
		Class III—	- 26,986	
		4 at £470 1,880		
		1 at £400		
e	1	1 at £400 (6 months) 200		
6			$-1 - 2.480 \pm$	
6		CLERICAL DIVISION.	2,480	
6		CLERICAL DIVISION.  Class VII— 1 at £305	$\begin{bmatrix} 2,480 \\ 305 \end{bmatrix}$	

6	Subdivision No. II Primary Education—continued.		
в	v · · · · ·		
U	Salaries—continued.	£	£
	GENERAL DIVISION.	i	
		300	
	3 at £200 (6 months)	500	
	Education Division.	i	
	TEACHERS AT CHATHAM ISLANDS—		
:			
	1 at £315		
. !	1 at £270 $\dots$ 270		
	$1 \text{ at } \pounds 240 \qquad \dots \qquad \dots \qquad \dots \qquad 240$		
	- 40 41-00	į	
	1 at £200 (8 months) 155	$_{2,553}$	
	Copperation Salloot	33 //10	
	CORRESPONDENCE SCHOOL—	55,445	
	Teachers (Permanent) 1 at £750 (2 months) £730 (10 months) 733		
	( (		
	1 at £540 540	1	
	1 at £505 505		
1			
. :			
	1 at £335 (2 months) £320 (10 months) 323		
	( =/,		
	= *** *** *** * * * * * * * * * * * * *		
	1 at £320 \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \		
	2 at £305 610		
1			
	6 at £300	!	
i			
:			
	1 at £285 $\dots$ 285		
i	1 at £280 (2 months), £265 (10 months) 268		
Ì	1 at £275 (9 months), £260 (3 months)		
		İ	
		İ	
i			
	5 at £225 1,125		
	2 at £225 (10 months), £210 (2 months) 446		
:	3 at £225 (7 months), £210 (5 months) 657		
	3 at £225 (2 months), £210 (10 months)		
	2 at £210 (7 months), £200 (5 months)		
i			
.			
	1 at £150 (9 months), £140 (3 months)		
		TEACHERS AT CHATHAM ISLANDS—       £         1 at £415       415         1 at £375       375         1 at £365       365         1 at £270       270         1 at £240       240         1 at £205       235         1 at £206 (8 months)       233         1 at £207 (2 months)       205         1 at £750 (2 months)       560         1 at £750 (2 months)       560         1 at £460 (2 months)       505         1 at £460 (2 months)       440         1 at £375 (2 months)       363         1 at £345 (2 months)       330 (10 months)         1 at £335 (2 months)       320 (10 months)         1 at £335 (2 months)       320 (10 months)         1 at £330 (10 months)       323         1 at £330 (10 months)       323         1 at £330 (10 months)       323         1 at £330 (10 months)       323         1 at £330 (10 months)       324         2 at £305 (10 months)       324         3 at £30 (10 months)       324         3 at £30 (10 months)       324         4 at £330 (10 months)       324         1 at £305 (2 months)       230 (10 months)         2 at £305 (10 months)<	Teachers at Chatham Islands—  1 at £415

## ${\tt DEPARTMENT} \ \ {\tt OF} \ \ {\tt EDUCATION} -- {\it continued}.$

Number of Persons.	Item	VOTE No. 33.—EDUCATION	conti	nued.		1938-	-39.
938-39.		Subdivision No. II.—Primary Educ	ation	continue	d.	£	£
	6	Salaries—continued.				£	ı
		Education Division—com	tinued.			: !	
		Correspondence School—continued.					
		Teachers (Non-permanents)—			£		
	.	1 at £460 (2 months), £445 (10 months	3)	• •	448	j	
		1 at £360	• •	• •	360	:	
	.	1 at £310 1 at £305			$\frac{310}{305}$		
	!	1 at £305	• •		284	· · · · · · · · · · · · · · · · · · ·	
	i	1 at £240			240		
	į	$\begin{array}{cccccccccccccccccccccccccccccccccccc$			225	:	
	1	1 at £210		• •	210	İ	
	1	1 at £210 (8 months), £200 (4 months)			207		
		2 at £200 \			400		
		$2 \text{ at } £180 \dots \dots \dots \dots$			360		
14		1 at £170 $\dots$ $\dots$ $\dots$		• •	170		
		2 7				21,939	
		CLERICAL DIVISION.					
4		Class V—				900	
1	!	$ \begin{array}{cccc} 1 & \text{at £380} & \dots & \dots \\ Class & VI \end{array} $	• •	• •		380	
1	i	$Class\ VI \ 1\ { m at}\ \pounds 335 \ \ldots \ \ldots$				335	
1		Class VII—	• •	• •	• •	<i>•••••</i>	
	i	1 at £120			120		
$^2$		1 at £120 (7 months), £115 (5 month	 (s)		118		
_	! !	t to be the control of the control o	)			238	
		GENERAL DIVISION.					
		1 at £250			250		
		$1 \text{ at } £245 \dots \dots \dots \dots$			245		
	i i	$4 \text{ at } £235 \dots \dots \dots \dots$			940	!	
		1 at £220			220	i	
		3 at £215 (6 months)			$\frac{323}{2}$		
		$3 \text{ at } £185 \dots \dots \dots$	• •		555		
		1 at £175	• •		175		
		2 at £165	• •	• •	330	!	
	i i	1 at £145 (4 months), £125 (8 months) 2 at £125 (10 months), £105 (2 months)		• •	$132 \pm 244 \pm$		
	l i	1 at £105	·)	• •	105	į	
		1 at £105 (6 months), £85 (6 months)	• •	• •	95		
		4 at £85		••	340		
		1 at £85 (11 months), £65 (1 month)			83	:	
27		1 at £85 (8 months), £65 (4 months)			79		
						4,116	
171		Amount required to cover cost of inc	reases (	due unde	er new		
		salary scheme				410	
	İ				ŀ	07 410	
		T 1	,			27,418	
		Less charged to "Post-primary"		• •	••	14,250	
						13,168	
					1	10 017	
		Owner Orthogra non the manner	mo			46,617	
	7	OTHER CHARGES FOR AND INCIDENTAL	1.0		-	1 500	
	'	Books, &c., in necessitous cases Conveyance of school-children, instr	ictors	and too	chere	1,500	
		and allowances for board of child					
		away from home to attend scho				į	
	·	and maintenance costs of departr				!	
	8	Board of children				6,500	
	9	School-children by rail				10,000	
	10	School-children by road, ferry, &c.				126,372	
	$^{1}$ 11 $^{1}$	Manual Instructors				7,000	

	,	DEPARTMENT OF	EDUCATION—	continued.	¬	
Number of	Item	VOTE No. 33.—EDUCA	TION—continued		1938	-39.
Persons.						
938-39.		Subdivision No. II.—Primary	Education—conti	nued.	£	£
	12	OTHER CHARGES FOR AND INCIDE Correspondence School, includin postage, &c. (part recovera Less portion charged to "Pos	g books, stationery ble)	£ 6,470		
		Grants to Education Boards for	the following nur	nogog	2,315	
	13	Boys' and girls' agricultural o	lubs		900	
	14	For house allowances to teach	ners		21,000	
	$\begin{vmatrix} 15 \\ 16 \end{vmatrix}$	General administrative purpo Incidental expenses of Schoo	ses l Committees (cles		40,620	
		infecting, &c.)	• • • • • • • • • • • • • • • • • • • •		156,000	
	17	Inspection: Extra clerical as	sistance, typing, &		400	
	$\begin{array}{ c c c }\hline 18 \\ 19 \end{array}$	School and class libraries . Teachers' salaries (including e			5,000	
	10	teachers) also grants to w				
		teachers		.1,888,300		
		Less value of residences s	supplied .	. 20,000	1 969 900	
		Manual instruction—			1,868,300	
	20	Salaries	<i>.</i>		76,000	
	21	Material			14,500	
	$\begin{vmatrix} 22 \\ 23 \end{vmatrix}$	Preparation of school text-book	· · · · · · · · · · · · · · · · · · ·		20,700	
	$\frac{23}{24}$	Removal of teachers	s (on account) .		$\begin{bmatrix} 1,000 \\ 2,000 \end{bmatrix}$	
	25	School Inspectors: Office requis	ites, telephones, a	dvertising,		
}	26	&c			200	
	20	School Journal: Printing, ma postages, &c. (part recoverab		-	4,950	
	27	Transfer and removal expenses			500	
	28	Travelling allowances and expen	nses		8,800	
	29	Contingencies (including unfore to the other items of this sub		incidental	10	
		Estimated credits-in-aid un Revenues Act, 1926 (see Credit under Section 30 ( Reserves Act, 1928 . Recovery on account Journals, &c., fees fo tion, and sale of be spondence School .	ee end of vote)— 2) of the Education of sale of School r special examina ooks, &c., Corre	n £ . 110,000		
					$\begin{bmatrix} -2,374,567 \end{bmatrix}$	
		$Total\_Subdivis$	ion No. II .			2,421,18
		Subdivision No. III.—Post	-primary Educatio	on.		
	30	Salaries-				
		Professional I	Division.	£		
	İ	1 at £825		. 825		
3	i	$\begin{array}{ccc} 1 \text{ at } £825 \text{ (10 months)} & . \\ 1 \text{ at } £825 \text{ (3 months)} & . \end{array}$		. 688 . 206		
0		1 at £829 (3 months)	••	. 200	1,719	
		Class A—			_,,	
!		1 at £720		. 720		
:		1 at £715 1 at £715 (2 months)		. 715 . 119		
i	į	2 at £665		. 1,330	1	
		1 at £665 (7 months) .		. 388		
7		1 at £620	• • •	. 620		

Number of Persons.	Item	VOTE No. 33.—EDUCATION—continued.	1938-	-39.
938-39.		Subdivision No. III.—Post-primary Education—continued.	£	£
	30	Salaries—continued.	ı.	£
		Professional Division—continued.		
		Class $B$ —  1 at 6540		
2		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
21		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	1,030	
1		1 at £380	380	
13		Correspondence School.		
		Transferred from Subdivision No. II	14,250	
			21,271	
	9.1	OTHER CHARGES FOR AND INCIDENTAL TO-	1 000	
	31	Books, &c., in necessitous cases	1,000	
		Conveyance of school-children, and allowances for board of children who have to live away from home to attend		
		school—		
	32	Board of children	40,000	
	33	School-children by rail	14,300	
	34	School-children by road, ferry, &c	10.000	
	35	Correspondence School: Transferred from "Primary		
		Education "	4,155	
	36	Expenses of instructors taking up appointments (part		
		recoverable)	10	
		Grant to—		
	37	Marlborough High School (Marlborough High School		
		Act, 1899)	400	
	38	Reefton School of Mines for services rendered by the		
		school to the Secondary Department of the District	100	
		High School	100	
		Incidental expenses (including Intermediate Schools and Departments)—		
	39	Secondary Schools	42,000	
	$\begin{bmatrix} 33 \\ 40 \end{bmatrix}$	Technical Schools	44,500	
	41	Combined Schools	12,500	
	42	Manual instruction in Secondary Schools: Capitation	9,375	
		Salaries and allowances of teachers and vocational	, ,	
		guidance officers (including Intermediate Schools and		
		Departments) and travelling-expenses of itinerant		
		instructors and vocational guidance officers; also		
		grants to widows of deceased teachers—		
	43	District High Schools	90,970	
	44	Secondary Schools	251,110	
	45	Technical Schools	216,000	
	$\begin{array}{ c c }\hline 46\\ 47\\ \end{array}$	Combined Schools	$\begin{array}{c c} 55,230 \\ 50 \end{array}$	
	48	Transfer and removal expenses Travelling allowances and expenses	1,500	
	10	Vocational guidance—	1,500	
	49	Purchase of library books, &c	200	
	50	Rent of offices	65	
	51	Contingencies (including unforeseen expenditure incidental		
		to the other items of this subdivision)	10	
		Estimated credits-in-aid under Section 51 of the Public		
		Revenues Act, 1926 (see end of vote)—		
		Endowment Revenue: Akaroa and Hoki-	ĺ	
		tika High Schools 200		
			796,475	

		DEPARTMENT OF EDUCATION—continued.		
Number of	Item	VOTE No. 33.—EDUCATION—continued.	1938-	-39.
Persons.  938–39.				
<i>შ</i> ⊍0−⊍შ∙		Subdivision No. IV.—Higher Education.	£	£
	52	CHARGES FOR AND INCIDENTAL TO— Adult education (including grants for Workers' Educational	7,000	
	53	Association purposes)	7,000	
		For general purposes—		
		Auckland University College 19,895		
		Victoria College		
		Canterbury College 13,289 University of Otago 29,302		
		School of Engineering, Auckland University		
		College 2,650	00 #40	
	$\begin{vmatrix} 54 \end{vmatrix}$	Allocation of National Endowment Revenue	83,763	
	01	(see New Zealand University Amendment		
		Act, 1914, Section 32)— £		
		University of New Zealand 4,844		
		Auckland University College 2,422	;	
		Victoria University College 2,422 Canterbury University College 2,422		
		University of Otago 2,422		
			14,532	
		For scholarships—	105	
	55 56	Agricultural Scholarships Agricultural bursaries	$105 \pm 1,850 \pm$	
	57	Agricultural bursaries	420	
	58	Art bursaries	800	
	59	"Sir George Grey" (Science)	200	
	$\begin{array}{c c} 60 \\ 61 \end{array}$	Engineering bursaries	860	
	62	Home Science bursaries University National Scholarships	$\frac{2,360}{4,600}$	
	63	University National bursaries	22,500	
	64	Otago Medical School: Grants for clinical teachers at the		
	0.5	Auckland, Wellington, and Christchurch hospitals	1,500	
	$\begin{array}{c c} +65 \\ \hline 66 \end{array}$	Special assistance to deserving students in cases of hardship Contingencies (including unforeseen expenditure incidental	300	
	. 00	to the other items of this subdivision)	10	
			į I	
	i	Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926— £	: 	
	į	Refund of University fees 25		
		Total—Subdivision No. IV		140,80
		Subdivision No. V.—Training of Teachers.		
		Charges for and incidental to—		
	/	Training Colleges—	į	
	67	Allowances and advances to students and transport expenses	144,000	
	68	Apparatus and material	2,000	
	69	Expenses in connection with appointments to staffs	10	
	70	Salaries of staffs of training colleges and of practising		
		schools (in excess of usual staffs at public schools), also officers attached to training colleges for museum work,		
		and travelling-expenses; also grants to widows of		
	1	deceased teachers	40,100	
	71	Special instruction, libraries, clerical assistance, and	,	
	70	incidental expenses	$\frac{3,950}{7,750}$	
	$\begin{array}{c c} 72 \\ 73 \end{array}$	Students' University College and other fees	7,750	
		Colleges): Training classes, including fares of instructors		
	1	and teachers	300	

Number of Persons.	Item	VOTE No. 33.—EDUCATION—continued.	1938	-3 <b>9</b> .
1938–39.		Subdivision No. V.—Training of Teachers—continued.	£	£
	74	CHARGES FOR AND INCIDENTAL TO—continued.  Contingencies (including unforeseen expenditure incidental to the other items of this subdivision)	10	2
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)—  Grant from Carnegie Institute for part salaries of museum officers attached to £ training colleges 800  Recoveries on account of students university College fees		
		850		
		Total—Subdivision No. V		198,120
	:	Subdivision No. VI—Native Schools.		
		Salaries—		
422	75	Salaries of teachers of village schools and expenses of relieving teachers, &c. also grants to widows of deceased teachers	07 600	
	:	PROFESSIONAL DIVISION.  Class A—	97,690	
$\frac{3}{425}$		2 at £665 1,330	2,045	
			99,735	
	76	OTHER CHARGES FOR AND INCIDENTAL TO— Advertising, translation fees, fuel, planting, sanitation, water, &c	100	
	77	Books, apparatus, and other school requisites	2,200	
	$\begin{vmatrix} 78 \\ 79 \end{vmatrix}$	Conveyance by road, ferry, &c., and board of children Cost of preparation and printing of text-book for use in Native Post-primary Schools	12,000	
	80	Grant for construction of bridges for benefit of children attending Native Schools	400	
	81	Grant for construction of landing-stage, Te Tii Native School	19	
	82 83	Higher Education, Scholarships, and Apprenticeship  Manual instruction (including equipment and material,	9,850	
	84	instructors, and scholarships)	1,450	
	85	Hapua Native School Transfer and removal expenses	$\frac{100}{1,000}$	
	86 87	Travelling allowances and expenses	850	
		of this subdivision)	10	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)— £  Recoveries on account of scholarships, &c. 560		
		Tauranga Educational Endowment Reserves Act, 1896 (rents, &c., from reserves) 292		
		852		
		Total—Subdivision No. VI	28,379	128,114

Number of	Item	VOTE No. 33.—EDUCATION—continued.	1938-	39.
Persons. 1938–39.		Subdivision No. VII.—Physical Instruction.		
	i i	•	£	£
	88	Salaries— General Division.		
		$Physical\ Instructors$ — $\mathfrak L$		
		1 at £750 (3 months)		
	! !	3 at £320 960		
	ļ .	1 at £290 (2 months), £280 (10 months)	į	
20		6 at £270 (3 months)		
			4,039	
			4,039	
		OTHER CHARGES FOR AND INCIDENTAL TO—		
	89	Transfer and removal expenses	60	
	90	Travelling allowances and expenses	300	
	$egin{array}{c} 91 \ 92 \end{array}$	Uniform allowance to Instructors	40	
	32	Contingencies (including unforeseen expenditure incidental to the other items of this subdivision)	10	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)—	410	
		Total—Subdivision No. VII		4,449
		Subdivision No. VIII.—School Buildings, Furniture, and Sites.  CHARGES FOR AND INCIDENTAL TO— Alterations, &c., to school buildings to diminish danger		
	93	from earthquakes— Public schools and training colleges	2,000	
	94	Secondary schools	500	
	95	Technical	200	
	96	Native	100	
	97	Public schools and training colleges	208,058	
	98	Secondary schools	17,500	
	99	Technical schools	10,000	
	$\begin{bmatrix} 100 \\ 101 \end{bmatrix}$	Native schools School for the Deaf	8,000 500	
	102	Schools for the Feeble-minded	3,000	
	103 104	Institutions established under Child Welfare Act, 1925 Grants to Education Boards for rebuilding, replacing, and furnishing of schools destroyed by fire, and for rent of and alterations to temporary premises during rebuilding	10,000	
	105 106	(part recoverable)	500	
		of district high schools	12,000	

of Iter Persons.	VOTE No. 33.—EDUCATION—continued.	1938	−3 <b>9.</b>
938-39.	Subdivision No. VIII.—School Buildings, Furniture, and Sites—continued.	£	£
İ	CHARGES FOR AND INCIDENTAL TO—continued.	İ	
107	Renewal and extension of heating system, Special £	į	
1	School, Otekaike		
	Less chargeable to Public Works Fund 2,300	2,300	
108	Rent of offices: Wellington Education Board	787	
	Rents of buildings and sites for school purposes—		
109 110	Public schools	4,000	
1111	Secondary schools	200 800	
112	Native schools	300	
\$ [	Sites, buildings, furniture, equipment, &c., and other		
110	minor capital works—		
113 114	Public schools and training colleges	10,000	
115	Secondary schools	$\frac{2,500}{2,000}$	
116	Native schools	$\frac{2,000}{2,000}$	
117	Native schools	150	
118	Contingencies (including unforeseen expenditure incidental	<b>F</b> 0	
	to the other items of this subdivision)	50	
	Estimated credits-in-aid under Section 51 of the Public		
	Revenues Act, 1926 (see end of vote)— £		
	Employment Promotion Fund 23,000		
	Fire Insurance Fund, &c 8,000		
	91 000		
	31,000		
	Total—Subdivision No. VIII 31,000 Subdivision No. IX.—Education of the Blind.		301,44
119 120	Subdivision No. IX.—Education of the Blind.  Charges for and incidental to— Grant to New Zealand Institute for the Blind  Grant to trustees for maintenance of Government pupils	5,190 500	301,44
	Subdivision No. IX.—Education of the Blind.  Charges for and incidental to— Grant to New Zealand Institute for the Blind  Grant to trustees for maintenance of Government pupils  Special instruction (woodwork, &c.), and secondary educa-	5,190 500	301,44
120 121	Subdivision No. IX.—Education of the Blind.  Charges for and incidental to— Grant to New Zealand Institute for the Blind  Grant to trustees for maintenance of Government pupils  Special instruction (woodwork, &c.), and secondary education of pupils	5,190 500 10	301,44
120	Subdivision No. IX.—Education of the Blind.  Charges for and incidental to— Grant to New Zealand Institute for the Blind  Grant to trustees for maintenance of Government pupils  Special instruction (woodwork, &c.), and secondary educa-	5,190 500	301,44
120 121 122	Subdivision No. IX.—Education of the Blind.  Charges for and incidental to— Grant to New Zealand Institute for the Blind  Grant to trustees for maintenance of Government pupils  Special instruction (woodwork, &c.), and secondary education of pupils	5,190 500 10	301,44
120 121 122	Subdivision No. IX.—Education of the Blind.  Charges for and incidental to— Grant to New Zealand Institute for the Blind Grant to trustees for maintenance of Government pupils Special instruction (woodwork, &c.), and secondary education of pupils Transport expenses of Government pupils	5,190 500 10 40	301,44
120 121 122	Subdivision No. IX.—Education of the Blind.  Charges for and incidental to— Grant to New Zealand Institute for the Blind Grant to trustees for maintenance of Government pupils Special instruction (woodwork, &c.), and secondary education of pupils	5,190 500 10 40	301,44
120 121 122	Subdivision No. IX.—Education of the Blind.  Charges for and incidental to— Grant to New Zealand Institute for the Blind Grant to trustees for maintenance of Government pupils Special instruction (woodwork, &c.), and secondary education of pupils	5,190 500 10 40	301,44 5,75
120 121 122	Subdivision No. IX.—Education of the Blind.  Charges for and incidental to— Grant to New Zealand Institute for the Blind Grant to trustees for maintenance of Government pupils Special instruction (woodwork, &c.), and secondary education of pupils Transport expenses of Government pupils Contingencies (including unforeseen expenditure incidental to the other items of this subdivision)  Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)— £ Fees	5,190 500 10 40	
120 121 122 123	Subdivision No. IX.—Education of the Blind.  Charges for and incidental to— Grant to New Zealand Institute for the Blind Grant to trustees for maintenance of Government pupils Special instruction (woodwork, &c.), and secondary education of pupils	5,190 500 10 40	
120 121 122	Subdivision No. IX.—Education of the Blind.  Charges for and incidental to— Grant to New Zealand Institute for the Blind Grant to trustees for maintenance of Government pupils Special instruction (woodwork, &c.), and secondary education of pupils Transport expenses of Government pupils Contingencies (including unforeseen expenditure incidental to the other items of this subdivision)  Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)— £ Fees	5,190 500 10 40	
120 121 122 123	Subdivision No. IX.—Education of the Blind.  CHARGES FOR AND INCIDENTAL TO— Grant to New Zealand Institute for the Blind	5,190 500 10 40	
120 121 122 123	Subdivision No. IX.—Education of the Blind.  Charges for and incidental to— Grant to New Zealand Institute for the Blind Grant to trustees for maintenance of Government pupils Special instruction (woodwork, &c.), and secondary education of pupils	5,190 500 10 40	
120 121 122 123	Subdivision No. IX.—Education of the Blind.  Charges for and incidental to— Grant to New Zealand Institute for the Blind	5,190 500 10 40	
120 121 122 123	Subdivision No. IX.—Education of the Blind.  Charges for and incidental to— Grant to New Zealand Institute for the Blind	5,190 500 10 40	
120 121 122 123	Subdivision No. IX.—Education of the Blind.  Charges for and incidental to— Grant to New Zealand Institute for the Blind	5,190 500 10 40	
120 121 122 123	Subdivision No. IX.—Education of the Blind.  Charges for and incidental to— Grant to New Zealand Institute for the Blind	5,190 500 10 40	
120 121 122 123	CHARGES FOR AND INCIDENTAL TO— Grant to New Zealand Institute for the Blind	5,190 500 10 40	
120 121 122 123	Subdivision No. IX.—Education of the Blind.	5,190 500 10 40	
120 121 122 123	Subdivision No. IX.—Education of the Blind.	5,190 500 10 40	
120 121 122 123	Subdivision No. IX.—Education of the Blind.	5,190 500 10 40	

	1 1								
Number of Persons.	Item	VOTE No	o. 33.—ED	UCATIO:	N—contin	ued.		1938-	3 <b>9</b> .
1938–39.		Subdivision No.		ol for the tinued.	Deaf (S	umner)		£	£
	124	Salaries—contin	ued.					:	
			GENERA	L Divisio	ON.				
		Maintenance St					£		
		1 at £260 (4	months)				87	1	
		1 at £260	• •	• •	• •	• •			
	,	2 at £250 1 at £250 (1 :	manth)	• •	• •				
		1 at £225					$2\overline{25}$	İ	
		1 at £185		• •			185		
		1 at £165		• •			i	I	
		1 at £160 1 at £135	• •	• •	• •	• •			
		1 at £130	• •		• •	• •			
	i	4 at £120					480	1	
18		3 at £110					330		
								$2,678^{\pm}$	
30								e 701	
		OTHER CHARGES	FOR AND I	NCIDENTA	VI. TO-			0,701	
	125					ers, and	other		
		publications						20	
	126	Maintenance of	f institution	includ	ing provis	sions, cl	othing,	2 200	
	127				s)	• •	• •		
	128	Transfer and re	wances and	enses Lexnens	es (includ	ling tra	nsit of	10	
	120	$\operatorname{children})$					• -	650	
	129	Contingencies (				ture inc	idental		
		to the other:	items of thi	s subdivi	sion)		• •	10	
		Estimated	arodita_in_a	id under	Section 5	1 of the	Public		
							I done		
							£		
		lodgin		••			480		
	1 1	Fees for	maintenan	ce, &c.	• •	• •	$1,930^{+}$		
							2,410	į	
							-		
			m . 7	, ,	At V		i	$^{-2,890}$	0.501
			Total—Su	division	No. A	• •	• •		9,591
							ļ	i	
							_		
		Subdivision 1	Vo. $XI$ .— $Se$	chools for	Simple   S				
	130	Salaries					:	i	
		Educa	ATION AND	GENERAI	Division	NS.			
		Special School for	Cirle Pich	mond					
	İ	Teachers—	Guis, mun	monu			£	į	
		1 at £245							
		1 at £185				• •			
3		1 at £150		• •	• •		150	1	
		Maintenance St 1 at £320	tajj—				320		
		1 at £260							
		1 at £170				• •	170		
		1 at £165			• •	• •			
		1 at £160	• •	• •	• •	• •			
		1 at £155 1 at £145	• •			••		İ	
		7 at £135				• •	1	'	
	į (	1  at  £125				• •	125	1	
16		1 at £75	• •		••	• •	75	0.100	
	1							5,100	

Number of Persons.	Ite <b>m</b>	VOTE No	1938–39.						
938-39.		Subdivision No. XI	.— $Schools$	for the $F$	eeble-mind	led—co	ntinued.		(*
	130	Salaries—continu	$\it ied.$					£	£
		Education an	d Genera	al Divisi	ONS-com	tinued.			
	İ	Special School for	Boys, Otek	aike—			į		
		Teachers					£		
		1 at £390					$\tilde{390}$		
	1	1  at  £295					295		
		2  at  £245					490		
_		1 at £235					235		
7		2 at £185	• •	• •			370		
	: :	Maintenance Sta	iff						
		1 at £490					490	i	
		1 at £320					320	ĺ	
		1 at £265					265		
		3 at £260			• •		780		
		1 at £255	• •	• •			255	į	
		1 at £250	• •	• •			250	}	
		$\begin{array}{c} 3 \text{ at } £245 \\ 3 \text{ at } £235 \end{array}$	, .	• •	• •		735 - 705		
	- 1	2 at £225		• •		• •	$\frac{705}{450}$	!	
		1  at  £220			, .		$\frac{130}{220}$		
		2 at £205					410		
		1 at £200					200	i	
	,	1 at £195					195		
		2  at  £185					370		
	i 1	2 at £175		• •			350		
	1 1	1 at £165	• •	• •			165		
		3 at £155 1 at £150	• •	• •			465	: !	
	l,	2 at £145		• •	• •	• •	$\frac{150}{290}$		
	. !	1 at £140	• •	• •			$\frac{230}{140}$		
	i '	3  at  £135		• •			405		
		8 at £125					1,000		
45	:	1 at £115					115		
71	:							10,505	
	i							13,605	
	P k k k k k	OTHER CHARGES F	OR AND I	NCIDENTA	AL TO-				
	131	Advertising, ph					dother	i	
	100	publications	. ,.,.,.	· · · · · · · · · · · · · · · · · · ·	. ·· .			50	
	132	Maintenance of						0 500	
	133	equipment, sto Transfer and ren						$9{,}500$ $35 +$	
	134	Transfer and ren Travelling allow	ances and	l expense	es (includ	ing tra	unsit of	99	
								700	
	135	Contingencies (in	ncluding u	nforeseer	expendit	ture inc	cidental		
		to the other it	ems of this	s subdivis	$sion$ $\tilde{)}$	• •	••	10	
		Estimated c	redits-in-a	id under	Section 5	1 of the	Public	i	
			es Act, 19						
		Deduction					£	İ	
	1	lodging			due o	• •	1,830	1	
i		Maintenai	nce fees, sa	ne or pro	auce, &c.	• •	1,660		
	į						3,490	!	
							,	1	
İ	ļ							10,295	

Number of I Persons.	tem	VOTE N	o. 33.—EI	OUCATIO	)N—conti	nued.		1938-	39.
1938-39.		Subdiv	ision No. 2	XII.—Ch	ild Welfa	re.		e	e
1	SALAR	IES AND W.	AGES-					£	£
ļ		Educa	TION AND	GENERAL	Division	vs.	!		
	Receiv	ing Homes, .	Special Sch	ools, and	Child We	elfare Ce	ntres		
	WHA	NGAREI					:	,	
		d Welfare (	Centre				£	1	
		at £380	• •				380	İ	
2	1	at £175		• •	• •	• •	175	555	
	AUCE	ĆAND—						999	
		d Welfare 0	Centre—						
		at £425					425		
i		at £355		00 /5	· ·		710	1	
		at £330 (7 r	* *	`	,		326		
		at £320 at £315 (8 r	nonthel		• •	• •	$egin{array}{c} 320 \ \pm 210 \ \pm \end{array}$		
		at £295	nontas)	• •			295	1	
		at £270					$\frac{230}{270}$		
		at £235			• • •		470		
i		at £215					215		
		at £195					$195 \pm$		
		at £175					175		
15		at £165		· · ·		• •	165	1	
15	1.	at £105 (4 r	nonths), £8	o (8 mon	ths)		92	3,868	
	Rec	eiving Hom	0					0,000	
		at £205	A7. "				205		
		at £145			• •	• •	$\frac{290}{290}$ .		
4		at £130					130		
		1.5	****					625	
		s' Probation					440		
1		at £295 (9 r at £260		• •		• •	$\begin{array}{c} 442 \\ 260 \end{array}$		
		at £225		• •			$\begin{array}{c} 200 \\ 225 \end{array}$		
7		at £135					405		
								1,332	
	HAM	ILTON							
		d Welfare	Jentre				900	İ	
		at £380	• •	• •	• •	• •	380		
		at £295 at £250	• •	••	• •	• •	$\begin{array}{c c} 295 \\ 250 \end{array}$		
		at £195	• •	• •	• •		195		
		at £125					125		
6		at £65					65		
								1,310	
		eiving Hom	( <i>i</i>				105		
		at £195 at £110	• •	• •		• •	195 110		
3		at £104	• •		• •		104	!	
		at 210 t	• •	• •	• •	• •		409	
		ERA							
		d Welfare (	Centre—						
		at £360	• •				360	j	
3		at £265	• •	• •	• •	• •	265		
3	1	at £125	• •	• •		• •	125	750	
	WAN	GANUI						190	
		d Welfare (	Centre—				:		
	1	at £280					280		
2	. 1	at £185					185		
1	Į							465	

Number of Persons.	Item	VOTE No.	वृत्र मिन	ገ∐ሮልሞ፤ር	N. conti	ngod		1938–	3 <b>9</b> .
938-39.							i		
	İ	Subdivision N	o. XII.—	-Child W	<i>elfare</i> co	ntinued.		£	£
	136	SALARIES AND WAG	es—contin	nued.			!		
		Education as	ND GENE	RAL DIVI	sions—co	ontinued.			
		Receiving Homes, d	&c.—conti	inued.					
	.	Palmerston Nor						:	
		Child Welfare Ce	entre				£		
		1 at £380		• •	• •	• •	380	,	
		1 at £280		• •	• •		280		
		1 at £200				• •	200 .		
		1 at £185	• •		• •	• •	185	1	
5		1 at £85	• •	• •	• •	• •	85	1,130	
		Napier—	n+ma						
		Child Welfare Co	mure				380	ł	
		1 at £380	• •	• •	• •	• •	$\frac{360}{280}$	1	
•		1 at £280	• •	• •	• •	• •	$\frac{260}{175}$		
3		1 at £175	• •	••	• •	• •	110	835	
		GISBORNE—	n tra				:		
	i	Child Welfare Co					335		
		1 at £335	• •	• •	• •	• •		i	
6	İ	1 at £245	 on+ba\ C1	05 (8 ma	nthal	• •	$\frac{245}{119}$		
3		1 at £125 (4 me	ontns), £1	.və (8 mo:	nuns)	• •	112	692	
								092	
		WELLINGTON—	.n+n=					i	
		Child Welfare Ce	entre—				405		
		1 at £425		• •	• •	• •	425		
		1 at £355		• •	• •	• •	355	İ	
	İ	1 at £335		• •	• •		335		
		1 at £320			• •	• •	320		
	ļ	1 at £315 (8 me	onths)				210		
		1 at £280					280	i	
	İ	1 at £255					255		
		1 at £250					250	i	
		2 at £200					400		
		1 at £195					195		
		1 at £185					185	ì	
	ĺ	1 at £165					165		
		1 at £145					145		
		1 at £125					125	I	
	j	1 at £120					120	i	
17		1 at £65				••	65		
11			3.4"					3,830	
		Children's Home 1 at £205	, Mirama	r			205	1	
		1 at £145	••	• •			$\frac{2}{145}$	i	
5		3 at £135	• •		• •	• •	$405_{-1}$		
υ			• •	• •		••		755	
		Boys' Probation 1					991		
		1 at £295 (9 mc		• •			$\frac{221}{107}$		
		1 at £295 (8 mc	onths)	• •			197		
		1 at £225			• •	• •	225	1	
		1 at £145					145	1	
5		1 at £135	• •	• •	• •	• •	135	923	
		Girls' Hostel—					i i		
		1 at £205					205		
3		2 at £145					290		
	1							$495^{\pm}$	

Number of Item Persons.	VOTE No. 5	33.—El	DUCATIO	)N—conti	inued.	!	1938-	39.
38-39.	Subdivision No.	XII.	Child W	elfare—-co	ntinued.	! <del>_</del>	£	£
136	SALARIES AND WAGES	conti	nued.				x,	ı
1	Education and	GENE	RAL DIVI	SIONSco	ontinued.			
	Receiving Homes, &c.	.—cont	inued.			İ		
	Nelson—							
!	Child Welfare Cent	tre				£		
i	1 at £350					350		
	1 at £255				• •	255		
$3 \mid$	1 at £165	• •				165	770	
	GREYMOUTH-						•••	
į	Child Welfare Cent	tre—						
1	1 at £225			• •			225	
	Christchurch—							
i	Child Welfare Cent	tre						
	1 at £400					400		
	1 at £355			. ,		355		
	1 at £335					335		
	1 at £315 (8 mon	ths)				210		
	2 at £280	• •	* 1			560		
	1 at £245	• •		* *		245		
İ	1 at £205					205		
	1 at £185					185		
!	$1 \mathrm{~at~} \pounds 165$					165		
11	1 at £85					85	9 745	
	Receiving Home—						2,745	
	1 at £205				, .	205		
	1 at £165					165		
4	2 at £145					290		
-	2 00 3110	• •	• •				660	
	Boys' Probation H	lome						
	1 at £225					225		
	1 at £205					205		
	1 at £195					195	i	
	1 at £145					145		
5	1 at £91					91	207	
	Ashburton—						861	
	Child Welfare Cent	tre—				i		
1	1 at £30						30	
	Trace							
	TIMARU— Child Welfare Cent	ro						
İ	1 at £380	L I 3.				380		
	1 at £280	• •	* *		, ,	280	!	
	1 at £252	• •				$\frac{250}{252}$		
	1 at £252 1 at £185					185		
5	1 at £105 (4 mon					92		
3	1 at £105 (± 11011	1110), 20	oo (o mou	ина <i>ј</i>			1,189	
	Dunedin-						, j	
	Child Welfare Cent	re—					į.	
	1 at £380					380		
	1 at £355					355		
	1 at £320					320		
	2 at £245					490		
	1 at £195					195	İ	
							!	
7	1 at £185			4.3	4.4	185		

$     \begin{array}{c c}       \text{Number} \\       \text{of} \\       \text{Persons.}     \end{array} $	:	99 III	NIICIA MI	) NY	. ,		1938-	39.
38-39.	VOTE No.	. 33.—Е1	DUCATIO	)N—contr	inuea.	-		
	Subdivision N	o. XII	-Child W	elfare—co	ontinued		£	£
136	SALARIES AND WAG	es—contin	nued.					
	Education A	nd Gene	ral Divi	SIONSce	ontinued.	:		
	Receiving Homes, &	c.—contir	ued.				; !	
i								
ļ	DUNEDIN—continue	ed.				ļ	1	
	Boys' Probation	Home				£		
	1 at £225					225		
	1 at £205					205		
. !	1 at £145	• •		• •		145		
4	1 at £91	• •	• •	• •	• •	91	666	
	Receiving Home						000	
	1 at £205					205		
	1 at £145					$\overline{145}$	1	
3	1 at £91		. ,			91	,	
							441	
	Invercargill—							
	Child Welfare Cer	atre						
	1 at £380					380		
i	1 at £255					255		
3	1 at £195					195	000	
	Special Schools—						830	
	Weraroa Boys' T	raining R	9 rm					
	1 at £425	rammg r				425		
	1 at £310					310		
	1 at £305					305		
	1 at £285					285		
İ	1 at £260					260		
	2 at £255	• •		• •		510		
	6 at £245	• •	• •	• •	• •	$\begin{array}{c c} 1,470 \\ 225 \end{array}$		
	$\begin{array}{c} 1 \text{ at } £225 \\ 2 \text{ at } £210 \end{array}$	• •	• •	• •		420		
	2 at £210 2 at £205	• •	• •	• •		410		
	1 at £185 (8 m	onths). £1	65 (4 mo	nths)		177		
i	3 at £160					480 ;		
24	2 at £145					290	i	
		-					5,567	
I I	Girls' Home, Bur	wood—				240		
	1 at £340	• •		• •		340 490		
:	$\begin{array}{cccccccccccccccccccccccccccccccccccc$	• •		• •	• •	230		
	1 at £215	• •		• •		215		
!	1 at £205					205		
	3 at £160					480		
į	6 at £145					870		
19	4 at £135			• •		540		
							3,370	
	1					<u>'</u> -	<del></del>	
173							37,253	

Number of Persons.	Item	VOTE No. 33.—EDUCATION—continued.	1938	-39.
938-39.		Subdivision No. XII.—Child Welfare—continued.	£	£
		OTHER CHARGES FOR AND INCIDENTAL TO—		
	137 138	Boarding-out of children, maintenance of infants in foster homes, and upkeep of orphans (part recoverable)  Department of Justice: Payment for services of officers of	81,000	
		Registrar-General's Branch	20	
	139 140	Grant to widow of deceased officer, equivalent to leave due Legal expenses	$\begin{bmatrix} 21 \\ 50 \end{bmatrix}$	
	141	Maintenance of— Inmates in Government institutions and of children com-		
		mitted to the care or under the supervision of the State (including general upkeep of the institution, stock, and work on land; medical attendance, clothing, funeral expenses, and other expenses of children placed		
		in foster homes or at service; and grants for recrea-	96 000	
	142	tion of inmates (part recoverable) Inmates in private institutions: Capitation, refunds of	26,000	
	143	maintenance payments, &c. (part recoverable) Post and Telegraph Department for services of officers Refund of—	3,398 700	
	144	Inmates' earnings (part recoverable)	600	
	145 146	Maintenance payments	$\begin{array}{c} 500 \\ 2,500 \end{array}$	
	147 148	Transfer and removal expenses	$\begin{array}{c c} 250 & \\ 6,500 & \end{array}$	
	149	Wages of inmates employed on farm-work, &c	350	
	150	Contingencies (including unforeseen expenditure incidental to the other items of this subdivision)	40	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)—  Deductions from salary for board and £ lodgings 2,000  Maintenance fees, sale of produce, rent of property, &c		
		28,800		
		Total—Subdivision No. XII	121,929	159,18
		Subdivision No. XIII.—Material and Stores.	-	
	151	Salaries— Clerical Division,		
1		1 at £335	335	
		GENERAL DIVISION.		
1		1 at £320	320	
		Non-permanent. £ 1 at £250	er uprovinces	
2		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
4			415	
		į.	1,070	

Number of Persons.	Item	VOTE No. 33,EDU	CATIC	N—contir	ued.		1938-	-39.
938-39.		Subdivision No. XIII.—Mate				ned	£	£
		Subdivision 110. 21111. II at	7 0000 CO	ia stores	COHULL	aca.		
	152	OTHER CHARGES FOR AND INC Material and stores— Purchase and manufacture		AL TO			4,000	
	153	Store (rent, lighting, clean		.), cartage	, &c.		100	
		Less issues to other item	s of th	is vote		. •	4,100 5,300	
		Total— $Subdiv$	vision	No. XIII		••	Cr. 1,200	Cr. 130
			a ,	T.'1	a ·			
	154	Subdivision No. XIV.—  Salaries—	Tountry	Library	Service.			
		PERMA	NENT.					
1		1 Senior Assistant at £305	••	• •		••	305	
		Non-per	MANEN'	rs.			!	
1		1 Officer in Charge £500				£ 500	:	
1		1 Library Assistant £255				255	!	
1 1		1 Field Librarian £255 1 Field Librarian £255 (9 mc	 	• •	- •	$\frac{255}{191}$		
1		1 Field Librarian £180	mons)			180		
1		1 Library Assistant £205				205		
1		1 Library Assistant £125				125		
1	İ	1 Library Assistant £105	• •	• •		105	1,816	
9	-						1,010	
Total	-						2,121	
amber of	155	OTHER CHARGES FOR AND INCL Books, and other publication			· Adve	rtisino	4,000	
ersons.	156	Binding of books, material a					100	
1 059	157	Freight and cartage					50	
1,052	158	Motor vehicles: Purchase of			f . 1	л . н	1,240	
	159 160	Maintenance of and repairs to Office and library equipment				a on	$\begin{vmatrix} 200 \\ 400 \end{vmatrix}$	
	161	Overtime and meal allowance					20	
	162	Postages and telegrams					55	
	163	Printing and stationery					150	
	$\frac{164}{165}$	Telephone services, rental, & Travelling allowances and ex			 		$\frac{20}{400}$	
	166	Contingencies, including unforthe other items of this sul	reseen	expenditu			10	
		Estimated credits-in-aid Revenues Act, 1926 Subscriptions from lik	(see ei	nd of vote	-)	Public £ 510		
							6,645	
	l j	Total-Subdivision	No. X	1V				8,76

Number of Item Persons.	VOTE No. 33.—EDUCATION—continued.	1938–	39.
38-39.	j"	!	
	Subdivision No. XV.—Miscellaneous Services.	£	£
	CHARGES FOR AND INCIDENTAL TO-		
167	Accidents to departmental officers, school-children, teachers, and training-college students: Grants for medical and	1 000	
168	legal expenses, scholarships, and compensation  Allowances to officers performing higher duties (under Regulation 209)	1,000	
169	Conferences of Education Authorities and Committees, &c.	1,000	
170	Education Gazette (part recoverable)	1,250	
171	Examinations: Teachers', School Certificate, Scholarships,		
	Technological, &c. (part recoverable)	3,000	
172	Exchange of Teachers: Allowances, bursaries, &c	10	
173	Exhibitions: Preparing and forwarding school exhibits	10 :	
174 175	Expenses and allowances of officers travelling abroad Expenses of Education Committee of House of Representatives while hearing evidence on Education Bill during	210	
: 1	recess	400	
176	Grading and registration of teachers (including advertising, travelling, legal, and other expenses in connection with	100	
	appeals re grading, certificates, dismissal, &c., and cost of inquiries)	300	
	Grants—		
177	In aid of free kindergartens for infants under school age,		
178	including grants towards cost of buildings	10,000	
0	children	50	
$\frac{179}{180}$	Office furniture, fittings, requisites, and removal of offices  Overtime (including allowances in lieu thereof) and meal	1,500	
.00	allowances	550	
181	Payment for Secretarial duties in connection with Teachers' Salaries Committee	100	
182	Payment for damages to motor-vehicles other than depart-		
	mental vehicles	30	
183	Postage, telegrams, and rent of boxes	3,100	
184	Printing and stationery (including supply of parliamentary	2 500	
185	papers, publications, photographs, advertising, &c.) Purchase of maps, flags, &c., for schools (recoverable)	$\frac{3,500}{100}$	
186	D 1 ( 1	110	
187	Purchase of motor-buses (on account), (part recoverable)	17,000	
188	Purchase of radio sets, gramophones, records, pianos, and	11,000	
	other special equipment for schools (recoverable)	2,000	
189	Rent of offices	330	
190	Salaries of teachers from overseas on exchange in New Zealand (recoverable)	6,200	
191	Special grant for swimming instruction	560	
-192	Storage and despatch of stores and stationery	92	
193	Subsidy to Teachers' Superannuation Fund (Public Service Superannuation Act, 1927)— £ Annual subsidy 43,000		
	Increased allowances to widows 5,000		
194	Superannuation contributions of teacher on active service,	48,000	
195	Transfer to University of New Zealand of fees received on	65	
196	account of School Certificate Examination	400	
	Visual education: Equipment, &c	$1,000 \pm$	

#### DEPARTMENT OF EDUCATION—continued.

Number of Persons.	Item	VOTE No. 33.—EDUCATION-	contin	ued.		1938	3–39.
1938–39.		Subdivision No. XV.—Miscellaneous S	'ervices-	-cont	inued.	£	£
	100	CHARGES FOR AND INCIDENTAL TO—con			.1 / 1		
	198	Contingencies (including unforeseen e to all other items of this subdivision		ure m		20	
		Estimated credits-in-aid under Se			e Public		
		Revenues Act, 1926 (see end					
		Credits under Sections 296 and					
		Land Act, 1924 (National	Endow	ment	£		
	,	$ m Revenue)  \dots \qquad  \dots$			101,721		i
		Examination fees, &c			2,800		
		Recoveries on account of—					1
		Radios, &c., for schools			1,500		
	- 1	Salaries, exchange teachers			6,000		
	1	Sundries	• •	• •	805		
					112,826		
		Total—Subdivision No	o. XV		• •		106,225
	: !	Gross Total	• •			• •	4,364,132
	1	Credits-in-Aid $(a)$					294,477
		NET TOTAL-VOTE No.	33				4,069,655

#### (a) Credits-in-aid—

					$\mathbf{Other}$	
			Š	Salaries.	Charges.	1938-39.
				£	£	£
Subdivisi	on I		 	990		990
> <b>,</b>	$\Pi$		 		111,790	111,790
,,	III		 		200	200
,,	$\mathbf{IV}$		 		25	25
,,	V		 		850	850
,,	VI		 		852	852
,,	VII		 	334		334
,,	VIII		 		31,000	31,000
,,	IX		 		400	400
,,	$\mathbf{X}$		 		2,410	2,410
,,	XI		 		3,490	3,490
,,	XII		 		28,800	28,800
,,	XIV		 		510	510
, ;	XV	• •	 		112,826	112,826
То	otals		 	$\frac{1,324}{1}$	${293,153}$	294,477
				,	,	, -, -, -

#### PENSIONS DEPARTMENT.

					1 1 1			
					Salaries.	Other	Charges.	Total.
Vote No. 34.—	-Pensions —				£		£	£
Subdivision	ı I.—Salaries			• •	65,307	y	••	65,307
,,	II.—Admini	stration Exp	enses		••		49,075	49,075
>>	III.—Pension	s and Annu	ities			6,7	52,983	6,752,983
,,	IV.—Other C	harges		,.			93,520	93,520
	3 TOTAL				65,307	$\frac{1}{6.8}$	95,578	6,960,885
	TS-IN-AID				3,500		16,150	49,650
	TOTAL				61,807		9,428	6,911,235
of Item Persons. 938–39.		VOTE N	o. 34.—P	ENSIONS	3.		196 £	38–39.
		Subdivisi	on No. I	Salaries			£	£
1	*Salaries—			Division.	r of War Pen	neione		:
	Board,				··		1,050	0
			RICAL DIV	ISION.		: 		1
1	Class—Spe 1 at £66	ecial C 5 .			• •		66	5
1	Class I— 1 at £54	0 .					54	0
2	Class II— 1 at £51 1 at £49	5 .				£ 515 490	1 000	: : : :
4	$Class~III-4~{ m at}~\pounds47$		• •				1,000	
8	$Class~IV-\ 3~{ m at}~\pounds42\ 2~{ m at}~\pounds42$		), £400 (4 ), £400 (8	months)		1,275 1,250 817	3,34:	2
8						$   \begin{array}{r}     1,900 \\     369\frac{1}{2} \\     726\frac{1}{2}   \end{array} $	J,01.	<b>-</b>    - 

 $<sup>^{\</sup>ast}$  For particulars of salaries see "Public Service Classification List."

		PENSIONS DEPARTMENT—continu	uea.		
Number					
of Persons.	Item	VOTE No. 34.—PENSIONS—continued.		1938–3	39. 
1938–39.		Subdivision No. I.—Salaries—continued.		£	£
	1	Salaries—continued.			
	1	CLERICAL DIVISION—continued.		1	
28	l i	$Class \ VI 28 \ { m at} \ \pounds 335 \ \dots \ \dots \ \dots$	i	9,380	
20		20 40 2000		-,	
		$Class \ VII$ $21 \ { m at} \ \pounds 305 \qquad \dots \qquad \dots \qquad \dots$	£ 6,405		
		21 at £305	300		
		1 at £305 (9 months), £280 (3 months)	299		
		1 at £305 (7 months), £280 (5 months)	$294\frac{1}{2}$	:	
		1 at £305 (6 months), £280 (6 months)	$292^{1}_{2}$	:	
		3 at £305 (2 months), £280 (10 months)	$\frac{852\frac{1}{2}}{280}$		
		1 at £280	259		
		2 at £205 (5 months), £195 (7 months)	$\frac{5}{398}$		
		1 at £205 (3 months), £195 (9 months)	$197\frac{1}{2}$		
		1 at £205 (1 month), £195 (11 months)	196		
		1 at £195 (9 months), £185 (3 months)	$\frac{192\frac{1}{2}}{190}$		
		1 at £195 (6 months), £185 (6 months)	$\frac{180}{183\frac{1}{2}}$	:	
		1 at £185 (7 months), £175 (5 months)	181		
		2 at £185 (6 months), £175 (6 months)	360		
		1 at £185 (4 months), £175 (8 months)	178		
	,	3 at £185 (2 months), £175 (10 months) 1 at £185 (2 months), £175 (5 months), £115	530		
		(5 months)	$151\frac{1}{2}$		
		1 at £185 (1 month), £175 (2 months), £115	2		
	!	$(9 \text{ months}) \dots \dots \dots \dots \dots \dots$	131		
		1 at £185 (1 month), £175 (1 month), £115	196		
		$\begin{array}{cccc} \text{(10 months)} & \dots & \dots & \dots \\ \text{2 at £175} & \dots & \dots & \dots \end{array}$	$\frac{126}{350}$		
		1 at £175 (11 months), £165 (1 month)	174		
	1	1 at £175 (8 months), £165 (4 months)	$171\frac{1}{2}$		
		1 at £175 (6 months), £165 (6 months)	170		
		1 at £175 (4 months), £115 (2 months), £95	125		
		(6 months)	120		
	1	(4 months)	$246\frac{1}{2}$	į	
		1 at £175 (2 months), £115 (5 months), £95	7.1.01		
		(5 months)	$116\frac{1}{2}$		
	İ	(6 months) (4 months), £35	115		
	:	2 at £175 (7 months), £95 (5 months)	$283\frac{1}{2}$		
		1 at £175 (6 months), £95 (6 months)	135		
		1 at £165	165		
	1	1 at £165 (11 months), £155 (1 month)	$\begin{vmatrix} 164 \\ 163\frac{1}{2} \end{vmatrix}$	į	
		1 at £165 (9 months), £155 (3 months)	$162\frac{1}{2}$	i	
		1 at £165 (7 months), £155 (5 months)	161		
		1 at £165 (7 months), £80 (5 months)	130		
		1 at £165 (4 months), £80 (8 months)	$\frac{108\frac{1}{2}}{157\frac{1}{8}}$		
		1 at £165 (2 months), £155 (1 month), £80	10.2		
		(9 months)	$100\frac{1}{2}$		
		1 àt £155	155		
		1 at £155 (1 month)	13		
		1 at £155 (1 month), £115 (11 months) 3 at £115 (10 months), £95 (2 months)	$\frac{118\frac{1}{2}}{335}$		
		4 at £115 (8 months), £95 (4 months)	$433\frac{1}{2}$		
	i	8 at £115 (7 months), £95 (5 months)	$853\frac{1}{2}$	ı	
	1	5 at £115 (6 months), £95 (6 months)	525	i	

							1		
Number of Persons.	Item	VOTE No.	34.—P	ENSION	S—contin	ued.		1938–3	3 <b>9</b> .
1938–39.		Subdivision	No. I	—Salaries	-contin	ued.		£	£
	1	Salaries—continued.						T	L
	!	CLERIC	CAL DIV	isionco	ntinued.				
		Class VII—continu	ued.						
		1 at £115 (5 mor	nths), £9	5 (7 mont	ths)		$\mathfrak{L}$ $103\frac{1}{2}$		
		2 at £115 (4 mor 1 at £115 (2 mor	iths), £9	5 (8 mont	ths)	• •	$203\frac{1}{2} \\ 98\frac{1}{2}$		
		2 at £115 (1 mor	nth), £95	6 (11 mon	ths)	••	$193\frac{1}{2}$		
		1 at £95	1			• •	95   180		
		2 at £95 (8 mont 3 at £95 (6 mont					$\frac{160}{262\frac{1}{2}}$		
		2 at £95 (5 mont					$172\frac{1}{2}$		
	!	2 at £95 (3 mont					$167\frac{1}{2}$		
	•	2 at £95 (2 mont				• •	$\frac{164\frac{1}{2}}{81}$		
		1 at £95 (1 mont 3 at £80 (11 mon		(TI IIIOIII)		• •	$\frac{220}{20}$		
		3 at £80 (10 mor				• •	200		
118		1 at £80 (1 mont				• •	$6\frac{1}{2}$		
		,	Y	. 1)				19,779	
		$1 \text{ at } £305 \dots$	JENERA.	l Divisio	ON.		305		
	1	$1 \text{ at £215} \dots$		• •		• • • • • • • • • • • • • • • • • • • •	215		
	1	1 at £195					195	:	
4		$1 \text{ at } £185 \dots$	• •	• •	• •	• •	185	000	
								900	
			Non-pe	RMANENT	s.				
		Medical Officers—					1		
_		1 at £950			• •	• •	950		
5		4 at £400	• •	• •	• •	• •	1,600	2,550	
		Clerks—						2,000	
		1 at £375					375		
		1 at £310			• •		310		
		1 at £305	• •	• •	• •	• •	305 580		
	l	$egin{array}{c} 2 \ { m at} \ \pounds 290 \ 1 \ { m at} \ \pounds 280 \end{array}$	• •	••	• •	• •	280		
		4 at £265		••	••	•	1,060		
	i	4 at £250					1,000		
		1 at £240	• •	• •	• •		240		
		10 at £235	• •	• •	• •	• •	$\frac{2,350}{440}$	i	
28		$egin{array}{c} 2 \ { m at} \ \pounds 220 \ 1 \ { m at} \ \pounds 210 \end{array}$	• •	* *	• •		210		
40		1 00 2210	• •	• •				7,150	
	i	Typists—					1 005	1	
	:	7 at £195	• •	• •	• •	• •	1,365		
		4 at £185 2 at £185 (11 mc	nths) f	 165 (1 me	nth)	• •	$\frac{740}{366\frac{1}{2}}$	-	
		1 at £185 (10 mc					$181\frac{1}{2}$	i	
	:	1 at £175	"				175		
		1 at £165		 45 /0			165		
		1 at £165 (9 mor			ntns)	• •	160 55		
		1 at £165 (4 mor 4 at £145	ions)	• •	• •	• • •	580		
	1	3 at £125			• • •	• •	375		
	1	1 at £125 (9 mor	nths), £1				120		
		8 at £105			• •		840	1	
17		5 at £85	• •	• •	• •	• •	$\frac{425}{130}$		
41	1	$2 \text{ at } £65 \dots$	• •	• •	• •	• •	100	5,678	
	1							0,010	

Persons.	Item	VOTE N	n 24	PENSION	[S. anntim	ued		1938-	-39.
938-39		VOLUE A	0. 01	LIMBLON	DComen	acu.			
		Subdivisio	on No. I	Salaries	scontinu	aed.		£	£
			7						
	1	Salaries—continue	ed.				i	:	
		N	ON-PERM	IANENTS	continued.		ļ		
		Office Assistants-	_				£	I	
	!	5 at £165		• •		• •	825		
		1 at £145	• •	• •	• •	• •	145		
		5 at £125	• •	• •	• •	• •	625		
		5 at £105	. •	• •	• •	• •	525		
		8 at £85	• •	• •		• •	680	:	
		1 at £80	• •	• •	• •	• •	$\frac{80}{455}$	:	
37	!	7 at £65 5 at £55	• •	• • •	• •	• •	275		
31	ļ	5 at £55	• •	• •	• •	• •	410	3 610 :	
		Tea-room Attend	lant					3,610	
1		1 at £52	14111					$52 \pm$	
		Temporary office	ers on la	an from :	Internal 7	Affairs	Depart-	02	
287		ment—	,,, (,,, to				£		
	_	1 at £235					235		
	1 :	1 at £220 (9 m	onths)				165		
		6 at £215 (9 m					967	1,367	
		,	•					•	
		Cadets' lodging-a					!	846	
	į.	Salaries and hon						2,477	
		Allowances to o					duties		
		under Public S	Service R	legulations	24A and	209		40	
	,	Estimated c			Section 5	1 of the	Public		
		Estimated c Revenu	es Act, 1	.926 (see e:	Section 5 nd of vote	1 of the	Public	į	
	;	Estimated c Revenu Contribut	es Act, 1 ion - fron	.926 (see e: n Imperia	Section 5 nd of vote al Govern	l of the	Public		
	;	$\begin{array}{c} \textbf{Estimated c} \\ \textbf{Revenu} \\ \textbf{Contribut} \\ \textbf{for ser} \end{array}$	es Act, 1 ion frou vices re	926 (see e: n Imperia ndered in	Section 5 nd of vote al Govern n payme:	l of the			
		Estimated c Revenu Contribut for ser Imperia	es Act, 1 ion fron vices re il pensi	926 (see en n Imperia ndered in oners resi	Section 5 nd of vote al Govern n payme:	l of the e)— ament nt of New	£		
		$\begin{array}{c} \textbf{Estimated c} \\ \textbf{Revenu} \\ \textbf{Contribut} \\ \textbf{for ser} \end{array}$	es Act, 1 ion fron vices re il pensi	926 (see e: n Imperia ndered in	Section 5 nd of vote al Govern n payme:	l of the			
		Estimated c Revenu Contribut for ser Imperia Zealand	es Act, 1 ion fron vices re I pensid	926 (see e.m. Imperiandered in oners resi	Section 5 nd of vote of Govern paymer iding in	l of the e)— ament nt of New	£		ur ao
		Estimated c Revenu Contribut for ser Imperia Zealand	es Act, 1 ion fron vices re I pensid	926 (see en n Imperia ndered in oners resi	Section 5 nd of vote of Govern paymer iding in	l of the e)— ament nt of New	£		65,30
		Estimated c Revenu Contribut for ser Imperia Zealand	es Act, 1 ion fron vices re I pensid	926 (see e.m. Imperiandered in oners resi	Section 5 nd of vote of Govern paymer iding in	l of the e)— ament nt of New	£		65,30
		Estimated c Revenu Contribut for ser Imperia Zealand	es Act, 1 ion fron vices re I pensid	926 (see e.m. Imperiandered in oners resi	Section 5 nd of vote of Govern paymer iding in	l of the e)— ament nt of New	£		65,30
		Estimated c Revenu Contribut for ser Imperia Zealand	es Act, 1 ion fron vices re I pensid	926 (see e.m. Imperiandered in oners resi	Section 5 nd of vote of Govern paymer iding in	l of the e)— ament nt of New	£		65, <b>3</b> 0
		Estimated e Revenu Contribut for ser Imperia Zealand	es Act, 1 ion fron vices re d pensid talSuba	926 (see e.m Imperiandered in oners residented in oners residented in oners residented in oners residented in oners residented in one of the on	Section 5 nd of vote al Govern n payme iding in o. I	l of the	£	!	65,30
		Estimated c Revenu Contribut for ser Imperia Zealand	es Act, 1 ion fron vices re d pensid talSuba	926 (see e.m Imperiandered in oners residented in oners residented in oners residented in oners residented in oners residented in one of the on	Section 5 nd of vote al Govern n payme iding in o. I	l of the	£		65,30
		Estimated e Revenu Contribut for ser Imperia Zealand	es Act, 1 ion from vices re al pension talSuba	926 (see e.m Imperiandered in oners residence oners residence oners residence oners	Section 5 and of vote al Govern a payme iding in o. I tration Ex	l of the	£		65,30
	2	Estimated e Revenu Contribut for ser Imperia Zealand  Tot  Subdivision  Charges for and Advertising, phe	es Act, 1 ion from vices re il pensio tal—Suba No. II incider	926 (see e. m. Imperia ndered in oners residual noners residua	Section 5 nd of vote al Govern n payme iding in to. I newspap	of the e)— comment of New	£ 3,500		65,30
	2	Estimated e Revenu Contribut for ser Imperia Zealand  Tot  Subdivision  Charges for and Advertising, phe	es Act, 1 ion from vices re il pensio tal—Suba No. II incider	926 (see e. m. Imperia ndered in oners residual noners residua	Section 5 nd of vote al Govern n payme iding in to. I newspap	of the e)— comment of New	£ 3,500	50	65,30
	2 3	Estimated e Revenu Contribut for ser Imperia Zealand  Tot  Subdivision  Charges for and Advertising, phe publications Expenses incider	es Act, 1 ion from vices re il pensio talSuba No. II incider ptograph ntal to pa	926 (see e. m. Imperia indered in oners residues on Number of Number of State of Sta	Section 5 nd of vote al Govern n payme iding in to. I tration Ex- pensions	of the e)— comment of New	£ 3,500	50   85	65,30
	$\begin{vmatrix} 3 \\ 4 \end{vmatrix}$	Estimated e Revenu Contribut for ser Imperia Zealand  Tot  Subdivision  Charges for and Advertising, phe publications Expenses incider	es Act, 1 ion from vices re il pensio talSuba No. II incider ptograph ntal to pa	926 (see e. m. Imperia indered in oners residues on Number of Number of State of Sta	Section 5 nd of vote al Govern n payme iding in to. I tration Ex- pensions	of the e)— comment of New	£ 3,500	85 50	65,30
	3 4 5	Estimated e Revenu Contribut for ser Imperia Zealand  Tot  Subdivision  Charges for and Advertising, phe publications Expenses incider Fees for certifica Fuel, light, powe	es Act, 1 ion from vices re d pension tal-Suba No. II incider ptograph ntal to pa tes of ag er, and w	926 (see e. m. Imperia indered in oners residues on National Natio	Section 5 nd of vote al Govern n payme iding in o. I  tration Ex newspap pensions	oversea.	£ 3,500	85 50 700	65,30
	3 4 5 6	Estimated c Revenu Contribut for ser Imperia Zealand  Tot  Subdivision  CHARGES FOR AND Advertising, phe publications Expenses incider Fees for certifica Fuel, light, powe Office cleaning	es Act, 1 ion from vices re d pension tal - Suba  No. II incider ptograph ntal to pa tes of ag er, and w	926 (see e. m. Imperia indered in oners residues on Number of Number of State of Sta	Section 5 nd of vote of Govern paymer iding in	of the e)— comment nt of New rpenses. coversea	£ 3,500	85 50	65,30
	3 4 5	Estimated c Revenu Contribut for ser Imperia Zealand  Tot  Subdivision  CHARGES FOR AND Advertising, phe publications Expenses incider Fees for certifica Fuel, light, powe Office cleaning Office fitting an	es Act, 1 ion from vices re il pension later Suba  No. II incider ptograph ntal to pa tes of ag er, and w ad requi	926 (see e. m. Imperia indered in oners residues on Number of the Administration of the control	Section 5 nd of vote al Govern n paymer iding in tration Ex newspap pensions expenses	of the end of the end	£ 3,500	85 50 700 25	65,30
	3 4 5 6 7	Estimated c Revenu Contribut for ser Imperia Zealand  Tot  Subdivision  Charges for and Advertising, phe publications Expenses incider Fees for certifica Fuel, light, powe Office cleaning Office fitting an removal of offi	es Act, 1 ion from vices re il pension later Suba  No. II incider ptograph ntal to pa tes of ag er, and w ad requi	926 (see e. m. Imperia ndered in oners residues on Number of the control of the c	Section 5 nd of vote al Govern n payme iding in o. I  tration Ex newspap pensions expenses	oversea	£ 3,500	85 50 700 25	65,30
	3 4 5 6 7 8	Estimated c Revenu Contribut for ser Imperia Zealand  Tot  Subdivision  Charges for and Advertising, phe publications Expenses incider Fees for certifica Fuel, light, powe Office cleaning Office fitting ar removal of offi Overtime	es Act, 1 ion from vices re al pension talSuba  No. II  INCIDEA otograph tal opa tes of ag er, and w and requires	926 (see e. m. Imperia andered in oners residuction Number of the control of the	Section 5 nd of vote al Govern n paymer iding in fo. I  tration Ex newspap pensions expenses	of the e)— comment nt of New rpenses. oversea s incide	£ 3,500	85 50 700 25 2,000 1,000	65,30
	3 4 5 6 7 8 9	Estimated c Revenu Contribut for ser Imperia Zealand  Tot  Subdivision  CHARGES FOR AND Advertising, phe publications Expenses incider Fees for certifica Fuel, light, powe Office cleaning Office fitting ar removal of offi Overtime Post and Telegra	es Act, 1 ion from vices re al pension talSuba  No. II  INCIDEA otograph tal opa tes of ag er, and w and requires aph Depa	926 (see e. m. Imperia andered in oners residual in oners residual in oners. The interest of t	Section 5 nd of vote al Govern n paymer iding in fo. I  tration Ex newspap pensions expenses r services	of the e)— comment nt of New rpenses. oversea oincide of office	£ 3,500	2,000 1,000 26,315	65,30
	3 4 5 6 7 8 9	Estimated c Revenu Contribut for ser Imperia Zealand  Tot  Subdivision  Charges for and Advertising, phe publications Expenses incider Fees for certifica Fuel, light, powe Office cleaning Office fitting ar removal of offi Overtime Post and Telegra Postage, telegrar	es Act, 1 ion from vices re al pension talSuba  No. II  INCIDEA totograph tes of ag er, and w and requires aph Depa ms, and re	926 (see e. m. Imperia andered in oners residuction Number of the control of the	Section 5 nd of vote al Govern n paymer iding in fo. I  tration Ex newspap pensions expenses r services ces	of the e)— comment nt of New rpenses. ers, and oversea s incide of office	£ 3,500	2,000 1,000 26,315 5,000	65,30
	3 4 5 6 7 8 9	Estimated c Revenu Contribut for ser Imperia Zealand  Tot  Subdivision  Charges for and Advertising, phe publications Expenses incider Fees for certifica Fuel, light, powe Office cleaning Office fitting ar removal of offi Overtime Post and Telegra Postage, telegrar Printing and sta	es Act, 1 ion from vices re il pensie  tal—Suba  No. II.— INCIDER otograph   atal to pa tes of ag er, and w  aph Depa ms, and re tionery	926 (see e. m. Imperia indered in oners residual indered in oners residual indered in oners residual indered in oners residual indexes in one of the control	Section 5 nd of vote al Govern n payme iding in tration Ex newspap pensions expenses r services	of the e)— comment nt of New rpenses.  oversea s incide of office	f other s	2,000 1,000 26,315 5,000 3,000	65,30
	3 4 5 6 7 8 9 10 11 12	Estimated c Revenu Contribut for ser Imperia Zealand  Tot  Subdivision  Charges for and Advertising, phe publications Expenses incider Fees for certifica Fuel, light, powe Office cleaning Office fitting an removal of offi Overtime Post and Telegra Postage, telegrar Printing and sta Rent of offices	es Act, 1 ion from vices re al pension tal—Suba  No. II.— INCIDEN otograph tal to pa tes of ag er, and w and requires aph Depa ms, and retionery	926 (see e. m. Imperiondered in oners residues on National Nationa	Section 5 nd of vote al Govern n payme iding in fo. I  tration Ex newspap pensions cxpenses r services ces	of the e)— comment of New  erpenses.  ers, and  oversea  incide  of office	f other s	2,000 1,000 26,315 5,000	65,30
	3 4 5 6 7 8 9	Estimated c Revenu Contribut for ser Imperia Zealand  Tot  Subdivision  Charges for and Advertising, phe publications Expenses incider Fees for certifica Fuel, light, powe Office cleaning Office fitting an removal of offi Overtime Post and Telegra Postage, telegrar Printing and sta Rent of offices Telephone serv	es Act, 1 ion from vices re al pension tal—Suba  No. II.— INCIDEN otograph ntal to pa tes of ag er, and w aph Depa ms, and re tionery ices (in	926 (see e. m. Imperiondered in oners residuction Number of the state	Section 5 nd of vote al Govern n payme iding in tration Ex newspap pensions expenses r services tes installatio	of the e)— comment of New  repenses.  ers, and  oversea  incide  of office  n, ext	f other s	2,000 1,000 26,315 5,000 3,000 2,900	65,30
	3 4 5 6 7 7 8 9 10 11 12 13	Estimated c Revenu Contribut for ser Imperia Zealand  Tot  Subdivision  Charges for and Advertising, phe publications Expenses incider Fees for certifica Fuel, light, powe Office cleaning Office fitting an removal of offic Overtime Post and Telegra Printing and sta Rent of offices Telephone serv maintenance,	es Act, 1 ion from vices re al pensis l talSuba  No. II incider otograph tal to pa tes of ag er, and w ad requi ices aph Depa ms, and retionery ices (in rent, and	926 (see e. m. Imperiandered in oners residuction Number of the control of the co	Section 5 nd of vote al Govern n paymer iding in tration Ex newspap pensions expenses r services tes installatio	of of the end of the e	f other s ental to ers ensions,	2,000 1,000 26,315 5,000 3,000 2,900	65,30
	3 4 5 6 7 8 9 10 11 12	Estimated c Revenu Contribut for ser Imperia Zealand  Tot  Subdivision  Charges for and Advertising, phe publications Expenses incider Fees for certifica Fuel, light, powe Office cleaning Office fitting an removal of offi Overtime Post and Telegra Postage, telegrar Printing and sta Rent of offices Telephone serv	es Act, 1 ion from vices re al pension  tal-Suba  No. II  INCIDER otograph   tal to pa tes of ag er, and w  aph Depa ms, and requi ices ices (in rent, and moval ex	926 (see e. m. Imperia ndered in oners residuction Number of the control of the c	Section 5 nd of vote al Govern n payme iding in tration Ex newspap pensions expenses r services tes installatio	of the end of the end	f other s ental to ensions,	2,000 1,000 26,315 5,000 3,000 2,900 500 600	65,30

Number of Persons.	Item		1938	8-39.
1938-39.		VOTE No. 34.—PENSIONS—continued.		1
1900-09.		Subdivision No. II.—Administration Expenses—continued.	£	£
	16	CHARGES FOR AND INCIDENTAL TO—continued.  War Pensions Appeal Board—  Salaries and fees	F 500	
	17	Contingencies (including unforeseen expenditure incidental to the other items of the vote)	5,500	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)— £ Miscellaneous		1 : : : : : : : : : : : : : : : : : : :
	i	Total-Subdivision No. II		49,075
		Subdivision No. III.—Pensions and Annuities.		:
	-	i		:
	18 19	CHARGES FOR AND INCIDENTAL TO— Annuity to daughter of the late Sir W. Fraser	150 200	!
	20 21	Family allowances	70,000 35,000	
	$ \begin{array}{c c} 22 \\ 23 \\ 24 \end{array} $	Miners' pensions	1,500 $0,000$ $0,000$	
	25	Pensions and allowances to disabled ex-members of N.Z.  Contingents to South African War and dependents of deceased members thereof	1,940	
	26	Pensions to ex-members of New Zealand Defence and Naval Forces	2,300	'
	$\begin{bmatrix} 27 \\ 28 \\ 29 \end{bmatrix}$	Police pensions	3,600 2,000 6,293	i
	30 31	War pensions and allowances       1,61         War veterans' allowances       16	$0,000 \\ 5,000$	
	32	Widows' pensions	75,000	!
		Revenues Act, 1926 (see end of vote)— Grants to supplement superannuation, Post £ and Telegraph Department		
		Credit from National Endowment revenue applied for payment of old-age pensions 43,595 Miscellaneous		
	:	46,000		1
	1	Total—Subdivision No. III		6,752,983
		Subdivision No. IV.—Other Charges.		
	33	Charges for and incidental to— Clothing allowance to wearers of mechanical appliances other than artificial legs	550	
	34 35	Compassionate grant in lieu of war pension Grant to Soldiers' Civil Re-establishment League	$\begin{smallmatrix} 100\\2,000\end{smallmatrix}$	

#### PENSIONS DEPARTMENT—continued.

Number of Persons.	Item		VOT	E No.	34.—PE	NSION	NS—contin	ued.	!	193	8–39.
938-39.		Su	bdivis	ion No.	. IV0	ther Ch	argescoi	ntinued.		£	£
							continued.				
	36	Loadi	ng on Ith oo	life-inst	irance pi l by war	emium:	s on accou	nt of im	paired	170	·
	37		al fees							15,000	
	į	Medic	al trea	tment,	burial ex	penses,	, and expe	nses inci	dental	,	
	90		hereto-		T 77 I	7 77	11.11	77		<b>7</b> 0.000	
	$\begin{array}{c c} 38 \\ 39 \end{array}$	Ex-	memb memb	ers of P	tew Zeala Jew Zeal	and Det	peditionar fence and	y rorce Naval E	oreos	70,000	
	40				ar vetera		· ·		01003	100	
	41						soldiers		:	2,500	1
	42	$\operatorname{Trave}$	lling a	llowane	es and ex	cpenses	: Pension	ers	••	3,000	
				llaneou		•••	$o. \ IV$	•	100		93,520
			Gr	oss To	TAL				!		6,960,885
	!		Cr	EDITS-L	N-AID (a)						49,650
	; 		NE	TOT TO	AL-VC	TE No	o. 34	• •			6,911,235
									I		
	(a) Cr	redits-in-ai	d—				Salaries. £	Otl Char	ges.	1938–39. £	
	$\mathbf{s}$	ubdivision	ı				3,500			3,500	
		,,	$\mathbf{II}$				• •		50	50	
		,,	III						000	46,000	
			TV						100	100	

46,150

49,650

Totals .. .. 3,500

## NATIONAL PROVIDENT AND FRIENDLY SOCIETIES DEPARTMENT.

			938-39.								
				Salaries.	Salaries. Other		Total.				
Vote No.	£	£		£							
(	Gross Total		••			12,463		122,362	134,825		
(	Credits-in-a	1D			••			5	5		
-	NET TOTA	ն	••			12,463	<del></del>	122,357	134,820		
Number of Persons.	Item \	VOTE No. 35.—NATIONAL PROVIDENT AND							1938-39.		
1938–39.	1 *Salai	*Salaries—	FRIENDLY SOCIETIES.					£	£		
1			Administra perintendent				••	800			
			CLERICA	L Divisio	ON.				· i		
$1_{+}$		ss 11— at £515					• •	515	i		
1		ss III— at £470						470	:		
3		ss IV— at £425				••		1,275			
2		ss V— at £380	••	• •				760			
5		ss VI— at £335		• •				1,675			
	3 1 2 1 1 1 1 1	at £305 (1 at £280 (9 at £230 (3 at £205 (1 at £195 (1 at £185	1 months), £0 months), £2 months), £2 months), £2 month), £1 month), £1 month), £1 months), £1	2280 (2 m 255 (3 mo 205 (9 mo 95 (11 mo 85 (11 mo	onths) nths) nths) nths) nths)		£ 915 303 601 274 211 196 186 185 181				

 $<sup>^{\</sup>star}$  For particulars of salaries see " Public Service Classification List."

#### NATIONAL PROVIDENT AND FRIENDLY SOCIETIES DEPARTMENT—continued.

Number of Persons.	Item	VOTE No. 35.—NATIONAL PROVIDEN	193 <b>8</b> –3 <b>9</b> .			
938-39.	İ	FRIENDLY SOCIETIES—continue				
					£	£
	1	SALARIES—continued.				
		CLERICAL DIVISION—continued.				
		Class VII—continued.		£	:	
		1 at £155	• •	155		
	. 1	1 at £115 (8 months), £95 (4 months) 1 at £115 (4 months), £95 (8 months)		$\frac{109}{101}$		
	!	1 at £115 (1 month), £95 (11 months)		97	i .	
	1	1 at £95 (6 months), £80 (6 months)	• •	87		
19		1 at £95 (5 months), £80 (7 months) 1 at £95 (2 months), £80 (10 months)		87 83		
1.0		1 at 250 (2 months), 200 (10 months)	••		3,771	
		Cadets' lodging-allowances		••	133	
		GENERAL DIVISION.		: !		
1		1 at £205			205	
1		1 at 2200	••	• •	200	
		Non-permanents.		ļ		
	! !	1 at £235		235		
	!	3 at £195		585		
		I at £185		185		
		1 at £175		175		
		6 at £165	• •	990 161	İ	
		1 at £145 (6 months), £125 (6 months)		135	!	
	;	1 at £105 (3 months), £85 (9 months)		90		
		1 at £105 (1 month), £85 (11 months)		87		
		1 at £85 (11 months), £65 (1 month)		83 . 68	į	
19	. :	1 at £65		65	i	
52	-				2,859	
					12,463	
	2	OTHER CHARGES FOR AND INCIDENTAL TO— Assistance to Sick and Funeral Funds of Frier	ndly So	ocieties	!	
		on account of deficiencies due to the war a	nd of	excesss	/1	
	3	after-discharge sickness Audit fees for inspection of accounts	• •	••	$175 \pm$	
	4	Commission, allowances, and agency expenses		• • •	6,200	
	5	Fees for certificates of birth, &c			50	
	6	Fuel, light, power, water, and cleaning		:	90	
	7	Maternity claims— Approved friendly societies			37,200	
	8	Approved triendly societies		••	$\frac{57,200}{5,000}$	
	9	Maternity allowances claimed and specially	approv		3,000	
	10	Board			6	
	10	Office fittings and requisites	•. •	• •	$1,050 \mid$	
	$\frac{11}{12}$	Postage, telegrams, and rent of boxes Printing and stationery		••	$\begin{array}{c} 350 \\ 450 \end{array}$	
	13	Removal of offices	• •		200	
	14	$\operatorname{Rent}$			1,600	
		Services rendered by other Departments—			· · · · · ·	
	15	Government Actuary's Office			2,500 +	

## ${\tt NATIONAL\ PROVIDENT\ AND\ FRIENDLY\ SOCIETIES\ DEPARTMENT}-continued.$

Number of Persons.	Item		1938	-39.
		VOTE No. 35.—NATIONAL PROVIDENT AND		
1938 <b>–39</b> .		FRIENDLY SOCIETIES—continued.		
			£	£
		OTHER CHARGES FOR AND INCIDENTAL TO-continued.		
	17	State subsidy to National Provident Fund	$66,210^{-3}$	
	18	Telephone services (including installation, extensions,		
		maintenance, rent, and calls)	160	
	19	Travelling allowances and expenses	400	
	20	Contingencies (including unforeseen expenditure incidental		
		to the other items of the vote)	15	
		Estimated credits-in-aid under Section 51 of the Public		
		Revenues Act, 1926 (see end of vote)— £		
	: - j	Other charges 5		
			122,362	
	.	Gross Total		134,825
				20.,020
		Credits-in-aid $(a)$	• •	5
		NET TOTALVOTE No. 35		134,820

(a) Credits-in-aid		Other			
(0) 010410 111 414	Salaries. ${\mathfrak L}$	Charges. ${\mathfrak L}$	1938-39. £		
		5	5		
Totals		5	5		
			2. <del></del>		

## Appropriations for Land for Settlements Account.

#### LAND FOR SETTLEMENTS ACCOUNT.

						19	938–39.	
		opportune to relation of		  -  -  -  -  -  -	Salaries	. Oth	er Charges.	Total.
Vote No	o. 51.—Land for S	ettlements			£		£	£
	Ornes Manus				1 0	100	949 060	945 160
	GROSS TOTAL	• • • • • • • • • • • • • • • • • • • •	• •	• •	1,2	100	343,960	345,160
	Credits-in-aid					İ	160	160
	NET TOTAL		••		1,2	00	343,800	345,000
	1			. 1		ļ		
Number of	[tem						1938	3-39.
Persons.	VOT	E No. 51.—LAN	D FOR S	SETTL	EMENTS.			
$\overline{1938} - 39$								
	1 SALARIES-	<del></del>					£	£
		CLERIC	al Divisi	ON.				
1	1+ 61 (	200					1 000	
1		not specified		• • •		• • • • • • • • • • • • • • • • • • • •	1,000 200	
							1,200	
		ARGES FOR AND I		L TO-	-			
		t compensation, &			• •	£	500	
		ion of lands and in old lands	nterests ti	rerem—		30,000		
		e lands	• • •			5,000	i .	
	Other	lands			• •	14,300	140,000	
	4 Adminis	tration expenses—					149,300	
	Devel	opment expenditu		wn and	l Settle-			
		nts lands				2,000		
		Valley Settlement ments			• •	250		
	Settle	ments			• •	$\frac{12,550}{}$	14,800	
	5 Advance	es for development	t of occup	ied land	ds, &c.—		11,000	
	Crown	ı lands, &c				40,000		
		ment lands	• •		• •	9,500		
	Miscel	laneous	• •	• •	• •	500	<b>50,000</b>	
	6 Audit fe	es					$^{-}$ $50,000$ $250 \div$	
		tions to the Cons	solidated	Fund f	rom intere	est and	1	
		eccipts resulting f						
		lands, &c			•••		1,350	
		ment of unoccupic	ed lands—	•		£		
		lands, &c	• •			10,000		
		$_{ m ment\ lands}$ $_{ m nal\ farming\ expense}$	diture—	٠.	£	50,000		
		wn lands, &c.	anure—		50,000		1	
		lement lands			40,000		1	
	i					90,000		
	j ·						-150,000	

# Appropriations for Land for Settlements Account.

## LAND FOR SETTLEMENTS ACCOUNT—continued.

Number of	[tem	!	1938	3–39.
Persons.		VOTE No. 51.—LAND FOR SETTLEMENTS—continued.		
938–39.			£	£
	9	OTHER CHARGES FOR AND INCIDENTAL TO—continued. Grants to County Councils for maintenance of county roads		
	10	serving settlements being farmed by the Department Improvements to and protection, &c., of settlement	1,000	
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		Unoccupied lands 3,000		
		Seasonal farming expenditure 9,500	15,000	
	11	Lodgments on account of capital values of leases—		: : :
	11	Interest on		
		Refunds of 1,105	1,355	
	10			
!	$\frac{12}{13}$	Payments for improvements to outgoing lessees	250 50	
!	14	Refunds of credits-in-aid received erroneously in previous	10	!
	15	financial year	10 20	
	16	Transfer from Hutt Valley Settlement receipts towards purchase money and costs of preparation of the settlement	40.000	
	17	for disposal	$     \begin{array}{r}       10,000 \\       50     \end{array} $	
	18	Contingencies (including unforeseen expenditure incidental to the vote)	25	
		Estimated credits-in-aid under Section 51 of the Public		
		Revenues Act, 1926 (see end of vote)— £ Valuation fees		
		Miscellaneous 60	į	
i		160		
i		•	393,960	
		Less amount provided under item "Acquisition of lands and interests therein" not required this year	50,000	
	:	Gross Total	343,960	345,10
		Credits-in-aid		10
		NET TOTAL—VOTE No. 51		345,00

## Appropriations for State Coal-mines Account.

### STATE COAL-MINES ACCOUNT.

								193	38-39.	
						i	Salaries.	Other	Charges.	Total.
ote No	o. 53	-State Coal-mi	nes				£	1	£	£
	Gros	s Total				:	10,99	)4 :	378,703	389,697
			••	••	••	.,	10,0			
		ITS-IN-AID	• •	••	• •	• • •	• •		1,600	1,600
	NET	TOTAL	• •	• • •	• •		10,99	94   3	77,103	388,097
Number of Persons.	Item	V.O	TF No	<b>মহ ও</b>	ኮልጥፑ ሪ	OAL-MI	NTPQ	- A	1938	8–39.
938-39.			TT NO	. 55.–-5	IAIE C	OAL-MI	N.ISO.			0
		*Salaries—	Pı	ROFESSIO	NAL DIV	ision.			£	£
1		Class Spec 1 at £82		rintender	nt, State	Coal-mir	nes)		825	
1		Class I— 1 at £54	0		• •			••	540	
1		Class II— 1 at £51	5					• •	515	
	į		,	Clericai	L Divisi	ON.				: : !
		Class III-	-					£		İ
2	1 1	1 at £470 1 at £470			 45 (8 mo	$_{ m nths})$	• •	118 453		
		Class IV-							571	
$_2$		1 at £42 1 at £40		• •	٠.			$\begin{array}{c} 425 \\ 400 \end{array}$		
21			0	• •	••	••	• •		825	
1		Class V — 1 at £35	5						355	
3		Class VI—3 at £33						!	1,005	; 
		1 at £25 1 at £20 1 at £19 1 at £18 1 at £18	5 0 (11 mo 5 (7 mo 5 (11 mo 5 (7 mo 75 (7 mo nths)	nths), £1 onths), £1 nths), £1 months),	£115 (	nths) onth) nths) 1 month	    ), £95	1,220 278 255 201 194 185 180		

 $<sup>^{*}</sup>$  For particulars of salaries see " Public Service Classification List."

# $Appropriations\ for\ State\ Coal-mines\ Account.$

## STATE COAL-MINES ACCOUNT—continued.

Number of Persons.	Item		1938-	39.
	<u> </u>	VOTE No. 53.—STATE COAL-MINES—continued.		
938–39.	1	Salaries—continued.	£	£
		CLERICAL DIVISION—continued.	1	
		Class VII—continued £		
		2 at £95 (11 months), £80 (1 month)	İ	
		1 at £95 (7 months), £80 (5 months) 89		
1.77		1 at £95 (3 months), £80 (9 months) 84		
17		1 at £80 80	3,240	
		Cadets' lodging-allowances	72	
		GENERAL DIVISION.		
		1 at £425 $\dots$ 425		
		1 at £425 (3 months), £400 (9 months) 407		
		1 at £390 390		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
6		1 at £305		
		1 40 82 10	2,137	
			; 1	
		Non-permanents.		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	ļ	
		1 at £105 (2 months), £85 (10 months) 89		
6		1 at £85 (9 months)		
40	-	T I : . 11 -	1,144	
40		Lodging-allowances	25	
		special duties	45	
			11,299	
		Less amount provided but not required	305	
			10,994	
		Character Character and Charac		
	2	OTHER CHARGES FOR AND INCIDENTAL TO— Advances to workmen for erection of dwellings (recoverable)	6,000	
	3	Audit fees for inspection of accounts	320	
	4	Coal supplies free to mine-managers, &c	170	
	$\begin{array}{ c c c c c c c c c c c c c c c c c c c$	Coal supplied at reduced rates to workmen at the mines	1,450	
	6	Compassionate allowance to the widow of the late Thomas Quinlivan, Manager, Christchurch Depot	167	
	7	Quinlivan, Manager, Christchurch Depot Compensation and expenses under Workers' Compensation	101	
	'	Acts	8,000	
	8	Deposits on contracts (recoverable)	100	
		Depots: Purchase of stocks and trading expenses—	00 450	
	$\begin{vmatrix} 9 \\ 10 \end{vmatrix}$	Christchurch	$\begin{bmatrix} 26,450 \\ 50 \end{bmatrix}$	
	11	$egin{array}{cccccccccccccccccccccccccccccccccccc$	17,000	
	12	Development of new mine, Nine and Ten Mile area Development Expenditure, Liverpool Colliery—	97,800	
	13	Electric-power and air-compressor	2,051	
	14	Strengthening viaduct (on account)	500	
	15	Erection of new cottages for Manager and Engineer	2,800	
	16	Runanga street lighting	114	
	17	Runanga street repairs	190	
	1 1	Runanga Borough Council water-supply (on account)	1,000	
	18			
	19	Harbour rates and royalty	4,500	

# Appropriations for State Coal-mines Account.

## STATE COAL-MINES ACCOUNT—continued.

Persons.	Item	VOTE No. 53.—STATE COAL-MINES—cont	tinucd	, ,	1938	<b>-39.</b>
1938–39.					£	£
	,	OTHER CHARGES FOR AND INCIDENTAL TO—contin	ued.			*
	22	70 07 111			45,000	
	23	T. 10 111 T			160,000	
	24	MacDonald Colliery, road access to (partly recov	erabl-	e)	808	
	25	^			50	
	26	Postage, telegrams, and rent of boxes			170	
	27				320	
	28	Prospecting and boring on State coal reserve		!	500	
	29	Public Service Superannuation Fund contribution	n	, . ;	99	
	30	Purchase of motor-vehicles			550	
	31				1,000	
	32	Purchase and installation of new weighbridge,	Welli	ington		
		Depot			700	
	33	Depot	anga 8	School		
		of Mines			45	
	34	Seddonville Colliery expenses			10	
	35	Special rates (statute-barred), Wellington Depot			73	
	36	Subsidy: Runanga Medical Association			162	
	37	Transfer and removal expenses of officers			120	
	38				100	
	39	Visit of Superintendent, State Coal-mines, to A	ustrali	ia	100	
	40	Contingencies (including unforeseen expenditure	e inci	dental		
		to the other items of the vote)			10	
		Estimated credits-in-aid under Section 51 of		Public		
		Revenues Act, 1926 (see end of vote)—		£		
		Return of deposits Sale of plant, railway tickets, &c.		100		
		Sale of plant, railway tickets, &c.		1,400		
		MacDonald Colliery, road access to		50	!	
				50		
				3 000	i	
				1,600		
					378,703	
		Gross Total		•• [		389,697
		Credits-in-aid (a)			••	1,600
		NET TOTAL—VOTE No. 53				388,097

			Other	
		Salaries.	Charges	1938-39.
		ź	£	£
(a) Credits-in-aid—			1,600	1,600
		_		
Totals	• •	• •	1,600	1,600
			1	

#### STATE FORESTS ACCOUNT.

				19	38–39.	
			Salaries.	Othe	r Charges.	Total.
Vote No. 54.—State Forest Service—		1	£		£	£
Capital Charges						
$egin{array}{ll} ar{Subdivision} & I.{ m Salaries} & \ldots \end{array}$			37,857			37,857
,, II.—General Development	• •				51,595	51,595
,, III.—Forest Fire Prevention			• •		339	339
VEducation, &c		• •	• •		$egin{array}{c c} 479 & & \\ 1,634 & & \end{array}$	$\begin{array}{c} 479 \\ 1,634 \end{array}$
VI _General Afforestation		• •	• •		340,768	340,768
VII Againstian of Indiagnous			• •		730	730
,, VII.—Acquisation of Inaigenou ,, IX.—Utilization and Industr			• •		116,500	116,500
			37,857		512,045	549,902
Operation and Maintenance Charges						
Operation and Maintenance Charges— Subdivision I.—Salaries			25,736			25,736
II Command Davalonmant		• •		1	22,012	22,012
III Forget Fing Presention			• •		$\begin{bmatrix} 32,012 \\ 1,364 \end{bmatrix}$	1,364
IV Education &c					342	342
,, V.—Forest Research					1,156	1,156
VIGeneral Afforestation					2,575	2,575
,, VII.—Acquisition of Indigenou	s Forests, &	c.			74	74
,, VIII.—Grants and Subsidies to .	$Local\ Bodies$	3 :				
$Miscellaneous \ \dots$					<i>16</i> , <i>198</i>	16,198
,, IX.—Utilization and Industr	ial .		• •		20,641	20,641
			25,736		64,362	90,098
Gross Totals	h		63,593		576,407	640,000
Credits-in-aid					129,165	129,165
NET TOTAL	٠		63,593	4	147,242	510,835
Number	emilion nen omler				109	3–39.
of Persons.   VOTE No. 54.—STAT	E FOREST	r sei	RVICE.		1990	5-08.
938-39. Subdivision No	o. I.—Salar	ies.			£	£
1 *Salaries— Administrat	ive Divisio	N.				:
1 at £1,000 (Director and Se	ecretary)		• •		1,000	
Profession	AL DIVISION	١.		£		
1 l 1 at £800				800		
Arrears to 31st March, 19	<b>3</b> 8 .			80		!
Class Special A—					880	
1 at £765	• •				765	
Class II—					400	
$\begin{array}{c ccccccccccccccccccccccccccccccccccc$	• •	• •	• •		490	
1   Class III — 1 at £470 (10 months)					392	
Class IV—	• •		• •	• •	301	
2 1 at £425				425		
1 at £425 (10 months)				354		
					779	İ

 $<sup>^{*}</sup>$  For particulars of salaries see "Public Service Classification List."

Number of Persons.	Item	VOTE No. 54.—STATE FOREST SERVICE—con	tinued.	1938-	39.
938–39.		Subdivision No. I.—Salaries—continued.	<u></u>	£	£
	1	Salaries—continued.		r	ı
		Professional Division—continued.			
		Class V—	£		
	!	1 at £355 (11 months) $\dots \dots \dots$	325		
2		$1 \text{ at } £355 \text{ (8 months)} \qquad \dots \qquad \dots$	237		
		Class VI—		562	
1		1 at £335 (4 months)		112	
		CLERICAL DIVISION.			
		Class I—	i		
1		1 at £540 (3 months)		135	
		Class II—			
1		1 at £490 (11 months), £470 (1 month)	:	488	
1	}	Class III—		400	
1		1 at £445 (11 months)	• •	408	
		$Class\ IV$	850		
		2 at £425	415		
4		1 at £400	400		
•		Class V—		1,665	
		3 at £380	1,140	2,000	
4		1 at £380 (4 months), £355 (8 months)	363	į	
	1	Class VI—		1,503	
		12 at £335	4,020		
13		1 at £335 (1 month), £320 (11 months)	321		
		Class VII—		4,341	
		$4 \text{ at } £305 \qquad \dots \qquad \dots \qquad \dots$	1,220		
	i i	1 at £305 (1 month), 280 (11 months)	282		
		1 at £280 (9 months), £255 (3 months)	274		
		1 at £255 (2 months)	43		
		1 at £205 (9 months), £195 (3 months)	203		
	ļ	2 at £205 (8 months), £195 (4 months)	404	:	
	İ	1 . 1 0105 (0 11 .) 0155 (0 11 )	185		
		1 at £185 (6 months), £175 (6 months) 1 at £185 (4 months), £175 (8 months)	180   178		
		1 at £175 (7 months), £165 (5 months)	171		
		1 at £175 (3 months) £165 (8 months)	154		
		1 at £165 (4 months), £95 (7 months), £80	101		
	!	(1 month)	117		
		1 at £155 (1 month), £115 (11 months)	119		
		1 at £115 (6 months), £95 (6 months)	105		
		1 at £115 (6 months), £95 (3 months)	81		
		1 at £115 (5 months), £95 (7 months)	103	t .	
		1 at £115 (4 months), £95 (8 months)	102		
		1 at £115 (1 month), £95 (11 months)	97		
OF		3 at £95 (3 months), £80 (9 months)	$\frac{251}{14c}$	İ	
27		2 at £80 (11 months)	146	4 415	
		Cadets' lodging-allowances		$\frac{4,415}{90}$	
		Cadeus loughing-anowances	• •	20	
		GENERAL DIVISION.			
		1 at £765	765		
		2 at £750	1,500	:	
		1 at £750 (2 months)	125		
		1 at £715	715		
	i İ	1 at £715 (10 months), £665 (2 months)	707		
		1 at £665	665		
		1 at £565 (10 months), £515 (2 months)	557		
		6 at £515	$^{-3,090}$		

### ${\tt STATE\ FORESTS\ ACCOUNT--} continued.$

38–39.			-39.
	Subdivision No. I.—Salaries—continued.	£	£
	Salaries—continued.	£	£
	General Division—continued.	}	
	1 at £490 (10 months), 470 (2 months)		
	3 at £470 1,410	i	
	1 at £445 445		
	2 at £445 (10 months), £425 (2 months) 884		
	$2 \text{ at } £425 \dots 850$		
	1 at £425 (3 months), £390 (9 months)		
	1 at £400	-	
	1 at £355 (10 months), £335 (2 months) 352		
:	11 at £335 3,685	į	
	8 at £320 2,560		
	4 at £320 (6 months), £295 (6 months) 1,232		
58	1 at £320 (1 month), £295 (11 months)		
90	1 at £280 280	24,065	
		21,000	
	Non-permanents.		
	1 at £470 470	1	
	1 at £380 (10 months) 317		
	1 at £364		
	2 at £320 640		
	1 at £305	1	
	1 at £305 (3 months), £275 (9 months)	ļ	
	$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
	1 at £285 (4 months), £275 (8 months)		
	2 at £275 (1 month)		
	22 at £275 6,050		
	1 at £275 (6 months), £265 (6 months)		
	1 at £265 (11 months)		
	14 at £265 (9 months), (approx.) 2,785		
	14 at £265 (6 months), £255 (6 months) 3,640		
	4 at £255 (9 months)		
	1 at £255 (2 months)		
	1 at £230 (9 months)		
	1 at £205 205		
:	$2 \text{ at } £195 \dots 390$		
	1 at £195 (3 months)		
	I at £195 (3 months), £185 (9 months)        188         I at £185 (8 months), £165 (4 months)        178		
	2 at £185 (6 months), £165 (6 months)		
	1 at £185 (4 months), £165 (8 months)		
	1 at £145 (6 months), £125 (6 months)		
	1 at £145 (4 months), £125 (8 months)	1	
4	1 at £125 (8 months), £105 (4 months)		
	1 at £125 (3 months), £105 (4 months)		
1	1 at £105 (8 months), £85 (4 months)		
ĺ	1 at £105 (3 months), £85 (9 months) 90 $^{+}$		
05	1 at £105 (2 months), £85 (10 months)	İ	
95	$2 \text{ at } \pounds 65 \text{ (11 months)} \qquad \dots \qquad \dots \qquad 120$	21,483	
214	Special allowances under Public Service Regulations 24A	41,400	
	and 209 to officers performing special or higher duties	20	

Number of Persons.	Item	VOTE No. 54.—STATE FOREST SERVICE—continued.	1938–39.
1938-39.		Subdivision No. II.—General Development and Management of Indigenous State Forests, Provisional State Forests, and Forested Reserves (including extraction of Timber for Sale, Plant, Buildings, Roading, &c., Silvicultural Surveys, Compensation to Employees, and Contingencies).	£
		Capital Charges—	
	1	Charges for and incidental to—	
	2	Buildings	5,321
	3	Field equipment, tools, instruments, and tents  Forest atlas	$\begin{array}{c c} 716 \\ 425 \end{array}$
	4	Forest atlas	340
	5	Kaimanawa Forest	1,000
	6	Omahuta Forest	1,960
	7	Puketi Forest	5,510 15,000
	$\begin{vmatrix} 8 \\ 9 \end{vmatrix}$	Whirinaki Forest Motor-vehicles, purchase of	$\frac{15,000}{1,525}$
	10	Office equipment	900
		Regeneration Areas—	
	11	Auckland region	789
	12	Wellington region	$6,683 \mid 815 \mid$
	$\begin{bmatrix} 13 \\ 14 \end{bmatrix}$	Nelson region	350
	15	Southland region	1,509
	16	Roads, tracks	9,005
	17	Telephone lines	87
		Estimated credits-in-aid under Section 51 of the Public	
	1	Revenues Act, 1926 (see end of vote)—  Regeneration areas	!
		Regeneration areas 2,300 Roads, tracks, &c 3,080	
		Puketi Forest	
	1	Whirinaki Forest 2,080	
		7,960	
		Total—Capital Charges	51,595
	}	OPERATION AND MAINTENANCE CHARGES—	- · · · · · · · · · · · · · · · · · · ·
		Charges for and incidental to—	
	18	Advertising	260
	19	Cost-of-living bonus to annuitants, Public Service Super-	
		annuation Fund, and increased pensions to widows and	190
	20	children	$\begin{array}{c c} 130 \\ 2,797 \end{array}$
	$\frac{20}{21}$	Forest reconnaissance Kauri-gum, collection of	10
	22	Law-costs	115
	23	Maintenance buildings	410
	24	Maintenance field equipment, tools, &c.	$egin{array}{c c} 174 & 137 \end{array}$
	$\frac{25}{26}$	Maintenance office equipment Maintenance roads, tracks, and fences	1,596
	27	Maintenance telephone-lines (forest)	75
	28	Management of kauri forests	1,542
	29	Office rent, heating, lighting, cleaning, and messenger	1 00"
	200	services	$\begin{array}{c c} 1,935 \\ \hline 17 \end{array}$
	$\frac{30}{31}$		320
	$\frac{31}{32}$	Policing, patrol, and maintenance	1,047
	33	Postages, cables, telegrams, &c	949
	34	Printing and stationery	659
	35	Public Service Superannuation Fund contribution	835
	$\frac{36}{37}$		5
	$\frac{37}{38}$		913
	39		2,481

Number of Persons.	Item	VOTE No. 54.—STATE FOREST SERVICE—continued.	1938-	-39.
1938-39.	!	Subdivision No. 11.—General Development and Management of Indigenous State Forests, &c.—continued.	£	£
	40 41 42 43 44	OPERATION AND MAINTENANCE CHARGES—continued.  Charges for and incidental to—continued.  Transfer and removal expenses	1,754 - 750 1 17 c 0	
		Total—Operation and Maintenance Charges .	39, 019	
		Total—Subdivision No. II		73,607
		Subdivision No. III.—Forest Fire Fighting and Prevention: Indigenous Forests.		
		Capital Charges—		
	45 46	Charges for and incidental to—  Equipment	. 171 . 168	
		Total—Capital Charges	. 339	
		OPERATION AND MAINTENANCE CHARGES—		
	47 48 49 50 51	Charges for and incidental to— Communication and controls	. 85 . 170 . 35 . 75 . 999	
		, , ,	e	
		Total—Operation and Maintenance Charges .	. 1,364	
		Total—Subdivision No. III		1,703
		Subdivision No. IV.—Education: Ranger Instruction School Working Reference Library, Departmental Publication and Statistical Data.		
		Capital Charges—		
	52 53 54	Charges for and incidental to— Books and bulletins, publication of, for sale Photographic equipment Reference library and text books	. 350 . 40 . 89	
	i			

Number	_			
of Persons.	Item	VOTE No. 54.—STATE FOREST SERVICE—continued.	1938-	3 <b>9.</b>
938–39.		Subdivision No. IV.—Education: Ranger Instruction School, Working Reference Library, Departmental Publications, and Statistical Data—continued.	£	£
		Operation and Maintenance Charges—		
		Charges for and incidental to—	,	
	55	Circulars and leaflets, publication of	50	
	56 57	Empire Forestry Association: Membership contribution	$\frac{12}{50}$	
	58	Forest exhibits and Technological Museum	$\frac{50}{62}$	
	59	Photographic records and material	66	
	60	Professional, trade, and current publications	102	
		Estimated credits-in-aid under Section 51 of the Public		
		Revenues Act, 1926 (see end of vote)— £		
		Sale of bulletins, &c 80		
		Total—Operation and Maintenance Charges	342	
		Total—Subdivision No. IV		82
		Subdivision No. V.—Forest Research: Silvicultural Ecological Utilization and Forest Management.		
	1	Capital Charges—		
	61	Charges for and incidental to— Timber-testing equipment and apparatus	1,634	
	į	Total—Capital Charges	1,634	
		OPERATION AND MAINTENANCE CHARGES-		
		Charges for and incidental to—		
	62	Forest entomology	65	
	63	Silvicultural management studies	100	
	$\begin{vmatrix} 64 \\ 65 \end{vmatrix}$	Timber products testing and investigations	$\frac{461}{515}$	
	66	Utilization	15	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)— £		
		Miscellaneous 10		
			1 150	
		Total—Operation and Maintenance Charges	1,156	
		Total—Subdivision No. V		2,79
		Subdivision No. VI.—General Afforestation: Building, Tree- planting, Maintenance and Protection of Plantations,		
		Operations of Nurseries, Compensation to Employees, and Collateral Activities.	!	
		Capital Charges—		
		Charges for and incidental to—		
	67	Land purchase for extension of nurseries and plantations	5,575	
	68	Nurseries— Golden Downs	1,852	
	69	Hanmer	$\frac{1,692}{490}$	
	70	Kaingaroa	5,524	
	71	Pukekura	150	
	$\begin{array}{c c} 172 \\ 173 \end{array}$	Roto-ehu	$\frac{2,875}{3,501}$	
	74	Westland	$5,501 \\ 52$	
		Plantations—	į.	
	75	Balmoral	8,058	

Number of Persons.	Item	VOTE No. 54.—Si	TATE FOR	EST	SERVICE-	contin	ued.	1938-8	3 <b>9</b> .
938–39.		Subdivision No. VI. planting, Main Operations of N Collateral Activ	ntenance an Turseries, Co	$ec{d}$ $Prompens$	otection of	Plante	utions,	£	£
ĺ	ļ	CAPITAL CHARGES—	-continued.						
ļ		Charges for and inc Plantations—cont		continu	ıed.				
!	<b>7</b> 6	Blue Mountains						6,388	
ļ	77	Conical Hills ar						30,946	
	78	$\overline{\text{Dumgree}}$		• •	• •	• •		105	
İ	79	Erua		• •	• •	• •	• •	$6,223 \\ 6,490$	
ļ	80	Eyrewell Gimmerburn		• •	• •			725	
	82	Golden Downs						24,710	
	83	Greenvale and			• •			13,169	
	84	Hanmer Spring						7,629	
	85	Kaingaroa						115,669	
	86	Karioi	• •	• •	• •		• •	13,743	
	87	Maramarua	• •	• •	• •	• •	• •	5,235   500	
	88	Mangonui	• •	• •	• •	• •	••	4,331	
	$\frac{89}{90}$	Naseby Pebbly Hills	• •	• •		• •		5,961	
	$\frac{30}{1}$	Pongakawa To						4,076	
	92	Puhipuhi	··					898	
	93	$\operatorname{Raincliffe}$						200	
	94	Rankleburn						6,732	
	95	Riverhead	• •		• •			6,082	
	96	Roto-ehu		• •	• •		• •	$ \begin{array}{c c} 10,527 \\ 6,773 \end{array} $	
	97	Tairua	• •	• •	• •	• •	• •	202	
	98	Tapanui 🕡 Waiotapu	• •		• •	• •		20,533	
	100	Waipoua	• •			• •		3,398	
	101	Waitangi Ende				.,		1,377	
	102	We stland	`					1,140	
	103	Whakarewarev	7a					8,929	
		Estimated control Revenue	redits-in-aid es Act, 1926	under (see e	Section 5	1 of the	Public £		
	İ		$\mathbf{Endowment}$				1,377		
		Miscellane	ous	• •	• •	1	18,623		
						1	20,000		
		Total—Capi	tal Charges		• •		••	340,768	
		OPERATION AND M	AINTENANCE	е Снаг	RGES				
		Charges for and i	ncidental to-	_	à.				
	104	Travelling-allowa	nces and ex	penses	3		!	560	
	105	Tree-seed operati	ons (part re	covera	ıble)			2,000	
	106	Work performed (recoverable)	for other De	epartn 	nents, outs	ide bodi	es, &c.	15	
		Estimated co	redits-in-aid es Act, 1926				Public £		
	1		operations				10 15		
		Work peri	formed for o	tner D	epartment				
			formed for o	tner D	ерагинен		 25		
							<del></del>	2,575	

Number of Persons.	Item	VOTE No. 54.—STATE FOREST SERVICE—continued.	1938	-39.
1938-39.		Subdivision No. VII.—Acquisition of Indigenous Forests.	£	£
	i i	Capital Charges—		
	107	Acquisition of land	730	
		Total—Capital Charges	730	
		Operation and Maintenance Charges—		
	108	Charges for and incidental to— Refund to Land for Settlement Account— Yearly rent on Sections 28-30, Block VIII, Otanewainuku S.D	74	
		Total—Operation and Maintenance Charges	74	
		Total—Subdivision No. VII		804
		Subdivision No. VIII.—Grants and Subsidies to Local Bodies: Miscellaneous.		
	: :	Operation and Maintenance Charges—		
		Charges for and incidental to—		
	109	Payment of damages sustained by a private car through a collision with a Departmental ear	53	
	110	Payment of special rates	10	
	111	Payment to local authorities under Section 17, Finance Act, 1924	16,055	
	112	Payment to Thames Borough: Cost of Survey	63	
	113 114	Rebate of royalty on timber exported	$\frac{10}{7}$	
		Total—Subdivision No. VIII	- FO HVAP*	16,198
		Subdivision No. IX.—Utilization and Industrial: Purchase of Woodworking, Creosoting, Logging, and Transport Plant and Machinery; Land and Timber; Erection of Buildings; Payment of Working-expenses, including Salaries, Wages, Supplies, Repairs, Transport Charges, Transway-construction, Royalties, Workers' Compensation for Accidents, and Contingencies.		
		Capital Charges—		
		Charges for and incidental to— Sawmill and woodworking plant and machinery—		
	115	Rotorua	40,000	
	116	Hanmer Springs	3,000	
	117	Conical Hills	25,000	
	118	Rotorua	9,000	
	119	Conical Hills Creosoting plant—	5,000	
	120	Rotorua	12,000	
	121	Hanmer Springs	2,000	
	122	Conical Hills	5,000	
	123 124	Housing construction	15,000	
		m . 1 . G . t. 1 . Cl	116,500	
		Total—Capital Charges	110,500	

Number of It Persons.	VOTE No. 54.—STATE FOREST SERVICE—continued.	1938	-39.
1938–39.	Subdivision No. 1X.—Utilization and Industrial, &c. —continued.	£	£
	Operation and Maintenance Charges—	İ	
1.5	Charges for and incidental to— Logging Sawmilling and woodworking	3,500 7,000 9,601 540	
	Total—Operation and Maintenance Charges	20,641	
i	Total—Subdivision No. 1X		137,141
	Gross Total		640,000
	Credits-in-aid (a)	• •	129,165
	NET TOTAL VOTE No. 54		510,835
i		:	

(a) Credits-in-aid—				1938-39.
Subdivision	П		 	£ 9,010
,,	Ш	 	 	40
,,	IV	 	 	80
**	V	 	 • •	10
,,	VI	 	 	120,025
Total		 	 • •	

### WORKING RAILWAYS ACCOUNT.

						i			19	38-39.	
								ies and ages.	Othe	er Charges.	Total.
Vote No	. 55.—	-Working R	ailways–					£		£	£
	Gross	TOTAL					6.5	52,000	4	543,634	11,095,63
		TS-IN-AID	••		••			2,000		241,600	
			• •		• •				-		2,043,60
	NET	TOTAL		• •	• •		5,75	0,000	3,	302,034	9,052,03
Number of Persons.	Item	VO	TE No	55 — W	ORKING	RAII.	WAVS	2 *		19.	38–39.
1938–39.		*0	IB NO.	55.— W (	JILIXING	16/1.113	77 ZL J. S	<b>3.</b> '			
First	1	GENERAL	Charges	}						£	£
Division				Head Offi	ce: Sala	ries					
3,500	İį	Class I-	-								
Second				gement—				1	£		
Division			eral Mai	nager eneral Ma	nu Cor	• •			,600 ,350		
20,500					nager eral Mana				,250		
					and Ger				900		
Total			v Officer		una aci	LCIAN II	-		800		
24,000		134 (	, оптост	• •	• •	• •		-		5,90	$_{0}$
	-	Other sa	laries							21,60	
		0-1	. <b>f</b> 1	11	- f.	œ		L		27,50	5
				cierks, ar	aftsmen,	omce as	sistan		,161	 	
	! !	and t		mamhare	under t	 ha <b>r</b> an	ulatio		, 101		ļ
	1				$\frac{under}{ernment}$					-	
					abers on to						
					enses in c						
	1				ds, Inqui					!	
	,	Royal	Commi	ssions; a	and all ot	her un	forese	en			
	!	expen	diture in	cidental	to the oth	er iten	is of t	he		ļ	
		vote							100	i	
				ding, exp				5	,400	!	
				ay Confei					100		
	1				ıg, supply	of per	nodica		000		
			iscellane						,000		1
	1			ies and p	rinting	• •		3	,000 300		ļ
			ne subsci		 llowances	• •		,	,000		
	1				eal Board)			Z	500		
	1				rnment B		s Supe		000		
	, 1			Board)			_		100		
	:			/				-		22,66	1
										50,16	6
										au In	IT &
		Tas	a transfo	re to othe	r continue						
	; 	Les	s transfe	rs to othe	er sections			• •	• •	12,00	

<sup>\*</sup> For particulars of salaries see "Railways Classification List."

ersons.	Item	VOTE No.	55 — V	VORKIN	G RAII	.WAYS-	contin	ned.	1938–3	39.
38–39.		GENERAL CHA				111211	CONVIN		£	£
	1	-							ı.	I
		C	hief Acc	countant's	Office:	Salarie.	s.			
	İ	Chief Accou			• •				950	
	i	Other salar	ies	• •	• •	• •	• •	••	20,990	
		Salaries of c	رام ا معروب	vrlza offia	o aggiotar	ta maal	ninists	£	21,940	
		and ticke			• •	••	••	10,896		
	1	Cost of tick			••.		• •	2,500	1	
		Head Office	: buildin	g, expen	ses of	• •	• •	3,500		
		Stores, stat Telephone s				• •	• •	$\begin{array}{c c} 3,500 \\ 50 \end{array}$		
		Travelling a	allowane	nons es and e	vnenses	• •	••	2,000		
		Contingenc		••		• • •	• • •	100		
		C						· ·	22,546	
								_	44,486	
	: 1	Less at	mounts	provided	for unde	r other s	sections	••	14,488	
								i	29,998	
				Trainin	g School.					
		Salaries							2,145	
			••	••	••	••	••	£	4,110	
		Salary of			• •	• •	• •	270		
		Stationer	y and s	иррнеѕ	* *	• •	••	500	770	
								-	2,915	
				,,	~ 1			_	2,310	
			Miscel	laneous (	General (	charges.		,		
		Allowances								
	1 1				maximu:				į	
		$\frac{1926}{1}$ for			erformed					
		duty	. special		··		course:	£101		
			rovided	for unde	er the va	rious se	ctions	100	_	
		Audit fees	for insp	ection of	accounts				1,300	
			nate allc	wances					3,000	
		Compassion				$\sim$	mout B	Railways	1	
		Cost-of-livi	ing boni						1	
		Cost-of-livi Superam	ng boni nuation	Fund, ar	nd increa	sed pens	sions to	widows	15 000	
		Cost-of-livi Superam and child	ing boni nuation dren	Fund, an	$rac{1}{1}$ increa	sed pens	$\frac{1}{2}$ sions to	widows	15,000	
		Cost-of-livi Superam and child Allowance	ing bont nuation dren to ann	Fund, an  nuitants,	nd increa  Governi	$egin{array}{ccc} &  ext{sed pens} \ &  ext{nent} &  ext{R} \end{array}$	sions to  ailways	widows Super-	15,000	
		Cost-of-livi Superam and child Allowance annuatio	ing bonu nuation dren to anr on Fund	Fund, an  nuitants,	nd increa  Governi vided for	$egin{array}{ccc} &  ext{sed pens} \ &  ext{nent} &  ext{R} \end{array}$	sions to  ailways	widows Super-	15,000 3,500	
		Cost-of-livi Superam and child Allowance annuatio Statutes Departmen	ing bonunuation dren to ann on Fund Amend atal build	Fund, and the control of the control	nd increa  Governi vided for t, 1936	sed pens ment R r in sec	sions to ailways tion 27	widows Super- of the	:	
		Cost-of-livi Superam and child Allowance annuatio Statutes Departmen Wages o	ing bonunuation dren to anron Fund Amend tal build freeseen	Fund, and the control of the control	nd increa Governi vided for t, 1936 nners, and	sed pens ment R r in sec d night-	sions to ailways tion 27	super- of the	:	
		Cost-of-livi Superam and child Allowance annuatic Statutes Departmen Wages of	ing bonunuation Iren to anr on Fund Amend Atal build f messen	Fund, and the second se	nd increa Governi vided for t, 1936 nners, and	sed pens ment R r in sec d night-	sions to ailways tion 27 watch-	super- of the  £ 10,500	:	
		Cost-of-livi Superam and child Allowance annuatio Statutes Departmen Wages of men Furnitur	ng boninuation Iren to anr to Amend Amend tal build f messen re and fir	Fund, an nuitants, , as pro ment Ac dings— agers, clea ttings	nd increa Governi vided for t, 1936	sed pens ment R r in sec d night-	sions to ailways tion 27 watch	## widows     Super- of the     £   10,500   3,000	:	
		Cost-of-livi Superam and child Allowance annuatic Statutes Departmen Wages of men Furnitur Maintens	ng bonunuation dren to anr fund Amendatal build finessen	Fund, and the second se	nd increa Governi vided for t, 1936 nners, and	sed pens ment R r in sec d night-	sions to ailways tion 27 watch	super- of the  £ 10,500	:	
		Cost-of-livi Superam and child Allowance annuatic Statutes Departmen Wages of men Furnitur Maintens Water, li	ing bonunuation dren to anron Fund Amendatal build messen ce and firance of light, and	Fund, an nuitants, l, as pro ment Ac dings— agers, clea ttings buildings	nd increa Governi vided for tt, 1936 nners, and	sed pens ment R r in sec d night-	sions to ailways tion 27 watch	### widows Super- of the ### 10,500   3,000   5,000   5,000   5,000	:	
		Cost-of-livi Superamand child Allowance annuatio Statutes Departmen Wages of men Furnitur Maintena Water, li Postages Less [	ing bonunuation dren to anron Fund Amend hall build free and firance of light, and and free provided	Fund, an nuitants, l, as pro ment Ac dings— ngers, clea ttings buildings d power ight on h for unde	nd increa Governi vided for t, 1936 aampers er the va	sed pens ment R r in sec d night-	sions to ailways tion 27 watch £ 3,000	### widows Super- of the   ### 10,500   ### 3,000   ## 5,000   ### 5,0	:	
		Cost-of-livi Superamand child Allowance annuatio Statutes Departmen Wages of men Furnitur Maintena Water, li Postages Less [	ing bonunuation dren to anron Fund Amend hall build for messen and fire and free and	Fund, an nuitants, l, as pro ment Ac dings— ngers, clea ttings buildings d power ight on h	nd increa Governi vided for t, 1936 aampers er the va	sed pens ment R r in sec d night-	sions to ailways tion 27 watch £ 3,000 2,250	### widows Super- of the ### 10,500   3,000   5,000   5,000   5,000	:	
		Cost-of-livi Superamand child Allowance annuatio Statutes Departmen Wages of men Furnitur Maintena Water, li Postages Less [	ing bonunuation dren to anron Fund Amend hall build free and firance of light, and and free provided	Fund, an nuitants, l, as pro ment Ac dings— ngers, clea ttings buildings d power ight on h for unde	nd increa Governi vided for t, 1936	sed pens ment R r in sec d night-	sions to ailways tion 27 watch £ 3,000	### widows Super- of the   ### 10,500   ### 3,000   ## 5,000   ### 5,0	:	

	1		!	
Number of Persons.	Item		1938–39.	
938–39,		VOTE No. 55.—WORKING RAILWAYS—continued.		
<i>.</i>	1	GENERAL CHARGES—continued.	£	£
		Miscellaneous General Charges—continued.		
		Fee to Chairman of Railways Appeal Board Government Railways Superannuation Fund contribut Grants to members of the Railways Department travell		
		abroad on official business	1,500	
		of leave in terms of regulations Grants to widows or dependants equivalent to leave due		
		deceased officers Printing Staff Instruction-books Railway Magazine: Printing and publication (credits, £5 Refunds of revenue, ex gratia payments	$\begin{array}{c c} \cdot \cdot \\ \cdot \cdot \\ 00 \\ \cdot \cdot \\ \cdot \end{array} \begin{array}{c c} 500 \\ 3,000 \\ 1,300 \\ 100 \\ \end{array}$	
		Less amounts provided under the various sections	224,651 49,951	
			174,700	
	:	Gross Total, General Charges	245,779	
		Estimated credits-in-aid under Section 51 of the Pul Revenues Act, 1926 (see end of vote)	olic 2,000	
		Net Total, General Charges	243,779	
	2	Branch Expenditure	And on the Marie Born Woman on Landau and annual and annual and annual a	
		Working-expenses of Sections—		
	The state of the s	Including salaries and wages; allowances to members regulations made under the Government Railways A 1926; medical fees; general repairs and miscellance services; supplies of stores, provisions, stationery, wat and material; advertising; compensation for accider personal injuries received, loss of property by fire, dame to or loss of goods; freights on goods lost or destroye postages, telegrams, telephones, maintenance of wire payments under the Workers' Compensation Acts; parents in connection with works outside railway boundar in which Department has beneficial interest; compusionate allowances; allowances to members on trans in excess of the regulations; allowances to employ for use of own motor-cars or motor-cycles for travell on the business of the Department; also contingent and all other unforeseen expenditure incidental to other items of the vote—	ct.  bus ber, tts, tge d; es; ty- ties as- fer ees ting ties	
		Maintenance Branch-	į	
		General Expenses: Salaries.	9	
		Chief Engineer	£ 200 025 850	
		Other salaries	$\frac{3,825}{6,200}$	

~				i	
Numbe <b>r</b> of Persons.	Item			1938	3-39.
1938-39.	<u> </u>	VOTE No. 55.—WORKING RAILWAYS contin	nued.		
(300-03.	2	Branch Expenditure—continued.		£	£
		${\bf Working\text{-}expenses\ of\ Sections} continued.$		İ	
		Maintenance Branch—continued.			
	į	General Expenses: Salaries—continued.	£	ļ	i
	<u> </u>	Salaries of casual clerks, draughtsmen, and typists Head Office building, expenses of Lighting and miscellaneous Stationery and supplies Telephone subscriptions	1,843 2,000 825 400 75		
		Telephone subscriptions Travelling expenses and allowances Contingencies	400 50	5,593	İ
		Less transfers to other sections		15,618 4,000	**,
		Maintenance of Way and Works-		11,618	
		Salaries—			
		District Engineers: 5 at £800 (9 months), 6 (8 months)	at £800	$\frac{1}{1}$ 4,200	
		South Island Main Line and Branches	$ \begin{array}{c} £ \\ 13,526 \\ 11,426 \\ 726,172 \\ 578,434 \\ 44,477 \end{array} $		
		Westport	16,676 9,458 12,845	1,368,527	1
	!	Gross Total, Maintenance of Way and Works	٠.	1,384,355	:
	! ;	Estimated credits-in-aid under Section 51 of th Revenues Act, 1926 (see end of vote)	e Public	2,000	!
		Net Total, Maintenance Branch		1,382,355	
		Signals and Electrical Branch—			
		General Expenses: Salaries.			
	i	Signal and Electrical Engineer Other salaries	• • • • • • • • • • • • • • • • • • • •	975 9,845	j
			£	10,820	1
		Salaries of casual staff  Head Office building, expenses of Stationery and supplies  Travelling-expenses  Contingencies	2,015 800 900 800 50		
	· I	U		4,565	İ
		Less transfers to other section:		15,385 6,450	- ! !
				8,935	

# Appropriations for Working Railways Account. WORKING RAILWAYS ACCOUNT—continued.

Number of Persons.	Item	VOTE No. 55.—WORKING RAILW.	1938–	3 <b>9.</b>		
1938–39.	2	Branch Expenditure—continued.			£	
		Working-expenses of Sections—continued.			2	
		Signals and Electrical Branch—continued	<i>!</i> .			
		Maintenance of Signals and Electrical Ap				
	!	Section—	r	£		
	:	Kaihu		. 30		
		Gisborne		. 86 . 104,031	:	
	i	South Island Main Line and Branches		. 78,881		
		$egin{array}{ccccc}  ext{Westport} & \dots & \dots & \dots & \dots & \dots & \dots & \dots & \dots & \dots & $		. 758 . 102		
		Picton		. 91	!	
		Gross Total, Maintenance of Sig	mals and	Electrical	183,979	
		Appliances			192,914	
		Estimated credits-in-aid under Sect	tion 51 of	the Public	1	
		Revenues Act, 1926 (see end of			200	
		Net Total, Maintenance of Sig	mals and	Electrical		
		Appliances			192,714	
		Locomotive Branch—				
		General Expenses: Salara	ies.	£		
		Superintendent of Workshops		. 1,075	;	
		Locomotive Superintendent		. 1,075	2,150	
		Other salaries			22,850	
					25,000	
		Salaries of casual staff		. 4,300		
		Head Office building, expenses of Stationery, supplies, and miscellaneous		$\begin{array}{ccc} . & 2,140 \\ . & 2,660 \end{array}$		
		Telephone subscriptions		. 150		
		Travelling allowances and expenses Contingencies		. 1,650		
					10,950	
		Transfers from other sections	• • •	•	2,200	
		T , C , 11 , 1			38,150	
		Less transfers to other sections		•	21,750	
		W 1:			16,400	
		Working-expenses of Sections—				
		Maintenance of Rolling-stock—				
		Section—		£		
		Kaihu Gisborne		. 718		
		North Island Main Line and Branche		3,777 $1,167,937$		
		South Island Main Line and Branche	es .	. 713,462		
		$egin{array}{ccccc}  ext{Westport} & \dots & \dots & \dots & \dots & \dots & \dots & \dots & \dots & \dots & $		20,034 $2,399$		
		Picton	• •	5,508	1 010 001	
					1,913,835	
		Gross Total, Maintenance of Rol	lling-stock		1,930,235	
		Estimated credits-in-aid under Sec	tion 51 of	the Public		
		Revenues Act, 1926 (see end c			1,000	
	1	Net Total, Maintenance of Rollin	na stualz		1,929,235	

Number of Persons.	Item	VOTE No. 55.—WORKING	RAIL	WAYS-c	ontin	ued.	1938-	-3 <b>9.</b>
938-39.	2	Branch Expenditure—continue					£	£
		Locomotive Transportation—						
		Salaries—						
				/O 200 0 == 4.1	9	~4 COOO		
		Locomotive Engineers: $2 \epsilon$ (3 months)		(9 monti	ıs), ə 	at £000	1,800	
		Section—				£		
		Kaihu Gisborne	• •		• •	$1,700 \\ 8,760$		
		North Island Main Line and				204,370		
		South Island Main Line and	Branc			598,510		
		$egin{array}{lll}  ext{Westport} & \dots & \dots & \dots \\  ext{Nelson} & \dots & \dots & \dots \end{array}$			• •	12,110 $4,480$		
		Picton				7,130		
		Allowance to drivers and fire	men ei	nployed o	on R	imutaka	1,837,060	
		Incline Transfers from other sections	• •		• •		9,000	
		Gross Total, Locomotiv		•		. D1.11.	1,847,910	
		Estimated credits-in-aid t Revenues Act, 1926 (			oi th	e Public	500	
		Net Total, Locomotive	Transp	ortation	• •		1,847,410	
		Traffic Branch—						
		General Expense	s: Sai	laries.				
		Transportation Superintenden					1,000	
		Commercial Manager Other salaries	• •		• •	• • •	$\begin{array}{c c} 850 \\ 7,403 \end{array}$	
							9,253	
		Soloring of copyel stoff				£ 1,792		
		Salaries of casual staff Printing and advertising				19,330	:	
		Stores, stationery, and supplie		• •		2,094		
		Travelling allowances and exp				750		
		Water, light, and power Contingencies		• •	• •	100 50		
		Contingencies	• •	• •	• •		24,116	
		Transfers from other sections	• •	• •	• •	• •	14,488	
		Working-expenses of Sections—					47,857	
		Traffic Transportation Expenses-						
		Salaries—						
		District Traffic Managers: £800 (3 months)	5 at :	£800 (9 n	nonth	.s), 6 at	4,200	
;		Section—				£		
				• •	• •	1,725		
İ			 Brana	hou		5,137 $199,051$		
i	i	North Island Main Line and South Island Main Line and				916,146	i	
		Westport	•••		• •	25,281	ĺ	
		Nelson				4,810		
		Picton				12,795		

Number of Persons.	Item	VOTE No. 55,—WORKING RAILWAYS—continued.	1938	-39.
938–39.	<u> </u>	TOTAL TOTAL		
	2	Branch Expenditure—continued.	£	£
		Working-expenses of Sections—continued.		
		${\it Traffic\ Transportation\ Expenses}{\it} {\it continued.}$		
		Allowances to guards employed on Rimutaka Incline Claims on single packages in excess of amount limited by statute	50 200	
			2,217,252	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)	4,000	
		Net Total, Traffic Transportation	2,213,252	
		Net Total, Railway Operating	7,808,745	
	3	Subsidiary Services—		
		Lake Wakatipu Steamers—		
		Salaries, wages, and expenses	10,831	
		Refreshment Service—		
		Controller, Refreshment Branch Salaries Wages, stores, provisions, and contingencies	800 5,450 148,148	
			154,398	
		Bookstalls, Departmental—		
		Wages, supplies, and contingencies	81,297	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)	100	
		Advertising Service—	81,197	
		Salaries	5.750 30,470	
			36,220	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)	100	
			36,120	

of Persons.	NOME N. C. WODKING DATIWAYS 7	1938-	-39.
938-39.	VOTE No. 55,—WORKING RAILWAYS—continued.		
3	Subsidiary Services—continued.	£	£
	Departmental Dwellings—		
	Maintenance, repairs, and renewals	189,180	
	Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)	500	
		188,680	
	Buildings occupied by refreshment service, bookstall pro- prietors, &c.—		
	Maintenance, repairs, and renewals	14,285	
	Road Services: Passenger— £		
	Maintenance and operation	291,951	
	Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)	3,000	
	101011111711111111111111111111111111111		
	Dec Coming Carl	288,951	
	Road Services: Goods— £  Maintenance and operation		
	Heavy-traffic and other license fees 5,000	115,000	
	Net Total, Subsidiary Services	889,462	
	Net Total—General Charges, Working-expenses, and Subsidiary Services	8,698,207	
	Renewals, Depreciation, Insurance, and Equalization Accounts—		
	Less amount of contributions charged to accounts for renewals, depreciation, insurance, and equalization of expenditure, disbursements in respect of which are included in other sections, and internal adjust-		
		1,232,610	
		7,465,597	
	Renewals and Depreciation Account—  Amount required for renewal of permanent-way, bridges, buildings, structures, dwellings, sig- nalling, and electrical appliances, overhead lines, locomotives and rolling-stock, workshop and depot machinery and equipment, road motor-vehicles, and other assets and equip- ment—  Permanent-way		
	Workshops and depot equipment		

Number of Persons.	Item		1938-	-39.
938-39.		VOTE No. 55.—WORKING RAILWAYS—continued.	<u>-</u> -	
######################################	3	Insurance and Equalization Account—	£	£
		Disbursements on account of property destroyed or damaged by fire or accident, upkeep of fire brigades, workers' com- pensation for accidents, slips, floods, and accidents, &c.	121,000	
			819,499	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)	3,000	
		Stores Branch—	816,499	
		Comptroller of Stores: One at £950 (5 months),  1 at £900 (10 months) 1,146  Purchase of stores and material and store expenses, including salaries, wages, cartage, freights, proportion of cost of High Commissioner's Office, miscellaneous services, workers' compensation for accidents, and contingencies	550,000	
		Mamaku Sawmill	15,320	
		Total, Stores Branch	565,320	
	4	Miscellaneous-		
		Advances on account of purchase of houses for employees in connection with workshops reorganization scheme and expenses incidental thereto	100	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote) £200		
		Payments on account of Railway Sick Benefit Fund	30,000	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)£27,000		
,		Payment to Internal Affairs Department: Part cost of celebrations in New Zealand, Coronation of His Majesty, King George VI	1,553	

Number of Persons.	Item	VOTE No. 55.—WORKING RA	II.WAYS—	-continue	d.	1938	3–39.
938-39.	4	MISCELLANEOUS—continued.	13771110	00100010000		£	£
		Compassionate grant to widow of C Lyttelton Money stolen by burglars at M Rotorua, and Cambridge Amount required to cover cost of for Government Departments,	orrinsville,  material ai	Claudel  ad work	ands,	86 79	
		parties	··			2,200,000	
		Estimated credits-in-aid under Revenues Act, 1926 (see e					
		Gross Total, Miscellaneous				2,231,818	
		Estimated credits-in-aid under Revenues Act, 1926 (see e			Public 	2,027,200	
		Net Total, Miscellaneous	• •			204,618	
		Gross Total					11,095,63
		Credits-in-aid $(a)$	••				2,043,600
		NET TOTAL—VOTE No.	55		••		9,052,034
	(a) C	redits-in-aid—				19 <b>3</b> 8-39 €	•
		General charges				2,000	)
		Maintenance of way and works				2,000	
		Maintenance of signals, &c				200	
		Maintenance of rolling-stock, &c				1,000	)
		Locomotive transportation				500	)
		Traffic transportation				4,000	)
		Departmental bookstalls				100	)
		Advertising service				100	
		Departmental dwellings				500	
		Road services	• •			3,000	
		Renewals and Depreciation Account				3,000	
		Workshops housing scheme				200	
		Railway Sick Benefit Fund Material, &c., for departmental and ot	 ther accoun	${ m ts}$		27,000 $2,000,000$	
		Total				2,043,600	-

## POST OFFICE ACCOUNT.

						1938-39.			
						Salaries.	Other	Charges.	Total.
Vote No.	56	–Post and Telegraph	Working-ex	penses—		£		£	£
Subdiv	ision	I.—Postal and Tele	aravh Salar	ies	i	2,478,118	}		2,478,118
,,		II.—Conveyance of C	Ocean and $A$	lir Mails			1	37,500	137,500
,,		III.—Conveyance of I				• •		(45,000)	145,000
,,		IV.—Carriage of Ma V.—Maintenance of				* *	1	02,000	102,000
,,		Lines	1. eiegraph ai	и петерис	ne		1 2	259,050	259,050
,,		VI.—Depreciation Fi	ind					275,000	275,000
,,		'II.—Motor Services					1	15,700	115,700
,,	VI	III.—Maintenance of	f Post and	t $Telegra$	$ph \mid$			~0.000	<b>50.000</b>
		$Buildings \ IXMiscellaneous \ S$		• •	• •	• •		$\frac{58,000}{51,638}$	$58,000 \\ 651,638$
,,		IAMiscenaneous B	ervices	• •	•			,000	001,000
	Gros	s Total				2,478,118	1,7	43,888	4,222,006
	CREE	OITS-IN-AID				177,000	1	37,500	314,500
	NET	TOTAL	• •	• •		2,301,118	1,6	06,388	3,907,506
	1							I NAME AND ADDRESS OF THE PARTY	
Number of	Item							198	38-39.
Persons.		VOTE No	56.—POST	AND TI	er.re	GRAPH			
<del>1938–39.</del>	<u> </u>		VORKING-1			OTHER IT	-		
2000								£	£
		Subdivision N	o. I.—Posta	l and Tele	grap	ph Salaries.			İ
	1								
	1	*QATADITIO							
	1	*Salaries-—	Administ	FRATION.			£		
		*Salaries 1 at £1,500	Administ	ERATION.		1	£ ,500		
		1 at £1,500 1 at £1,250	Administ			1	,500 ,250		
		1 at £1,500 1 at £1,250 1 at £1,150				1 1	,500 ,250 ,150		
		1 at £1,500 1 at £1,250 1 at £1,150 2 at £900				1 1 1	,500 ,250 ,150 ,800		
11		1 at £1,500 1 at £1,250 1 at £1,150 2 at £900 3 at £875				1 1 2	,500 ,250 ,150 ,800 2,625		
11		1 at £1,500 1 at £1,250 1 at £1,150 2 at £900				1 1 2	,500 ,250 ,150 ,800	10,72	5
11	· · · · · · · · · · · · · · · · · · ·	1 at £1,500 1 at £1,250 1 at £1,150 2 at £900 3 at £875 3 at £800				1 1 2	,500 ,250 ,150 ,800 2,625	10,72	5
11		1 at £1,500 1 at £1,250 1 at £1,150 2 at £900 3 at £875				1 1 2	,500 ,250 ,150 ,800 2,625	10,728 $2,372$	
	The same of the sa	1 at £1,500 1 at £1,250 1 at £1,150 2 at £900 3 at £875 3 at £800	DISTRICT	Officers.		1 1 2	,500 ,250 ,150 ,800 2,625 2,400	Ť	
		1 at £1,500 1 at £1,250 1 at £1,150 2 at £900 3 at £875 3 at £800		Officers.		1 1 2	,500 ,250 ,150 ,800 2,625 2,400	Ť	
		1 at £1,500 1 at £1,250 1 at £1,150 2 at £900 3 at £875 3 at £800	DISTRICT	Officers.		1	,500 ,250 ,150 ,800 ,625 2,400	Ť	
		1 at £1,500 1 at £1,250 1 at £1,150 2 at £900 3 at £875 3 at £800  Class Special— 4 at £765 8 at £715	DISTRICT	Officers.		1	,500 ,250 ,150 ,800 ,625 ,400 	Ť	
		1 at £1,500	DISTRICT	Officers.		1	,500 ,250 ,150 ,800 ,625 2,400	2,372	2
3		1 at £1,500	DISTRICT O  FIRST D	Officers.		1	,500 ,250 ,150 ,800 ,625 2,400 	·	2
3		1 at £1,500 1 at £1,250 1 at £1,150 2 at £900 3 at £875 3 at £800  Class Special— 4 at £765 8 at £715 7 at £665 Class I— 7 at £615	DISTRICT O  FIRST D	Officers.		1	,500 ,250 ,150 ,800 ,625 ,400  3,060 5,720 ,655 ,305	2,372	2
3		1 at £1,500	DISTRICT O  FIRST D	Officers.		1	,500 ,250 ,150 ,800 ,625 2,400 	2,372 13,438	5
3		1 at £1,500 1 at £1,250 1 at £1,150 2 at £900 3 at £875 3 at £800  Class Special— 4 at £765 8 at £715 7 at £665 Class I— 7 at £615 22 at £565 Class II—	DISTRICT O  FIRST D	Officers.		1	,500 ,250 ,150 ,800 ,625 ,400  3,060 ,720 ,655  3,305 2,430	2,372	5
19		1 at £1,500	DISTRICT O  FIRST D	Officers.		1	,500 ,250 ,150 ,800 ,625 ,400  3,060 5,720 ,655 ,305	2,372 13,438	5
3		1 at £1,500 1 at £1,250 1 at £1,150 2 at £900 3 at £875 3 at £800  Class Special— 4 at £765 8 at £715 7 at £665 Class I— 7 at £615 22 at £565 Class II— 40 at £515 1 at £490 Class III—	DISTRICT O  FIRST D	Officers.		11 12 20 20	,500 ,250 ,150 ,800 ,625 ,400  3,060 ,720 ,655 2,430  0,600 490	2,372 13,438	55
19		1 at £1,500 1 at £1,250 1 at £1,150 2 at £900 3 at £875 3 at £800  Class Special— 4 at £765 8 at £715 7 at £665 Class I— 7 at £615 22 at £565 Class II— 40 at £515 1 at £490	DISTRICT O  FIRST D	Officers.		1 1 1 2 2 4 12 20 37	,500 ,250 ,150 ,800 ,625 ,400  3,060 ,720 ,655 ,305 2,430	2,372 13,438 16,738	55

<sup>\*</sup> For particulars of salaries see "Post and Telegraph Classification List."

Number of Persons.	Item	VOTE No. WORK			TELEG:		-	1938-	-39.
938–39.	Ī							6	
		Subdivision No		ontinued.	Telegraph	Salar	ies	£	£
	1	Salaries—continue		momucu.					
		<b>F</b> re	er Divi	SIONcor	atimued				
		Class IV—			ovorowow.		£		
100		126 at £425		• •			53,550		
199		$73  ext{ at } £400 \ Class V$	• •	• •	• •	• •	29,200	82,750	
		204 at £380					77,520	02,100	
642		438 at £355					155,490	000 010	
		Class VI— 226 at £335					75,710	233,010	
		944 at £320	• •		• •	• •	302,080	į	
1,179		9 at £305					2,745	:	
		Class VII					940 910	380,535	
		1,142 at £305 13 at £295				•	$348,310 \\ 3,835$	ļ	
		182  at  £280			• •		50,960		
		3 at £260	• •		• •		780		
		7 at £255 27 at £230					$\begin{array}{c} 1,785 \\ 6,210 \end{array}$		
		212 at £215					45,580		
		67 at £205					13,735		
		54 at £195 74 at £185	• •	••		• •	$10,530 \\ 13,690$		
		7 at £180		• • •			1,260		
		1 at £175					175		
		73 at £155 97 at £115	• •	• •	• •		11,315 $11,155$		
		62 at £95					5,890		
2,041		20 at £80					1,600	F04 010	
			SECONI	Divisio	ON.			526,810	
			FEMALE	E OFFICEI	3.8				
$^2$		$2 \text{ at } £335 \dots$						670	
9		9 at £315	• •			• •	• •	2,835	
$\frac{1}{11}$		$\begin{array}{cccccccccccccccccccccccccccccccccccc$				• •		$300 \mid 3,245 \mid$	
1		1 at £275 $\dots$						275	
29		29 at £260	• •	• •				7,540	
$\frac{94}{1}$		94 at £230 1 at £205	• •	• •	• •	• • •		$ \begin{array}{c c} 21,620 \\ 205 \end{array} $	
98		98 at £200	• • •	• • •		• • •	••	19,600	
		10 at £180					1 800		
		10 at £180 31 at £170	• • •		• •	• •	$\begin{bmatrix} 1,800 \\ 5,270 \end{bmatrix}$		
		$1 \text{ at } £150 \dots$		••			150		
		2 at £135	• •	• •	• •	• •	270		
		$24 \text{ at } £109 \dots 92 \text{ at } £96 \dots$		• •	• •	• •	$\frac{2,616}{8,832}$		
		$20 \text{ at } £95 \dots$			••		1,900		
0.61		36 at £83	*• •		• •		2,988	!	
261		45 at £70	• •	• •		• •	3,150	26,976	
		Shorthand-w	riters, $T_{ar{c}}$	ypists, an	nd Machin	ists.			:
$\begin{array}{c} 9 \\ 22 \end{array}$		$9 \text{ at } £245 \dots $ $22 \text{ at } £235 \dots$	• •		• •		• •	2,205	
18		$22$ at £235 $\dots$ $18$ at £225 $\dots$			• •		• •	$\begin{bmatrix} 5,170 \\ 4,050 \end{bmatrix}$	
12		$12 \text{ at } £215 \dots$	••	• •				2,580	
16		16 at £205		• •,-	• •	• •	11 905	3,280	
		61 at £195 9 at £185				• •	$\frac{11,895}{1,665}$		
		24 at £165	••	• •	• •	••	3,960		
	I J	37 at £145					5,365	ļ I	

Number of Persons.	Item	VOTE No. 56.—POST AND TELEGRAPH WORKING-EXPENSES—continued.						1938-	-39.
938–39.	1	Subdivision No Salaries—continue Seco	—cо d.	stal and intinued.		Salar	ies	£	£
		Fем	ALE OFF	ICERSco	ntinued.				
	i	Shorthand-write				conti	inued.		
			, s, = g <sub>P</sub>			00440	£	-	
		44 at £125 82 at £105 2 at £95				• •	5,500 $8,610$ $190$		
		2 at £95 44 at £85					3,740		
313		10 at £65					650	 	
			MALE	OFFICERS				41,575	
7		7 at £470	MALE	OFFICERS				3,290	
14		14 at £445						6,230	
15 18		15 at £400 18 at £380	• •	• •	• •	• •	• •	6,000	
$\frac{18}{73}$		18 at £380 73 at £365						$\begin{bmatrix} 6,840 \\ 26,645 \end{bmatrix}$	
106		106 at £335	• •			• • •	• • • • • • • • • • • • • • • • • • • •	35,510	
184	i	184 at £320						58,880	
380		380 at £305	• •	• •	• •	• •	• •	115,900	
		16 at £290		• •			4,640		
		619 at £275					170,225		
	1 1	1,007 at £260 678 at £250			• •		261,820 $169,500$		
		16 at £230					3,680		
		257 at £215	• •				55,255		
		$72  ext{ at } £205 \dots $ $16  ext{ at } £195 \dots$	• •			• •	$14,760 \\ 3,120$		
		16 at £195 71 at £185	• •				13,135	!	
		12 at £180					2,160		
		54 at £175					9,450		
		2 at £165 201 at £155					330 $31,155$		
		642 at £115		• • •			73,830		
4 001		598 at £95					56,810		
4,331		70 at £80	• •	• •	• •	• •	5,600	875,470	
811		811 at £65						52,715	
11 000		New positions,		hists, ca	dets, me	essenge	ers, and	10.000	
11,090		training cadets Salaries of officer		rior to 3	 1st Marcl	h in r	espect of	10,000	
	'	periods during						1,400	
		Less salaries provi Amount unexpe payable for po Amount unexpe	nded ow eriods of	ing to inc less than	crements twelve m	$\begin{array}{c} { m being} \\ { m conths} \end{array}$	£ 37,000	2,670,518	
		without pay; pay	(2) sick	leave on	half or w	ithout 	15,000		
		Amount to be Telephone con to vote "Tel	nstruction egraph E	n works, extension,	to be ch Public	arged			
		Fund " and " Estimated cr	-			 1 of tł	220,000 ———— ne Public	272,000	
		$rac{ ext{Revenue}}{ ext{Post Office}}$	es Act, $19$	26 (see er	nd of vote	e)— nt ex-	£ 150,000		
		$rac{ ext{penses}}{ ext{Recoveries}}$	from oth	ıer Depar	tments	• •	27,000		
							3 <b>5 5</b> 0 0 0		
							177,000		

	Ite <b>m</b>	VOTE No. 56.—POST AND TELEGRAPH	<b>19</b> 38	3-39.
Persons. 1938–39.		WORKING-EXPENSES—continued.		
1990-99.		Subdivision No. I.—Postal and Telegraph Salaries—continued.	$\widetilde{\epsilon}$	£
	1	Salaries—continued.		! !
		Allowances—	* 000	
		Lodging	5,000 5,000	
		Contribution to Railways Department for combined Post- Telegraph-Railway Offices	6,500	
	! !	Married officers: To provide a minimum of salary Non-classified officers, including country postmasters and	3,000	
		telephonists, payable by salary (number, 1,637)	60,000 $100$	ļ Ī
			79,600	! !
		Total—Subdivision No. I		2,478,118
		Subdivision No. II.—Conveyance of Ocean and Air Mails.		
	2	Charges for and incidental to— Overseas Services—		
		North American overland and Atlantic transit—	9, 000	
		Canada	2,000 <b>2</b> ,500	
		Travelling expenses and allowances to officers employed in the Marine Post-office in the Vancouver and San		
		Francisco Services	$\frac{200}{20,000}$	
		Great Britain and other countries, land and sea transit	1,750	
		Payments to shipping companies Subsidy to Empire Air-mail Scheme	20,500 $14,600$	
		Payments for carriage of mails by Empire Air-mail Scheme Subsidy and payments for carriage of mails by Trans-	23,000	
		Tasman Air Service	16,250	
		Payments to other Administrations for carriage of mails by air	8,500	
			109,300	
		Coastal and Inland Air Services—		-
		Payments to shipping companies	$16,000 \\ 12,000$	
		Carriage of mails by inland air services	28,000	-
		Landing, shipping, and miscellaneous	200	
		M . T . G . L	200	197 50
		Total—Subarvision No. 11		137,50
		Subdivision No. III.—Conveyance of Inland Mails.		
	3	Charges for and incidental to—		
		Auekland	18,600	
		Blenheim	$\frac{2,600}{12,200}$	İ
		Dunedin	8,100	: :
	1	Gishorne	5,000	
	1 3	Greymouth	4,100	
	1 1			
		Hamilton	14,900 8,900	

Number of Persons.	Item	VOTE No. 56.—POST AND TELEGRAPH WORKING-EXPENSES—continued.	1938–39.	
938–39.		Subdivision No. III.—Conveyance of Inland Mails—continued.	£	£
	3	CHARGES FOR AND INCIDENTAL TO—continued.		
		Nelson	8,400	
		New Plymouth	5,700	
		Oamaru	3,300	
		TVI	$\frac{10,400}{6,300}$	
		Timaru	6,800	
		Wanganui	8,500	
		Wellington	8,300	
		Westport	900	
		New services, &c. (all districts)	3,400	
		Estimated credits-in-aid under Section 51 of the Public Revenues Λct, 1926 (see end of vote)—		
		Subsidies by Government Departments for £		
		mail services 1,600		
		Subsidies by settlers 900		
		2,500		
		Total—Subdivision No. III		145,000
	4	CHARGES FOR AND INCIDENTAL TO— Carriage of mails by railway— Ordinary mails	85,000 17,000	102,000
	5	Telephone Lines.  CHARGES FOR AND INCIDENTAL TO—  Maintenance of telegraph and toll lines, wireless, and telephone exchange systems, also contingencies and all other unforeseen expenditure incidental to other items of the publication.		
		of the subdivision— Cable repairs, including hire of cable steamer	5,000	
	i	Camp allowances	500	
		Electric power for generators, &c	5,500	
		Extra labour	105,000	
	i l	Material for repairs	160,000	
		Rural telephones (assistance to settlers)  Travelling-expenses of telegraph engineers and linemen	10,000	
		·	286,050	
		Less amount to be expended on telegraph and tele-		
		phone construction works and "Depreciation Fund"	27,000	
		Total—Subdivision No. V		259,05
	1 1	Subdivision No. VI.—Depreciation Fund.		
	6	Charges for and incidental to— Renewal and replacement of, and investment of Depreciation Reserve in, departmental assets	275,000	
	6	Renewal and replacement of, and investment of Deprecia-	275,000	275,00

	Item	VOTE No. 56.—POST AND TELEGRAPH WORKING-EXPENSES—continued.	1938	-39.
1938–39.	<del>,</del>	Subdivision No. VII.—Motor Services and Workshops.	£	£
	7	CHARGES FOR AND INCIDENTAL TO—		
	•	Motor services, &c.—		
		Allowance to officers using their own bicycles, and to		
	!	motor-cycle riders	3,000	
		Purchase of— Motor-vehicles and bicycles	35,000	
	!	Motor accessories	11 000	
	İ	Motor spirits and oils	40,000	
		Registration of vehicles and third-party-risk insurance		
	i	Repairs and hire	F 000	
		Workshops—	0,000	
	:	Material	, , ,	
	İ	Wages of temporary mechanics, &c		
	!	Miscellaneous	3,500	
			160,700	
	İ	Less amount to be expended on telegraph and telephone		
	!	construction works and "Depreciation Fund" .	45,000	
		Total—Subdivision No. VII		115,700
		Subdivision No. VIII.—Maintenance of Post and Telegraph Buildings.	'n	
	8	CHARGES FOR AND INCIDENTAL TO— Maintenance of Post and Telegraph buildings Furniture and fittings—	. 40,000	
		Purchase of	. 15,000	
		Repairs to	9 000	
		Total—Subdivision No. VIII		58,000
		Subdivision No. IX.— Miscellaneous Services.		
	9	Charges for and incidental to—Allowances—		
		Calculation of Savings-bank interest	5,200 1,500	
	1		6,700	
	ļ	Cash deficiencies—		
		Amount lost through forgery of signature to money-order	1	
	:	telegram	$\frac{15}{6}$	
		Amount misappropriated by ex-Postmaster, Waihopo		
	İ	Loss of cash through burglaries at Horotiu, Newmarke Store and Workshops, Paparoa Railway, Runciman	t	
		Silverdale, South Invercargill, Tamahere, Tauakira Tuahiwi, and Waihola	117	
	:	Loss of cash through destruction by fire of post-office		
		premises at Matauri Bay and Te Haroto	1 . 1	
		Loss of remittance from Tawa Flat	1 4	

Number of Persons.	Item	VOTE No. 56.—POST AND TELEGRAPH	1938-	-39.
938-39.	1	WORKING-EXPENSES—continued.		
<i>3</i> 00- <b>3</b> 3.		Subdivision No. IX.—Miscellaneous Services—continued.	£	£
	9	CHARGES FOR AND INCIDENTAL TO—continued.		
	.	Office-management expenses— Advertising, photographs, books, newspapers, and other		
		publications	8,000	
		Audit fees	1,250	
	1	Bank exchange, commission, discount, and stamp duty	50,000	
		Cleaning and scavenging	21,000	
		Cost-of-living bonus to annuitants, Public Service Super- annuation Fund, and increased pensions to widows and	İ	
		children	6,646	
		Customs duties and sales tax	50,000	
		High Commissioner's Office: Clerical work, printing,		
	l i	stationery, postages, bills of lading, rent, &c.	810	
		Home savings-boxes, purchase of	4,000	
		T 1 4 6 1 3 4	$\frac{200}{30,000}$	
		Light, fuel, and water  Mail-bags, purchase and repair of	3,000	
	1	Motor-plates in connection with registration of motor-	5,000	
		vehicles (recoverable)	26,000	
		New Zealand's share of the cost of International Postal	,	
		and Telegraph Bureaux, Berne	1,000	
	i i	Office expenses	14,000	
		Postal receiving-boxes, supply of	100	
	!	Public Service Superannuation Fund contribution	32,276	
		Rent of buildings leased for post and telegraph offices, &c.	10,000	
		Stamps, production of	14,000 65,000	
		Stationery, printing, and binding Temporary exchange attendants	500	
		Temporary officers, postmen, messengers, and Second Division employees	15,000	
		Division omprojecco	10,000	
			352,782	
		Less amount of Customs duty to be expended on		
		material used on telegraph and telephone construc-	;	
		tion works	30,000	
			322,782	
		Overtime and meal allowances	85,000	
		Parcel-post expenses	25,000	
		Proportion of expenses of Radio Research Committee	604	
		Purchase of equipment for aeradio services	45,000	
		Sundry charges— Allowances and travelling-expenses of Advisory Committee, Radio Interference Regulations Compensation for articles lost or damaged during transmission by post and for loss of registered packets during	100	
		transmission by post in excess of amount provided for under Section 25 of Post and Telegraph Act, 1928 Compensation for injuries sustained under the Workers'	400	
		Compensation Act  Exchange and income-tax on superannuation, New Zea-	2,000	
		land's representative on Advisory Committee of Cables		
		and Wireless, Limited	185	
		Ex gratia payment to parents of late W. Flaunty, Radio	100	
	1	Mechanician, Wellington, accidentally killed	100	

	Item	VOTE N	o 56 F	POST AND T	ELEGRAP	н	193	8-39.
Persons. 938–39.				XPENSES—				1
<i>უ</i> ಎಂ <i>ə</i> უ.		$Subdivision\ N$	o. IX.—1	Miscellaneous	Services—ec	ontinued.	£	£
	9	CHARGES FOR A			itinued.			
		Sundry charge of Exchange of	n remitta:	nces abroad		.1 D .1	50,000	
	i I i	of Appea	l	on with Post			1,100	
		$\mathbf{Expenses}$ ovisiting $A$	f H. R Australia f	Hounsell, Sup or the purpos	erintending e of investi	Engineer, gating and	İ	
		studying	field eng	ineering problering	ems concer	ming com-	100	
		Grants to w	$^{ m vidows}$ and	d dependants	of officers	(deceased),	500	
		Gratuities t	o non-clas	due ssified officers as postmaste	in recognit	ion of long	100	į
		Payment of	accident e	expenses, &c.,	not provide	d for under		İ
		Pensions De		: Grants to r			1,000	
		superanno	nation allo	owances up to	£52 per anı	num	200	
		Travelling-exp	oenses. &c				55,785	  :
		Inspection of	of offices				6,000 2,200	
				st-offices allov 			$\frac{2,200}{3,500}$	!
		Removal ex	penses	 illowances, an			6,000 $7,500$	
. !		Travoling (	a pomoco,	monation, an	or the real v	••	25,200	
		(1)	1 . 1	. 1 1.	1	r	:	
		Typewriters a Typewriter re			es, purenasc	• of	10,000	į
							10,300	- <u>i</u>
		Uniform cloth	ing				19,000	
		Wages of tem	porary en	ployees			56,000	
		Reve Aeradic other Savings Sale of	nues Act, o equipmo o Departm s-bank ma home sav	n-aid under Se 1926 (see end ent purchased ents anagement exp ings-boxes eary employees	of vote)— on behalf censes	£		
						135,000	-	
				$bdivision\ No.$	IX .	•		651,638
			S TOTAL	• •	• •	• • •		[4,222,006]
			OTTS-IN-AU	, ,		•		314,500
	1	NET	TOTAL	VOTE No.	56 .	• •	<u> </u>	3,907,506
	(a) Cr	edits-in-aid—			O/F			
				Salaries. £	Oth Charg £	ges.	1938-39.	
	;	Subdivision I		177,000			177,000	
		" III " IX		• •	$\frac{2,50}{135,00}$		$\frac{2,500}{135,000}$	
		,,	••	177 000				
		Totals	• •	177,000	137,50	JU ===	314,500	

### PUBLIC TRUSTEE'S ACCOUNT.

						1938–39.					
							Salari	es.	Othe	or Charges.	Total.
Vote No. 57.—Public Trust Office—						£			£	£	
Gross Total					291,260		70,018		361,278		
			••	••	••		<b>-</b> 01,			.0,010	301,21
	CRED	ITS-IN-AID	• •	• •	• •	••	••			• •	• •
	NET	TOTAL	••	• •	••		291,	260		70,018	361,278
Number of Persons.	Item	Chargeable on the Public Trustee's Accoun				Account.		1938-39.		-39.	
938-39.		VO	TE No.	57.—PU	BLIC T	RUST (	FFICE.				4 24 14 14 14 14 14 14 14 14 14 14 14 14 14
	1	*Salaries-								£	£
		DADAMIES		Unci	ASSIFIED						
		1 . 61	500 ( <b>D</b> 13	ır m	`			£	,,		
3			500 (Publ 100 (Assis			toos)		$\frac{1,50}{2,20}$			
0		21 66 221,	100 (Assir	SUATED I. G.	one itus	icony	• •	المكوامك		3,700	
		cu To			NAL DIV	ISION.					
		$Class\ P, \ 1\ { m at}\ {\mathfrak L}$	, <i>Special</i> —					90	, n		
		1 at £		• • •	• •		• •	80			
		2 at £						1,53	- 1		
		1 at £						71			
7		2 at £	665	• •	• •	• •	• •	1,33	80	5,275	
	İ	$Class\ P,$	<i>I</i> —							0,410	
		2 at £						1,23	30 ¦		
		2 at £		• •		• •		1,18			
7		3 at £	540	• •	4 7			1,62	100	4 020	
		$Class\ P,$	11							4,030	
3		3 at £								1,470	
										,	
	İ	Class P,						0.4	^		
7	i	2 at £ 5 at £		• •	• •	• •	• •	$94 \\ 2,22$			
•		Janu	110	• •	• •	• •	• •			3,165	
		Class $P$ ,									
		$2 \text{ at } \mathfrak{L}$			05 (1		. ••	85			
4		1 at £ 1 at £	400 (8 mo	·	25 (4 mo	nths)	• •	40 40			
4		1 at 2	+00	* *	• •	, .	• •	-10		1,658	
i		$Class\ P,$	<i>V</i> —						İ	-,	
		1 at £						38			
<b>2</b>		1 at £	355	• •	• •	• •	• •	35	5	735	
				CLERIC	CAL DIVI	SION.			i	199	
		$Class\ Sp$									
		3 at £	900					2,700			
		1 at £8		• •	• •	• •		868			
		4 at £8		• •	• •	• •	• •	3,40			
		1 at £8 7 at £3		• •	• •	• •	• •	8000 $5,358$			
		1 at £			• •	• •		718			
36		19 at 4		• •				12,638			
- "										26,470	

<sup>\*</sup> For particulars of salaries see "Public Service Classification List."

# $Appropriations \ for \ Public \ Trustee's \ Account.$

### PUBLIC TRUSTEE'S ACCOUNT—continued.

Number of Persons.	Item	VOTE No. 57.—	1938–39.						
938–39.	1	Salaries—continue		£	£				
		CTER	ical Div	TOTON 6	ontinued				
		Class I—	ICAL DIV	isiON0	omeneucu.		£	1	
		7 at £615					4,305		
		2 at £590			• •		1,180		
25		13 at £565 3 at £540	• •		• •		$egin{array}{c c} 7,345 &   \ 1,620 &   \end{array}$		
40		5 at £940		• •	• •	• •		14,450	
		$Class\ II$ —					j		
		28 at £515			.1.		14,420	ļ	
32		1 at £515 (7 mc 3 at £490		•			$\begin{array}{c c} 505 \\ 1,470 \end{array}$	İ	
32		3 at £490	• •	• •	• •	• •	1,110	16,395	
		$Class\ III$							
	!	29 at £470					13,630		
		2 at £470 (8 mg				• -	$\frac{924}{906}$		
61		2 at £470 (4 mc 28 at £445	muns), £9	ні о) сға		.,	12,460		
01		50 at 2110		• •	• •	• •		27,920	
		Class IV—							
		29 at £425		• •	• •	• •	12,325		
31		2 at £400	• •	• •	• •	• •	800	13,125	
		Class V						10,120	
		62  at  £380					23,560		
		1 at £380 (11 n				٠.	378		
	1	2 at £380 (8 me	onths), £3	355 (4 mc	onths)	* 0	744		
	.	1 at £380 (7 me 1 at £380 (3 me					$\frac{369}{361}$		
		4 at £380 (2 me					1,436		
73		2 at £355	• •				710		
								27,558	
		Class VI—	*				09 115		
		69 at £335 2 at £335 (11 n	onths) f	 320 (1 m	onth)		$\begin{array}{c c} 23,115 \\ 667\frac{1}{2} \end{array}$		
		2 at £335 (10 n					$665^{2}$		
		4 at £335 (9 me	onths), £3	$320~(3~{ m m})$	onths)		1,325		
		1 at £335 (8 me	onths), £3	$320~(4~{ m m}_{\odot})$	onths)		330		
		1 at £335 (7 me	onths), £3	320 (5 mc	onths)	• •	329	İ	
		1 at £335 (6 me 1 at £335 (3 me	onths), £5	820 (6 mc	ontus) onthe)	• •	$\frac{327\frac{1}{2}}{324}$		
		7 at £335 (2 me					$2,257\frac{1}{2}$		
		6 at £335 (1 me					$1,927\frac{1}{2}$		
99		5 at £320	••				1,600		
		CI IVII						32,868	
		Class VII— 57 at £305					17,385		
		1 at £305 (11 n	$\frac{1}{1}$	 280 (1 n	nonth)	• •	303		
		1 at £305 (10 n					301		
		1 at £305 (9 mc	onths), £2	$280~(3~{ m m}_{\odot})$	onths)		299		
		3 at £305 (8 mc					890		
		1 at £305 (6 me				• •	$\frac{292^{\frac{1}{2}}}{2000}$		
		1 at £305 (4 mc 6 at £305 (2 mc	onths), £2	280 (8 mc 280 (10 m	ontns)	• •	$\frac{288}{1,705}$		
		6 at £305 (2 mc					$1,692\frac{1}{2}$		
		2 at £280 `				• •	560		
		1 at £280 (9 mc	onths), £2	255 (3 mc	onths)		274		
		1 at £280 (6 me	onths), £2	$255~(6~{ m m}_{\odot})$	$_{ m onths}$ )		$267\frac{1}{2}$		
		2 at £280 (5 mc				• •	531		
		3 at £280 (2 me 1 at £255 (9 me				• •	$\begin{array}{c} 777\frac{1}{2} \\ 249 \end{array}$		
		1 at £255 (3 mc					$\frac{249}{236}$		

## Appropriations for Public Trustee's Account.

## PUBLIC TRUSTEE'S ACCOUNT—continued.

Number of Persons.	Item	VOTE No. 57 DIDITO UDITOR OFFICE	1938	1938-39.		
		VOTE No. 57.—PUBLIC TRUST OFFICE—continued.				
) <del>0</del> 0-00.	1	Salaries—continued.	£	£		
				~		
		CLERICAL DIVISION—continued.				
		Class VII—continued. $\pounds$ 2 at £230 (8 months), £205 (4 months)				
		1 1 6000 /m 11 \( \) 600m /m 11 \( \)				
		1 at £230 (7 months), £205 (5 months) $219\frac{1}{2}$ 1 at £230 (4 months), £205 (8 months) $213\frac{1}{2}$	İ			
		16 at £230 (3 months), £205 (9 months) 3,380				
	İ	7 at £230 (2 months), £205 (10 months) 1,464				
	}	2 at £230 (1 month), £205 (11 months) 414	İ			
		1 at £205 (9 months), £195 (3 months) $202\frac{1}{2}$				
		1 at £205 (5 months), £195 (7 months) 199				
		15 at £205 (2 months), £195 (10 months) 2,950				
	}	4 at £205 (1 month), £195 (11 months) 783½ 3 at £205 (2 months), £180 (10 months) 552½				
		1 at £205 (1 months), £180 (10 months)				
		1 at £205 (3 months), £180 (9 months) $186\frac{1}{2}$				
		3 at £195 (8 months), £185 (4 months) 575				
		2 at £195 (6 months), £185 (6 months) 380	ì			
		1 at £195 (5 months), £185 (7 months) 189	!			
		1 at £195 (4 months), £185 (8 months) $188\frac{1}{2}$	1			
		1 at £195 (3 months), £185 (9 months)				
		10 at £195 (2 months), £185 (10 months) 1,866 \$\frac{7}{3}\$				
		2 at £195 (2 months), £185 (2 months), £155 (8 months)				
		(8 months)				
		2 at £185 (11 months), £175 (1 month) 368½				
		1 at £185 (9 months), £175 (3 months) $182\frac{1}{3}$				
		3 at £185 (8 months), £175 (4 months) 545				
į		1 at £185 (8 months), £155 (3 months), £115				
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$				
		4 at £185 (7 months), £175 (5 months) 723½				
		1 at £185 (4 months), £155 (2 months), £115 (6 months)				
		1 at £185 (3 months), £175 (4 months), £115				
		(5 months) $\dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots$				
		3 at £185 (2 months), £175 (10 months) 530				
İ		1 at £185 (2 months), £175 (6 months), £115	İ			
		(4 months) $156\frac{1}{2}$	İ			
		1 at £185 (2 months), £175 (8 months), £115				
		$(2 \text{ months})$ $166\frac{1}{2}$				
		12 at £185 (1 month), £175 (11 months) 2,110	į.			
i	1	1 at £185 (1 month), £175 (9 months), £115 (2 months)	i			
		1 at £185 (1 month), £175 (3 months), £115				
		(8 months) 136				
	İ	1 at £185 (1 month), £155 (3 months), £115	İ			
		(8 months) 131	1			
		$4 \text{ at } £175 \qquad \dots \qquad \dots \qquad \dots \qquad \dots$				
	İ	1 at £175 (11 months), £165 (1 month) 174	i			
	İ	1 at £175 (11 months), £95 (1 month) $168\frac{1}{2}$				
		1 at £175 (9 months), £165 (3 months) $172\frac{1}{2}$ 1 at £175 (6 months), £115 (6 months) $145$				
		1 1 6177 (6 11 ) 607 (6 11 )				
		1 at £175 (6 months), £95 (6 months)	!			
ļ		$(5 \text{ months})$ $116\frac{1}{2}$				
		1 at £175 (2 months), £115 (4 months), £95				
ļ		(6 months) 115				
		1 at £175 (2 months), £165 (10 months) $166\frac{1}{2}$				
į	ļ	1 at £175 (1 month), £115 (5 months), £95				
	1	(6 months)				
	1	1 at £175 (1 month), £115 (7 months), £95				

# Appropriations for Public Trustee's Account.

# PUBLIC TRUSTEE'S ACCOUNT—continued.

Number of Persons.			<b>19</b> 38–	3 <b>9</b> .
938-39.	VOTE No. 57.—PUBLIC TRUST OFFICE—cont	inued.		
] 1	Salaries—continued.		£	£
	CLERICAL DIVISION—continued.	!		
	Class VII—continued.	£		
	1 at £175 (1 month), £165 (11 months)	166	ĺ	
:	1 at £165 (6 months), £155 (6 months)	160		
i	1 at £155 (6 months), £115 (6 months)	135		
į	1 at £155 (7 months), £115 (5 months) 5 at £155 (2 months), £115 (10 months)	$\frac{138\frac{1}{2}}{6001}$		
İ	9 04 (155 /1	$\frac{608\frac{1}{2}}{355}$		
i	1 at £115	115		
	2 at £115 (10 months), £95 (2 months)	$223\frac{1}{2}$		
	3 at £115 (8 months), £95 (4 months)	$\frac{225}{325}^{2}$		
	4 at £115 (7 months), £95 (5 months)	$426\frac{1}{2}$	:	
İ	14 at £115 (6 months), £95 (6 months)	1,470		
	5 at £115 (5 months), £95 (7 months)	517		
į	6 at £115 (4 months), £95 (8 months)	610		
	2 at £115 (3 months), £95 (9 months)	200		
	4 at £115 (2 months), £95 (10 months)	$393\frac{1}{2}$		
	20 at £115 (1 month), £95 (11 months)	$1,933\frac{1}{2}$		
!	5 at £95	$\begin{array}{c c} 475 \\ 921 \end{array}$		
	1 at £95 (9 months), £80 (3 months)	$91\frac{1}{3}$		
	1 at £95 (8 months), £80 (4 months)	$\frac{912}{90}^{2}$	!	
	1 at £95 (7 months), £80 (5 months)	89	1	
	2 at £95 (6 months), £80 (6 months)	175	İ	
	2 at £95 (4 months), £80 (8 months)	170		
	4 at £95 (3 months), £80 (9 months)	335		
	14 at £95 (2 months), £80 (10 months)	1,155		
	11 at £95 (1 month), £80 (11 months)	894		
	3 at £80	240	!	
l l	1 at £80 (11 months)	$73\frac{1}{2} \\ 66\frac{1}{2}$		
	1 at £80 (2 months)	$13\frac{1}{2}$		
333 +	1 at £80 (1 month)	$6\frac{1}{2}$		
:			60,691	
İ	General Division.	9 160	i	
	1 at £490	$\begin{bmatrix} 2,160 \\ 490 \end{bmatrix}$		
	2 at £445	890	ļ	
	2 at £425	850	ļ	
	2 at £380	760	1	
	1 at £380 (5 months), £355 (7 months)	366		
}	3 at £335	1,005	,	
	1 at £335 (7 months), £320 (5 months)	329		
	3 at £320	960		
	2 at £320 (10 months), £295 (2 months)	$\begin{array}{c c} 615 \\ 307 \end{array}$	!	
	1 1 6990 /5 11 \ 6905 /5 11 \	306		
	1 at £320 (5 months), £295 (7 months)	$\frac{300}{275}$		
	1 at £260	260	1	
	5 at £235	1,175		
ļ	4 at £225	900		
	1 at £215	215		
45	10 at £205	2,050	19 019	
	Lodging-allowances.	WWW. A	13,913	
	1 at £35	35		
	8 at £35 (11 months), £25 (1 month)	$273\frac{1}{2}$		
	5 at £35 (10 months), £25 (2 months)	$166\frac{\tilde{1}}{2}$	!	
	1 at £35 (10 months)	29		
	1 at £35 (8 months), £25 (4 months)	$\frac{31\frac{1}{2}}{20}$		
	1 at £35 (5 months), £25 (7 months)	$29 \perp$	i	

# Appropriations for Public Trustee's Account.

# PUBLIC TRUSTEE'S ACCOUNT—continued.

Number of Persons.	Item	VOTE No. 57.—PUBLIC TRUST OFFIC	CE—cont	inued.	1938-	3 <b>9.</b>
938-39.	1	Salaries—continued.			£	£
	i	CLERICAL DIVISION—continued	l.		Σ.	x
		Lodging-allowances—continu	ed.			
		1 at £35 (4 months), £25 (8 months)		$28\frac{\mathfrak{L}}{2}$	:	
		1 at £35 (3 months), £25 (9 months)		$27\frac{\overline{1}}{2}$	# # # # # # # # # # # # # # # # # # #	
		1 at £35 (1 month)		3		
		$6  ext{ at } \pounds 25$	• •	150		
		8 at £25 (11 months), £10 (1 month)	• •	190		
		1 at £25 (10 months), £10 (2 months)	• •	$\frac{22^1}{2}$	1	
		4 at £25 (8 months), £10 (4 months) 4 at £25 (7 months), £10 (5 months)	• •	$\frac{80}{75}$		
		3 at £25 (6 months), £10 (6 months)		$52\frac{1}{2}$	!	
		1 at £25 (5 months), £10 (7 months)	• • • • • • • • • • • • • • • • • • • •	$16\frac{1}{2}$	!	
		1 at £25 (4 months), £10 (8 months)		15		
		1 at £25 (4 months), £10 (7 months)		$14\frac{1}{2}$	i	
		1 at £25 (2 months), £10 (10 months)		$12\frac{7}{2}$		
		2 at £25 (6 months), £10 (4 months)		$31rac{7}{2}$		
		1 at £25 (9 months), £10 (3 months)		$21\frac{1}{2}$		
		1 at £25 (5 months), £10 (5 months)		$14\frac{1}{2}$	'	
		1 at £25 (5 months) $\dots$ $\dots$ $\dots$	• •	$10\frac{1}{2}$		
		2 at £10	• •	$\frac{20}{0}$		
		1 at £10 (11 months)	• •	$\begin{bmatrix} 9 & 1 \\ 16 & 1 \end{bmatrix}$		
		2 at £10 (10 months)		$8\frac{105}{8}$		
		1 at £10 (8 months)	• • •	$6\frac{2}{5}$		
		1 at £10 (6 months)	• • •	$5^2$		
		1 at £10 (2 months)		$1\frac{1}{2}$		
		1 at £10 (1 month)		1		
		<b>N</b> T			1,398	
		Non-permanents. 1 at £590		590		
		$1 \text{ at } \pounds 515 \dots \dots \dots \dots \dots$		515		
	1	1 at £425 $\dots$ $\dots$ $\dots$ $\dots$		425		
		1 at £400		400		
		$1 \text{ at } £345 \dots \dots \dots \dots \dots$	• •	345	1	
		$1 \text{ at } £335 \dots \dots \dots \dots \dots$	• •	335		
		$1 \text{ at } £320 \dots \dots \dots \dots \dots$	• •	320		
		1 at £310 5 at £305	• •	$\begin{bmatrix} 310 \\ 1,525 \end{bmatrix}$		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		$\begin{array}{c c} 1,325 \\ 295 \end{array}$	i	
		$1 \text{ at } £255 \dots \dots \dots \dots \dots$	• • • • • • • • • • • • • • • • • • • •	255	•	
	'	$1 \text{ at } £250 \dots \dots \dots \dots \dots$		250	İ	
		1 at £245		245		
		1 at £241		241		
		1 at £235		235		
		$3 \text{ at } £225 \dots \dots \dots \dots \dots$	• •	675		
		4 at £215	• •	860		
		26 at £205	• • •	5,330		
	1	23 at £195	• •	$\frac{4,485}{4,255}$		
		23 at £185		180		
		$1 \text{ at } £175 \dots \dots \dots \dots$	• • • • • • • • • • • • • • • • • • • •	175		
		19 at £165		3,135		
		1 at £165 (10 months), £145 (2 months)		$161\frac{1}{2}$		
		17 at £145		2,465		
		1 at £145 (10 months), £125 (2 months)		$141\frac{1}{2}$		
		1 at £145 (10 months)		121		
	1	2 at £145 (8 months), £125 (4 months)	• •	$\frac{276\frac{1}{2}}{1261}$		
		1 at £145 (7 months), £125 (5 months)	• •	$\frac{1361}{2}$		
	1	16 at £125		$\begin{bmatrix} 2,000 \\ 111 \frac{1}{2} \end{bmatrix}$		
				1116	,	

# Appropriations for Public Trustee's Account.

# ${\tt PUBLIC\ TRUSTEE'S\ ACCOUNT--} continued.$

		· · · · · · · · · · · · · · · · · · ·		
Number of	Item		1938	-39.
Persons.		VOTE No. 57.—PUBLIC TRUST OFFICE—continued.		
1938-39.	1	Salaries—continued.	£	£
		Non-permanents—continued.	1	
		1 at £105 (11 months), £85 (1 month) $103\frac{1}{2}$		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		25 at £85		
		1 at £85 (2 months), £65 (10 months) 68		
		1 at £78		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	i	
222	•	1 at £65 (10 months) 54		
	.	West than the "Allander Values."	36,220	
990		Allowances for performing special or higher duties under Public Service Regulations Nos. 24A and 209	219	
		Tuble betwee Regulations 190s. 214 and 200		
		OTHER CHARGES FOR AND INCIDENTAL TO-	291,260	
	2	Additions, improvements, repairs, maintenance, insurance of premises, plant, and motor-vehicles	8,900	
	3	Advertising, photographs, books, newspapers, and other	-	
		publications	4,400	
	5	Audit fees for inspection of accounts	$\frac{850}{4,000}$	
	$\frac{5}{6}$	Compassionate grant to widow of the late A. L. McKeown	±,000	
		(Supervising Estates Clerk, Head Office)	152	
	7	Cost-of-living bonus to annuitants, Public Service Super-		
		annuation Fund, and increased pensions to widows and children	149	
		Department of Internal Affairs on account of—	110	
	8	Wages of custodian, messengers, charwomen, &c	8,200	
	9	Proportion of salaries of officers in High Commissioner's	1 200	
	10	office and proportion of rent	$\frac{1,300}{100}$	
	11	Insurance (accident) of staff	100	
	12	Land-tax	4,600	
	13	Legal expenses	2,200	
	14 15	Membership subscriptions to Chambers of Commerce Overtime and meal allowances	$\begin{array}{c} 10 \\ 150 \end{array}$	
	$\begin{vmatrix} 16 \\ 16 \end{vmatrix}$	Overtime and meal allowances Post and Telegraph Department for services of officers	1,050	
	17	Postage, telegrams, rent of boxes, freight, and cartage	4,500	
	18	Printing and stationery	6,700	
	19	Public Service Superannuation Fund contribution	3,385	
	20	Rates	930	
	21	Rent	2,600	
	22	Section 43, Public Trust Office Amendment Act, 1913:  Amount required to correct distribution in an estate	17	
	23	Stamp duty on receipts and cheques	1,375	
	24	Stores and wages for cleaning, lighting, heating, &c	5,750	
	25	Telephone services (including installation, extensions,		
		maintenance, rent, and calls)	2,100	
	26	Transfer and removal expenses	$\frac{2,400}{4,000}$	
	$\begin{vmatrix} 27 \\ 28 \end{vmatrix}$	Travelling allowances and expenses	4,000	
	40	and sundries	100	
		Gross Total	70,018	361,278
				901,210
		Credits-in-aid	• • •	••
		NET TOTAL—VOTE No. 57		361,278
	<u> </u>			,

# Appropriations for Native Trustee's Account.

#### NATIVE TRUSTEE'S ACCOUNT.

								198	88–39.	
						:	Salaries.	Other	Charges.	Total.
Vote No	. 58.–	-Native Tr	ast Office-				£		£	£
	Gros	s Total					10,140	:	4,560	14,700
	Cred	ITS-IN-AID					• •			
	NET	TOTAL					10,140		4,560	14,700
Number of Persons.	Item	Cha	argeable (	on the N	ative Tr	ustee's A	ceount.		1938	3–39.
1938-39.		V	OTE No.	58.—NA′	TIVE T	RUST O	FFICE.		£	£
		SALARIES-								
	1	Contrib	ution to v	vote " Na	ıtive '' to	wards sa	laries of offi	cers _	10,140	
	$egin{array}{c} 2 \ 3 \ \end{array}$	exper Section	ution to uses of the 11, Fina	vote " le Native ! nce Act,	Native '' Trustee's 1933 :	towards Account Protection	administra n, preservat erties (inclue	ion,	2,060	
		exper	nses incid idvances t	ental to	carrying	g on far	ming busine	ess),	2,500	
			Gross T	Готат.					4,560	14,700
				S-IN-AID	• •	••	••			17,100
	!		OREDITO	TATA TATA						

# Appropriations for Government Insurance Account.

#### GOVERNMENT INSURANCE ACCOUNT.

							1	938–39.	
						Salaries	s. Otl	her Charges.	Total.
Vote No.	59	–Government Insura	nce—		· · · · · · · · · · · · · · · · · ·	£		£	£
	Gros	s Total				41,18	56	254,611	295,767
(	Cred	ITS-IN-AID				20	00	400	600
		TOTAL				40,9	56	254,211	295,167
<u> </u>	1								
Number of Persons.	Item	Chargeable on	the Gove	rnment l	insurance	e Accoun	ıt.	1938	3-39.
938-39.	1	VOTE No. 59	9.—GOVI	ERNMEN	T INSU	JRANCE.		£	£
1	*		DMINISTRA 	TIVE DIV	VISION.			1,150	
		1 at £815	CLERICA	L Divisio	ON.			815	
		Class Special A- 1 at £765						765	
		Class Special B-3 at £715						2,145	
7		$Class\ Special\ C-2\ { m at}\ \pounds 665$				••	• •	1,330	
1		$Class\ I-1$ at £615						615	
		Class II— 1 at £515					£ 515		
$^2$		1 at £490	••	• •	••	••	490	1,005	
7		Class III— 7 at £470	••		••			3,290	
7		Class IV— 7 at £425	• •	••	• •	••		2,975	
16	:	Class V— 16 at £380					••	6,080	
20		Class VI— 20 at £335		• •				6,700	
		Class VII— 11 at £305 1 at £305 (9 m 1 at £280 1 at £280 (10 n					3,355 299 280 276	İ	

<sup>\*</sup> For particulars of salaries see "Public Service Classification List."

# Appropriations for Government Insurance Account.

# GOVERNMENT INSURANCE ACCOUNT—continued.

Persons.	Item								1938-	39.
38-39.		VOTE No.	59.—GC	VERNM	ENT INS	URANC	E—-conti	inued		
JO-J9.	1	Salaries-	continue	d.					£	£
			<b>~</b> 1	-				1		~
	!		CLER	ical Div	ISION—co	ntinued.		1		
		Class VI.	I—conti	nued.				£		
		$1 \text{ at } \pounds 2$	80 (6 mc	onths), £2	55 (6 mor	ths)		$267\frac{1}{2}$		
	i			onths), £20				209	,	
				onths), £1				$201\frac{1}{2}$		
				onths), £1				200		
	:			onths), £1				199	i	
		1 at £25	05 (4 m)	onths), £1	95 (8 mor	ths)	• •	$\frac{198^{\frac{1}{2}}}{500}$		
				onths), £1 nonths), £			• •	590	*	
				onths), £1				$\begin{array}{c} 194 \\ 189 \end{array}$	:	
				$_{\rm onths}^{\rm onths}, \mathfrak{L}_{\rm onths}^{\rm onths}$				360		
				onths), £1				179		
		1 at £1	$85~(2~{ m m}_{\odot})$	onths), £1	75 (10 mc	nths)		$176\frac{1}{2}$	•	
		1 at £1						175		
				months),		•	, £95		1	
			$\frac{15}{2}$		···			$\frac{115}{100}$		
				onths), £95 onth), £95			• •	$\frac{100}{96\frac{1}{2}}$		
	1		5 (1 moi		-	ль)		$\frac{302}{8}$	!	
		1 at £9				• • •		95		
				onths), £8			• •	94		
				onths), £8				185		
				iths), £80				90		
				iths), £80				89		
				nths), £80			• •	$\frac{165}{21}$		
			9 (1 moi 0	nth), £80	(11 monti	ıs)	• •	$\frac{81}{160}$	Ì	
46			0 0 (11 mc			• •		$73\frac{1}{2}$		
		2 40 50	· (11 111)	)H(H5)	••	••	• •		8,701	
		Cadets'	lodging	-allowanc	es	• •	• •	• •	60	
				GENERAI	. Divisio	N.				
		2 . 600*								
		2 at £205	• •	• •	• •	• •	• •	410		
4		1 at £95 1 at £295	• •	• •	• •	• •	• •	$\begin{array}{c} 95 \\ 295 \end{array}$		
		1 40 2200	• •	• •	• •	• •	• •	<i>∠9</i> ∂	800	
-	1 1								000	
-	1 1			Non-per	MANENTS.					
-										
-		3 at £205						615		
-		6 at £195			• •	• •		$\begin{array}{c c} 615 \\ 1,170 \end{array}$		
-		6 at £195 4 at £185			•••	•••		$\frac{1,170}{740}$		
-		6 at £195 4 at £185 3 at £165		· · · · · · · · · · · · · · · · · · ·				1,170 740 495		
-		6 at £195 4 at £185 3 at £165 2 at £125						1,170 740 495 250		
		6 at £195 4 at £185 3 at £165 2 at £125 4 at £105						1,170 740 495 250 420		
23		6 at £195 4 at £185 3 at £165 2 at £125						1,170 740 495 250	3 775	
		6 at £195 4 at £185 3 at £165 2 at £125 4 at £105		   				1,170 740 495 250 420	3,775	
23		6 at £195 4 at £185 3 at £165 2 at £125 4 at £105 1 at £85 Chief Med	   Lical Off		    porarily p	··· ·· ·· ·· ·· ·· ·· ·· ·· ·· oerformin	     g higher	1,170 740 495 250 420 85	3,775 450	
23		6 at £195 4 at £185 3 at £165 2 at £125 4 at £105 1 at £85 Chief Med Allowand (Public	lical Offes to Off	ficers tem Regulati	ons $24 \mathrm{A}$ a	nd 209)		1,170 740 495 250 420 85  duties		
23		6 at £195 4 at £185 3 at £165 2 at £125 4 at £105 1 at £85 Chief Med Allowand (Public Departme	lical Offes to Off Service	ficers tem Regulati	ons 24A a ffairs on a	nd 209)	 f clerica	1,170 740 495 250 420 85  duties 	450	
23		6 at £195 4 at £185 3 at £165 2 at £125 4 at £105 1 at £85  Chief Med Allowand (Public Department perform	dical Offes to Off Service ent of Inded in O	ficers tem Regulatinternal Auffice of H	ons 24A a ffairs on a igh Comn id under	nd 209) account onissioner, Section 5	f clerica London 1 of the	1,170 740 495 250 420 85  duties 	<b>45</b> 0 <b>5</b> 0	
23		6 at £195 4 at £185 3 at £165 2 at £125 4 at £105 1 at £85  Chief Med Allowand (Public Department perform	dical Offes to Offesto	Regulation ternal American Hereits-in-ares Act, 19	ons 24A a ffairs on a igh Comn id under	nd 209) account onissioner, Section 5	f clerica London 1 of the	1,170 740 495 250 420 85  duties 	<b>45</b> 0 <b>5</b> 0	
23		6 at £195 4 at £185 3 at £165 2 at £125 4 at £105 1 at £85  Chief Med Allowand (Public Department perform	dical Offes to Off Service ent of Inded in O	Regulation ternal American Hereits-in-ares Act, 19	ons 24A a ffairs on a igh Comn id under	nd 209) account onissioner, Section 5	f clerica London 1 of the	1,170 740 495 250 420 85  duties 	<b>45</b> 0 <b>5</b> 0	
23		6 at £195 4 at £185 3 at £165 2 at £125 4 at £105 1 at £85  Chief Med Allowand (Public Department perform	dical Offes to Offesto	Regulation ternal American Hereits-in-ares Act, 19	ons 24A a ffairs on a igh Comn id under	nd 209) account onissioner, Section 5	f clerica London 1 of the	1,170 740 495 250 420 85 duties 	<b>45</b> 0 <b>5</b> 0	

# Appropriations for Government Insurance Account.

# ${\bf GOVERNMENT\ INSURANCE\ ACCOUNT-} {\it continued}.$

	Item		1938	-39.
ersons. 38-39.		VOTE No. 59.—GOVERNMENT INSURANCE—continued.		
oo-oə.			£	£
		OTHER CHARGES FOR AND INCIDENTAL TO—	~	~
	2	Audit fees	325	
	3	Advertising, photographs, books, newspapers, and other		
		publications	3,000	
	$egin{pmatrix} 4 &   \ 5 &   \end{bmatrix}$	Course sain a courte' transcalling armanage	$\frac{150}{50}$	
	$\begin{bmatrix} 6 \end{bmatrix}$	Canvassing agents' travelling-expenses	65,000	
	7	Cost-of-living bonus to annuitants, Public Service Super-	00,000	
	•	annuation Fund, and increased pensions to widows and		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	186	
	8	Expenses of removal to new Head Office premises	500	
	9	Fee for Mr. A. E. Allison's services as member of Govern-		
	1.0	ment Insurance Board	105	
	10	Fees for certificates of death, &c	200	
	$\frac{11}{12}$	Fuel, light, power, and water	1,200	
	14	Grants to officers on retirement equivalent to salary in lieu of leave	50	
	13	Grants to widows and dependants of officers (deceased)	50	
		equivalent to leave due	50	
	14	Insurance premiums	500	
	15	Law-costs	500	
	16	License fees	300	
	17	Medical fees and expenses	3,000	
	18 19	Office cleaning Office furniture, fittings, and requisites	300	
	20	Office premises—Capital expenditure: Land, buildings,	6,000	
	20	alterations, additions, and incidental expenses	150,000	
	21	Overtime and meal allowances	500	
	22	Postage, telegrams, rent of boxes, and freight on parcels	2,000	
	23	Printing and stationery	2,000	
	24	Public Service Superannuation Fund contribution	495	
	25	Rates and other expenses on foreclosed properties	500	
	$\begin{bmatrix} 26 \\ 27 \end{bmatrix}$	Rent	4,500	
	21	Repairs, &c., to buildings	500	
	28	Department of Internal Affairs	5,500	
	29	Post and Telegraph Department	200	
	30	Treasury (Actuarial Branch)	4,000	
	31	Stamp duty	800	
	32	Telephone services (including installations, extensions,		
	99	maintenance, rent, and calls)	700	
	33	Transfer and removal expenses	200	
	$\begin{vmatrix} 34 \\ 35 \end{vmatrix}$	Transfer fees re War Loan Stock Travelling allowances and expenses	50 800	
	99	Travelling allowances and expenses Typewriters and calculating machines—	000	
	36	Purchase of	200	
İ	37	Maintenance of	50	
	38	Valuation fees	150	
	39	Contingencies, including unforeseen expenditure incidental		
		to the other items of the vote	50	
		Estimated credits-in-aid under Section 51 of the Public		
		Revenues Act, 1926 (see end of vote)— £		
		Miscellaneous 400		
			254,611	
		Gross Total		295,76
		Characteristics		^^
		Credits-in-aid	••	60
		NET TOTAL VOTE No. 59		295,16

Appropriations for Public Service Superannuation Fund Account.

#### PUBLIC SERVICE SUPERANNUATION FUND ACCOUNT.

		_						19	38–39.	
							Salaries.	Othe	er Charges.	Total.
Vote No.	. 60.—	Public Servic	e Supera	nnuation	Fund Of	fice	£		£	£
	Gros	s Total					3,155		6,335	9,490
	CRED	ITS-IN-AID	• •						50	50
	NET	TOTAL					3,155		6,285	9,440
Number of Persons.	Item	Chargos	hla an th	o Dublic	Sopriso S	unarent	uation Fun		1938	3–39.
1938–39.		Onargea	oie on ti		count.	ирегани	iuanon Fun	u	e	e
		VOTE No.	60.—PU		ERVICE OFFICE		RANNUAT	ION	£	£
	1	*Salaries-	-							
				CLERICAL	L Divisio	ON.				
1		$egin{array}{c} Class & I- \ 1 &  ext{at } \mathfrak{L} \end{array}$				• •			615	
1		Class IV 1 at £		• •					425	
1		Class V. 1 at £3		••					335	· • •
6		1 at £ 1 at £	305 (6 m 205 185 95 (8 mo	onths), £28 nths), £11		• •		£ 293 205 185 103 160		
		1 at	ng-allowa : £25 (8 r : £35	nces— months), £	10 (4 mo	$_{ m nths}) \ . \ .$		20 70	946	
				Non-pe	RMANENT	rs.				i i
5	-	1 at £19 1 at £18 1 at £15 1 at £85	$5 \dots 5 \dots (2 \text{ mont})$	hs), £65 (1	   .0 month	   s)		125 195 185 155 69	729	
	_			Public Searily perfo			s 24a and 2 ties	09 to	15	
									3,155	-
	1	i							i <del></del>	•

<sup>\*</sup> For particulars of salaries see "Public Service Classification List."

# Appropriations for Public Service Superannuation Fund Account.

#### PUBLIC SERVICE SUPERANNUATION FUND ACCOUNT—continued.

Number of Ite Persons.		1938–	39.
38-39.	VOTE No. 60.—PUBLIC SERVICE SUPERANNUATION FUND OFFICE—continued.	£	£
	OTHER CHARGES FOR AND INCIDENTAL TO-		
2	Audit fees	75	
5	Heating, lighting, and cleaning	100	
4	Legal charges	350	
8	Legal charges	110	
(	Messenger service	50	
1	Office fittings and requisites	50	
8	Overtime and meal allowance	95	
(	Postage, telegrams, and services	250	
10	Post and Telegraph charges	1,100	
1	Printing and stationery	180	
12	Public Trustee's commission	3,500	
1:	Removal expenses new quarters	100	
14	Rent	300	
118	Travelling-expenses	30	
16	Typewriters, addressograph, and other machines (upkeep)	25	
17	Contingencies, including unforeseen expenditure incidental		
	to the other items of the vote	20	
	to the other rems of the vote	20	
!	Estimated credits-in-aid under Section 51 of the Public	!	
	Revenues Act, 1926 (see end of vote)— £		
1	Miscellaneous		
;	miscenaneous		
ĺ		6,335	
	Gross Total	0,000	9,49
	GROSS TOTAL		9,45
	Credits-in-aid	• •	5
	NET TOTAL—VOTE No. 60	!	9,44

#### STATE FIRE INSURANCE ACCOUNT.

							19	938–39.	
						Salaries.	Oth	er Charges.	Total.
Vote No	. 61.–	-State Fire Insura	ince			£		£	£
	Gros	s Total				57,475	5	80,835	138,310
	Cred	ITS-IN-AID				18,800	) ;	220	19,020
	NET	TOTAL				38,675	5	80,615	119,290
Number of Persons.	Item	Chargeable	on the State	Fire I	nsurane	e Account.		1938	3–39.
938-39.		VOTE No	o. 61.—STAT	E FIR	E INS	JRANCE.		!	
	1	*Salaries—						£	£
		,	\ \dministrati	ve Div	ISION.			ļ .	
1		1 General Man	ager at £1,25	60		• •		1,250	
			CLERICAI	. Divisi	ON.				i I
1		1 at £875						875	
3		Class Special 3 at £765	<i>A</i> —					2,295	
1		Class Special 1 at £665	<i>C</i> —					665	
		Class I—					£	İ	
		1 at £615 5 at £590	• •	• •			$615 \\ 2,950$		i
7		1 at £565	• •	• •	• •		565	4,130	i i
1		Class II— 1 at £515						515	
-1		Class III— 4 at £470						1,880	
14		Class IV— 12 at £425 2 at £400				{	5,100 800		
		Class V—				-		5,900	
8		5 at £380 3 at £355	••	••			1,900 1,065	2,965	•
16		Class VI— 46 at £335	••					15,410	

 $<sup>^{\</sup>ast}$  For particulars of salaries see " Public Service Classification List."

# Appropriations for State Fire Insurance Account.

# STATE FIRE INSURANCE ACCOUNT -continued.

of	Item							1938	_30
Persons.	LUCIII	VOTE No. 61.—S	ጥልጥፑር ፑገ	IRE INS	TIR A NCI	Econti	mued	1000	- <i>00</i> .
938-39.	<u> </u>	VOID NO. 01	IAIN EI	ITAN TAN	OLUMENOI	<u> </u>	nacu.		
	1	Salaries—continue	ed.					£	£
		Cier	RICAL DIV	TSTON CO	ntimued				
		Class VII	WICHE DIV	1510100	monacu.		£		
	İ	14 at £305					4.,270		
		2 at £280					560	!	
		2 at £205	• •	• •	• •	• •	410 555		
		3 at £185 4 at £175	• •	• •	• •	• •	700		
		3  at  £155					465	:	
		10 at £115					1,150	i	
:* ()	1	17 at £95	• •		• •	• •	1,615		
59	: !	4 at £80	• •	• •	• •	• •	320	10,045	
			GENERA.	L Divisio	N.			. 10,010	
		1 at £250 $\dots$					250		
		1 at £245	• •		• •		245		
	i	$egin{array}{lll} 1 &  ext{at £225} & \dots \\ 1 &  ext{at £215} & \dots \end{array}$	• •	• •	• •		$\frac{225}{215}$		
		$1 \text{ at } £215 \dots $ $1 \text{ at } £205 \dots$	• •	• •		• •	$\frac{215}{205}$		
6		1 at £195				••	$\frac{1}{195}$		
	1 :							1,335	
59		Salaries of non-p	ermanent	officers	• •	• •	• •	9,700	
210		Allowances to o	officars to	nmorarily	norforn	ing sna	eial or		
210		higher duties						!	
		209						500	
	. !	Allowances to n	narried of	ficers to	$\operatorname{provide}$	a minir	num of		
		salary	• •	• •	• •			10	
		77	311		a	a e a	T) 13:		
		$rac{ ext{Accident}}{24  ext{ of th}}$	es Act, 19	26 (see er Branch ment Acci	nd of vote under S dent Insi	e)— ection	£ 18,800		
		Revenu Accident 24 of th	es Act, 19 Insurance e Governr	26 (see er Branch ment Acci	nd of vote under S dent Insi	e)— ection ırance	£	57,475	
	2 3	Revenu Accident 24 of th	es Act, 19 Insurance ee Governm 08 (see end OR AND I onus to a nd, and in	26 (see er Branch ment Accid of vote)  NCIDENTA nnuitant, acreased 1	nd of vote under S dent Inst — L TO— Public pensions	e)— ection irance  Service	£ 18,800 Super-	57,475 43 50	
		Revenu Accident 24 of th Act, 196  OTHER CHARGES F Cost-of-living be annuation Fun children Fees for unofficia Grant to officers	es Act, 19 Insurance e Governm 08 (see end OR AND I onus to a nd, and in	26 (see er Branch ment Accid of vote)  NCIDENTA nnuitant, acreased I s of Board	nd of vote under S dent Instance  L TO— Public pensions ivalent t	e)— ection irance Service to wido	£ 18,800 Super-ws and	43 50	
	3 4	Revenu Accident 24 of th Act, 196  OTHER CHARGES F Cost-of-living be annuation Fun children Fees for unofficia Grant to officers of leave	es Act, 19 Insurance e Governm 08 (see end  OR AND I onus to a nd, and in Il member on retiren	26 (see er Branch ment Accid of vote)  NCIDENTA nnuitant, acreased I s of Board	nd of vote under S dent Instance  L TO— Public pensions  d ivalent t	e)— ection irance Service to wido	£ 18,800 Super-ws and	43 50	
	3	Revenu Accident 24 of th Act, 196  OTHER CHARGES F Cost-of-living be annuation Fun children Fees for unofficia Grant to officers of leave Lodging-allowane Office premises: alterations, as	es Act, 19 Insurance e Governm 08 (see end or and in cl member on retiren Capital dditions,	26 (see er Branch ment Accid of vote)  NCIDENTA nnuitant, acreased I s of Boarment, equ	d of vote under S dent Instance  L TO— Public pensions ivalent t ure — La	e)— ection urance Service to wido o salary and, bu	£ 18,800 Superws and in lieu ildings,	43 50	
	3 4 5 6	Revenu Accident 24 of th Act, 196  OTHER CHARGES F Cost-of-living be annuation Fun children Fees for unofficia Grant to officers of leave Lodging-allowane Office premises: alterations, ac incidental exp Public Service Su	es Act, 19 Insurance e Governm 08 (see end or and in cl member on retiren Capital dditions, enses uperannua	26 (see er er Branch ment Accid of vote)  NCIDENTA nauitant, acreased properties of Board ment, equivalent cepayment, increased properties of the control of	d of vote under S dent Instruction  L TO—Public pensions  d ivalent t ure — Lant of u d contrib	e)— ection urance Service to wido o salary and, bu nortgage	£ 18,800 Super-ws and in lieu ildings, es, and	43 50	
	3 4 5 6	Revenu Accident 24 of th Act, 196  OTHER CHARGES F Cost-of-living be annuation Fun children Fees for unofficia Grant to officers of leave Lodging-allowane Office premises: alterations, ac incidental exp Public Service St Contingencies, in to the other ite	es Act, 19 Insurance ee Governm 08 (see end on AND I onus to a nd, and ir cl member on retiren Capital dditions, enses uperannua teluding u ems of the	26 (see er er Branch ment Accid of vote)  NCIDENTA nauitant, acreased properties of Board ment, equivalent companyment, acreased properties of Function Function foreseen er vote	L TO— Public pensions  d ivalent t d contrib expendi	e)— ection urance Service to wido o salary and, bu nortgage ution ture inc	£ 18,800  Super- ws and in lieu ildings, es, and cidental	43 50 15 15 15	
	3 4 5 6	Revenu Accident 24 of th Act, 196  OTHER CHARGES F Cost-of-living be annuation Fun children Fees for unofficia Grant to officers of leave Lodging-allowane Office premises: alterations, ac incidental exp Public Service Si Contingencies, in to the other ite	es Act, 19 Insurance ee Governm 08 (see end or and in insurance on retiren insurance ces Capital dditions, enses uperannua ucluding u ems of the redits-in-a es Act, 19	26 (see er er Branch ment Accid of vote)  NCIDENTA nauitant, acreased properties of Board ment, equivalent for Fundament for expendit repayment for Fundament er vote and under	L TO— Public pensions  d ivalent t d contrib expendi	e)— ection urance Service to wido o salary and, bu nortgage ution ture inc	£ 18,800  Super- ws and in lieu ildings, es, and cidental	43 50 15 15 15 80,000 612	
	3 4 5 6	Revenu Accident 24 of th Act, 196  OTHER CHARGES F Cost-of-living be annuation Fun children Fees for unofficia Grant to officers of leave Lodging-allowane Office premises: alterations, ac incidental exp Public Service Si Contingencies, in to the other ite	es Act, 19 Insurance e Governo 08 (see end OR AND I mus to a nd, and ir ll member on retirer Capital dditions, enses enses enserannua teluding u ems of the redits-in-a es Act, 19 ous	26 (see er er Branch ment Accid of vote)  NCIDENTA nauitant, acreased properties of Board ment, equivalent for Fundament for expendit repayment for Fundament er vote and under	L TO— Public pensions  d ivalent t d contrib expendi	e)— ection urance Service to wido o salary and, bu nortgage ution ture inc	£ 18,800  Super- ws and  in lieu iddings, es, and cidental e Public £	43 50 15 15 15 80,000 612	138,310
	3 4 5 6	Revenu Accident 24 of th Act, 196  OTHER CHARGES F Cost-of-living be annuation Fur children Fees for unofficia Grant to officers of leave Lodging-allowane Office premises: alterations, as incidental exp Public Service Si Contingencies, in to the other ite  Estimated c: Revenu Miscellane	es Act, 19 Insurance e Governo 08 (see end 08 AND I mus to a nd, and ir cl member on retirer Capital dditions, enses enses enses enserannua teluding u ems of the redits-in-a es Act, 19 ous Готаl	26 (see er er Branch ment Accid of vote)  NCIDENTA nauitant, acreased properties of Board ment, equivalent for Fundament for expendit repayment for Fundament er vote and under	L TO— Public pensions  d ivalent t d contrib expendi	e)— ection urance Service to wido o salary and, bu nortgage ution ture inc	£ 18,800  Super- ws and  in lieu iddings, es, and cidental e Public £	43 50 15 15 15 80,000 612 100	
	3 4 5 6	Revenu Accident 24 of th Act, 196  OTHER CHARGES F Cost-of-living be annuation Fun children Fees for unofficia Grant to officers of leave Lodging-allowane Office premises: alterations, ac incidental exp Public Service Su Contingencies, in to the other ite  Estimated co Revenu Miscellane  Gross CREDITS	es Act, 19 Insurance e Governo 08 (see end 08 AND I mus to a nd, and ir cl member on retirer Capital dditions, enses enses enses enserannua teluding u ems of the redits-in-a es Act, 19 ous Готаl	26 (see er e Branch ment Accid of vote)  NCIDENTA nnuitant, acreased processes of Boarment, equivalent for Fundantoreseen e vote  id under 26 (see er er er er er er er er er er er er e	d of vote under S dent Instance —  L TO— Public pensions ivalent t d contrib expendi Section 5 d of vote	e)— ection urance Service to wido o salary and, bu nortgage ution ture inc	£ 18,800  Super- ws and  in lieu iddings, es, and cidental e Public £	43 50 15 15 15 80,000 612 100	138,310 19,020 119,290

# Appropriations for Government Accident Insurance Account.

#### GOVERNMENT ACCIDENT INSURANCE ACCOUNT.

							1938–39.				
		_	<del></del>				Salaries.	Oth	er Charges.	Total.	
ote No	. 62	-Governmen	t Accide	nt Insurai	nee		£		£	£	
	Gross	TOTAL		• •	• •	•• ;	• •		34,520	34,520	
	Credi	TS-IN-AID						İ	50	50	
	NET	TOTAL	• •				• •		34,470	34,470	
Number of Persons.	Item	Charge	able on		rnment A	Acciden	t Insuranc	e	1938	3–39.	
938-39.		rov	E No.	62.—GOV		NT AC	CIDENT		£	£	
	1	Charges a Allowan higher	ces to o	fficers ter	nporarily	perfor	ming speci	al or	:		
		209							10		
	$\begin{vmatrix} 2 \\ 3 \end{vmatrix}$	Audit fe Commis			• •	• •	• •	• •	75 8,700		
	4	Law-cos			• •			• •	15		
	5 6	Printing	and stat	tionery an ments to	d adverti State Fir	$\sin g$	 under Secti	on 24	500		
	!	of the	Governi	ment Accie					24,500		
	7	Stamp c			• •				100		
	$\begin{vmatrix} 8 \\ 9 \end{vmatrix}$	Third-pa	arty-risk-	-pool expe	nses		• •	• •	$\frac{550}{20}$		
	10	Conting	ng anowa encies ir	inces and	expenses inforeseer	 evnen	diture incid	lental	20	:	
	10			ems of the		···	··		50	: 	
		Est					51 of the H				
		N	nevenu Iiscellane	es Act, 19 eous	(see ei	ia or va	••	£ 50	!		
			Gross	TOTAL						34,520	
		•	CREDITA	S-IN-AID						50	
			MIDD OF	OTAL—V	IOTE M.	. 69				34,47	

# DAIRY INDUSTRY ACCOUNT.

								19	38-39.	
						-	Salaries.	Oth	er Charges.	Total.
Vote No. 63.—Dairy Industry—									£	£
(	Tronc	S TOTAL				!	99 000	)	20. 704	59.70
,	<b>KOS</b> S	S LOTAL	• •		• •	••	33,000	'	20,794	53,794
(	Credi	TS-IN-AID					1,000	)	300	1,300
ו	NET	TOTAL	• •		• •		32,000	)	20,494	52,49
Number of Persons.	Item	-	VODE N	69	DAIDV	ENTELLOR	DW		1938	3–39.
938-39.			VOTE N	0. 63.—	DAIRY 1	INDUST	RY.			1
	1	Salaries-		DMINISTR	ative Di	VISION.			£	£
1		1 at £1,5	600 (Direc	etor)	••	••	••		1,500	
į			CLERIC	AL AND	GENERAL	Division	vs.			
1		Connetor	at 6950						850	
1	1	Shinning	y at £850 g Inspect	) or at £80	0		• • -	::	800	
$\tilde{1}$		Shipping	g Officer a	at £800	•	• • •	• • •	• • •	800	
48		New Zea	land Sec	retarial,		ig, and S	hipping Of	ficers	12,050	
1		Manager	, London	i, at £2,0	00		• •		2,000	
$\frac{1}{a^2}$		Assistan	t Manage	er, Londe	on, at £1,5	00			1,500	
62		London	Manageri	ial, Cleric	eal, and G	eneral St	satt	• •	13,500	
116									33,000	
		Отнев Сн				AL TO-				
	$\frac{2}{2}$		expenses	(Lyttelte	on)	• •	• •		225	
	$\begin{bmatrix} 3 \\ 4 \end{bmatrix}$	Audit fe		··	 , &c., Lon	don.	• •	• •	1,000	
	5	Exchan	mment, g	ittances	to Londo:	aon aon	• •	• •	5,300	
	6				ry Commi		enses of	• •	500	1
	7	Legal ex							500	
	8	Manufac	turers of	special r	nilk produ	icts			3,000	
	9		owance a						50	
İ	10				s, typewi	riters, a		ınical	1 000	
	7.1		nces and		ont of how	••	• •	• •	1,200	
	$\frac{11}{12}$				ent of box s, newspa			• •	1,450 1,100	
	13				s, пеwspa ation Fun		• • •		219	ļ
	14	Rent, cle	eaning. h	eating. &	cc. (part r	$\stackrel{\sim}{\text{ecoverab}}$			3,600	
	15	Shipping	g inspecti			• •	••		100	
	16	Subscrip	tions and	d donatic	ns				100	
	17	Telephor	ne service	es (includ	ling instal	lations, c	extensions,	rent,		
		and c	alls)	••					800	
	18	Travelin	ng allowa	nces and	expenses				1,450	1

# Appropriations for Dairy Industry Account.

# ${\bf DAIRY\ INDUSTRY\ ACCOUNT--} continued.$

Number of Persons.	Item	VOTE No. 63.—DAIRY INDUSTRY—continued.	1938–39.		
1938–39.			£	£	
	19	OTHER CHARGES FOR AND INCIDENTAL TO—continued.  Contingencies, including unforeseen expenditure incidental to other items of the vote	100	-	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)— $\pounds$ Salaries 1,000 Miscellaneous 300			
		1,300	· · · · · · · · · · · · · · · · · · ·		
		Gross Total	20,794	53,794	
		Credits-in-aid	••	1,300	
		NET TOTAL—VOTE No. 63		52,494	

# $Appropriations \ for \ Internal \ Marketing \ Account.$

#### INTERNAL MARKETING ACCOUNT.

						Salaries.	Othe	er Charges.	Total.
Vote No	o. 64.—Internal Ma	rketing -				£		£	£
	GROSS TOTAL					28,675		26,010	54,685
	CREDITS-IN-ALD						!	600	600
	NET TOTAL					28,675		25,410	54,085
	t <sub>e</sub> again								
Number of Persons.	Item VO	ΓΕ <b>Ν</b> ο. 6	4.—INT	ERNAL M	IARF	ETING.		1938	3–39.
1938–39.	1 Salaries—	_						£	£
	1 at £2,0 1 at £81				• •			$\frac{2,000}{815}$	
	1 at £750					• •		750	
	2 at £700	)						1,400	
	1 at £650							650	
	1 at £600			• •				600	
	$\begin{array}{c} 1 \text{ at £518} \\ 1 \text{ at £450} \end{array}$		• •	• •	• •	• •	• •	515 450	
	1 at £429			• •				$\frac{430}{425}$	!
	1 at £410					• •		416	İ
	1 at £410							410	
	1 at £400							400	
	2 at £36							728	
		[ (7 mont	hs)		• •	• •		212	
	1 at £358 1 at £350		• •	• •		• •	• •	355 350	
101			and othe	r staff at £5	 335 ai	nd below £335	· · ·	17,949	
	A 11	(:1	J: o 11	£		f	1	28,425	
				wances for lets' lodging		rmance of spe wances)	eciai 	250	
	i							28,675	
	OTHER CH	ARGES FO	R AND I	NCIDENTAL	то	-			
	2 Audit fee	es					٠.	900	
	3 General of	expenses,	repairs,	&c.		• •	٠.	1,400	
				ıltry Board			'	500 500	
	5 Lighting Motor ex	, heating,	and pov			• •	•••	3,000	
				c., purchas		• •		2,000	
		e and fitt			•••	• •	[	400	
	9 Overtime	e and mea	ıl allowa	nce				50	
				elephones		• •	٠. ا	1,500	
		d machin		ehase of	٠.			5,000	
		and stati		• •		• •	• •	$\frac{1,200}{2,000}$	
	13   Rent and	i rates	• •	• •		1	•• ,	3,000	

# $Appropriations \ for \ Internal \ Marketing \ Account.$

# INTERNAL MARKETING ACCOUNT—continued.

Persons.	Item	VOTE No. 64.—INTERNAL MARKETING—continued.	1938–39.		
1938-39.			£	£	
	i	OTHER CHARGES FOR AND INCIDENTAL TO—continued.		~	
	14	Subsidy to Public Service Superannuation Fund	60 ±		
	15	Travelling allowances and expenses	3,500		
	16	Typewriters and office machines, purchase of	3,000		
		Estimated credits-in-aid under Section 51 of the Public			
		Revenues Act, 1926 (see end of vote)— £			
		Miscellaneous 600			
		miscenaneous			
			26,010		
		Gross Total		54,685	
		Credits-in-aid		600	
		i	· ·		

# BROADCASTING ACCOUNT.

						1938-39.			
		and dear has additive				Salaries.	Othe	r Charges,	Total.
Vote No	. 65.—	-Broadcasting-				£		£	£
Subo	livisio	n I.—Broadcastir	na -		i	56,415		178,738	235,153
2000	000000			• •	••				
	,,	II.—Commercia	l Broadcastin	g	• •	74,096	) : 	80,398	154,488 
	Gross	S TOTAL	• •			130,505	i	259,136	389,641
	CRED	ITS-IN-AID				240		2,910	3,150
	NET	TOTAL				130,265	2	56,226	386,491
AND THE RESIDENCE OF THE PARTY	<u> </u>					-			* * 2
Number of Persons.	Item	Charge	able to the	Broadcas	sting Ac	count.		193	8-39.
938–39.		VOT	E No. 65	-BROAI	DCASTI	NG.	:		
	!	Su	bdivision No.	. I.—Bre	oadcastin	q.		£	£
	1	Salaries—				o .	ļ		
			Administra	TIVE Dr	VISION.				
1		1 at £1,500 (D	rector)					1,500	!
			Profession	NAL DIVI	ISION.				
2		$Class\ II-2 \ { m at}\ \pounds 490$						980	i
1		Class V— 1 at £380						380	
1.		1 40 2000	•••	••	• •	• •	•••	500	
	İ	Class Special-	CLERICAI 	l Divisi	ON.		İ		
1		1 at £1,250	• •					1,250	
		Class I—					£		
0		1 at £615					615		
2		1 at £565	• •	٠.	• •		565	1,180	
	!	$Class\ VI$					1	1,100	1
2		2 at £335					• •	670	I
		Class VII—							
		1 at £305		• •			305		!
		2 at £280	• •	• •			560		
		1 at £205 5 at £180	• •	• •		• •	205		Ì
		5 at £155		• •	• •	• •	900		
		6 at £115	• •	• •	• •	• •	775   690		
23		3 at £95	• •				$\frac{030}{285}$		1
20		5 160 250	• •	• •		• •	200	3,720	1
	20-	В. 7.							

#### BROADCASTING ACCOUNT—continued. Number Item 1938–3**9**. VOTE No. 65.—BROADCASTING—continued. Persons. $\overline{1938-39}$ . Subdivision No. I.—Broadcasting—continued. £ £ Ì Salaries—continued. £ General Division. $1~{\rm at}~\pounds700$ 700 . . . . 1 at £615 615 . . . . 4 at £570 2,280. . . . . . . . . . 3 at £540 1,620 . . . . . . ٠. . . 1 at £490 490 5 at £470 2,350 . . . . . . . . . . 1 at £460 460 . . ٠. . . . . . . 1 at £450 . . 450 2 at £445 890 . . . . . . . . 5 at £425 2,125 ٠. ٠. . . . . ٠. 3 at £400 1,200٠. ٠. . . 2 at £390 780 . . . . . . . . . . 1 at £380 380 . . ٠. ٠. . . 4 at £355 1,420 . . . . . . 1 at £350 350 . . . . . . . . . . 2 at £335 670 . . . . 6 at $\pounds 320$ 1,920 . . . . . . . . 1,2204 at £305 . . . . . . . . 8 at £280 2,240. . ٠. . . ٠. . . 1 at £275 275. . . . . . . . . . 3 at £255 765 1 at £230 230 . . . . . . . . . . 4 at £205 820 . . . . . . . . . . 2 at £180 360 2 at £155 310 . . . . . . . . . . 69 1 at £115 115. . . . . . 25,035Non-permanents. 1 at £900 . . . . 1 at £600 600 . . 1 at £520 520 . . . . . . . . . . 2 at £500 1,000 . . ٠. 3 at $\pounds 355$ 1,065. . . . . . ٠. $1~{\rm at}~\pounds 335$ 335. . . . . . . . . . 2 at £305 610 . . . . . . 5 at £280 1,400 ٠. . . ٠. ٠. . . 1 at £270 270 ٠. . . . . 12 at £255 3,060 ٠. . . 1 at £250 250 . . . . . . . . . . 5 at £234 1,170 ٠. . . . . ٠. 6 at $\pounds 230$ 1,380 . . ٠. . . ٠. 8 at £205 1,640 . . . . . . . . 2 at £195 390 . . 4 at £185 . . . . . . 740 . . 7 at £180 1,260 . . . . . . . . . . 4 at £165 660 12 at £155 1,860. . . . . . . . . . 6 at £145 870 . . ٠. ٠. . . ٠. 1 at £125 125 1 at £115 115 . . . . . . . . . . 6 at £105 630 . . . . . . . . 2 at £95 190 2 at £80 160 96 21,200 197 500 Allowances to officers . . . . Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)— 240 Miscellaneous ... 56,415

#### BROADCASTING ACCOUNT—continued.

Number of Persons.	Ite <b>m</b>	VOTE No. 65.—BROADCASTING—continued.	1938-39.		
1938–39.		Subdivision No. I.—Broadcasting—continued.	£	£	
		Other Charges for and incidental to—	Σ ,	L	
	$^{2}$	Advertising and promotion expenses, photographs, books,			
	!	newspapers, periodicals, and other publications	1,900		
	: 3 <u> </u>	Car, lodging, and sundry allowances	500		
	4.	Commission	5,000		
	5	Contribution to Radio Research Committee	2,618		
	6	Contribution to Public Service Superannuation Fund	573		
	7	Freight, cartage, transport charges, and office and studio	0.500		
	8	cleaning-expenses and decorations	$\frac{2,500}{97}$		
	$\mid \stackrel{\circ}{9} \mid$	Grant to widow of late R. B. Allan Insurance	$\frac{27}{1,400}$		
	10	Insurance	400		
	11	Literary expenses, including costs of contributions and	100		
		illustrations	1,500		
	12	Light, heat, power, and fuel	12,000		
	13	Newsprint stocks and storage charges	10,000		
	14	Office and studio equipment, fittings and requisites,			
	1	including typewriters and mechanical office equipment	5,300		
	15	Overtime and meal allowances	800		
	16	Payments for the operation of stations under contracts	3,500		
	17	Postage, telegrams, rent of boxes, code addresses, &c.	600		
	$\frac{18}{10}$	Printing and stationery, including printing of journal	$6,700 \pm 6,700$		
	$\frac{19}{20}$	Provision for purchase and maintenance of "B" stations Publishing and distribution charges	$5,000 \\ 4,600 \perp$		
	$\pm \frac{20}{21}$	Refund of unexpired portion of radio-license fees	500 +		
	$\frac{21}{22}$	Rent, rates, and water charges	4,500		
	23	Repairs and maintenance of buildings, roads, fences,	1,000		
	1	grounds, office and studio fixtures, fittings, and equipment,			
		&c., and transmitting and technical equipment (including			
	ı	valve replacements)	20,200		
	24	Telephone services, including installations, maintenance,			
	ا م	rent, and calls	$\frac{1,200}{1,200}$		
	25	Travelling and removal allowances and expenses	1,800		
	$\frac{26}{27}$	Transfer to Public Works Fund	$\frac{20,000}{600}$		
	28	Subsidies to "B" stations Capital expenditure on land, buildings, and transmitters	000		
	: 20	and technical equipment	65,000		
	$^{-}29$	Contingencies, including unforeseen expenditure incidental	00,000		
		to the other items of the subdivision	20		
			į		
	i	Estimated credits-in-aid under Section 51 of the Public			
		Revenues Act, 1926 (see end of vote)— $\mathfrak{L}^{-1}$	ļ		
	1	Miscellaneous			
	!	i .	170 700		
	į	Total—Subdivision No. I	178,738	095 159	
	: i .	1 otat—Subativision 100. 1		235,153	
			İ		
	į		İ		
	:	Subdivision No. 11.—Commercial Broadcasting.			
	30	Salaries—			
_	50		[		
1.		1 at £1,500 (Controller)	1,500		
	1	1 at £565 565	i		
		$1 \text{ at } £540 \dots 540$	i		
	i	2 at £540 (9 months), £515 (3 months) 1,067	1		
	i	1 at £540 (7 months), £515 (5 months)	1		
		1 at £540 (2 months), £515 (10 months) 519	ļ		
	-	$2 \text{ at £515} \dots \dots 1,030$			

		BROADCASTING ACCOUNT—continued.		
Number of Persons.	Item	VOTE No. 65.—BROADCASTING—continued.	1938	<b>-39.</b>
938-39.		Subdivision No. II.—Commercial Broadcasting—continued.		
	30	Salaries—continued.	£	Ŧ
		£	İ	
	į I	1 at £515 (9 months), £490 (3 months)		
		2 at £490		
	.	2 at £490 (9 months) 735		•
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	!	
	i	$\begin{array}{cccccccccccccccccccccccccccccccccccc$	1	
	i	1 at £380 (9 months), £335 (3 months)		
		1 at £380 (9 months)		
		1 at £380 (2 months)		
		1 at £365		
		2  at  £355 710	i	
		25 at £335		
	į ļ	1 at £335 (11 months)	!	
		5 at £320 1,600	1	
		1 at £320 (11 months) 293		
	į	1 at £320 (10 months), £295 (2 months) 316		
		2 at £315	1	
		29 at £305		
		1 at £305 (9 months) 229		
		1 at £305 (4 months), £280 (8 months)		
	İ	1 at £305 (1 month)	1	
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	1	
		1 at £285 $\dots$ 285	i	
		1 at £285 (9 months) 214		
		1 at £285 (2 months)		
		$21 \text{ at } £280 \dots 5,880 + 18 \text{ at } £275 \dots 4,950 + \dots 4,950 + \dots 4$	1	
	!	2 at £275 (6 months) 275		
		$3 \text{ at } £260 \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots \dots$		
	İ	1 at £260 (11 months)		
	!	$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
	!	5 at £250 1,250		
		1 at £250 (1 month) 21	İ	
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	i	
	[   	$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		1 at £220 220	ļ	
		1 at £220 (11 months) 202		
	 	$\begin{array}{cccccccccccccccccccccccccccccccccccc$	!	
		1 at £208		
	İj	1 at £190 190	!	
	į	7 at £185	-	
	· · · · · · · · · · · · · · · · · · ·	1 at £185 (11 months), £165 (1 month)		
	!	1 at £185 (10 months), £165 (2 months)	i	
	l .	1 at £185 (7 months), £165 (5 months) 177		
	İ	1 at £185 (5 months), £165 (7 months) 173	İ	
	! : !	2 at £185 (4 months), £165 (8 months)	ļ	
		5 at £180 900	}	
		1 at £180 (3 months), £155 (9 months) 161	İ	
		1 at £180 (2 months) 30	:	
	ı j	14 at £165 2,310 $^{+}$	ı	

# BROADCASTING ACCOUNT—continued.

	1		-	
Number	Itam	1	1938	90
of Persons.	Item	VOTE No. 65.—BROADCASTING—continued.	1990	−o <b>ə.</b>
1938-39.		Subdivision No. II.—Commercial Broadcasting—continued.	.	
	30	Salaries—continued.	£	£
		1 at £165 (11 months)		
	' !	1 at £165 (9 months), £145 (3 months) 160	i	
		2 at £165 (8 months), £145 (4 months)	ļ	
		4 at £165 (7 months), £145 (5 months) 627		
		11 at £155 $1,705$		
	İ	1 at £155 (6 months) $78$	Į.	
	-	$\frac{12 \text{ at £145}}{1200 \text{ at £145}} \dots \dots \frac{1,740}{1200}$	İ	
	i	1 at £145 (9 months)	!	
		1 at £145 (7 months), £125 (5 months)	i	
	į	2 at £145 (6 months), £125 (6 months)		
		1 at £145 (2 months), £125 (10 months)		
	.	1 at £145 (1 month)	į	
		1 at £130	İ	
		5 at £125 625		
		1 at £125 (11 months), £105 (1 month)	Ì	
		3 at £125 (10 months), £105 (2 months) $365$		
	!	1 at £125 (8 months), £105 (4 months)	j	
		1 at £125 (7 months), £105 (5 months)		
		1 at £115		
		1 at £115 (6 months), £95 (6 months)		
		1 at £115 (5 months), £85 (7 months)	1	
		4 at £105	ŀ	
	.	1 at £105 (7 months), £85 (5 months)	1	
	İ	1 at £105 (1 month) 9	!	
	. !	1 at £95 95		
		1 at £95 (10 months), £80 (2 months) 92	ĺ	
	·	1 at £95 (8 months), £80 (4 months) 90		
		1 at £95 (7 months), £80 (5 months)		
		1 at £85 (6 months), £65 (6 months)	'	
		1 at £85 (1 month), £65 (11 months)	1	
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
298	; [	$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		1 00 002 11 11 11 11	71,366	
299		Entertainment allowances (5 at £1 per week, 6 months)	130	
		Allowances to officers performing special or higher duties		
		under Public Service Regulations 24A and 209	20	
		Lodging-allowances	75	
		Provision for payment of arrears of salary	616	
		Salaries of officers on loan	383	
			74,090	
		<u> </u>	11,000	
	i	OTHER CHARGES FOR AND INCIDENTAL TO-		
	31	Advertising, photographs, books, newspapers, periodicals,	ļ	
	i i	and other publications	1,000	
	32	Capital expenditure: Land and buildings, transmitters, and		
	00	technical equipment	18,025	
	33	Cleaning-expenses	1,700	
	$\begin{vmatrix} 34 \\ 35 \end{vmatrix}$	Commission	18,500	
	$\begin{bmatrix} 30 \\ 36 \end{bmatrix}$	Contribution to Public Service Superannuation Fund	$egin{array}{c} 123 \ 250 \end{array}$	
	37	Freights, cartage, and transport charges	950 .	
	38	Legal, Audit, and collection charges	725	
	39	Light, heat, power, and fuel	1,800	
	40	Office and studio equipment, fittings, and requisites	15,850	
	41	Office and studio expenses	500	
	42	Opening-expenses of new stations	50	
	43	Overtime and meal allowances	550	

# ${\bf BROADCASTING\ ACCOUNT--} continued.$

Number of Item Persons.		1938	<b>-39.</b>
	VOTE No. 65.—BROADCASTING—continued.		
938-39.	Subdivision No. II.—Commercial Broadcasting—continued.	£	£
	OTHER CHARGES FOR AND INCIDENTAL TO—continued.	1	
44	Postage, telegrams, rent of boxes, code addresses, &c	1,000	
45	Printing and stationery	2,100	
46	Provision for prizes for and expenses of competitions	250	
47	Rent, rates, and water charges	6,000	
48	Repairs and maintenance of buildings, roads, fences, and	Ź	
İ	office and studio fixtures, fittings, equipment, transmitting		
	and technical equipment (including valve replacements)	5,300	
49	Telephone services (including installations, extensions,		
!	maintenance, rent, and calls)	2,175	
50 ‡	Transfer and removal expenses	500	
51	Travelling allowances and expenses	2,500	
52	Typewriters and mechanical office appliances	375	
53	Typewriter maintenance	75	
54	Contingencies	100	
!	Revenues Act, 1926 (see end of vote)—  Miscellaneous	80,398	154,48
	1 deal Establishment 110. 11		101,10
	Gross Total		389,64
	Credits-in-aid (a) $\dots$ $\dots$ $\dots$ $\dots$	:	3,15
	NET TOTALVOTE No. 65		386,49
(a) Cr	edits-in-aid—		
	$\begin{array}{ccc} & & \text{Other} \\ \text{Salaries.} & \text{Charges.} \\ & & \pounds & & \pounds \end{array}$	1938-39. £	
s	ubdivision I 240 I0	250	
	" II 2,900	2,900	
	Totals 240 2,910	$\frac{-}{3,150}$	
	1,010	$\sigma_{\rm s}$	

# Appropriations for Iron and Steel Industry Account.

#### IRON AND STEEL INDUSTRY ACCOUNT.

					1		19	38-39.	
						Salaries.	Othe	er Charges.	Total.
ote No.	. 66.–	-Iron and Steel Indu	stry –			£		£	£
	Gros	s Total				2,001		40,110	42,111
								,	,
		ITS-IN-AID	• •	• •		••			
	NET	TOTAL		• •	••	2,001	.	40,110	<b>42,11</b> 1
Number of Persons.	Item	Chargeable to th	e Iron a	nd Steel	Industr	y Account		1938	3–39.
938-39.	. !	VOTE No. 66	-IRON .	AND STE	EL IN	DUSTRY.		£	£
	1	Salaries—	CLERICAL	. Drvisioi	٧.				
1		Class VI—						959	
1	1	1 at £335 (9 mc Class VII	ontns)	• •	• •	• •	£	252	
_		1 at £305 (6 mc					153		1
2		1 at £155 (9 mc	onths)	• •		• •	117	270	1
			Non-pe	RMANENTS	•			1	
		2 at £425 (9 mont	hs)				638		İ
		1 at £195 (9 mont	hs)				147		!
7	i	1 at £145 (9 mont 3 at £5 per week				• •	109 585		1
	1	o at the per week	(5 monon	3)	• •			1,479	
10								2,001	·!
		OTHER CHARGES FO			то				· ,
	$\begin{vmatrix} 2 \\ 3 \end{vmatrix}$	Books, publication	ns, maps,			• •	• •	$= \frac{50}{20}$	
	4	Cleaning Fuel, lighting, and	l heating					35	!
	5	Motor-car, purcha					• •	300	
	6	Office furniture at						300	
	7	Postage, telegram	s, rent of	box, &c.				100	
	8	Printing and stati	-	• •	• •			150	
	$\frac{9}{10}$	Rent Survey and prepa	notory w	rlz at And	 Izo Izo	• •	• •	$\frac{245}{38,300}$	
	11	Telephone, tolls		one		• •		50,500	
	12	Transfer of offices						20	
	13	Transfer and rem						50	
	14	Travelling allowa						400	
	15	Typewriters, pure	hase and	maintena	nce of		• .	4()	
	16	Contingencies	• •	• •				50	
		Preliminary e	expenditu	re		• •		40,110	-
		Gross T	'OTAL	• •				i	42,11
		Credits-	-IN-AID			• •			
	1								

Approximate Cost of Paper, -- Preparation, not given; printing (435 copies), £460.

